

BEFORE THE

FLORIDA PUBLIC SERVICE COMMISSION

DOCKET NO. 950495 - WS

APPLICATION FOR A GENERAL RATE INCREASE

VOLUME V-A BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

Containing

WATER AND WASTEWATER
RATES AND RATE DESIGN SCHEDULES

PROJECTED TEST YEAR ENDED 12/31/96
PROJECTED INTERIM YEAR ENDED 12/31/95
HISTORICAL YEAR ENDED 12/31/94

COMPANYI SSU / Audam

07359 AUG-28

SOUTHERN STATES UTILITIES, INC. DOCKET NO. 950495-WS VOLUME V-A, BOOK 1 OF 1 SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH & POLK COUNTIES

E SCHEDULES

TABLE OF CONTENTS

	<u> </u>	<u>PAGE</u>
SUMMARY		
Summan	y of Water Rate Classes - Present and Proposed	1
	y of Wastewater Rate Classes - Present and Proposed	6
	y of Proposed Water Conventional Treatment Rates - 1996	9
	of Proposed Water Reverse Osmosis Treatment Rates - 1996	29
	y of Proposed Wastewater Uniform Rates - 1996	35
	& Rate Comparison at 8,500 Gallons Monthly Use Per Bill, Wtr and Wwtr - Total Company (5/8" Meter)	59
Res. Bill	& Rate Comparison at 10,000 Gallons Monthly Use Per Bill, Wtr and Wwtr - Total Company (5/8" Meter)	
	& Rate Comparison at Monthly Ave. Use Per Bill, Wtr and Wwtr - Total Company (5/8" Meter)	65
PROJECTION	FACTORS (1995 - 1996)	
	on of Projected Water Bills by Plant	69
	on of Projected Water Consumption by Plant	74
	on of Projected Wastewater Bills by Plant	77
	on of Projected Wastewater Consumption by Plant	82
1996 WATER	CONVENTIONAL TREATMENT	
E1-1	Schedule of Water Rates - Summary	85
E1-1	Schedule of Water Rates - Detail	88
E1-2	Billing Determinants	105
E1-3	Water Conservation Program Adjustments	117
E1-4	Summary of Waterate Software Inputs and Outputs	119
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Summary	123
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	128
E-3	Schedule of Water Customer Monthly Billing - Summary	158
E-3	Schedule of Water Customer Monthly Billing - Detail	159
E-4	Schedule of Miscellaneous Service Charges - Summary	179
E-4	Schedule of Miscellaneous Service Charges - Detail	180
E-5	Schedule of Miscellaneous Service Charge Revenues - Summary	199
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	200
E-6	Schedule of Public Fire Hydrants	219
E-7	Schedule of Private Fire Protection Service	223
E -8	Schedule of Contracts and Agreements	224
E-9	Schedule of Tax or Franchise Fees	226
E-10	Service Availability Charges Schedule	227
E-11	Guaranteed Revenues Received	228
E-12	Class A Utility Cost of Service Study (Industrial Customers)	229
E-13	Projected Schedule Year Revenue Calculation	231

SOUTHERN STATES UTILITIES, INC. DOCKET NO. 950495-WS VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

		PAGE
1996 WATER	R REVERSE OSMOSIS TREATMENT	
E1-1	Schedule of Water Rates - Summary	259
E1-1	Schedule of Water Rates - Detail	261
E1-2	Billing Determinants	265
E1-3	Water Conservation Program Adjustments	267
E1-4	Summary of Waterate Software Inputs and Outputs	269
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Summary	273
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	277
E-3	Schedule of Water Customer Monthly Billing - Summary	285
E-3	Schedule of Water Customer Monthly Billing - Detail	286
E-4	Schedule of Miscellaneous Service Charges - Summary	289
E-4	Schedule of Miscellaneous Service Charges - Detail	290
E-5	Schedule of Miscellaneous Service Charge Revenues - Summary	293
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	294
E-6	Schedule of Public Fire Hydrants	297
E-7	Schedule of Private Fire Protection Service	298
E-8	Schedule of Contracts and Agreements	299
E-9	Schedule of Tax or Franchise Fees	300
E-10	Service Availability Charges Schedule	301
E-10	Guaranteed Revenues Received	302
E-12	Class A Utility Cost of Service Study (Industrial Customers)	303
E-13	Projected Schedule Year Revenue Calculation	305
1995 WATER	UNIFORM PLANTS	
E1-1	Schedule of Water Rates	313
E2-1	Schedule of Water Revenue at Present and Proposed Rates	315
E-3	Schedule of Water Customer Monthly Billing	319
E-4	Schedule of Miscellaneous Service Charges	321
E-5	Schedule of Miscellaneous Service Charge Revenues	322
E-6	Schedule of Public Fire Hydrants	323
E-7	Schedule of Private Fire Protection Service	327
E-8	Schedule of Contracts and Agreements	328
E-9	Schedule of Tax or Franchise Fees	329
E-10	Service Availability Charges Schedule	330
E-11	Guaranteed Revenues Received	331
E-12	Class A Utility Cost of Service Study (Industrial Customers)	332
E-13	Projected Schedule Year Revenue Calculation	333
1995 WATER	NON-UNIFORM PLANTS	
E1-1	Schedule of Water Rates - Detail	337
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	349
E-3	Schedule of Water Customer Monthly Billing - Detail	365
F-4	Schedule of Miscellaneous Service Charges - Detail	377

VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

ESCHEDULES

		PAGE
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	389
E-6	Schedule of Public Fire Hydrants	401
E-7	Schedule of Private Fire Protection Service	402
E-8	Schedule of Contracts and Agreements	403
E-9	Schedule of Tax or Franchise Fees	404
E-10	Service Availability Charges Schedule	. 405
E-11	Guaranteed Revenues Received	406
E-12	Class A Utility Cost of Service Study (Industrial Customers)	407
E-13	Projected Schedule Year Revenue Calculation - Detail	409
1995 WATER	R COUNTY PLANTS	
E1-1	Schedule of Water Rates - Detail	423
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	431
E-3	Schedule of Water Customer Monthly Billing - Detail	441
E-4	Schedule of Miscellaneous Service Charges - Detail	449
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	457
E-6	Schedule of Public Fire Hydrants	465
E-7	Schedule of Private Fire Protection Service	466
E-8	Schedule of Contracts and Agreements	467
E-9	Schedule of Tax or Franchise Fees	468
E-10	Service Availability Charges Schedule	469
E-11	Guaranteed Revenues Received	470
E-12	Class A Utility Cost of Service Study (Industrial Customers)	471
E-13	Projected Schedule Year Revenue Calculation - Detail	473
1994 WATER	R UNIFORM PLANTS	
E1-1	Schedule of Water Rates	481
E2-1	Schedule of Water Revenue at Present and Proposed Rates	482
E2-2	Calculation of 1994 Historical Sales Revenues	487
E2-3	Summary of Revenue Reconciliation	491
E-3	Schedule of Water Customer Monthly Billing	495
E-4	Schedule of Miscellaneous Service Charges	497
E-5	Schedule of Miscellaneous Service Charge Revenues	498
E •6	Schedule of Public Fire Hydrants	499
E-7	Schedule of Private Fire Protection Service	503
E-8	Schedule of Contracts and Agreements	504
E-9	Schedule of Tax or Franchise Fees	505
E-10	Service Availability Charges Schedule	506
E-11	Guaranteed Revenues Received	507
E-12	Class A Utility Cost of Service Study (Industrial Customers)	508
E-13	Projected Schedule Year Revenue	509

VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

		<u>PAGE</u>
1004 WATER A	ON-UNIFORM PLANTS	
E1-1	Schedule of Water Rates - Detail	511
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	519
E2-2	Calculation of 1994 Historical Sales Revenues	533
E2-3	Summary of Revenue Reconciliation	545
E-3	Schedule of Water Customer Monthly Billing - Detail	547
E-4	Schedule of Miscellaneous Service Charges - Detail	555
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	563
E-6	Schedule of Public Fire Hydrants	571
E-7	Schedule of Private Fire Protection Service	572
E-8	Schedule of Contracts and Agreements	573
E-9	Schedule of Tax or Franchise Fees	574
E-10	Service Availability Charges Schedule	575
E-11	Guaranteed Revenues Received	576
E-12	Class A Utility Cost of Service Study (Industrial Customers)	577
E-13	Projected Schedule Year Revenue - Detail	578
0	, rejected to real floridital Dotali	
1994 WATER C	OUNTY PLANTS	
E1-1	Schedule of Water Rates - Detail	579
E2-1	Schedule of Water Revenue at Present and Proposed Rates - Detail	587
E2-1.1	Schedule of Monthly Conversion of Bi-monthly Plants	597
E2- 2	Calculation of 1994 Historical Sales Revenues	601
E2-3	Summary of Revenue Reconciliation	609
E-3	Schedule of Water Customer Monthly Billing - Detail	611
E-4	Schedule of Miscellaneous Service Charges - Detail	619
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	627
E-6	Schedule of Public Fire Hydrants	635
E-7	Schedule of Private Fire Protection Service	636
E-8	Schedule of Contracts and Agreements	637
E-9	Schedule of Tax or Franchise Fees	638
E-10	Service Availability Charges Schedule	639
E-11	Guaranteed Revenues Received	640
E-12	Class A Utility Cost of Service Study (Industrial Customers)	641
E-13	Projected Schedule Year Revenue - Detail	642

VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

		PAGE
1996 WASTE	WATER PROPOSED UNIFORM	
E1-1	Schedule of Wastewater Rates - Summary	643
E1-1	Schedule of Wastewater Rates - Detail	648
E1-2	Billing Determinants	667
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates - Summary	675
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates - Detail	681
E-3	Schedule of Wastewater Customer Monthly Billing - Summary	709
E-3	Schedule of Wastewater Customer Monthly Billing - Detail	710
E-4	Schedule of Miscellaneous Service Charges - Summary	723
E-4	Schedule of Miscellaneous Service Charges - Detail	724
E-5	Schedule of Miscellaneous Service Charge Revenues - Summary	737
E-6	Schedule of Public Fire Hydrants	739
E-7	Schedule of Private Fire Protection Service	740
E-8	Schedule of Contracts and Agreements	741
E-9	Schedule of Tax or Franchise Fees	743
E-10	Service Availability Charges Schedule	744
E-11	Guaranteed Revenues Received	745
E-12	Class A Utility Cost of Service Study (Industrial Customers)	746
E-13	Projected Schedule Year Revenue Calculation	747
L-10	1 tojected ochledule car hevertae datoulation	141
1995 WASTE	WATER UNIFORM PLANTS	
E1-1	Schedule of Wastewater Rates	773
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates	775
E-3	Schedule of Wastewater Customer Monthly Billing	779
E-4	Schedule of Miscellaneous Service Charges	781
E-5	Schedule of Miscellaneous Service Charge Revenues	782
E-6	Schedule of Public Fire Hydrants	783
E-7	Schedule of Private Fire Protection Service	784
E-8	Schedule of Contracts and Agreements	785
E-9	Schedule of Tax or Franchise Fees	786
E-10	Service Availability Charges Schedule	787
E-11	Guaranteed Revenues Received	788
E-12	Class A Utility Cost of Service Study (Industrial Customers)	789
E-13	Projected Schedule Year Revenue Calculation	791
1005 WACTE	WATER NON-UNIFORM PLANTS	
		705
E1-1 E2-1	Schedule of Wastewater Rates - Detail Schedule of Wastewater Revenue at Present and Proposed Rates - Detail	795
E-3	•	803
E-3 E-4	Schedule of Wastewater Customer Monthly Billing - Detail	815
	Schedule of Miscellaneous Service Charges - Detail	823
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	831
E-6 E-7	Schedule of Public Fire Hydrants Schedule of Private Fire Protection Service	832 833
□ *1	OCHEGORE OF PRIVATE FRE PROJECTION SERVICE	833

VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

		PAGE
E-8	Schedule of Contracts and Agreements	834
E-9	Schedule of Tax or Franchise Fees	835
E-10	Service Availability Charges Schedule	836
E-11	Guaranteed Revenues Received	837
E-12	Class A Utility Cost of Service Study (Industrial Customers)	838
E-13	Projected Schedule Year Revenue Calculation - Detail	. 839
1995 WASTE	WATER COUNTY PLANTS	
E1-1	Schedule of Wastewater Rates - Detail	851
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates - Detail	855
E-3	Schedule of Wastewater Customer Monthly Billing - Detail	863
E-4	Schedule of Miscellaneous Service Charges - Detail	867
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	871
E-6	Schedule of Public Fire Hydrants	872
E-7	Schedule of Private Fire Protection Service	873
E-8	Schedule of Contracts and Agreements	874
E-9	Schedule of Tax or Franchise Fees	875
E-10	Service Availability Charges Schedule	876
E-11	Guaranteed Revenues Received	877
E-12	Class A Utility Cost of Service Study (Industrial Customers)	878
E-13	Projected Schedule Year Revenue Calculation - Detail	879
1994 WASTE	WATER UNIFORM PLANTS	
E1-1	Schedule of Wastewater Rates	883
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates	885
E2-2	Calculation of 1994 Historical Sales Revenues	889
E2-3	Summary of Revenue Reconciliation	893
E-3	Schedule of Wastewater Customer Monthly Billing	895
E-4	Schedule of Miscellaneous Service Charges	896
E-5	Schedule of Miscellaneous Service Charge Revenues	897
E-6	Schedule of Public Fire Hydrants	898
E-7	Schedule of Private Fire Protection Service	899
E-8	Schedule of Contracts and Agreements	900
E-9	Schedule of Tax or Franchise Fees	901
E-10	Service Availability Charges Schedule	902
E-11	Guaranteed Revenues Received	903
E-12	Class A Utility Cost of Service Study (Industrial Customers)	904
E-13	Projected Schedule Year Revenue	905
1994 WASTE	WATER NON-UNIFORM PLANTS	
E1-1	Schedule of Wastewater Rates - Detail	907
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates - Detail	913
E2-2	Calculation of 1994 Historical Sales Revenues	923

VOLUME V-A, BOOK 1 OF 1

SUPPLEMENTAL MFR INFORMATION REFLECTING INCLUSION OF HERNANDO, HILLSBOROUGH AND POLK COUNTIES

E SCHEDULES

	•	PAGE
E2-3	Summary of Revenue Reconciliation	933
E-3	Schedule of Wastewater Customer Monthly Billing - Detail	935
E-4	Schedule of Miscellaneous Service Charges - Detail	941
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	947
⊱ -6	Schedule of Public Fire Hydrants	948
E-7	Schedule of Private Fire Protection Service	949
E-8	Schedule of Contracts and Agreements	950
E-9	Schedule of Tax or Franchise Fees	951
E-10	Service Availability Charges Schedule	952
E-11	Guaranteed Revenues Received	953
E-12	Class A Utility Cost of Service Study (Industrial Customers)	954
E-13	Projected Schedule Year Revenue - Detail	955
1994 WASTEW	ATER COUNTY PLANTS	
E1-1	Schedule of Wastewater Rates - Detail	957
E2-1	Schedule of Wastewater Revenue at Present and Proposed Rates - Detail	961
E2-1.1	Schedule of Monthly Conversion of Bi-monthly Plants	969
E2-2	Calculation of 1994 Historical Sales Revenues	971
E2-3	Summary of Revenue Reconciliation	977
E-3	Schedule of Wastewater Customer Monthly Billing - Detail	979
E-4	Schedule of Miscellaneous Service Charges - Detail	983
E-5	Schedule of Miscellaneous Service Charge Revenues - Detail	987
E-6	Schedule of Public Fire Hydrants	988
E-7	Schedule of Private Fire Protection Service	989
E-8	Schedule of Contracts and Agreements	990
E-9	Schedule of Tax or Franchise Fees	991
E-10	Service Availability Charges Schedule	992
E-11	Guaranteed Revenues Received	993
E-12	Class A Utility Cost of Service Study (Industrial Customers)	994
E-13	Projected Schedule Year Revenue - Detail	995

Present and Proposed

FPSC

Schedule: Plant Treatment Summary

Page 1 of 5 Preparer: Bencini

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatments

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

/4)	(0)	(0)	,
(1) Line	(2)	(3)	(4)
	Mank Mana		te Classes
No.	Plant Name	Present	Proposed
	Present Total Company Uniform:		
1	Amelia Island	Uniform	Conventional
2	Apache Shores	Uniform	Conventional
3	Apple Valley	Uniform	Conventional
4	Bay Lake Estates	Uniform	Conventional
5	Beacon Hills	Uniform	Conventional
6	Beecher's Point	Uniform	Conventional
7	Burnt Store	Uniform	Reverse Osmosis
8	Carlton Village	Uniform	Conventional
9	Chuluota	Uniform	Conventional
10	Citrus Park	Uniform	Conventional
11	Citrus Springs	Uniform	Conventional
12	Crystal River H.	Uniform	Conventional
13	Daetwyler Shores	Uniform	Conventional
14	Deltona	Uniform	Conventional
15	Dol Ray Manor	Unitorm	Conventional
16	Druid Hills	Uniform	Conventional
17	East Lake Harris Est.	Uniform	Conventional
16	Fern Park	Unitorm	Conventional
19	Fem Terrace	Uniform	Conventional
20	Fisherman's Haven	Unidorm	Conventional
21	Fountains	Uniform	Conventional
22	Fox Run	Uniform	Conventional
23	Friendly Center	Uniform	Conventional
24	Golden Terrace	Uniform	Conventional

Present and Proposed

FPSC

Schedule: Plant Treatment Summary

Page 2 of 5 Preparer: Bencini

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatments

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

(1)	(2)	(3)	(4)
Line		R	ate Classes
No.	Plant Name	Present	Proposed
25	Gospel Island Est.	Uniform	Conventional
26	Grand Terrace	Uniform	Conventional
27	Harmony Homes	Uniform	Conventional
28	Hermits Cove	Uniform	Conventional
29	Hobby Hills	Uniform .	Conventional
30	Holiday Haven	Unitorm	Conventional
31	Holiday Heights	Uniform	Conventional
32	Imperial Mobil Terr.	Uniform	Conventional
33	Intercession City	Uniform	Conventional
34	Interlachen Lake Est. / Park Manor	Unitorm	Conventional
35	Jungle Den	Uniform	Conventional
36	Keystone Heights	Uniform	Conventional
37	Kingswood	Uniform	Conventional
38	Lake Ajay Estates	Unitorm	Conventional
39	Lake Brantley	Unitom	Conventional
40	Lake Corway Park	Uniform	Conventional
41	Lake Harriet Est.	Uniform	Conventional
42	Lakeview Villas	Uniform	Conventional
43	Lellani Heights	Unitorm	Conventional
44	Leisure Lakes	Uniform	Conventional
45	Marco Shores	Unitorm	Conventional
46	Marion Oaks	Uniform	Conventional
47	Meredith Manor	Uniform	Conventional
48	Morningview	Uniform	Conventional

Present and Proposed

FPSC

Schedule: Plant Treatment Summary

Page 3 of 5 Preparer: Bencini

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatments

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

(1)	(2)	(3)	(4)
Line		Re	de Classes
No.	Plant Name	Present	Proposed
49	Oak Forest	Uniform	Conventional
50	Oakwood	Unitom	Conventional
51	Palisades Ctry Club	Uniform	Conventional
52	Palm Port	Uniform	Conventional
53	Palm Terrace	Unilorm	Conventional
54	Palms Mobile Home Pk	Unitom	Conventional
55	Picciola Island	Uniform	Conventional
56	Pine Ridge	Uniform	Conventional
57	Pine Ridge Est	Unilorm	Conventional
58	Piney Woods	Unitom	Conventional
5 9	Point O' Woods	Uniform	Conventional
60	Pomona Park	Uniform	Conventional
61	Postmaster Village	Uniform	Conventional
62	Quail Ridge	Uniform	Conventional
63	River Grove	Uniform	Conventional
64	River Park	Uniform	Conventional
65	Rosemont / Rolling Green	Uniform	Conventional
66	Salt Springs	Uniform	Conventional
67	Samira Villas	Uniform	Conventional
68	Silver Lake Est / W. Shores	Uniform	Conventional
69	Silver Lake Oaks	Uniform	Conventional
70	Skycrest	Uniform	Conventional
71	St. John's H.	Uniform	Conventional
72	Stone Mountain	Uniform	Conventional

Present and Proposed

FPSC

Schedule: Plant Treatment Summary

Page 4 of 5

Preparer: Bencini

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatments

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water (x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

(1)	(2)	(3)	(4)
Line			te Classes
No.	Plant Name	Present	Proposed
73	Sugar Mill	Uniform	Conventional
74	Sugar Mill Woods	Unitorm	Conventional
75	Sunny Hills	Uniform	Conventional
76	Sunshine Parkway	Uniform	Conventional
77	Tropical Park	Uniform	Conventional
78	University Shores	Uniform	Conventional
79	Venetian Village	Uniform	Conventional
80	Welaka / Saratoga Harbour	Uniform	Conventional
81	Westmorn	Uniform	Conventional
82	Windsong	Uniform	Conventional
83	Woodmere	Uniform	Conventional
84	Wootens	Uniform	Conventional
85	Zephyr Shores	Uniform	Conventional
	Present FPSC Jurisdiction Non-Uniform:		
86	Buenaventura Lakes (New Acquisition)	Non-Uniform	Conventional
87	Deep Creek	Non-Uniform	Conventional
88	Enterprise	Non-Uniform	Conventional
89	Geneva Lake Est.	Non-Uniform	Conventional
90	Keystone Club Est.	Non-Uniform	Conventional
91	Lakeside	Non-Uniform	Conventional
92	Lehigh	Non-Uniform	Conventional
93	Marco Island	Non-Uniform	Reverse Osmosis
94	Palm Valley	Non-Unitorm	Conventional
95	Remington Forest	Non-Uniform	Conventional
96	Spring Gardens	Non-Uniform	Conventional
97	Valencia Terrace	Non-Uniform	Conventional

Present and Proposed

FPSC

Schedule: Plant Treatment Summary

Page 5 of 5 Preparer: Bencini

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatments

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

(1)	(2)	(3)	(4)
Line		Rate Cla	19508
No.	Plant Hame	Present	Proposed
	Present FPSC Non-Jurisdiction:		
98	Gibsonia Estates	FPSC Non-Jurisdiction	Conventional
99	Hershel Heights	FPSC Non-Jurisdiction	Conventional
100	Lake Gibson Estates	FPSC Non-Jurisdiction	Conventional
101	Orange Hill / Sugar Creek	FPSC Non-Jurisdiction	Conventional
102	Seaboard	FPSC Non-Jurisdiction	Conventional
103	Spring Hill	FPSC Non-Jurisdiction	Conventional
104	Valrico Hills	FPSC Non-Jurisdiction	Conventional

SUMMARY OF RATE CLASSES Present and Proposed

Company: SSU / FPSC Jurisdiction / Proposed Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC

Schedule: Plant Treatment Summary

Page 1 of 2

Preparer: Bencini

(1) Line	(2)	(3)	(4) Classes
No.	Plant Name	Present	Proposed
	Present FPSC Jurisdiction Uniform:		
1	Amelia Island	Uniform	Uniform
2	Apache Shores	Uniform	Uniform
3	Apple Valley	Uniform	Uniform
4	Beacon Hills	Uniform	Uniform
5	Beecher's Point	Uniform	Uniform
6	Burnt Store	Uniform	Unidom
7	Chuluota	Uniform	Uniform
8	Citrus Park	Uniform	Unidorm
9	Citrus Springs	Uniform	Uniform
10	Deltona	Uniform	Uniform
11	Fisherman's Haven	Uniform	Unidorm
12	FI Ctrl Commerce Park	Uniform	Uniform
13	Fox Run	Uniform	Uniform
14	Holiday Haven	Uniform	Uniform
15	Jungle Den	Uniform	Uniform
18	Leilani Heights	Uniform	Unitom
17	Leisure Lakes	Uniform	Uniform
18	Marco Shores	Uniform	Uniform
19	Marion Oaks	Uniform	Unitom
20	Meredith Manor	Uniform	Uniform
21	Morningview	Uniform	Uniform
22	Palm Port	Uniform	Unitom
· 23	Palm Terrace	Uniform	Uniform
24	Park Manor	Uniform	Uniform

တ

SUMMARY OF RATE CLASSES Present and Proposed

Company: SSU / FPSC Jurisdiction / Proposed Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC

Schedule: Plant Treatment Summary

Page 2 of 2 Preparer: Bencini

(1)	(2)	(3)	(4)
Line		Rate Class	
No.	Plant Name	Present	Proposed
25	Point O' Woods	Uniform	Uniform
26	Salt Springs	Uniform	Uniform
27	Silver Lake Oaks	Uniform	Uniform
28	South Forty	Uniform	Unitorm
29	Sugar Mill	Uniform	Uniform
30	Sugar Mill Woods	Uniform	Uniform
31	Sunny Hills	Uniform	Uniform
32	Sunshine Parkway	Uniform	Uniform
33	University Shores	Uniform	Uniform
34	Venetian Village	Uniform	Uniform
35	Woodmere	Uniform	Uniform
36	Zephyr Shores	Uniform	Uniform
	Present FPSC Jurisdiction Non-Uniform:		
37	Buenaventura Lakes (New Acquisition)	Non-Uniform	Uniform
38	Deep Creek	Non-Uniform	Uniform
39	Enterprise	Non-Uniform	Uniform
40	Lehigh	Non-Uniform	Uniform
41	Marco Island	Non-Uniform	Uniform
42	Spring Gardens	Non-Uniform	Uniform
43	Tropical Isles	Non-Uniform	Uniform
44	Valencia Terrace	Non-Uniform	Uniform
	Present FPSC Non-Jurisdiction:		
45	Lake Gibson Estates	FPSC Non-Jurisdiction	Uniform
46	Seaboard	FPSC Non-Jurisdiction	Unilom
47	Spring Hill	FPSC Non-Jurisdiction	Uniform
48	Valrico Hilla	FPSC Non-Jurisdiction	Uniform

-

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1996

Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Finel [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 1 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Line	(1)	(2)	(3) Proposed 1995	(4) Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
1	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES 3/			
2	5/8"x3/4"			\$8.46
3	3/4"			\$12.69
4	1"			\$21.15
5	1 1/2 ^h			\$42.30
6	2'			\$67.68
7	3"			\$135.36
8	4"			\$211.50
9	6*			\$423.00
10	8"			\$676.80
11	10 ^M			\$972.90
12	GALLONAGE CHARGE / MG:			
13	All Gallonage			\$1.76
14	FIRE PROTECTION			
15	5/8"x3/4"			N/A
16	3/4"			N/A
17	1"			N/A
18	1 1/2"			N/A
19	7			\$5.64
20	3"			\$11.28
21	4"			\$17.63
22	6"			\$35.25
23	8"			\$56.40
24	10"			\$81.08
25	GALLONAGE CHARGE / MG:			
26	All Gallonage			\$0.00

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} Public Authority and Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company - Present Uniform (Excluding Burnt Store)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [1]

Interim [] Final [x] Historical [] Projected [x]

25

All Gallonage

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 2 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists. (2) (3) (4) Line Proposed 1995 Proposed 1998 No. Class/Meter Size Present Rates Final Rates 1/ Interim Rates RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES 2/ 5/8">3/4" \$5.13 \$6.26 \$6.46 2 3/4" \$7.70 \$9.40 \$12.69 3 \$12.83 \$15.66 \$21.15 1 1/2" \$25,68 \$31.32 \$42.30 2" \$41.05 \$50.11 \$67.68 3" \$92.10 \$100.22 \$135.36 4" \$128.29 \$156.60 \$211.50 6" \$256.57 \$313.19 \$423.00 9 \$501.11 \$410.51 \$676.60 10 \$590.11 \$720.35 \$972.90 11 GALLONAGE CHARGE / MG: 12 All Gallonage \$1,23 \$1.50 \$1.76 13 FIRE PROTECTION 3/ 14 5/8"x3/4" N/A N/A N/A 15 3/4" N/A N/A N/A 1" 18 N/A N/A N/A 17 1 1/2" N/A N/A N/A 18 2 \$13.69 \$16.71 \$5.64 19 3" N/A NA \$11.28 4" 20 \$42.76 \$52.20 \$17.83 21 8" \$65,53 \$104.41 \$35,25 22 \$136.64 \$167.04 \$56,40 23 \$196.70 \$240.11 \$81.08 24 GALLONAGE CHARGE / MG:

\$D.00

\$0.00

\$0.00

^{1/} Please refer to the rate design summary in the summary section of Volume V for details of the rate design.

^{2/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{3/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 3 of 20

Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanatio	n: Provide a schedule of present, interim and Rates.	State residential wastewa	ater cap if one exists.		
	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates	
	RESIDENTIAL, GENERAL, MULTI-FAMILY SERV	/ICES 2/			
1	5/8"x3/4"	\$4.55	\$4.55	\$8.46	
2	3/4"	\$6.81	\$6.81	\$ 12.69	
3	1"	\$11.37	\$11.37	\$21.15	
4	1 1/2"	\$22.71	\$22.71	\$42.30	
5	2"	\$36.32	\$36.32	\$67.68	
8	3"	\$72.68	\$72.68	\$135.36	
7	4*	\$ 113.56	\$113. 56	\$211.50	
8	6"	\$227.12	\$227.12	\$423.00	
9	6"	N/A	N/A	\$676.80	
10	10"	N/A	NA	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$1.24	\$1.24	\$1.76	

^{1/} The proposed interim rates are the same as the present rates. These rates are shown only for presentation purposes.

The rates are the same as General and Multi-Family.

^{2/} Irrigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules.

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 4 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
	MULTI-FAMILY			
1	5/8"x3/4"	\$13.69	\$16.71	\$8.46
2	3/4"	\$13.69	\$16.71	\$12.69
3	1*	\$34.21	\$41.76	\$21.15
4	1 1/2"	\$68.43	\$83.53	\$42.30
5	2"	\$109.50	\$133,67	\$67.68
6	3"	\$219.00	\$267.33	\$135.36
7	4"	\$342,19	\$417.71	\$211.50
8	6*	\$684.36	\$835.40	\$423.00
9	8 ⁿ	\$684.36	\$835.40	\$676.80
10	10"	NA	NA	\$972.90
11	GALLONAGE CHARGE / MG:			¥=: =:=
12	All Gallonage	\$4.12	\$5.03	\$1.76

Company: \$\$U / Volusia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] InterIm [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC

Schedule: E1-1 Page 5 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$8.58	\$10.47	\$8.46
2	3/4"	\$8.58	\$10.47	\$12.69
3	1*	\$21.43	\$26.16	\$21.15
4	1 1/2"	\$42.87	\$52.33	\$42.30
5	2"	\$68.58	\$83.72	\$ 67.68
6	3"	NA	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$678.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$2.21	\$2.70	\$1.76

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 6 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
	MULT -FAMILY			
1	5/8"x3/4"	\$4.97	\$ 6.07	\$8.46
2	3/4"	\$7.45	\$9.09	\$12.69
3	1"	\$12.42	\$15 .16	\$21.15
4	1 1/2"	\$24.83	\$30.31	\$42.30
5	2*	\$39.73	\$48.50	\$67.68
6	3"	\$79.45	\$96.98	\$135.36
7	4"	\$124.14	\$151.54	\$211.50
8	8*	\$248.29	\$303.09	\$423.00
9	8"	NA	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$2.07	\$2.53	\$1.76

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1

Page 7 of 20
Preparer: Bencini
Supporting Schedules:

E1-2, E1-3, E1-4

Explanation: Provide a schedule of	present, interim and Rates.	State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"):(3/4"	\$4.97	\$6.07	\$8.46	
2	3/4"	\$7.45	\$9.09	\$12.69	
3	1"	\$12.42	\$15.16	\$21.15	
4	1 1/2"	\$24.63	\$30.31	\$42.30	
5	2"	\$39.73	\$46.50	\$67.68	
6	3*	\$79.45	\$96.98	\$135.36	
7	4"	\$124.14	\$151.54	\$211.50	
6	6"	\$246.29	\$303.09	\$423.00	
9	8"	NA	NA	\$676.80	
10	10°	N/A	NA	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$2.07	\$2.53	\$1.76	

Company: SSU / Citrus / Lakeside

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 8 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
№ 0.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$5.13	\$ 6.26	\$8.46
2	3/4"	\$7.70	\$9.40	\$12. 6 9
3	1"	\$12.83	\$15.66	\$21.15
4	1 1/2"	\$25.66	\$31.32	\$42.30
5	2*	\$41.05	\$50.11	\$67.68
6	3"	\$82.10	\$100.22	\$135.36
7	4"	\$128.29	\$156.60	\$211.50
8	6"	\$256.57	\$313.19	\$423.00
9	8°	\$410.51	\$501.11	\$676.80
10	10°	\$590.11	\$720.35	\$972.90
11	GALLONAGE CHARGE / MG:	·	• •	·
12	All Gallonage	\$1.23	\$1.50	\$1.76

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 9 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL GENERAL SERVICE			
1	5/8"x3/4"	\$9.03	\$11.02	\$8.46
2	3/4"	\$13.55	\$16.54	\$12.69
3	1"	\$22.57	\$27.55	\$21.15
4	1 1/2"	\$45.13	\$55.09	\$42.30
5	2"	\$72.22	\$88.16	\$67.68
6	3 ⁿ	\$144.43	\$176 .31	\$135.36
7	4 "	\$225.68	\$275.49	\$211.50
6	6™	\$ 451.35	\$550.96	\$423.00
9	8"	\$722.16	\$881.54	\$676.80
10	10"	\$1,038.10	\$1,267.21	\$972.90
11	GALLONAGE CHARGE / MG:			
12	Ali Gationage	\$2.40	\$2.93	\$1.76
13	FIRE PROTECTION 1/			
14	5/8"x3/4"	N/A	N/A	N/A
15	3/4"	N/A	N/A	N/A
16	1"	N/A	N/A	N/A
17	1 1/2"	N/A	N/A	N/A
18	2"	N/A	N/A	\$5.64
19	3*	N/A	N/A	\$11.28
20	4 "	\$75.23	\$91.83	\$17.63
21	6"	\$150.45	\$183.65	\$35.25
22	8"	\$240.72	\$293.85	\$ 56.40
23	10"	\$346.04	\$422.41	\$81.06
24	GALLONAGE CHARGE / MG:			
25	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 10 of 20 Preparer: Bencinl Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$9.35	\$11.41	\$8.46
2	3/4"	\$9,35	\$11.41	\$12.69
3	1"	\$9.35	\$11.41	\$21.15
4	1 1/2"	\$9.35	\$11.41	\$42.30
5	2"	\$9.35	\$11.41	\$ 67.68
6	3"	\$9.35	\$11,41	\$135.36
7	4"	\$9,35	\$11.41	\$211.50
6	6"	\$9.35	\$11. 4 1	\$423.00
9	6"	\$9.35	\$11.41	\$676.80
10	10*	\$9.35	\$11.41	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 3,000	\$0.00	\$0.00	\$1.76
13	All Excess	\$0.94	\$1.15	\$1.76

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 11 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$20.30	\$24.78	\$8. 46	
2	3/4"	\$20.30	\$24.78	\$12.89	
3	1"	\$20.30	\$24.78	\$21.15	
4	1 1/2"	\$20.30	\$24.78	\$42.30	
5	2"	\$20.30	\$24.78	\$67.68	
6	3"	\$20.30	\$24.78	\$135.36	
7	4"	\$20.30	\$24.78	\$211.50	
8	6°	\$20.30	\$24.78	\$423.00	
9	8"	\$20.30	\$24.78	\$676.80	
10	10"	\$20.30	\$24.78	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$0.00	\$0.00	\$1.76	

Company: SSU / Citrus / Spring Gardens (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E-1 Page 12 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$6.88	\$8.40	\$8.46	
2	3/4"	\$10.32	\$12.60	\$12.69	
3	1"	\$17.20	\$21.00	\$21.15	
4	1 1/2"	\$34.40	\$41.99	\$42.30	
5	2*	\$55.04	\$67.19	\$67.68	
6	3°	\$110,08	\$134.37	\$135.36	
7	4"	\$172,00	\$209.96	\$211.50	
8	6°	\$344.00	\$419.92	\$423.00	
9	8"	N/A	N/A	\$876.80	
10	10"	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$1.03	\$1,26	\$1.76	

Company: SSU / Lake / Valencia Terrace (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC

Schedule: E1-1 Page 13 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8*x3/4"	\$8.39	\$7.80	\$8.46
2	3/4"	N/A	N/A	\$12.89
3	1"	\$15.99	\$19.52	\$21.15
4	1 1/2"	\$31.96	\$39.01	\$42.30
5	2*	\$51.14	\$62.43	\$67.68
6	3"	\$102.28	\$124.85	\$135.36
7	4 ^H	\$159.81	\$195.08	\$211.50
8	6"	N/A	N/A	\$423.00
9	6"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$0.67	\$0.82	\$1.76
13	(per 100 cubic feet)	\$0.50	\$0.61	\$1.32

22

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$4.48	\$5.47	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	\$4.48	\$5.47	\$21.15
4	1 - 1/2"	N/A	N/A	\$42.30
5	2"	\$4.48	\$5.47	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			, , , , , ,
12	All Gallonage	\$0.54	\$0.66	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 14 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

ည္ဟ

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 15 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL GENERAL SERVICES			
1	5/8"x3/4"	\$2.60	\$3.17	\$8.46
2	3/4"	\$2.60	\$3.17	\$12.69
3	1"	\$ 6.50	\$7.93	\$21.15
4	1 - 1/2"	\$13.00	\$15.87	\$42.30
5	2 ⁿ	\$20.80	\$25.39	\$87.68
6	3**	\$39.00	\$47.61	\$135.36
7	4"	\$65.00	\$79.35	\$211.50
8	6 ⁿ	\$130.00	\$158.69	\$423.00
9	8 ⁿ	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 9.000	\$1.11	\$1.35	\$1.76
13	All Excess Gallons	\$1.56	\$1.90	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

Ņ

SCHEDULE OF WATER RATES - 1996

Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present interim and Rates. State residential wastewater can if one exists

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$5.89	\$7.19	\$8.46
2	3/4"	\$5.89	\$7.19	\$12.69
3	1"	\$5.89	\$7.19	\$21.15
4	1 - 1/2"	\$5.89	\$7.19	\$42.30
5	2*	\$5.89	\$7.19	\$87.68
6	3"	NA	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			•••
12	All Gallonage	\$0.85	\$1.04	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 16 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Ç

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present interim and Rates. State residential wastewater cap if one exists

Explanati	Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.				
	(1)	(2)	(3)	(4)	
Line		Present Monthly	Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/	
	RESIDENTIAL, GENERAL SERVICES				
1	5/8"x3/4"	\$8.15	\$9.95	\$8.46	
2	3/4"	\$8.15	\$9.95	\$12.69	
3	1 ⁿ	\$20.64	\$25.20	\$21.15	
4	1 - 1/2"	\$41.28	\$50.39	\$42.30	
5	2 "	\$66.04	\$80.62	\$67.68	
6	3"	N/A	N/A	\$135.36	
7	4"	N/A	N/A	\$211.50	
8	6"	N/A	N/A	\$423.00	
9	8"	N/A	N/A	\$676.80	
10	10"	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$1.20	\$1.46	\$1.76	
	··	•			

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 17 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Ŋ

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES			
1	5/8"x3/4"	\$9.09	\$11.10	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	\$22.73	\$27.75	\$21.15
4	1 - 1/2"	\$45.45	\$55.48	\$42.30
5	2"	\$72.72	\$88.77	\$67.68
6	3*	\$136.35	\$166.44	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.54	\$1.88	\$1.76
13	All Excess Gallonage	\$2.00	\$2.44	\$1,76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 18 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 19 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES			
1	5/8"x3/4"	\$5.05	\$6.16	\$8.46
2	3/4"	\$7.58	\$9.25	\$12.69
3	1"	\$12.63	\$15.42	\$21.15
4	1 - 1/2"	\$25,25	\$30.82	\$42.30
5	2 ⁿ	\$40.40	\$49.32	\$67.68
6	3*	\$80.80	\$98.63	\$135.36
7	4 "	\$126.25	\$154,11	\$211.50
8	6"	\$252.50	\$308.23	\$423.00
9	8"	\$404.00	\$493.16	\$676.80
10	10"	\$580.75	\$708.92	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$1.21	\$1.48	\$1.76
	EMERGENCY STANDBY SERVICE			
13	All Meter Sizes	\$0.00	\$0.00	\$0.00
14	GALLONAGE CHARGE / MG:		-	•
15	All Gallonage	\$1.21	\$1.48	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

28

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	5/8"x3/4"	\$9.50	\$11.60	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	N/A	N/A	\$21.15
4	1 - 1 <i>/</i> 2"	N/A	N/A	\$42.30
5	2"	N/A	N/A	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
6	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Galionage	\$0.60	\$0.73	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 20 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 1 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
1	RESIDENTIAL, GENERAL, MULT	-FAMILY SERVICES 2/			
2	5/8"x3/4"			\$23.62	
3	3/4"			\$35.43	
4	1"			\$59.05	
5	1 1/2"			\$118.10	
6	2*			\$188.96	
7	3"			\$377.92	
8	4"			\$590.50	
9	6 "			\$1,181.00	
10	5"			\$1,889.60	
11	10"			\$2,716.30	
12	GALLONAGE CHARGE / MG:				
13	All Gallonage			\$3.27	
14	BULK RAW WATER - Marco Island	1			
15	5/8"x3/4"	_		\$0.00	
16	3/4"			\$0.00	
17	1"			\$0.00	
18	1 1/2"			\$0.00	
19	2 *			\$0.00	
20	3"			\$0.00	
21	4"			\$0.00	
22	6"			\$0.00	
23	8"			\$0.00	
24	10"			\$0.00	
25	GALLONAGE CHARGE / MG:				
26	All Gallonage			\$1.82	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} Public Authority and Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 2 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
27	FIRE PROTECTION				
28	5/8"x3/4"			N/A	
29	3/4"			N/A	
30	1"			N/A	
31	1 1/2"			N/A	
32	T			\$15.75	
33	3"			\$31.49	
34	4"			\$49.21	
35	6"		•	\$98.42	
36	6"			\$157.47	
37	10"			\$226.36	
38	GALLONAGE CHARGE / MG:				
39	All Gallonage			\$0.00	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} Public Authority and Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Charlotte/Lee / Burnt Store

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [1] FPSC Non-uniform [x] FPSC Non-jurisdiction [1]

Proposed: Conventional [1] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 3 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
1	RESIDENTIAL GENERAL SERVICE 1/			
2	5/8"x3/4"	\$5.13	\$6.26	\$23.62
3	3/4"	\$7.70	\$9.40	\$35.43
4	1"	\$12.83	\$15. 6 6	\$59.05
5	1 1/2*	\$25.66	\$31.32	\$118.10
6	2*	\$ 41.05	\$50.11	\$188.96
7	3"	\$82.10	\$100.22	\$377.92
8	4"	\$128.29	\$156.60	\$590.50
9	8 "	\$256.57	\$313.19	\$1,181.00
10	6 "	\$ 410.51	\$501.11	\$1,889.60
11	10"	\$590.11	\$720.35	\$2,718.30
12	GALLONAGE CHARGE / MG:			
13	All Gallonage	\$1.23	\$1.50	\$3.27
14	FIRE PROTECTION 2/			
15	5/8"x3/4"	N/A	N/A	N/A
18	3/4"	N/A	N/A	N/A
17	1"	N/A	N/A	N/A
18	1 1/2"	N/A	N/A	N/A
19	2°	\$13.69	\$16.71	\$ 15.75
20	3"	N/A	N/A	\$31.49
21	4"	\$ 42.76	\$52.20	\$49.21
22	6*	\$85.53	\$104.41	\$98.42
23	8"	\$136.84	\$167.04	\$157.47
24	10"	\$196.70	\$240.11	\$226.36
25	GALLONAGE CHARGE / MG:			
26	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

^{2/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 4 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
.ine			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
1	RESIDENTIAL, GENERAL, MULTI-FAMIL	Y SERVICES 1/		
2	5/8"x3/4"	\$7.88	\$9.62	\$23.62
3	3/4"	\$11.83	\$14.44	\$35.43
4	1*	\$19.71	\$24.06	\$59.05
5	1 1/2"	\$39.42	\$48.12	\$118.10
6	2"	\$63.07	\$78.99	\$188.96
7	3"	\$128.14	\$153.98	\$377.92
6	4"	\$197.09	\$240.59	\$590.50
9	6"	\$394.19	\$481.19	\$1,181.00
10	8"	\$630.70	\$769.90	\$1,889.60
11	10"	\$906.63	\$1,106.72	\$2,716.30
12	GALLONAGE CHARGE / MG:			
13	All Gallonage	\$2.96	\$3.61	\$3.27
14	BULK RAW WATER			
15	5/8"x3/4"	\$120.89	\$147.57	\$0.00
16	3/4"	\$120.89	\$147.57	\$0.00
17	1"	\$120.89	\$147.57	\$0.00
18	1 1/2"	\$120.89	\$147.57	\$0.00
19	2"	\$120.69	\$147.57	\$0.00
20	3"	\$120.69	\$147.57	\$0.00
21	4"	\$120.89	\$147.57	\$0.00
22	6*	\$120.89	\$147.57	\$0.00
23	8"	\$120.89	\$147.57	\$0.00
24	10"	\$120.89	\$147.57	\$0.00
25	GALLONAGE CHARGE / MG:	V-120.00	\$141.01	45.55
26	All Gallonage	\$0.64	\$0.76	\$1.82

^{1/} Irrigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

ä

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Reverse Osmosis Treatment

Company: SSU / Collier / Marco island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Schedule: E1-1 Page 5 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

FPSC

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
27	FIRE PROTECTION 2/			
28	5/8"x3/4"	N/A	N/A	N/A
29	3/4"	N/A	N/A	N/A
30	1*	N/A	N/A	N/A
31	1 1/2"	N/A	N/A	N/A
32	2"	\$21.02	\$25.66	\$15.75
33	3*	\$42.05	\$51.33	\$31.49
34	4"	\$65.70	\$80.20	\$4 9.21
35	6"	\$131.40	\$180.40	\$98.42
36	8"	\$210.23	\$256.63	\$157.47
37	10"	\$302.21	\$368.91	\$226.36
36	GALLONAGE CHARGE / MG:			
39	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} Irrigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

^{2/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

THIS PAGE INTENTIONALLY LEFT BLANK

ç

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 1 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	RESIDENTIAL				
1	All Meter Sizes			\$17.21	
2	GALLONAGE CHARGE / MG:				
Э	0 - 6,000			\$ 4.75	
4	All Excess Gallons			No Charge	
	RESIDENTIAL WASTEWATER ON	ILY			
5	All Meter Sizes			\$44.09	
	GENERAL, MULTI-FAMILY SERVI	CES.			
	AND COMM. WW ONLY 3/				
6	5/8"x3/4"			\$17.21	
7	3/4"			\$25.82	
8	1"			\$43.03	
9	1 - 1/2"			\$8 6.05	
10	2"			\$137.68	
11	3"			\$275.38	
12	4 ⁿ			\$430.25	
13	6™			\$860.50	
14	8"			\$1,376.80	
15	10"			\$1,979.15	
16	GALLONAGE CHARGE / MG:				
17	All Gallonage			\$5.70	
18	(per 100 cubic ft)			\$4.26	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} SS and Public Authority are not tarriffed clesses but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Farmily.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 2 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	EMERGENCY TEMPORARY SE	RVICE - Sugar Mill Woods			
19	5/8"x3/4"			\$17.21	
20	3/4"			\$17.21	
21	1"			\$17.21	
22	1 - 1/2"			\$17.21	
23	2"			\$17.21	
24	3"			\$17.21	
25	4"			\$17.21	
26	6"			\$17.21	
27	6 *			\$17.21	
28	10"			\$17.21	
29	GALLONAGE CHARGE / MG:				
30	All Gallonage			\$ 5.70	
	BULK WASTEWATER - Marco Isi	and			
31	5/8"x3/4"			\$17.21	
32	3/4"			\$25.82	
33	1"			\$43.03	
34	1 - 1/2"			\$86.05	
35	2"			\$137.68	
36	3"			\$275.36	
37	4"			\$430.25	
38	8*			\$860.50	
39	8"			\$1,376.80	
40	10°			\$1,979.15	
41	GALLONAGE CHARGE / MG:			27,000	
42	All Gallonage			\$5.70	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: FPSC Uniform (x)

FPSC Schedule: E1-1 Page 3 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
	EFFLUENT - Deltona 4/			
43	5/8"x3/4"			\$0,00
44	3/4"			\$0.00
45	1"			\$0.00
46	1 - 1 <i>12</i> "			\$0,00
47	2"			\$0.00
48	3"			\$0.00
49	4"			\$0.00
50	6"			\$0.00
51	6"			\$0.00
52	10™			\$0.00
53	GALLONAGE CHARGE / MG:			
54	All Gallonage			\$0.06
	EFFLUENT - FL Central Commerce Park			
55	5/8"x3/4"			\$0.00
56	3/4"			80.00
57	1"			\$0.00
58	1 - 1/2"			\$0.00
59	2"			\$0.00
60	3"			\$0.00
61	4 "			\$0.00
62	6"			\$0.00
63	8"			\$0.00
64	10"			\$0.00
65	GALLONAGE CHARGE / MG:			
66	Per Sprinkler			\$0.10

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} SS and Public Authority are not terriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{4/} There is no billing history for Deltona.

ၽွ

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 4 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
<u>No.</u>	Class/Meter Siza	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	EFFLUENT - Lehigh				
87	5/8"x3/4"			\$0.00	
68	3/4"			\$0.00	
69	1"			\$0.00	
70	1 - 1/2"			\$0.00	
71	2"			\$0.00	
72	3"			\$0.00	
73	4"			\$0.00	
74	6*			\$0.00	
75	8"			\$0.00	
76	10°			\$0.00	
77	GALLONAGE CHARGE / MG:			•	
78	All Gallonage			\$0.18	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 5 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line	**		Proposed 1995	1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	-
	EFFLUENT - Marco Island				
79	5/8">:3/4"			\$0.00	
80	3/4"			\$0.00	
81	1"			\$0.00	
82	1 - 1/2"			\$0.00	
83	2"			\$0.00	
84	3"			\$0.00	
85	4"			\$0.00	
88	6 "			\$0.00	
87	8"			\$0.00	
88	10*			\$0.00	
89	GALLONAGE CHARGE / MG:				
90	All Gallonage			\$0.87	
	MULTI-FAMILY NON-METERED 5/				
91	3"			\$44.09	per unit
	-			\$3,306.75	(currently 75 units

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{4/} There is no billing history for Deltona.

^{5/} Uses the same reta as Rasidential Wastewater Only because SSU doesn't supply the water.

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 6 of 23 Preparer: Bencini

Supporting Schedule: E1-2

_	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$12.67	\$16.07	\$17.21	
2	GALLONAGE CHARGE / MG:	412.47	• 10.01	\$17.21	
3	0 - 6,000	\$3.66	\$4.64	\$4.75	
4	All Excess Gallons	No Charge	No Charge	No Charge	
	RESIDENTIAL WASTEWATER ONLY				
5	Apache Shores	\$17.27	\$21.91	\$44.09	
6	Beacon Hills	\$31.66	\$40.42	\$44.09	
7	Fisherman's Haven	\$26.37	\$33.46	\$44.09	
8	Leilani Heights	\$31.03	\$39.37	\$44.09	
9	Morningview	\$29.84	\$37.86	\$44.09	
10	Palm Port	\$25.16	\$31.92	\$44.09	
11	Sugar Mill	\$23.45	\$29.75	\$44.09	
12	University Shores	\$30.01	\$36.07	\$44.09	
13	Venetian Village	\$28,81	\$36.55	\$44.09	

4

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 7 of 23

Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	GENERAL MULTI-FAMILY SERVICES 1/			
14	5/8"x3/4"	\$12.67	\$16.07	\$17.21
15	3/4"	\$19.01	\$24.12	\$25.82
16	1"	\$31.88	\$40.19	\$43.03
17	1 - 1/2"	\$63.37	\$80.40	\$86.05
18	2*	\$101.39	\$128.63	\$137.68
19	3"	\$202.77	\$257.25	\$275.36
20	4"	\$318.83	\$401.96	\$430.25
21	6"	\$633.86	\$803.92	\$860.50
22	8"	\$1,013.85	\$1,286.27	\$1,376.80
23	10°	\$1,457.41	\$1,849.02	\$1,979.15
24	GALLONAGE CHARGE / MG:	•		
25	All Gallonage	\$4.39	\$5.57	\$ 5.70
26	(per 100 cubic ft)	\$3.28	\$4.17	\$4.26

^{1/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 8 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	EMERGENCY TEMPORARY SERVICE	- Sugar Mill Woods		
27	5/8"x3/4"	\$12.67	\$16.07	\$17.21
28	3/4"	N/A	N/A	\$17.21
29	1*	N/A	N/A	\$17.21
30	1 - 1/2"	N/A	N/A	\$17.21
31	2"	N/A	N/A	\$17.21
32	3"	N/A	N/A	\$17.21
33	4"	NA	N/A	\$17.21
34	8"	N/A	N/A	\$17.21
35	8"	N/A	N/A	\$17.21
36	10°	N/A	N/A	\$17.21
37	GALLONAGE CHARGE / MG:			***-
38	All Gallonage	\$4.39	\$ 5.57	\$5.70
	EFFLUENT - Deltona 2/			
39	5/8"x3/4"	\$0.00	\$0.00	\$6.35
40	3/4"	\$0.00	\$0.00	\$0.00
41	1"	\$0.00	\$0.00	\$0.00
42	1 - 1/2"	\$0.00	\$0.00	\$0.00
43	2"	\$0.00	\$0.00	\$0.00
44	3"	\$0.00	\$0.00	\$0.00
45	4"	\$0.00	\$0.00	\$0.00
46	6"	\$0.00	\$0.00	\$0.00
47	8*	\$0.00	\$0.00	\$0.00
48	10"	\$0.00	\$0.00	\$0.00
49	GALLONAGE CHARGE / MG:	V		44.00
50	All Gallonage	\$0.06	\$0.06 3/	\$0.06 3/

^{1/} SS and Public Authority are not terriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{2/} There is no billing history for Deltona.

^{3/} By contract, rate cannot be changed.

43

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water () Wastewater (x) Interim () Final (x) Historical () Projected (x)

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 9 of 23 Preparer: Bencini

Supporting Schedule: E1-2

Explanati	on: Provide a schedule of present, interim and Rates	State residential waster	vater cap if one exists.		
	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	EFFLUENT - FL Central Commerce Park				
51	5/8"x3/4"	\$0.00	\$0.00	\$0.00	
52	3/4"	\$0.00	\$0.00	\$0,00	
53	1"	\$0.00	\$0.00	\$0.00	
54	1 - 1/2"	\$0.00	\$0.00	\$0.00	
55	2"	\$0.00	\$0.00	\$0.00	
56	3"	\$0.00	\$0.00	\$0.00	
57	4"	\$0.00	\$0.00	\$0.00	
58	6"	\$0.00	\$0.00	\$0.00	
59	6"	\$0.00	\$0.00	\$0.00	
60	10"	\$0.00	\$0.00	\$0.00	
61	GALLONAGE CHARGE / MG:				
62	Per Sprinkler Head 4/	\$0.06	\$0.06	\$0.10	

^{1/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{2/} There is no billing history for Deltona.

^{3/} By contract, rate cannot be changed.

^{4/} Sprinkler heads are stated as gallonage in the E2-1, E2-2 and E-13 Schedules for presentational purposes.

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 10 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$8.57	\$8.57	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$4.50	\$ 4.50	\$4.75	
	6,001 - 10,000	\$4.50	\$4.50	\$0.00	
4	All Excess Gallons	\$0.00	\$0.00	\$0.00	
	RESIDENTIAL WASTEWATER ONLY				
5	All Meter Sizes	\$29.22	\$29.22	\$44.09	
	GENERAL SERVICE				
6	5/8"x3/4"	\$8.57	\$8.57	\$17.21	
7	3/4"	\$12.86	\$12.86	\$25.82	
8	1"	\$21.42	\$21.42	\$43.03	
9	1 - 1/2"	\$42.83	\$42.83	\$8 6.05	
10	T	\$68.52	\$68.52	\$137.66	
11	3"	\$137.08	\$137.08	\$275.36	
12	4"	\$214.16	\$214.16	\$430.25	
13	6"	\$428.35	\$426.35	\$860.50	
14	8 "	NA	NA	\$1,376.80	
15	10"	N/A	N/A	\$1,979.15	
16	GALLONAGE CHARGE / MG:			·	
17	All Gallonage	\$5.39	\$5.39	\$5.70	

^{1/} The proposed interim rates are the same as the present rates. These rates are shown only for presentation purposes.

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 11 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$19.40	\$24.61	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$3.97	\$5.04	\$4,75	
4	6,001 - 10,000	\$3.97	\$5.04	No Charge	
5	All Excess Gallons	No Charge	No Charge	No Charge	
	GENERAL, MULTI-FAMILY SERVICES				
6	5/8"x3/4"	\$19.40	\$24.61	\$17.21	
7	3/4"	\$19.40	\$24.61	\$25.82	
8	1"	\$48.52	\$61.56	\$43.03	
9	1 - 1/2"	\$97.02	\$123.09	\$86.05	
10	2"	\$155.25	\$196.97	\$137.68	
11	3"	\$310.50	\$393.93	\$275.36	
12	4"	\$485.17	\$ 615.54	\$430.25	
13	6"	\$970.31	\$1,231.03	\$860.50	
14	8"	\$970.31	\$1,231.03	\$1,376.80	
15	10*	N/A	N/A	\$1,979.15	
16	GALLONAGE CHARGE / MG:				
17	All Gallonage	\$4.75	\$6.03	\$5.70	

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 12 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
<u>No.</u>	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$13.11	\$16.63	\$ 17.21	
2	GALLONAGE CHARGE / MG:			•	
3	0 - 6,000	\$3 .01	\$3.82	\$ 4.75	
4	6,001 - 10,000	\$3.01	\$3.82	No Charge	
5	All Excess Gallons	No Charge	No Charge	No Charge	

47

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 13 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
ine			Proposed 1995	Proposed 1996
lo	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL			
1	All Meter Sizes	\$15.45	\$19.60	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$3.86	\$4.90	\$4.75
4	All Excess Gallons	No Charge	No Charge	No Charge
	RESIDENTIAL WASTEWATER ONLY			
5	All Meter Sizes	\$27.81	\$35.28	\$44.09
	GENERAL SERVICE			
6	5/8"x3/4"	\$15.45	\$19.60	\$17.21
7	3/4"	\$ 23.18	\$29.41	\$25.82
8	1"	\$38.64	\$49.02	\$43.03
9	1 - 1/2°	\$77.27	\$98.03	\$86.05
10	2"	\$123.63	\$156.85	\$137.68
11	3 ⁿ	\$247.27	\$ 313.71	\$275.36
12	4 ⁿ	\$386 .35	\$490.16	\$430.25
13	6"	\$772.71	\$980.34	\$860.50
4	8 ⁿ	\$1,236.34	\$1,568.54	\$1,376.80
5	10*	\$1,777.23	\$2,254.77	\$1,979.15
6	GALLONAGE CHARGE / MG:			
7	All Gallonage	\$4.63	\$ 5.87	\$5.70

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Finel [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

Proposed: FPSC Uniform [x]

FPSC
Schedule: E1-1
Page 14 of 23
Preparer: Bencini
Supporting Schedule: E1-2

	(1)	(2)	(2)	(3)	_
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	EFFLUENT				
18	5/8"x3/4"	\$0.00	\$0.00	\$0.00	
19	3/4"	\$0.00	\$0.00	\$0.00	
20	1"	\$0.00	\$0.00	\$0.00	
21	1 - 1/2"	\$0.00	\$0.00	\$0.00	
22	2"	\$0.00	\$0.00	\$0.00	
23	3*	\$0.00	\$0.00	\$0,00	
24	4*	\$0.00	\$0.00	\$0.00	
25	6"	\$0.00	\$0.00	\$0.00	
26	6"	\$0.00	\$0.00	\$0,00	
27	10°	\$0.00	\$0.00	\$0.00	
28	GALLONAGE CHARGE / MG:		•		
29	All Gallonage	\$0,11	\$0.14	\$0.18	

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC

Schedule: E1-1 Page 15 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$ 11.10	\$14.08	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$3.20	\$4.06	\$4 .75	
4	6,001 - 10,000	\$3.20	\$4.06	No Charge	
5	All Excess Gallons	No Charge	No Charge	No Charge	
6	GENERAL, MULTI-FAMILY SERVICES, AND COMM. WW ONLY 5/8"x3/4"	\$11 .10	\$14.08	\$ 17.21	
7		•	-		
-	3/4"	\$16.65	\$21.12	\$25.82	
8	1"	\$22.20	\$28.17	\$43.03	
9	1 - 1/2"	\$55.51	\$70.43	\$86.05	
10	2"	\$88.81	\$112.67	\$137.68	
11	3"	\$177.62	\$225.35	\$275.36	
12	4"	\$277.54	\$352.11	\$430.25	
13	8*	\$555.08	\$704.23	\$86 0.50	
14	8"	\$888.12	\$1,126.78	\$1,376.80	
15	10"	\$1,276.68	\$1,619.72	\$1,979.15	
18	GALLONAGE CHARGE / MG:				
17	Ali Gallonage	\$3.85	\$4.88	\$5.70	

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 16 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)		(2)	· · ·	(4)	
Line				Proposed 1995		Proposed 1996	
No.	Class/Meter Size	Present Rates		Interim Rates		Final Rates	_
	EFFLUENT						
18	5/8"><3/4"	\$0,00		\$0.00		\$0.00	
19	3/4"	\$0.00		\$0.00		\$0.00	
20	1"	\$0.00		\$0.00		\$0.00	
21	1 - 1/2"	\$0.00		\$0.00		\$0.00	
22	2"	\$0.00		\$0.00		\$0.00	
23	3"	\$0.00		\$0.00		\$0.00	
24	4"	\$0.00		\$0.00		\$0.00	
25	6"	\$0.00		\$0.00		\$0.00	
26	8"	\$0.00		\$0.00		\$0.00	
27	10"	\$0.00		\$0.00		\$0.00	
28	GALLONAGE CHARGE / MG:					•	
29	All Gallonage	\$0.25		\$0.32		\$0.87	
	MULTI-FAMILY NON-METERED 1/						
30	3"	\$26.80	\$0.00	\$34.28	per unit	\$44.09	per unit
		\$2,010.00	(currently 75 units)		(currently 75 units)		(currently 75 units)

^{1/} Uses the same rate as the Proposed Uniform Residential Wastewater Only because SSU doesn't supply the water.

Company: SSU / Citrus / Spring Gardens (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 17 of 23 Preparer: Bencini Supporting Schedule: E1-2

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists. (4) (3) Line Proposed 1995 Proposed 1996 No. Class/Meter Size Present Rates Interim Rates Final Rates RESIDENTIAL All Meter Sizes \$8.31 \$10.54 \$17.21 GALLONAGE CHARGE / MG: 3 0 - 8,000 \$2.48 \$3.15 \$4.75 No Charge All Excess Gallons No Charge No Charge **GENERAL SERVICE** 5/8"x3/4" \$8.31 \$10.54 \$17.21 3/4" \$12.47 \$15.82 \$25.82 1" \$20.78 \$26.36 \$43.03 \$86.05 1 - 1/2" \$41.57 \$52.74 2 \$66.51 \$84.38 \$137.68 \$275.36 10 3" \$133.01 \$188.75 11 \$207.83 \$263.67 \$430.25 12 \$860.50 \$415.66 \$527.35 13 N/A N/A \$1,376.80 14 N/A \$1,979.15 N/A 15 GALLONAGE CHARGE / MG: \$5.70 All Gallonage \$2.98 \$3.78

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 18 of 23 Preparer: Bencini Supporting Schedule: E1-2

Explanatio	n: Provide a schedule of present, interim and Rates	 State residential wastew 	ater cap if one exists.		
	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
1	RESIDENTIAL WASTEWATER ONLY				
2	All Meter Sizes	\$13.33	\$16.91	\$44.09	

Company: SSU / Lake / Valencia Terrace (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 19 of 23 Preparer: Bencini

Supporting Schedule: E1-2

Explanation: Provide a schedule of pr	resent, interim and Rates.	State residential wastewat	er cap it one exists.
(4)		(2)	(2)

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL			
1	All Meter Sizes	\$8.49	\$10.77	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$1.56	\$1. 98	\$4. 75
4	(charge / 100 cubic ft for 0 - 802 cubic ft)	\$1.17	\$1.48	\$3.55
5	6,001 - 9,725	\$1.56	\$1.98	No Charge
6	(charge / 100 cubic ft for 803 - 1,300 cubic ft)	\$1.17	\$1.48	No Charge
7	All Excess Gallons	No Charge	No Charge	No Charge
8	(All Excess Cubic ft)	No Charge	No Charge	No Charge
	GENERAL SERVICE			
9	5/8"x3/4"	\$8.49	\$10.77	\$17.21
10	3/4"	N/A	N/A	\$25.82
11	1"	\$21.22	\$26.92	\$43.03
12	1 - 1/2"	\$42.49	\$53.91	\$88.05
13	2"	\$87.91	\$86.16	\$137.68
14	3*	\$135.97	\$172.51	\$ 275. 36
15	4"	\$212. 4 7	\$269.56	\$430.25
16	6*	N/A	N/A	\$860.50
17	6"	N/A	N/A	\$1,376.80
18	10"	N/A	N/A	\$1,979.15
19	GALLONAGE CHARGE / MG:			
20	Ali Gallonage	\$1.56	\$1.98	\$ 5.70
21	(per 100 cubic ft)	\$1.17	\$1.48	\$4.26

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanat	ion: Provide a schedule of present, interim and Rates. S	State residential wastewater ca	ap if one exists.	
	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			*****
1	All Meter Sizes	\$22.50	\$28.55	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$0.00	\$0.00	\$4.75
4	All Excess Gallons	\$0.00	\$0.00	\$0.00
	RESIDENTIAL WASTEWATER ONLY 4/			
5	All Meter Sizes	\$22.50	\$28.55	\$44.09
	GENERAL SERVICE 4/			
6	5/8"x3/4"	\$22.50	\$28.55	\$17.21
7	3/4"	\$22.50	\$28.55	\$25. 82
8	1"	\$22.50	\$28.55	\$43.03
9	1 - 1/2"	\$22.50	\$28.55	\$86.05
10	2"	\$22.50	\$28.55	\$137.68
11	3"	\$22.50	\$28.55	\$275.36
12	4"	\$22.50	\$28.55	\$430.25
13	6"	\$22.50	\$28.55	\$860.50
14	8*	\$22.50	\$28.55	\$1,376.80
15	10"	\$22.50	\$28.55	\$1,979.15
16	GALLONAGE CHARGE / MG:	7 _2.50	7-0.00	41,515.10
17	All Gallonage	\$0.00	\$0.00	\$5.70
17	All Californiago	\$0.00	\$0.00	\$5.70

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 20 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Polk / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanati	ion: Provide a schedule of present, interim and	Rates. State residential wastewater ca	ap if one exists.	
	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$19.16	\$24.31	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 8,000	\$2.98	\$3.78	\$4.75
4	6,001 - 10,000	\$2.98	\$3.78	\$0.00
4	All Excess Gallons	\$0.00	\$0.00	\$0.00
	GENERAL, MULTI-FAMILY SERVICES			
5	5/8"x3/4"	\$19.16	\$24.31	\$17.21
6	3/4"	N/A	N/A	\$25.82
7	1"	\$4 7.91	\$60.78	\$43.03
8	1 - 1/2"	\$95.82	\$121.57	\$86.05
9	2"	\$153.31	\$194.50	\$137.68
10	3"	\$306.62	\$389.01	\$275.36
11	4"	N/A	N/A	\$430.25
12	6"	N/A	N/A	\$860.50
13	8"	N/A	N/A	\$1,376.80
14	10"	N/A	N/A	\$1,979.15
15	GALLONAGE CHARGE / MG:	, , , ,		. ,-
16	All Gallonage	\$3.58	\$4 .54	\$5.70

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 21 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanati	on: Provide a schedule of present, interim and Rates	s. State residential wastewater of	cap if one exists.	
	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE	,		
1	All Meter Sizes	\$12.26	\$15.55	\$17.21
2	GALLONAGE CHARGE / MG:	¥	•	• • • • • • • • • • • • • • • • • • • •
3	0 - 6,000	\$3.54	\$4,49	\$4.75
4	All Excess Gallons	\$0.00	\$0.00	\$0.00
	RESIDENTIAL WASTEWATER ONLY			
5	All Meter Sizes	\$24.86	\$31,54	\$44.09
	GENERAL, MULTI-FAMILY SERVICES			
6	5/8"x3/4"	\$12.26	\$15.55	\$17.21
7	3/4"	\$18.39	\$23.33	\$25.82
8	1"	\$30.85	\$38.89	\$43.03
9	1 - 1/2"	\$61.30	\$77.77	\$86.05
10	2 [*]	\$98.08	\$124.43	\$137.68
11	3 ^m	\$198.18	\$248.87	\$275.38
12	4"	\$306.50	\$388.86	\$430.25
13	8*	\$ 613.00	\$777.71	\$860.50
14	8"	\$980.80	\$1,244.34	\$1,376.80
15	10°	\$1,409.90	\$1,768.74	\$1,979.15
16	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$4.25	\$5.39	\$5.70
	BULK WASTEWATER			
18	All Meter Sizes	\$0.00	\$0.00	\$0.00
19	GALLONAGE CHARGE / MG:			
20	All Gallonage	\$2.35	\$2.35	\$2.35

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 22 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

FPSC Schedule: E1-1 Page 23 of 23

Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

(1) (2) (3) (4)

Line Present Monthly Proposed 1995 Proposed 1996

No. Class/Meter Size Equivalent Rates Interim Rates Final Rates 1/

RESIDENTIAL SERVICE All Meter Sizes \$10.00 \$12.69 \$17.21 2 GALLONAGE CHARGE / MG: \$0.00 \$0.00 \$4.75 3 0 - 6.000\$0.00 \$0.00 All Excess Gallons \$0.00

^{1/} Please refer to the supporting schedules for details of the rate design.

THIS PAGE INTENTIONALLY LEFT BLANK

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - 8,500 GALLONS MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/8" Meter)

Server Cap

Company: SSU / Total Company - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/98 Water [x] Wastewater [x] Interim [] Final [x] Historical [x] Projected [x]

Present: FPSC Uniform (x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)

Proposed: Conventional [x] Reverse Osmosis [x] Uniform [x]

FPSC

Schedule: Rate and Billout Summary

Page 1 of 9 Praparer: Bencini

Explanation: Provide a calculation of residential bill at current, proposed interim, and proposed final rates. (16) (17) (11) (12) (14)(15)(1) (3) (4) **(B)** (7)(8) (9) (10)(13)RATES Water and Wastewater Bills at 8500 Gallons Usage Combined Line 2500 Gel Water Wastewater Water Wastewater No. Plant Water Use 1/ interim Interim Interim Interim Present Interim Present Present Firmal Final PROPOSED CONVENTIONAL TREATMENT: PROPOSED CONVENTIONAL \$25.67 Base TREATMENT - SUMMARY: 2/ 8,500 \$8.46 \$17.21 \$8.46 varies \$17.21 varies veries varies varies varies varies varies **varies** varies Gallonage \$28.50 \$43.46 \$14.98 varies varies Varies varies \$1.76 varies **Varies** \$4.75 varies varies varies Veries \$69.13 \$23.42 845.71 Sewer Cap varies varies 6.000 Total Bill \$5,13 \$16.07 \$25.67 Present Uniform: 8.500 \$8.26 \$18.07 \$8.48 \$12.87 \$17.21 \$17.80 \$22,33 Rese \$8.48 \$12.07 \$17.21 \$5.13 \$8.26 (Excluding Burnt Store) Gallonage \$21.96 \$27.84 \$28.50 \$32.42 \$40.59 \$43,48 \$1.23 \$1.50 \$1.76 \$3.66 \$4.64 \$4.75 \$10.48 \$12.75 \$14.96 \$45.71 \$50.22 \$62.92 \$69.13 \$34.63 \$43.91 Sewer Cap 6,000 8,000 8,000 Total Bill \$15.59 \$19.01 \$23.42 10 **FPSC Jurtadiction Non-Uniform:** 11 \$25.67 12 Buenaventura Lakes 3/ 6,500 Base \$4.55 \$4.55 \$8.46 \$8.57 \$8.57 \$17.21 \$4.55 \$4.55 \$8.46 \$8.57 \$8.57 \$17.21 \$13.12 \$13.12 13 **SAR 79** \$48.79 \$43.46 \$38,25 \$38.25 \$28.50 Gallonage \$1.24 \$1.24 \$1.76 \$4.50 \$4.50 \$4.75 \$10.54 \$10.54 \$14.98 14 Sewer Cao 10.000 Total Bill \$15.09 \$15.09 \$23.42 \$46.82 \$46.82 845.71 \$61.91 \$61.91 \$69.13 10,000 6,000 15 \$13.69 \$25.67 18 Deep Creek 8,500 \$16.71 \$19.40 \$24.81 \$17.21 \$33.09 \$41.32 Rese \$8.46 \$19.40 \$24.61 \$17.21 \$13.69 \$16.71 \$8.48 17 \$68.77 \$85.80 \$43.46 Gallonage \$4.12 \$5.03 \$1.76 \$3.97 \$5.04 \$4.75 \$35.02 \$42.76 \$14.96 \$33.75 \$42.84 \$28.50 \$45.71 \$126.92 \$69.13 18 \$67.45 \$101.86 Sewer Cap 10,000 10.000 6.000 Total Bill \$48,71 \$59.47 \$23.42 \$53,15 19 \$27.10 \$25.67 20 Enterprise 8,500 Base \$8.58 \$10.47 \$13.11 \$16.63 \$10.47 \$13.11 \$18.63 \$17.21 \$21.69 \$8.46 \$17.21 \$8.58 \$8.46 21 \$44,38 \$55.42 \$43.46 \$14.96 \$25.59 \$32.47 \$28.50 Gallonage \$2.21 \$2.70 \$1.76 \$3.01 \$3.82 \$4.75 \$16.79 \$22.95 22 \$23.42 \$38.70 \$45.71 \$66.07 \$82,52 \$89.13 Sewer Cap 10,000 \$27.37 \$49.10 10,000 6,000 **Total Bill** 23 24 8,500 \$8.07 \$4.97 \$8.07 \$8.46 Geneva Lake Fatetes Base \$4.97 N/A N/A NVA \$8.48 N/A N/A N/A \$4.97 \$8.07 \$8 48 25 Gallonage \$2.07 \$2.53 \$1.76 N/A N/A N/A \$17.60 \$21.51 \$14.96 N/A N/A NA \$17.60 \$21.51 \$14,98 \$22.57 \$27.58 \$23.42 28 Sewer Cap NA N/A N/A Total Bill \$22.57 \$27.58 \$23.42 N/A N/A NA 27 \$8.46 26 Keystone Club Est. 6,500 Gase \$4.97 \$6.07 \$8.46 NA NA N/A \$4.97 \$8.07 N/A N/A \$4.97 \$6.07 29 NVA \$17.60 \$21.51 \$14.98 \$2.53 N/A N/A Gallonage \$2.07 \$1.76 N/A N/A N/A \$17.60 \$21.51 \$14.96 30 \$22.57 \$27.58 \$23.42 NVA \$22.57 \$27.58 \$23.42 Sewer Cap N/A N/A N/A Total Bill N/A NA 31 32 Lakeside 3/ 6.500 Rasa \$5.13 \$8.26 \$8,46 N/A N/A \$8.46 N/A N/A \$5.13 \$8,28 \$6.46 NA \$5.13 \$6.28 NVA 33 N/A \$10.46 \$12.75 \$14.98 Gallonage \$1,23 \$1 50 \$1.76 NVA N/A N/A \$10.46 \$12.75 \$14.96 N/A 34 \$23.42 N/A N/A NA \$15.59 \$19.01 \$23.42 Sewer Cap NA NA N/A Total Bill \$15.59 \$19.01 35 36 Lehigh 6,500 \$9.03 \$11.02 \$8.48 \$15.45 \$19.60 \$17.21 \$9.03 \$11.02 \$8.48 \$15.45 \$19.60 \$17.21 \$24.46 \$30.82 \$25.67 Base 37 \$23.18 \$28.50 \$43.56 \$43.48 Gallonage \$2.40 \$2.93 \$1.78 \$3.86 \$4.90 \$4.75 \$20.40 \$24.91 \$14.98 \$29.40 \$54.31

\$29.43

Total Bill

\$35,93

\$23.42

\$38.81

\$49.00

845.71

\$68,04

\$84.93

\$89.13

6,000

6.000

6,000

ö

36

Sewer Cap

Company: SSU / Total Company - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [x] Interim [] Final [x] Historical [x] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x] Uniform [X]

FPSC Schedule: Rate and Billout Summary Page 2 of 9 Precerer: Bencini

Explanation: Provide a calculation of residential bill at current, proposed interim, and proposed final rates (7) (8) (10) (11) (12) (13) (14) (15) (17) (1) (2) (3)(8)(8) (16) Water and Wastewater Bills at 8500 Gallons Usage RATES Water Combined 8500 Gal. Water Wastewater Westewater Line Present Finel Water Use 1/ Present Interior Final Present Interim Final Present Interim Final Interim Final Present Interim Plant No. \$9.35 \$11.41 Paim Valley 8,500 Base \$9.35 \$11.41 \$8.46 N/A N/A N/A \$R 46 N/A N/A N/A \$9.35 \$11.41 \$8.46 39 Gallonage 40 N/A N/A \$0.00 \$5.28 N/A \$0.00 41 0 - 3,000 \$0.00 \$0.00 \$1.76 N/A \$0.00 N/A N/A \$0.00 \$5.28 N/A N/A \$5.17 \$8.33 \$9.68 N/A N/A N/A \$5.17 \$8,33 \$9.68 42 All Excess \$0.94 \$1.15 \$1.76 N/A \$23.42 N/A N/A N/A Total Bill \$14.52 \$17.74 N/A N/A N/A \$14.52 \$17,74 \$23.42 43 Sewer Cap 44 Base \$20.30 \$24 78 \$8.46 N/A N/A N/A \$20.30 \$24.78 \$8.46 N/A N/A N/A \$20,30 \$24.76 \$8.48 45 Remington Forest 8.500 \$0.00 N/A \$0.00 \$14.98 N/A N/A N/A 46 Geffonage \$0.00 \$0.00 \$1.76 N/A N/A \$0.00 \$0.00 \$14.96 ΝA N/A \$20.30 \$24.78 \$23.42 N/A N/A N/A \$20.30 \$24.78 \$23.42 NIA 47 Sewer Cap 48 **ES 48** \$8.31 \$10.54 \$17.21 \$6.68 \$8.40 \$8.46 \$8.31 \$10.54 \$17.21 \$15.19 \$18.04 \$25.87 \$8.88 \$8.40 49 Spring Gardens 3/ 8.500 Base 50 \$1.76 \$2.48 \$3,15 \$4.75 \$8.76 \$10.71 \$14.96 \$14.88 \$18.90 \$28.50 \$23.64 \$29.61 \$43.48 Gallonage \$1.03 \$1.28 Total Bill \$15.64 \$19.11 \$23.42 \$23 19 \$29,44 \$45.71 \$38.83 \$69.13 6,000 \$48.55 51 8.000 6.000 Sewer Cap 52 N/A \$13.33 N/A N/A \$13.33 \$16.91 \$44.09 N/A N/A \$18.91 \$44.09 \$13.33 \$18.91 \$44.09 53 Tropical Isles 4/ Base N/A \$0.00 \$0.00 N/A \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 N/A N/A N/A \$0.00 \$0.00 54 Gallonage 55 N/A N/A N/A 8,000 6,000 6,000 Total Bill N/A N/A \$13.33 \$18.91 \$44.09 \$13,33 \$18,91 \$44.09 Sewer Cap 56 \$10.77 \$17.21 \$6.39 \$7.80 \$8.46 \$8.49 \$10.77 \$17.21 \$14.88 \$18.57 \$6.39 \$7.80 \$8.46 \$8.49 \$25.67 57 8.500 Rase Valencia Terrace 3/ \$13.28 Gallonage \$0.87 \$0.82 \$1.76 \$1.56 \$1.96 \$4.75 \$5.70 \$6.97 \$14.96 \$16.83 \$28.50 \$16.96 \$23,80 56 9.725 9.725 8,000 Total Bill \$12.09 \$14.77 \$23.42 \$21.75 \$27.60 \$45,71 \$33.84 \$42.37 59 Sewer Cap 60 81 **County Plants:** 62 N/A \$4.46 \$5.47 **CR 48** N/A N/A N/A \$4.49 \$5.47 \$8,46 63 Gibsonia Estates 8,500 Base \$4.46 \$5.47 \$8.46 N/A N/A Gallonage \$1,76 N/A N/A N/A \$4.59 \$5.61 \$14.98 N/A N/A N/A \$4.59 \$5.81 \$14.98 \$0.54 \$0.66 64 65 N/A N/A N/A Total Bill \$9.07 \$11.09 \$23,42 N/A N/A N/A \$9.07 \$11.08 \$23,42 Sewer Cap 66 8.500 Base \$2 60 \$3.17 \$8.46 N/A ΝA N/A \$2.60 \$3.17 \$8.46 NVA N/A N/A \$2.60 \$3,17 \$8.46 67 Hershel Heights Gallonage 66 \$11.48 0.9000 \$1,11 \$1.35 \$1.78 N/A N/A N/A \$9.44 \$14.98 NVA N/A N/A \$9.44 \$11.48 \$14.98 69 70 All Excess \$1.56 \$1.90 \$1.78 N/A N/A N/A \$0.00 \$0.00 \$0.00 N/A N/A N/A \$0.00 \$0.00 \$0.00 Total Bill \$14.65 \$23.42 \$12.04 \$14.65 71 Sewer Cap N/A N/A N/A \$12.04 N/A N/A N/A \$23.42 72 \$9.46 73 Lake Gibson Estates 5/ 8,500 Base \$5.89 \$7.19 \$8.46 \$22.50 \$26.55 \$17.21 \$5 89 \$7.19 \$22.50 \$29.55 \$17.21 \$28 39 \$35.74 \$25,67 \$1.76 \$0.00 \$4.75 \$7.23 \$8.64 \$14.98 \$0.00 \$0.00 \$26.50 \$7.23 \$8.64 \$43.46 74 Gallonage \$0.85 \$1.04 \$0.00 Total Bill \$28.55 \$45.71 75 Sewer Cap 6,000 \$13.12 \$18.03 \$23.42 \$22,50 \$35.62 \$44.58 \$89,13 78 8,500 \$8.15 \$9.95 \$8,46 N/A N/A N/A \$8.15 \$9.95 \$8.48 N/A \$8.15 \$9.95 18,46 77 Orange Hill / Sugar Creek Rase \$10.20 N/A N/A N/A \$10.20 \$12.41 \$14.96 \$12.41 78 Gallonage \$1.20 \$1.46 \$1.78 NVA N/A N/A \$14,98

N/A

NVA

Total Bill

N/A

\$18.35

\$22,36

\$23.42

N/A

N/A

N/A

\$18.35

\$22.36

\$23,42

8

79

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - 8,500 GALLONS MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/6" Motor)

Company: SSU / Total Company - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [x] Interim [] Final [x] Historical [x] Projected [x]

Present. FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x] Uniform [x]

FPSC

Schedule: Rete and Billout Summary

Page 3 of 9 Preparer: Bencini

Explanation: Provide a calculati	Explanation: Provide a calculation of residential bill at current, proposed interim, and proposed final rates.															
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)

				RATES									Water an	d Wastewa	ter Bills at	8500 Gal	lons Usage	,	
Line		8500 GAL			Water			Wastawata	<u> </u>		Water				Wastewate			Combined	
No.	Plant	Water Use 1	ı	Present	Interim	Final	Present	Interim	Final		Present	interim	Final	Present	interim	Final	Present	Interim	Final
80	Seaboard	8,500	Base	\$9.09	\$11.10	\$6.46	\$19.18	\$24.31	\$17.21		\$9.09	\$11.10	\$6.46	\$19.18	\$24.31	\$17.21	\$28.25	\$35.41	\$25.87
81		0,000	Gallonage	\$0.00	•11.10	\$ 0.40	4 (8.10	424.01	#17.21		46.08	\$11.10	\$0.40	#10.10	\$24.31	#17.21	#20.20	\$33.41	#20.01
81			0 - 9,000	\$1.54	\$1.68	\$1.78	\$2.98	\$3.78	\$4.75		\$13.09	\$15.98	\$14.96	\$25,33	\$32.13	\$28.50	\$38.42	\$48.11	\$43,46
82			All Excess	\$2.00	\$2.44	\$1.78	\$2.98	\$3.78	\$4.75		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
82			Sewer Cap	-			10,000	10,000	6,000	Total Bi		\$27.08	\$23.42	\$44.49	\$50.44	\$45.71	\$66.67	\$83.52	\$69.13
83								10,000	4,000			427.000	••••	• • • • • • • • • • • • • • • • • • • •	400.11	• 10	••••	••••	***************************************
84	Spring Hill	8,500	Base	\$5.05	\$6.18	\$6.46	\$12.26	\$15.55	\$17.21		\$5.05	\$6.16	\$6,46	\$12.26	\$15.55	\$17.21	\$17.31	\$21.71	\$25.87
85			Gallonage	\$1.21	\$1,48	\$1.76	\$3.54	\$4.49	\$4.75		\$10.29	\$12.58	\$14.96	\$21.24	\$26.94	\$28.50	\$31.53	\$39.52	\$43.46
68			Sewer Cap	-	-	-	6.000	8.000	6.000	Total Bi		\$18.74	\$23.42	\$33.50	\$42.49	\$45.71	\$48.84	\$61.23	\$69.13
87							•,	-,000	-,			410.14	420. -12	•••	• 12.10	4-10 .77	0.0,27	407.20	••••
88	Vairico Hills 5/	8,500	Base	\$9.50	\$11.80	\$6.46	\$10.00	\$12.69	\$17.21		\$9.50	\$11.60	\$8.46	\$10.00	\$12.69	\$17.21	\$19.50	\$24.29	\$25.87
89			Gallonage	\$0.60	\$0.73	\$1.76	\$0.00	\$0.00	\$4.75		\$5.10	\$6.21	\$14.98	\$0,00	\$0.00	\$28.50	\$5.10	\$6.21	\$43.48
90			Sewer Cap					•	6.000	Total Bi		\$17.81	\$23.42	\$10.00	\$12.69	\$45.71	\$24.80	\$30.50	\$69.13
ļ	PROPOSED REVERSE OS	MOSIS TR	EATMENT:																
91	PROPOSED REVERSE OSMO	212																	
92	TREATMENT - SUMMARY:	8,500	Bese	varies	varies	\$23.62	varies	varies	\$17.21		varies	varies	\$23.62	varies	varies	\$17.21	varies	varies	\$40.83
93		0,000	Gallonage	varies	varies	\$3.27	varies	varies	\$4.75		varies	varies	\$27.90	varies	varies	\$28.50	varies	varies	\$56.30
94			Sewer Cap	748 702	VE 105	#3.27	varies	varies	8.000	Total Bi		ARNES	\$51.42		AMILIAR	\$45.71	VAIL NOS	AM 102	\$97.13
95			COM COL	•	•	•	1883	THE 103	0,000	TO ZEE DE	n .		\$31.42			\$40,£1			997.13
96	Burnt Store	8,500	Base	\$5.13	\$6.26	\$23.62	\$12.87	\$16.07	\$17.21		\$5.13	\$6.26	\$23.62	\$12.67	\$18.07	\$17.21	\$17.90	\$22.33	\$40.83
97		0,000	Gallonage	\$1.23	\$1.50	\$3,27	\$3.66	\$4.84	\$4.75		\$10.46	\$12.75	\$27.80	\$21.98	\$27.84	\$28.50	\$32.42	\$40.59	\$58.30
98			Sewer Cap	41.23	\$1.50	4 3.27	6,000	8,000	8,000	Total Bi		\$19.01	\$51.42	\$34.63	\$43.91	\$45.71	\$50.22	\$62.92	\$97.13
99			Ottor Cap	-	-	•	0,000	6,000	6,000	1028 6	H 313.59	\$19.01	\$51.4Z	\$34.03	\$43.91	\$40.7 T	\$30.22	\$02.82	\$87.13
100	Marco Island	8.500	Bese	\$7.68	\$9.82	\$23.62	\$11.10	\$14.08	\$17.21		\$7.68	\$9.62	\$23.62	\$11.10	\$14.08	\$17,21	\$16.96	\$23.70	\$40.83
101		-,	Gallonage	\$2.96	\$3.81	\$3.27	\$3.20	\$4.06	\$4.75		\$25.16	\$30.69	\$27.60	\$27.20	\$34.51	\$28.50	\$52.36	\$85.20	\$56.30
102			Sewer Cap			-3.27	10.000	10.000	6.000	Total Bi	4	\$40.31	\$51.42	\$38.30	\$48.59	\$45.71	\$71.34	\$88.90	\$97.13

^{1/ 8,500} Gallions is the total company average residential monthly water use per bill.

^{2/} Includes all proposed conventional treatment plants, including acquisitions.

^{3/} These plants were not part of SSU in 1994. Lakeside, Spring Gardens, and Valencia Terrace were acquired during 1995. Buenaventura Lakes is scheduled for acquisition in 1996. Please refer to Vol. V-A, Book 1 of 1, Schedule E-13 for information on billing data.

^{4/} This plant has Residential Wastewater Only service.

^{5/} These plants had no wastewater caps in 1994 and 1995 (flat rates were charged).

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - 19,000 GALLONS MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/8" Meter)

Company: SSU / Total Company - Summary Docket No.: 950495-WS

Schedule Year Ended: 12/31/96 Weter [x] Westewater [x] Interim () Final (x)

Internit () Final (x)
Historical (x) Projected (x)
Present: FPSC Uniform (x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)
Proposed: Conventional (x) Revense Osmosis (x) Uniform (x)

FP8C

Schedule: Rate and Billout Summary

Page 4 of 9
Preparer: Bencini

	(1)	(2)		(3)	(4)	(5)	(8)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
							ATES					Water an	d Wastewai	er Bille et f	10000 G=II	one Henne		
ne		10000 GaL			Water		A123	Wastewater			Water	*******	d Hesting	Wastawate		ons Osage	Combined	
0.	Plant	Water Use		Present	Interim	Final	Present	Interim	Final	Present	Interim	Final	Present	interim	Final	Present	interim	Finel
_	PROPOSED CONVENTIONA	L TREAT	MENT:															
1	PROPOSED CONVENTIONAL																	
2	TREATMENT - SUMMARY: 1/	10,000	Base	varies	varies	\$8.46	varies	varies	\$17.21	varies	varies	\$8.46	varies	varies	\$17.21	varies	varies	\$25.67
3			Gallonage	variss	variss	\$1.78	varies	varies	\$4.75	varies	varies	\$17.60	varies	varies	\$28.50	varies	varies	\$46.10
4			Sewer Cap	-	-		varies	varies	6,000	Total Bill		\$26.06			\$45.71			\$71.77
6	Present Uniform:	10,000	Base	\$5.13	\$8.26	\$8.46	\$12.67	\$16.07	\$17.21	\$5.13	\$8.26	\$8.46	\$12.67	\$16.07	\$17.21	\$17.80	\$22.33	\$25.67
7	(Excluding Burnt Store)		Galionage	\$1.23	\$1.50	\$1 76	\$3.68	\$4.64	\$4.75	\$12.30	\$15.00	\$17.60	\$21.96	\$27.84	\$28.50	\$34.26	\$42.84	\$46.10
6			Sewer Cap		•	-	6,000	6,000	6,000	Total Bill \$17.43	\$21.26	\$26.08	\$34.63	\$43.91	\$45.71	\$52.08	\$65.17	\$71.77
10	FPSC Jurisdiction Non-Uniform	n:																
11 12	Buenaventura Lakes 2/	10.000	Везе	\$4.55	\$4.55	\$8.46	\$8.57	\$8.57	\$17.21	\$4.55	\$4.55	\$8,46	\$8.57	\$8.57	\$17.21	\$13.12	*40.40	***
13	DOSHOVERIUS DENOS 27	10,000	Gallonage	\$1.24	\$1.24	\$1.78	\$4.50	\$4.50	\$4.75	\$12.40	\$12.40	\$17.60	\$45.00	\$45.00	\$26.50	\$57.40	\$13.12 \$57.40	\$25.67 \$46.10
14			Sewer Cap	•1.24	41.24	*1	10,000	10,000	6,000	Total Bill \$16.95	\$16.95	\$26.08	\$53.57	\$53.57	\$45.71	\$70.52	\$70.52	\$71.77
15							,	,	-,	710.00	• • • • • • • • • • • • • • • • • • • •	V 20.00		450.07	•	\$10.0L	#1 U.UL	•/ 1.//
16	Deep Creek	10,000	Base	\$13.69	\$18.71	\$8.48	\$19.40	\$24.61	\$17.21	\$13.69	\$16.71	\$8.46	\$19.40	\$24.61	\$17.21	\$33.09	\$41.32	\$25.67
17			Gallonage	\$4.12	\$5.03	\$1.76	\$3.97	\$5.04	\$4,75	\$41.20	\$50.30	\$17.60	\$39.70	\$50.40	\$28.50	\$80.90	\$100.70	\$46.10
16 19			Sewer Cap	•	-	•	10,000	10,000	6,000	Total Bill \$54.89	\$87.01	\$26.08	\$59.10	\$75.01	\$45,71	\$113.99	\$142.02	\$71.77
20	Enterprise	10,000	Base	\$8.58	\$10.47	\$8.46	\$13.11	\$16.63	\$17.21	\$8.58	\$10.47	\$8.46	\$13,11	\$16.63	\$17.21	\$21.89	\$27.10	\$25.67
21	•		Galionage	\$2.21	\$2.70	\$1.76	\$3.01	\$3.82	\$4.75	\$22.10	\$27.00	\$17.60	\$30.10	\$38.20	\$26.50	\$52.20	\$65.20	\$46.10
22 23			Sewer Cap		•	-	10,000	10,000	6,000	Total Bill \$30.68	\$37.47	\$26.08	\$43.21	\$54.63	\$45.71	\$73.89	\$92.30	\$71.77
24	Geneva Lake Estates	10,000	Везе	\$4.97	\$6.07	\$8.46	N/A	N/A	N/A	\$4.97	\$8.07	\$8.46	N/A	N/A	N/A	\$4.97	\$6.07	\$8.48
25			Gallonage	\$2.07	\$2.53	\$1.76	N/A	N/A	N/A	\$20.70	\$25.30	\$17.60	N/A	N/A	N/A	\$20.70	\$25.30	\$17.60
26 27			Sewer Cap	•	-	-	N/A	N/A	N/A	Total Bill \$25.67	\$31.37	\$26.08	N/A	N/A	N/A	\$25.67	\$31.37	\$26.08
28	Keystone Club Est.	10.000	Base	\$4.97	\$6.07	\$8.48	N/A	N/A	N/A	\$4.97	\$6.07	\$8.46	N/A	N/A	N/A	\$4.97	\$6.07	\$8.46
29			Gallonage	\$2.07	\$2.53	\$1.78	N/A	N/A	N/A	\$20.70	\$25.30	\$17.60	N/A	N/A	N/A	\$20.70	\$25.30	\$17.60
30 31			Sewer Cap	-	•	•	N/A	N/A	N/A	Total Bill \$25.67	\$31.37	\$26.06	N/A	N/A	N/A	\$25.67	\$31.37	\$26.08
32	Lakeside 2/	10.000	Base	\$5.13	\$6.26	\$8.46	N/A	N/A	N/A	\$5.13	\$8.26	\$6.46	N/A	N/A	N/A	\$5.13	\$8,26	\$8.46
33		10,000	Gallonage	\$1.23	\$1.50	\$1.76	N/A	N/A	N/A	\$12.30	\$15.00	\$17.80	N/A	N/A	N/A	\$12.30	\$15.00	\$0.40 \$17.60
34			Sewer Cap		-	•	NA	N/A	NA	Total Bill \$17.43	\$21.26	\$26.08	N/A	N/A	NA	\$17.43	\$21.26	\$26.08
35 36	Lehigh	10,000	Base	\$9.03	\$11.02	\$8.46	\$15.45	\$19.60	\$17.21	\$9.03	\$11.02	\$8.46	\$15.45	\$19.60	\$17.21	\$24.46	\$30.62	\$25.67
37	-	-	Gallonage	\$2.40	\$2.93	\$1.76	\$3.86	\$4.90	\$4.75	\$24.00	\$29.30	\$17.60	\$23.16	\$29.40	\$26.50	\$47.16	\$58.70	\$46.10
38			Sewer Cap				6,000	6,000	6,000	Total Bill \$33.03	\$40.32	\$26.08	\$38.61	\$49.00	\$45.71	\$71.84	\$89.32	\$71.77

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - 10,000 GALLONS MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/8" Meter)

Company: SSU / Total Company - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water (x) Wastewater (x)
Interim () Final (x)
Historical (x) Projected (x)

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x] Proposed: Conventional [x] Reverse Osmosis [x] Uniform [x]

Schedule: Rate and Billout Summary

Page 5 of 9

Preparer: Bencini

	(1)	(2)		(3)	(4)	(5)	(8)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
						R	ATES					Water an	d Wastewat	ar Rills et 1	10000 Gall	one lieane		
Line		10000 Gal.			Water			Vastemater			Water	************	4 112504-450	Wastewate			Combined	
No.	Plent	Water Use		Present	Interim	Final	Present	Interim	Final	Present	interim	Final	Present	interim	Final	Present	Interim	Final
39	Paim Valley	10,000	Base	\$9.35	\$11.41	\$8.46	N/A		N/A		****	*0.40				****	****	***
40	ren very	10,000	Gallonage	\$9.3Q	\$11.41	₩0.40	NA	N/A	NA	\$9.35	\$11.41	\$8.46	NA	N/A	N/A	\$9.35	\$11.41	\$8.46
41			0 - 3,000	\$0.00	\$0.00	\$1.76	N/A	N/A	N/A	\$0.00	\$0.00	\$5,28	N/A	N/A	N/A	\$0.00	\$0.00	
42			All Excess	\$0.94	\$1.15	\$1.76	N/A	N/A	N/A	\$0.00 \$8.58	\$8.05	\$12.32	N/A	N/A	N/A	\$8.58	\$8.05	\$5.26 \$12.3
43			Sewer Cap	₽ U.5™	\$1.13	31.70	N/A	N/A	N/A	Total Bill \$15.93	\$19.46	\$26.08	N/A	N/A	N/A	\$15.93	\$19.46	\$28.00
44			Sowai Cap	•	•	•	TWA	re/A	IVA	100m DM \$15.95	\$19.40	\$20.00	NA	NA	NA	\$15.83	319.40	\$20.00
45	Reminaton Forest	10.000	Base	\$20.30	\$24.76	\$8.48	N/A	N/A	N/A	\$20,30	\$24,78	\$8.46	N/A	N/A	N/A	\$20.30	\$24.78	\$8,46
46		10,000	Gallonage	\$0.00	\$0.00	\$1.78	N/A	N/A	N/A	\$0.00	\$0.00	\$17.60	N/A	N/A	N/A	\$0.00	\$0.00	\$17.60
47			Sewer Cap	-		01.70	N/A	N/A	N/A	Total Bill \$20.30	\$24.78	\$28.06	N/A	N/A	N/A	\$20.30	\$24.78	\$26.0
48							1071	1071	107	1000 (00 \$20.00	424.70	420.00	, and	100	100	420.50	424.10	\$20.00
49	Spring Gerdens 2/	10,000	Base	\$8.68	\$8.40	\$8.46	\$8.31	\$10.54	\$17.21	\$8.68	\$8.40	\$8.46	\$8.31	\$10.54	\$17.21	\$15,19	\$18.94	\$25.87
50			Gallonage	\$1.03	\$1.28	\$1.76	\$2.46	\$3.15	\$4.75	\$10.30	\$12.60	\$17.60	\$14.68	\$18.90	\$28.50	\$25.18	\$31.50	\$46.10
51			Sewer Cap	-	-	•	6,000	6,000	6,000	Total Bill \$17.18	\$21.00	\$26.08	\$23,19	\$29.44	\$45.71	\$40.37	\$50.44	\$71.7
52							-,	0,000	0,000			4555	420/10		V-10.11	440.01	400.00	•
53	Tropical lates 3/	0	Bese	N/A	N/A	N/A	\$13,33	\$16,91	\$44.09	N/A	N/A	N/A	\$13.33	\$16,91	\$44.09	\$13.33	\$16.91	\$44.00
54	-		Gallonage	N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
55			Sewer Cap	N/A	N/A	N/A	8,000	6,000	6,000	Total Bill N/A	N/A	N/A	\$13.33	\$16.91	\$44.09	\$13.33	\$16,91	\$44.01
56															•			
57	Valencia Terrace 2/	10,000	Base	\$8.39	\$7.80	\$8.46	\$6.49	\$10.77	\$17.21	\$8,39	\$7.60	\$8.48	\$8.49	\$10.77	\$17.21	\$14.88	\$18.57	\$25.6
58			Gallonage	\$0.67	\$0.82	\$1.76	\$1.58	\$1.98	84.75	\$8.70	\$8.20	\$17.80	\$15.17	\$19.26	\$28.50	\$21.87	\$27.46	\$46.10
59			Sewer Cap	-			9,725	9,725	6,000	Total Bill \$13.09	\$16.00	\$26.08	\$23.66	\$30.03	\$45.71	\$36.75	\$46,03	\$71.7
80																		
61	County Plants:																	
82																		
63	Gibsonia Estates	10,000	Bese	\$4.46	\$5.47	\$8.46	N/A	N/A	N/A	\$4.48	\$5.47	\$8.46	N/A	N/A	NA	\$4.46	\$5.47	\$8,46
64			Gallonage	\$0.54	\$0.66	\$1.76	N/A	N/A	N/A	\$5.40	\$8.60	\$17.60	N/A	N/A	N/A	\$5.40	\$8.60	\$17.60
65			Sewer Cap	-	-	-	N/A	N/A	N/A	Total Bill \$9.88	\$12.07	\$26.06	N/A	N/A	N/A	\$9.88	\$12.07	\$28.0
66																		
67	Hershel Heights	10,000	Base	\$2.60	\$3.17	\$8.46	N/A	N/A	N/A	\$2.60	\$3.17	\$8.46	N/A	N/A	NA	\$2.60	\$3.17	\$8.46
66			Gallonage															
69			0 - 9,000	\$1.11	\$1.35	\$1.76	NA	N/A	N/A	\$9.99	\$12.15	\$15.84	N/A	N/A	NA	\$9.99	\$12.15	\$15.84
70			All Excess	\$1.56	\$1.90	\$1.76	N/ A	N/A	N/A	\$1.58	\$1.90	\$1.76	N/A	N/A	N/A	\$1.58	\$1.90	\$1.76
71			Sewer Cap	-	•	-	N/A	N/A	N/A	Total Bill \$14.15	\$17.22	\$26.08	N/A	N/A	N/A	\$14.15	\$17.22	\$26.0
72																		
73	Lake Gibson Estates 4/	10,000	Base	\$5.89	\$7.19	\$8.46	\$22.50	\$28.55	\$17.21	\$5.89	\$7,19	\$8.48	\$22.50	\$28.55	\$17.21	\$26.39	\$35.74	\$25.67
74			Gallonage	\$0.65	\$1.04	\$1.76	\$0.00	\$0.00	84.75	\$8.50	\$10.40	\$17.60	\$0.00	\$0.00	\$28.50	\$8.50	\$10.40	\$46.10
75			Sewer Cap	-	•	•	•	•	6,000	Total Bill \$14.39	\$17.59	\$26.08	\$22.50	\$26.55	\$45.71	\$36.89	\$46.14	\$71.77
76			_	** **														
77	Orange Hill / Sugar Creek	10,000	Base	\$8.15	\$9.95	\$8.48	N/A	N/A	N/A	\$8 15	\$9.95	\$B.46	NA	N/A	NA	\$8.15	\$9.95	\$8.46
78			Gallonage	\$1.20	\$1.46	\$1.78	N/A	N/A	N/A	\$12.00	\$14.60	\$17.60	N/A	N/A	NA	\$12.00	\$14.60	\$17.60
79			Sewer Cap	-	-	-	N/A	NA	N/A	Total Bill \$20.15	\$24.55	\$26.06	N/A	N/A	N/A	\$20.15	\$24.55	\$26.06

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - 10,000 GALLONS MONTHLY WATER USE PER BILL Present, interim and Proposed Rates (5/8" Meter)

Company: SSU / Total Company - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [x] Interim [] Finel (x) Historical [x] Projected [x]

Present, FPSC Uniform (x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)

Procesed: Conventional [x] Reverse Osmosia [x] Uniform [x]

(1)

Explanation: Provide a calculation of residential biflet current, proposed interim, and proposed final rates.

(7)

EDGC

(11)

(10)

(12)

(13)

Page 6 of 9

(14)

Preparer: Bencini

Schedule: Rate and Billout Summary

(15)

(18)

(17)

	1,7	. ,			. ,													
						R	ATES				Water and Wastewater Bills at 10000 Gallone Usage							
Line		10000 Gal.			Water			Vantewater			Water			Wastewate	•		Combined	$\overline{}$
No.	Plant	Water Use		Present	interim	Final	Present	interim	Final	Present	hrkerim	Final	Present	interim	Firmai	Present	Interim	Finel
80	Seaboard	10,000	Base	\$9.09	\$11.10	\$8.46	\$19.16	\$24.31	\$17.21	\$9.09	\$11.10	\$6.46	\$19.16	\$24.31	\$17.21	\$28.25	\$35.41	\$25.67
61			Gellonage															
81			0 - 9,000	\$1.54	\$1.88	\$1.78	\$2.98	\$3.76	\$4.75	\$13.86	\$16.92	\$15.84	\$29.80	\$37.80	\$26.50	\$43.66	\$54.72	\$44.34
82			All Excess	\$2.00	\$2.44	\$1.78	\$2.98	\$3.78	\$4.75	\$2.00	\$2.44	\$1.76	\$0.00	\$0.00	\$0.00	\$2.00	\$2.44	\$1.76
62			Sewer Cap		-		10,000	10,000	8,000	Total Bill \$24.95	\$30.46	\$26.06	\$48.90	\$62.11	\$45.71	\$73.91	\$92.57	\$71.77
83																		
84	Spring Hill	10,000	Base	\$5.05	\$6.16	\$8.46	\$12.26	\$15.55	\$17.21	\$5.05	\$6.18	\$8,46	\$12.26	\$15.55	\$17.21	\$17.31	\$21.71	\$25.67
85	, -		Gallonage	\$1.21	\$1.48	\$1.76	\$3.54	\$4.49	\$4.75	\$12.10	\$14.80	\$17.80	\$21.24	\$26.94	\$28.50	\$33.34	\$41.74	\$46.10
86			Sewer Cap	-		-	6,000	8,000	6,000	Total Bill \$17.15	\$20.96	\$26.08	\$33.50	\$42.49	\$45.71	\$50.65	\$63.45	\$71.77
87																		
88	Vetrico Hills 4/	10,000	Bese	\$9.50	\$11.60	\$8,46	\$10.00	\$12.69	\$17.21	\$9.50	\$11.60	\$6.46	\$10.00	\$12.69	\$17.21	\$19.50	\$24.29	\$25.87
69			Gallonage	\$0.60	\$0.73	\$1.76	\$0.00	\$0.00	\$4.75	\$6.00	\$7.30	\$17.60	\$0.00	\$0.00	\$26.50	\$8.00	\$7.30	\$46.10
90			Sewer Cap	-	-			-	6,000	Total Bill \$15.50	\$16.90	\$26.08	\$10.00	\$12.69	\$45.71	\$25.50	\$31.59	\$71.77
	PROPOSED REVERSE OS	MOSIS TR	EATMENT:															
91	PROPOSED REVERSE OSMO	918																
92	TREATMENT - SUMMARY:	10,000	Base	veries	varies	\$23.62	varies	varies	\$17.21	varies	varies	\$23.62	varies	varies	\$17.21	varies	varies	\$40.83
93			Gallonage	varies	varies	\$3.27	varies	varies	\$4.75	<u>varies</u>	varies	\$32.70	varies	varies	\$28.50	varies	varies	\$81.20
94			Sewer Cap	-	-	-	varies	varies	6,000	Total Bill		\$56.32	_		\$45.71			\$102.03
95																		
98	Burnt Store	10,000	Base	\$5.13	\$8.26	\$23.82	\$12.67	\$16.07	\$17.21	\$5.13	\$6.26	\$23.82	\$12.87	\$16.07	\$17.21	\$17.60	\$22.33	\$40.83
97			Gallonaga	\$1.23	\$1.50	\$3.27	\$3.86	\$4.64	\$4.75	\$12.30	\$15.00	\$32.70	\$21.98	\$27.64	\$26.50	\$34.26	\$42.84	\$61.20
98			Sewer Cap	-	-	-	6,000	6,000	6,000	Total Bill \$17.43	\$21.26	\$56.32	\$34.63	\$43.91	\$45.71	\$52.08	\$65.17	\$102.03
99																		
100	Marco Island	10,000	Base	\$7.86	\$9.62	\$23.62	\$11.10	\$14.08	\$17.21	\$7.88	\$9.62	\$23.62	\$11.10	\$14.08	\$17.21	\$18.98	\$23.70	\$40.83
101			Gallonage	\$2.98	\$3.61	\$3.2T	\$3.20	\$4.06	\$4.75	\$29.80	\$36.10	\$32.70	\$32.00	\$40.60	\$26.50	\$61.60	\$76.70	\$61.20
102			Sewer Cap	-		-	10,000	10,000	6,000	Total Bill \$37.48	\$45.72	\$56.32	\$43.10	\$54.66	\$45.71	\$80.58	\$100.40	\$102.03

^{1/} Includes all proposed conventional treatment plants, including acquisitions.

^{2/} These plants were not part of SSU in 1994. Lakeside, Spring Gardens, and Valencia Terrace were acquired during 1995. Buenaventura Lakes is scheduled for acquisition in 1996. Please refer to Vol. V-A, Book 1 of 1, Schedule E-13 for information on billing data.

^{3/} This plant has Residential Wastewater Only service.

^{4/} These plants had no wastewater caps in 1994 and 1995 (figt rates were charged).

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - AVERAGE MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/8" Meter)

Company: \$SU / Total Company - Summary Docket No.: 950495-WS

Schedule Year Ended: 12/31/96 Water [x] Wastewater [x] Interim [] Final [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x] Proposed. Conventional [x] Reverse Osmosis [x] Uniform [x]

FPSC Schedule: Rate and Billout Summary Page 7 of 9 Preparer: Bencini

Explanation: Provide a calculation of residential bill et current, proposed interim, and proposed final rates. (1) (6) (7) (8) (9) (10) (11) (12) (13) (14) (15) (16) (17)

	(1)	(2)		(3)	(4)	(3)	(6)	(1)	(0)		(8)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
						- 6	TATES						Water and Wastewater Bills at 1994 Wastewater			1994 Ave	rage Usag		
Line		1994 Ave.			Water			Wastewate				Water			Wastewater			Combined	
No.	Plant	Water Use		Present	interim	Final	Present	interim	Final		Present	interim	Final	Present	interim	Final	Present	Interim	Finel
	PROPOSED CONVENTION	AL TREAT	MENT:																
1	PROPOSED CONVENTIONAL																		
2	TREATMENT - SUMMARY: 1/	7,911	Base	varies	varies	\$8.46	varies	varies	\$17.21		varies	varies	\$8.40	varies	varies	\$17.21	varies	varies	\$25.67
3			Gallonage	varies	varies	\$1.76	varies	varies	\$4.75		varies	varies	\$13.92	varies	varies	\$28.50	varies	varies	\$42.42
4			Sewer Cep		-	-	varies	varies	6,000	Total Bill			\$22.38			\$45.71			\$68.09
6	Present Uniform:	6.513	Base	\$5.13	\$6.26	\$8.46	\$12.67	\$16.07	\$17,21		\$5.13	\$6,26	\$8,46	\$12.67	\$16.07	\$17.21	\$17.80	\$22.33	\$25.67
7	(Excluding Burnt Store)	-•	Gallonage	\$1.23	\$1.50	\$1.76	\$3.66	\$4.64	\$4.75		\$10.47	\$12.77	\$14.98	\$21.96	\$27.64	\$28.50	\$32.43	\$40.61	\$43.48
8			Sewer Cap	*	•	•	6,000	6,000	6,000	Total Bill		\$19.03	\$23.44	\$34.63	\$43.91	\$45.71	\$50.23	\$62.94	\$89.15
10 11	FPSC Jurisdiction Non-Uniform	л:																	
12	Buenaventura Lakes 2/	5.133	Base	\$4.55	\$4.55	\$8.40	\$8.57	\$8.57	\$17.21		\$4.55	\$4.55	\$6.46	\$8.57	\$8.57	\$17.21	\$13.12	\$13.12	\$25.67
13		0,100	Gallonage	\$1.24	\$1.24	\$1.76	\$4.50	\$4.50	\$4.75		\$8.36	\$8.36	\$9.03	\$23.10	\$23.10	\$24.38	\$29.48	\$29.46	\$33.41
14			Sewer Cep		****	•	10.000	10,000	6,000	Total Bill	\$10.91	\$10.91	\$17.49	\$31.67	\$31.67	\$41.59	\$42.58	\$42.58	\$59.08
15			•				10,000	, -,000	-,000		V 10.01	410.41	411.40	401.07	401.01	411.00	\$ 11Z.50	-12.00	\$50.00
16	Deep Creek	5,251	Base	\$13.69	\$16.71	\$8.46	\$19.40	\$24.81	\$17.21		\$13.69	\$16.71	\$8.46	\$19.40	\$24.61	\$17.21	\$33.09	\$41.32	\$25.67
17			Gallonage	\$4.12	\$5.03	\$1.76	\$3.97	\$5.04	\$4.75		\$21.63	\$26.41	\$9.24	\$20.85	\$26.47	\$24.94	\$42.48	\$52.68	\$34.18
18			Sewer Cep	•	-	-	10,000	10,000	6,000	Total Bill	\$35.32	\$43.12	\$17.70	\$40.25	\$51.08	\$42.15	\$75.57	\$94.20	\$59.85
19	Fatanaiaa	7.000		***															
20	Enterprise	7,293	Base	\$8.58 \$2.21	\$10.47	\$8.46	\$13.11	\$16.63	\$17.21		\$8.58	\$10.47	\$8.46	\$13.11	\$16.63	\$17.21	\$21.69	\$27.10	\$25.67
21 22			Gallonage Common Comm	\$2.21	\$2.70	\$1.78	\$3.01	\$3.82	\$4.75		\$16.12 \$24.70	\$19.69	\$12.84	\$21.95	\$27.88 \$44.49	\$28.50	\$38.07	\$47.55	\$41.34
23			Sewer Cap			•	10,000	10,000	6,000	Total Bill	\$24.70	\$30.16	\$21.30	\$35.08	\$44,49	\$45.71	\$59.78	\$74.65	\$87.01
24	Geneva Lake Estates	8,110	Base	\$4.97	\$8.07	\$8.48	N/A	N/A	N/A		\$4.97	\$8.07	\$8.46	N/A	N/A	N/A	\$4.97	\$8.07	\$8.46
25			Gallonage	\$2.07	\$2.53	\$1.76	N/A	N/A	N/A		\$16.79	\$20.52	\$14.27	N/A	NA	N/A	\$16.79	\$20.52	\$14.27
26			Sewer Cap			•	N/A	N/A	N/A	Total Bill	\$21.78	\$26.59	\$22.73	N/A	N/A	N/A	\$21.76	\$26.59	\$22.73
27	Kanadana Ol A Fai			44.07															
26	Keystone Club Est.	6,287	Sase	\$4 97	\$6.07	\$8.46	N/A	N/A	N/A		\$4.97	\$6.07	\$6.48	NA	N/A	NA	\$4.97	\$6.07	\$8.46
29 30			Gallonage	\$2.07	\$2.53	\$1.76	N/A	N/A	N/A		\$13.01	\$15.91	\$11.07	N/A	N/A	N/A	\$13.01	\$15.91	\$11.07
31			Sewer Cap	-	-	•	N/A	N/A	N/A	Total Bill	\$17.98	\$21.96	\$19.53	N/A	N/A	N/A	\$17.98	\$21.98	\$19.53
32	Lakaside 2/	6,910	Sase	\$5.13	\$8.26	\$8.46	N/A	N/A	N/A		\$5.13	\$8,26	\$8.46	N/A	N/A	N/A	\$5.13	\$8,28	\$8,48
33			Gallonage	\$1.23	\$1.50	\$1.78	NA	N/A	N/A		\$8.50	\$10.37	\$12.16	N/A	N/A	N/A	\$8.50	\$10.37	\$12.16
34 35			Sewer Cap	•	•		N/A	N/A	N/A	Total Bill	\$13.63	\$16.63	\$20.62	NA	N/A	N/A	\$13.63	\$16.63	\$20.62
36	Lehigh	3.348	Base	\$9.03	\$11.02	\$8.48	\$15.45	\$19.60	\$17.21		\$9.03	\$11.02	\$8.46	\$15.45	\$19.80	\$17.21	\$24,48	\$30.62	\$25.67
37		0,040	Gallonage	\$2.40	\$2.93	\$1.76	\$3.88	\$4.90	\$4.75		\$8.04	\$9.81	\$5.89	\$15.45 \$12.92	\$16.41	\$15.90	\$20.96	\$28.22	\$25.79
38			Sewer Cap	4270	72.50	41.70	8.000	6,000	6,000	Total Bill		\$20.83	\$14.35	\$28.37	\$38.01	\$33.11	\$45.44	\$56.B4	\$47.48
							-,	-,	-,			44.0.40	4				A 10, 17		

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - AVERAGE MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/6" Meter)

Company: \$\$U / Total Company - Summary Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Schedule Year Ended: 123 190
Water [x] Wastewater (x)
Interim [] Final [x]
Historical [x] Projected [x]
Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-juriadiction [x]
Proposed: Conventional [x] Reverse Osmosis [x] Uniform [x]

Schedule: Rate and Billout Summary

Page 8 of 9 Preparer: Bencini

Explanation: Pr	Provide a calculation of residential bill at current, p	roposed interim, and proposed final rates.

	(1)	(2)		(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
						F	ATES					Water an	d Wastews	ter Billa at	1994 Ave	rage Usag	•	
Line		1994 Ave.			Water			Wastewater			Water			Mastewater			Combined	
No.	Plant	Water Use		Present	interim	Final	Present	interim	Final	Present	Interim	Finel	Present	Interim	Finel	Present	Interim	Finel
39 40	Palm Valley	9,186	Base Gallonage	\$9.35	\$11.41	\$8.46	N/A	N/A	N/A	\$9.35	\$11.41	\$8.46	N/A	N/A	N/A	\$9.35	\$11.41	\$8.46
41			0 - 3,000	\$0.00	\$0.00	\$1.78	N/A	N/A	N/A	\$0.00	\$0.00	\$5.28	N/A	N/A	N/A	\$0.00	\$0.00	\$5.28
42			All Excess	\$0.94	\$1.15	\$1.78	N/A	N/A	N/A	\$5.81	\$7.11	\$10.89	N/A	N/A	N/A	\$5.61	\$7.11	\$10.89
43 44			Sewer Cap	-	•	-	N/A	N/A	N/A	Total Bill \$15.16	\$18.52	\$24.63	N/A	N/A	N/A	\$15.16	\$16.52	\$24.63
45	Remington Forest	12,091	Base	\$20.30	\$24.76	\$6.46	N/A	N/A	N/A	\$20.30	\$24,78	\$8.46	N/A	N/A	N/A	\$20.30	\$24.78	\$8.46
46			Gallonage	\$0.00	\$0.00	\$1.78	N/A	N/A	N/A	\$0.00	\$0.00	\$21.28	N/A	N/A	N/A	\$0.00	\$0.00	\$21.28
47 46			Sewer Cap	-	•	•	N/A	N/A	N/A	Total Bili \$20.30	\$24.76	\$29.74	N/A	N/A	N/A	\$20.30	\$24.78	\$29.74
49	Spring Gardens 2/	4,028	Base	\$8.86	\$8.40	\$8.46	\$8.31	\$10.54	\$17.21	\$8.88	\$8.40	\$8.46	\$8.31	\$10.54	\$17.21	\$15.19	\$18.94	\$25.67
50			Gallonage	\$1.03	\$1.26	\$1.78	\$2.46	\$3.15	\$4.75	\$4.15	\$5.08	\$7.09	\$9.99	\$12.69	\$19.13	\$14.14	\$17.77	\$26.22
51 52			Sewer Cap	•	-	•	6,000	8,000	6,000	Total Bill \$11.03	\$13.46	\$15.55	\$16.30	\$23.23	\$38.34	\$29.33	\$36.71	\$51.89
53	Tropical Isles 3/	0	Base	N/A	N/A	N/A	\$13.33	\$18.91	\$44.09	N/A	N/A	N/A	\$13.33	\$16.91	\$44.09	\$13.33	\$16,91	\$44.09
54			Gallonage	N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
55 56			Sewer Cap	N/A	N/A	NA	6,000	8,000	6,000	Total Bill N/A	N/A	N/A	\$13.33	\$16.91	\$44.09	\$13.33	\$16.91	\$44.09
57	Vatencia Terrace 2/	5,647	Base	\$8.39	\$7.80	\$8.46	\$8.49	\$10,77	\$17.21	\$8.39	\$7.80	\$8.46	\$8.49	\$10.77	\$17.21	\$14.88	\$18.57	\$25.67
56			Gallonage	\$0.67	\$0.82	\$1.78	\$1.56	\$1.98	\$4.75	\$3.78	\$4.63	\$9.94	\$8.61	\$11.18	\$26.82	\$12.59	\$15.61	\$36.78
59 60			Sewer Cap	•	-	•	9,725	9,725	6,000	Total Bill \$10.17	\$12.43	\$18.40	\$17,30	\$21.95	\$44.03	\$27.47	\$34.38	\$62.43
61 62	County Plants:																	
63	Gibsonie Estates	7,013	Base	\$4.46	\$5.47	\$6.46	N/A	N/A	N/A	\$4.46	\$5.47	\$8.46	N/A	N/A	N/A	\$4.46	\$5.47	\$8.46
84			Gallonage	\$0.54	\$0.88	\$1.76	N/A	N/A	N/A	\$3.79	\$4.63	\$12.34	N/A	N/A	N/A	\$3.79	\$4.63	\$12.34
65 66			Sewer Cap	•	-	•	N/A	N/A	N/A	Total Bill \$8.27	\$10.10	\$20.80	N/A	N/A	N/A	\$8.27	\$10,10	\$20.60
67 68	Hershel Heights	7,117	Base Gallonage	\$2.60	\$3 .17	\$6.46	N/A	N/A	N/A	\$2.60	\$3.17	\$8.46	N/A	N/A	N/A	\$2.60	\$3.17	\$8.46
69			0-9,000	\$1.11	\$1.35	\$1.78	N/A	N/A	N/A	\$7.90	\$9.81	\$12.53	N/A	N/A	N/A	\$7.90	\$9.61	\$12.53
70			All Excess	\$1.56	\$1.90	\$1.78	N/A	NVA	N/A	\$0.00	\$0.00	\$0.00	N/A	N/A	N/A	\$0.00	\$0.00	\$0.00
71 72			Sewer Cap	-	•	-	N/A	N/A	N/A	Total Bill \$10.50	\$12.78	\$20.99	N/A	N/A	N/A	\$10.50	\$12.76	\$20.99
73	Lake Gibson Estates 4/	7,647	Base	\$5.69	\$7.19	\$8.46	\$22.50	\$28.55	\$17.21	\$5.89	\$7.19	\$8.46	\$22.50	\$28.55	\$17.21	\$28.39	\$35.74	\$25.67
74			Gallonage	\$0.85	\$1.04	\$1.78	\$0.00	\$0.00	\$4.75	\$8.67	\$8.18	\$13.81	\$0.00	\$0.00	\$28.50	\$8.67	\$8.16	842.31
75 76			Sewer Cap	-		-	-	•	8,000	Total Bill \$12.56	\$15.35	\$22.27	\$22.50	\$28.55	\$45.71	\$35.08	\$43.90	\$67.98
77	Orange Hill / Sugar Creek	6,518	Base	\$8.15	\$9,95	\$8.46	N/A	N/A	N/A	\$8.15	\$9.95	\$8.46	N/A	N/A	N/A	\$8,15	\$9.95	\$8.46
78			Gellonage	\$1.20	\$1.46	\$1.78	N/A	N/A	N/A	\$7.82	\$9.52	\$11.47	N/A	NVA	N/A	\$7.82	\$9.52	\$11.47
79			Sewer Cap	•	-	•	N/A	N/A	N/A	Total Bill \$15.97	\$19.47	\$19.93	N/A	N/A	N/A	\$15.97	\$19.47	\$19.93

RESIDENTIAL WATER AND WASTEWATER RATE AND BILLING COMPARISON - AVERAGE MONTHLY WATER USE PER BILL Present, Interim and Proposed Rates (5/8" Meter)

Company: SSU / Total Company - Summary

Docket No : 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [x] Interim () Final (x) Historical [x] Projected [x]

Present FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Explanation: Provide a calculation of residential bill at current, proposed interim, and proposed final rates.

Proposed: Conventional [x] Reverse Osmosis [x] Uniform [x]

Schedule: Rate and Billout Summary

Page 9 of 9

Preparer: Bendini

	(1)	(2)		(3)	(4)	(5)	(6)	(7)	(8)		(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
						R	ATES						Water an	d Wastewa	ter Bills a	t 1994 Ave	erage Usag	•	
Line	•	1994 Ave.			Water			Nastewater	-			Water			Wastewater	7	_	Combined	
No.	Plant V	Vater Use		Present	interim	Final	Present	Interim	Final		Present	interim	Finel	Present	Interim	Final	Present	Interim	Final
80 81	Seaboard	6,766	Base Gallonage	\$9.09	\$11.10	\$8.46	\$19.16	\$24.31	\$17.21		\$9.09	\$11,10	\$8.46	\$19.18	\$24.31	\$17.21	\$28.25	\$35.41	\$25.67
81			0 - 9,000	\$1.54	\$1.88	\$1.78	\$2.98	\$3.78	\$4.75		\$10.42	\$12.72	\$11.91	\$20.18	\$25.58	\$28.50	\$30.58	\$38.30	\$40.41
82			All Excess	\$2.00	\$2.44	\$1.78	\$2.98	\$3.78	\$4.75		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
82 83			Sewer Cap		•	•	10,000	10,000	6,000	Total Bil	\$19.51	\$23.82	\$20.37	\$39.32	\$49.89	\$45.71	\$58.83	\$73.71	\$66.08
84 85	Spring Hill	9,429	Base	\$5.05	\$6.16	\$8.46	\$12.26	\$15.55	\$17.21		\$5.05	\$6.16	\$8.46	\$12.26	\$15.55	\$17.21	\$17.31	\$21.71	\$25.67
85			Gallonage	\$1.21	\$1.48	\$1.76	\$3.54	\$4,49	\$4.75		\$11.41	\$13.95	\$16.60	\$21.24	\$26.94	\$28.50	\$32.65	\$40.69	\$45.10
86 87			Sewer Cap	-	•	-	6,000	6,000	6,000	Total Bil	\$16.48	\$20.11	\$25.08	\$33.50	\$42.49	\$45.71	\$49.98	\$62.60	\$70.77
88	Valrico Hills 4/	9,059	Base	\$9.50	\$11,60	\$8,46	\$10.00	\$12.69	\$17.21		\$9,50	\$11.60	\$8.46	\$10.00	\$12.69	\$17.21	\$19.50	\$24.29	\$25.67
69			Gellonage	\$0.80	\$0.73	\$1.76	\$0.00	\$0.00	\$4.75		\$5,44	\$6.61	\$15.94	\$0.00	\$0.00	\$26.50	\$5.44	\$6.61	\$44.44
90			Sewer Cap	•	•	•	•	•	6,000	Total Bil		\$18.21	\$24.40	\$10.00	\$12.69	\$45.71	\$24.94	\$30.90	\$70.11
f	PROPOSED REVERSE OSMO	OSIS TRI	EATMENT:																
91	PROPOSED REVERSE OSMOSIS																		
92	TREATMENT - SUMMARY:	16,709	Base	varies	varies	\$23.62	varies	veries	\$17.21		vanes	varies	\$23.62	varies	varies	\$17.21	varies	varies	\$40.83
93			Gallonage	varies	varies	\$3.27	varies	varies	\$4.75		varies	varies	\$54.64	varies	varies	\$26.50	varies	varies	\$83.14
94			Sewer Cap				varies	varies	6,000	Total Bil			\$76.26			\$45.71			\$123.97
95																			
96	Burnt Store	3,924	Base	\$5.13	\$6.28	\$23.62	\$12.87	\$18.07	\$17.21		\$5,13	\$6.26	\$23.62	\$12.67	\$16.07	\$17.21	\$17,80	\$22.33	\$40.83
97			Gallonage	\$1.23	\$1.50	\$3.27	\$3.88	\$4.84	\$4.75		\$4.83	\$5.89	\$12.83	\$14.38	\$18.21	\$18.64	\$19.19	\$24.10	\$31.47
96 99			Sewer Cap	•	•	•	6,000	6,000	6,000	Total Bil		\$12.15	\$36.45	\$27.03	\$34.28	\$35.85	\$36.99	\$46.43	\$72.30
100	Marco Island	17,508	Bese	\$7.88	\$9.62	\$23.62	\$11.10	\$14.08	\$17.21		\$7.88	\$9.62	\$23.62	\$11.10	\$14.08	\$17.21	\$16,96	\$23,70	\$40.83
101			Gallonage	\$2.96	\$3.61	\$3.27	\$3.20	\$4.08	84.75		\$51.82	\$63.20	\$57.25	\$32.00	\$40.60	\$28.50	\$83.82	\$103.80	\$85.75
102			Sewer Cap		-		10,000	10,000	8.000	Total Bil		\$72.82	\$80.67	\$43.10	\$54.88	\$45.71	\$102.80	\$127.50	\$126.58

^{1/} Includes all proposed conventional treatment plants, including acquisitions.

^{2/} These plants were not part of SSU in 1994. Lekeside, Spring Cardens, and Valencia Terrace were acquired during 1995. Buenaventure Lakes is scheduled for acquisition in 1998. Please refer to Vol. V-A, Book 1 of 1, Schedule E-13 for information on billing data.

^{3/} This plant has Residential Wastewater Only service.

^{4/} These plants had no wastewater caps in 1994 and 1995 (flat rates were charged).

THIS PAGE INTENTIONALLY LEFT BLANK

Southern States Utilities, Inc.

1995 and 1996 Growth Projections - Water Southern States Utilities, Inc. Projected 1995 Interim and 1996 Final Bills by Plant - Water All Classes

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10) Unadju	(11) isted 1995 and 199	(12) 6 Bills	(13) Adjus	(14) sted 1995 and 1996	(15) Bills	(16)
				Bilis			Haadiyata	d Historic Grow	eh Delaa	Compound Growth	Prolect	ad Dille	Compound Growth	Projecto	od Ritle	
Line			Unadio			Adjusted 1/	(C3/C2)-1	(C4/C3)-1	(C5/C4)-1	Rate	C6*(1+C10)	C11*(1+C10)	Rate 2/	C6*(1+C13)	C14*(1+C13)	Maximum
No.	Plant Name	1991	1992	1993	1994	1994	1992	1993	1994	1991 - 1994	1995	1996	1991 - 1994	1995 3/	1996 3/	Bills 4/
	FPSC Uniform:															
1 2	Amelia Island Agache Shores	14,101 1.923	15,501 1,986	16,913 1,921	18,159 1,669	17,809 1.823	9.93% 3.28%	9.11% -3.27%	7.37% -2.71%	8.80% -0.94%	19,376 1,806	21,081 1,789	8.80% 0.00%	19,376 1,823	21,081 1,823	29,604 3,516
3	Apple Valley	11,002	11,306	11,366	11,587	11,397	2.76%	0.53%	1.94%	1.74%	11,595	11,797	1.74%	11,595	11,797	19,092
4	Bay Lake Estates Beacon Hills	<i>77</i> 5 31,202	764 33,320	816 35,339	846 37,349	834 36,461	1.16% 6.79%	4.08% 8.06%	3.68% 5.69%	2.96% 8.18%	859 38.714	884 41,107	2.96% 6.18%	859 38,136	884 38,136	1,200 38,136
6	Beecher's Point	468	497	512	531	520	6.20%	3.02%	3.71%	4.30%	542	568	4.30%	542	566	1,020
7 8	Burnt Store 5/ Carlton Village	2,235 1,236	2,546 1,404	3, 264 1,483	4,898 1,575	4, 6 01 1,512	13.91% 13.59%	28.20% 5.63%	50.08% 8.20%	29.89% 8.41%	5,97 8 1,639	7,76 3 1,777	35,75% 8.41%	6,246 1,639	8,47 9 1,777	52,164 4,116
9	Chuluota	7,706	8,018	7,996	8,068	7,963	4.05%	-0.27%	0.90%	1.54%	8,086	8,210	1.54%	8,086	8,210	12,660
10 11	Citrus Park	4,230 19,769	4,754 20,9 8 0	4,483 21,048	4,491 21,825	4,220 21,537	12.39% 6.13%	-5.70% 0.32%	0.18% 3.69%	2.02% 3.35%	4,305 22,258	4,392 23,004	2.0 2% 3.35%	4,305 22,258	4,392 23,004	N/A 140.004
12		798	827	872	909	878	3.63%	5.44%	4.24%	4.44%	917	958	4.44%	917	958	1.092
13 14	Daetwyler Shores Deltona	1,552 262,447	1,506 266,961	1,512 267,3 7 6	1,513 281,026	1,503 274,120	-2.96% 1.72%	0.40% 0.16%	0.07% 5.11%	-0.84% 2.31%	1,490 280,452	1,478 286,931	0.00% 2.31%	1,503 280,452	1,503 286,931	1,656 419,280
15 16	Dol Ray Manor	702 3,022	710	725 2,995	727 3,001	713	1.14% 0.46%	2.11% -1.35%	0.28%	1.17% -0.23%	721 2,975	730 2,968	1.17% 0.00%	721 2,982	730 2,982	924 4,020
17	Druid Hills East Lake Harris Est.	2,040	3,036 2,052 2,220	2.097	2,094	2,982 2,074	0.59%	2,19%	0.20% -0.14%	0.87%	2,092	2,110	0.87%	2,092 2,172	2,110	2,568 2,496
16 19		2,210 1,480	2,220 1,534	2,221 1,500	2,229 1,519	2,166 1,472	0.45% 3.65%	0.05% -2.22%	0.36% 1.27%	0.29% 0.67%	2,17 2 1,465	2,179 1,498	0.29% 0.87%	2,172 1 .48 5	2,179 1,498	2,496 1,512
20	Fisherman's Haven	1,646	1,868	1,744	1,747	1,671	13.49%	-6.64%	0.17%	2.00%	1,704	1,739	2.00%	1,704	1,728	1,728
21	Fountains 5/6/ Fox Run	1,104	46 1,151	234 1,178	3 54 1,223	348 1,198	N/A 4.26%	408,70% 2.17%	51.28% 4.00%	1 77. 41% 3.47%	965 1,240	2,678 1,283	7.91% 3.47%	376 1,240	405 1,283	1,008 1,308
22 23	Friendly Center	242	252 1,235	262	250	242	4.13%	3.97%	-4.58%	1.09%	245	247	1.09%	245	247	1,308 552 1,440
D 24 25	Golden Terrace Gospel Island Est.	1,257 98	1,235 110	1,258 96	1,284 96	1,274 96	-1.75% 12.24%	1.86% -12.73%	2,07% 0.00%	0.71% -0.68%	1,283 95	1,292 95	0.71% 0.00%	1,283 96	1,292 96	300
26		797	1,263	1,329	1,347	1,317	58,47%	5.23%	1.35%	19.12%	1,569	1,869	1.34%	1,332	1,332	1,332
27 28	Harmony Homes Hermas Cove	764 2,136	780 2,134	756 2,078	768 2,124	752 2,090	2.09% -0.09%	-3.08% -2.62%	1.59% 2.21%	0.17% -0.19%	753 2.086	755 2,082	0.17% 0.00%	753 2,090	755 2,090	780 4,200
29	Hobby Hills	1,224 1,346	1,222 1,369	1.232	1,215	1.157	-0.16%	0.82%	-1.38%	-0.25%	2,086 1,154	1.151	0.00%	2,090 1,157	1,157	4,200 1,500
30 31	Holiday Haven Holiday Heights	1,346 631	1,369 635	1,349 627	1,346 637	1,328 630	1.71% 0.63%	-1.46% -1.26%	-0.22% 1.59%	0.00% 0.32%	1,328 632	1,328 634	0.00% 0.32%	1,328 632	1,328 634	1,992 636
32	Imperial Mobil Lerr. Intercession City	2,943	2,919 3,162	2,699 3,152	2,923 3,151	2,894 3,039	-0.82% 3.16%	-7.54% -0.33%	6.30% -0.02%	-0.23% 0.93%	2,887 3.067	2,881 3,096	0.90% 0.93%	2,892 3,067	2,892 3,098	2,892 6,552
33 34 35 36	Interlach en Lake Est. / Park Manor	3,065 2,948	2.982	2.995	3,011	2.954	1.15%	0.44%	0.53%	0.71%	2,975 1,351	2,996	0.71%	2.975	2,996 1,355	4,260 1,620
35 36	Jungie Den Keystone Heights	1,376 11,786 753	1,375 11,872	1,356 11,775	1,365 12,100	1,355 11,636	-0.07% 0.73%	-1.38% -0.82%	0.66% 2.76%	-0 <i>.27</i> % 0.68%	1,351 11,942 743	1,348 12,047	0.00% 0.68%	1,355 11,942	12,047	20,076
37 38	Kingswood	753 420	785 5 10	750 944	758 1.039	741 1.01 6	4.25% 21.43%	-4.46% 85.10%	1.07% 10.06%	0.22% 35.25 %	743 1,374	744 1,859	0.22% 9.1 9 %	743 1,109	1,200	816
39	Lake Ajey Estates 5/ Lake Brantley	796	670	816	816	795	9.30%	-6.21%	0.00%	0.83%	802	808	0.83%	802	808	1,200 876
40 41	Lake Conway Park Lake Harriet Est.	1,022 3,418	1,038	1,038 3,396	1,033 3,454	1,022 3,380	1.57% 1.46%	-0.19% -2.08%	-0.29% 1.71%	0.36% 0.35%	1,026 3,392	1,029 3 404	0.36% 0.35%	1,026 3,392	1,029 3,404	1,068 3,624
42	Lakeview Villas	158	3,468 18£	160	154	149	2.53%	-1.23% 0.27%	-3.75%	-0.85%	146	3,404 146 4,746	0.00% 0.63%	149 4,717	149 4,746	276
43 44	Leitani Heights Leitaure Lakes	4,685 2,925	4,729 2,933	4,7 4 2 2,916	4, 77 4 2,926	4,687 2,915	0.94% 0.27%	-0.58%	0.67% 0.34%	0.83% 0.01%	4,717 2,915	2,916	0.01%	2,915	2,916	4,956 4,620
45 46	Marco Shores Marion Caks	3,306 28,533	3,295 28,741	3,338 29,076	3,620 31,137	3,461 30,185	-0.33% 6.32%	1.31% 1.17%	8.45% 7.08%	3.07% 5.48%	3,588 31,818	3,698 33,562	3.07% 5.48%	3,588 31,818	3,698 33,562	7,200 147,144
47	Meredith Manor	8,112	8,110	6,000	8.032	7,810	-0.02%	-1.36%	0.40%	-0.33%	7,784	7,759 441	0.00% 1.27%	7,810 435	7,810 441	10,644 504
48 49		414 1,654	412 1,664	408 1,702	430 1,729	430 1,712	-0.46% 0.60%	-0.97% 2.28%	5.39% 1.59%	1.27% 1.49%	435 1,738	441 1,763	1.27%	1,738	1,763	3,444
50	Oakwood	2,336	2,453	2,425	2,499	2,441	5.01%	-1.14%	3.05%	2.27%	2,498	2,553	2.27%	2,496	2,508 963	2,508 1,692
51 52	Palisades Ctry Ctub 5/6/ Palm Port	2 1.088	114 1.158	232 1,161	437 1,206	406 1,192	5600.00% 6,43%	103.51% 0.26%	88.36% 3.88%	95.79% 3.49%	7 95 1,234	1,556 1,277	53.98% 3.49%	6 25 1,234	1,277	1,844 14,556
53 54 55	Palm Terrace Palms Mobile Home Pk	1,088 14,205 730	1,158 14,332 724	14,277 700	14,337 712	14,228 701	0.88% -0.82%	-0.38% -3.31%	0.42% 1.71%	0.31% -0.83%	14,272 695	14,316 689	0.31% 0.00%	14,272 701	14,316 701	14,556 1,044
55	Picciola Island	1,568	1,568	1,564	1,605	1,585	0.00%	-0.26%	2.82%	0.76%	1,597	1,610	0.78%	1,597	1,610	2,556
56	Pine Ridge 5/	4,799	5,731 2,074	6,683 2,207	8,184 2,621	7, 985 2,547	19.42%	16.61%	22.46% 18.76%	19.47% 6.32%	9,540 2,759	11 ,39 7 2,986	1 8.73% 8.32%	9,481	11,256 2,616	45,936 2,616
57 58	Pine Ridge Est Piney Woods	2,062 2,018	2,050	2.044	2,036	2,001	0.58% 1.59%	6.41% -0.29%	-0.39%	0.30%	2,007	2,013	0.30%	2,007	2,013	2,580 4,980
59 60	Point O' Woods Pomona Park	3,908 1,924	4,125 1,982	4,096 2,053	4,200 2,035	4,131 2.004	5.55% 3.01%	-0.70% 3.58%	2.54% -0.88%	2.43% 1.89%	4,231 2,042	4,334 2.080	2.43% 1.89%	4,231 2,042	4,334 2,080	4,980 6,420
61	Postmaster Village	1.826	1,869	1.687	1.898	1,870	2.35%	-9.74%	12.51%	1.30%	1,894	1,919	1.30%	1,894 193	1,919 211	4,140 1,368
62 63 64	Quail Ridge 6/ River Grove	22 1,284 4,144	158 1,294 4,190	174 1,285 4,947	187 1,279	176 1, 25 4	609.09% 0.78%	11,54% -0.70%	7.47% -0.47%	9.49% -0.13%	193 1,252	211 1,251	0.00%	1,254	1,254	1.428
64 65	River Park Rosemont / Rolling Green	4,144 1,288	4,190 1,351	4,947 1,404	4,271 1,450	4,222 1,430	1.11% 5.05%	18.07% 3.92%	-13.66% 3.28%	1.01% 4.08%	4,265 1,488	4,308 1,549	1.01% 4.08%	4,265 1,488	4,308 1,549 _{/27/}	9,046 1,800
ω.	- Continue of French Colores	1,200	.,001	1,747	1,750	1,400	0.00 /0	U.U. 70	3.EU N	4.00 %	1,100	1,570	,,,,,,,	.,	-17/27/	**

Page I W_QROW9.XQS

(2)

(1)

(15)

(16)

(14)

	(.,	ζ-7	ν-,	(.,	(-)	ν-,	٧٠,	ν-,	ν-,	Unedjo	sted 1995 and 199	6 Bills	Adjus	ted 1995 and 1996	Bills	(10)
				Bille			Unadiuste	d Historic Grov	wth Rates	Compound Growth	Project	ed Bills	Compound Growth	Projecte	ed Bills	
L	Line		Unadi			Adjusted 1/	(C3/C2)-1	(C4/C3)-1	(CS/C4)-1	Rate	C6*(1+C10)	C11*(1+C10)	Rate 2/	C6*(1+C13)	C14*(1+C13)	Maximum
	No. Plant Name	1991	1992	1993	1994	1994	1992	1993	1994	1991 - 1994	1995	1996	1991 - 1994	1995 3/	1996 3/	Bills 4
-	66 Salt Springs 67 Samina Villas	1,342	1,326	1,354	1,406 24	1,386	-1.19%	2.11% 0.00%	3.84% 0.00%	1.57%	1,408	1,430 24	1.57%	1,408	1,430 24	1,920 156
	67 Sartina Villas 68 Silver Lake Est / W. Shores	24 14,554	24 15,286	24 15,752		16,143	0.00% 5.03%	3.05%	3.26%	0.00% 3.78%	16,753		0.00% 3.78%	16,753	17,386	19.776
	69 Silver Lake Oaks	312	340	317	16,266 358	314	8.97%	-6.76%	12.93%	4.69%	329	17,38 0 344	4.69%	329	344	19,776 636 1,464 1,416
	70 Skycrest 71 St. John's H.	1,376 952 74	1,420 998	1,288 992	1,397 994	1,364 984	3.20% 4.63%	-9.30% -0.60%	8.46% 0.20%	0.51% 1.45%	1,371 998	1, 378 1,013	0.51% 1.45%	1,371	1,378 1,013	1,454 1,416
	71 St. Sorins ri. 72 Stone Mountain	74	82	84	84	84	10.81%	2.44%	0.00%	1.45% 4.32%	88	91	4.32%	998 88	91	264
	73 Sugar Mili	7,206	7,347	7,503	7,506	7,446	1.96%	2.12%	0.04%	1.37%	7,548	7,651	1.37%	7,548 29,117	7,651	264 7,932 99,024 70,296
	74 Sugar Mill Woods 75 Sunny Hills	21,674 4,992	23,567 4,996	25,467 5,089	27,343 5,192	26,948 5,112	8.73% 0.08%	8.06% 1.86%	7.37% 2.02%	8.05% 1.32%	29,117 5,1 7 9	31,461 5,248	8.05% 1. 32 %	29,117 5,179	31,461 5,246	99,024 70,296
	78 Sunshine Parkway 5/	4,582 81	104	109	125	124	28.40%	4.81%	14.68%	15.56%	143	166	12.93%	140	158	480
	77 Trooical Park	6.622	6 660	6.657	6,725	6,511	0.57%	-0.05%	1.01%	0.51%	6,544	8.577	0.51%	6.544	6.577	8,052 61,200 2,676 2,988
	78 University Shores	33,864	38,229 1,592 1,584	38,841	41,782	40,590	6.98%	7.21%	7.57%	7.25%	43,533	46,689	7.25%	43,533	46,689 1,682 1,666	61,200
	79 Vanetian Villago 80 Welaka / Saratoga Harbour	1,570 1,576	1,582	1,649 1,595	1,648 1,653	1,628 1,814	1.40% 0.51%	3.58% 0.69%	-0.06% 3.64%	1.63% 1.60%	1,655 1,640	1,682 1,666	1.63% 1.60%	1,655 1,640	1,682 1,666	2,676 2,988
	81 Westmont	1.466	1,562 1,324	1.582	1.604	1,570	8.55%	1,28%	1,39%	3.04%	1.618	1,667 1,254	3.04%	1,618	1.667	2,004 1,272
	82 Windsong	1,310	1,324	1,281	1,298	1,262	1.07%	-3.25%	1.33%	-0.31%	1,258	1,254	0.00%	1,262	1,262	1,272
	83 Woodmere 84 Woolens	12,900 206	13,486 244	13,786 253	14,162 258	13,997 255	4.54% 18.45%	2.22% 3.69%	2.73% 1.19%	3.16% 7.51%	14,439 274	14,896	3.16% 7.51%	14,268	14,268 295	14,268 624
	84 Wootens 85 Zephyr Shores	6,167	6,217	5,732	5,839	5,805	0.81%	-7.80%	1.87%	-1.81%	5,700	295 5,597	0.00%	5,805	5,805	7,764
	86 Sub-total FPSC Uniform	617,927	640,593	652,135	683,678	668,405	3.67%	1.80%	4.84%	3.43%	693,598	722,182	3.43%	691,848	715,053	1,382,136
	FPSC Non-Uniform:															
	67 Deep Creek	32,043	33,754 2,396	34,659 2,511	35,847	35,428	5.34%	2.68%	3.43%	3.81%	36,778	38,179 2,924	3.81%	36,778	38,179	86,052 3,348 1,668 3,000 N/A
ı	88 Entérprise 89 Geneva Lake Est.	32,043 2,251 969	2,396 1,011	2,511 973	2,652 1,065	2,621 1,048	6.44% 4. 3 3%	4.80% -3.76%	5.62% 9.46%	5.62% 3.20%	2,768 1,082	2,924	5.62% 3.20%	2,766 1,082	2,924	3,348
,	89 Geneva Lake Est. 90 Keystone Club Est. 5/	1, 364	1,611	1.804	1,862	1,828	24.49%	6.24%	3.22%	10.93%	2,028	1,116 2,249	3.12%	1,885	1,116 1 .944	3,000
	91 Lehigh	96,181	97.856	99,902	104,624 70,448	103,016	1.74%	2 09%	4.73%	2.84%	105,942	108,950 73,711	2.84%	105.942	108,950	N/A
	92 Marco island 6/	69,160	66,541	68,486	70,448	69,628	-3.79%	2.93%	2.86%	2.89%	71,640	73,711	2.89%	71,640	73,711	N/A
	93 Palm Valley 94 Remington Forest 5/	2,441 285	2,5 <u>52</u> 400	2,428 619	2,520 79 7	2,476 <i>7</i> 70	4.55% 40.35 %	·4.86% 54.75%	3.79% 28.76%	1.07% 40.89%	2,502 1,0 8 5	2,529 1 ,528	1.07% 23.04%	2,502 94 7	2,520 1,044	2,520 1,044
	95 Sub-total FPSC Non-Uniform	204,694	206,208	211,384	219,815	216,815	0.74%	2,51%	3.99%	2.40%	223,825	231,187	3.08%	223,544	230,388	97,632
	SUB-TOTAL FPSC	822,621	846,801	863,519	903,493	885,220	2.94%	1.97%	4.63%	3.18%	917,423	953,369	3.35%	915,392	945,441	1,479,768
	Non-FPSC Jurisdiction:															
	96 Gibsonia Est.	1,928 3,845	2,900	1,988 3,810	2,060 3,860	1,961	3.73%	-0.60%	3.62% 1.31%	2.23%	2,005	2,049	2.23%	2,005 3,831	2,049 3,836	2,616
	97 Hershel Heights 98 Lake Gibson Est.	3,845	3,816 9,558	3,810 9,486	3,860 9,586	3,826 9,274	-0.75% 1.83%	-0.16% -0.96%	1.31% 1.27%	0.13% 0.71%	3,831 9,340	3,836 9,408	0.13% 0.71%	3,831 9,340	3,836 9,408	4,080
	99 Orange Hill / Sugar Creek	9,386 2,762	9,338 2,786	3,466 2,784	2,810	2.782	0.14%	0.65%	0.93%	0.58%	2,796	2,814	0.71%	2,798	2,814	10,104 3,276
	100 Seaboard	30,746	31,015	31,152	31,339	30,874	0.87%	0.44%	0.80%	0.84%	31,072	31,270 310,511	0.64%	31,072	31,270	31,812
	101 Spring Hall	271,533	283,610	288,124	297,543	292,119	4.45%	1.59%	3.27%	3.10%	301,175	310,511	3.10%	301,175	310,511	426,864
	102 Valrico Hills	4,188	4,295	4,266	4,315	4,246	2.55%	-0.66%	1.15%	1.00%	4,288	4,331	1.00%	4,260	4,260	4,260
	103 Sub-total Non-FPSC	324,388	337,060	341,590	351,513	345,082	3.91%	1.34%	2.90%	2,71%	354,508	364,219	2,73%	354,480	364,147	483,012
	104 TOTAL ALL PLANTS	1,147,009	1,183,861	1,205,109	1,255,006	1,230,302	3.21%	1.79%	4.14%	3,04%	1,267,703	1,306,241	3,17%	1,269,872	1,309,588	1,962,780

^{1/} The adjusted bill out it is namber of bills using SSUs new way of processing the billing analysis. The billing analysis no longer picks up bills with 0 charges. This presents us with a more representative bill count.

This adjusted bill count is the number SSU is basing the projections off of.

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

7

^{2/} Rezalculated compound growth rates for the out or plants using the absolute growth in bits from 1993 to 1994 to prespectively calculation the compound growth rate. Please refer to page 3 for calculations. In ediffice, allowed for no negative growth.

^{3/} The adjusted projected 1995 and 1995 bills were computed using the adjusted compound growth rate. The bondered cells represent projections that have been capped at masterism bills.

^{4/} The maximum hills were computed by taking the tot count of the service territory and multiphying it by 12 to proxy the meximum number of hills to expect.

Please refer to page 4 for details.

^{5/} These plants were determined to be outliers for their educated compound growth raises for 1991-1994. These plants have experienced high growth because they were either shartups or new equicitions.

Adjusted compound plant growth raises have been computed for these systems. Places raier to looknote 1/ for more information.

^{6/} Fourtains, Palsades Country Club, and Clusi Ridge were start-upe in 1991. This produced an abnormally large growth rate. Therefore, we computed the compound growth rate on 1992 - 1994 data.

In addition, Marco Island's 1991 data appears to be slightly out of line. Therefore, the growth rate was computed on 1992-1994 data.

Southern States Utilities, Inc.
Projected 1995 Interim and 1996 Final Bills by Plant - Water
Outlier Growth Rate Recomputation Using Absolute Bill Increases From 1993 to 1994

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
					Projected Num		N	umber of Bills	for Growth			Growth Rate		Compound
Line		Nu	mber of Bills	3	of bills (prev. y	r +C4)	Rate	Calculation	C2 C3 C5 C6)	(C8/C7)-1	(C9/C8)-1	(C10/C9)-1	Growth
No.	Plant Nams 1/	1993	1994	Increase	1995	1996	1993	1994	1995	1996	1994	1995	1996	Rate
			_											
FPSC	Uniform:													
1	Burnt Store	3,264	4,898	1,634	6,532	8,166	3,264	4,898	6,532	8,166	50.06%	33.36%		35.75%
2	Fountains	234	254	20	274	294	234	254	274	294	8.55%	7.87%	7.30%	7.91%
3	Grand Terrace	1,329	1,347	18	1,365	1,383	1,329	1,347	1,365	1,383	1.35%	1.34%	1.32%	1.34%
4	Lake Ajay Estates	944	1,039	95	1,134	1,229	944	1,039	1,134	1,229	10.06%	9.14%	8.38%	9.19%
5	Palisades Country Club	232	437	205	642	847	232	437	642	847	88.36%	46.91%	31.93%	53.98%
6	Pine Ridge	6,683	8,184	1,501	9,685	11,186	6,683	8,184	9,685	11,186	22.46%	18.34%	15.50%	18.73%
7	Sunshine Parkway	109	125	16	141	157	109	125	141	157	14.68%	_12.80%	11.35%	12.93%
8 <u>Sub-1</u>	otal FPSC Uniform:	12,795	16,284	3,489	19,773	23,262	12,795	16,284	19,773	23,262	27 .27 %	21.43%	17.65%	22.05%
FPSC	Non-Uniform:													
9	Keystone Club	1,804	1.862	58	1,920	1,978	1,804	1,862	1,920	1,978	3.22%	3.11%	3.02%	3.12%
10	Remington Forest	619	797	176	975	1,153	619	797	975	1,153	28.76%	22,33%	18.26%	23.04%
11 Sub-to	otal FPSC Non-Uniform	2,423	2,659	236	2,895	3,131	2,423	2,659	2,895	3,131	9.74%	8.88%	8.15%	8.92%
12 Total	FD\$C∙	13,414	17,081	3,667	20,748	24,415	13,414	17,081	20,748	24,415	27.34%	21.47%	17.67%	22.10%
12 TO(8)	11 991	13,414	17,001	0,007	20,140	27,413	10,414	11,001	20,140	27,710	51,017	21141 /		

^{1/} These Plants were chosen to be outliers by taking the compound growth rate from 1891 - 1994 from the 1895 - 1896 bill projection schedule and running those rates through a trimming methodology.

The methodology chosen takes the 75th percentile of the growth rates and multiplies that by 2.5 times the 75th - 25th percentile. The trim point came out as 10.38%.

Burnt Store had a 29.89% rate, Fountains had a 177.41% rate, Grand Terrace had a 19.12% rate, Lake Ajay Estates had a 35.35% rate, Palsades Country Club has a 95.79% rate, Pine Ridge had a 19.47% rate, Sunshine Parloway had a 15.56% rate, Keystone Club had a 10.93% rate, and Remington Forest had a 40.89% rate.

Southern States Utilities, Inc.
Projected 1995 Interim and 1996 Final Bills by Plant - Water
Maximum Bills Calculation by Plant
Using Lot Counts Obtained From Schedule F5 - Used and Useful Schedule

Line	(1)	(2)	(3) Maximum Bills Per
No.	Plant Name	Lote	Lot 1/ C2*12
EDS.	C Uniform:		
1	Amelia Island	2,467	29,604
2 3	Apache Shores	293	3,516
4	Apple Valley Bay Lake Estates	1,591 100	19,092 1,200
5	Beacon Hills	3,178	38,136
6 7	Beecher's Point Burnt Store	4,347	1,020
, 8	Carlton VIIIage	343	52,164 4,116
9	Chuluota	1,055	12,660
10 11	Citrus Park 2/ Citrus Springs	N/A 11,667	N/A 140,004
12	Crystal River H.	91	1,092
13	Daetwyler Shores	138	1,656
14 15	Deltona Dol Ray Manor	34,940 77	419,280 924
16	Druid Hills	335	4,020
17	Eest Lake Harris Est.	214	2,568
18 19	Fern Park Fern Terrace	208 126	2,496 1,512
20	Fisherman's Haven	144	1,728
21 22	Fountains Fox Run	84 109	1,008 1,308
23	Friendly Center	46	552
24	Golden Terrace	120	1,440
25 26	Gospel Island Est. Grand Terrace	25 111	300 1,332
27	Harmony Homes	65	780
28	Hermits Cove	350 125	4,200
29 30	Hobby Hilis Hollday Haven	166	1,500 1,992
31	Hollday Heights	53	636
32 33	Imperial Mobil Terr. Intercession City	241 546	2,892 6,552
33 34	Interfachen Lake Est. / Park Manor	355	4,260
3 5	Jungle Den	135	1,620
36	Keystone Heights	1,873	20,076 816
37	Kingswood	68	1,200
38	Lake Alay Estates	100 73	876
39 40	Lake Brantley Lake Conway Park	89	1,068
41	Lake Harriet Est.	302	3,624
42	Lakeview Villas	23 413	276 4,956
43 44	Lellani Heights Lelsura Lakes	385	4,620
45	Marco Shores	600	7,200
46	Marion Oaks	12,262	147,144
47	Meredith Manor	887	10,644
48	Morningview	42	504
49	Oak Forest	287	3,444
50	Oakwood	209 141	2,508 1,692
51 52	Palisades Ctry Club Palm Port	137	1,644
53	Palm Terrace	1,213	14,556
54	Palms Mobile Home Pk	87	1,044
55	Picciola Island	213	2,556
56	Pine Ridge	3,828	45,936
57	Pina Ridge Est	218	2,616
58	Pinay Woods	215	2,580
59	Point O' Woods	415	4,980
60	Pornona Park	535	6,420
61	Postmaster Village	345	4,140
62	Quall Ridge	114	1,368
63	River Grove	119	1,428
64	River Park	754 450	9,048 1,800
65	Rosamont / Rolling Green	150 160	1,800
66 67	Salt Springs	160	1,920
67 68	Samira Villas Silver Lake Est / Western Shores	1,648	19,776
69	Silver Lake Caks	53	636

Southern States Utilities, Inc.
Projected 1995 Interim and 1996 Final Bills by Plant - Water
Maximum Bills Calculation by Plant
Using Lot Counts Obtained From Schedule F5 - Used and Useful Schedule

	(1)	(2)	(3) Maximum Bills Per
Llas			Lot 1/
Line	Plant Name	Lots	C2*12
No.			1,464
70	Skycrest	118	1,416
71	St. John's H.	22	264
72	Stone Mountain	661	7,932
73	Sugar Mill	8,252	99,024
74 75	Sugar Mill Woods	5.858	70,296
75 76	Sunny Hills Sunshine Parkwey	40	480
76 77	Tropical Park	` 671	8,052
78	•	5,100	61,200
78 79	University Shores Venetian Village	223	2,676
79 80	Welaka / Saratoga Harbour	249	2,988
80 81	Westmont	167	2,004
82		106	1,272
83	Windsong Woodmere	1,189	14,268
84	Wootens	52	624
85	Zephyr Shores	647	7,764
	o-total FPSC Uniform	115,178	1,382,136
00 34	- Wait F 30 Gillionii	1.00	.,
FP:	SC Non-Uniform:		
87	Deep Creek	7,171	86,052
88	Enterorise	279	3,348
89	Geneva Lake Est.	139	1,668
90	Keystone Club Est.	250	3,000
91	Lehigh 2/	8,689	N/A
92	Marco Island 2/	14,014	N/A
93	Palm Valley	210	2,520
94	Remington Forest	87_	1,044
95 \$ u	b-total FPSC Non-Uniform	30,839	97,632
su	B-TOTAL FPSC	146,017	1,479,758
No	n-FPSC Jurisdiction:		
96	Gibsonia Est.	218	2,616
97	Hershel Heights	340	4,080
98	Lake Gibson Est.	842	10,104
99	Orange Hill / Sugar Creek	273	3 ,278
100	Seaboard	2,851	31,812
101	Spring Hill	35,572	426,864
102	Valrico Hills	355_	4,260
103 Su	b-total Non-FPSC	40,251	483,012
104 TO	TAL ALL PLANTS	186,268	1,962,780

^{1/} The maximum number of bits is 12 (number of bits per year) times the number of lots.

^{2/} Ctrus Park, Lehigh and Marco Island maximum bille have been deemed not applicable because of the high proportion of multi-family residences.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8) Adjuste	(9) d 1995 and 1996 Ga	(10) allona	(11)
				Galiona			Compound Adjusted	Projected 1995	Growth Rate	Projected	Growth Rate
	_		111-1-1-				Growth Rate		OVER	1996	over
∐ne	Bi	1001	Historic	al	1994	Average	BIUs 1/	Gallons	1994	Gallons	1995
No.	Plant Name	1991	1992	1993	1994	(1991-1994)	(1991-1994)	C7*C6	(C8-C5)/C5	C7*C8	(C10-C8)/C8
	PSC Uniform:										
1	Amelia Island	264,056,749	306,514,750	319,189,709	326,887,107	304,162,079	8.80%	330,928,342	1.24%	360,050,036	8.80%
2	Apache Shores	3,147,665	2,958,825	3,011,842	3,450,738 122,074,074	3,142,268	0.00%	3,142,268	-8.94%	3,142,268	0.00%
3	Apple Valley Bay Lake Estates	121,642,389 6,743,450	135,183,090 7,766,020	128,577,073 7,394,850	6,360,090	126,869,157 7,071,103	1.74% 2.96%	129,076,680 7,280,407	5.74% 14.11%	131,322,814 7,495,907	1.74% 2.96%
5	Beacon Hills 3/	420,572,240	477,343,749	529,296,822	483,243,625	477,614,109	5.18%	499,543,464	3.37%	499,543,464	0,00%
6	Beecher's Point	4,282,560	5,044,540	4.567.779	6.372.870	5,066,837	4.30%	5,284,816	-17.07%	5,512,063	4.30%
7	Burnt Store	44,187,670	46,174,089	47,938,077	47,304,106	46,395,986	35.75%	62,982,550	33.14%	85,498,812	35.75%
6 9	Carlton Village Chuluota	8,556,380 50,048,546	10,111,130 56,999,364	11,282,120 62,250,458	11,167,100 61,830,805	10,284,183 57,782,293	8.41% 1.54%	11,149,082 56,672,141	-0.34% -5.11%	12,086,720 59,575,692	8.41% 1.54%
10	Citrus Park	24.629.870	25,048,687	26,083,447	25,786,711	25,387,179	2.02%	25,900,000	0.44%	26,423,180	2.02%
11	Citrus Springs	24,629,870 123,413,068	141,228,006	162,037,999	145,139,670	142,954,736	3.35%	147,743,719	1.79% -4.96%	152,693,134	3.35%
12	Crystal River H.	4,514,050	5,226,070	6,162,850 16,552,678	6,023,980	5,481,765	4.44%	5,725,155	-4.96%	5,979,352	4.44%
13 14	Daetwyler Shores Deltona	14,311,202 2,655,963,799	16,9 58,524 2,832,942,892	2 968 616 534	15,803,222 2.621,442,428	15,906,407 2,769,241,413	0.00% 2.31%	15,906,407 2,833,210,890	0.65% 8.08%	15,906,407 2,898,658,061	0.00% 2.31%
15 16	Dol Ray Manor	11,000,124	13,713,410	2,966,616,534 13,555,124	13,395,172	12,915,958	1.17%	13,067,074	-2.45% 6.21%	13,219,959	1.17%
16	Druid Hills	40,110,570	43,420,710	41,765,551 5,653,850	38,571,842	40,967,168	0.00%	40,967,168	6.21%	40.967.168	0.00%
17 18	East Lake Herris Est. Fern Park	5,227,820 14,972,700	5,546,739 17,852,430	17,433,280	5,531,314 16,917,582	5,489,831 16,793,998	0.67% 0.29%	5,537,693 16,842,701	0.12%	5,585,871 16,891,544	0.87% 0.29%
19	Fem Terrace	11,150,250	11,995,400	11,657,115	12,720,817	11,880,896	0.87%	11,984,259	-0.44% -5.79%	12,088,522	0.87%
20	Fisherman's Haven 3/	9,304,470	9,665,629	9,195,621	9,426,216	9,398,484	2.00%	8,586,454	1.68%	9,718,272	1.38%
21 22	Fountains 2/ Fox Run	9,726,560	453,870 10.693.842	1,323,770 11,243,512	2,697,160 10,437,458	1,491,600 10,525,343	7.91% 3.47%	1,609,586 10,890,572	-40.32%	1,736,904 11,268,475	7.91% 3.47%
23 24	Friendly Center	1,417,610	1,538,750	1,599,830	1,390,680	1.486.218	1.09%	1,502,417	4.34% 8.03%	1,518,794	1.09%
24	Golden Terrace	4,293,500	4,711,160 903,800	4,801,449 864,720	4,674,600 651,590	4,620,177 748,393	0.71% 0.00%	4,652,961	-0.46%	4,686,017 748,393	0.71%
25 26	Gospel Island Est. Grand Terrace 3/	573,460 4,523,920	7,937,030	11,866,410	11,995,010	9,080,593	1.34%	746,383 8,184,140	14.86%	748,393	0.00%
27	Harmony Homes	8,065,200	7,991,550	7,756,412	8,591,166	7,601,582	0.17%	7,814,505	15.53%	9,184,140 7,627,449	0.00% 0.17%
26 29	Hermits Cove	8,087,220	6,062,400	5,733,265	6,317,478	6,050,090	0.00%	6,050,090	4.23%	6.050.090	0.00%
29	Hobby Hills	5,497,313	5,292,607	5,806,316	6,547,531	5,785,942	0.00%	5,785,942	-11.63%	5,785,942	0.00%
30 31	Holiday Haven Holiday Heights	4,035,009 6,020,900	4,209,100 8,365,810	4,260,990 5,264,090	4,527,697 5,474,720	4,258,199 5,761,330	0.00% 0.32%	4,258,199 5,799,830	-5.95% 5.94%	4,258,199	0.00%
32	Imperial Mobil Terr. 3/	15,882,990	15,121,230	15,751,806	13,408,380	15,041,097	0.00%	15,029,724	12.09%	5,818,390 15,029,724	0.32% 0.00%
33	Intercession City	13,229,161	14,314,189	14,403,777	15,795,903	14,435,783	0.93%	14,570,015	-7.76%	14,705,516 12,248,272	0.83%
34 35	Interlachen Laké Est. / Park Mai	11,107,881	12,414,415	12,267,010	12,515,418	12,076,181	0.71%	12,161,922	-2.82%	12,248,272	0.71%
36	Jungle Den Kevstone Heights	2,952,260 100,235,193	3,044,982 108,170,790	2,597,377 113,998,498	2,630,149 103,616,115	2,806,187 106,505,899	0.00% 0.88%	2,806,187 107,443,151	6.69% 3.69%	2,806,187 108,388,651	0.00% 0.88%
37	Kingswood	3,417,020	3,530,830	3,544,790 11,821,022	3,835,429	3,532,017	0.22%	3,539,788	-2.63%	3,547,575	0.22%
38	Lake Ajay Estates 3/	4,163,050	4,638,190	11,821,022	13,774,807	8,599,267	9.19%	9,389,540	-31.84%	10,156,800	6.17%
39 40	Lake Brantley Lake Conway Park	7,056,290	8,117,270 9,324,709	8,773,090 6,815,615	8,117,810 7,644,995	7,016,065 6,539,947	0.83% 0.36%	7,074,298 6,570,691	15.64%	7,133,015	0.83%
41	Lake Harriet Est.	8,374,470 29,441,881	27,736,043	25,265,030	25,206,831	26,912,441	0.35%	27,006,635	15.64% 12.11% 7.14%	8,601,546 27,101,158	0.36% 0.35%
42	Lakeview Villas	367,810	535,850	716,469 43,546,333	795.840	603,967	0.00% 0.63%	603.967	-24.11%	603,967	0.00%
43 44	Leitani Heights Leisure Lakes	48,780,937 6,538,493	46,227,914 6,648,476	43,546,333 7,317,723	43,012,488 7,289,947	44,894,418 7,948,660	0.63% 0.01%	45,177,253 7,949,455	5.03% 9.05%	45,461,870	0.63%
45	Marco Shores	36,838,998	30,600,760	24,340,881	24,039,880	28,955,074	3.07%	29,843,995	24.14%	7,950,250 30,760,206	0.01% 3.07%
46	Marion Oaks	131,409,215	143,205,248	165,746,329	169,967,296	152,582,023	5.48%	160,943,517	-5.31%	169,763,222	5.46%
47 46	Meredith Manor Momingview	71,736,776 3,520,620	73,795,468 3,491,590	78,337,221 3,429,350	72,587,148 3,946,035	74,111,653 3,598,896	0.00% 1.27%	74,111,653 3,642,577	2.10%	74,111,653	0.00%
49	Oak Forest	12,803,513	14,456,300	12,324,132	12,024,278	12,902,056	1.49%	13,094,297	-7.69% 8.90%	3,688,838 13,289,402	1.27% 1.49%
50	Oakwood 3/	9,557,117	9,699,209	9,354,382	10,144,167	9,688,719	2.27%	9,906,653	-2.32%	9,954,252	0.46%
51	Palisades Ctry Club 2/	4 450 000	3,619,270	9,016,160	11,910,150	6,161,860	53.98%	12,598,428	5.78% -1.41%	19,399,059	53.98%
52 53	Palm Port Palm Terrace	4,158,890 68,875,704	4,834,134 73,591,177	5,334,833 70,056,258	5,097,894 63,697,734	4,856,438 69,080,218	3.49% 0.31%	5,025,927 69 294 367	-1.41% 8.79%	5,201,332 69,509,179	3.49% 0.31%
53 54 55	Palms Mobile Home Pk	2,107,010	1,828,170	1.573.400	1,815,890	1,761,068	0.00%	69,294,367 1,761,068	10.24%	1,781,068	0.00%
55	Picciola Island	11,888,170	11,971,780	11,545,090	10,965,372 109,749,683	11,592,603	0.76%	11,683,025	6.54% -4.26%	11,774,153	0.79%
56 57	Pine Ridge Pine Ridge Est 3/	63,152,195 13,096,370	79,167,912 13,645,668	101,911,969 16,200,710	20,039,011	88,495,440 15,745,440	19.73% 8.32%	105,070,636	-4.26% -19.30%	124,750,366 16,172,112	18.73% 0.00%
58	Piney Woods	18,701,760	13,645,668 17,376,660	17,112,612	17,204,003	17.099.259	0.30%	17,150,557	-0.31%	17,202,008	0.30%
59	Point O' Woods	17,141,028	19,168,550	21,844,306	19,036,383	19,297,617	2.43%	17,150,557 19,766,754	-0.31% 3.84%	20,247,088	2.43%
80 61	Pomona Park Postniaster Village	7,260,561 14,638,100	7,303,381 15,368,060	9,285,798 15,418,090	10,876,944 14,297,321	8,881,668 14,929,893	1.69%	8,845,749 15,123,981	-18.67% 5.78%	9,012,934 15,320,593	1.88% 1.30%
62	Quail Ridge 2/	•	2,353,380	1,598,080	1,786,680	1,906,047	1.30% 9.49%	2,068,930	17.99%	2,284,980	9.49%
63 64	River Grove	5,564,991	8,944,077	7,413,291	7,790,550	6,928,227	0.00%	8,928,227	-11.07%	6,928,227	0.00%
64	River Park	9,689,077	9,223,950	10,347,992	10,883,154	10,036,943	1.01%	10,137,407	-6.85%	10,239,795	1.01%

B.J. Delpino Revised By T W. Isaacs

74

Page 6 W_GROWS,XLS Southern States Utilities, Inc. Projected 1995 Interim and 1996 Final Consumption by Plant - Water Ali Classes

Preparer: Sencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
								Adjuste	d 1995 and 1996 Ga	ions	
							Compound				
							Adjusted	Projected	Growth Rate	Projected	Growth Rate
				Gallons			Growth Rate	1995	OVE	1995	over
Line			Histori			Average	Bills 1/	Gallons	1994	Gallons	1995 (C10-C8)/C8
No.	Plant Name	1991	1992	1993	1994	(1991-1994)	(1991-1994)	C7*C8	(C8-C5)/C5	CTC8	(C10-Cayca
65	Rosemont / Rolling Green	15,707,670	16,944,460	18,790,600	17 994 709	17 356 860	4.08%	18,065,020	0.45%	18,802,072	4.08%
65 66 67	Salt Springs Samira Villas	5,653,870	21,593,740	22,915,018	17,984,709 32,005,749	17,356,860 20,542,094 1,090,218 252,222,170	1.57% 0.00%	20.864.605	-34.81%	21,192,179 1,090,218	1.57% 0. 00 %
67	Samira Villas Silver Leke Est / W. Shores	1,151,220 260,970,263	1,176,570	1,111,560 273,734,953	921,520 210,268,338	1,090,218	0.00% 3.78%	1,090,218	18.31% 24.49%	1,090,218 271,650,551	3.78%
69	Silver Lake Oaks	1,169,580	263,915,126 1,540,890	1,349,070	1,797,250	1,464,198	3.76% 4.89%	261,756,168 1,532,868	-14.71%	1,604,760	4.69%
70	Skycrest	5.330.050	6.681.211	6.774.514	6.925.847	6.427.906	0.51%	6,460,688	-6.72%	1,604,760 6,493,637	0.51%
71	St. John's H.	3,156,240	2,662,920 1,275,240	2,649,300 1,068,020	2,805,770 1,173,890	2,818,558 1,201,525	1.45% 4.32%	2,859,427 1,253,431	1.91% 6.79%	2,900,888	1.45% 4.32%
73	Stone Mountain Sugar Mill	1,269,150 25,102,853	25,717,615	26,533,305	25,510,194	25.715.992	1.37%	26.068.301	2.19%	1,307,579 26,425,437	1,37%
74	Sugar Mill Woods	336,802,604 30,075,392	391,838,329 29,727,398	385,242,965	325,769,936 28,317,131	25,715,992 359,913,459 29,940,903	8.05%	26,068,301 388,886,492	19.37%	420.191.855	8.05%
75	Sunny Hills	30,075,392 13,023,880	29,727,398	31,643,689 25,936,959	28,317,131	29,940,903	1.32%	30,336,122 22,939,781	7.13% -6.12%	30,736,559 25,905,895	1.32% 12.93%
75	Sunshine Parkway Tropical Park	30,801,748	17,855,860 30,281,145	25,936,959 31,135,842	24,436,401 32,016,184	20,313,275 31,058,730	12.93%	31,217,129	-2.50%	31.376.337	0.51%
68 69 70 71 72 73 74 75 76 77 78	University Shores 4/	335,849,580	366,359,018	423,270,479	410,754,298	31,058,730 384,058,344	0.51% 7.25%	411 002 574	0.28%	441,765,510 8,820,035	7.25%
79	Venetian Village	8,333,404	8,527,966	8,738,779	6,557,382	A 539 3R3	1.63% 1.60%	8,678,575	1.42% -5.00%	8,820,035 5,214,442	1.63% 1.60%
80 81	Welaka / Seratoga Harbour Westmort	4,642,938 11,382,900	. 5,265,522 12,309,320	4,895,271 11,870,490	5,402,272 12,178,260	5,051,561 11,935,243	3.04%	3,132,3යා 12,298.074	0.98%	12,671,935	3.04%
82	Windsong	7,559,440	7,723,289	8,124,445	12,178,260 8,072,990	5,051,501 11,935,243 7,870,041	0.00%	8,678,575 5,132,325 12,298,074 7,870,041	0.98% -2.51%	7,870,041	0.00%
83	Woodmera 3/	180,564,507	196,169,866	201,461,563	183,004,449	190,300,096	3.16%	193,987,728	6.00%	193,987,728	0.00% 7.51%
84 85	Wootens Zephyr Shores	413,480 21,714,145	527,090 21,189,759	699,069 15,039,018	747,320 11,289,621	596,740 17,308,136	7.51% 0.00%	641,555 17,308,136	-14.15% 53.31%	689,736 17,308,136	0.00%
	stal FPSC Uniform	5,940,529,807	6,460,596,489	6,812,755,754	6,243,823,342	6,354,426,348	3.99%	5,618,309,664	6.00%	6,864,172,362	3.71%
		* ***			-		<u> </u>				
	Non-Uniform:										
87	Deep Creek	211,400,559 14,962,985 11,533,060	221,029,355 16,495,768	218,807,161 18,567,734	219,496,620 18,882,905	217.683,424 17,227,348	3.81% 5.62%	225,977,162 18,195,525	2.95% -3.64%	234,586,892 19,218,113	3.81% 5.62%
88 89 90	Enterprise Geneva Lake Est.	11,533,060	9.010.978	10,125,576	10,982,289	10,412,978	3.20%	10.748.191	-2.15%	11,090,069	3.20%
90	Keystone Club Est.	6.275,950	8.152.045	9,672,349 375,986,838	11.492.655	8.898.250	3.12%	9,175,875	-20.16%	9,462,162	3.12%
91	Lehigh	370,988,098	376,069,596	375,986,838	399,084,229	380,532,190	2.84%	391,339,304	-1.94% 3.02%	402,453,341 2,239,368,221	2.84% 2.89%
92 93	Marco Island 4/ Palm Valley 3/	2,077,140,704 16,843,759	2,145,286,784 18,337,760	2,126,283,910 24,910,455	2,112,629,013 23,624,400	2,115,335,103 20,929,094	2.89% 1.07%	2,176,468,287 21,153,035	-10.46%	21,301,560	0.70%
94	Reminaton Forest 3/	375,460	4,809,031	8,716,109	9,309,950	5,802,638	23.04%	7,139,565	-23.31%	7,867,584	10.20%
95 Sub-to	otal FPSC Non-Uniform	2,709,520,575	2,799,191,317	2,793,070,132	2,805,502,061	2,776,821,021	3.00%	2,860,194,945	1.95%	2,945,347,942	2.98%
96 \$UB- T	TOTAL FPSC	8,650,060,382	9,259,787,806	9,605,825,886	9,049,325,403	9,141,247,369	3.69%	9,478,504,609	4.74%	9,809,520,304	3.49%
Han C	TOCO (underdieden)										
97	PSC Jurisdiction: Gibsonia Est.	13,730,440	13,442,230	13 090 770	13 583 760	13 686 550	2.23%	13,991,760	3.00%	14,303,776	2.23%
98 99	Hershel Heights	30,321,647	33,841,613	13,989,770 32,037,899	13,583,760 29,304,877	13,686,550 31,376,509 70,122,527	0.13%	31,417,298 70,620,397	7.21%	31,458,141	0.13%
99	Lake Gibson Est.	65,478,344	71,549,195	70,690,767	72,771,801	70,122,527	0.71%	70,620,397	-2.96% -0.54%	31,458,141 71,121,802 18,140,825	0.71% 0.58%
100 101	Orange Hill / Sugar Creek Seaboard	16,694,156 263,719,766	18,018,738 262,328,553	18,882,320 259, 13 5,059	18,133,619 246,351,473	17,932,208 257,883,713	0.58% 0.64%	18,036,215 259,534,169 3,193,316,727	5.35%	261,195,187 3,292,309,546	0.64%
102	Spring Hill	263,719,766 2,795,838,545	262,328,553 3,283,399,032	3,487,623,478	2,822,340,603	257,883,713 3,097,300,415	3.10%	3,193,316,727	5.35% 13.14%		3.10%
103	Valrico Hills 3/	35,177,543	39,002,020	41,943,360	38,464,200	38,646,781	1.00%	38,774,520	0.81%	38,774,520	0.00%
104 Sub-to	otal Non-FPSC	3,220,960,441	3,721,581,381	3,924,302,653	3,240,950,333	3,526,948,702	2.80%	3,625,691,086	11.87%	3,727,303,797	2.80%
INS TOTAL	L ALL PLANTS	11,871,010,823	12,981,369,187	13,530,128,539	12.290,275,736	12,668,196,071	3.44%	13,104,195,695	6.62%	13,536,824,101	3.30%
iw ioin	L PLE I DINIG	11,011,010,023	12,001,008,10/	10,000,120,000	12,230,213,130	12,000,100,071	9,747,70	, 0, 104, 100,000	V.V.E /8	10100010571101	7.000

^{1/} Uses the bill growth projections to compute the growth in gations. Please refer to the bill projection schedule to see the calculation of those growth raises,

^{2/} Foundains, Palisades Country Club, and Qualt Ridge were start ups in 1991. This produces an abnormality low consumption, therefore their 1991 consumption has been zeroed out and the everage taken for 1992 - 1994.

^{3/} These plants gallonage growth rates are capped because the growth is bits has been capped. To compute the maximum growth rate SSU took the 1991 • 1994 average usage divided by the 1994 bitle to get a per bill usage and multiplied that by the 1995 & 1996 adjusted projected bitls to get a "maximum" gallonage amount.

Please refer to page 8 for details.

^{4/} Marco laland and University Shores had gallonage in their fire protection. Since it was not charged, it has been removed.

Marco laland has a raw water agreement with our Marco Shores plant. This gallonage was pulled out to be treated seperately.

76

Southern States Utilities, Inc. Calculation of 1995 Interim and 1996 Final Max. Cons. For Bill-Capped Plants - Water All Classes

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
							Projected	
				Avg. Use		-	Maximum G	allons
		Bills	Avg. Galions	Per Bill	Bi	lls	(4) * (5)	(4) • (6)
	Plant Name 1/	1994 1/	1991 - 1994 2/	(3) / (2)	1995 1/	1996 1/	1995	1996
	FPSC Uniform:							
(1)	Beacon Hills	36,461	477,614,109	13,099	38,136	38,136	499,543,464	499,543,464
(2)	Fisherman's Haven	1,671	9,398,484	5,624	1,704	1,728	9,583,296	9,718,272
(3)	Grand Terrace	1,317	9,080,593	6,895	1,332	1,332	9,184,140	9,184,140
(4)	Impenal Mobil Terr.	2,894	15,041,097	5,197	2,892	2,892	15,029,724	15,029,724
(5)	Lake Ajay Estates	1,016	8,599,267	8,464	1,109	1,200	9,386,576	10,156,800
(6)	Oakwood	2,441	9,688,719	3,969	2,496	2,508	9,906,624	9,954,252
(7)	Pine Ridge Est	2,547	15,745,440	6,182	2,616	2,616	16,172,112	16,172,112
(8)	Woodmere	13,997	190,300,096	<u>13,596</u>	14,268	14,268	193,987,728	193,987,728
(9)	Sub-total FPSC Uniform	62,344	735,467,804	11,797	64,553	64,680	761,531,741	763,029,960
	FPSC Non-Uniform:							
(10)	Palm Valley	2,476	20,929,094	8,453	2,502	2,520	21,149,406	21,301,560
(11)	Remington Forest	770	5,802,638	7,536	947	1,044	7,136,592	7,867,584
(12)	Sub-total FPSC Non-Uniform	3,246	26,731,731	8,235	3,449	3,564	28,402,515	29,349,540
(13)	SUB-TOTAL FPSC	65,590	762,199,535	11,621	68,002	68,244	790,251,242	793,063,524
	Non-FPSC Jurisdiction:							
(14)	Valrico Hills	4,246	38,646,781	9,102	4,260	4,260	38,774,520	38,774,520
(15)		4,246	38,646,781	9,102	4,260	4,260	38,774,520	38,774,520
(16)	TOTAL ALL PLANTS	69,836	800,846,316	11,468	72,262	72,504	828,700,616	831,475,872
. ,								

^{1/} These variables come from the projection of 1995 interim and 1996 final bills schedule. If the 1995 or 1996 projection is capped, then consumption should be capped also.

^{2/} This variable comes from the projection of 1995 interim and 1996 final consumption schedule.

Southern States Utilities, Inc.

1995 and 1996 Growth Projections - Wastewater

Preparer: Bencini Supporting Schedule for E-13, E-5

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12) (13) (14) (15)

									Unad usted 1995 and 1996 Bills		Adjus	ted 1995 and 1996	Billa	,	
									Compound			Compound			
							d Historic Grow		Growth	Projecte		Growth		led Bills	
Line			911			(C3/C2)-1	(C4/C3)-1	(C5/C4)-1	Rate	C5 * (1+C9)	C10 * (1+C9)	Rate 2/	C5 * (1+C12)	C13 * (1+C12)	Maximum
No.	Plant Name	1991	1992	1993	1994	1992	1993	1994	1991-1994	1995	1996	1991-1994	1995 3/	1996 3/	Bills 4
FP:	SC Uniform:														
t	Amelia Island 6/	12,055	13,469	14,411	15,338	11.73%	6.99%	6.43%	8.36%	16,620	18,010	6.71%	16,367	17,465	29,604
2	Apache Shores	1,340	1,266	1,239	1,170	-5.52%	-2.13%	-5.57%	-4.42%	1,118	1,069	0.00%	1,170	1,170	2,340 2,256
4	Appie Valley Beacon Hills	1,996 29,620	2,000 31,434	1,993 33,217	2,003 35,208	0.20% 6.12%	-0.35% 5.67%	0.50% 5.99%	0.12% 5.93%	2,005 37,296	2,008 39,507	0.12% 5.93%	2,005 37,296	2,007 38,136	38,136
3	Seecher's Point	191	193	193	193	1.05%	0.00%	0.00%	0.35%	194	39,307 194	0.35%	194	195	744
6	Burnt Store 5/	1,799	2,056	2,545	3,979	14.29%	23.78%	56.35%	30.29%	5,184	6,755	39.08%	5,534	7,697	52,154
7	Chuluota	1,578	1,574	1,587	1,609	-0.25%	0.83%	1.39%	0.65%	1,619	1,630	0.65%	1,619	1,630	1,860
8	Citrus Park	3,106	3,138	3,220	3,197	1.03%	2.61%	-0.71%	0.97%	3,228	3,259	0.97%	3,228	3,259	4,404
9 10	Citrus Springs Deltona	8,136	8,172	8,168	8,233	0.44%	-0.05%	0.80%	0.40%	8,266	8,299	0.40%	8,266	8,299 56,630	13,008 60,000
11	Fisherman's Haven	53,616 1,626	54,029 1,866	54,329 1,646	55,405 1,643	0.77% 2.46%	0.56% -1.20%	1.98% -0.18%	1.10% 0.35%	56,014 1,649	56,631 1,655	1.10% 0.35%	56,014 1,649	1,655	1,728
12	FI Ctrl Commerce Park 5/	284	388	401	412	36.62%	3.35%	2.74%	13.20%	466	528	2.67%	423	434	852
13	Fox Run	1,079	1,119	1,145	1,176	3.71%	2.32%	271%	2.91%	1,210	1,245	2.91%	1,210	1,245	1,308
14	Holiday Haven	1,147	1,145	1,114	1,100	-0.17%	-2.71%	-1.26%	-1.38%	1,085	1,070	0.00%	1,100	1,100	1,992
15 16	Jungle Den Leilani Heichts	1,376 4,637	1,397 4,653	1,386 4,692	1,396 4.671	1.53% 0.35%	-0.79% 0.84%	0.72%	0.48% 0.24%	1,403 4,682	1,409 4,693	0.48% 0.24%	1,403 4,682	1,410 4.693	1,620 4,956
17	Leisure Lakas	2.752	2,751	2.744	2,753	-0.04%	-0.25%	-0.45% 0.33%	0.01%	4,002 2,753	4,093 2,754	0.24%	2.753	2,753	4,620
18	Marco Shores	2,834	2,848	2,874	3,036	0.42%	0.98%	5.64%	2.32%	3.108	3,179	2.32%	3,106	3,178	7,200
19	Mazion Oaks	15,306	15,432	15,643	15,984	0.82%	1.37%	2.18%	1.46%	16,217	16,454	1.46%	15,217	16,454	19,320
20	Meredith Manor	328	328	336	341	0.00%	2.44%	1.49%	1.30%	345	350	1.30%	345	349 424	408 576
21 22	Momingview Paim Port	410 1,074	400 1,142	396 1,153	418 1.192	-2.44% 6.33%	-1.00% 0.96%	5.56% 3.38%	0.65% 3.54%	421 1,234	423 1,278	0.65% 3.54%	421 1,234	1,278	1,644
23	Palm Terrace	12,223	12,258	12,301	12,338	0.29%	0.35%	0.30%	0.31%	12.376	12,415	0.31%	12,376	12,414	14,268
24	Park Manor	340	350	352	348	2.94%	0.57%	-1.14%	0.78%	351	353	0.78%	351	354	420
25	Point O' Woods 6/	1,363	1,550	1,632	1,655	13.72%	5.29%	1.41%	6.68%	1,766	1,883	3.33%	1,710	1,767	2,292
26	Salt Springs	1,315	1,282	1,323	1,349	-2.58%	3.20%	1.97%	0.83%	1,360	1,371	0.83%	1,360	1,371	2,220
27 28	Silver Lake Oaks South Forty 5/	296 250	308 270	297 367	312 395	4.05% 8 .00%	-3.57% 35.9 3%	5.05% 7. 63%	1.77% 15.47%	318 460	323 536	1.77% 7.11%	318 423	324 453	636 624
29	Sugar Mill	7.030	7,248	7,337	7.383	3.10%	1.23%	0.35%	1,55%	7,477	7,593	1.55%	7.477	7,593	7,932
30	Sugar Mill Woods	20,927	22,657	24,373	26,274	8.27%	7.57%	7.80%	7,88%	28,344	30,578	7.88%	28,344	30,578	99,024
31	Sunny Hills	2,099	2,088	2,092	2,130	-0.52%	0.19%	1.82%	0.49%	2,140	2,151	0.49%	2,140	2,150	8,048
32	Sunshine Parkway 5/	71	89	96	105	25.35%	7.87%	9.38%	13.63%	120	136	B.61%	114	124	672
33 34	University Shores Venetian Village	30,647 974	33,158 996	35,635 1,013	37,799 1.022	8.19% 2.26%	7.47% 1.71%	6.07% 0.89%	7.24% 1.62%	40,536 1,039	43,470 1,055	7.24% 1.62%	40,538 1.039	43,471 1,056	51,300 1,284
35	Woodmere	12,476	12,718	13,136	13,459	1.94%	3.29%	2.46%	1.62% 2.56%	13,804	14,157	2.56%	13,804	14,157	14.268
36	Zephyr Shores	6,016	6,054	5,672	5,781	0.63%	-6.31%	1.92%	-1.32%	5,705	5,629	0.00%	5,781	5,781	7,764
37 Sub	total FPSC Uniform	242,318	251,524	260,058	270,787	3.84%	3.35%	4.13%	3.77%	281,912	294,052	4.03%	282,009	293,054	459,492
	C Non-Uniform:														
38	Deep Creek	31,880	33,787	34,884	36,035	5.98%	3.25%	3.30%	4.17%	37,538	39,103	4.17%	37,538	39,103	87,420
39 40	Enterprise	1,400	1,458	1,506	1,533	4.14%	3.29%	1.79%	3.07%	1,560	1,629	3.07%	1,580	1,629	2,736
41	Lehigh Marco Island 6/	74,821 24,724	76,600 22,690	77,710 22,679	81,407 22,881	2.38% -8.23%	1.45% -0.05%	4.76% 0.89%	2.85% -2.55%	83,727 22,298	86,113 21,729	2.85% 0.42%	83,727 22,977	66,113 23,074	N/A N/A
42	Tropical isles 5/	1,764	2,060	2,270	2,629	-8.23% 16.78%	10.19%	15.81%	-2.55% 14. 23 %	3,003	3,430	13.82%	2,992	3,405	4,008
43 Sub	Hotal FPSC Non-Uniform	134,589	136,595	139,049	144,485	1.49%	1.80%	3.91%	2.39%	148,145	152,004	3.01%	145,814	153,324	94,154
.0			100,000	100,040	144,700	17474	1,00 %	0.0170	2.03 /4	140,143	132,004		140,014	100,027	51/141
44 SUE	3-TOTAL FPSC	376,907	388,219	399,107	415,272	3.00%	2.80%	4.05%	3.28%	430,058	446,056	3.68%	430,823	445,378	553,656
Mos	-FPSC Jurisdiction:														
45	Lake Gibson Estates	3.190	3,184	3,238	3.194	-0.19%	1.70%	-1.36%	0.04%	3,195	3,197	0.04%	3,195	3,196	3,660
46	Seaboard	29,897	29.843	30,112	30.277	-0.18%	0.90%	0.55%	0.42%	30,404	30,532	0.42%	30,404	30,532	31,812
				,	,				2. 1.275	1.4	,	>=	,		

L.I. Dulpino Residenthy T.W. Inserts Page 1 6_GROWLXL8 m

Preparer: Bencini Supporting Schedule for E-13, E-5

(15)

(14)

	(*)	(-)	(0)	147	(4)	(0)	.,,	(4)	107	(10)	(11)	\ ·+-)	(10)	(17)	(13)
									Unedju	rated 1995 and 199	6 Bills	Adjus	ted 1995 and 1996	Bills	
									Compound			Compound			
						Unadjuste	d Historic Grov	rth Rates	Growth	Project	ed Bills	Growth	Project	ed Bills	
Line			Bill	B		(C3/C2)-1	(C4/C3)-1	(C5/C4)-1	Rate	C5 * (1+C9)	C10 * (1+C9)	Rate 2/	C5 * (1+C12)	C13 * (1+C12)	Maximum
No.	Plant Name	1991	1992	1993	1994	1992	1993	1994	1991-1994	1995	1995	1991-1994	1995 3/	1996 3/	Bills 4/
47	Spring Hill	58,128	60,118	61,679	63,631	3.42%	2.60%	3.16%	3.06%	65,578	67.585	3.06%	65,576	67,585	73,320
48	Valrico Hitis	4,119	4,190	4,207	4,234	1.72%	0.41%	0.64%	0.92%	4,273	4,312	0.92%	4,260	4,260	4,260
49 Sub-ti	otal Non-FPSC	95,334	97,335	99,236	101,336	2.10%	1.95%	2.12%	2.06%	103,451	105,625	2.07%	103,437	105,573	113,052
50 TOTA	L ALL PLANTS	472,241	485,554	498,343	516,608	2.82%	2.63%	3.87%	3.04%	533,508	551,682	3.36%	534,260	551,951	666,706

(8)

(8)

(10)

(11)

(12)

(13)

(5)

(6)

(7)

(3)

^{1/} Residential, Multi-Family and Commercial were chosen to project for restandar because of the large influence that efficient and bulk wastwater could have on the growth rates.

^{2/} Recalculated compound growth rates for the outlier plants (bodied) using the absolute growth in bills from 1993 to 1994 to prospectively calculate the compound growth rate. Please rater to page 3 for calculations. In addition, aboved for no negative growth.

^{3/} The adjusted projected 1995 and 1996 bits were computed using the adjusted compound growth rate. The bordered cells represent projections that have been capped at maximum bills.

^{4/} The majornum bills were computed by taking the lot count of the service territory and multiplying it by 12 to proxy the maximum number of bills to expect. Please refer to page 4 for calculations.

^{5/} These plants were determined to be outliers for their compound growth reites for 1991-1994. SSU does not feel that this level of growth will continue.

Adjusted compound plant growth rates have been computed for these systems. Please rater to tootnote 2/ for more information.

^{6/} Americ latenci's 1991 data appears to be slightly out of line. Therefore, the adjusted growth rate was calculated on 1992-1994 data.

Point O' Woods 1991 data appears to be slightly out of line. Therefore, the adjusted growth rate was calculated on 1992-1994 data.

Merco (stand's 1991 data appears to be slightly out of line. Therefore, the adjusted growth rate was calculated on 1992-1994 data.

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
					Projected Num	ber	N	umber of Bills	for Growth			Growth Rate	8	Compound
Line		Nu	mber of Bills)	of bills (prev. y	r +C4)	Rate	Calculation	(C2 C3 C5 C6)	(C8/C7)-1	(C9/C8)-1	(C10/C9)-1	Growth
No.	Plant Name 1/	1993	1994	Increase	1995	1996	1993	1994	1995	1996	1994	1995	1996	Rate
FPSC U	niform:													
1	Burnt Store	2,545	3,979	1,434	5,413	6,847	2,545	3,979	5,413	6,847	56.35%	36.04%	26.49%	39.08%
2	FI Central Commerce Pk	401	412	11	423	434	401	412	423	434	2.74%	2.67%	2.60%	2.67%
3	South Forty	367	395	28	423	451	367	395	423	451	7.63%	7.09%	6.62%	7.11%
4	Sunshine Parkway	96	105	9	114	123	96	105	114	123	9.38%	8.57%	7.89%	8.61%
5 Sub-Tota	al FPSC Uniform:	3,313	4,786	1,473	6,259	7,732	3,313	4,786	6,259	7,732	44.46%	30.78%	23.53%	32.64%
FPSC No	on-Uniform:													
6	Tropical Isles	2,270	2,629	359	2,988	3,347	2,270	2,629	2,988	3,347	15.81%	13.66%	12.01%	13.82%
7 Sub-tota	al FPSC Non-Uniform	2,270	2,629	359	2,988	3,347	2,270	2,629	2,988	3,347	15.81%	13.66%	12.01%	13.82%
8 <u>Total FP</u>	SC:	5,583	7,415	1,832	9,247	11,079	5,583	7,415	9,247	11,079	32.81%	24.71%	19.81%	25.66%

^{1/} These Plants were chosen to be outliers by taking the compound growth rate from 1991 - 1994 from the 1995 - 1996 bill projection schedule and running those rates through a trimming methodology.

The methodology chosen takes the 75th percentille of the growth rates and multiplies that by 2.5 times the 75th - 25th percentile. The trim point came out as 11.39%.

Burnt Store had a 30.29% rate, FI Central Commerce Pk had a 22.34% rate, South Forty had a 16.46% rate, Sunshine Parkway had a 13.93% rate, and Tropical ides had a 14.23% rate.

Southern States Utilities, Inc.
Projected 1995 Interim and 1996 Final Bills by Plant - Sewer
Maximum Bills Calculation by Plant
Using Lot Counts Obtained From Schedule F6 - Used and Useful Schedule

	(1)	(2)	(3)
			Maximum
			Bills Per
Line			Lot 1/
No.	Plant Name	Lots	C2*12
		-	
	Uniform:		`
1	Amelia Island	2,467	29,604
2	Apache Shores	195	2,340
3	Apple Valley	188	2,256
4	Beacon Hills Beecher's Point	3,178	38,136
5 6 7	Burnt Store	62 4,347	744 52,164
7	Chuluota	155	1,860
8	Citrus Park	367	4,404
9	Citrus Springs	1,084	13,008
10	Deltona	5,000	60,000
11	Fisherman's Haven	144	1,728
12	FI Ctrl Commerce Park	71	852
13	Fox Run	109	1,308
14	Holiday Haven	166	1,992
15	Jungle Den	135	1,620
16	Leilani Heights	413	4,956
17	Leisure Lakes	385	4,620
18	Marco Shores	600	7,200
19	Marion Oaks	1,610	19,320
20	Meredith Manor	34	408
21	Morningview	48	576
22 23	Palm Port	137	1,644
23 24	Palm Terrace Park Manor	1,189 35	14,268 420
2 4 25	Point O' Woods	191	2,292
26	Salt Springs	185	2,220
27	Silver Lake Oaks	53	636
28	South Forty	52	624
29	Sugar Mill	661	7,932
30	Sugar Mill Woods	8,252	99,024
31	Sunny Hills	504	6,048
32	Sunshine Parkway	56	672
33	University Shores	4,275	51,300
34	Venetian Village	107	1,284
35	Woodmere	1,189	14,268
36	Zephyr Shores	647	7,764
37 Sub-to	otal FPSC Uniform	38,291	459,492
	Non-Uniform:	7.005	07.400
38	Deep Creek	7,285	87,420
39	Enterprise	228	2,736
40	Lehigh 2/	5,676	N/A N/A
41	Marco Island 2/	1,334 334	
42	Tropical Isles		4,008
43 Sub-to	otal FPSC Non-Uniform	14,857	94,164
44.600.3	FOTAL EDGG	F0 140	EE0 850
44 308-	TOTAL FPSC	53,148	553,656

Non	<u>-FPSC Jurisdiction:</u>		
45	Lake Gibson Estates	305	3,660
46	Seaboard	2,651	31,812
47	Spring Hill	6,110	73,320
48	Valrico Hills	355	4,260
49 Sub	-total Non-FPSC	9,421	113,052
50 TO 1	'AL ALL PLANTS	62,569	666,708

^{1/} The maximum number of bills is 12 (number of bills per year) times the number of lots.

^{2/} Lehigh and Marco Island maximum bills have been deemed not applicable because of the high proportion of multi-family residences.

Preparer: Bencinl Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	(11)	(12)
							_	Adjusted	1995 and 1996 Gal	ions	
						Compound	Compound	Projected	Growth Rate	Projected	Growth Rate
						Growth Rate	Growth Rate	1995	over	1996	over
Line			Historical	Gallona		Gallons	Gallona 2/	Gallons 3/	1994	Gallons 3/	1995
	Plant Name	1991	1992	1993	1994	(1991-1994)	(1991-1994)	C8*C5	(C9-C5)/C5	C8*C9	(C10-C9)/C9
No.	Plant Name	1331	1992	1359	1334	(1331-130-1)	(1331-1334)		(ca-ca)ca	_ C0 C3	(C10-Ca)/Ca
FPSC	<u>Uniform:</u> Amelia Island	155,010,650	176,546,100	179,190,212	191,869,662	7,37%	7.37%	206,010,456	7.37%	221,193,427	7.37%
2	Aniella Island Apache Shores	1,684,182	1 624 205	1,700,474	1,760,366	1.49%	1.49%	1,786,595	1.49%	1,813,216	1.49%
3	Apple Valley	10,283,610	1,624,205 10,289,340	9,867,319	9,878,367	-1.33%	0.00%	9,878,367	0.00%	9,876,367	0.00%
4	Beacon Hills 5/	184,418,372	175,286,543	202,173,848	218,608,536	10.00%	10.00%	231,794,640	5.93%	237,015,240	2.25%
5	Beecher's Point 4/	743,130	782,240	758,009	1,893,980	36.60%	1.00%	1,912,920	1.00%	1,932,049	1.00%
6	Burnt Store	23,269,370	22,042,199	24,609,478	27,438,475	5.64%	5.54%	28,983,892	5.64%	30,618,584	5.64%
7	Chuluota	6,372,230	6,595,620	6,706,335	6,630,971	1.34%	1.34%	6,719,826	1.34%	6,809,872	1.34%
8 9	Citrus Park	12,120,318 27,143,058	11,906,690 27,397,627	12,857,069 30,117,837	13,472,031 27,855,957	3.59% 0.67%	3.59% 0.87%	13,955,677 28,098,304	3.59% 0.87%	14,456,686 28,342,759	3.59% 0.87%
10	Citrus Springs Deltona	248,464,413	254,573,969	269,647,351	261,288,380	1.69%	1.69%	265,704,154	1.69%	270,194,554	1.69%
11	Fisherman's Haven	6,509,270	6,495,309	6,177,820	6,440,850	-0.35%	0.00%	6,440,850	0.00%	8,440,850	0.00%
12	FI Ctrl Commerce Park 4/	13,405,060	14,339,710	26,339,810	18,662,633	11.66%	2.67%	19,160,925	2.67%	19,672,522	2.67%
13	Fox Run	5,497,070	5.847.028	5,968,942	6,123,681	3.66%	3.66%	6,347,808	3.66%	8,580,137	3.66%
14	Holiday Haven	3,079,409	3,285,385	3,055,740	3,086,287	0.07%	0.07%	3,088,447	0.07%	3,090,609	0.07%
15	Jungle Den	2,773,430	2,852,270	2,566,324	2,697,989	-0.92%	0.00%	2,697,989	0.00%	2,697,989	0.00%
16	Leilani Heights	24,926,592	24,139,086	24,292,710	24,764,802	-0.19% -1.01%	0.00% 0.00%	24,764,802	0.00%	24,784,802	0.00%
17 18	Leisure Lakes Maroo Shores	6,804,945 10,525,996	7,420,531 10,050,410	6,352,990 10,779,691	6,600,619 11,942,688	4,30%	4.30%	6,600,619 12,456,224	0.00% 4.30%	6,600,619 12,991,841	0.00% 4.30%
19	Marion Caks	50,739,997	50,901,828	56,885,361	55,684,012	3.15%	3.15%	57,438,058	3.15%	59,247,357	3.15%
20	Meredith Manor 4/	1,755,670	1,760,600	2,267,330	2,377,150	10.63%	4.64%	2,492,204	4.84%	2,612,827	4.84%
21	Morningview	2,008,330	1,882,480	1,899,460	2,019,972	0.19%	0.19%	2,023,810	0.19%	2,027,655	0.19%
22	Palm Port	3,663,550	4,249,814	4,454,303	4,392,414	8.23%	6.23%	4,666,061	6.23%	4,956,757	6.23%
23	Palm Terrace	42,094,764	42,379,018	41,451,483	39,423,698	-2.16% 26.93 %	0.00%	39,423,698	0.00%	39,423,698	0.00%
24	Park Manor 4/	1,290,520 4,197,832	2,264,620	2,550,910	2,638,920 5,147,630	20.93% 7.04%	7. 95% 7.04%	2,848,714	7.95% 7.04%	3,075,187	7.95%
25 26	Point O' Woods Salt Springs 4/	6,325,010	4,643,460 12,306,450	4,961,648 12,013,640	12,965,744	15,91%	2.64%	5,510,023 13,308,040	7.04% 2.64%	5,897,929 13,659,372	7.04% 2.84%
27	Silver Lake Oaks	968,566	1,049,360	1,046,661	1,132,820	5.36%	5.36%	1,193,539	5.36%	1,257,513	5.36%
28	South Forty	6,991,137	8,233,439	6,438.074	8,013,269	4.65%	4.65%	8,385,886	4.65%	8,775,830	4.65%
29	Sugar Mill	22,046,351	22,728,505	22,830,701	22,948,833	1.35%	1.35%	23,258,642	1.35%	23,572,634	1.35%
30	Sugar Mill Woods	112,537,253	122,186,233	128,115,208	131,250,814	5.26%	5.26%	138,154,607	5.26%	145,421,539	5.28%
31	Sunny Hilts	7,367,998	7,500,718	7,472,250	7,569,362	0.90%	0.90%	7,637,486	0.90%	7,706,224	0.90%
35	Sunshine Parkway 4/	10,639,550	14,507,830	22,438,459	21,639,431	26.70%	0.00%	21,639,431	0.00%	21,639,431	0.00%
33	University Shores	191,144,619	212,155,829	268,119,700	232,907,853 4,372,186	8.81% 0.18%	8.81% 0.16%	248,768,878	6.81% 0.18%	265,710,038 4,387,940	6.81%
34 35	Venetian Village Woodmere	4,348,484 120,754,305	4,149,890 119,525,199	4,270,964 118,135,761	103,230,286	-5.09%	0.00%	4,380,056 103,230,286	0.00%	103,230,286	0.18% 0.00%
36	Zephyr Shores	16,535,249	15,850,459	13,012,256	10,574,641	-13.84%	0.00%	10,574,641	0.00%	10,574,641	0.00%
	lotal FPSC Uniform	1,330,438,292	1,409,749,794	1,541,524,128	1,509,523,309	4.30%	3.86%	1,571,356,556	4.10%	1,628,290,980	3.62%
0, 555		1,1,1,1,1,1,1	11:01:101	.,,		110		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		.,,	
FPSC	Non-Uniform:										
38	Deep Creek	200,918,979	212,069,014	212,857,984	213,726,766	2.08%	2.08%	218,172,283	2.08%	222,710,266	2.08%
39	Enterprise	7,764,995	8,388,758	8,816,542	9,006,608	5.07%	5.07%	9,463,243	5.07%	9,943,029	5.07%
40	Lehigh	255,969,320	259,423,329	257,763,632	273,183,699	2.19%	2.19%	279,166,422	2.19%	265,280,167	2.19%
41	Marco Island 4/	529,728,016	515,792,899	528,770,487	527,239,553	1.10%	1.10%	533,039,188	1.10%	538,902,619	1.10%
42	Tropical Isles	*				N/A	N/A	N/A	N/A	N/A	N/A
43 Sub-	total FPSC Non-Uniform	994,381,310	995,673,800	1,008,208,645	1,023,155,626	0.96%	1.63%	1,039,841,136	1.63%	1,056,836,081	1.63%
						-					
44 SUB-	TOTAL FPSC	2,324,819,602	2,405,423,594	2,549,732,773	2,532,679,935	2.90%	2.97%	2,611,197,692	3.10%	2,585,127,061	2,63%
			2.3-1					12.74.27		3-2-1	

82

B.J. Delpins Revised by T.W. base Page 6 S_GROWS.XES

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	Ø	(8)	(9)	(10)	(11)	(12)
								_Adjusted	1995 and 1996 Gal	lons	
						Compound	Compound	Projected	Growth Rate	Projected	Growth Rate
						Growth Rate	Growth Rate	1995	OVer	1996	OAGL
Line			Historical	Gallons		Gallona	Gallons 2/	Gallons 3/	1994	Gallona 3/	1995
No.	Plant Name	1991	1992	1993	1994	(1 <u>991-19</u> 94)	(1991-1994)	C8*C5	(C9-C5)/C5	C8,C8	(C10-C9)/C9
45 46 47 48	-FPSC Jurisdiction: Lake Gibson Estates Seaboard Spring Hill Valrico Hills 5/ -total Non-FPSC	25,311,430 201,728,033 251,964,163 37,214,888 516,218,514	25,970,430 198,585,204 268,683,736 39,036,770 532,276,140	26,680,740 199,340,620 291,187,290 41,889,320 559,097,970	26,239,170 193,238,773 285,328,262 38,344,030 543,150,235	1.21% -1.42% 4.23% 1.00%	1.21% 0.00% 4.23% 1.00% 2.32%	26,556,664 193,238,773 297,337,647 38,578,560 555,771,644	1.21% 0.00% 4.23% 0.61% 2.32%	26,878,000 193,238,773 309,977,588 38,578,560 568,672,901	1.21% 0.00% 4.23% 0.00% 2.32%
50 TOT	AL ALL PLANTS	2,841,038,116	2,937,699,734	3,108,830,743	3,075,830,170	2.68%	2.85%	3,166,969,336	2.96%	3,253,799,962	2.74%

^{1/} Residential, Multi-Family and Commercial were chosen to project for wastewater because of the large influence that effluent and bulk wastwater could have on the growth rates.

Meriolith Manor's 1991 and 1992 data are lower than 1993-1994. Therefore, the growth rate was calcutated on 1993-1994 data.

Park Manor's growth rate was calculated using 1992 - 1994 data. The 1991 point appears to be an outlier, so SSU feels that the 1992 - 1994 growth is valid for this plant.

Salt Springs 1991 data appears out of line. Therefore, the growth rate was computed on 1992-1994 date.

Sunshine Parloway's growth rate was zeroed out. SSU feets that the consumption in this plant is going to remain constant.

Marco Island's 1991 data appears out of line. Therefore, the growth rate was computed on 1992-1994.

83

^{2/} Recalculated compound growth rates for the outlier plants (boilded). Please refer to lootnote 4 for more information. In addition, allowed for no negative growth.

^{3/} The adjusted projected 1995 and 1996 gallone were computed using the adjusted compound growth rate.

^{4/} Beecher's Point growth rate was calculated using 1991 - 1983 data. The 1994 point appears to be an outlier, so SSU feets that the 1991 - 1993 growth is valid for this plant.

Fiorida Central Commerce Park's data appears to be erratic. Therefore, the bill growth rate of 2.67% was used, assuming steady usage for 1995 and 1996.

^{5/} These plants gallorage growth rates are capped because the growth in bits has been capped. To compute the maximum growth rate SSU book the 1994 actual usage divided by the 1994 bits to get a per bill usage and multiplied that by the 1995 & 1996 adjusted projected bills to get a "maximum" gallonage amount.
Please refer to page 8 for details.

Southern States Utilities, Inc. Calculation of 1995 Interim and 1996 Final Max. Cons. For Bill-Capped Plants - Sewer Residential, Multi-Family, and Commercial 1/

Preparer: Bencini Supporting Schedule for E-13, E-5

	(1)	(2)	(3)	(4)	(5)	(6)	(7) Projected	(8)
				Avg. Use			Maximum G	allons
Line		Bills	Historic Gallons	Per Bill	Bi	lls	C4*C5	C4*C6
No.	Plant Name 2/	1994 2/	1994 3/	C3/C2	1995 2/	1996 2/	1995	1996
FPSC	Uniform:							
1	Beacon Hills	35,208	218,808,536	6,215	37,296	38,136	231,794,640	237,015,240
2 Sub-to	otal FPSC Uniform	35,208	218,808,536	6,215	37,296	38,136	231,794,640	237,015,240
Non-F	PSC Jurisdiction:							
3	Valrico Hills	4,234	38,344,030	9,056	4,260	4,260	38,578,560	38,578,560
4 Sub-to	otal Non-FPSC	4,234	38,344,030	9,056	4,260	4,260	38,578,560	38,578,560
5 TOTA l	L ALL PLANTS	39,442	257,152,566	6,520	41,556	42,396	270,945,120	276,421,920

^{1/} Residential, Multi-Family and Commercial were chosen to project for wastewater because of the large influence that effluent and bulk wastwater could have on the growth rates,

T. W. Isaacs

^{2/} These variables come from the projection of 1995 interim and 1996 final bills schedule. If the 1995 or 1996 projection is capped, then consumption should be capped also.

^{3/} This variable comes from the projection of 1995 interim and 1996 final consumption schedule.

SCHEDULE OF WATER RATES - 1996

Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Schedule: E1-1 Page 1 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

FPSC

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
	DECIDENTIAL CENEDAL MURTI FAMILY CEDVICES 21			
1	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES 3/ 5/8"x3/4"			40.40
2	3/4"			\$8.46
3	_ -			\$12.69
4	1"			\$21.15
5	1 1/2"			\$42.30
6	2 ^M			\$67.68
7	3 ⁿ			\$135.36
8	4"			\$211.50
9	6"			\$423.00
10	8"			\$676.80
11	10"			\$972.90
12	GALLONAGE CHARGE / MG:			
13	All Gallonage			\$1.76
14	FIRE PROTECTION			
15	5/8"x3/4"			N/A
16	3/4"			N/A
17	1"			N/A
18	1 1/2"			N/A
19	2"			\$5.64
20	3"			\$11.28
21	4*			\$17.63
22	6"			\$35.25
23	8"			\$58.40
24	10"			\$81.08
25	GALLONAGE CHARGE / MG:			401.00
26	All Gallonage			\$0.00
20	An Carpingo			₩0.00

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} Public Authority and Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company - Present Uniform (Excluding Burnt Store)

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Finel [x]
Historical [] Projected [x]

Page 2 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Schedule: E1-1

FPSC

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL, MULTI-FAMILY SE	RVICES 2/		
1	5/8"x3/4"	\$5.13	\$8.26	\$8.46
2	3/4"	\$7.70	\$9.40	\$12.69
3	1"	\$12.83	\$15.66	\$21.15
4	1 1/2"	\$25.66	\$31.32	\$42.30
5	2"	\$41.05	\$50.11	\$87.68
8	3"	\$82.10	\$100.22	\$135.36
7	4"	\$128.29	\$156.60	\$211.50
8	6"	\$256.57	\$313.19	\$423.00
9	8"	\$410.51	\$501.11	\$678.80
10	10"	\$590.11	\$720.35	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$1.23	\$1.50	\$1.78
13	FIRE PROTECTION 3/			
14	5/8"x3/4"	N/A	N/A	N/A
15	3/4"	N/A	N/A	N/A
16	1"	N/A	N/A	N/A
17	1 1/2"	N/A	N/A	N/A
18	2"	\$13.89	\$16.71	\$5.64
19	3"	N/A	N/A	\$11.28
20	4"	\$42.76	\$52.20	\$17.63
21	6"	\$85.53	\$104,41	\$35,25
22	8"	\$136.64	\$167.04	\$56.40
23	10"	\$196.70	\$240.11	\$81.08
24	GALLONAGE CHARGE / MG:			
25	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} Pleese refer to the rate design summary in the summary section of Volume V for details of the rete design.

^{2/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{3/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 3 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
<u>No.</u>	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates	
	RESIDENTIAL, GENERAL, MULTI-FA	AMILY SERVICES 2/			
1	5/8"x3/4"	\$4.55	\$4 .55	\$8.46	
2	3/4"	\$6.81	\$6.81	\$12.69	
3	1*	\$11.37	\$11.37	\$21.15	
4	1 1/2"	\$22.71	\$22.71	\$42.30	
5	2"	\$36.32	\$36.32	\$ 67.68	
6	3"	\$72.68	\$72.68	\$135.36	
7	4"	\$113.56	\$113.56	\$211.50	
8	6"	\$227.12	\$227.12	\$423.00	
9	8"	N/A	N/A	\$676.80	
10	10"	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$1.24	\$1,24	\$1.76	

^{1/} The proposed interim rates are the same as the present rates. These rates are shown only for presentation purposes.

^{2/} Imigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 4 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
	MULTI-FAMILY			
1	5/8"x3/4"	\$13.69	\$16.71	\$8.46
2	3/4"	\$13.69	\$16.71	\$12.69
3	1"	\$34.21	\$41.76	\$21.15
4	1 1/2"	\$68.43	\$83.53	\$42.30
5	2*	\$109.50	\$133.67	\$67.68
6	3"	\$219.00	\$267.33	\$135.36
7	4"	\$34 2,19	\$417.71	\$211.50
8	6"	\$684.36	\$835.40	\$423.00
9	8*	\$684.36	\$835.40	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$4,12	\$5.03	\$1.76

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 5 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$8.58	\$10.47	\$8.46	
2	3/4"	\$8.58	\$10.47	\$12.89	
3	1"	\$21.43	\$28.16	\$21.15	
4	1 1/2"	\$42.87	\$5 2.33	\$42.30	
5	2"	\$88.58	\$83.72	\$ 67.68	
8	3*	N/A	N/A	\$135.36	
7	4"	N/A	N/A	\$211.50	
8	8"	N/A	N/A	\$423.00	
9	8"	N/A	N/A	\$676.80	
10	10"	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:			•	
12	All Gallonage	\$2.21	\$2.70	\$1.76	

Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

SCHEDULE OF WATER RATES - 1996

FPSC Schedule: E1-1 Page 6 of 20

Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
	MULTI-FAMILY				
1	5/8"x3/4"	\$4.97	\$6.07	\$8.46	
2	3/4"	\$7.45	\$9.09	\$12.69	
3	1 ⁿ	\$12.42	\$15.16	\$21.15	
4	1 1/2"	\$24.63	\$30.31	\$42.30	
5	2*	\$39.73	\$48.50	\$67.68	
6	3*	\$79.45	\$96.98	\$135.36	
7	4*	\$124.14	\$151.54	\$211.50	
8	6 "	\$248.29	\$303.09	\$423.00	
9	8"	N/A	N/A	\$676.80	
10	10"	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$2.07	\$2.53	\$1.76	

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 7 of 20 Preparer: Bencini Supporting Schedules:

E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$4.97	\$6.07	\$8.46
2	3/4"	\$7.45	\$9.09	\$12.89
3	1"	\$12.42	\$15.16	\$21.15
4	1 1/2"	\$24.83	\$30.31	\$42.30
5	2"	\$39.73	\$48.50	\$67.68
6	3"	\$79.45	\$96.98	\$135.36
7	4"	\$124.14	\$151.54	\$211.50
8	8 "	\$248.29	\$303.09	\$423.00
9	8°	N/A	N/A	\$876.80
10	10"	N/A	NA	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$2.07	\$2.53	\$1.76

Company: SSU / Cltrus / Lakeside

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 8 of 20 Preparer: Bencini Supporting Schedules:

E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$ 5.13	\$6.26	\$8.46	
2	3/4"	\$7.70	\$9.40	\$12.69	
3	1"	\$12.83	\$ 15.66	\$21.15	
4	1 1/2"	\$25.66	\$31.32	\$42.30	
5	2 ⁿ	\$41.05	\$5 0.11	\$67.68	
6	3"	\$82.10	\$100.22	\$135.36	
7	4"	\$128.29	\$156.60	\$211.50	
8	6"	\$256.57	\$313,19	\$423.00	
9	8*	\$410.51	\$501.11	\$676.80	
10	10"	\$590.11	\$720.35	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$1.23	\$1.50	\$1.76	

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [| Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Schedule: E1-1 Page 9 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

FPSC

Line	Proposed 1995 Interim Rates	Proposed 1996	
	Interim Rates	Cincl Dates	
No. Class/Meter Size Present Rates		Final Rates	
RESIDENTIAL, GENERAL SERVICE			
1 5/8"x3/4" \$9.03	\$11.02	\$8.46	
2 3/4" \$13.55	\$16.54	\$12.69	
3 1" \$22.57	\$27,55	\$21.15	
4 1 1/2" \$45.13	\$55.09	\$42.30	
5 2" \$7 2.22	\$88.16	\$67.68	
6 3" \$144.43	\$176.31	\$135.36	
7 4" \$225.68	\$275.49	\$211.50	
8 6" \$451.35	\$550.96	\$423.00	
9 8" \$722.16	\$881.54	\$676.80	
10 10" \$1,038.10	\$1,267.21	\$972.90	
11 GALLONAGE CHARGE / MG:			
12 All Gallonage \$2.40	\$2.93	\$1.78	
13 FIRE PROTECTION 1/			
14 5/8"x3/4" N/A	N/A	NA	
15 3/4" N/A	NA	NA	
16 1" N/A	NA	NA	
17 1 1/2" N/A	N/A	NA	
18 2" N/A	N/A	\$5.64	
19 3" N/A	N/A	\$11.28	
20 4" \$75.23	\$91.83	\$17.63	
21 6" \$150.45	\$183.65	\$35.25	
22 8" \$240.72	\$293.85	\$56.40	
23 10" \$346.04	\$422.41	\$81.08	
24 GALLONAGE CHARGE / MG:	, =	•	
25 All Gallonage \$0.00	\$0.00	\$0.00	

^{1/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal bese facility charge. The previous version of the FAC used 1/3 of the bese rate, upon which the 1995 rate is based.

94

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 10 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$9.35	\$11.41	\$8.46
2	3/4"	\$9.35	\$11.41	\$12.69
3	1*	\$9.35	\$11.41	\$21.15
4	1 1/2"	\$9.35	\$11,41	\$42.30
5	2"	\$9.35	\$11.41	\$87.68
6	3"	\$9.35	\$11.41	\$ 135.36
7	4"	\$9.35	\$11.41	\$211.50
8	8*	\$9.35	\$11.41	\$423.00
9	8*	\$9.35	\$11,41	\$676.80
10	10"	\$9.35	\$11.41	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 3,000	\$0.00	\$0.00	\$1.76
13	All Excess	\$0.94	\$1.15	\$1.78

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 11 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interir	m and Rates. State residential wastewater	cap if one exists.
(1)	(2)	(3)

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$20.30	\$24.78	\$8.46	
2	3/4"	\$20.30	\$24.78	\$12.69	
3	1"	\$20.30	\$24.78	\$21.15	
4	1 1/2"	\$20.30	\$24.78	\$42.30	
5	2"	\$20.30	\$24.78	\$67.68	
6	3 ^m	\$20.30	\$24.78	\$135.36	
7	4"	\$20.30	\$24.78	\$211.50	
8	6"	\$20.30	\$24.78	\$423.00	
9	8"	\$20.30	\$24.78	\$676.80	
10	10"	\$20.30	\$24.78	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$0.00	\$0.00	\$1.76	

Company: SSU / Citrus / Spring Gardens (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E-1 Page 12 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$6.88	\$8.40	\$6.46
2	3/4"	\$10.32	\$12.60	\$12.69
3	1"	\$17.20	\$21.00	\$21.15
4	1 1/2"	\$34.40	\$41.9 9	\$42.30
5	2"	\$55.04	\$ 67.19	\$67.68
6	3*	\$110.08	\$134.37	\$135.36
7	4"	\$172.00	\$209.96	\$211.50
8	6"	\$344.00	\$419.92	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$1.03	\$1.26	\$1.76

Company: SSU / Lake / Valencia Terrace (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-1 Page 13 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL, GENERAL SERVICE				
1	5/8"x3/4"	\$6.39	\$7.80	\$8.46	
2	3/4"	N/A	N/A	\$12.89	
3	1"	\$15.99	\$19.52	\$21.15	
4	1 1/2"	\$31.96	\$39.01	\$42.30	
5	2"	\$51.14	\$62.43	\$67.68	
6	3"	\$102.28	\$124.85	\$135.36	
7	4"	\$159.81	\$195.08	\$211.50	
8	6 "	N/A	N/A	\$4 23.00	
9	8"	N/A	N/A	\$676.80	
10	10°	N/A	N/A	\$972.90	
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$0.67	\$0.62	\$1.76	
13	(per 100 cubic feet)	\$0.50	\$0.61	\$1.32	

a

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Conventional Treatment

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present interim and Rates. State residential wastewater can if one exists

Explanati	ion: Provide a schedule of present, interim and Rates	s. State residential wastewater ca	ap if one exists.	
	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$4.48	\$5.47	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	\$4.48	\$5.47	\$21.15
4	1 - 1/2"	N/A	N/A	\$42.30
5	2"	\$4.48	\$5.47	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10**	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			4 -7
12	All Gallonage	\$0.54	\$0.66	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 14 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Preparer: Bencini Supporting Schedules:

E1-2, E1-3, E1-4

Page 15 of 20

FPSC Schedule: E1-1

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$2.60	\$3.17	\$8.46
2	3/4*	\$2.60	\$3 .17	\$12.69
3	1"	\$6.50	\$7.93	\$21.15
4	1 - 1/2"	\$13.00	\$15.87	\$42.30
5	2"	\$20.80	\$25.39	\$67.68
6	3"	\$39.00	\$4 7.61	\$135.36
7	4"	\$65.00	\$79.35	\$211.50
8	6"	\$130.00	\$158.69	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.11	\$1.35	\$1.76
13	All Excess Gallons	\$1.56	\$1.90	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$5.89	\$7.19	\$8.46
2	3/4"	\$5.89	\$7.19	\$12.69
3	1"	\$5.89	\$7.19	\$21.15
4	1 - 1/2"	\$5.89	\$7.19	\$42.30
5	2"	\$5.89	\$7.19	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8*	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			,
12	Ali Gallonage	\$0.85	\$1.04	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 16 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

	on: Provide a schedule of present, interim and R (1)	(2)	(3)	(4)
Line	、	Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$8.15	\$9.95	\$8.46
2	3/4"	\$8.15	\$9.95	\$12.69
3	1"	\$20.64	\$25.20	\$21.15
4	1 - 1/2"	\$41.28	\$50.39	\$42.30
5	2"	\$66.04	\$80.62	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8*	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			·
12	All Gallonage	\$1.20	\$1.46	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 17 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES			
1	5/8"x3/4"	\$9.09	\$11.10	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	\$22.73	\$27.75	\$21.15
4	1 - 1/2"	\$45.45	\$55.48	\$42.30
5	2 [*]	\$72.72	\$88.77	\$67.68
6	3"	\$136.35	\$166.44	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.54	\$1.88	\$1.76
13	All Excess Gallonage	\$2.00	\$2.44	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 18 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

inclination. Provide a school of annual interior and Patro. Chat anideaticl contracts and if an acids

Explanati	ion: Provide a schedule of present, interim and Rates. S	State residential wastewater ca	ap if one exists.	
	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL, GENERAL, MULTI-FAMILY SERVIC	EES EES		
1	5/8"x3/4"	\$5.05	\$ 6.16	\$8.46
2	3/4"	\$7.58	\$9.25	\$12.69
3	1 [#]	\$12.63	\$15.42	\$21.15
4	1 - 1/2"	\$25.25	\$30.82	\$42.30
5	2"	\$40.40	\$49.32	\$67.68
6	3"	\$80.80	\$98.63	\$135.36
7	4"	\$126.25	\$154.11	\$211.50
8	8*	\$252.50	\$308.23	\$423.00
9	8"	\$404.00	\$493.16	\$676.80
10	10"	\$580.75	\$708.92	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Galionage	\$1.21	\$1.48	\$1.76
	EMERGENCY STANDBY SERVICE			
13	All Meter Sizes	\$0.00	\$0.00	\$0.00
14	GALLONAGE CHARGE / MG:			
15	All Gallonage	\$1.21	\$1.48	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 19 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water (x) Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists

	(1)	(2)	(3)	(4)
Line	.,	Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	5/8"x3/4"	\$9.50	\$11.60	\$8.46
2	3/4"	N/A	N/A	\$12.69
3	1"	N/A	N/A	\$21.15
4	1 - 1/2"	N/A	N/A	\$42.30
5	2"	N/A	N/A	\$67.68
6	3"	N/A	N/A	\$135.36
7	4"	N/A	N/A	\$211.50
8	6"	N/A	N/A	\$423.00
9	8"	N/A	N/A	\$676.80
10	10"	N/A	N/A	\$972.90
11	GALLONAGE CHARGE / MG:			
12	All Gailonage	\$0.60	\$0.73	\$1.76

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 20 of 20 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wassewater { } Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 1 of 12 Preparer: Bencini

Supporting Schedules: E1-3,E1-4

Explanation: Provide a schedule of variables used in the rate design.

	(I)	(2)	(3)	(4)	(8) ERC's	(4)	r	(40)	(4) Consumption	(10)	(11)	(12)	(19) REVI	(14) Enues	(16)
						Factored		Price	Price Elecitority		Factored	BFC		Gallon	age
Line	Plant		Meter	1996	Meter	ERC's	Billed	Elesticity	Adj. Gallonage	Gallonage	Gallonage	Rates	Revenue	Rates / MG	Revenue
No.	Herne	Class	Size	<u>Biffe</u>	Factor 1/	C4°C5	Usage	Adjust. 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	C4°C12	(C7,L420)°C10	(C9/1000)°C14
FF	PSC Juria. Uniform Conver	tional Treatment													
1	Amelia Island	Res.	5/8° X 3/4°	17,935	1.0	17,935	158,522,359	-7.30%	146,950,227	1.0	146,950,227	\$8.46	\$151,730	\$1.76	\$258,632
2			34	630	1.5	945	8,657,316	-7.30%	8,034,602	1.0	8,034,602	\$12.69	\$7,995	\$1.76	\$14,141
3			1*	103	2.5	258	1,624,871	-7.30%	1,508,255	1.0	1,506,255	\$21.15	\$2,178	\$1.76	\$2,65
4			1 1/2"	14	5.0	70	229,652	-7.30%	212,887	1.0	212,887	\$42.30	\$592	\$1.76	\$375
5		Com.	5/8" X 3/4"	558	1.0	558	4,833,496	-3.90%	4,644,990	1.0	4,644,990	\$8.46	\$4,721	\$1.76	\$8,175
8			3/4"	98	1.5	147	2,170,168	-3.90%	2,085,530	1.0	2,085,530	\$12.69	\$1,244	\$1.76	\$3,671
7			1*	426	2.5	1,085	12,572,663	-3.90%	12,082,329	1.0	12,082,329	\$21.15	\$9,010	\$1.76	\$21,265
8			1 1/2"	227	5.0	1,135	5,858,725	-3.90%	5,630,235	1.0	5,630,235	\$42.30	\$9,602	\$1,76	\$9,900
9			2*	426	9.0	3,408	68,168,673	-3.90%	64,730,095	1.0	64,730,095	\$87.68	\$28,632	\$1.76	\$149,125
10			3"	122	16.0	1,952	22,356,123	-3.90%	21,484,234	1.0	21,484,234	\$135.36	\$18,514	\$1.78	\$37,812
11			4"	71	25.0	1,775	17,022,921	-3.90%	16,359,027	1.0	16,359,027	\$211.50	\$15,017	\$1.76	\$28,792
12			6"	14	50.0	700	37,635,690	-3.90%	36,167,898	1.0	36,167,898	\$423.00	\$5,922	\$1.76	\$63,656
13			6"	2	80.0	160	397,380	-3.90%	372,272	1.0	372,272	\$676.80	\$1,354	\$1.76	\$665
14		Priv. Fire Prot.	2"	28	0.7	20	0	0.00%	0	0.0	0	\$5.92	\$168	\$0.00	\$0
15			4"	241	2.1	508	0	0.00%	0	0.0	0	\$17.77	\$4,283	\$0.00	\$0
18			6"	128	4.2	538	0	0.00%	0	0.0	0	\$35.53	\$4,548	\$0.00	\$0
17			6"	57	6.7	382	0	0.00%	0	0.0	0	\$56.68	\$3,231	\$0.00	\$0
18	Apache Shores	Res.	5/8" X 3/4"	1,823	1.0	1,823	3,142,268	-7.30%	2,912,882	1.0	2,912,882	\$8.46	\$15,423	\$1.76	\$5,127
18	Apple Valley	Res.	5/8" X 3/4"	11,270	1.0	11,270	120,579,954	-7.30%	111,777,617	1.0	111,777,617	\$8.46	\$95,344	\$1.76	\$196,729
20			3/4"	12	1.5	18	332,830	-7.30%	308,533	1.0	308,533	\$12,69	\$152	\$1.76	\$543
21			1"	100	2.5	250	3,915,600	-7.30%	3,629,761	1.0	3,629,761	\$21.15	\$2 ,115	\$1.76	\$6,388
22			1 1/2"	12	5.0	60	854,779	-7.30%	792,380	1.0	792,380	\$42.30	\$508	\$1.76	\$1,395
23			2"	37	6.0	298	1,833,270	-7.30%	1,699,441	1.0	1,699,441	\$87.68	\$2,504	\$1.76	\$2,991
24		Corn.	5/8° X 3/4°	282	1.0	282	1,539,421	-3.90%	1,479,384	1.0	1,479,384	\$8.46	\$2,386	\$1.76	\$2,604
25			3/4"	5	1.5	8	273,254	-3.90%	262,597	1.0	262,597	\$12.69	\$63	\$1.76	\$462
26			1"	52	2.5	130	1,218,548	-3.90%	1,171,025	1.0	1,171,025	\$21.15	\$1,100	\$1.76	\$2,061
27			2*	26	6.0	208	774,957	-3.90%	744,734	1.0	744,734	\$67.68	\$1,760	\$1.76	\$1,311
28	Bay Lake Est.	Res.	5/8" X 3/4"	884	1.0	884	7,495,907	-7.30%	8,948,706	1.0	6,948,706	\$8.46	\$7,479	\$1.76	\$12,230
29	Beacon Hills	Res.	5/8" X 3/4"	32,527	1.0	32,527	395,859,367	-7.30%	366,961,633	1.0	366,961,833	\$8.46	\$275,176	\$1.76	\$845,852
30			3/4"	3,755	1.5	5,633	47,232,202	-7.30%	43,784,251	1.0	43,784,251	\$12.69	\$47,651	\$1.76	\$77,080
31			1*	347	2.5	868	7,699,687	-7.30%	7,137,610	1.0	7,137,610	\$21,15	\$7,339	\$1.76	\$12,562
32			1 1/2"	30	5.0	150	1,636,353	-7.30%	1,516,699	1.0	1,516,899	\$42.30	\$1,269	\$1.76	\$2,670
33		Multi-Fam.	1 1/2"	351	5.0	1,755	11,614,143	0.00%	11,614,143	1.0	11,814,143	\$42.30	\$14,847	\$1.76	\$20,441
34		Corn.	5/8" X 3/4"	610	1.0	810	10,432,673	-3.90%	10.025,799	1.0	10,025,799	\$8.46	\$6,853	\$1.76	\$17,645
35			3/4"	28	1.5	42	706,782	-3.90%	679,218	1.0	879,218	\$12.69	\$355	\$1.76	\$1,195
36			1*	88	2.5	220	2,720,984	-3.90%	2,614,866	1.0	2,814,866	\$21.15	\$1,961	\$1.76	\$4,600
37			1 1/2"	62	5.0	310	8,373,587	-3.90%	8,125,017	1.0	6,125,017	\$42.30	\$2,623	\$1.76	\$10,780
36			2*	138	8.0	1,104	15,267,687	-3.90%	14,672,247	1.0	14,672,247	\$67.68	\$9,340	\$1.76	\$25,823
39	Seacher's Point	Res.	5/8" X 3/4"	513	1.0	513	2,184,538	-7.30%	2,025,085	1.0	2,025,085	\$8.46	\$4,340	\$1.76	\$3,564

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 2 of 12 Preparer: Bencini

Supporting Schedules: E1-3,E1-4

	(1)	(21)	(21)	(4)	(A) ERC'e	(4)	(7)	(0)	(0) Consumption	(10)	(11)	(12)	(12) REVI	(19) ENUES	(10)
						Factored		Price	Price Elegitality		Factored	8FC		Gallons	190
ine	Plant		Motor	1996	Motor	ERC's	Billed	Elesticity	Adj. Gallonage	Gallonage	Gallonage	Rates	Revenue	Rates / MG	Revenue
<u>lo.</u>	Marne	Class	Size	Bills	Factor 1/	C4°C5	Usage	Adjust. 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	CPC12	(C7,L420)*C10	(C9/1000)*C14
													4		\$0
40	Beacher's Point (cont.)	Multi-Fam.	4"	13	25.0	325	1,228,059	0.00%	1,226,059	1.0	1,226,059	\$211.50	\$2,750	\$1.78	\$2,156
41	A	Com.	2"	39	8.0	312	2,101,468	-3.90%	2,019,511	1.0	2,019,511	\$67.68	\$2,640	\$1.78	\$3,55
42	Cartion Village	Res.	5/8' X 3/4"	1,778	1.0	1,776	11,923,577	-7.30%	11,053,158	1.0	11,053,156	\$8.46	\$15,025	\$1.76	\$19,45
43	.	_	2	1	8.0	8	163,143	-7.30%	151,234	1.0	151,234	\$67,68	\$68	\$1.76	\$26
44	Chuluota	Res.	5/8" X 3/4"	8,073	1.0	8,073	53,778,252	-7.30%	49,652,440	1.0	49,852,440	\$8.46	\$68,298	\$1.76	\$87,74
45			1"	37	2.5	93	406,493	-7.30%	376,819	1.0	376,819	\$21,15	\$783	\$1.78	\$66
46		Com.	5/8' X 3/4"	49	1.0	49	764,222	-3.90%	734,417	1.0	734,417	\$8.46	\$415	\$1.78	\$1,293
47			1'	25	2.5	63	298,327	-3.90%	286,692	1.0	298,692	\$21.15	\$529	\$1.76	\$50
49			2"	13	8.0	104	294,135	-3.90%	273,054	1.0	273,054	\$67.68	\$880	\$1.76	\$48
49		_	3*	12	16.0	192	4,044,263	-3.90%	3,886,537	1.0	3,686,537	\$135.36	\$1,624	\$1.76	\$6,84
50	Citrus Park	Res.	5/9" X 3/4"	4,201	1.0	4,201	25,585,313	-7.30%	23,717,585	1.0	23,717,585	\$8.46	\$35,540	\$1.76	\$41,74
51		Com.	5/9' X 3/4'	179	1.0	179	609,722	-3.90%	585,943	1.0	565,943	\$8.46	\$1,514	\$1.78	\$1,03
52			1"	12	2.5	30	228,145	-3.90%	219,247	1.0	219.247	\$21.15	\$254	\$1.76	\$38
53	Citrus Springs	Res.	5/8° X 3/4°	21,416	1.0	21,416	131,429,379	-7.30%	121,835,034	1.0	121,835,034	\$8.46	\$181,179	\$1.76	\$214,43
54			1"	1,092	2.5	2,730	12,270,722	-7.30%	11,374,959	1.0	11,374,959	\$21.15	\$23,096	\$1.76	\$20,020
55		Com.	5/8" X 3/4"	331	1.0	331	1,777,634	-3.90%	1,708,308	1.0	1,708,306	\$8.46	\$2,800	\$1.76	\$3,007
58			1*	91	2.5	229	3,385,233	-3.90%	3,253,209	1.0	3,253,209	\$21,15	\$1,825	\$1.76	\$5,72
57			2"	75	8.0	600	3,830,166	-3.90%	3,680,790	1.0	3,680,790	\$67.68	\$5,076	\$1.78	\$8.470
58	Crystal River High.	Res.	5/8" X 3/4"	938	1.0	938	5,865,681	-7.30%	5,437,486	1.0	5,437,486	\$8.46	\$7,935	\$1.78	\$9,571
59		Com.	5/8° X 3/4°	20	1.0	20	113,671	-3.90%	109,238	1.0	109,238	\$8.46	\$169	\$1.78	\$19
60	Daetwyler Shores	Res.	5/8" X 3/4"	1,438	1.0	1,438	14,771,062	-7.30%	13,692,774	1.0	13,682,774	\$8.46	\$12,185	\$1.76	\$24,099
61			1*	60	2.5	150	1,133,835	-7.30%	1,051,065	1.0	1,051,065	\$21,15	\$1,269	\$1.76	\$1,85
62		Com.	5/8" X 3/4"	3	1.0	3	0	-3.90%	0	1.0	0	\$8.46	\$25	\$1.78	\$0
63			2"	2	0.8	16	1,510	-3.90%	1,451	1.0	1,451	\$67.68	\$135	\$1.76	\$
64	Deltona	Res.	5/8" X 3/4"	271,187	1.0	271,187	2,576,086,901	-7.30%	2,389,886,557	1.0	2,389,886,557	\$8.46	\$2,294,242	\$1.78	\$4,206,20
65			1*	9,863	2.5	24,658	150,306,490	-7.30%	139,334,116	1.0	139,334,116	\$21.15	\$208,602	\$1.78	\$245,22
66			1 1/2"	50	5.0	250	492,733	-7.30%	456,763	1.0	456,763	\$42.30	\$2,115	\$1.76	\$80
67			2*	30	8.0	240	2,953,710	-7,30%	2,738,089	1.0	2,738,089	\$67.68	\$2,030	\$1.76	\$4,819
66			4"	13	25.0	325	2,110,986	-7.30%	1,956,884	1.0	1,956,884	\$211.50	\$2,750	\$1.76	\$3,44
66		Com.	5/8° X 3/4°	3,787	1.0	3,787	35,224,903	-3.90%	33,851,132	1.0	33,851,132	\$8.46	\$32,038	\$1.78	\$59,57
70			1	858	2.5	2,145	22,871,986	-3.90%	21,979,980	1.0	21,979,980	\$21.15	\$18,147	\$1.78	\$38,68
71			1 1/2"	225	5.0	1,125	7,758,707	-3.90%	7,454,195	1.0	7,454,195	\$42.30	\$8,518	\$1.76	\$13,11
72			2"	746	8.0	5,968	53,520,385	-3.90%	51,433,100	1.0	51,433,100	\$87.68	\$50,489	\$1.76	\$90,52
73			3*	98	18.0	1,568	12.811.442	-3.90%	12,311,796	1.0	12,311,796	\$135.36	\$13,265	\$1.76	\$21,68
74			4'	72	25.0	1,600	32,521,807	-3.90%	31,253,457	1.0	31,253,457	\$211.50	\$15,226	\$1.78	\$55,00
75	Dol Ray Manor	Res.	5/9" X 3/4"	717	1.0	717	6,840,357	-7.30%	8,155,811	1.0	6,155,811	\$8.46	\$8,086	\$1.76	\$10,83
76		i see.	30 734	5	16.0	80	2,335,175	-7.30%	2,164,707	1.0	2,164,707	\$135.36	\$677	\$1.76	\$3,810
77		Multi-Fam.	3°	7	16.0	112	3,295,424	0.00%	3,295,424	1.0	3,295,424	\$135.36	\$948	\$1.78	\$5,800

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of variables used in the rate design.

FPSC Schedule: E1-2 Page 3 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

(1)	(2)	(34)	(4)	(%) ERC's	(B)	n	m	(M) CONSUMPTION	(19)	(11)	(12)	(13) REVI	(14) ENUES	(16)
					Factored		Price	Price Elecitoity		Factored	BFC		Gallone	ige
Plant		Motor Size	1996	Motor	ERC's	Billed	Electicity	Adj. Gallonage	Gallonage	Gallonage	Rated	Revenue	Rates / MG	Revenue
Name	Class	5029	<u>Bille</u>	Fector 1/	C4*C5	Usage	Adjust, 2/	C7*(1+C8)	Factor 1/	C9°C10	(C7,L419) * C5	C4TC12	(C7,L420)°C10	_(C9/1000)*C14
Druid Hills	Res.	5/8" X 3/4"	2,514	1,0	2,514	29,324,382	-7.30%	27,183,702	1.0	27,183,702	\$8.46	\$21,268	\$1.78	\$47,84
		1"	354	2.5	865	8,102,264	-7.30%	7,510,799	1.0	7,510,799	\$21.15	\$7,487	\$1.78	\$13,21
		1 1/2"	95	5.0	475	2,686,445	-7.30%	2,490,335	1.0	2,490,335	\$42.30	\$4,019	\$1.76	\$4,38
		2"	12	6.0	96	582,233	-7.30%	539,730	1.0	539,730	\$67.68	\$812	\$1.76	\$95
	Multi-Fam.	1*	7	2.5	18	271,845	0.00%	271,845	1.0	271,845	\$21.15	\$148	\$1.76	\$47
East Lake Harris Est.	Rea.	5/8" X 3/4"	2,098	1.0	2,098	5,523,936	-7.30%	5,120,689	1.0	5,120,689	\$8.46	\$17,749	\$1.76	\$9,01
		1"	12	2.5	30	61,935	-7.30%	57,414	1.0	57,414	\$21.15	\$254	\$1.76	\$10
Fern Park	Res.	5/8° X 3/4"	2,021	1.0	2,021	14,519,317	-7.30%	13,459,407	1.0	13,459,407	\$8.46	\$17,098	\$1.78	\$23,66
	Com.	5/8" X 3/4"	134	1.0	134	1,584,173	-3.90%	1,503,170	1.0	1,503,170	\$8.46	\$1,134	\$1.76	\$2,64
		1"	12	2.5	30	153,563	-3.90%	147,574	1.0	147,574	\$21.15	\$254	\$1.76	\$26
		1 1/2"	12	5.0	60	854,491	-3.90%	629,966	1.0	629,966	\$42.30	\$508	\$1.76	\$1,10
Fem Terrace	Res.	5/8° X 3/4°	1,486	1.0	1,486	11,902,607	-7.30%	11,033,717	1.0	11,033,717	\$8.46	\$12.572	\$1.76	\$19,41
		1"	12	2.5	30	185,916	7.30%	172,344	1.0	172,344	\$21.15	\$254	\$1.76	\$30
Fisherman's Haven	Res.	5/8° X 3/4"	1,703	1.0	1,703	9,586,303	-7.30%	8,886,503	1.0	8,886,503	\$8.46	\$14,407	\$1.76	\$15,6
	Com.	5/8° X 3/4"	25	1.0	25	131,969	-3.90%	128,822	1.0	126,622	\$8.46	\$212	\$1.76	22
Fountains	Res.	5/8" X 3/4"	394	1.0	394	1,711,486	-7.30%	1,588,548	1.0	1,588,548	\$8.46	\$3,333	\$1.76	\$2,79
	Com.	1*	12	2.5	30	25,418	3.90%	24,427	1.0	24,427	\$21.15	\$254	\$1.76	\$
Fox Run	Res.	5/8° X 3/4°	1.263	1.0	1,263	11,250,229	-7.30%	10,428,982	1.0	10,428,962	\$8.46	\$10,685	\$1.76	\$18,36
	Com.	5/8" X 3/4"	11	1.0	11	76	-3.90%	73	1.0	73	\$8.46	\$93	\$1.76	
		1"	1	2.5	3	-10.980	3.90%	-10.552	1.0	-10,552	\$21.15	\$2 1	\$1.76	(\$1
		2"	7	8.0	56	29,150	3.90%	28,013	1.0	28,013	\$67.68	8414	\$1.76	Š
Friendly Center	Res.	5/8" X 3/4"	247	1.0	247	1,518,794	-7.30%	1,407,822	1.0	1,407,822	\$8.46	\$2,090	\$1.76	\$2,47
Golden Terrace	Res.	5/8° X 3/4°	1,268	1.0	1,268	4,004,566	-7.30%	3,712,223	1.0	3,712,223	\$8.46	\$10,727	\$1.76	\$6.53
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2"	12	8.0	96	414,610	-7.30%	384,343	1.0	384,343	\$67.68	\$812	\$1.76	\$67
	Com.	2"	12	8.0	96	266,850	-3.90%	256,443	1.0	256,443	\$67.68	\$812	\$1.78	\$45
Gospel Island Est.	Res.	5/8° X 3/4°	96	1.0	96	748.393	7.30%	693,760	1.0	693,760	\$8.46	\$812	\$1.78	\$1.2
Grand Terraca	Res.	5/8° X 3/4°	1.332	1.0	1,332	9.164.140	7.30%	6,513,698	1.0	8,513,698	\$6.46	\$11,269	\$1.76	\$14.9
Harmony Homes	Res.	5/8" X 3/4"	755	1.0	755	7,627,449	7.30%	7,070,645	1.0	7,070,645	\$8.46	\$6,387	\$1.76	\$12,4
Hermita Cove	Res.	5/8" X 3/4"	2.078	1.0	2.078	5,700,606	7.30%	5,284,462	1.0	5,284,462	\$8.46	\$17,580	\$1.78	\$9,3
I WINEW CAPE	Com.	5/8" X 3/4"	12	1.0	12	349,484	-3.90%	335,854	1.0	335.854	\$8.46	\$102	\$1.76	\$5
Hobby Hills	Res.	5/8" X 3/4"	1.157	1.0	1.157	5,785,942	-7.30%	5,363,568	1.0	5,363,568	\$6.46	\$9,788	\$1.76	\$9,4
Hotiday Haven	Res.	5/8° X 3/4"	1,304	1.0	1,304	4,024,500	7.30%	3,730,712	1.0	3,730,712	\$8.46	\$11,032	\$1,76	\$8,5
(Calley Flevel)	Com.	5/8" X 3/4"	12	1.0	12	214,335	3.90%	205,976	1.0	205,978	\$8.46	\$102	\$1.76	\$0,0 \$3
	COIII.	30 A 324	12	2.5		19,364	3.90%			18.609	\$21.15	\$254	\$1.76	\$ 5 \$
Madiday Malabay	Res.	5/8° X 3/4°	634	1.0	30 634			16,609	1.0 1.0	5,393,648	\$21.15 \$8.46		\$1.76	\$6.4
Holiday Heights	- 12 2					5,818,390	-7.30%	5,393,648			•	\$5,364	*	
(mperial Mobile Terr.	Res.	5/8° X 3/4°	2,579	1.0	2,879	14,901,334	-7.30%	13,613,537	1.0	13,813,537	\$8,48	\$24,356	\$1.76	\$24,3
		•	12	2.5	30	129,054	-7.30%	118,706	1.0	118,706	\$21.15	\$254	\$1.78	\$20
		1 1/2"	1	5.0	5	336	-7.30%	311	1.0	311	\$42.30	\$42	\$1.76	

108

SCHEDULE OF WATER RATES - 1996 **Billing Determinants for Conventional Treatment**

Company: \$SU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater []
Interim [] Final [x]

FPSC Schedule: E1-2 Page 4 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

	(1)	(2)	(2)	(4)	(5) ERC'a	(0)	n	(11)	(7) CONSUMPTION	(10)	(11)	(12)	(12) FREVI	(14) ENUES	(15)
						Factored		Price	Price Elesitrity		Factored	BFC		Gallons	ige
	Plant		Motor	1996	Motor	ERC's	Billed	Elasticity	Adi, Gallonage	Gelfonage	Gallonage	Rates	Revenue	Rates / MG	Revenue
	Name	Class	Size	Bills	Factor 1/	C4°C5	Usage	Adjust 2/	C7*(1+C8)	Fector 3/	C9°C10	(C7,L419) * C5	C4°C12	(C7,L420)°C10	_(C9/1000)*C14
	Intercession City	Res.	5/8" X 3/4"	2,913	1.0	2,913	13,242,915	-7.30%	12,278,182	1.0	12,276,162	\$8.46	\$24,644	\$1.76	\$21,608
	-		1"	12	2.5	30	212,001	-7.30%	198,525	1.0	196,525	\$21.15	\$254	\$1.76	\$346
		Com.	5/8" X 3/4"	146	1.0	146	680,819	-3.90%	654,267	1.0	654,267	\$8.46	\$1,235	\$1.76	\$1,152
			1"	24	2.5	60	569,782	-3.90%	547,561	1.0	547,561	\$21.15	\$508	\$1.76	\$964
	Interlachen Lakes/Park Man.	Res.	5/8" X 3/4"	2,947	1.0	2,947	10,633,012	-7.30%	9,856,802	1.0	9,858,802	\$8.46	\$24,932	\$1.76	\$17,348
		Com.	5/8" X 3/4"	37	1.0	37	449,369	-3.90%	431,844	1.0	431,644	\$8.46	\$313	\$1.76	\$760
			1 1/2*	12	5.0	60	1,165,891	-3.90%	1,120,421	1.0	1,120,421	\$42.30	\$508	\$1.76	\$1,972
	Jungle Den	Res.	5/8" X 3/4"	1,356	1.0	1,365	2,806,187	-7.30%	2,601,335	1.0	2,601,335	\$8.46	\$11,463	\$1.76	\$4,578
	Keystone Heights	Res.	5/8" X 3/4"	11,417	1.0	11,417	76,206,037	-7.30%	70,642,998	1.0	70,642,996	\$8.46	\$96,588	\$1.76	\$124,332
	, ,		1"	175	2.5	438	3,244,009	-7.30%	3,007,198	1.0	3,007,198	\$21.15	\$3,701	\$1.76	\$5,293
,			1 1/2*	20	5.0	100	717,479	-7.30%	665,103	1.0	665,103	\$42.30	\$846	\$1.76	\$1,171
			2*	51	8.0	408	2,952,761	-7.30%	2,737,209	1.0	2,737,209	\$67.68	\$3,452	\$1.76	\$4,817
ļ			3"	41	16.0	656	12,451,323	-7.30%	11,542,376	1.0	11,542,376	\$135.36	\$5,550	\$1.76	\$20,315
}			e .	21	25.0	525	6,989,637	-7.30%	8,479,393	1.0	8,479,393	\$211.50	\$4,442	\$1.78	\$11,404
•		Com.	5/8" X 3/4"	223	1.0	223	1,819,139	-3.90%	1,748,193	1.0	1,746,193	\$8.46	\$1,887	\$1.78	\$3,077
			1*	49	2.5	123	990,966	-3.90%	952,318	1.0	952,318	\$21.15	\$1,038	\$1.78	\$1,678
			1 1/2"	4	5.0	20	39,750	-3.90%	38,200	1.0	39,200	\$42.30	\$169	\$1.78	\$67
ļ			2"	10	8.0	80	735,470	-3.90%	708,767	1.0	706,787	\$87.68	\$677	\$1,78	\$1,244
			3*	8	16.0	128	1,789,146	-3.90%	1,719,369	1.0	1,719,369	\$135.36	\$1,083	\$1.78	\$3,026
			4*	3	25.0	75	451,889	-3.90%	434.265	1.0	434,265	\$211.50	\$635	\$1.78	\$764
		Priv. Fire Prot.	8*	24	42	101	0	0.00%	٥	0.0	مسر.ت	\$35.53	\$853	\$0.00	\$0
	Kingswood	Res.	5/8° X 3/4°	744	1.0	744	3,547,575	-7.30%	3,288,602	1.0	3,289,602	\$8.46	\$8,294	\$1.78	\$5,788
	Lake Aiay Est.	Res.	5/8° X 3/4°	1,159	1.0	1,159	9,384,695	-7.30%	8,699,612	1.0	8,699,812	\$8.46	\$9,805	\$1.78	\$15,311
	Caro ray con	7 434.	1"	27	2.5	68	210,210	-7.30%	194,665	1.0	194,665	\$21.15	\$571	\$1.78	\$343
			1 1/2*	14	5.0	70	561,895	-7,30%	520,877	1.0	520,877	\$42.30	\$592	\$1.78	\$917
	Lake Brantley	Res.	5/8° X 3/4°	808	1.0	808	7,133,015	-7.30%	6,612,305	1.0	6,612,305	\$8.46	\$8,636	\$1.78	\$11,638
	Lake Conway Park	Res.	5/8° X 3/4°	1.029	1.0	1.029	8,601,546	-7.30%	7,973,633	1.0	7,973,633	\$8.46	\$8,705	\$1.78	\$14,034
	Lake Harriet Est.	Res.	5/8" X 3/4"	3,208	1.0	3,208	24,638,298	-7.30%	22,638,702	1.0	22,839,702	\$8.46	\$27,140	\$1.76	\$40,198
	CONTROL CO.	Com.	5/8" X 3/4"	183	1.0	183	2,415,844	-3.90%	2,321,626	1.0	2,321,626	\$8.46	\$1,548	\$1.76	\$4,086
		COLL.	1"	12	2.5	30	47,016	-3.90%	45,182	1.0	45.182	\$21,15	\$1,546 \$254	\$1.78	\$4,000
	Lakeview Villas	Res.	5/8" X 3/4"	149	1.0	149	603,967	-7.30%	559,877	1.0	559,877	\$8.46	\$1,261	\$1.78	\$965
	Leitani Heights	Res.	5/8" X 3/4"	4.746	1.0	4,746	45,461,870	-7.30%		1.0			* - ,	\$1.76 \$1.78	\$74,172
	Leisure Lakes(Cov. Bridge)	Res.	5/8" X 3/4"	2,868	1.0	2,966	7,164,466	-7.30%	42,143,153		42,143,153	\$8.46	\$40,151		,
	Leading Lands(COV. Drings)					2,900 46	785,784		6,841,460	1.0	6,841,460	\$8.46	\$24,263	\$1.78	\$11,689
	Marco Shores	Com. Res.	5/8" X 3/4" 5/8" X 3/4"	46	1.0 1.0	3.126		-3.90% -7.30%	755,138	1.0	755,138	\$8.46 \$9.46	\$408	\$1.78	\$1,329
	MORA SINISS	nes.	2"	3,126	****	-,	8,471,408		7,852,995	1.0	7,852,995	\$8.46 *07.00	\$26,448	\$1.78	\$13,621
		Multi-Fam.	_	13	8.0	104	1,296,055	-7.30%	1,201,443	1.0	1,201,443	\$67.68	\$880	\$1.78	\$2,115
			2" CD1 V 2/41	69	8.0	712	6,567,797	0.00%	6,567,797	1.0	6,567,797	\$87.69	\$8.024	\$1.78	\$11,559
		Com.	5/8" X 3/4"	255	1.0	255	504,373	-3.90%	484,702	1.0	484,702	\$8.46	\$2.157	\$1.78	\$853
			1"	57	2.5	143	953,315	-3.90%	916,138	1.0	916,138	\$21.15	\$1,200	\$1.78	\$1,612
			1 1/2*	25	5.0	125	1,575,112	-3.90%	1,513,683	1.0	1,513,683	\$42.30	\$1,058	\$1.76	\$2,684

109

SCHEDULE OF WATER RATES - 1996 Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected (x)

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of variables used in the rate dealer.

FPSC Schedule: E1-2 Page 5 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

(1)	(2)	(3)	(4)	(5) ERC's	(4)	(7)	(a)	(%) CONSUMPTION	(16)	(11)	(12)	(13) REVE	(14) ENUES	(15)
					Factored		Price	Price Elasitrity		Factored	BFC		Gallon	age
Plant Name	Closs	Motor Size	1996 Bills	Motor Factor 1/	ERC's C4°C5	Billed Usage	Elasticity Adjust. 2/	Adj. Gallonage C7*(1+C8)	Gationage Factor 3/	Gellonage C9*C10	Rates (C7,L419) * C5	Revenue C4°C12	Rates / MG (C7,L420)*C10	Revenue (C9/1000)*C14
Marco Shores (cont.)	Com.	2"	132	8.0	1,056	11,392,145	-3.90%	10,947,851	1.0	10.947,851	\$67,68	\$8,934	\$1,76	\$19,26
Marion Caks	Res.	5/8° X 3/4°	32,257	1.0	32,257	152,107,799	-7.30%	141,003,930	1.0	141,003,930	\$8.46	\$272,894	\$1,76	\$248,16
		1"	278	2.5	695	1,315,018	-7.30%	1,219,022	1.0	1,219,022	\$21.15	\$5,880	\$1.78	\$2,14
	Com.	5/8" X 3/4"	723	1.0	723	2,391,294	-3.90%	2,298,034	1.0	2,298,034	\$8.46	\$8,117	\$1.78	\$4.0
		1*	61	2.5	153	940,130	-3.90%	903,465	1.0	903.465	\$21.15	\$1,290	\$1.78	\$1,5
		1 1/2"	67	5.0	335	947,231	-3.90%	910,299	1.0	910,299	\$42.30	\$2,834	\$1.78	\$1,6
		2"	162	8.0	1,298	9,247,033	-3.90%	0.886,399	1.0	8,888,399	\$67.68	\$10,964	\$1.78	\$15,6
		3*	13	16.0	208	2,814,716	-3.90%	2,704,942	1.0	2,704,942	\$135.36	\$1,760	\$1.78	\$4,7
Meredith Manor	Res.	5/8° X 3/4°	7,000	1.0	7.000	54,916,774	-7.30%	50,907,849	1.0	50,907,849	\$8.46	\$59,220	\$1.78	\$89,5
		1*	74	2.5	185	1,302,911	-7.30%	1,207,798	1.0	1,207,798	\$21.15	\$1,565	\$1.78	\$2,1
		1 1/2"	12	5.0	60	398,028	-7.30%	368,972	1.0	368,972	\$42.30	\$508	\$1.78	\$6
		2"	12	8.0	96	720,818	-7.30%	668,196	1.0	888,196	\$67.68	\$812	\$1.78	\$1,1
		3"	12	18.0	192	721,338	-7.30%	668,680	1.0	668,680	\$135,38	\$1,624	\$1.76	\$1,1
	Com.	5/8" X 3/4"	438	1.0	436	6,635,679	-3.90%	6,376,888	1.0	6,376,888	\$8.46	\$3,689	\$1.76	\$11,2
		1"	120	2.5	300	4,812,464	-3.90%	4,624,778	1.0	4.624.778	\$21.15	\$2,538	\$1.76	\$9,1
		1 1/2*	84	5.0	420	4,269,538	-3.90%	4,103,024	1.0	4.103.024	\$42.30	\$3,553	\$1.78	\$7.2
		2"	24	6.0	192	334,092	-3.90%	321,062	1.0	321,062	\$87.68	\$1,624	\$1.78	\$5
	Priv. Fire Prot.	4"	36	2.1	76	0	0.00%	0	0.0	0	\$17.77	\$840	\$0.00	•
Morningview	Res.	5/8" X 3/4"	355	1.0	355	2,862,633	-7.30%	2,653,681	1.0	2,653,681	\$8.46	\$3,003	\$1.78	\$4,6
-		1*	68	2.5	215	826,204	-7.30%	765,891	1.0	765,681	\$21.15	\$1,819	\$1.78	\$1,3
Oak Forest	Res.	5/8" X 3/4"	1,739	1.0	1,739	13,003,638	-7.30%	12.064.372	1.0	12.054.372	\$8.46	\$14,712	\$1.78	\$21,2
		1"	12	2.5	30	52,884	-7.30%	49,023	1.0	49.023	\$21.15	\$254	\$1.78	\$
		1 1/2"	12	5.0	60	232,880	-7.30%	215,880	1.0	215,880	\$42.30	\$508	\$1.78	83
Oakwood	Res.	5/8" X 3/4"	2,508	1.0	2,508	9,954,252	-7.30%	9,227,592	1.0	9,227,592	\$8.46	\$21,218	\$1,78	\$16.2
Palisades Country Club	Res.	5/8" X 3/4"	756	1.0	758	13,128,108	-7.30%	12,169,754	1.0	12,169,754	\$8.46	\$8,398	\$1.78	\$21,4
•		3/4"	69	1.5	132	1,626,687	-7.30%	1,507,939	1.0	1,507,939	\$12.69	\$1,117	\$1.78	\$2,8
	Com.	5/8" X 3/4"	28	1.0	28	490,508	-3.90%	471,378	1.0	471,378	\$8.46	\$237	\$1.78	\$8
		2"	90	8.0	720	3,679,260	-3.90%	3,535,769	1.0	3,535,769	\$67.68	\$8,091	\$1.78	\$6,2
Palm Port	Res.	5/8" X 3/4"	1,277	1.0	1,277	5,201,332	7.30%	4.621.635	1.0	4.821.635	\$8.46	\$10,803	\$1,78	\$8,4
Palm Terrace	Res.	5/8" X 3/4"	14,260	1.0	14,260	68,379,381	-7.30%	63,387,686	1.0	63,387,686	\$6.46	\$120,640	\$1.76	\$111,5
	Com.	5/8" X 3/4"	32	1.0	32	241,861	3.90%	232,428	1.0	232,428	\$8.46	\$271	\$1.76	\$4
		2"	12	8.0	96	844,943	-3.90%	B11,990	1.0	811,990	\$67.69	\$612	\$1.76	\$1,4
	Pub. Auth.	3"	12	16.0	192	42,995	-3.90%	41,318	1.0	41,318	\$135.36	\$1,624	\$1.76	\$
Pairus Mobile Home Park	Res.	5/8" X 3/4"	701	1.0	701	1,781,068	-7.30%	1,651,050	1.0	1,651,050	\$8.46	\$5,930	\$1.78	\$5'8
Picciola Island	Res.	5/8" X 3/4"	1,585	1.0	1,585	11,591,947	7.30%	10,745,735	1.0	10,745,735	\$8.46	\$13,409	\$1.78	\$16,9
		1"	24	2.5	60	182,206	-7.30%	168,905	1.0	168,905	\$21.15	\$508	\$1.78	\$2
Pine Ridge	Res.	5/8" X 3/4"	2,692	1.0	2,692	27,382,670	-7.30%	25,383,920	1.0	25,383,920	\$8.46	822,774	\$1.78	\$44.6
-		1'	8,283	2.5	20,708	94,614,230	-7.30%	67,707,391	1.0	67,707,391	\$21.15	\$175,185	\$1.78	\$154,3
		2"	25	8.0	200	946,047	-7.30%	676,986	1.0	678.888	\$67.68	\$1,692	\$1.78	\$1,54

=

SCHEDULE OF WATER RATES - 1996 Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x]

Historical [] Projected (x)
Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: Conventional (x) Reverse Osmosis []

Explanation: Provide a schedule of variables used in the rate design.

FPSC Schedule: E1-2 Page 6 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

	(1)	(2)	(2)	(4)	(5) ERC's	(0)	n	(4)	(V) CONSUMPTION	(10)	(11)	(12)	(17) REVI	(14) Enues	(16)
						Factored		Price	Price Elasticity		Factored	BFC		Gallons	ige
10	Plant		Meter	1996	Motor	ERC's	Billed	Elasticity	Adj. Gallonage	Gallonage	Gallonage	Rates	Revenue	Rains / MG	Revenue
<u>).</u>	Name	Class	Size	Bitts	Factor 1/	<u>CAPCS</u>	Usage	Adjust 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	CATC12	(C7,L420)°C10	(C9/1000)°C14
95	Pine Ridge (cont.)	Com.	5/8" X 3/4"	182	1.0	182	771,636	-3.90%	741,542	1.0	741,542	\$8.46	\$1,540	\$1.78	\$1,30
96			1*	27	2.5	68	111,848	-3.90%	107,486	1.0	107,466	\$21.15	\$571	\$1.76	\$18
97			2*	47	8.0	376	923,735	-3.90%	887,709	1.0	887,709	\$67.68	\$3,181	\$1.76	\$1,56
96	Pine Ridge Est.	Res.	5/8" X 3/4"	2,602	1.0	2,602	16,056,416	-7.30%	14,684,298	1.0	14,884,298	\$8.46	\$22,013	\$1.76	\$20,19
99			1"	2	2.5	5	49,035	-7,30%	45,455	1.0	45,455	\$21.15	\$42	\$1.76	\$8
00			1 1/2*	12	5.0	60	68,681	-7.30%	61,795	1.0	61,795	\$42.30	\$508	\$1.78	\$10
01	Piney Woods	Res.	5/8" X 3/4"	2,001	1.0	2,001	17,079,463	-7.30%	15,831,735	1.0	15,831,735	\$9.46	\$16,928	\$1.78	\$27,68
12		Com.	5/8" X 3/4"	12	1.0	12	123,546	-3.90%	118,728	1.0	116,728	\$9.46	\$102	\$1.78	\$20
13	Point O' Woods	Res.	5/8" X 3/4"	4,006	1.0	4,006	16,891,528	-7.30%	17,512,446	1.0	17,512,446	\$9.46	\$33,891	\$1.76	\$30,62
M		Multi-Fam.	5/8" X 3/4"	253	1.0	253	993,519	0.00%	993,519	1.0	993,519	\$8.46	\$2,140	\$1.76	\$1,74
05	Domesto Parts	Com.	5/8° X 3/4°	76	1.0	76	362,039	-3.90%	347,919	1.0	347,919	\$8.46	\$643	\$1.76	\$61
06	Pornona Park	Res.	5/8" X 3/4"	1,967 12	1.0 2.5	1,967 30	6,548,472 54,665	-7.30%	6,070,434 50,674	1.0 1.0	6,070,434 50,674	\$8.46	\$16,641 \$254	\$1.76 \$1.76	\$10,68 \$8
07		Com.	5/8" X 3/4"	78	2.5 1.0	76	524,728	-7.30% -3.90%		1.0	504,264	\$21,15 \$6,48	\$254 \$643	\$1.76 \$1.78	\$88
06 09		CONL	2"	76 25	8.0	200		-3.90%	504,264 1,811,551	1.0	1,811,551	\$67.68	\$1,692	\$1.76	\$3,18
10 10	Postmaster Village	Res.	2 5/8" X 3/4"	1.919	1.0	1,919	1,885,069 15,320,593	-7.30%	14,202,190	1.0	14,202,190	\$07.00 \$8.46	\$16,235	\$1,78	\$24,86
11	Quail Ridge	Res.	5/8" X 3/4"	211	1.0	211	1,892,980	-7.30%	1,847,492	1.0	1,847,492	\$8.46	\$1,785	\$1.76	\$3.2
12	River Grove	Res.	5/8" X 3/4"	1,254	1.0	1,254	6,828,227	-7.30%	6,422,466	1.0	6,422,466	\$8.46	\$10,609	\$1.78	\$11,30
13	River Park	Res.	5/8" X 3/4"	4.283	1.0	4,283	10,225,701	-7.30%	9,479,225	1.0	9,479,225	\$8.46	\$38,234	\$1.78	\$16,66
14	TOTOL FOLK	Com.	5/8" X 3/4"	24	1.0	24	14.094	-3.90%	13,544	1.0	13,544	\$8.46	\$203	\$1,76	\$10,00
15	Rosemont/Rolling Green	Rea.	5/8° X 3/4"	1.549	1.0	1.549	18,602,072	-7.30%	17,429,521	1.0	17.429.521	\$8.46	\$13,105	\$1.78	\$30,67
16	Salt Springs	Res.	5/8° X 3/4°	1,246	1.0	1,248	1,523,470	-7.30%	1,412,257	1.0	1,412,257	\$8.46	\$10,558	\$1,78	\$2,46
17	om ohrida	Com.	5/8" X 3/4"	120	1.0	120	483,413	-3.90%	464,560	1.0	464,560	\$8.46	\$1,015	\$1.78	\$61
6		-	t'	12	2.5	30	478,182	-3.90%	459,533	1.0	459,533	\$21.15	\$254	\$1.76	\$80
9			2"	37	8.0	296	3,160,709	-3.90%	3,037,441	1.0	3,037,441	\$67.68	\$2,504	\$1.76	\$5,34
20			4'	12	25.0	300	15,548,406	-3.90%	14,940,096	1.0	14,940,096	\$211.50	\$2,538	\$1.76	\$26,29
H	Samira Villas	Corn.	1 1/2"	12	5.0	60	372,452	-3.90%	357,926	1.0	357,828	\$42.30	\$508	\$1.78	\$63
22			2"	12	8.0	96	717,785	-3.90%	689,772	1.0	689 772	\$67.88	\$812	\$1.78	\$1,21
23	Silv. Lake Est/W. Shores	Res.	5/8" X 3/4"	14,645	1.0	14,645	179,248,684	-7.30%	168,163,715	1.0	168,163,715	\$8.46	\$123,897	\$1.78	\$292.44
м —			3/4"	167	1.5	261	2,337,597	-7.30%	2,168,952	1.0	2,168,952	\$12.89	\$2,119	\$1.78	\$3,61
25			1*	2,535	2.5	6,338	59,137,506	-7.30%	54,820,468	1.0	54,820,486	\$21.15	\$53,615	\$1.78	\$96,46
:6			1 1/2"	13	5.0	65	1,308,622	-7.30%	1,211,239	1.0	1,211,239	\$42.30	\$550	\$1.78	\$2,13
7			2*	13	6.0	104	1,654,765	-7.30%	1,533,967	1.0	1,533,967	\$67.68	\$880	\$1.78	\$2.70
19		Com.	2*	13	6.0	104	8,539,715	-3.90%	6,264,666	1.0	8,284,666	\$87.68	\$880	\$1.78	\$11,0
28	Silver Lake Oaks	Res.	5/8" X 3/4"	344	1.0	344	1,604,760	-7.30%	1,467,613	1.0	1,487,613	\$8.46	\$2,910	\$1.76	\$2,61
30	Skycrest	Res.	5/8" X 3/4"	1,378	1.0	1,378	6,483,637	-7.30%	6,019,601	1.0	6,019,601	\$8.46	\$11,658	\$1.76	\$10,58
31	St. Johns High.	Res.	5/8" X 3/4"	1,013	1.0	1,013	2,900,888	-7.30%	2,689,123	1.0	2,689,123	\$8.46	\$8.570	\$1.78	\$4,73
12	Stone Mount.	Res.	5/8" X 3/4"	91	1.0	91	1,307,579	-7.30%	1,212,126	1.0	1,212,126	\$8.46	\$770	\$1,78	\$2,13
33	Sugar Mill	Res.	5/8" X 3/4"	7,456	1.0	7,456	24,370,067	-7.30%	22,591,052	1.0	22,591,052	\$8.46	\$63,076	\$1.79	\$39,76
34			3/4"	10	1.5	15	43,528	-7.30%	40,350	1.0	40,350	\$12.89	\$127	\$1.76	\$7

SCHEDULE OF WATER RATES - 1996

Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wasteweter [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Mon-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional (x) Reverse Osmosis ()

FPSC Schedule: E1-2 Page 7 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

Explanation: Provide a schedule of variables used in the rate design (10) (11) (12) (12) (14) (14) (4) **(5)** (7) (1) **(6)** REVENUES ERC's CONSUMPTION BFC Gallonage Factored Price Price Elegitoity Factored Rates / MG Gallonage Line Plant ERC's Electicity Adj. Gallonage (C7,L419) * C5 C9°C10 CITC12 (C7,LA20)*C10 (C9/1000)*C14 Class Factor 1/ C4°C5 Adjust. 2 C7*(1+C8) Factor 3/ No. Size 8 Usage 704.453 \$8.46 \$1,041 \$1.76 \$1,191 235 Sugar Mill (cont.) Com. 5/6" X 3/4" 123 10 123 -3.90% 676.979 1.0 676,979 \$529 \$344 236 25 2.5 63 203,654 -3.90% 195,711 1.0 195,711 \$21.15 \$1,78 237 37 296 1.103.736 -3.90% 1.060,690 1.0 1.060.690 \$87.68 \$2,504 \$1.78 \$1,\$67 2" RΩ 5/8" X 3/4" 39.532.078 36,646,236 1.0 36,646,236 \$8.46 \$51,191 \$1.78 \$84,497 236 Sugarmil Woods Res. 6.051 1.0 6.051 -7.30% 239 34" 1.046 1.569 9,403,361 -7.30% 8.716.918 1.0 6.716.916 \$12.68 \$13,274 \$1.78 \$15,342 1.5 \$502,291 \$516,468 240 1" 23,749 2.5 59,373 318.555.060 -7.30% 293,446,559 1.0 293,446,559 \$21,15 \$1.78 \$42.30 \$2,538 \$1.78 \$1,922 241 11/2" 5.0 300 1,176,346 -7.30% 1.092.327 1.0 1.092,327 1,323,914 \$3,46 \$1,78 \$2,330 242 95 95 1.0 1,323,914 1082 Com. 5/8" X 3/4" 1.0 1,377,642 -3.90% \$12.89 \$1,086 \$1.78 \$994 243 564,660 1.0 564,660 34° 84 1.5 126 587,575 -3.90% 244 6.115.908 1.0 6.115.908 \$21.15 \$3.532 \$1.78 \$10,764 167 2.5 418 6.364,108 -3.90% \$42.30 \$8,303 245 1 1/2" 148 5.0 745 6.352.942 -3.90% 8.027.177 1.0 6.027,177 \$1.78 \$14,126 246 2" 47 6.0 376 1,558,774 -3.90% 1.497.982 1.0 1.497.982 \$87.68 \$3,1\$1 \$1.78 \$2,636 247 224 232,661 \$135.36 \$1,895 \$1.78 \$409 14 16.0 242,103 -3.90% 232,681 1.0 248 5/8" X 3/4" 1.0 3.804 20,792,416 -7.30% 19,274,570 1.0 19,274,570 \$8.46 \$32,182 \$1.78 \$33,923 Sunny Hills Res. 3,804 \$12,871 249 1,157 2.5 2,893 7,889,025 -7.30% 7.313.126 1.0 7.313.126 \$21.15 \$24,471 \$1.76 \$1.78 250 Com. 5/8" X 3/4" 187 1.0 167 608,237 -3.90% 584,518 1.0 584.516 \$8.46 \$1,413 \$1,029 743.934 \$1,309 743,934 \$21.15 \$1,036 \$1.78 251 11 48 2.5 123 774,125 3.90% 1.0 1 1/2 \$42.30 \$508 \$1.76 252 12 5.0 60 -3.90% 1.0 672,756 646,519 646.518 \$87.68 \$3,858 \$1.78 \$1,138 253 2° 57 \$.0 458 -3.90% 1.0 254 Sunshine Parkway Com. 5/8" X 3/4" 79 1.0 78 2.582.578 -3.90% 2.481.856 1.0 2.461.856 \$8.46 \$668 \$1.78 \$4,368 255 1 1/2" \$1 155 2,273,567 -3.90% 2.184.898 1.0 2.184.698 \$42.30 \$1,311 \$1.78 \$3,845 5.0 \$87.68 \$1,015 \$1.78 \$616 256 7 15 8.0 120 364,475 3.90% 350,260 1.0 350,260 257 20.685.278 19.678.562 19.879.552 \$135.36 \$4,467 \$1.76 \$34,988 3" 33 16.0 528 -3.90% 1.0 256 Tropical Park Res. 5/8" X 3/4" 6.370 1.0 6.370 28,181,302 -7.30% 26.124.067 1.0 28,124,067 \$8,46 \$53,890 \$1.78 \$45,978 259 2.5 120 1,751,061 -7.30% 1,623,234 1.0 1,623,234 \$21.15 \$1,015 \$1.76 \$2.857 \$42.30 260 1 1/2" 12 5.0 166,399 -7.30% 172,792 1.0 172,792 \$508 \$1.76 \$304 \$703 \$87.66 \$812 261 2" 12 8.0 96 431,109 -7.30% 399,638 1.0 399,638 \$1.76 \$1,134 262 Com. 5/8" X 3/4" 134 1.0 134 826,466 3.90% 794,234 1.0 794,234 \$8.46 \$1.76 \$1,398 263 University Shores 5/8" X 3/4" 45,385 1.0 45,385 325,214,864 -7.30% 301,474,179 1.0 301,474,179 \$6.46 \$383,957 \$1.76 \$530,595 Res. 264 341 \$12.69 \$368 \$1.76 \$217 29 1.5 133,028 -7.30% 123.317 1.0 123 317 265 140 2.5 350 1,826,760 -7.30% 1.786.107 1.0 1.786.107 \$21,15 \$2,961 \$1.78 \$3.144 296 \$42,30 \$592 \$1.78 \$2.039 1 1/2" 14 5.0 70 1,249,783 -7.30% 1.158.549 1.0 1.158.549 267 Com. 5/8" X 3/4" 362 1.0 362 5,405,864 3.90% 5,195,055 1.0 5,195,055 \$8.46 \$3,063 \$1.76 \$9,143 268 3/4" 301 1.5 452 3 032 636 -3.90% 2.914.555 1.0 2,914,555 \$12.89 \$3,620 \$1.76 \$5,130 269 164 2.5 410 6,459,625 -3.90% 6,207,700 1.0 6,207,700 \$21.15 \$3,469 \$1.76 \$10,926 \$42.30 \$14,671 270 1 1/2" 63 5.0 415 8,874,216 -3.90% 8,335,922 1.0 6,335,922 \$3,511 \$1.78 \$7,646 \$53,110 271 2" 113 6.0 804 31,400,889 -3.90% 30,178,062 1.0 30,176,062 \$87.68 \$1.76 272 43 80.0 3,440 33,677,505 -3.90% 32,364,062 32,364,082 \$878.80 \$29,102 \$1.76 \$56,961 Ø, 1.0 10" 12 115.0 1,380 23,342,075 -3.90% 22,431,734 22,431,734 \$972,90 \$11,675 \$1.78 \$39,480 273 1.0

111

112

SCHEDULE OF WATER RATES - 1996

Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/98 Water [x] Wastewater []
Interim [] Final [x]

FPSC Schedule: E1-2 Page 8 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

	(1)	(2)	(3)	(4)	(5) ERC's	(4)	(7)	(4)	(9) CONSUMPTION	(10)	(11)	(12)	(12) REVI	(14) Enues	(15)
						Fectored		Price	Price Elasticity		Factored	BFC		Gallons	100
ne	Plant		Meter	1998	Meter	ERC's	Billed	Elasticity	Adj. Gallonage	Gallonage	Gallonage	Flates	Revenue	Rates / MG	Revenue
<u>o.</u>	Name	Clase	Skra	Bills	Factor 1/	C4°C5	Usage	Adjust 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	C4°C12	(C7,L420)*C10	(C9/1000)*C14
_			. ——										^		
74	University Shores (cont.)	Pub. Auth.	1 1/2"	12	5.0	60	374,598	-3.90%	359,987	1.0	359,987	\$42.30	\$508	\$1.78	\$63
75			2*	12	8.0	98	873,649	-3.90%	839,577	1.0	839,577	\$67.68	\$812	\$1.78	\$1,47
76		Priv. Fire Prot.	10"	16	9.6	154	0	0.00%	0	0.0	0	\$81.22	\$1,300	\$0.00	\$
77	Venetian Village	Res.	5/8° X 3/4"	1,657	1.0	1,657	8,468,415	-7.30%	7,649,367	1.0	7,848,367	\$8.46	\$14,018	\$1.78	\$13,81
76		Com.	5/8° X 3/4°	25	1.0	25	353,621	-3.90%	339,830	1.0	339,830	\$8.46	\$212	\$1.78	\$59
76	Welaka/Saratoga Harb.	Res.	5/8" X 3/4"	1,841	1.0	1,641	5,181,122	-7.30%	4,802,900	1.0	4,802,900	\$8.46	\$13,683	\$1.76	\$8,45
90	•		1"	12	2.5	30	1,641	-7.30%	1,521	1.0	1,521	\$21.15	\$254	\$1.76	
81		Corn.	5/8° X 3/4°	12	1.0	12	31,679	-3.90%	30,444	1.0	30,444	\$8.46	\$102	\$1.78	\$5
82	Westmont	Res.	5/8° X 3/4°	1,667	1.0	1,667	12,671,935	-7.30%	11,748,884	1.0	11,746,684	\$8.46	\$14,103	\$1.76	\$20,67
83	Windsong	Res.	5/8° X 3/4°	1,162	1.0	1,162	7,575,809	-7.30%	7,022,775	1.0	7,022,775	\$8.46	\$9,831	\$1.76	\$12,36
84			1*	12	2.5	30	143,509	-7.30%	133,033	1.0	133,033	\$21.15	\$254	\$1.78	\$23
85		Com.	5/8" X 3/4"	68	1.0	68	150,723	-3.90%	144,845	1.0	144,845	\$8.46	\$744	\$1.78	\$25
96	Woodmere	Res.	5/8' X 3/4"	13,151	1.0	13,151	143.211.689	-7.30%	132,757,236	1.0	132,757,236	\$8.46	\$111,257	\$1.76	\$233,65
87	***************************************	100	3/4"	754	1.5	1,131	8,696,873	-7.30%	8.062.001	1.0	8,062,001	\$12.69	\$9,568	\$1.76	\$14.18
88			1*	104	2.5	290	2,746,259	7.30%	2,545,782	1.0	2,545,782	\$21.15	\$2,200	\$1.76	\$4,46
89			1 1/2"	4	5.0	200	485.901	-7.30%	450,430	1.0	450,430	\$42.30	\$169	\$1.76	\$79
90 90		Multi-Fam.	1 1/2"	183	5.0	915	10,422,389	0.00%	10,422,389	1.0	10,422,389	\$42.30	\$7,741	\$1.76	\$18,34
		MUMI-PRUTIL	6"		50.0	600	, , , , , , , , , , , , , , , , , , , ,	0.00%	11,205,296	1.0	11,205,296	\$423.00	\$5,076	\$1.78	\$19,72
91		0	_	12			11,205,296	•						\$1.78	\$1,56
92		Com.	5/8" X 3/4"	12	1.0	12	926,804	-3.90%	890,659	1.0	690,659 0	\$8.46	\$102 \$25	•	\$
93			3/4*	2	1.5	3	0	-3.90%	0	1.0	-	\$12.69		\$1.78	
94			†*	20	2.5	50	997,836	-3.90%	958,920	1.0	958,920	\$21.15	\$423	\$1.78	\$1,68
95			2*	12	8,0	98	1,030,442	-3.90%	990,255	1.0	990,255	\$67.68	\$812	\$1.76	\$1,74
98			6*	12	50.0	600	14,264,239	-3.90%	13,707,934	1.0	13,707,934	\$423.00	\$5,078	\$1.78	\$24,12
97	Woolens	Res.	5/8" X 3/4"	295	1.0	295	689,736	-7.30%	639,385	1.0	639,385	\$8.46	\$2,496	\$1.78	\$1,12
96	Zephyr Shores	Res.	5/8° X 3/4°	5,748	1.0	5,746	16,019,840	-7.30%	14,850,392	1.0	14,850,392	\$8.46	\$48,611	\$1.78	\$26,13
99		Com.	5/8" X 3/4"	24	1.0	24	218,811	-3.90%	208,355	1.0	208,355	\$8.46	\$203	\$1.78	\$36
00			1 1/2"	11	5.0	55	295,889	-3.90%	284,349	1.0	284,349	\$42.30	\$465	\$1.78	\$50
01			2*	24	8.0	192	775,596	-3.90%	745,348	1.0	745,348	\$87.68	\$1,624	\$1.76	\$1,31
02 Su	b. FPSC Juria. Uni. Conv. Tre	et.		706,552		831,769	6,720,491,690		6,256,803,252		6,256,803,252		\$7,036,954		\$11,011,97
FP	SC Juris, Non-Uni, Conv. Tre	et.													
03	Buen, Lakes	Fles.	5/8° X 3/4°	67,328	1.0	67,328	463,922,689	-7.30%	430,056,527	1.0	430,056,527	\$8.46	\$738,795	\$1.78	\$756,89
04		Com.	5/8° X 3/4°	760	1.0	760	4,682,941	-3.90%	4,500,306	1.0	4,500,306	\$8.46	\$8,599	\$1.78	\$7,92
0 5			1"	55	2.5	138	822,688	-3.90%	790,793	1.0	790,793	\$21.15	\$1,163	\$1.78	\$1,39
06			1 1/2"	34	5.0	170	1,559,310	-3.90%	1,498,497	1.0	1,498,497	\$42.30	\$1,438	\$1.78	\$2.6
07			2	149	6.0	1,192	10,135,955	-3.90%	9,740,653	1.0	9,740,653	\$87.68	\$10,084	\$1.76	\$17,14
06			4	38	25.0	950	6,250,699	-3.90%	6,006,922	1.0	6,006,922	\$211.50	\$8,037	\$1.78	\$10,57
06			6*	13	50.0	650	2,383,615	-3.90%	2,290,846	1.0	2,290,846	\$423.00	\$5,499	\$1.78	\$4,00
		4-	5/8" X 3/4"	21,335	1.0	21,335	57,838,876	-3.90%	2,290,640 55,583,160	1.0	55,583,160	\$8.46	\$160,494	\$1.78	\$97,82
10		ir.	270 A 3/4"			21,333 75				1.0		\$0.40 \$21.15	\$635	\$1.76	##*,02 \$21
11			T.	30	2.5	/5	128,525	-3.90%	123,513	1.0	123,513	4€1.1 3	#630	⊕1.70	**

SCHEDULE OF WATER RATES - 1996

Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wassewater [] Intenim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 8 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

Explanation: Provide a achedule of variables used in the rate design. (10) (12) (16) (4) (5) Ø (8) (11) (15) (I) ERC: CONSUMPTION REVENUES BFC Gallonage Price Price Elesticity Factored Factored **Electicity** Gallorage Line **Plant** 1996 ERC's Billed Adi. Gallonage Antes Revenue Rates / MG Revenue Motor C9°C10 (C71419) ° C5 (C7,L420)*C10 (C9/1000)*C14 No. Class Size Bille Factor 1/ C4°C5 Usage Adjust. 2/ C7*(1+C8) Factor 3 CPC12 312 Buen, Lakes (cont.) lπ. 1 1/2" 55 5.0 275 5,749,088 -3.90% 5.524.874 1.0 5,524,874 \$42.30 \$2,327 \$1.76 \$9,724 0.0 2,304 19,239,257 -3.90% 18,486,926 10,488,925 \$67.68 \$19,492 \$1.76 \$32,541 313 2* 288 1.0 314 Deap Creek 5/8" X 3/4" 36,329 1.0 36.329 188,893,674 -7.30% 175,104,436 1.0 175,104,436 \$8,46 \$307,343 \$1.76 \$308,184 315 605 2.5 1.513 3,434,523 -7.30% 3,183,803 1.0 3,183,803 \$21.15 \$12,796 \$1.76 \$5,603 Multi-Fam. 5/8" X 3/4" 10 0.00% \$8,46 \$1.76 316 1.0 10 40.153 40.153 1.0 40,153 285 \$71 0.00% 3,383,009 317 275 2.5 688 3,383,009 3,383,009 1.0 \$21.15 \$5,616 \$1.76 \$5,954 318 1 1/2" 337 5.0 1,685 7,461,132 0.00% 7,461,132 1.0 7.461.132 \$42.30 \$14,255 \$1.76 \$13,132 319 2" 181 60 1.448 13,911,452 0.00% 13,911,452 10 13,911,452 \$67.66 \$12,250 \$1.76 \$24,484 320 13 50.0 650 8.974.492 0.00% 8.974.492 1.0 8,974,492 \$423.00 \$5,499 \$1.76 \$15,795 8° 321 Com. 5/8" X 3/4" 254 1.0 254 728,088 -3.90% 699,700 1.0 699,700 \$6.46 \$2,149 \$1.76 \$1,231 322 1" 2.5 240 1,439,616 -3.90% 1,383,471 1.0 1,383,471 \$21.15 \$2,030 \$1.76 \$2,435 323 1 1/2 41 5.0 205 1.458,779 -3.90% 1,401,887 1.0 1,401,887 \$42.30 \$1,734 \$1.76 \$2,467 324 2" 13 8.0 104 287,600 -3.90% 276,384 1.0 276,384 \$67.68 \$880 \$1.76 \$486 325 50.0 -3.90% 1.418.392 1.416.392 \$423.00 \$5,499 \$1.76 \$2,496 8° 13 650 1,475,954 1.0 2,977,574 2,977,574 \$676.60 \$8,796 326 13 60.0 3,098,412 -3.90% 1.0 \$1.76 \$5,241 8 1,040 327 5/8° X 3/4° 2,583 2,593 17,004,000 7.30% 15,762,708 15.762.708 \$21,937 \$1.76 \$27,742 **Enterprise** Res. 1.0 1.0 \$8,46 328 284 2.5 650 1,937,376 7.30% 1,795,948 1,795,948 \$21.15 \$5,584 \$1.78 \$3,181 10 328 1 1/2" 13 5.0 156,703 7.30% 145,264 145,264 \$42.30 \$550 \$1.78 \$256 65 1.0 330 Com. 5/8" X 3/4" 13 1.0 13 -3.90% 1.0 \$6,46 \$110 \$1.78 331 101,124 -3.90% 97,160 97,160 \$21.15 \$571 \$1.78 \$171 27 2.5 88 1.0 332 2" 13 8.0 104 18,910 -3.90% 18,173 1.0 18,173 \$67,68 \$880 \$1.78 \$32 333 Geneva Lake Est. 5/8" X 3/4" 1,065 1.0 1.065 8,189,480 7.30% 7,591,648 1.0 7,591,648 \$8.46 \$9,010 \$1.78 \$13,361 334 \$2,572 Multi-Fam. 2" 38 8.0 304 2.375.384 0.00% 2.375.384 1.0 2,375,384 \$67.66 \$1,78 \$4,181 \$42.30 335 1 1/2" 13 5.0 3.90% \$1.76 Com. 65 525.204 504,721 1.0 504,721 \$550 \$888 336 5/8" X 3/4" \$8.46 \$15,796 \$1.78 Keystone Club Est. Res. 1,866 1.0 1,866 9,228,635 -7.30% 8,554,945 1.0 8,554,945 \$15,057 337 2.5 \$21.15 \$1.76 77 213,298 -7.30% 197,727 \$1,629 \$348 193 197,727 1.0 338 1 1/2* \$42.30 \$42 \$1.76 \$33 5.0 20,229 -7.30% 18,752 1.0 18.752 5 339 Lakeside Res. 5/8" X 3/4" 1.035 1.0 1.035 7.398.380 -7.30% 8.858.298 6.858.298 \$8.46 \$8,756 \$1.76 \$12,071 10 340 5/8" X 3/4" \$8.46 \$882,699 \$1.76 Lehigh Res. 104,336 1.0 104,338 332,363,086 -7.30% 308,100,561 1.0 308,100,581 \$542,257 341 36 2.5 95 202.072 7.30% 167.321 1.0 167,321 \$21.15 \$804 \$1.76 \$330 342 160 705,405 -7.30% 653,910 653,910 \$135.38 \$1,354 \$1.76 \$1,151 3" 16.0 1.0 343 Com. 5/8" X 3/4" 2,888 1.0 2,688 10.923.805 -3.90% 10,497,777 1.0 10.497.777 \$8,46 \$24,432 \$1.78 \$18,478 344 1" 709 2.5 1,773 11,459,580 -3.90% 11,012,656 1.0 11.012.656 \$21,15 \$14,995 \$1.78 \$19,382 345 1 1/2" 7,395,216 \$42.30 \$1.78 348 5.0 1,740 -3.90% 7,106,903 1.0 7,106,603 \$14,720 \$12,508 372 \$57.68 \$33,398 346 r 6.0 2,976 19,745,950 -3.90% 18,975,858 1.0 18,975,858 \$25,177 \$1.78 15,743,385 \$135.36 \$1.78 \$26,628 347 75 18.0 1,200 \$10,152 3° -3.90% 15,129,393 1.0 15,129,393 348 4° 25.0 325 1,199,108 \$211.50 \$2,750 \$1.78 \$2,028 13 -3.90% 1,152,343 1.0 1.152.343 6° 13 50.0 650 2,715,735 -3.90% 2,609,821 1.0 2,609,821 \$423.00 \$5,499 \$1.78 \$4,593

-

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 10 of 12 Preperer: Bencini Supporting Schedules: E1-3,E1-4

	(1)	(4)	(2)	(4)	(5) ERC's	(10)	(7)	(84)	(9) Consumption	(10)	(11)	(12)	(149) REVI	(14) EMUES	(16)
						Factored		Price	Price Elesitoity		Factored	BFC		Gallona	100
nė	Plant		Meter	1996	Mater	ERC's	Billed	Elasticity	Adi. Gallonage	Gallonage	Gallonage	Rates	Ravenue	Rates / MG	Revenue
<u>o.</u>	Karne	Class	Size	Bills	Factor 1/	C4°C5	Usage	Adjust 2	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	C4°C12	(C7,L420)*C10	(C9/1000)°C1
_															
50	Lehigh (cont.)	Priv. Fire Prot.	4"	79	2.1	168	0	0.00%	0	0.0	0	\$17.77	\$1,404	\$0.00	:
51			6"	39	4.2	164	0	0.00%	0	0.0	0	\$35.53	\$1,386	\$0.00	
52			6"	25	6.7	168	0	0.00%	0	0.0	0	\$56.68	\$1,417	\$0.00	:
53			10"	3	9.6	29	0	0.00%	0	0.0	0	\$81.22	\$244	\$0.00	:
54	Palm Valley	Res.	5/8" X 3/4"	2,329	1.0	2,329	18,946,860	-7.30%	17,563,739	1.0	17,563,739	\$8.46	\$19,703	\$1.78	\$30,9
55	•		3/4"	12	1.5	18	203,130	-7.30%	168,302	1.0	168,302	\$12.69	\$152	\$1.78	\$3
56			1"	61	2.5	203	530,492	-7.30%	491,768	1.0	491.766	\$21.15	\$1,713	\$1.78	\$8
57			2"	12	8.0	96	132,727	-7.30%	123,038	1.0	123,038	\$67.68	\$812	\$1.78	25
56		Сот.	5/8" X 3/4"	73	1.0	73	1,211,447	-3.90%	1.164.201	1.0	1,164,201	\$8.46	\$618	\$1.78	\$5.0
59		•	2"	12	8.0	96	278.905	-3.90%	266,106	1.0	266,106	\$67.68	\$612	\$1.78	\$4
60	Remington Forest	Res.	5/8" X 3/4"	1,036	1.0	1,036	7,775,834	-7.30%	7,208,196	1.0	7,208,196	\$8.46	\$8,765	\$1.78	\$12,6
61	Tion singular Forest	I KOAL	1"	1,030 B	2.5	20	91,750	-7.30%	85.052	1.0	85,052	\$21.15	\$169	\$1.78	\$12,0
62	Spring Gardens	Res.	5/8" X 3/4"	1,565	1.0	1,565	8,521,783	-7.30%	8,045,693	1.0	8,045,683	\$21.15 \$8.46	-		
63	Spring Gardens	Com.	5/8' X 3/4'	1,363	1.0	13	225.715						\$13,240	\$1.78	\$10,6
64		Com.	2"				, -	-3.90%	216,912	1.0	218,912	\$8.46	\$110	\$1.78	\$3
	M-4	D	-	26	8.0	208	685,637	-3.90%	658,897	1.0	658,697	\$67.68	\$1,760	\$1.78	\$1,1
65	Valencia Terrace	Res.	5/8" X 3/4"	4,237	1.0	4,237	24,759,737	-7.30%	22,952,276	1.0	22,952,278	\$8.46	\$35,845	\$1.78	\$40,3
66		Com.	5/8" X 3/4"	45	1.0	45	621,125	-3.90%	596,901	1.0	596,901	\$8.46	\$381	\$1.78	\$1,0
67			1*	72	2.5	160	144,014	3.90%	139,397	1.0	138,397	\$2 1.15	\$1,523	\$1.78	\$2-
66			1 1/2"	13	5.0	65	755,422	3.90%	725,961	1.0	725,961	\$42.30	\$550	\$1.78	\$1,2
69			2"	13	6.0	104	152,008	-3.90%	146,080	1.0	146,060	\$67.68	\$880	\$1.76	\$2
70 Su	ds. FPSC Juria. Mon-Unit. Conv	. Treet.		273,800		295,005	1,319,957,794		1,232,739,629		1,232,739,629		\$2,495,740		\$2,169,6
FP	SC Non-Auria, Conv. Treet.														
71	Gibsonia Est.	Res.	5/8° X 3/4°	1,716	1.0	1,718	11,781,505	-7.30%	10,902,915	1.0	10,902,915	\$8.46	\$14,534	\$1.76	\$19,18
72			1"	40	2.5	100	436,787	-7.30%	404,902	1.0	404,902	\$21.15	\$846	\$1.78	\$71
73			2"	13	6.0	104	311,690	-7.30%	288,937	1.0	298,937	\$67.68	\$880	\$1.78	\$50
74		Сот.	5/8" X 3/4"	228	1.0	228	1,486,316	3.90%	1,428,352	1.0	1,428,352	\$8.46	\$1,929	\$1.76	\$2,5
75			1"	50	2.5	125	307,476	3.90%	295,488	1.0	295,486	\$21.15	\$1,058	\$1.76	\$5
76	Hershel Heights	Res	5/8" X 3/4"	3,590	1.0	3,590	27,068,761	7.30%	25,111,281	1.0	25,111,281	\$8.46	\$30,371	\$1.76	\$44,11
77		,	1"	53	2.5	133	673,133	-7.30%	623.994	1.0	623,994	\$21.15	\$1,121	\$1.78	\$1,0
78		Com.	5/8" X 3/4"	64	1.0	64	458,555	-7.50%	440,671	1.0	440,671	\$8.46	\$711	\$1.78	\$7
78		COIII.	1,	60	2.5	150	2.166,220	-3.90%	2,081,737	1.0			\$1,269		-
60 80			2*	48	2.5 8.0	384					2,061,737	\$21.15	. ,	\$1.76	\$3,6
	tala Ohaaa Eu	D	_	-			1,071,472	3.90%	1,029,685	1.0	1,029,685	\$67.68	\$3,249	\$1.79	\$1,6
81	Lake Gibson Est.	Res.	5/8" X 3/4"	9,167	1.0	9,167	67,026,110	-7.30%	62,133,204	1.0	62,133,204	\$8.46	\$77,722	\$1.76	\$109,3
82			3/4"	41	1.5	62	568,012	7.30%	526,547	1.0	526,547	\$12.69	\$520	\$1.76	\$93
B3			1*	24	2.5	60	451,144	-7.30%	418,210	1.0	418,210	\$21.15	\$508	\$1.76	\$73
84		_	2"	12	9.0	96	2,003,959	-7.30%	1,857,670	1.0	1,857,670	\$67.68	\$812	\$1.76	\$3,26
85		Com.	5/8" X 3/4"	118	1.0	116	923,310	-3.90%	967,301	1.0	687,301	\$8.46	\$998	\$1.78	\$1,56
86			1"	12	2.5	30	120,925	-3.90%	116,209	1.0	116,209	\$21.15	\$254	\$1.76	\$20
87			1 1/2"	12	5.0	60	28,342	-3.90%	27,237	1.0	27,237	\$42.30	\$508	\$1.76	\$4

SCHEDULE OF WATER RATES - 1996

Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950485-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical | | Projected (x)

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]
Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 11 of 12 Preparer: Bencini Supporting Schedules: E1-3,E1-4

	(1)	(2)	(3)	(4)	(5) ERC's	(6)	(7)	(a)	(9) Consumption	(10)	(11)	(12)	(13) REVEN	(14) IUES	(19)
						Factored		Price	Price Electicity	-	Factored	BFC		Gallon	190
nė	Plant		Motor	1996	Motor	ERC's	Billed	Elasticity	Adl. Gallonage	Gellonege	Gallonage	Rates	Revenue	Rates / MG	Revenue
0.	Name	Class	Size	Bille	Factor 1/	CFCS	Usage	Adjust. 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) * C5	C4°C12	(C7,L420)*C10	(C9/1000)*C14
88	Orange Hill/Sugar Crk	Res.	5/8" X 3/4"	2,814	1.0	2,814	18,140,825	-7.30%	16,816,545	1.0	16,816,545	\$8.46	\$23,806	\$1.76	\$29,59
89	Seaboard	Res.	5/8" X 3/4"	30,535	1.0	30,535	216,258,538	-7.30%	200,471,665	1.0	200,471,665	\$8.46	\$258,326	\$1.76	\$352,830
90		Multi-Fam.	1 1/2"	12	5.0	60	7,840,760	0.00%	7,840,760	1.0	7,840,760	\$42.30	\$508	\$1.76	\$13,800
91			2*	12	6.0	96	15,799,696	0.00%	15,799,698	1.0	15,799,696	\$87.68	\$812	\$1.76	\$27,807
92		Com.	5/8" X 3/4"	493	1.0	493	3,024,343	-3.90%	2,806,394	1.0	2,906,394	\$8.46	\$4,171	\$1.78	\$5,115
93			1*	24	2.5	60	1,361,324	-3.90%	1,308,232	1.0	1,308,232	\$21.15	\$508	\$1.78	\$2,300
94			1 1/2	106	5.0	530	7,199,402	-3.90%	6,918,625	1.0	6,910,625	\$42.30	\$4,484	\$1.78	\$12,177
95			2*	63	8.0	504	4,899,203	-3.90%	4,706,134	1.0	4,708,134	\$67.68	\$4,264	\$1.78	\$8,286
96			3*	24	16.0	384	4,611,921	-3.90%	4,624,256	1.0	4,624,256	\$135.36	\$3,249	\$1.78	\$8,136
97	Spring Hill	Res.	5/8" X 3/4"	296,058	1.0	286,058	2,861,513,587	-7.30%	2,652,623,095	1.0	2,652,623,095	\$8.46	\$2,420,051	\$1.78	\$4,668,617
96			3/4*	51	1.5	77	1,039,577	-7.30%	963,696	1.0	963,668	\$12.68	\$647	\$1.78	\$1,696
99			1"	17,402	2.5	43,506	277,549,728	-7.30%	257,288,598	1.0	257,288,598	\$21.15	\$368,052	\$1.76	\$452,829
00			1 1/2	54	5.0	270	798,971	-7.30%	740,646	1.0	740,646	\$42.30	\$2,284	\$1,76	\$1,304
01			2*	35	8.0	280	476,814	-7.30%	442,007	1.0	442,007	\$67.68	\$2,369	\$1.78	\$776
02		Corn.	5/8" X 3/4"	4,954	1.0	4,954	50,480,305	-3.90%	48,511,573	1.0	48.511.573	\$8.48	\$41,911	\$1.76	\$85,380
03			1"	1.160	2.5	2,970	31,275,231	-3.90%	30,055,497	1.0	30,055,497	\$21.15	\$25,126	\$1.76	\$52,896
04			1 1/2"	139	5.0	695	6,775,040	-3.90%	6,510,813	1.0	6,510,813	\$42.30	\$5,880	\$1.76	\$11,456
05			2	565	8.0	4,520	36,609,176	-3.90%	35,181,416	1.0	35,181,418	\$67.68	\$38,239	\$1.76	\$81,919
06			3"	31	18.0	496	7.751.158	-3.90%	7.448.963	1.0	7,448,863	\$135.36	\$4,196	\$1.76	\$13,110
07			6"	33	50.0	1,650	16.039,958	-3.90%	17,336,401	1.0	17,336,401	\$423.00	\$13,959	\$1.76	\$30,512
06	Valrico Hills	Res.	5/8" X 3/4"	4,260	1.0	4,260	33,190,020	-7.30%	30,767,149	1.0	30,787,149	\$8.46	\$36,040	\$1.76	\$54,150
	b. FPSC Non-Juris. Conv. Tr		30 7 34	384,143	1.0	401,439	3,721,719,299	-1.50%	3,457,838,393	1.0	3,457,838,383	\$0.70	\$3,398,172	41.70	\$8,085,796
		_				40,,400	0,721,179,200		0, 107,000,000		0,100,1000,000		40,000,112		40,000,000
10 Tol	tal Company Conv. Treat.			1,344,495		1,528,232	11,762,168,783		10,947,381,273		10,947,381,273		\$12,928,886		\$19,267,395
11	1996 Proposed Final Com	r. Treet. Revenue	Ren. from Sche	chula B-1000			\$32,209,378.00						Total Revenue Regu	shament	\$32,209,376
12	Non-Standard Rate Design						\$0.00						Total Calculated Re		\$32,198,261
13	Revenue Requirement Ter						\$32,209,378.00						Amount Under Terro		\$13,117
	·	-													410,111
14	Base Facility Charge Reve						\$12,683,751.20								
15	Gellonage Charge Revenu		argel)				\$19,325,626.80								
18	Total Revenue Requireme	et					\$32,209,378.00								
17	Base Facility Charge (C7,1	A14) / (C8.L410)					\$8.43								
18	Gellonege Charge (C7,L41		1000})				\$1.77								
19	Adl. BFC ((C7,L417) + .03)	needed to achie	ra Revenue Terro	at .			\$8.46								
20	Adl. Gallonage Charge ((C			-			\$1.76								

SCHEDULE OF WATER RATES - 1996

Billing Determinants for Conventional Treatment

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water (x) Wastewater (] Interim () Final (x) Historical () Projected (x)

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC Schedule: E1-2 Page 12 of 12 Preparer: Bencini

Supporting Schedules: E1-3,E1-4

Explanation	Explanation: Provide a schedule of veriables used in the rate design.														
	(1)	(Z)	(3)	(4)	(6)	(41)	(7)	(4)	(0)	(10)	(11)	(12)	(12)	(14)	(15)
					ERC's				CONSUMPTION				RE	VEDILJES	• •
						Factored	•	Price	Price Elasticity		Factored	BFC		Gallor	nege
Line	Plant		Motor	1996	Motor	ERC's	Billed	Elesticity	Adj. Gallonage	Gallonage	Gallorage	Rates	Revenue	Rates / MG	Revenue
No.	Name	Clease	Size	Billa	Factor 1/	C4*C5	Usage	Adjust 2/	C7*(1+C8)	Factor 3/	C9°C10	(C7,L419) ° C5	C4°C12	(C7,L420)*C10	(C9/1000)*C14

Note: May not tie to other schedules due to rounding.

- 1/ Meter factors are standard FPSC accepted rate design meter factors. The Private Fire Protection factor is 1/12th of the normal meter factor per FAC Rule 25-30.465.
- 2/ Please refer to the Waterate Model Summary in Volume V, summary section for details.
- 3/ The gallonage factor is used to set Private Fire Protection consumption to 0 since it is not billed and should not be part of the gallonange rate setting process.
- 4/ For classes of service where a special contract exists, or do not fit standard rate design methods, this is the approximate revenue that will be collected. This revenue then, should not be included in the standard rate design methods, this is the approximate revenue that will be collected. This revenue then, should not be included in the standard rate design methods, this is the approximate revenue that will be collected. This revenue then, should not be included in the standard rate design methods.

SCHEDULE OF WATER RATES - 1996 Water Conservation Program Adjustments 1/

Company: SSU / FPSC Jurisdiction / Proposed Conventional Treatment

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of plants affected by our conservation program and the gallonace effect.

	(1)	(2)	(3)	(4)	(5)
			1996		Adj. 1996
Line	Plent		Projected	Cons. Prog.	Consumption 4
No.	Name	Cless 2/	Consumption	Savings 3/	C3-C4
	FPSC Juris. Conv. Treat. Plants				
1	Dol Ray Manor	Residential	9,924,535	949,000	8,975,535
2	Palisades Country Club	Residential	15,229,292	474,500	14,754,792
3	Quail Ridge	Residential	2,284,980	292,000	1,992,980
4	Silver Lake Est./West. Shores	Residential	265,110,836	21,425,500	243,685,336
5	Sugarmil Woods	Residential	401,708,711	35,040,000	366,668,711
6	Sub-total FPSC Juris. Conv. Treat. Plants		694,258,354	58,181,000	636,077,354
7					
8	FPSC Non-juris. Conv. Treat. Plants				
9	Valrico Hills	Residential	38,774,520	5,584,500	33,190,020
10	Sub-total FPSC Non-juris. Conv. Treat. Plants		38,774,520	5,584,500	33,190,020
	Total All Conventional Treatment Plants	Residential	733,032,874	63,765,500	669,267,374

FPSC Schedule: E1-3

Page 1 of 1 Preparer: Bencini

- 1/ Please refer to the testimony of Carlyn Kowalsky for inormation about our conservation program.
- 2/ The conservation program is mainly targeted at residential customers, but on Marco Island the scope of the program has been enhanced to include other classes of service.
- 3/ Please refer to the testimony of Carlyn Kowalsky for detailed inormation about our conservation program savings.
- 4/ This is the consumption that has been used on the 1996 Projected Final E schedules before price elasticity adjustments.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1996

Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x]

Explanation: Provide a summery schedule of the Waterate software tool inputs and outputs.

FPSC Schedule: E1-4 Page 1 of 3 Preparer: Bencini

		Conventional Treatment	Reverse Comosis
Revenues 2/		1 (Quadrian It	Vernues
1 Original Rev. Req. Less Direct Short Run Exp.		\$28,445,134	\$10,458,202
2 Direct Short Run Expenses 3/		\$3,894,816	\$1,218,241
3 Total Original Revenue Requirement		\$32,339,950	\$11,676,443
4 Direct Short-Run RR Price Elastic Change 4/		-\$167,368	-\$32,872
5 Adjusted Revenue Requirement	L3-L4	\$32,172,582	\$11,643,571
6			
7 BFC Revenues	40% * L5 5/	\$12,889,033	\$4,857,428
8 Gallonage Revenues	60% * L5 5/	\$19,303,549	\$6,966,143
9 Total Revenues to be Collected from Rates	L7+L8	\$32,172,582	\$11,643,571
0			
1 Billing Dutentinents 6/			
2 Projected Monthly ERCs		127,319	18,324
3 Projected Consumption TG		11,762,169	2,183,794
4			
5 Projected Residential Consumption TG		10,593,319	1,101,846
8 Projected Multi-Family Consumption TG		105,382	282,108
7 Projected Other Consumption TG 7/		1,063,468	799,843
8 Tatal Projected Consumption TG	L15+L18+L17	11,762,169	2,183,795
9		•	<u> </u>
0 Price Elasticity Adjustments 8/			
1 Residential Price Elasticity Change TG		-776,086	-25,914
2 Multi-Family Price Elasticity Change TG		0	C
3 Other Price Elasticity Change TG		41,179	-31,841

7

SCHEDULE OF WATER RATES - 1996 Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical (] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x]

Explanation: Provide a summary achedule of the Waterste software tool inputs and outputs.

FPSC Schedule: E1-4 Page 2 of 3 Preparer: Bencini

		Conventional Treatment	Reverse Comocis
Price Einsticity Adjustments cont. &	_		
24 Total Price Elasticity Change TG	1.21+1.22+1.23	-817,265	-57,755
25			
26 Adjusted Projected Consumption TG	L18+L24	10,944,904	2,128,040
27			
28 Residential Price Elasticity Change Percentage	L21/L15	7.3%	-2.4%
29 Multi-Family Price Elasticity Change Percentage	L22/L16	0.0%	0.0%
30 Other Price Elasticity Change Percentage	L23/L17	3.9%	-4.0%
31 Overall Price Elasticity Change Percentage	L24/L18	-6.9%	-2.6%
32			
33 Prefirminary Rate Culculations 9/	_		
34 BFC Rate	(L7/L12)/12	\$8.42	\$23.78
35 Gallonage Charge	L8/L26	\$1.78	\$3.29

- 1/ The information on this schedule is a brief summary of some of the inputs and outputs from the Waterele software tool.
 Refer to the testimony of John Whitcomb, Ph.D. for the complete set of input and output tables and discussion of the model.
- 2/ Revenues are required income from Schedule B-1. The numbers are slightly different due to an increase in the payroit tax which was not ran back through the Watenate model because the impact would have been minimal. The difference in revenues for Conventional Treatment is \$36,796 (B1 revenue is higher), and for Reverse Osmosis the difference is \$5,300 (B1 revenue is higher).
- 3/ Direct short-run revenue requirements is composed of purchased power, purchased water and chemicals. These are expenses that are directly related to water volume.

SCHEDULE OF WATER RATES - 1996

Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water (x) Westewater [] Interim [] Final [x] Historical (] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x]

Explanation: Provide a summary achedule of the Watersta software tool inputs and outputs.

FPSC Schedule: E1-4 Page 3 of 3 Preparer: Bencimi

Conventional Reverse
Treatment Osmosis

- 4/ The predicted price elasticity driven decrease in consumption would also reduce the direct short-run costs. Refer to the testimony of John Whitcomb, Ph.D. for a detailed explanation of the Waterste model.
- 5/ The 40% base and 60% gallorage split for revenues is being used for this rate case. This qualifies as a conservation promoting rate structure according to the Brown & Caldwell weighting definition. Refer to the lastimony of John Whitcomb, Ph.D. for details.
- 6/ The billing determinants provided did not include bulk water from Marco Island. The ERCs are stated as monthly numbers because that is how they are used in the Waterste software tool. The consumption number is after the conservation program adjustments. Refer to schedule E1-2 in the 1896 Conventional Treatment and Reverse Osmosis tabs for details.
 These numbers may not tie to other schedules due to rounding.
- 7/ Other consumption includes commercial, public authority and infigation. SSU took the conservative approach by classifying imigation in the same classification as commercial. This was done because the breakout of our imigation customers by residential, multi-family and commercial classes is not possible at this time.
- 8/ The price elasticity adjustments are outputs from the Waterate software tool. They have been converted from a gallonage number to a percentrage for application purposes. Please refer to the testimony of John Whitcomb, Ph.D. for details.
- 9/ The preliminary rates are derived from the Waterate software tool. They do not exactly match our final rates due to rounding and the slight increase in revenue requirements not taken into consideration in Waterate. In addition, any non-etandard rate design classes (like new water in the reverse camosis treatment category), are not included.

Notes about the Waterate simulation:

Assumed 75% of long-run price elastic response.

Assumed long-run nonresidential price elasticity of -0.20 (0 for mult-flamily and -25 for other).

Fire protection BFC is 1/12 of BFC.

Bill frequency information based on 1994 water use consumption.

Non-uniform historical gallonage and sever charges based on weighted average of prices.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Conventional Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 1 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Lina		1	996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line <u>No.</u>	Class/Meter Size		Consumption(MG)	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues		
1	RESIDENTIAL									
2	5/8"x3/4"	1,214,305		\$7,060,655	1,214,305		\$8.46	\$10,273,020		
3	Full 3/4"	6,595		\$50,721	6,595		\$12.69	\$83,691		
4	1"	67,326		\$874,796	67,326		\$21.15	\$1,423, 9 45		
5	1 1/2"	443		\$11,570	443		\$42.30	\$18,739		
6	2"	290		\$10,607	. 290		\$67.68	\$19,627		
7	3"	68 34		\$6,206	68		\$135.36	\$9,204		
8	4"	34		\$4,362	34		\$211.50	\$7,191		
9	Gallonage Charge/MG									
10	All Gallonage		10.593,318	\$13.941.849		9,820,008	\$1.76	\$17,283,214		
11	Total RESIDENTIAL	1,289,061	10,593,318	\$21,960,766	1.289.061	9,820,008		\$29,118,631		
12	Ave cust/cons/bill/mth	107.422	8.218	\$17.04	107,422	7.618		\$22.59		
13	MULT1-FAMILY									
14	5/8"x3/4"	263		\$1,435	263	,	\$8.46	\$2,2 25		
15	1"	282		\$ 9 ,49 8	282		\$21.15	\$5,9 64		
16	1 1/2"	883		\$37,309	883		\$42.30	\$37,351		
17	2"	320		\$25,856	320		\$ 67. 68	\$21,658		
18	3"	7		\$575	7		\$135.36	\$948		
19 20	4"	13 25		\$1.668	13 25		\$211.50	\$2,750		
	6"	25		\$11,976	25		\$423.00	\$10,575		
21	Gallonage Charge/MG		105 000	4047						
22	All Gallonage	1 700	105,383	\$247,314		105,382	\$1.76	\$185,472		
23	Total MULTI-FAMILY	1,793	105.383	<u>\$335,631</u>	1.793	105,382		\$266,943		
24	Ave cust/cons/bill/mth	149	58.775	\$187.19	149	58.774		\$148.88		

FPSC

Company: SSU/ Total Company/ Proposed Conventional Treatment - Summary Docket No.: 950495-WS

SCHEDULE: E2-1 Page 2 of 36 Preparer: Bencini

Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim() Final(x)

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (8) (10)

		1	996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
No.	Class/Meter Size		Consumption(MG)	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues		
25	COMMERCIAL									
26	5/8"x3/4"	19,878		\$116,677	19.878		\$8.46	\$168.168		
27	Full 3/4"	518		\$3,990	518		\$12.69	\$6,573		
28	1*	4,669		\$68,363	4,669		\$21.15	\$98.749		
29	1 1/2"	1.722		\$54,491	1.722		\$42.30	\$72,841		
30	2"	3,627		\$161,800	3,627		\$67.68	\$245,475		
31	3*	430		\$41,238	430		\$135.36	\$58,205		
32	4-	209		\$27,519	209	:	\$211.50	\$44,204		
33	6"	98		\$32,722	98	:	\$423.00	\$41,454		
34	8"	58		\$27,370	58		\$676.80	\$39,254		
35	10"	12		\$7,081	12		\$972.90	\$11.675		
36	Gallonage Charge/MG									
37	All Gallonage		979,221	\$1,319,737		941.033	\$1.76	\$1,656,218		
38	Total COMMERCIAL	31,221	979, 221	\$1,860,988	31,221	941,033		\$2,442,816		
39	Ave cust/cons/bill/mth	2,602	31.364	\$59.61	2,602	30.141		\$78.24		

Calculation of Annualized Sales Revenues

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES

FPSC

Company: SSU/ Total Company/ Proposed Conventional Treatment - Summary

SCHEDULE: E2-1 Page 3 of 36 Preparer: 8encini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim(] Final(x)

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (2) (5) (3) (4) (10)

14		1996	PROJECTED FINAL (PRE	SENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line <u>No.</u>	Class/Meter Size	<u>Co</u>	ensumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues		
40 41 42	EMERG. STAND-BY 5/8"x3/4" Gallonage Charge/MG	0		\$0	0		\$0.00	\$0		
43 44 45	All Gallonage Total EMERG. STANO-8Y Ave cust/cons/bill/mth	0 0	0 0	\$0 \$0	0	0	\$1.76	\$0 \$0		
46 47	IRRIGATION 5/8"x3/4"	21,335		\$97.074	21,335		\$8.46	\$180.494		
48 49 50	1" 1 1/2" 2"	30 55 288		\$341 \$1,249 \$10,460	30 55 288		\$21.15 \$42.30 \$67.68	\$635 \$2,327 \$19,4 9 2		
51 52 53 54	Gallonage Charge/MG All Gallonage Total IRRIGATION Ave cust/cons/bill/mth	21,708 1,809	82,956 82,956 3,821	\$102,865 \$211,989 \$9.77	21,708 1,809	79,720 79,720 3,672	\$1.76	\$140,307 \$343,255 \$15.81		

FPSC

Company: SSU/ Total Company/ Proposed Conventional Treatment - Summary

SCHEDULE: E2-1 Page 4 of 36 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (5) (7) (10) (4) (8) (9)

		199	96 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line No.	Class/Meter Size	(Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues		
55 56 57 58	PUBLIC AUTHORITY 1 1/2" 2" 3" Colleges Change/MC	12 12 12		\$308 \$493 \$985	12 12 12		\$42.30 \$67.68 \$135.36	\$508 \$812 \$1,624		
59 60 61 62	Gallonage Charge/MG All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	<u> 36</u> 3	1,291 1,291 35.861	\$1,588 \$3,374 \$93.72	<u>36</u> 3	1,241 1,241 34,472	\$1.76	\$2,184 \$5,128 \$142,44		
63 64 65 66 67 68	FIRE PROTECTION 2" 4" 6" 8" 10" Callenges Change (MC)	28 356 191 82 1 9		\$383 \$17.787 \$18.869 \$13.818 \$4.185	28 356 191 82 19	,	\$5.64 \$17.63 \$35.25 \$56.40 \$81.08	\$15B \$6,276 \$6,733 \$4,625 \$1,541		
69 70 71 7 2	Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	676 56	0.000	\$55,042 \$81,42	67 <u>6</u> 56	0 0.000	\$0.00	\$0 \$19,333 \$28.60		

126

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Conventional Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 5 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explan	ation: Provide a calculation of r	evenues at present an	d proposed rates	s using the billing ar	nalysis. Explain an y d	differences		
betwee	n these revenues and booked reven	ues. If a rate chang	e occured during	the test year, a rev	venue calculation must	t be made for each	period.	
	(1) (2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
Lina		1996 PROJECTED FINAL	. (PRESENT RATES)) 1/	1996_PRDJECTEL	FINAL (PROPOSED	FINAL RATES)	2/
Line <u>No.</u>	Class/Meter Size	Consumption(MG)	Re	ev en ues	8111s <u>Co</u>	onsumption(MG)	Rate	Revenues
73	TOTAL ANNUALIZED SALES REVENUES	3/	\$24	1,427,790				\$32,196,106
74	UNBILLED REVENUE			\$0				\$0
75	OTHER REVENUE 4/			\$605,315			_	\$605,315
76	TOTAL REVENUES		\$25	5,033,105			_	\$32,801,421

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John 8. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF MATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform (excluding Burnt Store)

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final(x)
Historical[] Projected(x)

Present: FPSC Uniform(x] FPSC Non-uniform[] FPSC Non-jurisdiction()

Proposed: Conventional(x) Reverse Osmosis()

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1

Page 6 of 36

Preparer: Bencini

Supporting Schedules: E1-1, E-13

		1	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJE	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	<u>8ills</u>	Consumption(MG)	Rate	Revenues	
1	RESIDENTIAL									
2	5/8"x3/4"	632,422		\$5.13	\$3 ,244, 3 25	632,422		\$8.46	\$5,350,290	
3	Full 3/4"	6,491		\$7.70	\$49,981	6.491		\$12.69	\$82,371	
4	1"	48,734		\$12.83	\$625,257	48.734		\$21.15	\$1,030,724	
5	1 1/2"	375		\$25.66	\$9,623	375		\$42.30	\$15,863	
6	2"	218		\$41.05	\$8,949	218		\$67.68	\$14,754	
7	3"	58		\$82.10	\$4,762	58		\$135.36	\$7,851	
8	4"	34		\$128.29	\$ 4,362	34		\$211.50	\$7,191	
9	Gallonage Charge/MG									
10	All Gallonage		<u>5,981,396</u>	\$1.23	<u>\$7,357,117</u>		5,544,756	\$1.76	\$9,758,771	
11	Total RESIDENTIAL	688,332	5,981,396		\$11,304,376	688,332	5,544,756		\$16,267,815	
12	Ave cust/cons/bill/mth	57,361	8.690		\$16.42	57,361	8.055		\$23.63	
	400 T1 C4411 V									
13	MULT1-FAM1LY	200		AC 10	*1 000	950	,	40.46	40.140	
14	5/8"x3/4"	253		\$5.13	\$1.298	253		\$8.46	\$2,140	
15	1 1/29	504		\$12.83	\$90			\$21.15	\$148	
16 17 18 19	1 1/2"	534		\$25.66	\$13.702	534		\$42.30	\$22,588	
1/	2" 3"	89 7		\$41.05	\$3,653	89		\$67.68	\$6,024	
10	3 4"			\$82.10	\$575	/		\$135.36	\$948	
20	4 6"	13 12		\$128.29	\$1,668	13		\$211.50	\$2,750	
20 21	v	12		\$256.57	\$3,079	12		\$423.00	\$5,076	
	Gallonage Charge/MG		AC 507	¢1 22	ACC DOA		45 503	*1.76	400.00	
22 23	All Gallonage Total MULTI-FAM1LY	015	45,597	\$1.23	\$56,084	015	45,597	\$1.76	\$80,251	
23 24		915 76	45,597 49.833		\$80,149	915 76	45,597		\$119,925	
24	Ave cust/cons/bill/mth	/0	49.833		\$87.59	/6	49.833		\$131.07	

SCHEDULE DF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform (excluding Burnt Store)

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1
Page 7 of 36
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

ldan		19	996 PROJECTEO FINAL	. (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
25	COMMERCIAL								
26	5/8"x3/4"	9,935		\$5.13	\$50,967	9.935		\$8.46	\$84,050
27	Full 3/4"	518		\$7.70	\$3,9B9	518		\$12.69	\$6,573
28	1"	2,376		\$12.83	\$30,484	2,376		\$21.15	\$50,252
29	1 1/2"	1.016		\$25.66	\$26,071	1,016		\$42.30	\$42,977
30	2"	2,353		\$41.05	\$96,591	2,353		\$67.68	\$159,251
31	3"	300		\$82.10	\$24,630	300		\$135.36	\$40,608
32	4"	158		\$128.29	\$20,270	158		\$211.50	\$33,417
33	6"	26		\$256.57	\$6,671	26		\$423.00	\$10,998
34	в"	45		\$410.51	\$18,473	45		\$676.80	\$30,456
35	10"	12		\$590.11	\$7,081	12		\$972,90	\$11.675
36	Gallonage Charge/MG								
37	All Gallonage		692,207	\$1.23	\$851,415		665,212	\$1.76	\$1,170,773
38	Total COMMERCIAL	16,739	692,207		\$1,136,642	16,739	665,212		\$1,641,030
39	Ave cust/cons/bill/mth	1,395	41.353		\$67.90	I.395	39.740		\$98.04

FPSC

SCHEDULE: E2-1 Page 8 of 36 Preparer: 8encini

Supporting Schedules: E1-1, E-13

Company: SSU/ Total Company/ Present Uniform (excluding Burnt Store)

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

1996 PROJECTED FII			ROJECTED FINAL	(PRESENT RATES) 1/ 1996 PROJECTED F1NAL (PROPOSED F1NAL RATES)					S) 2/
Line <u>No.</u>	Class/Meter Size	Consu	umption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
40 41 42 43 44	PUBLIC AUTHORITY 1 1/2" 2" 3" Gallonage Charge/MG	12 12 12		\$25.66 \$41.05 \$82.10	\$308 \$493 \$985	12 12 12		\$42.30 \$67.68 \$135.36	\$508 \$812 \$1,624
45 46 47	All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	36 3	1,291 1,291 35,861	\$1.23	\$1,588 \$3,374 \$93.72	<u>36</u>	$\frac{\frac{1.241}{1.241}}{34.472}$	\$1.76	\$2,184 \$5,128 \$142,44
48 49 50 51 52 53 54	FIRE PROTECTION 2" 4" 6" 8" 10"	28 277 152 57 16		\$13.69 \$42.76 \$85.53 \$136.84 \$196.70	\$383 \$11,845 \$13,001 \$7,800 \$3,147	28 277 152 57 16	,	\$5.64 \$17.63 \$35.25 \$56.40 \$81.08	\$158 \$4,884 \$5,358 \$3,215 \$1,297
54 55 56 57	Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	530 44	0 0 0.000	\$0.00	\$0 \$36,176 \$68.26	<u>530</u>	0 0 0.000	\$0.00	\$0 \$14,912 \$28.14

13

3

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform (excluding Burnt Store)

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Dsmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		1996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJE	CTED FINAL (PROPOSED	FINAL RATES	S) 2/
Line No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
58 59 60 61	TOTAL ANNUALIZED SALES I UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/	\$12,560,717 \$0 \$317,760 \$12,878,477				\$18.048.810 \$0 \$317.760 \$18.366,570

FPSC

SCHEDULE: E2-1

Page 9 of 36

Preparer: Bencini

Supporting Schedules: E1-1 E-13

(10)

I/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

Total annualized revenues may not tie to other schedules due to rounding at the plant level vs. summary level.

4/ Refer to the 1996 B-4 schedule for detail of other revenue.

FPSC

SCHEDULE: E2-1 Page 10 of 36

Supporting Schedules: E1-1, E-13

Preparer: Bencini

Company: SSU/OSCEOLA / BUENAVENTURA LAKES (PENDING ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (10)

		19	996 PROJECTED F1NA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	87,328		\$4,55	\$397,342	87.328		\$8.46	\$738,795
4	All Gallonage		463.923	\$1.24	\$575,265		430,057	\$1.76	\$756,900
5	Total RESIDENTIAL	87,328	463,923		\$972,607	87,328	430,057		\$1,495,695
6	Ave cust/cons/bill/mth	7,277	5.312		\$11.14	7,277	4.925		\$17.13
7	COMMERCIAL								
8	5/8"x3/4"	780		\$4.55	\$ 3,549	780		\$8.46	\$6,599
9	1"	55		\$11.37	\$625	55		\$21.15	\$1,163
10	1 1/2"	34		\$22.71	\$772	34		\$42.30	\$1,438
11	2"	149		\$36.32	\$ 5,412	149		\$67.68	\$10,084
12	4"	38		\$113.56	\$4,315	38		\$211.50	\$8,037
13	6"	13		\$227.12	\$2,953	13		\$423.00	\$ 5,499
14	Gallonage Charge/MG				•		/		
15	All Gallonage		25,836	\$1.24	\$32,037		24.828	\$1.76	\$43,697
16	Total COMMERCIAL	1,069	25,836		\$49,663	1,069	24,828		\$76,517
17	Ave cust/cons/bill/mth	89	24.168		\$46.46	89	23.225		\$71.58

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/OSCEOLA / BUENAVENTURA LAKES (PENDING ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 11 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences								
between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.								
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)

		1996 PROJECTED FINAL (PRESENT RATES) 1/				1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line <u>No.</u>	Class/Meter Size	<u>Co</u>	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
18 19 20 21	IRRIGATION 5/8"x3/4" 1" 1 1/2"	21.335 30 55		\$4.55 \$11.37 \$22.71	\$97,074 \$341 \$1,249	21.335 30 55 288		\$8.46 \$21.15 \$42.30	\$180,494 \$635 \$2,327
22 23 24 25	Gallonage Charge/MG All Gallonage Total IRRIGATION	288	82,956 82,956	\$36.32 \$1.24	\$10,460 \$102,865 \$211,989	21,708	79,720 79,720	\$67.68 \$1.76	\$19,492 \$140,307 \$343,255
26 27 28 29	Ave cust/cons/bill/mth TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/	1.809 REVENUES 3/	3.821		\$9.77 \$1,234,259 \$0 \$69,330	1.809	3.672		\$15.81 \$1,915,467 \$0 \$69,330
30	TOTAL REVENUES				\$1,303,589				\$1,984,797

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E2-1 Page 12 of 36 Preparer: 8encini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (1) (2) (3) (4) (5) (7)

		19	996 PROJECTED FINAL	(PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	36,329 605		\$13.69 \$34.21	\$497,344 \$20,697	36,329 605		\$B.46 \$21.15	\$307,343 \$12,796
5 6 7	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	36,934 3,078	192,328 192,328 5.207	\$4.12	\$792,391 \$1,310,432 \$35,48	36,934 3,078	178,288 178,288 4,827	\$1.76	\$313,787 \$633,926 \$17.16
8 9 10 11 12 13	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 6"	10 275 337 181 13		\$13.69 \$34.21 \$68.43 \$109.50 \$684.36	\$137 \$9.408 \$23.061 \$19.820 \$8.897	10 275 337 181 13	,	\$8.46 \$21.15 \$42.30 \$67.68 \$423.00	\$85 \$5,816 \$14,255 \$12,250 \$5,499
14 15 16 17	Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	81 <u>6</u> 68	33,770 33,770 41.385	\$4.12	\$139,132 \$200,455 \$245,66	816 68	33,770 33,770 41,385	\$1.76	\$59,435 \$97,340 \$119.29

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1
Page 13 of 36
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line		1996 PR	OJECTED FINAL (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	Consu	mption(MG)	Revenues	Bills	Consumption(NG)	Rate	Revenues	
18 19 20 21 22 23 24 25 26 27 28	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 6" 8" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	254 96 41 13 13 13 13	\$13.69 \$34.21 \$68.43 \$109.50 \$684.36 \$684.36 \$684.36	\$3.477 \$3.284 \$2.806 \$1,424 \$8.897 \$8.897 \$34.971 \$63.756 \$148.27	254 96 41 13 13 13 13	8.157 8.157 18.970	\$8.46 \$21.15 \$42.30 \$67.68 \$423.00 \$676.80 \$1.76	\$2,149 \$2,030 \$1,734 \$880 \$5,499 \$8,798 \$14,356 \$35,446 \$82,43	
29 30 31 32	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/		\$1,574,643 \$0 \$17,295 \$1,591,938				\$766,712 \$0 \$17,295 \$784,007	

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final(x)

SCHEDULE: E2-1 Page 14 of 36 Preparer: Bencini

Historical[] Projected(x)

Supporting Schedules: E1-1, E-13

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (5) (10) (1) (3) (4) (9)

Lina		1996 PROJECTED FINAL (PRESENT RATES) 1/			RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line <u>No.</u>	Class/Meter Size	Consumption(MG)			Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" 1 1/2"	2,593 264 13		\$8.58 \$21.43 \$42.87	\$22,248 \$5,658 \$557	2,593 264 13		\$8.46 \$21.15 \$42.30	\$21,937 \$5,584 \$550
6 7 8	Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	2,870	19,098 19,098 6.654	\$2.21	\$42,207 \$70,670 \$24.62	2.870 239	17,704 17,704 6.169	\$1.76	\$31,159 \$59,230 \$20.64
9 10 11 12	COMMERCIAL 5/8"x3/4" 1" 2" Gallonage Charge/MG	13 27 13		\$8.58 \$21.43 \$68.58	\$112 \$579 \$892	13 27 13	,	\$8.46 \$21.15 \$67.68	\$110 \$571 \$880
14 15 16	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	53 4	120 120 2.264	\$2.21	\$265 \$1,848 \$34.87	<u>53</u>	115 115 2.170	\$1.76	\$202 \$1,763 \$33,26

137

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

FPSC

Company: SSU/VOLUSIA / ENTERPRISE UTIL. CORP.

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Page 15 of 36 Preparer: Bencini

SCHEDULE: E2-1

Supporting Schedules: £1-1, E-13

(10)

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (1) (2) (3) (4) (7)

		1996 PROJECTED FINAL (PI	RESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues	
17	TOTAL ANNUALIZED SALES REVENU	JES 3/	\$ 72.518				\$60,993	
18	UNBILLED REVENUE		\$0				02	
19	OTHER REVENUE 4/		\$1,115				\$1,115	
20	TOTAL REVENUES		\$73,633				\$62,108	

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D. regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment,

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 B-4 schedule for detail of other revenue.

Company: SSU/BRADFORD / GENEVA LAKE ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

SCHEDULE: E2-1 Page 16 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]
Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (1) (3) (4) (5) (10)

Line	-	1996 PROJECTEO FINAL (PRESENT RATES) 1/			1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	1,065		\$ 4.97	\$5,293	1,065		\$8.46	\$9,010
3	Gallonage Charge/MG								
4	All Gallonage		8.189	\$2.07	\$16.951		7 .5 92	\$1.76	\$13,362
5	Total RESIDENTIAL	1,065	8,189		\$22,244	1,065	7,592		\$22,372
6	Ave cust/cons/bill/mth	89	7.689		\$20.89	89	7.129		\$21.01
7	MULTI-FAMILY								
8	2"	38		\$39.73	\$1,510	38		\$67.68	\$2,572
9	Gallonage Charge/MG					-		101100	42,0.2
10	All Gallonage		2,375	\$2.07	\$4,916		2,375	\$1.76	\$4,180
11	Total MULTI-FAMILY	38	2,375		\$6,426	38	2,375		\$6,752
12	Ave cust/cons/bill/mth	3	62.500		\$169.11	3	62.500		\$177.68

139

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/BRADFORD / GENEVA LAKE ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historica][] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1
Page 17 of 36
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	1996 PROJECTED FINAL (PRESENT RATES) 1/					1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line <u>N</u> o.	Class/Meter Size		Consumption(MG)		Revenues	<u>Bill</u>	<u>s</u> _	Consumption(MG)	Rate	Revenues
13 14 15 16 17 18	COMMERCIAL 1 1/2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	13 	525 525 40.385	\$24.83 \$2.07	\$323 \$1,087 \$1,410 \$108.46		13 13	505 505 38.846	\$42.30 \$1.76	\$550 \$889 \$1,439 \$110.69
19 20 21 22	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/			\$30,080 \$0 \$510 \$30,590					\$30,563 \$0 \$510 \$31,073

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.O., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

COMPANY: SSU/BRADFORD / KEYSTONE CLUB ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 18 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	6 PROJECTED FINAL	(PRESENT	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	8il1s	Consumption(MG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG	1,866 77 1		\$4.97 \$12.42 \$24.83	\$9,274 \$956 \$25	1.866 77 1		\$8.46 \$21.15 \$42.30	\$15,786 \$1,629 \$42
6 7 8	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1.944 162	9,462 9,462 4,867	\$2.07	\$19,586 \$29,841 \$15.35	1.944 162	8,771 8,771 4.512	\$1.76	\$15,437 \$32,894 \$16.92
9 10 11 12	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/			\$29.841 \$0 \$1,140 \$30,981				\$32,894 \$0 \$1,140 \$34,034

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

> SCHEDULE: E2-1 Page 19 of 36 Preparer: Bencini

FPSC

Schedule Year Ended 12/31/96 Water [x] Wastewater []

Company: SSU/CITRUS / LAKESIDE

Interim[] Final[x]

Docket No.: 950495-WS

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (10) (1)

	1996 PROJECTED FINAL (PRESENT RATES) 1/					1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues	
1 2	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	1.035		\$5.13	\$5,310	1,035		\$8.46	\$8,756	
5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1.035 86	7,398 7,398 7,148	\$1.23	\$9,100 \$14,410 \$13.92		6,858 6,858 6,626	\$1.76	\$12.070 \$20.826 \$20.12	
7 8 9 10	TOTAL ANNUALIZED SALES REVE UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	ENUES 3/			\$14,410 \$0 \$45 \$14,455				\$20.826 \$0 \$45 \$20.871	

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John 8. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Historical[] Projected[x]
Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E2-1 Page 20 of 36 Preparer: 8encini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	•	199	96 PROJECTED FINAL	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
<u>No.</u>	Class/Meter Size	!	Consumption(MG)		Revenues	Bills	Consumption(NG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" 3" Gallonage Charge/MG	104.338 38 10		\$9.03 \$22.57 \$144.43	\$942,172 \$858 \$1,444	104,338 38 10		\$8.46 \$21.15 \$135.36	\$882.699 \$804 \$1,354
6 7 8	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	104,386 8,699	333,271 333,271 3,193	\$2.40	\$799.850 \$1,744.324 \$16.71	104,386 8,699	308,942 308,942 2,960	\$1.76	\$543,738 \$1,428,595 \$13.69
9 10 11 12 13 14 15 16	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	2.888 709 348 372 75 13		\$9.03 \$22.57 \$45.13 \$72.22 \$144.43 \$225.68 \$451.35	\$26.079 \$16.002 \$15.705 \$26.866 \$10.832 \$2.934 \$5.868	2.888 709 348 372 75 13		\$8.46 \$21.15 \$42.30 \$67.68 \$135.36 \$211.50 \$423.00	\$24.432 \$14,995 \$14,720 \$25.177 \$10.152 \$2,750 \$5,499
18 19 20	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	4.418 368	69,183 69,183 15,659	\$2.40	\$166,039 \$270,325 \$61.19	4,418	66,485 66,485 15,049	\$1.76	\$117,014 \$214,739 \$48.61

142

143

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LEE / LEHIGH

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 21 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences									
between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.									
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	

Lina	_	1996 PR	OJECTED FINAL (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No	Class/Meter Size	Consu	mption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
21 22 23 24 25 26	FIRE PROTECTION 4" 6" 8" 10" Gallonage Charge/MG	79 39 25 3	\$75.23 \$150.45 \$240.72 \$346.04	\$5.943 \$5.868 \$6.018 \$1.038	79 39 25 3		\$17.63 \$35.25 \$56.40 \$81.08	\$1,393 \$1,375 \$1,410 \$243
27 28 29	All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	146 12	0.000 \$0.00	\$18.867 \$129.23	146 12	0.000	\$0.00	\$0 \$4,421 \$30.28
30 31 32 33	TOTAL ANNUALIZED SALES R UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	EVENUES 3/		\$2,033,516 \$0 \$56,150 \$2,089,666				\$1,647,755 \$0 \$56,150 \$1,703,905

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

Company: SSU/ST. JOHN / PALM VALLEY

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E2-1 Page 22 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1996 PROJECTED FINAL (PRESENT RATES) 1/ 1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/								
Line <u>No.</u>	Class/Meter_Size	<u>c</u>	onsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1	RESIDENTIAL									
2	5/8"x3/4"	2,329		\$9.35	\$21,776	2,329		\$B,46	\$19,703	
3	Full 3/4"	12		\$9.35	\$112	12		\$12.69	\$152	
4	1"	81		\$9.35	\$757	81		\$21.15	\$1,713	
5	2"	12		\$9.35	\$112	12		\$67.68	\$812	
6	Gallonage Charge/MG									
7	0- 3000		5.787	\$0.00	\$ 0					
8	3001-All excess		14,027	\$ 0.94	\$13,185 All Gallonage		18,367	\$1.76	\$32,326	
9	Total RESIDENTIAL	2,434	19,814		\$35,942	2.434	18,367		\$54,706	
10	Ave cust/cons/bill/mth	203	8.141		\$14.77	203	7.546		\$22.4B	
11	COMMERCIAL									
12	5/8"x3/4"	73		\$9.35	\$683	73		\$8.46	\$618	
13	2"	73 12		\$9.35	\$112	73 12	,	\$67.68	\$812	
14	Gallonage Charge/MG									
15	0- 3000		215	\$0.00	\$0					
16	3001-All excess		1,273	\$0.94	\$1,197 All Gallonage		1,430	\$1.76	\$2,517	
17	Total COMMERCIAL	85	1,488		\$1,992	85	1,430		\$3,947	
18	Ave cust/cons/bill/mth	7	17.506		\$23.44	7	16.824		\$46.44	

14

COMPANY: SSU/ST. JOHN / PALM VALLEY

SCHEDULE: E2-1 Page 23 of 36 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (3)

		1996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINA	AL (PROPOSED FINAL RATES) 2	<i>y</i>
<u>No.</u>	Class/Meter Size	Consumption(MG)	Revenues	Bills Consump	otion(MG) Rate Re	evenues
19	TOTAL ANNUALIZED SALES REV	'ENUES 3/	\$37,934			\$58,653
20	UNBILLED REVENUE		\$0			\$0
21	OTHER REVENUE 4/		\$1,165			\$1,165
22	TOTAL REVENUES		\$3 9,099			\$59.818

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPDSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ST. JOHN / REMINGTON FOREST

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1
Page 24 of 36
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences										
between these revenues and booked revenues.	If a rate	change occured du	ring the test yea	<u>ir, a revenue calculation mu</u>	ist be made	for each	h period.			
(1) (2)	(3)	(4)	(5)	(7)	(8)		(9)	(10)		

		1	996 PROJECTED FINAL	. (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	_8i11s	Consumption(MG)	Rate	Revenues	
1 2	RESIDENTIAL 5/B"x3/4"	1.036		\$20.30	\$21.031	1,036		\$8.46	\$8,765	
3	1"	8		\$20.30	\$162	8		\$21.15	\$169	
4	Gallonage Charge/MG									
5	All Gallonage		7.868	\$0.00	<u> </u>		7.293	\$1.76	<u>\$12.836</u>	
6	Total RESIDENTIAL	1.044	7,868		\$21,193	1.044	7,293		\$21,770	
7	Ave cust/cons/bill/mth	87	7.536		\$20.30	87	6.986		\$20.85	
8	TOTAL ANNUALIZEO SALES	REVENUES 3/			\$21.193				\$21,770	
9	UNBILLED REVENUE				\$0				\$0	
10	OTHER REVENUE 4/				\$400				\$400	
11	TOTAL REVENUES				\$21,593				\$22,170	

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF MATER REVENUE AT PRESENT AND PROPOSEO RATES Calculation of Annualized Sales Revenues

Company: SSU/CITRUS / SPRING GARDENS

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 25 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calcu	ilation of revenu	ies at present ai	nd proposed rate:	s using the bil	ling analysis. Explain any d	i fference	es :		
between these revenues and b	ooked revenues.	If a rate chan	ge occured during	g the test year	, a revenue calculation must	be made	for each	period.	
(1)	(2)	(3)	(4)	(5)	(7)	(8)		(9)	(10)
	1996	PROJECTED FINA	(PRESENT RATES)) 1/	1996 PROJECTED	FINAL (P	ROPOSED	FINAL RATES)	2/

Line		1996	PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
No.	Class/Meter Size	<u>Ca</u>	nsumption(MG)		Revenues	Bills	Consumption(NG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	1,565		\$6.88	\$ 10.767	1,565		\$8.46	\$13,240
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1.565	6,522 6,522 4,167	\$1.03	\$6.718 \$17.485 \$11.17	1,565 130	6,046 6,046 3,8 6 3	\$1.76	\$10,641 \$23,881 \$15.26
U	Ave cust/cons/billi/mth	130	4,107		\$11.17	130	3.003		\$13.20
7 8	COMMERCIAL 5/8"x3/4"	12		* C 00	¢ 00	12		40.46	¢110
9	2"	13 26		\$6.88 \$55.04	\$89 \$1,431	13 26		\$8.46 \$67.68	\$110 \$1,760
10	Gallonage Charge/MG		011	41.00	*000		076	41.76	
11 12	All Gallonage Total COMMERCIAL	39	911 911	\$1.03	\$938 \$2,458	39	876 876	\$1.76	\$1,542 \$3,412
13	Ave cust/cons/bill/mth	3	23,359		\$63.03	39	22.462		\$87.49
14 15	TOTAL ANNUALIZED SALES I	REVENUES 3/			\$19,943				\$27,293
16	OTHER REVENUE 4/				\$0 \$1,785				\$0 \$1.785
17	TOTAL REVENUES				\$21,728				\$29,078

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb. PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LAKE / VALENCIA TERRACE

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E2-1 Page 26 of 36 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1996	PROJECTED F1NA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line No.	Class/Meter Size	Cor	nsumption(MG)		Revenues	8ills_	Consumption(MG)	Rate	Revenues		
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	4.237 4.237 353	24.760 24.760 5.844	\$6.39 \$0.67	\$27.074 \$16,589 \$43,663 \$10.31	4.237 4.237 353	22,952 22,952 5,417	\$8.46 \$1.76	\$35,845 \$40,396 \$76,241 \$17,99		
7 8 9 10 11 12	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG	45 72 13 13		\$6.39 \$15.99 \$31.96 \$51.14	\$288 \$1.151 \$415 \$665	45 72 13 13		\$8.46 \$21.15 \$42.30 \$67.68	\$381 \$1,523 \$550 \$880		
13 14 15	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth _	143	1,673 1,673 11,699	\$0.67	\$1,121 \$3,640 \$25.45	143 12	1,607 1,607 11,238	\$1.76	\$2,828 \$6,162 \$43.09		
16 17 18 19	TOTAL ANNUALIZED SALES R UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	EVENUES 3/			\$47.303 \$0 \$165 \$47.468				\$82,403 \$0 \$165 \$82,568		

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / GIBSONIA ESTATES

Docket No.: 950495-WS

Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 27 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

13		1996	PROJECTED FINAL	(PRESENT	RATES) 1/	ED FINAL RATES) 2/			
Line <u>No.</u>	Class/Meter Size	Cos	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7 8	RESIDENTIAL 5/8"x3/4" 1" 2" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1,71B 40 13 1,771 148	12,510 12,510 7,064	\$4.48 \$4.48 \$4.48 \$0.54	\$7,697 \$179 \$58 \$6,755 \$14,689 \$8.29	1,718 40 13 	11,597 11,597 6.548	\$8.46 \$21.15 \$67.68 \$1.76	\$14,534 \$846 \$880 \$20,411 \$36,671 \$20,71
9 10 11 12 13 14 15	COMMERCIAL 5/8"x3/4" 1" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	228 50 278 23	1,794 1,794 6,453	\$4.48 \$4.48 \$0.54	\$1,021 \$224 \$969 \$2,214 \$7.96	228 50 ———————————————————————————————————	$ \begin{array}{r} $	\$8.46 \$21.15 \$1.76	\$1,929 \$1,058
16 17 18 19	TOTAL ANNUALIZEO SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/			\$16.903 \$0 \$745 \$17.648				\$42,692 \$0 \$745 \$43,437

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb. PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPDSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / HERSHEL HEIGHTS

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Dsmosis[]

SCHEDULE: E2-1 Page 28 of 36 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

14		1996 PROJECTED FINAL (PRESENT RATES) 1/				1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	Con	sumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5	RESIDENTIAL 5/B"x3/4" 1" Gallonage Charge/MG All Gallonage	3.590 53	27,762	\$2.60 \$6.50 \$1.11	\$9,334 \$345 \$33,404	3,590 53	25,73 <u>5</u>	\$8.46 \$21.15 \$1.76	\$30.371 \$1.121 \$45.294	
6 7	Total RESIDENTIAL Ave cust/cons/bill/mth	3,643 304	27,762 7.621		\$43,083 \$11.83	3,643 304	25,735 7.064		\$76,786 \$21.08	
8 9 10 11 12 13 14 15	COMMERCIAL 5/8"x3/4" 1" 2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	84 60 48 ———————————————————————————————————	3.696 3.696 19.250	\$2.60 \$6.50 \$20.80 \$1.11	\$218 \$390 \$998 \$5,255 \$6,861 \$35,73	84 60 48 	3,552 3,552 18,500	\$8.46 \$21.15 \$67.68 \$1.76	\$711 \$1,269 \$3,249 \$6,252 \$11,481 \$59,80	
16 17 18 19	TOTAL ANNUALIZED SALES I UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/			\$49,944 \$0 \$1,065 \$51,009				\$88.267 \$0 \$1.065 \$89,332	

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues $% \left(1\right) =\left\{ 1\right\}$

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 29 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

ldes		199	6 PROJECTED FINAL	(PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
L1ne No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7 8 9	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 2" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	9,187 41 24 12 9,264 772	70,049 70,049 7,561	\$5.89 \$5.89 \$5.89 \$5.89 \$5.89	\$54,111 \$241 \$141 \$71 \$59,542 \$114,106 \$12.32	9.187 41 24 12 9.264 772	64,936 64,936 7,009	\$8.46 \$12.69 \$21.15 \$67.68 \$1.76	\$77,722 \$520 \$508 \$812 \$114,287 \$193,849 \$20.92
10 11 12 13 14 15 16	COMMERCIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/NG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	118 12 12 12	1,073 1,073 7,556	\$5.89 \$5.89 \$5.89 \$5.89	\$695 \$71 \$71 \$912 \$1,749 \$12.32	118 12 12 12 ———————————————————————————	$ \begin{array}{r} 1.031 \\ \hline 1.031 \\ \hline 7.261 \end{array} $	\$8.46 \$21.15 \$42.30 \$1.76	\$998 \$254 \$508 \$1,815 \$3,575 \$25,18

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

SCHEDULE: E2-1 Page 30 of 36 Preparer: Bencini

Historical[] Projected[x]

Supporting Schedules: E1-1, E-13

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (3) (1) (2) (4) (5) (7) (10)

	1996 PI	PROJECTED FINAL (PRESENT RATES) 1/	1996 PROJECTED FI	(NAL (PROPOSED FINAL RATES) 2/
Line <u>No.</u>	Class/Heter Size Const	sumption(MG) Revenues	<u>Bills</u> Consu	umption(HG) Rate Revenues
18 19 20	TOTAL ANNUALIZED SALES REVENUES 3/ UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	\$115.85 \$1 \$4.43 \$120.29	0 <u>5</u>	\$197,424 \$0 <u>\$4,435</u> \$201,859

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb. PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 B-4 schedule for detail of other revenue.

S

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / ORANGE HILL/SUGAR CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1 Page 31 of 36 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		19	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Heter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	_Rate	Revenues	
1 2 2	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	2.814		\$8.15	\$22.934	2.814		\$8.46	\$23,806	
5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	2,814 235	18.141 18.141 6.447	\$1.20	\$21,769 \$44,703 \$15.89	2.814 235	16.817 16.817 5.976	\$1.76	\$29,598 \$53,404 \$18.98	
7 8 9 10	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	revenues 3/			\$44,703 \$0 \$820 \$45,523				\$53,404 \$0 \$820 \$54,224	

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John 8. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final(x)

SCHEDULE: E2-1 Page 32 of 36 Preparer: Bencini

Historical[] Projected[x]

Supporting Schedules: E1-1, E-13

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (3) (4) (5) (8) (9) (10)

		19	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3	RESIDENTIAL 5/B"x3/4" Gallonage Charge/MG	30,535		\$9.09	\$277,563	30,535		\$8.46	\$258.326	
4	All Gallonage	20 505	216,258	\$1.54	\$350,436		200.472	\$1.76	\$352,831	
6	Total RESIDENTIAL Ave cust/cons/bill/mth	30,535 2,545	216,258 7.082		\$627,999 \$20.57	30,535 2,545	200,472 6.565		\$611,157 \$20.01	
7	MULT1-FAMILY									
8	1 1/2"	12		\$45.45	\$ 545	12		\$42.30	\$508	
9	2"	12		\$72.72	\$873	12		\$67.68	\$812	
10	Gallonage Charge/MG									
11	All Gallonage		23,641	\$ 1.54	<u>\$47,181</u>		23,640	\$1.76	\$41,606	
12	Total MULTI-FAMILY	24	23,641		\$48.599	24	23,640		\$42,926	
13	Ave cust/cons/bill/mth	2	985.042		\$2,024.96	2	985.000		\$1,788.58	

152

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[1 FPSC Non-uniform[1 FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1

Page 33 of 36

Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

1996 PROJECTED FINAL (PRESENT RATES) 1/ 1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/ Line No. Class/Meter Size Consumption(MG) Revenues Bills Consumption(MG) Rate Revenues 14 COMMERCIAL 15 5/8"x3/4" 493 \$9.09 \$4,481 493 \$8.46 \$4.171 24 \$22.73 \$546 \$21.15 \$508 16 24 17 1 1/2" 106 \$45.45 \$4.818 106 \$42.30 \$4.484 18 2" 63 \$72.72 \$4,264 \$4.581 63 \$67.68 19 3" 24 \$3.272 24 \$135.36 \$3.249 \$136.35 20 Gallonage Charge/MG 21 All Gallonage 21.296 \$1.54 \$1.76 \$40.908 20.466 \$36,020 Total COMMERCIAL 710 21.296 \$58,606 710 20.466 \$52,696 Ave cust/cons/bill/mth 29.994 \$82.54 28.825 \$74.22 TOTAL ANNUALIZED SALES REVENUES 3/ \$735,204 \$706,779 25 UNBILLED REVENUE \$0 \$0 OTHER REVENUE 4/ \$25,360 \$25,360 TOTAL REVENUES \$760.564 \$732,139

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

Company: SSU/HERNANDO / SPRING HILL

SCHEDULE: E2-1 Page 34 of 36 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Supporting Schedules: E1-1, E-13

(10)

Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

Line	-	19	996 PROJECTED F1NA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size		Consumption(MG)		Revenues	<u>8ills</u>	Consumption(MG)	Rate	Revenues	
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2"	286,058 51 17,402 54		\$5.05 \$7.58 \$12.63 \$25.25	\$1,444,593 \$387 \$219,787 \$1,364	286,058 51 17,402 54		\$8.46 \$12.69 \$21.15 \$42.30	\$2,420,051 \$647 \$368,052 \$2,284	
6 7	2" Gallonage Charge/MG All Gallonage	35	3,141,379	\$40.40 \$1.21	\$1,414 \$3,801,069	35	2,912,058	\$67.68 \$1.76	\$2,369 \$5,125,222	
9 10	Total RESIDENTIAL Ave cust/cons/bill/mth	303,600 25,300	3,141,379 3,141,379 10,347	\$1.21	\$5,468,614 \$18.01	303.600 25.300	2,912,058 2,912,058 9,592	\$1.76	\$7.918,625 \$26.08	
11	COMMERCIAL 5/8"x3/4"	4 054		#E 0E	¢25 010	4.054		#0 AC	441 011	
12 13 14	1" 1 1/2"	4,954 1,188 139		\$5.05 \$12.63 \$25.25	\$25,018 \$15,004 \$3,510	4,954 1,188 139	,	\$8.46 \$21.15 \$42.30	\$41,911 \$25,126 \$5,880	
15 16 17	2" 3" 6"	565 31 33		\$40.40 \$80.80 \$252.50	\$22,826 \$2,505 \$8,333	565 31 33		\$67.68 \$135.36 \$423.00	\$38,239 \$4,196 \$13,959	
18 19 20	Gallonage Charge/MG All Gallonage Total COMMERCIAL	6.910	150.931 150.931	\$1.21	\$182,627		145,045	\$1.76	\$255,279	
21	Ave cust/cons/bill/mth	576	21.842		\$259,823 \$37.60	6,910 576	145.045 20.991		\$384,590 \$55.66	

5

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

31 TOTAL REVENUES

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E2-1
Page 35 of 36
Preparer: Bencini

Supporting Schedules: E1-1, E-13

\$8,407,580

betwee	en these revenues and booked		If a rate change	e occured	during the test year	, a revenue calculation (must_be made for eac	h period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
Line		1996	PROJECTED FINAL	(PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPOSED	FINAL RATES	S) 2/
No.	Class/Meter Size	Con	sumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
22	EMERG, STAND-BY								
23	5/B"x3/4"	0		\$0.00	\$0	0		\$0.00	\$0
24	Gallonage Charge/MG		•	41 01	**				
25 26	All Gallonage Total EMERG. STANO-BY		<u></u>	\$1.21	*0		<u>0</u>	\$1.76	\$0
27	Ave cust/cons/bill/mth				30	0			
28	TOTAL ANNUALIZED SALES REVE	NUES 3/			\$ 5,728,43 7				\$B.303.215
29	UNBILLED REVENUE				\$0				\$0
30	OTHER REVENUE 4/				\$104,365				\$104,365

\$5.B32.802

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John 8. Whitcomb, PH.O., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / VALRICO HILLS

Docket No · 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final(x)

Historical() Projected(x)

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional(x) Reverse Osmosis()

Page 36 of 36 Preparer: Bencini

SCHEDULE: E2-1

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (2) (3) (4) (5) (B) (9)

	1996 PROJECTED FINAL (PRES				RATES) 1/	1996 PROJE	CTED F1NAL (PROPOSED	FINAL RATES	i) <u>2/</u>
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	4,260		\$9.50	\$40.470	4.260		\$8.46	\$36,040
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	4.260 355	33,190 33,190 7,791	\$0.60	\$19,914 \$60.384 \$14.17	4.260 355	30.767 30.767 7.222	\$1.76	\$54,150 \$90,190 \$21.17
7 8 9 10	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/			\$60.384 \$0 \$1,665 \$62,049				\$90,190 \$0 \$1,665 \$91,855

^{1/} Present rates wary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

Company: SSU/ Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	Service	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN96	104,977	149	2.544	57	1,70B	109.435	
2	FEB96	106,017	149	2,578	5 <i>7</i>	1,711	110,512	
3	MAR96	106.351	147	2,575	57	1,742	110,B72	
4	APR96	106,942	148	2.609	56	1,7B9	111.544	
5	MAY96	105,942	148	2,581	56	1,822	110,549	
6	JUN96	107,284	150	2,614	56	1,850	111,954	
7	JUL96	106,373	151	2,600	56	1.871	111,051	
8	AUG96	107,962	150	2,588	56	1,859	112,615	
9	SEP96	106,687	150	2,533	57	1,867	111,294	
10	OCT96	108,213	150	2,557	58	1,857	112,835	
11	NOV96	107,160	150	2,576	58	1.835	111,779	
12	DEC96	108,238	150	2,665	57	1.833	<u>112,943</u>	
13	<u>TOTAL</u>	1,282,146	1,792	31,020	681	21,744	1,337,383	
14	MTH. AVE	106,846	149	2.585	57	1,812	111,449	

FPSC

SCHEDULE: E-3

Page 1 of 20

Preparer: Bencini

 $^{1/\ \}mbox{Includes Irrigation, Public Authority and Raw Water.}$

Company: SSU/ FPSC Jurisdiction/ Present Uniform - (excluding Burnt Store)

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3
Page 2 of 20
Preparer: Bencini

FPSC

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line No.	Month/ Year	Residential	Multi-Family	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>
1	JAN96	56,405	76	1.382	45	3	57,911
2	FEB96	56,346	76	1,376	45	3	57 .84 6
3	MAR96	56,896	74	1,374	44	3	58,391
4	APR96	57.074	75	1.389	44	3	58.585
5	MAY96	57,181	75	1,393	44	3	58,696
6	JUN96	57,328	77	1.398	44	3	58,850
7	JUL96	57,531	77	1,407	44	3	59,062
8	AUG96	57,818	77	1,385	44	3	59,327
9	SEP96	57,738	77	1,374	44	3	59,236
10	OCT96	58,020	77	1.371	44	3	59,515
11	NOV96	58,011	77	1,424	44	3	59,559
12	DEC96	57,993	77	1,473	44	3	<u>59,590</u>
13	<u>TOTAL</u>	688,341	915	16.746	530	36	706.568
14	MTH. AVE	57,362	76	1,396	44	3	58,881

 $[\]ensuremath{\mathsf{I/r}}$ Includes Irrigation, Public Authority, and Special Contracts.

FPSC

Company: SSU/OSCEOLA /BUENAVENTURA LAKES(PENDING ACQUISITION)

SCHEDULE: E-3
Page 3 of 20
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (<u>List)</u> 1/	<u>Total</u>	
1	JAN96	7,436	0	86	0	1,705	9,227	
2	FEB96	7.209	0	85	0	1,708	9.002	
3	MAR96	7.245	0	88	0	1,739	9.072	
4	APR96	7,217	0	88	0	1.786	9.091	
5	MAY96	7,209	0	87	0	1.819	9.115	
6	JUN96	7.208	0	87	0	1.847	9.142	
7	JUL96	7,226	0	87	0	1.868	9, 1 81	
8	AUG96	7,261	0	90	0	1,856	9.207	
9	SEP96	7,282	0	92	0	1,864	9.2 3 8	
10	0CT96	7,304	0	93	0	1,854	9,251	
11	NOV96	7,350	0	9 3	0	1.832	9,275	
12	DEC96	7,381	0	93	0	1.830	9,304	
13	TOTAL	87.328	0	1.069	0	21,708	110.105	
14	MTH. AVE	7,277	0	89	0	1,809	9,175	

^{1/} Includes Irrigation, Public Authority and Raw Water.

(7)

(6)

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

SCHEDULE: E-3 Page 4 of 20 Preparer: Bencini

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (3)

Line No.	Month/ Year	<u>Residential</u>	Multi-Family Dwelling	General <u>Service</u>	Private Fire Protection	Other (List) 1/	<u>Total</u>
1	JAN96	3,037	68	37	0	0	3,142
2	FEB96	3.000	68	36	0	0	3.104
3	MAR96	3,039	68	36	0	0	3.143
4	APR96	3,058	68	36	0	0	3,162
5	MAY96	3,066	68	36	0	0	3.170
6	JUN96	3.085	68	36	0	0	3.189
7	JUL96	3,103	69	37	0	0	3,209
8	AUG96	3,112	68	37	0	0	3,217
9	SEP96	3,081	68	36	0	0	3,185
10	OCT96	3,117	68	36	0	0	3,221
11	NOV96	3,109	68	36	0	0	3,213
12	DEC96	3,126	68	36	0	0	3.230
13	<u>TOTAL</u>	36,933	817	435	0	0	38,185
14	MTH. AVE	3,078	68	36	0	0	3,182

(4)

(5)

^{1/} Includes Irrigation, Public Authority and Raw Water.

163

Schedule of Water Customer Monthly Billing - 1996

FPSC

Company: SSU/VOLUSIA /ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/96

Water [x] Wastewater []
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3
Page 5 of 20
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (2) (4) (5) (6) (7) (3) (1) Line Month/ Multi-Family General Private Fire Other | Dwelling Protection (List) 1/ No. Service Total Year Residential 232 0 236 JAN96 1 237 233 2 FEB96 238 234 3 MAR96 239 235 APR96 MAY96 241 245 245 JUN96 241 243 247 JUL96 AUG96 240 244 9 SEP96 241 245 0 247 10 0CT96 243 248 11 NOV96 244 0 0 242 0 246 12 DEC96 2,869 2.917 13 TOTAL 239 243 MTH, AVE 14

 $^{1/\ \}mbox{Includes lrrigation}, \mbox{Public Authority and Raw Water}.$

Company: SSU/BRADFORD /GENEVA LAKE ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

164

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3
Page 6 of 20
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

Explanati	on: Provide a s	chequie of monthi	y customers billed	or served by	Class.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN96	88	3	1	0	0	92	
2	FEB96	88	3	1	0	0	92	
3	MAR96	92	3	1	0	0	96	
4	APR96	92	3	1	0	0	96	
5	MAY96	93	3	1	0	0	97	
6	JUN96	88	3	1	0	0	92	
7	JUL96	86	3	1	0	0	90	
8	AUG96	91	3	1	0	0	95	
9	SEP96	86	3	1	0	0	90	
10	OCT96	87	3	1	0	0	91	
11	NOV96	86	3	1	0	0	90	
12	DEC96	87	3	1	0	0	91	
13	TOTAL	1,064	36	. 12	0	0	1,112	
14	MTH. AVE	89	3	1	0	0	93	

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/BRADFORD /KEYSTONE CLUB ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Interim(] Final(x)

<u>6</u>5

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3
Page 7 of 20

Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	J AN 96	162	0	0	0	0	162	
2	FEB96	163	0	0	0	0	163	
3	MAR96	162	O	0	0	0	162	
4	APR96	162	0	0	0	0	162	
5	MAY96	161	0	0	0	0	161	
6	JUN96	162	0	0	0	0	162	
7	JUL96	167	0	0	0	0	167	
8	AUG96	162	0	0	0	0	162	
9	SEP96	158	0	0	0	0	158	
10	0CT96	162	0	0	0	0	162	
11	NOV96	162	0	0	0	0	162	
12	DEC96	164	0	0	0	0	164	
13	TOTAL.	1.947	0	0	0	0	1.947	
14	MTH. AVE	162	0	0	0	0	162	

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/CITRUS /LAKESIDE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final(x) Historical[] Projected[x]

166

SCHEDULE: E-3 Page 8 of 20 Preparer: Bencini

Present: FPSC Uniform[] FPSC Non-uniform[x] Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ <u>Year</u>	Residential	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
1	JAN96	86	0	0	0	0	86	
2	FEB96	86	0	0	0	0	86	
3	MAR96	86	0	0	0	0	86	
4	APR96	86	0	0	0	0	86	
5	MAY96	86	0	0	0	0	86	
6	J un 96	86	0	0	0	0	86	
7	JUL96	86	0	0	0	0	86	
8	AUG96	86	0	0	0	0	86	
9	SEP96	86	0	0	0	0	86	
10	0CT96	86	0	0	0	0	86	
11	NOV96	86	0	0	0 -	0	86	
12	DEC96	86	0	0	0	0	86	
13	<u>TOTAL</u>	1,032	0	0	0	0	1,032	
14	MTH. AVE	86	0	0	0	0	86	

^{1/} Includes Irrigation, Public Authority and Raw Water.

9

10

11

12

13

14

Schedule of Water Customer Monthly Billing - 1996

FPSC

(7)

9.042

9,061

9,073

9,036

108,955

9.080

Company: SSU/LEE /LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []

Page 9 of 20 Preparer: Bencini

SCHEDULE: E-3

Interim[] Final[x]

Historical[] Projected[x]

(1)

SEP96

0CT96

NOV96

DEC96

TOTAL

MTH. AVE

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

(3)

(2)

Multi-Family Line Month/ General Private Fire **Other** Dwelling No. Year Residential Service Protection (List) 1/ Total JAN96 8,490 359 12 0 8.861 2 FEB96 8.742 0 372 12 0 9,126 3 MAR96 9,283 391 13 0 9,687 APR96 8,681 363 12 9,056 5 MAY96 8,626 359 12 8,997 6 JUN96 8,642 360 12 9.014 7 JUL96 8,597 364 12 8,973 8 AUG96 8.647 370 12 9.029

372

370

370

368

4,418

368

0

0

(4)

(5)

13

14

14

13

151

13

(6)

NOTE: May not tie to other schedules due to monthly rounding.

8,657

8,677

8,689

8,655

104,386

8,699

1/ Includes Irrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /PALM VALLEY

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3
Page 10 of 20
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	<u>Residential</u>	Multi-Family	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
1	JAN96	202	0	7	0	0	209	
2	FEB96	198	0	7	0	0	205	
3	MAR96	199	0	7	0	0	206	
4	APR96	201	0	7	0	0	208	
5	MAY96	207	0	7	0	0	214	
6	JUN96	201	0	7	0	0	208	
7	JUL96	204	0	7	0	0	211	
8	AUG96	205	0	7	0	0	212	
9	SEP96	204	0	7	0	0	211	
10	0CT96	206	0	7	0	0	213	
11	NOV96	208	0	7	0	0	215	
12	DEC96	203	0	7	0	0	210	
13	<u>TOTAL</u>	2,438	0	84	0	0	2,522	
14	MTH. AVE	203	0	7	0	0	210	

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /REMINGTON FOREST

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected(x)

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

FPSC

SCHEDULE: E-3
Page 11 of 20
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN96	84	0	0	0	. 0	84	
2	FEB96	83	0	0	0	0	83	
3	MAR96	83	0	0	0	0	83	
4	APR96	79	0	0	0	0	79	
5	MAY96	83	0	0	0	0	В3	
6	JUN96	87	0	0	0	0	87	
7	JUL96	88	0	0	0	0	88	
8	AUG96	89	0	0	0	0	8 9	
9	SEP96	89	C	0	0	0	89	
10	OCT96	91	0	0	0	0	91	
11	NOV96	94	0	0	0	0	94	
12	DEC96	95	0	0	0	0	<u>95</u>	
13	TOTAL	1,045	0	0	0	0	1,045	
14	MTH. AVE	87	0	0	0		87	

^{1/} Includes Irrigation, Public Authority and Raw Water.

9

10

11

12

13

14

SEP96

0CT96

NOV96

DEC96

TOTAL

MTH. AVE

Schedule of Water Customer Monthly Billing - 1996

Company: SSU/CITRUS /SPRING GARDENS

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

FPSC

133

132

133

135

134

1,602

SCHEDULE: E-3 Page 12 of 20 Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (2) (6) (7) (1) (3) (4) (5) Line Month/ Multi-Family General Private Fire Other No. Residential Dwelling Year Service Protection (List) 1/ Total JAN96 131 3 134 0 134 FEB96 131 3 131 134 MAR96 APR96 132 135 MAY96 131 134 JUN96 130 133 132 JUL96 129 8 133 AUG96 130

3

3

3

0

0

0

0

NOTE: May not tie to other schedules due to monthly rounding.

130

129

130

132

1,566

131

^{1/} Includes Irrigation, Public Authority and Raw Water.

FPSC

Company: SSU/LAKE /VALENCIA TERRACE

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]
Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3 Page 13 of 20

Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (3) (4) (5) (6) (7) Line Month/ Multi-Family General Private Fire Other Protection No. Year Residential Dwelling Service (List) 1/ Total JAN96 353 0 1 0 11 0 364 2 FEB96 352 0 10 0 0 362 3 MAR96 0 0 353 11 0 364 APR96 0 0 353 12 365 MAY96 353 0 12 0 365 JUN96 352 12 364 JUL96 352 13 **3**65 8 AUG96 353 13 366 9 SEP96 353 13 366 10 0CT96 353 13 0 366 11 NOV96 353 13 0 0 366 353 12 13 DEC96 0 366 13 **TOTAL** 4,233 4,379 146 MTH. AVE 14 353 12 365

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

SCHEDULE: E-3
Page 14 of 20

Preparer: Bencini

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line No.	Month/ Year	Residential	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>
1	JAN96	5	0	0	0	0	5
2	FEB96	140	0	23	0	0	163
3	MAR96	1	0	0	0	0	1
4	APR96	143	0	23	0	0	166
5	MAY96	·7	0	0	0	0	7
6	JUN96	147	0	23	0	0	170
7	JUL96	4	0	0	0	0	4
8	AUG96	146	0	23	0	0	169
9	SEP96	1	0	1	0	0	2
10	OCT96	146	0	23	0	0	169
11	NOV96	2	0	0	0	0	2
12	DEC96	141	0	23	0	0	<u> 164</u>
13	TOTAL	883	0	139	0	0	1.022
14	MTH. AVE	74	0	12	0	0	85

NOTE: May not tie to other schedules due to monthly rounding.

This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

FPSC

320

COMPANY: SSU/HILLSBOROUGH /HERSHEL HEIGHTS

SCHEDULE: E-3 Page 15 of 20 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform() FPSC Non-uniform() FPSC Non-jurisdiction(x)

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (3) (4) (5) (6) (7) Line Month/ Multi-Family General Private Fire Other No. Year Residential Dwelling Service Protection (List) 1/ Total 1 JAN96 305 0 16 321 2 FEB96 303 0 16 319 3 MAR96 304 16 320 APR96 302 16 318 MAY96 301 16 317 JUN96 304 16 320 JUL96 305 16 321 AUG96 308 16 324 9 SEP96 303 16 319 10 OCT96 303 16 0 319 11 NOV96 304 0 16 0 320 12 304 16 320 DEC96 0 192 13 3.838 TOTAL 3,646 16 14 304

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

MTH, AVE

(7)

(6)

(5)

SCHEDULE: E-3
Page 16 of 20

Preparer: Bencini

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]

Historical[] Projected[x]

(1)

174

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

(2)

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

(3)

Multi-Family General Private Fire Other | Line Month/ No. Residential Dwelling Service Protection (List) 1/ Total Year 17 JAN96 17 0 2 FEB96 744 13 757 0 20 MAR96 20 767 APR96 754 13 12 MAY96 12 0 11 765 JUN96 754 JUL96 22 0 22 771 AUG96 760 11 SEP96 12 9 12 0 10 0CT96 762 11 773 11 NOV96 11 0 0 0 11 12 DEC96 764 0 11 775 4,632 4.702 13 TOTAL MTH. AVE 386 14

(4)

 ${\tt NOTE:}\ {\tt May}\ {\tt not}\ {\tt tie}\ {\tt to}\ {\tt other}\ {\tt schedules}\ {\tt due}\ {\tt to}\ {\tt monthly}\ {\tt rounding}.$

This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

FPSC

Company: SSU/POLK /ORANGE HILL/SUGAR CREEK

SCHEDULE: E-3 Page 17 of 20 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96

Water [x] Wastewater []

Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	Total	
	rear	ines racine ta t	DACTITIS	Jer vice	Trocection	((130) 1)	10001	
1	JAN96	5	0	0	0	0	5	
2	FEB96	2 3 1	0	0	0	. 0	231	
3	MAR96	3	0	0	0	0	3	
4	APR96	233	0	0	0	0	233	
5	MAY96	1	0	0	0	0	1	
6	JUN96	233	0	0	0	0	233	
7	JUL 9 6	2	0	0	0	0	2	
8	AUG96	233	0	0	0	0	233	
9	SEP96	5	0	0	0	0	5	
10	OCT96	231	0	0	0	0	231	
11	NOV96	1	0	0	0	0	1	
12	DEC96	231	0	0	0	0	231	
13	TOTAL	1.409	0	0	0	0	1,409	
14	MTH. AVE	117	0	0	0	0	117	

NOTE: May not tie to other schedules due to monthly rounding.

This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

(7)

(6)

(5)

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

SCHEDULE: E-3 Page 18 of 20

Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

(1) (2) (3) (4)

	\- <i>'</i>	ν=,	(3)		(0)	(3)	***
Line No.	Month/ <u>Year</u>	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>
1	JANOC	0.547	0	60	٥	•	0.611
1	JAN96	2,547	2	62	0	0	2,611
2	FEB96	2,536	2	61	0	0	2,599
3	MAR96	2, 5 58	2	62	0	0	2,622
4	APR96	2,555	2	61	0	0	2,618
5	MAY96	2,560	2	62	0	0	2.624
6	JUN96	2,555	2	62	0	0	2.619
7	JUL96	2,536	2	63	0	0	2,601
8	AUG96	2,546	2	60	0	0	2,608
9	SEP96	2,542	2	60	0	0	2.604
10	OCT96	2,543	2	53	0	0	2.598
11	N0V96	2,531	2	54	0	0	2,587
12	DEC96	2,523	2	54	0 .	0	2.579
							
13	TOTAL	30,532	24	714	0	0	31,270
14	MTH. AVE	2,544	2	60	0	0	2.606
▲ T	711111. 7311	2.011	L	00	U	U	2,000

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

FPSC

Company: SSU/HERNANDO /SPRING HILL

SCHEDULE: E-3
Page 19 of 20
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater []

Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class. (7) (1) (2) (3) (4) (5) (6) Line Month/ Multi-Family General Private Fire Other | No. Year Residential Dwelling Service Protection (List) 1/ Total JAN96 25.034 576 0 25.610 1 2 571 25,648 FEB96 25.077 3 MAR96 25.307 581 25,888 APR96 25,233 593 25.826 MAY96 25.267 602 25,869 593 6 JUN96 25.328 25,921 7 JUL96 25,334 597 25.931 8 AUG96 25.415 568 25.983 9 SEP96 555 25,922 25.367 10 0CT96 25.402 556 25.958 25,988 11 NOV96 25.432 556 Û Û 12 DEC96 25,405 0 563 25,968 13 TOTAL 303,601 6,911 310.512 25.876 MTH. AVE 25,300 576 14

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/HILLSBOROUGH /VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: Conventional[x] Reverse Osmosis[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
	<u></u>			301110			10001	
1	JAN96	357	0	0	0	0	357	
2	FEB96	353	0	0	0	0	353	
3	MAR96	354	0	0	0	0	354	
4	APR96	354	0	0	0	0	354	
5	MAY96	357	0	0	0	0	357	
6	JUN96	353	0	0	0	0	353	
7	JUL96	357	0	0	0	0	357	
8	AUG96	360	0	0	0	0	360	
9	SEP96	352	0	0	0	0	352	
10	OCT96	352	0	0	0	0	352	
11	NOV96	356	0	0	0	. 0	356	
12	DEC96	353	0	0	0	0	353	
13	<u>TOTAL</u>	4.258	0	0	0	0	4,258	
14	MTH. AVE	355	0	0	0	0	355	

FPSC

SCHEDULE: E-3

Page 20 of 20

Preparer: Bencini

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

,	(1)		(2) Present Rates 1/		(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection			\$15.00	N/A		
2	Normal Reconnection			\$15.00	N/A		
3	Violation Reconnection			\$15.00	N/A		
4	Premise Visit			\$10.00	N/A		
5	Return Check Charge			\$15.00 or 5% of the amo of the c whicher greater.	ount heck, ver is		

FPSC

Schedule E-4

Page 1 of 20

Preparer. Bencini

^{1/} Rates vary by plant. Please see following pages for detail.

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge		nount check, ever is	No Change	No Change

4

Company: SSU / Osceola / Buena Ventura Lakes (Pending Acquisition)

Schedule E-4 Page 3 of 20

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

	(2) Present Rates		(3) Proposed Rates		
During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
N/A	NA	\$15.00	No Change		
N/A	N/A	\$15.00	No Change		
N/A	N/A	\$15.00	No Change		
N/A	N/A	\$10.00	No Change		
N/A	N/A	the of	5% of No Change amount the check, ichever is		
	During Bus. Hours N/A N/A N/A	During After Bus. Hours N/A N/A N/A N/A N/A N/A N/A N/	During After During Bus. Hours Bus. Hours N/A N/A \$15.00 N/A N/A \$10.00 N/A N/A \$10.00		

Schedule E-4

Page 4 of 20

Preparer: Bencini

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present F	(2) Present Rates		(3) sed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amou of the che whicheve greater.	eck,	No Chang e	No Change

_

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1996

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water {x} Wasterwater {}
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Rat	ies		(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	\$15.00	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Return Check Charge	\$15.00 or 5% of the amount of the check, whichever is greater.		No Change	No Change		

FPSC

Schedule E-4

Page 5 of 20

Preparer: Benci

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

(1)		(2) Present Ra	(2) Present Rates		(3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amoun of the chec whichever greater.	ck,	No Change	No Change

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Schedule E-4
Page 7 of 20
Preparer: Bencini

	(1)		(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the am of the of whiche greater	ount :heck, ver is	No Change	No Change

Company: SSU / Citrus / Lakeside

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater [] Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

	(1)		(2) Present Rates		(3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amo of the ch whicheve greater.	unt neck,	No Change	No Change

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Schedule E-4
Page 9 of 20
Preparer: Bencini

(1)		Pres	(2) Present Rates		(3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	of th	rmount e check, hever is	No Change	No Change

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

	(1)	Pı	(2) Present Rates		3) ad Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	ol w	5% of N/A e amount the check, hichever is eater.	No Change	No Change

Schedule E-4

Page 11 of 20

Preparer: Bencini

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) ent Rates	(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	of the	mount e check, never is	No Change	No Change

Schedule E-4

Page 12 of 20

Preparer: Bencini

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present F	Rates	(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amou of the ch whicheve greater.	ınt eck,	No Change	No Change

Company: SSU / Lake / Valencia Terrace

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Westewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Schedule E-4 Page 13 of 20 Preparer: Bencini

(1)		(2) Present F	(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/ A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amou of the ch whicheve greater.	eck,	No Change	No Change

Schedule E-4

Page 14 of 20

Preparer: Bencini

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

(1)			(2) Present Rates		(3) Proposed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$10.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$10.00	N/A	\$15.00	No Change
4	Premise Visit	\$5.00	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.		or 5% of No Change the amount of the check, whichever is greater.

Schedule E-4
Page 15 of 20
Preparer: Bencini

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

	(1)		(2) Present Rates		(3) Proposed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N /A	\$15.00	No Change
3	Violation Reconnection	\$15.00	N/A	\$15.00	No Change
4	Premise Visit	\$7.50	N/A	\$10.00	No Change
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.		or 5% of No Change the amount of the check, whichever is greater.

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

(1)		(2) Present Rates		•	(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours		After Bus. Hours	During Bus. Hours		After Bus. Hours
1	Initial Connection	\$10.00		N/A	\$15.00		No Change
2	Normal Reconnection	\$10.00		N/A	\$15.00		No Change
3	Violation Reconnection	\$10.00		N/A	\$15.00		No Change
4	Premise Visit	\$5.00		N/A	\$10.00		No Change
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	\$15.00	or 5% of the amount of the check, whichever is greater.	No Change

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater []

Interim [] Final [x]
Historical [] Projected (x)

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

	(1)		(2) Present Rates	(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$10.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$10.00	N/A	\$15.00	No Chenge
4	Premise Visit	\$5.00	N /A	\$10.00	No Change
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	\$15.00 or 5% of the amount of the check, whichever is greater.	

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

	(1)	(2) Present		(3) Proposed Ra	tes
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$15.00	N/A	\$15.00	No Change
4	Premise Visit	\$7.50	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00	N/A	\$15.00 or 5% of the amount	
				of the check whichever is greater.	•

Schedule E-4
Page 19 of 20
Preparer: Bencini

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater []

Interim () Final [x]
Historical [) Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Rates		P	(3) roposed Rates		
Line No.	Type of Charge	During Bus. Hours		After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00		N/A	\$15.00	No Change	
2	Normal Reconnection	\$15.00		N/A	\$15.00	No Change	
3	Violation Reconnection	\$15.00		N/A	\$15.00	No Change	
4	Premise Visit	\$10.00		N/A	\$10.00	No Change	
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	•	or 5% of No Change the amount of the check, whichever is greater.	

197

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

(1)		(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$15.00	N/A	\$15.00	No Change
4	Premise Visit	\$7.50	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	\$15.00 or 5% of the amoun of the chec whichever greater.	* ,

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewaler [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-Jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			F	rojected 1996 Units				-	
Line				Projection				100011 11 11	(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	2/	16,392	1/	21,537	\$322,495	\$15	21,537	\$323,055
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	2/	4,935	1/	5,098	\$75,570	\$15	5,098	\$76,470
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	2/	8,401	1/	8,672	\$129,245	\$15	6,672	\$130,080
4.	Premise VIsit Charge (Includes Bus. Hours and After Bus. Hours)	2/	4,199	1/	4,334	\$42,765	\$10	4,334	\$43,340
5.	Return Check Charge	2/	2,281	1/	2,352	\$35,280	\$15	2,352	\$35,280

0

\$605,355

41,993

FPSC Schedule: E-5

\$15

\$0

\$608,225

0

41,993

Page 1 of 20

Preparer: Bencini

36,208

Note: Numbers may not cross foot due to rounding.

Other Charges

Note: Proposed 1996 units includes Buenaventura Lakes, a pending acquisition.

2/

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35% for FPSC Jurisdiction Pants and 2.73% for FPSC Non-Jurisdiction Plants.

^{2/} Rates vary by Plant. Refer to detail on the following schedules.

Company: SSU / FPSC Jurisdiction / Present Uniform (Excluding Burnt Store)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 2 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Pr	rojected 1996 Units Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	9,682	3.35%	10,008	\$150,120	\$15	10,008	\$150,120
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	2,925	3.35%	3,027	\$45,405	\$15	3,027	\$45,405
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	4,690	3.35%	4,853	\$ 72,795	\$15	4,853	\$72,795
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	2,876	3.35%	2,970	\$29,700	\$10	2,970	\$29,700
5.	Return Check Charge	\$15	1,275	3.35%	1,316	\$19,740	\$15	1,316	\$19,740
6.	Other Charges	\$15	0	3.35%	0	\$0	\$ 15	0	\$0
			21,448		22,174	\$317,760		22,174	\$317,760

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Oscools / Buenaventura Lakes (Pending Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 3 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			P	rojected 1996 Units					
Line				Projection					(1996 Final)
N o.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus, Hours and After Bus, Hours)	N/A	0	3.35%	4,622	\$69,330	\$15	4,622	\$69,330
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3,35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus, Hours and After Bus, Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			0		4,622	\$69,330		4,622	\$69,330

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Fector for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

202

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			P	rojected 1996 Units					
Line				Projection	·				(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	434	3.35%	449	\$6,735	\$15	449	\$6,735
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	229	3.35%	237	\$3,555	\$15	237	\$3,555
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	218	3.35%	225	\$3,375	\$15	225	\$3,375
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	200	3.35%	207	\$2,070	\$10	207	\$2,070
5.	Return Check Charge	\$15	100	3.35%	104	\$1,560	\$15	104	\$1,560
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			1,181		1,222	\$17,295		1,222	\$17,295

FPSC Schedule: E-5

Page 4 of 20

Preparer: Bencini

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Volueia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewaler [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable,

FPSC Schedule: E-5 Page 5 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
					-				
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	29	3.35%	30	\$450	\$15	30	\$450
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	17	3.35%	17	\$2 55	\$15	17	\$255
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	17	3.35%	17	\$255	\$15	17	\$255
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	5	3.35%	5	\$50	\$10	5	\$50
5.	Return Check Charge	\$15	7	3.35%	7	\$105	\$15	7	\$105
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			75		76	\$1,115		76	\$1,115

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

204

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional (X) Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			Pı	rojected 1996 Units				1100000	
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	17	3.35%	17	\$255	\$15	17	\$255
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	7	3.35%	7	\$105	\$15	7	\$105
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	6	3.35%	6	\$90	\$15	6	\$90
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	6	3,35%	6	\$60	\$10	6	\$60
5.	Return Check Charge	\$15	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			36		36	\$510		36	\$510

FPSC Schedule: E-5

Page 6 of 20

Preparer: Bencini

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater {} Interim {} Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional (X) Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 7 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	rojected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	35	3.35%	36	\$540	\$15	36	\$540
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	19	3.35%	19	\$285	\$15	19	\$285
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	9	3.35%	10	\$150	\$15	10	\$150
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	11	3.35%	12	\$120	\$10	12	\$120
5.	Return Check Charge	\$15	3	3.35%	3	\$45	\$15	3	\$45
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			77		80	\$1,140		80	\$1,140

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

206

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Citrus / Laixeside Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater []

Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 8 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(θ) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	Projected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1,	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	3	3.35%	3	\$45	\$15	3	\$45
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus, Hours and After Bus, Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			3		3	\$45		3	\$45

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross fool due to rounding.

Company: SSU / Lee / Lehigh
Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [X] Wastewater []
Interim [] Final [X]
Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 9 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	rojected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	1,693	3.35%	1,750	\$26,250	\$15	1,750	\$26,250
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	622	3.35%	643	\$9,645	\$15	643	\$9,645
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	727	3.35%	751	\$11,265	\$ 15	751	\$11,265
4,	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	545	3.35%	563	\$5,630	\$10	563	\$5,630
5.	Return Check Charge	\$ 15	217	3.35%	224	\$3,360	\$ 15	224	\$3,360
6.	Other Charges	\$15	0	3.35%	0	\$0	\$ 15	0	\$0
			3,804		3,931	\$56,150		3,931	\$56,150

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

208

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable,

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			Р	rojected 1996 Units					
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	30	3.35%	31	\$465	\$15	31	\$465
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	5	3.35%	5	\$ 75	\$15	5	\$ 75
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	12	3.35%	13	\$195	\$15	13	\$195
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	24	3.35%	25	\$250	\$10	25	\$250
5.	Return Check Charge	\$ 15	11	3.35%	12	\$180	\$15	12	\$180
6.	Other Charges	\$ 15	0	3.35%	0	\$0	\$15	0	\$0
			82		86	\$1,165		86	\$1,165

FPSC Schedule: E-5

Page 10 of 20

Preparer: Bencini

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis ()

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 11 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Pr	rojected 1996 Units Projection					(1996 Final)
N o.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	13	3.35%	14	\$210	\$15	14	\$210
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	10	3.35%	11	\$165	\$15	11	\$165
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	1	3.35%	1	\$15	\$ 15	1	\$15
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	1	3.35%	1	\$10	\$10	1	\$10
5.	Return Check Charge	\$15	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			25		27	\$400		27	\$400

^{1/} The number of units for miscalianeous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

21

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC
Schedule: E-5
Page 12 of 20
Preparer: Bencini

•	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(6) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	rojected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	115	3.35%	119	\$1,785	\$15	119	\$1,785
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	N/A	O	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	NA	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			115		119	\$1,785		119	\$1,785

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Laka / Valencia Terrace

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water (X) Wastewater () Interim [] Final [X] Historical [] Projected (X)

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 13 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	Projected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	11	3.35%	11	\$165	\$15	11	\$165
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$ 15	0	\$0
			11		11	\$165		11	\$165

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

212

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Р	rojected 1996 Units Projection		···· ·	_		(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus, Hours and After Bus, Hours)	\$10	21	2.73%	21	\$210	\$15	21	\$315
2.	Normal Reconnection (Includes Bus, Hours and After Bus, Hours)	\$10	32	2.73%	33	\$330	\$15	33	\$495
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	12	2.73%	13	\$130	\$15	13	\$195
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$5	2	2.73%	2	\$10	\$10	2	\$20
5.	Return Check Charge	\$15	6	2.73%	6	\$90	\$15	6	\$90
6.	Other Charges	\$0	0	2.73%	0	\$0	\$15	0	\$0
			73		75	\$770		75	\$1,115

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 15 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Р	rojected 1996 Units Projection					(1000 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rales	1996 Units 1/	(1996 Final) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	29	2.73%	30	\$ 450	\$ 15	30	\$450
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	10	2.73%	11	\$165	\$ 15	11	\$165
3.	Violation Reconnection (Includes Bus, Hours and After Bus, Hours)	\$15	24	2.73%	24	\$360	\$ 15	24	\$360
4.	Premise Visit Charge (Includes Bus, Hours and After Bus, Hours)	\$7.50	0	2.73%	0	\$0	\$10	0	\$0
5.	Return Check Charge	\$15	6	2.73%	6	\$90	\$15	6	\$90
6.	Other Charges	\$0	0	2.73%	0	\$0	\$ 15	0	\$0
			69		71	\$1,065		71	\$1,065

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross fool due to rounding.

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional (X) Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(8)	(7)	(8) Proposed	(9)
			P	rojected 1996 Units					
Line	Town of Change	Rates	1995 Units 1/	Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
No.	Type of Charge	rates	1995 UNIS 17	Pactor	1996 UNITS 17	Nevertues	паив	1990 UNIS 17	Neverlues

1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	81	2.73%	83	\$830	\$15	83	\$1,245
2.	Normal Reconnection	\$10	123	2.73%	127	\$1,270	\$15	127	\$1,905
	(Includes Bus. Hours and	***				V .,	• • • • • • • • • • • • • • • • • • • •		
	After Bus. Hours)								
3.	Violation Reconnection	\$10	111	2.73%	114	\$1,140	\$15	114	\$1,710
	(Includes Bus. Hours and After Bus. Hours)								
4.	Premise Visit Charge	\$5	90	2.73%	93	\$465	\$10	93	\$930
	(Includes Bus, Hours and After Bus, Hours)								
5 .	Return Check Charge	\$15	48	2.73%	50	\$750	\$15	50	\$750
8.	Other Charges	\$0	0	2.73%	0	\$0	\$15	0	\$0
			453		467	\$4,455		467	\$6,540

FPSC

Schedule: E-5 Page 16 of 20

Preparer: Bencini

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

Company: SSU / Polk / Orange Hill - Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 17 of 20 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
tine No.	Type of Charge	Rates	1995 Units 1/	Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	8	2.73%	8	\$80	\$15	8	\$120
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	20	2.73%	20	\$200	\$ 15	20	\$300
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	39	2.73%	40	\$400	\$ 15	40	\$600
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$5	8	2.73%	8	\$40	\$10	8	\$80
5.	Return Check Charge	\$15	7	2.73%	7	\$105	\$15	7	\$105
6.	Other Charges	\$0	0	2.73%	0	\$0	\$ 15	0	\$0
			82	;	83	\$825		83	\$1,205

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%, Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

210

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			, , , , , , , , , , , , , , , , , , ,	Projected 1996 Units				Гюрозеи	
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	381	2.73%	392	\$5,880	\$15	392	\$5,880
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	74	2.73%	76	\$1,140	\$15	76	\$1,140
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	993	2.73%	1,021	\$15,315	\$15	1,021	\$15,315
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$7.50	21	2.73%	21	\$158	\$10	21	\$210
5.	Return Check Charge	\$15	186	2.73%	191	\$2,865	\$15	191	\$2,865
6.	Other Charges	\$0	0	2.73%	0	\$0	\$15	0	\$0
			1,655		1,701	\$25,358		1,701	\$25,410

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

FPSC Schedule: E-5 Page 18 of 20 Preparer: Bencini

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional [] Reverse Osmosis [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC
Schedule: E-5
Page 19 of 20
Preparer: Bencir

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1995 Units 1/	Projected 1996 Units Projection Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	(1996 Final) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	3,790	2.73%	3,893	\$58,395	\$ 15	3,893	\$58,395
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	834	2.73%	857	\$12,855	\$15	857	\$12,855
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	1,470	2.73%	1,510	\$22,650	\$1 5	1,510	\$22,650
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	407	2.73%	418	\$4,180	\$10	418	\$4,190
5.	Return Check Charge	\$15	408	2.73%	419	\$6,285	\$15	419	\$6,285
6.	Other Charges	\$0	0	2.73%	0	\$0	\$15	0	\$0
			6,909		7,097	\$104,365		7,097	\$104,365

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

2

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Hillsborough / Vairico Hills

Docket No.: 950495-W\$ Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Proposed: Conventional DI Reverse Osmosis []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			P	rojected 1996 Units					
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rales	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	20	2.73%	20	\$300	\$15	20	\$300
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	8	2.73%	В	\$120	\$15	В	\$120
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	72	2.73%	74	\$1,110	\$15	74	\$1,110
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$7.50	3	2.73%	3	\$23	\$10	3	\$30
5.	Return Check Charge	\$15	7	2.73%	7	\$105	\$15	7	\$105
6.	Other Charges	\$0	0	2.73%	0	\$0	\$15	0	\$0
			110		112	\$1,658		112	\$1,665

FPSC Schedule: E-5

Page 20 of 20

Preparer: Bencini

^{1/} The number of units for miscellaneous service charges was projected using an overall of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

Company: SSU/ Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of public fire hydrants (including atandpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement						connecting the		
No.	Plant Name	County	Status	(GPM)	4"		6-	10"	12	14"	Total	Notes
	Present FPSC Uniform Plants											
1	Amelia Island	Nassau	Fire Protection Provided	1,000	-	58	46	-	8	-	112	
2	Apache Shores	Citrus	No Fire Protection	-	-	-	•	-	-	•		
3	Apple Valley	Seminole	Fire Protection Provided	600	-	16	11	-	•	1	28	
4	Bay Lake Estates	Osceola	No Fire Protection	•	-	-	-	•	•	-	•	
5	Beacon Hitls	Duvai	Fire Protection Provided	1,500	-	77	112	9	2	•	200	
6	Beecher's Point	Putnam	Fire Protection Provided	1,000	•	1	-	-	-	-	1	
7	Cartton Village	Lake	No Fire Protection	•	-	-	-	•	-	-	•	
8	Chulucta	Seminole	Fire Protection Provided	600	2	10	-	-		-	12	
9	Citrus Park	Marion	No Fire Protection	-	•	-	-	•	•	-	-	
10	Citrus Springs	Citrus	Fire Protection Provided	1,500	-	2	1	•	2	-	5	
11	Crystal River Highlands	Citrum	No Fire Protection	-	•	-	-	-	-	•	-	
12	Daetwyler Shores	Orange	Fire Protection Provided	500	-	1	-	-	•	-	1	
13	Deltona Lakes	Volusia	Fire Protection Provided	2,500	•	-	-	-	-	-	•	[1]
14	Dol Ray Manor	Seminole	No Fire Protection	-		-	-	-	•	-	-	
15	Druid Hills	Seminole	Fire Protection Provided	600	-	1	-	-	-	-	1	
16	East Lake Harris Estates	Lake	No Fire Protection	-		-	-	•		-	-	
17	Fern Park	Seminole	No Fire Protection		-	-	-	-		-	-	
18	Fem Terrace	Leike	No Fire Protection	-		•	-	-		-	-	
19	Fisherman's Haven	Martin	No Fire Protection		-		-	-		-		
20	Fountains	Osceola	Fire Protection Provided	500		6	-	-		-	6	
21	Fox Run	Martin	Fire Protection Provided	500	1	3		-		-	4	
22	Friendly Center	Lake	No Fire Protection			_	-	_	-			
23	Golden Terrace	Citrus	No Fire Protection	-		_				-		
24	Gospel Island	Citrus	No Fire Protection		-		-	_		-		
25	Grand Terrace	Lake	Fire Protection Provided	500		12					12	
26	Harmony Homes	Seminole	No Fire Protection			-	-	_	-	_	-	
27	Hermits Cove	Putnem	No Fire Protection	_	_			_			_	
28	Hobby Hills	Lake	No Fire Protection		_							

FPSC

Schedule E-6

Preparer: Bencini

Page 1 of 4

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

^[1] The County owns the fire hydrante at this plant.

Company: \$SU/ Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water (x) Wastewater []
Interim [] Final [x]
Historical [] Projected (x)

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	of Standard T	Type Public Fi	ire Hydrants B	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	8"	10"	127	14"	Total	Notes
29	Holiday Haven	Lake	No Fire Protection				.		-			
30	Holiday Heights	Orange	Fire Protection Provided	500	•	1	-	-	•	-	1	
31	Imperial Terrace	Lake	No Fire Protection	•	•	-	-	-	-	-	-	
32	Intercession City	Osceola	No Fire Protection	•	-	-			•	-	-	
33	Interlachen Lake Est/Park Manor	Putnam	No Fire Protection	•	-	-	-	-	-			
34	Jungle Den	Volusia	No Fire Protection	-	-		-	-	-		-	
35	Keystone Heights	Clay	Fire Protection Provided	1,000	-	53	5	-	•	•	58	
36	Kingswood	Brevard	No Fire Protection	-	•	-	-	-	-	•	-	
37	Lake Ajay Estates	Osceola	Fire Protection Provided	500	•	1	2	-	-		3	
38	Lake Brantley	Seminole	No Fire Protection	-	•	-	-	-		-		
39	Lake Corway Park	Orange	No Fire Protection	•	-	-	-	-	-			
40	Lake Harriet	Seminole	Fire Protection Provided	600	-	4	-	-	-	-	4	
41	Lukeview Villas	Clay	No Fire Protection	-	-	•	-	-	•	-	-	
42	Leilani Heights	Mertin	Fire Protection Provided	500		15	-	-			15	
43	Leisure Lakes	Highlands	Fire Protection Provided	500	2	8	-		-	-	10	
44	Marco Shores	Collier	Fire Protection Provided	7 5 0	-	15	-	-		-	15	
45	Marion Oaks	Marion	Fire Protection Provided	2,500	1	293	12	1	1	-	308	
46	Meredith Manor	Seminole	Fire Protection Provided	500	-	11	4	-	-	-	15	
47	Morningview	Lake	Fire Protection Provided	500	-	2	-	-		-	2	
48	Oak Forest	Citrus	Fire Protection Provided	500		6	-	-		-	6	
49	Calcurood	Brevard	No Fire Protection		-		-	-	-	-		
50	Palisades	Lake	Fire Protection Provided	500	1	7	3	-		-	11	
61	Palm Port	Putnam	No Fire Protection	-		-	-	-		•	•	
52	Paim Terrace	Pasco	Fire Protection Provided	500		6	-	-	•	-	6	
53	Palms Mobile Home Park	Leke	No Fire Protection	•		-	-	~	-	-	-	
54	Picciola Island	Lake	No Fire Protection	•			-	-		-		
55	Pine Ridge	Citrus	Fire Protection Provided	1,500	-	201	20	3	-		224	
56	Pine Ridge Estates	Oscaola	Fire Protection Provided	500		8					6	
57	Piney Woods	Leike	No Fire Protection									

FPSC Schedule E-6

Page 2 of 4

Preparer, Bencini

tia: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

Company: SSU/ Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	
Ine				Requirement	Number	of Standard T	ype Public Fl	re Hydrante E	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	8"	10"	12	14"	Total	
58	Point O' Woods	Citrus	Fire Protection Provided	750		6	3	•	-		9	
59	Pomone Park	Putnam	No Fire Protection		-		-	-	-	_		
60	Postmaster Village	Clay	No Fire Protection	-		-			_		-	
31	Quail Ridge	Lake	Fire Protection Provided	500	-	12	-	•	_	•	12	
2	River Grove	Putnam	No Fire Protection	-	-	-		-				
3	River Park	Putnam	No Fire Protection	-	-		-		-	-	-	
34	Resement/Rolling Green	Citrus	Fire Protection Provided	500	3	-	-		-	-	3	
35	Salt Springe	Marion	Fire Protection Provided	750		2		-	•	2	4	
66	Samire Villas	Marion	No Fire Protection	-	-		-	•	-		-	
37	Silver Lake Est/Western Shores	Lake	Fire Protection Provided	750	-	21	18	-	2	-	41	
38	Silver Lake Oaks	Putnam	No Fire Protection	•		-	-	-	-	-	-	
9	Skycreat	Leke	Fire Protection Provided	500	-	4	-	-	-	-	4	
70	St. John's Highlands	Putnam	No Fire Protection	•	-	•	•	-		-		
1	Stone Mountain	Lake	No Fire Protection	-	•	•	-	•	•	-	-	
2	Sugar Mill	Volusia	Fire Protection Provided	2,500	-	24	20	2	-	-	46	
73	Sugarmill Woods	Citrus	Fire Protection Provided	1,500	•	358	120	16	58	-	550	
74	Sunny Hills	Washington	Fire Protection Provided	500	•	10	•	•	•	-	10	
5	Sunshine Parkway	Laka	Fire Protection Provided	2,000		-	-	-	2	-	2	
6	Tropical Park	Osceola	No Fire Protection	•	-	-	-	•	_	-	-	
77	University Shores	Orange	Fire Protection Provided	2,000		71	66	2	11	-	152	
78	Venetian Village	Leke	No Fire Protection	•	-		-	-	-	-	-	
19	Welaka/Saratoga Harbor	Putnam	No Fire Protection			-			•	-		
30	Westmont	Orange	No Fire Protection	•	-		-	•	•	•	-	
11	Windsong	Osceola	No Fire Protection	•	•	-		-	-		-	
2	Woodmere	Duvel	Fire Protection Provided	1,500	-	41	29	•	2	•	72	
3	Wootens	Putnem	No Fire Protection	-	-	-	•		-	-	-	
4	Zephyr Shores	Pasco	Fire Protection Provided	500	•	6	-	•	-	•	6	
	Sub-Total Present Uniform Plants				10	1373	474	33	86	3	1979	

FPSC

Schedule E-6

Preparer: Bencini

Page 3 of 4

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

Company: SSU/ Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Finel [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
				Fire Flow							
Line				Requirement						onnecting the	
No.	Plant Name	County	Statue	(GPM)	4"	6"	6"	10	12"	14"	Total
	Present FPSC Non-Uniform Plant	ŧ									
85	Buenaventura Łakes	Osceola	Fire Protection Provided	2,500	20	218	100	11	7	•	356
86	Deep Creek	Charlotte	Fire Protection Provided	750	-	326	-	-	-	-	326
87	Enterprise	Volusia	No Fire Protection	-	-	-	-	-	-	-	-
88	Geneva Lake Estates	Bradford	No Fire Protection	-	-	-	•	-	-	-	-
89	Keystone Club Estates	Bradford	No Fire Protection	-		-	•	-	-	-	
90	Lakeside	Citrus	Fire Protection Provided	500	-	7	•	-	-	-	7
91	Lehigh	Lee	Fire Protection Provided	2,000	-	490	•	-	-	-	490
92	Palm Valley	St. Johns	No Fire Protection	-	-	-	-	-	-	-	-
93	Remington Forest	St. Johns	No Fire Protection	-	-	-	-	-	-	-	-
94	Spring Gardens	Citrus	No Fire Protection	-	•	-	-	-	-	-	-
95	Valencia Terrace	Leke	Fire Protection Provided	500	•	6	•	-	•	-	6
	Sub-Total Present Non-Uniform	n Plants			20	1047	100	11	7	0	1185
	FPSC Non-Regulated Plants										
96	Gibeonia Estates	Polk	Fire Protection Provided	500		4					4
97	Hershel Heights	Hillsborough	Fire Protection Provided	500		11		-	-	-	11
98	Lake Gibson Estates	Polk	Fire Protection Provided	500	-	16	-	-	-	-	18
99	Orange Hill / Sugar Creek	Polk	No Fire Protection		-	•	-		-	-	-
100	Seebord	Hillsborough	Fire Protection Provided	2,500	-	26	•	-	-	-	26
101	Spring Hill	Hemando	Fire Protection Provided	1,000	-	914	•	-		-	914
102	Valrico Hills	Hillsborough	Fire Protection Provided	500	-	14	-		•	-	14
	Sub-Total FPSC Non-Regulated	i Plants			0	985	0	0	0	0	985
	Total Conventional Plants				30	3405	574	44	93	3	4149

FPSC

Schedule E-6

Preparer: Bencini

Page 4 of 4

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

Buenaventura Lakes is aquisition for 1996 reflecting 1994 hydrants.

Łakeside, Spring Garden, and Valencia Tarrace are equisitions for 1995 reflecting 1994 hydrants.

FPSC

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Schedule E-7
Page 1 of 1
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x]

Historical [] Projected (x]
Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of private fire protection service by size of connection.

This achedule is not required for a wastewater only rate application.

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12) (13) (14) (15) (16) (17) (18) (19) (20)

										Size a	nd T <u>ype</u>	:								
No.	Plant				Risers	:				Doubl	e Check	Valves:				Sprinki	er Lines	:		Combless
1		<u></u>	_4"_	_6"_	8"	10"	Total		4"	_6*_	_6"_	10"	Total	2"	_4"	<u>6</u>	8-	10"	Total	Combined Total
2	Amelia Island	2	20	11	5	-	38		-	-	-	-	-			-	-	-		38
3	Keystone Heights		-		-	-	-	-	-	2		-	2		-	-	-	-		2
4	Lehigh	-	-	-	-	-	•	-	-	-	-	-	-	-	7	3	2	-	12	12
5	Meridith Manor		٠	-	-	-	-		3		-	-	3	-	-	-	-	-		3
6	University Shores		-		-	-	-	-		-	-	1	1	-	-	-	-	-	-	1
7	Total	2	20	11	5	•	38	_	3	2	_	1		<u> </u>	7	3	2		12	58

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1996

Company: SSU / Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 2

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
	FPSC UNIFORM:	
1	MEREDITH MANOR:	
2		
3	Kennedy, Newton	Utility easement granted in exchange for water service at no charge.
4	Customer # 003182	
5		
6	PINEY WOODS:	
7		
8	Caldwell, Charles	Utility easement granted in exchange for water service at no charge.
9	Customer # 001385	
10		
11	UNIVERSITY SHORES:	
12		
13	City of Winter Park, Fontana Apartments	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
14	Customer # 006151	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
15		
18	City of Winter Park, Laurel Springs	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
17	Customer # 006150	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
18		
19	City of Winter Park, Uni Gold	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
20	Customer # 96793	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
21		
22	Hunter's Ridge Association, LTD	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
23	(9 accounts)	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
23	Customer # 94522, 94523	
24	94524, 94525, 94526,	
25	94527, 94528, 94529,	
26	'94530	
27		
26	WOODMERE:	
29		
30	Park Recreation & Entertainment	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country
31	Customer # 007906	Club: \$100 monthly credit for water and sewer service, booked as easement rental

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-jurisdiction [X]

Proposed: Conventional [X] Reverse Osmosis []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
	FPSC NON-UNIFORM;	
32 33	GENEVA LAKE ESTATES:	
34 35 36	Emery, W.C. Customer # 031389	Utility easement acquired in exchange for water service at no charge.
37 38	TROPICAL ISLES:	
39	Drake, John	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
40	Customer # 96236	more than six (6) rental units at Mobile Park at no charge.
41	Kennedy, Barbara	
42	Customer # 96244	
43	Michael, Malcolm	
44	Customer # 96259	
45	Sellards, Harold	
46	Customer # 96265	
47	Steeves, Hubert	
48	Customer # 96268	
49	Flora, Dick	
50	Customer # 96271	

FPSC

Schedule: E-8

Preparer: Bencini

Page 2 of 2

5

226

SCHEDULE OF TAX OR FRANCHISE FEES - 1996

Company: SSU / Total Company / Proposed Conventional Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] or Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [X] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line	(2)	(3)	(4) Type of	(5) To Whom	(6)	(7) How Collected	(8) Type of
No.	Plant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
1 2	Total Company	All Counties	Rev. Assess. Fee	FPSC	4.5%	1/	None
3	Apple Valley	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
4 5	Beacon Hills	Duval	Pub. Svc. Tax	City of Jack- sonville	10.0%	2/	Tax
6	Chuluota	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
7	Dol Ray Manor	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
8	Druid Hills	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
9	Fem Park	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
10	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
11	Harmony Homes	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
12	Holiday Heights	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
13	Keystone Heights	Clay	City Utility Tax	City of Key-	5.0%	2/	Tax
14	•			stone Heights			
15	Lake Brantley	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
16	Lake Gibson Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
17	Lake Harriet Estates	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
18	Meredith Manor	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
19	Orange Hill / Sugar Creek	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
20	Pomona Park	Putnam	City Utility Tax	City of	10.0% on	2/	Tax
21		•		Pomona Pk.	1st \$20		
22	University Shores	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
23	Westmont	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
24	Woodmere	Duval	Pub. Svc. Tax	City of Jack- sonville	10.0%	2/	Tax

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

^{1/} Included in overall cost of service.

^{2/} Billed as a separate line item on customer bills.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1996

FPSC

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Schedule E-10 Page 1 of 1

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line No.	Type of Charge	Present Charges	Proposed Charges

Please see separate Service Availability Schedules, Volume VIII.

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Schedule E-11 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1) (2) (3) (4) (5) (6)

Line For the General

No. Year Ended Residential Service Other Total

This schedule is not applicable.

CLASS A UTILITY COST OF SERVICE STUDY - 1996 Industrial Customers

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Schedule E-12

Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[x] Wastewater[] Interim [] Final [x]

Historical[] Projected[x]
Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	Bon of each projection fact	tor on a separ	ate schequi	e, ir necessary	. List other clas	ses or mete	r sizes as app	RICADIO.					
	(1)	(2)	(3)	(4)	(5)	(6)			(7)	(8)	(9)	(10)	(11)
		Num	ber of B	lills		Co	nsumptic						епиез
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected		ent Rates	Proposed	1996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	<u>1996 Final</u>	<u>1995 Intenm</u>	Factor 1/	Elasticity	Adjustment 2/	<u>1996 Final</u>	Rates 3/	Revenue 4	/ Rates	Revenue 5/
1	Residential												
2	5/8 x 3/4*	1,096,667	10.73%	1,214,305							\$7,060,65		\$10,273,020
3	3/4"	6,424	2.66%	6,595							\$50,72	1 \$12.69	\$83,691
4	1*	63,284	6.39%	67,326							\$874,79		\$1,423,945
5	1 1/2"	432	2.55%	443							\$11,57		\$ 18,739
6	2**	281	3.20%	290							\$10,60	7 \$87.68	\$ 19,627
7	3**	66		88							\$8,20		\$9,204
8	4"	33	3.03%	34							\$4,36	2 \$211.50	\$7,191
9	Gailonage Charge/MG:												
10	All Gallonage		_		9,888,961	7.12%	10,593,318	-7.3%	9,820,008		\$13,941,84		\$17,283,214
11	Total	1,167,187	10.44%	1,289,061	9,888,961	7.12%	10,593,318	-7.3%	9,820,008		\$21,960,76	6	\$29,118,631
	•		•			•						_	
12	Multi-Family												
13	5/8" x 3/4"	256	2.73%	263							\$1,43	\$8.46	\$2,225
14	1"	272	3.68%	282							\$9,49	8 \$21.15	\$5,964
15	1 1/2"	871	1.38%	883							\$37,30	9 \$42.30	\$37,351
16	2**	310	3.23%	320							\$25,85	6 \$87.68	\$21,656
17	3*	7	0.00%	7							\$57	5 \$135.36	\$948
18	4"	13	0.00%	13							\$1,66	8 \$211.50	\$2,750
19	8"	24	4.17%	25							\$11,97	6 \$423.00	\$10,575
20	Gallonage Charge/MG:												
21	All Gallonage				103,612	1.71%	105,383	0.0%	105,382		\$247,31	4 \$1.76	\$185,472
22	Total	1,753	2.28%	1,793	103,612	1.71%	105,383	0.0%	105,382		\$335,63	1	\$266,943
	:					:		:				=	

FPSC

Schedule E-13

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Page 1 of 28

Notes

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)			(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	nsumptic	n (MG)		Sch	edule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	<u>1996 Final</u>	Rates 3/	Revenue 4/	<u>Rates</u>	Revenue 5/
23	<u>Commercial</u>												
24	5/8" x 3/4"	18,555	7.13%	19,878							\$116,677	\$8.46	\$168,168
25	3/4"	484	7.02%	518							\$3,990	\$12.69	\$6,573
26	1*	4,458	4.73%	4,669							\$68,363	\$21.15	\$98,749
27	1 1/2"	1,622	6.17%	1,722							\$54,491	\$42.30	\$72,841
28	2"	3,324	9.12%	3,627							\$161,800	\$67.68	\$245,475
29	3"	410	4.88%	430							\$41,238	\$135.38	\$58,205
30	4"	163	28.22%	209							\$27,519	\$211.50	\$44,204
31	6"	81	20.99%	98							\$32,722	\$423.00	\$41,454
32	8"	54	7.41%	58							\$27,370	\$676.80	\$3 9,254
33	10°	11	9.09%	12							\$7,081	\$972.90	\$11,675
34	Gallonage Charge/MG:												
35	All Gallonage				910,909	7.50%	979,221	-3.9%	941,033		\$1,319,7 3 7	\$1.76	\$1,656,218
36	Total	29,162	7.06%	31,221	910,909	7.50%	979,221	-3.9%	941,033	•	\$1,660,988		\$2,442,818
37	luduotla a												
38	<u>Irrigation</u> 5/8" x 3/4"	N/A	N/A	21,335							\$97,074	\$6.46	\$180,494
39	3/0 X 3/4 1*	N/A	N/A	21,333							\$97,074 \$341	\$0.40 \$21.15	\$180,494 \$635
40	1 1/2"	N/A	N/A	55								\$42.30	_
41	2"	N/A	N/A	288							\$1,249		\$2,327
42	_	IVA	IVA	200							\$10,460	\$67.68	\$19,492
42	Gallonage Charge/MG: All Gallonage				•	61	82.056	-3.9%	70 720		#400 ppF	24.70	8440.007
43 44	All Gallonage Total	N/A		21,708		. 6/ .	82,956	-3.9% -3.9%	79,720		\$102,665	\$1.76	\$140,307
44	i otali	N/A		21,700	U	: ;	82,956	-3.970	79,720	1	\$211,989	-	\$343,255

FPSC

Schedule E-13

Preparer. Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 2 of 28

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

FPSC

Schedule E-13
Page 3 of 28
Preparer: Bencini
Supporting Schedule

Supporting Schedules: E1-1, Projection Factor Tab

	(1)	(2)	(3)	(4)	(5)	(8)			(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ilis		Co	nsumptic	n (MG)		Sch	edule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	1996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	Rates 3/	Revenue 4/	Rates	Revenue 5/
45	Public Authority												
46	1 1/2	12	0.00%	12							\$308	\$42.30	\$508
47	2*	12	0.00%	12							\$493	\$67.68	\$812
48	3"	12	0.00%	12							\$985	\$135.36	\$1,624
49	Gallonage Charge/MG:												
50	All Gallonage				1,207	6.96%	1,291	-3.9%	1,241		\$1,588	\$1.76	\$2,184
51	Total	36	0.00%	36	1,207	6.96%	1,291	-3.9%	1,241		\$3,374	•	\$5,128
	;					;							
52	Fire Protection												
53	2*	26	7.69%	28							\$383	\$5.84	\$158
54	4"	335	6.27%	356							\$17,767	\$17.63	\$6,276
55	6*	180	6.11%	191							\$18,869	\$35.25	\$6,733
58	8*	77	6.49%	82							\$13,818	\$58.40	\$4,625
57	10"	18	5.56%	19							\$4,185	\$81.08	\$1,541
58	Gallonage Charge/MG:											•	
59	All Gallonage				0	N/A	0	N/A	0		\$0	\$0.00	\$0
60	Total	636	6.29%	876	0	N/A	0	N/A	0	•	\$55,042	•	\$19,333
								: :					V.01000

Notes

Company: SSU / Total Company / Proposed Conventional Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

FPSC

Schedule E-13 Page 4 of 28 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calculat	ich di deci biolociosi leci	Di Oira sepai	ate scredul	e, ii ilocassaiy	. List Quier Gas	303 01 111010	i sezos as app	ilicabie.					
	(1)	(2)	(3)	(4)	(5)	(6)			(7)	(8)	(9)	(10)	(11)
		Num	berofB	ills		Co	nsumptio	n (MG)		Sch	edule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elestic.	Projected	Prese	nt Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	Rates 3/	Revenue 4/	Rates	Revenue 5/
61	Emergency Standby Se	ervice -											
62	Spring Hill												
63	5/8" x 3/4"	0	N/A	0							\$0	\$0.00	\$0
64	Gallonage Charge/MG:												
65	All Gallonage				0	N/A	0	N/A	0		\$0	\$1.76	\$0
66	Total	0	N/A	0	0	N/A	0	N/A	Ô	-	\$0	•	\$0
	;		• :			;		:				=	
67	GRAND TOTAL 7/	1,196,774	12.16%	1,344,495	10,904,669	7.86%	11,762,169	-6.9%	10,947,384		\$24,427,790		\$32,196,106
						:				=	<u> </u>	:	

- 1/ Projection factors vary from detail since projections were made at the detail level. The projections may appear high since Buenaventura Lakes (a planned acquisition for 1996) is included in the 1996 projections and not the 1995 projections.
- 2/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment. Percentages may vary from detail schedules due to rounding.
- 3/ Present rates very by plant. Refer to following pages for details.
- 4/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 5/ Revenue is computed using the projection of consumption after the price elasticity adjustment.
- 6/ The increase in consumption for irrigation reflects the pending acquisition of Buenaventura Lakes in 1996.
- 7/ The roll-up totals may not tie to the sum of the plant schedule totals due to rounding at the plant vs. the summary level.

Notes:

Company: SSU / Total Company / Present Uniform (Excluding Burnt Store)

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water(x) Wastewater() Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CONCURR	DOT OF BARCT PROJECTION TAIC	wi Oil a sepai	ate acredit	e, il licuossaly	. LIST OUT CIA	sada ol Ilidi	al sixas as ah	oncaule.					
	(1)	(2)	(3)	(4)	(5)	(8)		•	(7)	(8)	(9)	(10)	(11)
			ber of B				sumption					Year Re	venues
Line		Projected	•	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	1996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	<u>1996 Final</u>	1995 Interim	Factor 1/	Elasticity 2/	<u>Adjustment</u>	1996 Final	Rates	Revenue 3/	Rates	Revenue 4/
1	Residential												
2	5/8 x 3/4"	815,794		-						\$ 5.13	\$3,244,325	\$8.46	\$5,350,290
3	3/4"	8,323	2.66%	6,491						\$7.70	\$49,981	\$12.69	\$82,371
4	1"	45,258	7.68%	48,734						\$12.83	\$625,257	\$21.15	\$1,030,724
5	1 1/2"	365	2.74%	375						\$25.66	\$9,623	\$42.30	\$15,863
8	2*	211	3.32%	218						\$41.05	\$8,949	\$67.68	\$14,754
7	3"	57	1.75%	58						\$82.10	\$4,782	\$135.36	\$7,851
8	4"	33	3.03%	34						\$128.29	\$4,362	\$211.50	\$7,191
9	Gallonage Charge/MG:												
10	All Gallonage				5,852,037	2.21%	5,981,396	-7.3%	5,544,756	\$1.23	\$7,357,117	\$1.76	\$9,758,771
11	Total	668,041	3.04%	888,332	5,852,037	2.21%	5,981,396	-7.3%	5,544,756		\$11,304,378		\$18,267,815
			•					1				-	
12	Multi-Family												
13	5/8" x 3/4"	247	2.43%	253						\$5.13	\$1,298	\$8.46	\$2,140
14	1"	7	0.00%	7						\$12.83	\$90	\$21.15	\$148
15	1 1/2"	534	0.00%	534						\$25.66	\$13,702	\$42.30	\$22,588
18	2*	87	2.30%	89						\$41.05	\$3,653	\$67.68	\$6,024
17	3"	7	0.00%	7						\$82.10	\$575	\$135,36	\$948
18	4"	13	0.00%	13						\$128.29	\$1,668	\$211.50	\$2,750
19	6"	12	0.00%	12						\$256.57	\$3,079	\$423.00	\$5,076
20	Gallonage Charge/MG:												
21	All Gellonage				45,289	0.68%	45,597	0.0%	45,597	\$1.23	\$56,084	\$1.76	\$80,251
22	Total	907	0.68%	915	45,289	0.68%	45,597	0.0%			\$80,149	•	\$119,925
		A						1					

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 5 of 28

Company: SSU / Total Company / Present Uniform (Excluding Burnt Store)

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical() Projected(x)

Present: FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	01 3E03 G3 GP	F	(7)	(8)	(9)	(10)	(11)
	.,		ber of B				nsum ption	n (MG)			nedule		venues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	1996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity 2/	<u>Adjustment</u>	1996 Final	Rates	Revenue 3/	Rates	Revenue 4/
23	<u>Commercial</u>												
24	5/8" x 3/4"	9,641		•						\$ 5.13	\$ 50, 9 67	\$8.46	\$84,050
25	3/4"	484	7.02%	518						\$7.70	\$3,989	\$12.69	\$6,573
26	1"	2,284	4.03%	2,376						\$12.83	\$30,484	\$21.15	\$50,252
27	1 1/2"	968	4.96%	1,016						\$25.66	\$26,071	\$42.30	\$4 2,977
28	2"	2,230	5.52%	2,353						\$41.05	\$96,591	\$67.68	\$15 9,251
29	3*	283	8.01%	300						\$82.10	\$24,630	\$135.36	\$40,608
30	4*	151	4.64%	158						\$128.29	\$20,270	\$211.50	\$33,417
31	6"	25	4.00%	26						\$256.57	\$6,871	\$423.00	\$10,998
32	6"	42	7.14%	45						\$410.51	\$18,473	\$676.80	\$30,456
33	10°	11	9.09%	12						\$590.11	\$7,081	\$972.90	\$11,675
34	Gallonage Charge/MG:												
35	All Galionage				656,793	5.39%	692,207	-3.9%	665,212	\$1.23	\$851,415	\$1.76	\$1,170,773
36	Total	16,119	3.85%	16,739	656,793	5.39%	692,207	-3.9%	665,212		\$1,136,642	- -	\$1,841,030
37	Public Authority												
38	1 1/2"	12	0.00%	12						\$25.66	\$308	\$42.30	\$508
39	2*	12	0.00%	12						\$41.05	\$493	\$67.88	\$812
40	3"	12	0.00%	12						\$82.10	\$985	\$135.36	\$1,624
41	Gallonage Charge/MG:												
42	All Galionage				1,207	8.96%	1,291	-3.9%	1,241	\$1.23	\$1,588	\$1.76	\$2,184
43	Total	36	0.00%	38	1,207	8.96%	1,291	-3.9%	1,241		\$3,374		\$5,128
			•			•		•				=	

FPSC

Schedule E-13

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Page 6 of 28

Company: SSU / Total Company / Present Uniform (Excluding Burnt Store)

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[x] Wastewater[] Interim [] Finel (x) Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

Explanation. The projected test year is used, provide a schedule of historical and projected this and consumption by classification. Thicking a													
calculat	tion of each projection fac	tor on a separ	rate schedul	e, if necessary.	List other clas	sses or mete	er sizes as ap	plicable.					
	(1)	(2)	(3)	(4)	(5)	(6)			(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Con	sumption	n (MG)		Sc	eluber	Year Rev	/ e n u e s
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity 2/	<u>Adjustment</u>	1996 Final	Rates	Revenue 3/	Rates	Revenue 4/
44	Fire Protection												
45	2"	26	7.69%	28						\$13.89	\$383	\$5.64	\$158
46	4"	258	7.36%	277						\$42.76	\$11,645	\$17.83	\$4,884
47	6"	142	7.04%	152						\$85.53	\$13,001	\$35.25	\$5,358
48	8"	52	9.62%	57						\$136.84	\$7,800	\$56.40	\$3,215
49	10"	15	6.67%	18						\$196.70	\$3,147	\$81.08	\$1,297
50	Gallonage Charge/MG:												
51	All Gallonage				0	0.00%	0	0.0%	0	\$0.00	\$0	\$0.00	\$0
52	Total	493	7.51%	530	0	0.00%	0	0.0%	0		\$36,176		\$14,912
53	GRAND TOTAL 5/	685,596	3.06%	706,552	6,555,326	2.52%	6,720,491	-6.9%	6,256,806		\$12,560,717		\$18,048,810

FPSC

Schedule E-13 Page 7 of 28

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

^{1/} Projection factors vary from detail since projections were made at the detail level. The projections may appear high since Buenaventura Lakes (a planned acquisition for 1996) is included in the 1996 projections and not the 1995 projections.

^{2/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment. Percentages mey vary from detail achedules due to rounding.

^{3/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{4/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

^{5/} The roll-up totals may not tie to the sum of the plant schedule totals due to rounding at the plant vs. the summary level.

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition) 1/

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[x] Wastewater[]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

FPSC

Schedule E-13 Page 8 of 28 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

nt Rates Proposed	enues 1996 Final Rates
	1006 Final Dates
	1990 Liliai L/9763
Revenue 5/ Rates	Revenue 6/
\$397,342 \$8.46	\$738,795
\$575,265 \$1.76	\$756,900
\$972,607	\$1,495,695
\$3,549 \$8.46	\$6,599
\$625 \$21.15	\$1,163
\$772 \$42.30	\$1,438
\$5,412 \$67.68	\$10,084
\$4,315 \$211.50	\$8,037
\$2,953 \$423.00	\$5,499
\$32,037 \$1.76	\$43,697
	\$76,517
	\$575,265 \$972,607 \$3,549 \$625 \$772 \$5,412 \$5,412 \$67.68 \$4,315 \$211.50 \$2,953 \$423.00

Notes:

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition) 1/

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

(7) tic. Projected 3/ 1996 Final	Presen	(9) edule Yea ntRates	(10) ar Reve Proposed 19	
	Presen			
		nt Rates	Proposed 19	OC Final Dates
3/ 1996 Final F				90 FINAL KATOS
	Rates 4/	Revenue 5/	Rates	Revenue 6/
	\$4.55	\$97,074	\$8.46	\$180,494
	\$11.37	\$341	\$21.15	\$ 635
	\$22.71	\$1,249	\$42.30	\$2,327
	\$36.32	\$10,460	\$67.68	\$19,492
9% 79,720	\$1.24	\$102,865	\$1.76	\$140,307
79,720	_	\$211,989		\$343,255
	_		-	
534,605		\$1,234,259		\$1,915,467
			==	
.!	9% <u>79,720</u> <u>79,720</u>	\$4.55 \$11.37 \$22.71 \$36.32 9% 79,720 79,720 \$1.24	\$4.55 \$97,074 \$11.37 \$341 \$22.71 \$1,249 \$36.32 \$10,460 9% 79,720 \$1.24 \$102,865 79,720 \$211,989	\$4.55 \$97,074 \$8.46 \$11.37 \$341 \$21.15 \$22.71 \$1,249 \$42.30 \$36.32 \$10,460 \$87.68 9% 79,720 \$1.24 \$102,865 \$1.76 79,720 \$211,989

FPSC

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Page 9 of 28

- 1/ This plant is pending acquisition in 1996. Historical billing determinants have been supplied by Orange-Osceola Utilities, Inc.
- 2/ The projection factors used are the overall projection factors for all plants.
- 3/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity edjustment.
- 4/ Present rates are the rates that are currently being charged by Orange-Osceola Utilities, Inc.
- 5/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 6/ Revenue is computed using the projection of consumption after the price elasticity adjustment.

Notes

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[x] Wastewater[]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC

Schedule E-13 Page 10 of 28 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include e calculation of each projection factor on a separate schedule, if necessary.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	lills		C٥	nsumptio	n (MG)		Scl	hedule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	sent Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	<u>1995 Interim</u>	Factor	<u>1996 Final</u>	1995 Interim	Factor	Elasticity	Adjustment 1/	<u>1996 Final</u>	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	34,995	3.81%	36,329						\$13.69	\$497,344	\$8.46	\$307,343
3	1"	582	3.81%	605						\$34.21	\$20,697	\$21.15	\$12,796
4	Gailonage Charge/MG:												
5	All Galionage				185,269	3.81%			178,288	\$4.12	\$792,391	\$1.76	\$313,787
6	Total	35,577		36,934	185,269	,	192,328	•	178,288		\$1,310,432		\$633,926
			•			•		•				•	
7	Multi-Family												
8	5/8" x 3/4"	9	3.81%	10						\$13.89	\$137	\$8.46	\$85
9	1"	265	3.81%	275						\$34.21	\$9,408	\$21.15	\$5,816
10	1 1/2"	3 25	3.81%	337						\$68.43	\$23,061	\$42.30	\$14,255
11	2"	174	3.81%	181						\$109.50	\$19,820	\$67.88	\$12,250
12	8"	12	3.81%	13						\$684.36	\$8,897	\$423.00	\$5,499
13	Gallonage Charge/MG:										·		
14	All Gallonage				32,531	3.81%	33,770	0.0%	33,770	\$4.12	\$139,132	\$1.76	\$59,435
15	Totel	785	'	816	32,531	'	33,770	•	33,770		\$200,455	•	\$97,340
			1					:					

Notes

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[]

Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

FPSC

Schedule E-13
Page 11 of 28
Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Carcula	son or each projection rac	tur un a saban	are actions	io, ii ilocossary	. LIST OUTER CIAL	SOOS UT IIIO	ter sizes as ap	plicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	bar of B	ills		Co	nsumptio	n (MG)		Sch	edule '	Year Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
16	Commercial												
17	5/8" x 3/4"	245	3.81%	254						\$13.69	\$3,477	\$8.46	\$2,149
16	1"	92	3.81%	96						\$34.21	\$3,284	\$21.15	\$2,030
19	1 1/2"	39	3.81%	41						\$68.43	\$2,806	\$42.30	\$1,734
20	2**	12	3.81%	13						\$109.50	\$1,424	\$67.68	\$880
21	6"	12	3.81%	13						\$684.36	\$8,897	\$423.00	\$5,499
22	8"	12	3.81%	13						\$684.36	\$8,897	\$876.80	\$8,798
23	Gallonage Charge/MG:												
24	All Gallonage				8,177	3.81%	8,488	-3.9%	8,157	\$4.12	\$34,971	\$1.76	\$14,356
25	Total	412		430	8,177		8,488	•	8,157		\$83,756	•	\$35,446
								•				.	
26	GRAND TOTAL	38,774		38,180	225,977		234,586		220,215		\$1,574,843		\$766,712
			:					:		:		: :	

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

Notes:

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity edjustment.

Company: SSU / Volusia / Enterprise

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[x] Wastewater[]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

Schedule E-13
Page 12 of 28
Preparer: Bencini
Supporting Schedules: E1-1,

Projection Factor Tab

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Numb	er of Bi	lls		Co	nsumptio	n (MG)		S c	hedule	<u>Y</u> ear Reve	nues
Line	·	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 19	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Finat	1995 Interim	Eactor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	2,455	5.62%	2,593						\$8.58	\$22,248	\$8.46	\$21,937
3	1*	250	5.62%	264						\$21.43	\$5,658	\$21.15	\$5,584
4	1 1/2°	13	5.62%	13						\$42.87	\$557	\$42.30	\$550
5	Gallonage Charge/MG:										\$0		
6	All Gallonage				18,082	5.62%	19,098	-7.3%	17,704	\$2.21	\$42,207	\$1.76	\$31,159
7	Total	2,718		2,870	18,082		19,098		17,704		\$70,670		\$59,230
	•											•	
8	Commercial												
9	5/8" x 3/4"	13	5.62%	13						\$8.58	\$112	\$8.46	\$110
10	1*	25	5.62%	27						\$21.43	\$579	\$21.15	\$571
11	2*	13	5.62%	13						\$68.58	\$892	\$67.68	\$880
12	Gallonage Charge/MG:												
13	All Gallonage				114	5.62%	120	-3.9%	115	\$2.21	\$265	\$1.76	\$202
14	Total	51		53	114		120		115		\$1,848		\$1,763
	•				=	;							
15	GRAND TOTAL	2,769		2,923	18,196		19,218		17,819		\$72,518		\$60,993

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

Notes

^{2/} Revenue ie computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption efter the price elasticity adjustment.

Company: SSU / Bradford / Geneva Lake Estates

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[x] Wastewater[]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Schedule E-13
Page 13 of 28
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

	141			ot in thococourty.				///		(=)			42.05
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	nsumptio			Sch	edule Y		enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed	1996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	1995 Interim	Factor	Elesticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	1,032	3.20%	1,065						\$4.97	\$5,293	\$8.46	\$9,010
3	Gellonage Charge/MG:												
4	All Gallonage				7,936	3.20%	8,189	-7.3%	7,592	\$2.07	\$16,951	\$1.78	\$13,362
5	Total	1,032	'	1,065	7,936		8,189		7,592	,	\$22,244	•	\$22,372
				<u> </u>		:				1		=	
6	Multi-Family												
7	2"	37	3.20%	38						\$39.73	\$1,510	\$67.68	\$2,572
8	Gallonage Charge/MG:									*******	,	•••••	V-,
9	Ali Gallonage				2,302	3.20%	2,375	0.0%	2,375	\$2.07	\$4,916	\$1.76	\$4,180
10	Total	37		38	2,302	0.20.0	2,375	5.575	2,375	V	\$6,426	· · · · · ·	\$6,752
			:			:					4-1-1-1	-	
11	Commercial												
12	1 1/2*	12	3.20%	13						\$24.83	\$323	\$42.30	\$550
13	Gallonage Charge/MG:	12	3.20%	13						424.03	4 323	442.30	4550
14	All Gallonage				509	3.20%	525	-3.9%	505	\$2.07	\$1,087	\$1.76	\$889
15	Total	42			509	3.20%		-3.976	505	\$2.01		\$1./0	
19	IOLE	14		13	208	:	525		505		\$1,410	=	\$1,439
40	ODANO TOTAL			4.440	40.7.		44.4		40.475		***		AAA 8A-
16	GRAND TOTAL	1,081	,	1,116	10,747	,	11,089		10,472		\$30,080	-	\$30,563

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

Notes:

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

^{2/} Revenue is computed using the projection of consumption before the price elasticity edjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Bradford / Keystone Club Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation; If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Numi	ber of B	ills		Ço	nsumptio	n (MG)		Sch	edule 1	Year Rev	enues
Line	'	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	<u>Rates</u>	Revenue 3/
1	Residential												
2	5/8 x 3/4"	1,810	3.12%	1,866						\$4.97	\$9,274	\$8.46	\$15,786
3	1"	74	3.12%	77						\$12.42	\$956	\$21.15	\$1,629
4	1 1/2"	1	3.12%	1						\$24.83	\$25	\$42.30	\$42
5	Gallonage Charge/MG:												
6	All Gallonage				9,176	3.12%	9,462	-7.3%	8,771	\$2.07	\$19,586	\$1.78	\$15,437
7	Total	1,885		1,944	9,178		9,462		8,771		\$29,841	_	\$32,894
	•					,		i		•		•	
8	GRAND TOTAL	1,885		1,944	9,176		9,462		8,771		\$29,841	_	\$32,894
						:		ŀ				:	

FPSC

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1. Projection Factor Tab

Page 14 of 28

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

^{1/} Pleese refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of e price elasticity adjustment.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity edjustment.

Company: SSU / Citrus / Lakeside 1/

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[x] Wastewater[]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

resculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculat	ion of each projection fact	or on a separ	ate schedu	le, if necessary	 List other class 	sses or met	er sizes as ap	plicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ilis		Co	nsumptio	n (MG)		\$ c	hedule	Year Re	v e n u e s
Line	•	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pre	sent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 2/	1996 Final	<u>1995 Interim</u>	Factor 2/	Elasticity	Adjustment 3/	1996 Final	Rates	Revenue 4/	Rates	Revenue 5/
1	Residential												
2	5/8 x 3/4"	1,003	3.17%	1,035						\$5 .13	\$ 5,310	\$8.46	\$8,756
3	Gallonage Charge/MG:												
4	All Gallonage				7,162	3.30%	7,398	-7.3%	6,858	\$1.23	\$9,100	\$1.76	\$12,070
5	Total	1,003		1,035	7,162	:	7,398	:	6,858		\$14,410	. :	\$20,826
6	GRAND TOTAL	1,003	: :	1,035	7,162		7,398	:	6,858	:	\$14,410	. :	\$20,826

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 15 of 28

1/ This plant was acquired in 1995. Prior to acquisition, customers did not have metera and were not charged for water. See the 1995 Interim E-13 Schedule for explanation of the billing determinant calculations for the 1995 Interim.

- 2/ The projection factors used are the overall average projection factors for 1995 to 1996 growth for eli plants.
- 3/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.
- 4/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 5/ Revenue is computed using the projection of consumption after the price elasticity adjustment.

Notes:

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

Company: SSU / Lee / Lehigh Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[]

Interim [] Final [x] Historical() Projected(x)

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include e calculation of each projection factor on a separate schedule, if necessary. List other clesses or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(6)	(9)	(10)	(11)
	(1)				(5)				(7)	1 7			, ,
			ber of B				nsumptio			Sch .			venues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed	1996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential						_					_	
2	5/8 x 3/4"	101,457	2.84%	104,338						\$9.03	\$942,172	\$8.46	\$882,699
3	1"	37	2.84%	38						\$22.57	\$858	\$21.15	\$804
4	3*	9	2.84%	10						\$144.43	\$1,444	\$135.36	\$1,354
5	Gallonage Charge/MG:												
6	All Gallonage				324,067	2.84%	333,271	-7.3%	308,942	\$2.40	\$799,850	\$1.76	\$543,738
7	Total	101,503	•	104,386	324,067		333,271		308,942		\$1,744,324	•	\$1,428,595
			i					•					
8	Commercial												
9	5/8" x 3/4"	2,809	2.84%	2,888						\$9.03	\$26,079	\$8.48	\$24,432
10	1*	689	2.84%	709						\$22.57	\$16,002	\$21.15	\$14,995
11	1 1/2"	338	2.84%							\$45.13	\$15,705	\$42.30	\$14,720
12	2"	362	2.84%							\$72.22	\$26,866	\$67.68	\$25,177
13	3"	73	2.84%							\$144.43	\$10,832	\$135.36	\$10,152
14	4"	12	2.84%	13						\$225.68	\$2,934	\$211.50	\$2,750
15	6"	12	2.84%	13						\$451.35	\$5,868	\$423.00	\$5,499
16	Gallonage Charge/MG:												
17	All Gallonage				87,272	2.84%	69,183	-3.9%	66,485	\$2.40	\$166,039	\$1.76	\$117,014
18	Total	4,295		4,418	67,272		69,183	•	66,485		\$270,325		\$214,739

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 16 of 26

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

Company: SSU / Lee / Lehigh

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[x] Wastewater[]
Interim [] Final [x]

Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis ()

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calcula	tion of each projection fa	ctor on a se	arate sched	ule, if necessary	 List other class 	sses or me	ter sizes as ap	plicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Nu	mberofl	Bills		Co	nsumptio	n (MG)		Sch	edule_Y	ear Re	venues
Line		Projecte	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed	1996 Final Rates
No.	Class/Meter Size	1995 Inter	m <u>Factor</u>	1996 Final	1995 Interim	<u>Factor</u>	Elasticity	Adjustment 1/	1996 Finel	Rates	Revenue 2/	Rates	Revenue 3/
19	Fire Protection												
20	4	! *	77 2.84%	79						\$75.23	\$5,943	\$17.83	\$1,393
21	6	3"	38 2.84%	39						\$ 150.45	\$5,868	\$35.25	\$1,375
22	6	3"	25 2.84%	25						\$240.72	\$ 6,018	\$56.40	\$1,410
23	10)"	3 2.84%	3						\$346.04	\$1,038	\$61.08	\$243
24	Gallonage Charge/MG	3 :											
25	All Gallonag	e			N/A	N/A	N/A		N/A	\$0.00	\$0	\$0.00	\$0
26	Tota	1	43	146	N/A		N/A	· !	N/A		\$18,867		\$4,421
27	GRAND TOTAL	105,9	41	108,950	391,339		402,454	:	375,427	!	\$2,033,516		\$1,647,755

FPSC

Schedule E-13

Page 17 of 28

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

- 1/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity edjustment.
- 2/ Revenue is computed using the projection of consumption before the price elasticity edjustment.
- 3/ Revenue is computed using the projection of consumption after the price elasticity edjustment.

Notes:

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons elso contain decimal places that are not shown). May not tie to other schedules due to rounding.

Company: SSU / St. John / Palm Valley

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [1 FPSC Non-Uniform [x] FPSC Non-jurisdiction [1]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Schedule E-13
Page 18 of 28
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
			nberofi			Co	nsumptio	n (MG)		Sch	edule Y	aar Rav	епцев
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Intenm	Factor 1/	Elasticity	Adjustment 2/	<u>1996 Final</u>	Rates	Revenue 3/	Rates	Revenue 4/
1	Residential												
2	5/8 x 3/4"	2,312	0.7194%	2,329						\$9.35	\$21,778	\$8.48	\$19,703
3	3/4"	12	0.7194%	12						\$9.35	\$112	\$12.69	\$152
4	1"	81	0.7194%	81						\$9.35	\$757	\$21.15	\$1,713
5	2-	12	0.7194%	12						\$9.35	\$112	\$67.88	\$812
6	Gallonage Charge/MG:												
7	0 - 3000				5,747	0.7021%	5,787	-7.3%	5,365	\$0.00	\$0	\$1.78	\$9,442
8	All excess				13,929	0.7021%		-7.3%	13,003	\$0.94	\$13,185	\$1.76	\$22,885
9	Total	2,417		2,434	19,876		19,814		18,368		\$35,942		\$54,707
	,		•			•		•					
10	Commercial Commercial												
11	5/8" x 3/4"	73	0.7194%	73						\$9.35	\$683	\$8.46	\$618
12	2-	12	0.7194%	12						\$9.35	\$112	\$67.68	\$812
13	Gallonage Charge/MG:												
14	0 - 3000				213	0.7021%	215	-3.9%	207	\$0.00	\$0	\$1.76	\$364
15	All excess		_		1,265	0.7021%	1,273	-3.9%	1,223	\$0.94	\$1,197	\$1.76	\$2,152
18	Total	85		85	1,478	'	1,488	•	1,430		\$1,992		\$3,946
	;		•			:		•			\$0	•	
17	GRAND TOTAL	2,502		2,519	21,154		21,302		19,798		\$37,934		\$58,653
	•		=					:				•	

- 1/ The projected bills and gallons for 1996 have been capped according to the meximum possible bills. Please refer to the Growth Projections packet for details.
- 2/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity edjustment.
- 3/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 4/ Revenue is computed using the projection of consumption after the price elasticity adjustment.

Notes

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

Company: SSU / St. John / Remington Forest

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Waterixl Wastewateri 1 Interim [] Final [x] Historical() Projected(x)

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis [1]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection fact	or on a separat	e schedule, i	f necessary. List	other classes or	meter size	s as epplicable	e			_		
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Nun	nber of B	ills		Сo	nsumptio	n (MG)		Sch	edule	Year Re	• v e n u e \$
Line	•	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Propose	d 1996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	Rates	Revenue	<u>Rates</u>	Revenue 4/
1	Residential												
2	5/8 x 3/4"	940	10.2429%	1,036						\$20.30	\$21,03	1 \$8.46	\$ 8,785
3	1"	7	10.2429%	8						\$20.30	\$16	2 \$21.15	\$189
4	Gallonage Charge/MG:												
5	All Gallonage		_		7,140	10.197%	7,868	-7.3%	7,293	\$0.00	\$		\$12,836
6	Total	947		1,044	7,140		7,868	•	7,293		\$21,19	3	\$21,770
7	GRAND TOTAL	947		1,044	7,140		7,868		7,293		\$21,19		\$21,770

FPSC

Schedule E-13

Supporting Schedules: E1-1, Projection Factor Tab

Page 19 of 28 Preparer, Bencini

- 1/ The projected bills, and gallons for 1996 have been capped according to the maximum possible bills. Please refer to the Growth Projections packet for details.
- 2/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.
- 3/ Revenue is computed using the projection of consumption before the price elasticity edjustment.
- 4/ Revenue is computed using the projection of consumption after the price elasticity edjustment.

Numbers may not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

Company: SSU / Citrus / Spring Gardens 1/

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as anyticable

calculat	ion of each projection fact	or on a separ	rate schedu	ile, if necessary.	. List other clas	ses or met	er sizes as ap	olicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	nsumptio	n (MG)		Sch	edule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Intenm	Factor 2/	1996 Final	1995 Interim	Factor 2/	Elasticity	Adjustment 3/	1996 Final	Rates	Revenue 4/	Rates	Revenue 5/
1	<u>Residential</u>												
2	5/8 x 3/4"	1,517	3.17%	1,565						\$6.88	\$10,767	\$8.46	\$13,240
3	Gallonage Charge/MG:												
4	All Gallonage				6,313	3.3014%	6,522	-7.3%	6,046	\$1.03	\$6,718	\$1.76	\$10,641
5	Total	1,517		1,565	6,313		6,522		8,046		\$17,485		\$23,881
	•					,						•	
6	Commercial												
7	5/8 x 3/4"	12	3.17%	13						\$6.88	\$89	\$8.46	\$110
8	2"	25	3.17%	28						\$55.04	\$1,431	\$67.68	\$1,760
8	Gallonage Charge/MG:												
9	All Gellonage				882	3.3014%	911	-3.9%	876	\$1.03	\$938	\$1.76	\$1,542
10	Total	37	•	39	682	'	911		876		\$2,458	•	\$3,412
	:		•			1							
11	GRAND TOTAL	1,554		1,604	7,195		7,433		6,922		\$19,943		\$27,293
			:						3,732		7.010		7-11,2-00

FPSC

Schedule E-13

Page 20 of 28

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Numbers mey not multiply due to the number of decimal places displayed (projected bills and gallons also contain decimal places that are not shown). May not tie to other schedules due to rounding.

^{1/} This plant was acquired in 1995.

^{2/} The projection factors used are the overall average projection factors for 1995 to 1996 growth for all plants.

^{3/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

^{4/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{5/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Lake / Valencia Terrace 1/

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [x] Reverse Osmosis []

FPSC

Schedule E-13 Page 21 of 28 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	nsumptio	n (MG)		Sch	edule Y	ear Rev	enues
Line	,	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 2/	1996 Final	<u>1995 Interim</u>	Factor 2/	Elasticity	Adjustment 3/	1996 Final	Rates	Revenue 4/	Rates	Revenue 5/
1	<u>Residential</u>												
2	5/8 x 3/4"	4,107	3.17%	4,237						\$6.39	\$27,074	\$8.46	\$35,845
3	Gallonage Charge/MG:												
4	All Gallonage		_		23,968	3,30%	24,760	-7.3%		\$0.67	\$16,589	\$1.76	\$40,396
5	Total	4,107		4,237	23,968		24,760		22,952		\$43,663	_	\$76,241
	'				_							-	_
6	<u>Commercial</u>												
7	5/8 x 3/4"	43	3.17%	45						\$6.39	\$288	\$8.46	\$381
8	1"	70	3.17%	72						\$15.99	\$1,151	\$21.15	\$1,523
9	1 1/2"	12	3.17%	13						\$31.96	\$415	\$42.30	\$550
10	2"	12	3.17%	13						\$ 51.14	\$665	\$87.68	\$880
11	Gallonage Charge/MG:												
12	All Gallonage		_		1,619	3.30%	1,673	-3.9%	1,607	\$0.67	\$1,121	\$1.76	\$2,828
13	Total	137		143	1,619		1,673		1,607		\$3,640	_	\$8,162
			•				**	i				-	
14	GRAND TOTAL	4,244		4,380	25,587		26,433		24,559		\$47,303		\$82,403
			: ;									I	

^{1/} This plant was acquired in 1995.

Notes:

Numbers may not multiply due to the number of decims! places displayed (projected bills and gellons also contain decimal places that are not shown). May not tie to other achedules due to rounding.

^{2/} The projection factors used are the overall average projection factors for 1995 to 1996 growth for all plants.

^{3/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

^{4/} Revenue is computed using the projection of consumption before the price elasticity edjustment.

^{5/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Polk / Gibsonia Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water(x) Wastewater() Interim[] Final(x) Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separete schedule, if necessary. List other classes or meter sizes as applicable.

CERCUIO	don or cach projection lac	Acri Oli a Scpai	010 30 1001	10, It 110003301	y. List outor caz	3303 OI 1110	101 3E03 E3 ED	piicabio.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Numl	ber of B	ills		Ço	nsumptio	n (MG)		S c l	nedule	Year Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	sent Rates	Proposed 1990	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	<u>Factor</u>	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	1,681	2.23%	1,718						\$4.48	\$7,697	\$6.46	\$14,534
3	1"	39	2.23%	40						\$4.48	\$179	\$21.15	\$846
4	2"	12	2.23%	13						\$4.48	\$58	\$67.68	\$880
5	Gallonage Charge/MG:												
6	All Gallonage				12,237	2.23%	12,510	-7.3%	11,597	\$0.54	\$6,755	\$1.76	\$20,411
7	Total	1,732		1,771	12,237		12,510	•	11,597		\$14,689		\$36,671
			i					•					
8	Commercial												
9	5/8 x 3/4"	223	2.23%	228						\$4.46	\$1,021	\$8.46	\$1,929
10	1"	49	2.23%	50						\$4.48	\$224	\$21.15	\$1,056
11	Gallonage Charge/MG:												
12	All Gallonage				1,755	2.23%	1,794	-3.9%	1,724	\$0.54	\$969	\$1.76	\$3,034
13	Total		•	276	1,755		1,794	•	1,724		\$2,214		\$6,021
		- M- 1-7-1 W - 11-11	;					•					
14	GRAND TOTAL	2,004		2,049	13,992		14,304		13,321		\$16,903		\$42,692
			:	_,,,,,,			- 1,521						

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1

Page 22 of 28

- 1/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity edjustment.
- 2/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 3/ Revenue is computed using the projection of consumption after the price elasticity adjustment.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Hillsborough / Hershel Heights

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water(x) Wastewater()
Interim() Final(x)

Historical() Projected(x)

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	SOTI OF GOOT PROJUCTION TOO				. 200 00.0. 0.00								
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Numb	er of B	ills		Co	nsumptio	n (MG)		Sch	edule Y	eer Rev	епцез
Line	•	Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic	Projected	Pres	ent Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Fina	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	3,586	0.13%	3,590						\$2.60	\$9,334	\$8.46	\$30,371
3	1"	53	0.13%	53						\$6.50	\$345	\$21.15	\$1,121
4	Gallonage Charge/MG:												
5	0 - 9,000				21,982	0.13%	22,011	-7.3%	20,404	\$1.11	\$24,432	\$1.76	\$35,911
6	All Excess Gallons				5,744	0.13%	5,751	-7.3%	5,331	\$1.56	\$8,972	\$1.76	\$9,383
7	Total [*]	3,639	•	3,643	27,726	•	27,762	•	25,735		\$43,083		\$76,786
	•		•			:			<u></u> -				
8	Commercial												
9	5/8 x 3/4"	84	0.13%	84						\$2.60	\$218	\$8.46	\$711
10	1"	60	0.13%	80						\$8.50	\$390	\$21.15	\$1,269
11	2"	48	0.13%	48						\$20.80	\$998	\$67.68	\$3,249
12	Gallonage Charge/MG:												
13	0 - 9,000				1,133	0.13%	1,135	-3.9%	1,091	\$1.11	\$1,260	\$1.78	\$1,920
14	All Excess Gallons				2,558	0.13%	-	-3.9%	2,461	\$1.56	\$3,995	\$1.78	\$4,331
15	Total	192	•	192	3,691		3,696	•	3,552		\$6,861	•	\$11,480
-			•			:		1					
16	GRAND TOTAL	3,831		3,835	31,417		31,458		29,287		\$49,9 <u>44</u>		\$88,266
,,,	3.71.0 . 3		:	0,000	01,417		01,400						

FPSC

Schedule E-13 Page 23 of 28

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Notes:

May not tie to other schedules due to rounding.

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Polk / Lake Gibson Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Schedule E-13
Page 24 of 28
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	nsumptio	n (MG)		Scl	nedule	Yaar Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	sent Rates	Proposed 1996	Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	9,122	0.71%	9,187						\$5,89	\$54,111	\$8.46	\$77,722
3	3/4"	40	0.71%	41						\$5.89	\$241	\$12.69	\$520
4	1"	24	0.71%	24						\$5.89	\$141	\$21.15	\$508
5	2"	12	0.71%	12						\$5.89	\$71	\$67.68	\$812
6	Gallonage Charge/MG:												
7	All Gallonage				69,555	0.71%	70,049	-7.3%	64,936	\$0.85	\$59,542	\$1.78	\$114,287
8	Total	9,198	•	9,264	69,555	•	70,049	•	64,936		\$114,106	,	\$193,849
			;					•				1	
9	Commercial												
10	5/8 x 3/4"	117	0.71%	118						\$5.89	\$695	\$8.46	\$998
11	1"	12	0.71%	12						\$5.89	\$71	\$21.15	\$254
12	1 - 1/2"	12	0.71%	12						\$5.89	\$71	\$42.30	\$508
13	Gallonage Charge/MG:												
14	All Gallonage				1,065	0.71%	1,073	-3.9%	1,031	\$0.85	\$912	\$1.76	\$1,815
15	Total	141		142	1,065	•	1,073	•	1,031		\$1,749	,	\$3,575
								•				:	
16	GRAND TOTAL	9,339		9,406	70,620		71,122		85,967		\$115,855		\$197,424

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a prica elasticity edjustment.

Notes:

May not tie to other schadules due to rounding.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

Schedule E-13
Page 25 of 28
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

FPSC

calcule	tion of each projection fac	ctor on a sepa	rate schedu	He, if necessary	. List other clas	ses or met	ter sizes as app	olicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		Co	n sumptio	n (MG)		Sch	redule '	Year Rev	/enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic	Projected	Pres	sent Rates	Proposed 199	96 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	2,798	0.58%	2,814						\$8.15	\$22,934	\$8.46	\$23,806
3	Gallonage Charge/MG:												
4	All Gallonage	_			18,036	0.58%	18,141	-7.3%	16,817	\$1.20	\$21,769	\$1.76	\$29,598
5	Total	2,798		2,814	18,036	:	18,141	!	16,817		\$44,703		\$53,404
6	GRAND TOTAL	2,798		2,814	18,036	•	18,141		16,817		\$44,703		\$ 53,404

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

Notes:

May not tie to other schedules due to rounding.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity edjustment.

Company: SSU / Hillsborough / Seaboard

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[]

Interim() Final(x) Historical() Projected(x)

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule if necessary.

Schedule E-13
Page 26 of 28
Preparer: Bencin!
Supporting Schedules: E1-1,
Projection Factor Tab

FPSC

CBICUIB	tion of each projection fa						ner sizes as a						
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
			ber of B			C٥	nsumptio	n (MG)		Sch	edule '	Year Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 199	6 Final Rates
<u>No.</u>	Class/Meter Size	<u>1995 Interim</u>	Factor	<u>1996 Final</u>	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	30,341	0.64%	30,535						\$9.09	\$277,563	\$8.46	\$258,326
3	Gallonage Charge/MG:												
4	0 - 9,000				177,300	0.64%	178,435	-7.3%	165,409	\$1.54	\$274,790	\$1.76	\$291,120
5	All Excess Galions				37,583	0.64%	37,823	-7.3%	35,062	\$2.00	\$75,646	\$1.76	\$61,709
6	Total	30,341		30,535	214,883		216,258		200,471		\$627,999		\$611,155
			•			•		•					
7	Multi-Family												
8	1 - 1/2"	12	0.64%	12						\$45.45	\$545	\$42.30	\$508
9	2*	12	0.64%	12						\$72.72	\$673	\$67.68	\$812
10	Gallonage Charge/MG:												
11	0 - 9,000				217	0.92%	219	0.0%	219	\$1.54	\$337	\$1.76	\$385
12	All Excess Gallons				23,273	0.64%	23,422	0.0%	23,422	\$2.00	\$46,844	\$1.76	\$41,223
13	Total	24		24	23,490	0.64%	23,641	•	23,641		\$48,599		\$42,928
		·				•		•					
14	Commercial												
15	5/8 x 3/4"	490	0.64%	493						\$9.09	\$ 4,481	\$8.46	\$4,171
16	1"	24	0.64%	24						\$22.73	\$546	\$21.15	\$508
17	1 - 1/2"	106	0.64%	106						\$45.45	\$4,818	\$42.30	\$4,484
18	2"	62	0.64%	63						\$72.72	\$4,581	\$67.68	\$4,264
19	3*	24	0.64%	24						\$136.35	\$3,272	\$135.36	\$3,249
20	Gallonage Charge/MG:												
21	0 - 9,000				3,637	0.63%	3,660	-3.9%	3,517	\$1,54	\$5,636	\$1.76	\$8,190
22	All Excess Galions				17,524	0.64%	17,636	-3.9%	16,948	\$2.00	\$35,272	\$1.76	\$29,828
23	Total	706		710	21,161	0.64%	21,298	•	20,465		\$58,606		\$52,694
						•							
24	GRAND TOTAL	31,071		31,269	259,534		261,195		244,577		\$735,204		\$706,777
						•							

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

Notes:

May not tie to other schedules due to rounding.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Hernando / Spring Hill

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim[] Final(x) Historical(] Projected(x)

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosia []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculat	ion of each projection fact	or on a sepan	ate schedul	e, if necessary	. List other class	as or meter	sizes as appli	cable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Numi	ber of B	illa		C٥	nsumptio	n (MG)				ear Rave	
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	277,457	3.10%	286,058						\$5.05	\$1,444,593	\$8.46	\$2,420,051
3	3/4"	49	3.10%	51						\$7.58	\$387	\$12.69	\$64 7
4	1"	16,879	3.10%	17,402						\$12.63	\$219,787	\$21.15	\$366,052
5	1 - 1/2"	53	3.10%	54						\$25.25	\$1,364	\$42.30	\$2,284
6	2"	34	3.10%	35						\$40.40	\$1,414	\$87.86	\$2,369
7	Gallonage Charge/MG:												
8	All Gallonage				3,046,924	3.10%	3,141,379	-7.3%	2,912,058	\$1.21	\$3,801,069	\$1.76	\$5,125,222
9	Total	294,472	'	303,600	3,046,924		3,141,379		2,912,058		\$5,468,814		\$7,916,625
	,												
9	Commercial												
10	5/8 x 3/4"	4,805	3.10%	4,954						\$5.05	\$25,018	\$8.46	\$41,911
11	1"	1,153	3.10%	1,186						\$12.63	\$15,004	\$21.15	\$25,126
12	1 - 1/2"	135	3.10%	139						\$25.25	\$3,510	\$42.30	\$5,860
13	2*	548	3.10%	565						\$40.40	\$22,826	\$67.66	\$38,239
14	3"	30	3.10%	31						\$80.80	\$2,505	\$135.36	\$4,196
15	6"	32	3.10%	33						\$252.50	\$6,333	\$423.00	\$13,959
16	Gallonage Charge/MG:												
17	All Gallonage				146,393	3.10%	150,931	-3.9%	145,045	\$1.21	\$182,627	\$1.76	\$255,279
16	Total	8,703	'	6,910	146,393		150,931	•	145,045		\$259,823		\$384,590
			1					:					
19	Emergency Standby Se	ervice											
20	5/8 x 3/4"	0	N/A	0						\$0.00	\$0	\$0.00	\$0
21	Gallonage Charge/MG:	•	,	•						******	**	*	*-
22	All Gallonage				0	N/A	0	N/A	0	\$1.21	\$0	\$1.76	\$0
23	Total	0					<u>~</u>			¥	\$0	2	\$0
			1	<u>_</u>				•					
24	GRAND TOTAL	301,175		310,510	3,193,317		3,292,310		3.057.103		\$5,728,437		\$8 303 215
47		301,175		310,310	3,165,317	:	3,232,310	•	3,057,103		÷3,720,737		\$8,303,215

FPSC

Schedule E-13

Supporting Schedules: E1-1,

Projection Factor Tab

Page 27 of 28 Preparer: Bencini

May not tie to other schedules due to rounding.

^{1/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.

^{2/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{3/} Revenue is computed using the projection of consumption after the price elasticity edjustment.

Company: SSU / Hillsborough / Vairico Hills

Docket No: 950495-W\$
Schedule Year Ended: 12/31/96
Water[x] Wastewater[]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	ion or each projection rac	tor on a separ	ate acricul	c, ii iiccessaiy	. LIST OURCE CHOSS	ICO OI IIICIOI	arres as abblicar	ле.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills		C	onsumption	(MG)		S¢	hedule	Year Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	sent Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
1	Residential												
2	5/8 x 3/4"	4,260	0.00%	4,260						\$9.50	\$40,470	\$8.46	\$38,040
3	Gallonage Charge/MG:												
4	All Galionage				38,775	-14.40%	33,190 4/	-7.3%	30,767	\$0.60	\$19,914	\$1.76	\$54,150
5	Total	4,260		4,260	38,775	•	33,190		30,767		\$60,384		\$90,190
6	GRAND TOTAL	4,260		4,260	38,775		33,190		30,767		\$60,384		\$90,190
			•			•							

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 28 of 28

- 1/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.
- 2/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 3/ Revenue is computed using the projection of consumption after the price elasticity adjustment.
- 4/ This plant is one of seven chosen to be included in a conservation program for 1996. Therefore, even though the growth projection is 0%, there is a negative growth in consumption due to the impact of the conservation program.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater [}
Interim [] Final [x]
Historical [] Projected [x]

4

Present: FPSC Uniform () FPSC Non-uniform [x] FPSC Non-jurisdiction ()

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 1 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interim and Rates. State residential westewater cap if one exists.

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
1	RESIDENTIAL, GENERAL, MULTI	-FAMILY SERVICES 2/		
2	5/8"x3/4"			\$23.62
3	3/4"			\$ 35. 43
4	1"			\$5 9.05
5	1 1/2"			\$118.10
6	2"			\$188.96
7	3"			\$377.92
8	4 "			\$590.50
9	6 ^r			\$1,181.00
10	8"			\$1,689.60
11	10"			\$2,716.30
12	GALLONAGE CHARGE / MG:			
13	All Gallonage			\$3.27
14	BULK RAW WATER - Marco Island	l		
15	5/8"x3/4"			\$0.00
16	3/4"			\$0.00
17	1"			\$0.00
16	1 1/2"			\$0.00
19	2"			\$0.00
20	3"			\$0.00
21	4"			\$0.00
22	6"			\$0.00
23	8"			\$0.00
24	10"			\$0.00
25	GALLONAGE CHARGE / MG:			
26	All Gellonage			\$1.82

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} Public Authority and Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 2 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
27	FIRE PROTECTION			
28	5/8"x3/4"			N/A
29	3/4"			N/A
30	1"			NA
31	1 1/2"			N/ A
32	2 " .			\$ 15.75
33	3"			\$ 31.49
34	4"			\$4 9.21
35	6"			\$98.42
36	8"			\$157.47
37	10"			\$226.36
38	GALLONAGE CHARGE / MG:			
39	All Gallonage			\$0.00

- 1/ Rates vary by plant. Refer to following pages for details.
- 2/ Please refer to the supporting schedules for details of the rate design.
- 3/ Public Authority end Irrigation are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Femily.

Company: SSU / Charlotte/Lee / Burnt Store

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Finel [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform (x) FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 3 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
1	RESIDENTIAL, GENERAL SERVICE 1/			
2	5/8">:3/4"	\$ 5.13	\$6.26	\$23.62
3	3/4"	\$7.70	\$9.40	\$ 35.43
4	1"	\$12.83	\$15.66	\$59.05
5	1 1/2"	\$25.66	\$31.32	\$116.10
6	2"	\$41.05	\$50.11	\$166.96
7	3"	\$82.10	\$100.22	\$377.92
8	4"	\$128.29	\$156.60	\$590.50
9	6"	\$256.57	\$313.19	\$1,161.00
10	8"	\$4 10.51	\$501.11	\$1,889.60
11	10"	\$590.11	\$720.35	\$2,716.30
12	GALLONAGE CHARGE / MG:			
13	All Gallonage	\$1.23	\$1.50	\$3.27
14	FIRE PROTECTION 2/			
15	5/8"x3/4"	N/A	N/A	N/A
16	3/4"	N/A	N/A	N/A
17	1"	N/A	N/A	N/A
16	1 1/2"	N/A	N/A	N/A
19	2"	\$13.69	\$16.71	\$15.75
20	3"	N/A	N/A	\$31.49
21	4"	\$42.76	\$52.20	\$4 9.21
22	6"	\$85 .53	\$104.41	\$96.42
23	8"	\$136.84	\$167.04	\$157.47
24	10"	\$196.70	\$240.11	\$226.36
25	GALLONAGE CHARGE / MG:			
26	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

^{2/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.485 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

FPSC Schedule: E1-1 Page 4 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
1	RESIDENTIAL, GENERAL, MULTI-FAMIL	Y SERVICES 1/			
2	5/8"x3/4"	\$7.88	\$9.62	\$23.62	
3	3/4"	\$11.83	\$14.44	\$35.43	
4	1"	\$19.71	\$24.06	\$59.05	
5	1 1/2*	\$39.42	\$48.12	\$118.10	
6	2*	\$83.07	\$78.99	\$188.96	
7	3"	\$126.14	\$153.98	\$377.92	
8	4"	\$197.09	\$240.59	\$590.50	
9	6"	\$394.19	\$481.19	\$1,181.00	
10	8*	\$630.70	\$769.90	\$1,889.60	
11	10"	\$906.63	\$1,106.72	\$2,716.30	
12	GALLONAGE CHARGE / MG:	-		• •	
13	All Gallonage	\$2.96	\$3.61	\$3.27	
14	BULK RAW WATER				
15	5/8"x3/4"	\$120.89	\$147.57	\$0.00	
16	3/4"	\$120.89	\$147.57	\$0.00	
17	1*	\$120.89	\$147.57	\$0.00	
18	1 1/2"	\$120.89	\$147.57	\$0.00	
19	2*	\$120.89	\$147.57	\$0.00	
20	3"	\$120.89	\$147.57	\$0.00	
21	4"	\$120.89	\$147.57	\$0.00	
22	6"	\$120.89	\$147.57	\$0.00	
23	8"	\$120.89	\$147.57	\$0.00	
24	10"	\$120.89	\$147.57	\$0.00	
25	GALLONAGE CHARGE / MG:	¥	******	*****	
28	All Gallonage	\$0.64	\$0.78	\$1.82	

^{1/} Imigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

597

SCHEDULE OF WATER RATES - 1996 Summary of Proposed Rates for Proposed Reverse Osmosis Treatment

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [x] Wastewater [}
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-1 Page 5 of 5 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Explanation: Provide a schedule of present, interim and Rates. Stata residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
27	FIRE PROTECTION 2/			
28	5/8"x3/4"	N/A	N/A	N/A
29	3/4"	N/A	N/A	N/A
30	1"	N/A	N/A	N/A
31	1 1/2"	N/A	NA	N/A
32	2*	\$21.02	\$25.66	\$15.75
33	3"	\$42.05	\$51.33	\$31.49
34	4"	\$65.70	\$80.20	\$4 9.21
35	6"	\$131.40	\$160.40	\$98.42
36	8*	\$210.23	\$256.83	\$157.47
37	10°	\$302.21	\$368.91	\$226.36
38	GALLONAGE CHARGE / MG:			
39	All Gallonage	\$0.00	\$0.00	\$0.00

^{1/} Irrigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General.

^{2/} The decrease in Fire Protection rates from 1995 to 1996 is the result of FAC Rule 25-30.465 which states, in part, that the Fire Protection rate be 1/12 of the normal base facility charge. The previous version of the FAC used 1/3 of the base rate, upon which the 1995 rate is based.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1996 Billing Determinants for Reverse Osmosis

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary Docket No.: 950495-WS

Schedule Year Ended: 12/31/96 Water [x] Wastewater []

Interim () Final [x]

Historical [] Projected [x]
Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-Jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC Schedule: E1-2 Page 1 of 2 Preparer: Bencini Supporting Schedules: E1-3,E1-4

Explanation: Provide a schedule of variables used in the rate design.

	(1)	Ø	(P)	(9	(A) ERC's	(6)	(I)	(45)	(%) Consumption	(10)	(11)	(12)	(13) REVI	(14) ENUES	(18)
						Factored		Price	Price Elegitally		Fectored	BFC		Gallon	age
ine	Plant		Motor	1996	Motor	ERC's	Billed	Elepticity	Adj. Gallonage	Gallonage	Gallonage	Rates .	Revenue	Rates / MG	Revenue
lo.	Nome	Clube	Size	BBbs	Factor 1/	CFCS	Usage	Adjust 2	C7*(1+C8)	Factor 3/	C9°C10	(C7,L58) * C5	CPC12	(C7,L59)°C10	(C9/1000)*C14
FI	PSC Juris. Reverse Comocis Plant	3													
1	Burnt Store F	los.	5/8" X 3/4"	6,824	1.0	6,824	26,104,715	-2.40%	25,478,202	1.0	25,478,202	\$23.62	\$161,163	\$3.27	\$83,314
2			1"	86	2.5	220	500,367	-2.40%	488.378	1.0	488,378	\$59.05	\$5,198	\$3.27	\$1,597
3		Aulti-Fam.	1*	177	2.5	443	4,838,993	0.00%	4,838,993	1.0	4,838,993	\$59.05	\$10,452	\$3.27	\$15.82
4			1 1/2"	334	5.0	1,670	5,658,753	0.00%	5,658,753	1.0	5,658,753	\$118.10	\$39,445	\$3.27	\$18,50
5			2"	177	0.0	1,416	8,434,819	0.00%	6,434,819	1.0	6,434,619	\$188.98	\$33,446	\$3.27	\$27,58
8			41	9	25.0	225	741,227	0.00%	741,227	1.0	741,227	\$590.50	\$5,315	\$3.27	\$2,42
7			6"	13	80.0	1,040	470,365	0.00%	470,365	1.0	470,365	\$1,889.60	\$24,565	\$3.27	\$1,53
8	C	iom.	5/8" X 3/4"	273	1.0	273	2,619,756	-4.00%	2,514,966	1.0	2,514,966	\$23.62	\$6,448	\$3.27	\$8,22
9			1*	217	2.5	543	8,726,401	-4.00%	6,457,345	1.0	8,457,345	\$59.05	\$12,814	\$3.27	\$21,11
10			1 1/2"	118	5.0	580	4,054,132	-4.00%	3,891,967	1.0	3,891,967	\$116,10	\$13,700	\$3.27	\$12,72
11			2"	197	9.0	1,578	11,124,798	-4,00%	10,879,806	1.0	10,679,806	\$188.96	\$37,225	\$3.27	\$34,92
12			4"	22	25.0	550	1,248,042	-4.00%	1,196,200	1.0	1,196,200	\$590.50	\$12,991	\$3.27	\$3,91
13	P	tub. Auth.	6"	12	50.0	600	12,978,425	-4.00%	12,459,288	1,0	12,459,288	\$1,181.00	\$14,172	\$3.27	\$40,74
14	P	tiv. Fire Prot.	6"	9	6.7	80	0	0.00%	0	0.0	0	\$158.25	\$1,424	\$0.00	
15 84	ub, FPSC Juris, R.O. Plants			8,466		18,019	85,496,613		83,310,306		63,310,300		\$378,378		\$272,42
F	PSC Juris, Non-Uni, R.O. Plants														
18		les.	5/8" X 3/4"	27,298	1.0	27,298	254,218,841	-2.40%	248,115,637	1.0	248,115,637	\$23.62	\$844,779	\$3.27	\$811,33
17	F	es.	34"	2	1.5	3	47,019	2.40%	45,891	1.0	45,891	\$35.43	\$71	\$3.27	\$15
18	F	es.	1"	36,132	2.5	90,330	812,939,119	-2.40%	793,428,580	1.0	793,428,580	\$59.05	\$2,133,595	\$3.27	\$2,594,51
19	F	les.	1 1/2"	133	5.0	665	8,979,438	-2,40%	6,811,631	1.0	6,811,931	\$118.10	\$15,707	\$3.27	\$22,27
20	•	les.	r	15	B.0	120	1,058,367	-2.40%	1,032,968	1.0	1,032,966	\$136.96	\$2,834	\$3.27	\$3,37
21	N.	tuiti-Fam.	5/8" X 3/4"	57	1.0	57	767,018	0.00%	767,016	1.0	767,018	\$23.62	\$1,346	\$3.27	\$2,50
22	N	luiti-Fam.	1"	57	2.5	143	1,540,164	0.00%	1,540,164	1.0	1,540,164	\$59.05	\$3,366	\$3.27	\$5.03
23	N	lulti-Fam.	1 1/2"	269	5.0	1,345	13,054,627	0.00%	13,054,627	1,0	13,054,627	\$118.10	\$31,769	\$3.27	\$42.66
24	N N	tuiti-Fam.	2*	752	8.0	8,016	\$5,331,095	0.00%	55,331,095	1.0	55,331,095	\$188.96	\$142,098	\$3.27	\$180,93
25	N.	tuiti-Fam.	3*	343	18.0	5,488	55,734,234	0.00%	55,734,234	1.0	55,734,234	\$377.92	\$129,627	\$3.27	\$182,25
26	N.	tuiti- Fam.	4*	404	25.0	10,100	123,955,543	0.00%	123,955,543	1.0	123,955,543	\$590.50	\$238,582	\$3.27	\$405,33
27	N.	Luiti-Fern .	6"	34	50.0	1,700	11,578,914	0.00%	11,579,914	1.0	11,578,914	\$1,181.00	\$40,154	\$3.27	\$37,86
28	C	om.	5/8" X 3/4"	2,001	1.0	2,001	14,485,966	-4.00%	13,906,546	1.0	13,906,546	\$23.62	\$47,264	\$3.27	\$45,47
29	C	om.	1"	1,280	2.5	3,200	29,691,340	-4.00%	28,503,686	1.0	28.503,686	\$59.05	\$75,584	\$3.27	\$93.20
3G	C	OM.	1 1/2"	488	5.0	2,440	35,586,434	-4.00%	35,122,977	1.0	35,122,977	\$118.10	\$57,633	\$3.27	\$114,85
31	C	om.	2*	417	8.0	3.336	74,039,110	-4.00%	71,077,546	1.0	71,077,546	\$196.96	\$78,798	\$3.27	\$232.44
32	C	om.	3"	13	16.0	206	3,718,049	-4.00%	3,569,327	1.0	3,569,327	\$377.92	\$4,913	\$3.27	\$11,87
33	C	om,	4"	26	25.0	650	34,262,092	-4.00%	32,891,608	1.0	32,891,608	\$590.50	\$15,353	\$3.27	\$107,54
34	C	OFFI.	6°	25	50.0	1,250	68,222,340	-4.00%	65,493,446	1.0	65,483,446	\$1,181.00	\$29,525	\$3.27	\$214,16
35	C	om.	10"	13	115.0	1,495	30,117,682	-4.00%	29,912,975	1.0	28,912,975	\$2,718.30	\$35,312	\$3.27	\$94,54
36	ir	r.	5/8° X 3/4°	128	1.0	128	1,163,233	-4.00%	1,118,704	1.0	1,118,704	\$23.62	\$3,023	\$3,27	\$3,65
37	.	r.	1*	892	2.5	1,730	27,226,737	-4.00%	26,137,686	1.0	26,137,686	\$59.05	\$40,863	\$3.27	\$85,470

SCHEDULE OF WATER RATES - 1996 Billing Determinants for Reverse Camosia

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wasternater [] Interim [] Fine! [x] Historical [] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-Jurisdiction (1)

Proposed: Conventional [] Reverse Campais [x]

Explanation: Provide a actuable of variables used in the rate decion.

FPSC Schedule: E1-2 Page 2 of 2 Preparer: Bencini Supporting Schedules: E1-3.E1-4

\$11,579,583

\$11,578,594

	(1)	(2)	(21)	(9)	(f) ERC's	(49)	n	(4)	(9) CONSUMPTION	(19)	(11)	(12)	(12) REV	(14) ENUES	(16)
						Fectored		Price	Price Elecitcity		Factored	BFC		Gallon	ige
Line	Plant		Motor	1995	Mater	ERC's	Billed	Electicity	Aci. Gellonege	Gellonege	Gallonege	Ratio .	Revenue	Rates / NG	Pavenue
No.	Name	Class	Stae	B ills	Factor 1/	CITCS	Ueage	Adjust 2/	C7"(1+C8)	Factor 3/	C9°C10	(C7,L58) * C5	CPC12	(C7,L59)*C10	(C9/1006)*C14
38	Marco Island (cont.)	π.	1 1/2"	744	5.0	3,720	83,226,455	4,00%	79,897,397	1.0	79,897,397	\$110,10	\$87,866	\$3.27	\$261,264
30	` ` ` I	π.	2"	1,170	8.0	9,360	271,950,352	-4,00%	261,072,338	1.0	261,072,338	\$169.96	\$221,083	\$3.27	\$853,707
40		π.	3"	51	18.0	616	86,400,546	-4,00%	82,944,524	1.0	82,944,524	\$377.92	\$19 <i>,2</i> 74	\$3.27	\$271,229
41		π .	4"	13	25.0	325	2,556	-4.00%	2,454	1.0	2,454	\$590.50	\$7,677	\$3.27	\$8
42	F	terw Water	6*	12	0.0	0	38,072,000	0.00%	38,072,000	0.0	0	\$0.00	\$0	\$0.00	\$0
43	F	hiv. Fire Prot.	3"	3	1.3	4	0	0.00%	0	0.0	0	\$30.71	\$92	\$0.00	\$0
44	F	Priv. Fire Prot.	4"	150	2.1	315	0	0,00%	0	0.0	ទ	\$49.80	\$7,440	\$0.00	\$0
45	E .	Priv. Fire Prot.	6"	487	4.2	1,961	0	0.00%	0	0.0	0	\$99.20	\$46,326	\$0.00	\$0
46	ı	Priv. Fire Prot.	6"	471	6.7	3,156	0	0.00%	0	0.0	0	\$158.25	\$74,536	\$0.00	\$0
47	ı	Priv. Fire Prot.	10"	61	9.6	586	0	0.00%	0	0.0	0	\$226.75	\$13,632	\$0.00	\$0
49 Sui	b. FPSC Juris. Non-Unl. R.O. Pla	mbs .		73,721		179,945	2,136,367,288		2,080,117,793	,	2,042,045,793		\$4,250,300		\$6,677,491
49 To	al FPSC Juris, R.O. Plants			82,189	,	195,984	2,221,866,101		2,163,428,101		2,125,356,101		\$4,628,676		\$6,949,916

50	1996 Proposed Finel R.O. Revenue Req. from Schedule B-1(W)	\$11,548,874.00	Total Reverse Requirement
51	Mon-Standard Ratin Design Revenue Decrease 4/	\$69,291.04	Total Calculated Revenues
52	Revenue Requirement Target	\$11,579,562.96	Amount Under Target
53	Base Facility Charge Revenue Req. (40% of Target)	\$4,631,833,18	
54	Gallonege Charge Revenue Req. (80% of Target)	\$8,947,749,78	
56	Total Revenue Requirement	\$11,579,582,96	
56	Base Facility Charge (C7,L53) / (C8,L49)	\$23.64	
57	Gallonage Charge (C7,L54) / ((C11,L48)/1900))	\$3.27	
58	Adj. BFC ((C7,156) - \$0.02) needed to achieve Revenue Target	\$23.52	
59	Adj. Gallonage Charge ((C7,157) no change)	\$3.27	

Note: May not sie to other schedules due to rounding.

^{1/} Meter factors are standard FPSC accepted rate design meter factors. The Private Fire Protection factor is 1/12th of the normal meter factor per FAC Rule 25-30,465.

^{2/} Please refer to the Waterate Model Summary in Volume V, summary section for details.

^{3/} The gallonage factor is used to set Private Fire Protection consumption to 0 since it is not billed and should not be part of the gallonage rate setting process.

^{4/} For classes of service where a special contract exists, or do not it standard rate design methods, this is the approximate revenue that will be collected. This revenue then, should not be included in the standard rate eating process.

267

SCHEDULE OF WATER RATES - 1996
Water Conservation Program Adjustments 1/

Company: SSU / FPSC Jurisdiction / Proposed Reverse Osmosis Treatment

Docket No.: 950496-WS Schedule Year Ended: 12/3/96 Water [x] Westewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Revenue Osmosis [x]

Explanation: F	rovide a achedule of plants effected by our co	maerimion program and the	gallonage effect.						
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(11)	(9)
				Class.		Clase Specific		Total	
			1996	PaL of	All Classes	Cons. Prog.		Cons. Prog.	Adj. 1996
Line	Plant		Projected	Consumption 3/	Cons. Prog.	Sevings	Rouse Project	Savings	Consumption 6/
Mo.	Hamo	Class 2/	Consumption	C3/(C3,P5)	Sevings 4	(C5,L1)*C4	Savings &	CB+C7	C3-C8
FPS	SC Jurin, R. O. Plants								
1	Maroo Island	Residential	1,114,571,792	49.77%	79,022,500	39,330,847		39,330,847	1,075,240,945
2		Multi-Femily	328,296,535	14.66%		11,584,880	54,750,000	66,334,680	261,961,665
3		Commercial	309,339,083	13.81%		10,915,913	7,300,000	18,215,913	291,123,170
4		Irrigation	487,160,811	21.75%		17,190,860		17,190,860	469,969,951
5 Tot	al FPSC Jurie, R. Q. Plants		2,239,368,221	100,00%	79,022,500	79,022,500	62,050,000	141,072,500	2,098,295,721

FPSC

Scheduler F1-3

Premerer Bencini

Page 1 of 1

- 1/ Please refer to the testimony of Carlyn Kowalsky for inormation about our conservation program.
- 2/ The conservation program is mainly targeted at residential customers, but on Marco Island the acope of the program has been enhanced to include other classes of service.
- 3/ The concernation program in Merco Island encompasses multiple classes. To spread the savings among the classes, a ratio of class to the total concumption has been used.
- 4/ Please refer to the testimony of Carlyn Kowalsky for detailed inormation about our conservation program savings.
- 5/ There are two reuse projects planned for Maxoo Island in 1998. One is the Hidseway Beach Club. The projected usage is 150,000 gallons a day. The other is the Tommie Barfield School. The projected usage is 20,000 gallons a day. These numbers have been multiplied by 365 to get the amount to subtract from the potable water requirement.
- 6/ This is the consumption that has been used on the 1998 Projected Final E schedules before price elasticity adjustments.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1996

Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Doctor No.: 950495-WS
Schedule Year Ended: 12/31/96
Weller (x) Wastewater ()
Interim [] Final [x]
Historical (] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: Conventional [x] Reverse Osmosis [x]

Explanation: Provide a summary schedule of the Waterste software tool inputs and outputs.

FPSC Schedule: E1-4 Page 1 of 3 Preparer: Bencini

		Conventional	Reverse
Revenues 2/		Trealmost	Cornocia
1 Original Rev. Reg. Less Direct Short Run Exp.		\$29,445,134	\$10,458,202
2 Direct Short Run Expenses 3/		\$3,894,816	\$1,218,241
3 Total Criginal Revenue Requirement		\$32,339,950	\$11,876,443
4 Direct Short-Run RR Price Elastic Change 4/		-\$167,368	-\$32,872
5 Adjusted Revenue Requirement	L3-1.4	\$32,172,582	\$11,643,571
6			
7 BFC Revenues	40% * L5 5/	\$12,869,033	\$4,857,428
8 Gallonage Revenues	60% * L5 5/	\$19,303,548	\$8,988,143
9 Total Revenues to be Collected from Rates	L7+L8	\$32,172,582	\$11,643,571
0			
1 Billing Determinants 6/			
2 Projected Monthly ERCs		127,319	16,324
3 Projected Consumption TG		11,762,169	2,163,794
4			
5 Projected Residential Consumption TG		10,593,319	1,101,846
6 Projected Multi-Family Consumption TG		105,382	262,106
7 Projected Other Consumption TG 7/		1,063,468	799,843
8 Total Projected Consumption TG	L15+L16+L17	11,762,169	2,183,795
9			
0 Price Electicity Adjustments 8/			
1 Residential Price Elasticity Change TG		-776,086	-25,914
2 Multi-Family Price Elasticity Change TG		0	0
3 Other Price Elasticity Change TG		-41,179	-31,841

270

SCHEDULE OF WATER RATES - 1996 Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: Conventional (x) Reverse Osmosis (x)

Explanation: Provide a summary echedule of the Waterate software tool inputs and outputs.

FPSC Schedule: E1-4 Page 2 of 3 Preparer: Bencini

		Conventional Treatment	Reverse Comosia
Price Elasticity Adjustments cont. 8/			
24 Total Price Elasticity Change TG	L21+L22+L23	-817,265	-57,755
25			
28 Adjusted Projected Consumption TG	L18+L24	10,944,904	2,126,040
27			
28 Residential Price Elasticity Change Percentage	L21/L15	-7.3%	-2.4%
29 Multi-Family Price Elesticity Change Percentage	L22/L18	0.0%	0.0%
30 Other Price Elasticity Change Percentage	L23/L17	3.9%	4.0%
31 Overall Price Elasticity Change Percentage	L24/L18	-6.9%	-2.6%
32			
33 Preliminary Rate Calculations 9/			
34 BFC Rate	(L7/L12)/12	\$8.42	\$23.78
35 Gallonage Charge	L8/L26	\$1.78	\$3.29

- 1/ The information on this echeckle is a brief summery of some of the inputs and outputs from the Waterate software tool.
 Refer to the testimony of John Whitcomb, Ph.D. for the complete set of input and output tribites and discussion of the model.
- 2/ Revenues are required income from Schedule B-1. The numbers are slightly different due to an increase in the payroll tax which was not ran back through the Waterate model because the impact would have been minimal. The difference in revenues for Conventional Treatment is \$36,798 (B1 revenue is higher), and for Reverse Osmosis the difference is \$5,303 (B1 revenue is higher).
- 3/ Direct short-run revenue requirements is composed of purchased power, purchased water and chemicals. These are expenses that are directly related to water volume.

SCHEDULE OF WATER RATES - 1996 Summary of Waterate Software Inputs and Outputs 1/

Company: SSU / Total Company / Proposed Conventional and Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [x] Reverse Osmosis [x]

Explanation: Provide a summery schedule of the Waterate software tool inputs and outputs.

FPSC Schedule: E1-4 Page 3 of 3 Preparer: Bencini

Conventional Treatment Reverse Osmosis

- 4/ The predicted price elasticity driven decrease in consumption would also reduce the direct short-run costs. Refer to the testimony of John Whitcomb, Ph.D. for a detailed explanation of the Waterate model.
- 5/ The 40% base and 60% gallonage split for revenues is being used for this rate case. This qualities as a conservation promoting rate structure according to the Brown & Caldwell weighting definition. Refer to the testimony of John Whitcomb, Ph.D. for details.
- 6/ The billing determinants provided did not include bulk water from Marco Island. The ERCs are stated as monthly numbers because that is how they are used in the Waterate software tool. The consumption number is after the conservation program adjustments. Refer to schedule E1-2 in the 1996 Conventional Treatment and Reverse Osmosis tabs for details.
 These numbers may not tie to other schedules due to rounding.
- 7/ Other consumption includes commercial, public authority and irrigation. SSU book the conservative approach by classifying irrigation in the same classification as commercial. This was done because the breakout of our irrigation customers by residential, multi-family and commercial classes is not possible at this time.
- 8/ The price elasticity adjustments are outputs from the Watereie software tool. They have been convented from a gallonage number to a percentage for application purposes. Please refer to the testimony of John Whitcomb, Ph.D. for details.
- 9/ The preliminary rates are derived from the Waterata software tool. They do not exactly match our final rates due to rounding and the slight increase in revenue requirements not taken into consideration in Waterate. In addition, any non-standard rate design classas (like raw water in the reverse comosis treatment category), are not included.

Notes about the Weterate simulation:

Assumed 75% of long-run price elastic response.

Assumed long-run nonresidential price elasticity of -0.20 (0 for mult-ifamily and -25 for other).

Fire protection BFC is 1/12 of BFC.

Bill frequency information based on 1994 water use consumption.

Non-uniform historical gallonage and sewer charges based on weighted average of prices.

THIS PAGE INTENTIONALLY LEFT BLANK

2

SCHEDULE OF MATER REVENUE AT PRESENT AND PROPOSEO RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[] Reverse Osmosis[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1

Page 1 of 11 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Line	-	19	96 PROJECTED FINAL (P	RESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	····	Consumption(MG)	Revenues	_8il1s	Consumption(MG)	Rate	Revenues	
1	RESIDENTIAL								
2	5/8"x3/4"	34,122		\$250,115	.34,122		\$23.62	\$805,962	
3	Full 3/4"	2		\$24	2 00 000		\$35.43	\$71	
4	1"	36,220		\$713,291	36.220		\$59.05	\$2,138,791	
5	1 1/2" 2"	133 15		\$5,243 \$946	133 15		\$118.10	\$15,707	
7	Gallonage Charge/MG	15		3340	15		\$188.96	\$2,834	
Ŕ	All Gallonage		1,101,846	\$3,215,437		1,075,402	\$3.27	\$3,516,565	
ğ	Total RESIDENTIAL	70,492	1,101,846	\$4,185,056	70,492	1,075,402	#3.27	\$6,479,930	
10	Ave cust/cons/bill/mth	5,874	15.631	\$59.37	5.874	15.256		\$91.92	
11	MULTI-FAMILY								
12	5/8"x3/4"	57		\$449	57		\$23.62	\$1,346	
13	1"	234		\$3,394	234		\$59.05	\$13,818	
14	1 1/2"	603		\$ 19,174	603	•	\$118.10	\$71,214	
15 16	2"	929		\$ 54.695	929		\$188.96	\$ 175,544	
16	3*	343		\$43,266	343		\$377.92	\$129,627	
17 18	4"	413		\$80,779	413		\$590.50	\$243,877	
18	6" 8"	34		\$13,402	34		\$1,181.00	\$40,154	
19 20	Gallonage Charge/MG	13		\$5,337	13		\$1,889.60	\$24,565	
21 22	All Gallonage Total MULTI-FAMILY	7.626	282,106	\$800,185	2.636	282,106	\$3.27	\$922,487	
23	Ave cust/cons/bill/mth	2.626 219	282,106 107,428	\$1,020,681 \$388.68	2,626 219	282.106 107.428		\$1,622,632	
23	AVE CUSC/CONS/DITI/IIICH	213	107.420	300.00	219	107.420		\$617.91	

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[] Reverse Osmosis[x]

SCHEDULE: E2·1 Page 2 of 11

FPSC

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

14	_	1996 PROJECTED FINAL (PRESENT RATES) 1/			1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size	Cor	sumption(NG)	Revenues	<u>Bills</u>	Consumption(MG)	Rate	Revenues	
24	COMMERCIAL								
25	5/8"x3/4"	2,274		\$17,168	2,274		\$23.62	\$53,712	
26 27 28	1*	1,497		\$28,013	1,497		\$59.05	\$88,398	
27	1 1/2"	604		\$22,214	604		\$118.10	\$71,332	
28	2"	614		\$34,387	614		\$188.96	\$116,021	
29	3"	13		\$1,640	13		\$377.92	\$4,913	
30 31	4"	48 25		\$7,946	48		\$590.50	\$28,344	
31	6 "	25		\$9,855	25		\$1,181.00	\$29,525	
32	10"	13		\$11.786	13		\$2,716.30	\$35,312	
33	Gallonage Charge/MG								
34	All Gallonage		316.894	<u>\$893,422</u>		304,218	\$3.27	<u>\$994,793</u>	
35	Total COMMERCIAL	5,088	316,894	\$1,026,431	5,088	304,218		\$1,422,350	
36	Ave cust/cons/bill/mth	424	62.283	\$201.74	424	59.791		\$279,55	
37	IRRIGATION					,			
38	5/8"x3/4"	128		\$1,009	128		\$23.62	\$3,023	
39	1"	692		\$13,639	692		\$59.05	\$40,863	
40	1 1/2"	744		\$29,328	744		\$118.10	\$87,866	
41	2"	1.170		\$73,792	1,170		\$188.96	\$221,083	
42	3"	51		\$6,433	51		\$377.92	\$19,274	
43	4"	13		\$2,562	13		\$590.50	\$7,677	
44	Gallonage Charge/MG			72,002	10		,	*****	
45	All Gallonage		469,970	\$1,391,111		451,171	\$3.27	\$1,475,329	
46	Total 1RRIGATION	2,798	469.970	\$1,517,874	2,798	451,171		\$1,855,115	
47	Ave cust/cons/bill/mth	233	167.966	\$542.49	233	161.248		\$663.01	

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSEO RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 3 of 11 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line		19	96 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJ	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	!	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues		
48 49 50 51	PUBLIC AUTHORITY 6" Gallonage Charge/MG All Gallonage	12	12.978	\$3,079 \$15,062	12	10.450	\$1,181.00	\$14,172		
52 53	Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	12 1	12,978 12,978 1081.50	\$15.963 \$19.042 \$1.586.83	12 1	12,459 12,459 1038.25	\$3.27	\$40,741 \$54,913 \$4,576.08		
54 55 56	RAW WATER 6" Gallonage Charge/MG	12		\$1,451	12		\$0.00	\$0		
57 58 59	All Gallonage Total RAW WATER Ave cust/cons/bill/mth	12 1	38,072 38,072 31 7 2.67	\$24,366 \$25,817 \$2,151,42	<u> 12</u>	38,072 38,072 3172.67	\$1.82	\$69,291 \$69,291 \$5,774.25		

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-uniform(x) FPSC Non-jurisdiction(x)

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 4 of 11 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calc	ulation of revenu	es at present	and proposed ra	tes using the l	billing analysis. Explain any	differences			
between these revenues and	booked revenues.	If a rate cl	nange occured dur	ing the test ye	ear, a revenue calculation mus	st be made for	r each period.		
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	

		1996 F	ROJECTED FINAL (PRE	SENT RATES) 1/	1996 PROJE	DECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No.	Class/Meter Size	Cons	sumption(MG)	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues	
60 61 62 63 64 65	FIRE PROTECTION 3" 4" 6" 8" 10"	3 150 467 480 61		\$126 \$9,855 \$61,364 \$100,250 \$18,435	3 150 467 480 61		\$31.49 \$49.21 \$98.42 \$157.47 \$226.36	\$94 \$7,382 \$45,962 \$75,586 \$13,808	
66 67 68 69	Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	1.161	0 0.000	\$0 \$190,030 \$163.68	1.161 97	0.000	\$0.00	\$142,832 \$123.02	
70 71 72 73	TOTAL ANNUALIZED SALES I UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/		\$7,984,931 \$0 \$30,770 \$8,015,701		,		\$11,647,063 \$0 \$30,770 \$11,677,833	

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John 8. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to the 1996 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPDSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / BURNT STORE

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Historical[] Projected[x]
Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 5 of 11 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line	-	1996	PROJECTED FINAL	(PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/						
No.	Class/Meter Size	<u>c</u> o	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues			
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	6.824 88		\$5.13 \$12.83	\$35,007 \$1,129	6,824 88		\$23.62 \$59.05	\$161,183 \$5,196			
5 6 7	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	6,912 576	26,605 26,605 3.849	\$1.23	\$32,724 \$68,860 \$9,96	6,9 <u>12</u> 576	25, 967 25, 967 3,757	\$3.27	\$84,912 \$251,291 \$36,36			
8 9 10 11 12 13	MULTI-FAMILY 1" 1 1/2" 2" 4" 8" Gallonage Charge/MG	177 334 177 9 13		\$12.83 \$25.66 \$41.05 \$128.29 \$410.51	\$2,271 \$8,570 \$7,266 \$1,155 \$5,337	177 334 177 9 13		\$59.05 \$118.10 \$188.96 \$590.50 \$1,889.60	\$10,452 \$39,445 \$33,446 \$5,315 \$24,565			
15 16 17	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	710 59	20,144 20,144 28,372	\$1.23	\$24.777 \$49.376 \$69.54	710 59	20.144 20.144 28.372	\$3.27	\$65,871 \$179,094 \$252.25			

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / BURNT STORE

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 6 of 11 Preparer: 8encini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line		199	6 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	<u>C</u>	onsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
18 19 20 21 22 23 24	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 4" Gallonage Charge/MG	273 217 116 197 22		\$5.13 \$12.83 \$25.66 \$41.05 \$128.29	\$1.400 \$2.784 \$2.977 \$8.087 \$2.822	273 217 116 197 22		\$23.62 \$59.05 \$118.10 \$188.96 \$590.50	\$6,448 \$12,814 \$13,700 \$37,225 \$12,991	
25 26 27 28	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	<u>825</u> 69	25,771 25,771 31,238	\$1.23	\$31,698 \$49,768 \$60.32	82 <u>5</u> 69	24,740 24,740 29,988	\$3.27	\$80,900 \$164,078 \$198.88	
29 30 31 32 33	6" Gallonage Charge/MG All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	12 12 1	12,978 12,978 1081.50	\$256.57 \$1.23	\$3.079 \$15.963 \$19.042 \$1,586.83	12 ————————————————————————————————————	12,459 12,459 1038.25	\$1,181.00 \$3.27	\$14.172 \$40.741 \$54.913 \$4.576.08	

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / BURNT STORE

Docket No.: 950495-WS

Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]

TOTAL REVENUES

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 7 of 11

Preparer: Bencini

Supporting Schedules: E1-1, E-13

\$655,748

betwee	en these revenues and book	ced revenues. If	a rate change occured	during the test year.	a revenue calculation	must be made for ea	ch period.	
	(1)	(2)	(3)	(5)	(7)	(8)	(9)	(10)
	_	1996 PR	OJECTED FINAL (PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPOSE	D FINAL RATES	5) 2/
Line <u>N</u> o	Class/Neter Size	Consu	mption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
34 35	FIRE PROTECTION	9	\$136.84	\$1.232	· •		\$157.47	\$1,417
36	Gallonage Charge/MG	•		V1, LUL	,		4107,47	41,717
37	All Gallonage _		<u> </u>	\$0	·	0	\$0.00	
38	Total FIRE PROTECTION _	<u>9</u>	0	\$1 232	9	0		\$1,417
39	Ave cust/cons/bill/mth	1	0.000	\$136.89	Ī	0.000		\$157.44
40	TOTAL ANNUALIZED SALES R	REVENUES 3/		\$188.278				\$650.793
41	UNSILLED REVENUE			\$0				\$0
42	OTHER REVENUE 4/			\$4,955				\$4,955
40	TOTAL DEVENUES			4100 000				- 41,500

\$193,233

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

^{1/} Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

^{2/} Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept. Total annualized revenues may not tie to other schedules due to rounding at the plant level vs. summary level.

^{4/} Refer to the 1996 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

SCHEDULE: E2-1 Page 8 of 11

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	19	96 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPOS	ED FINAL RATES	5) 2/
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	8i11s	Consumption(HG)	Rate	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2"	27,29 8 2 36,132 133		\$7.88 \$11.83 \$19.71 \$39.42	\$215,108 \$24 \$712,162 \$5,243	27,298 2 36,132 133 . 15		\$23.62 \$35.43 \$59.05 \$118.10 \$188.96	\$644.779 \$71 \$2.133,595 \$15,707 \$2,834
7 8 9 10	Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	63.580 5,298	1,075,241 1,075,241 16,912	\$63.07 \$2.96	\$946 <u>\$3,182,713</u> <u>\$4,116,196</u> \$64.74	63,580 5,298	1.049,435 1.049,435 16.506	\$3.27	\$3,431,652 \$6,228,638 \$97.97
11 12 13 14 15 16 17 18	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6"	57 57 269 752 343 404 34		\$7.88 \$19.71 \$39.42 \$63.07 \$126.14 \$197.09 \$394.19	\$449 \$1,123 \$10,604 \$47,429 \$43,266 \$79,624 \$13,402	57 57 269 752 343 404 34	,	\$23.62 \$59.05 \$118.10 \$188.96 \$377.92 \$590.50 \$1,181.00	\$1,346 \$3,366 \$31,769 \$142,098 \$129,627 \$238,562 \$40,154
19 20 21 22	Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	1,91 <u>6</u> 160	261,962 261,962 136,723	\$2.96	\$775,408 \$971,305 \$506.94	1.916 160	261,962 261,962 136.723	\$3.27	\$856,616 \$1,443,538 \$753,41

280

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]
Proposed: Conventional[] Reverse Osmosis[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (4) (5) (7)

		19	996 PROJECTED FINAL	L (PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPOS	ED FINAL RATE	(S) 2/
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
23	COMMERCIAL								
24	5/8"x3/4"	2.001		\$7.88	\$15.768	2,001		\$23.62	\$47,264
25	1"	1,280		\$19.71	\$2 5,229	1.280		\$59.05	\$75,584
26 27	1 1/2"	488		\$39.42	\$19,237	488		\$118.10	\$57,633
2/	2*	417		\$63.07	\$26.300	417		\$188.96	\$78,796
28	3" 4"	13		\$126.14	\$1.640	13		\$377.92	\$4,913
29 30	6"	26 25		\$197.09	\$5,124	26		\$590.50	\$15,353
31	10"	25 13		\$394.19 \$906.63	\$9.855 \$11,786	25 13		\$1,181.00	\$29,525
32	Gallonage Charge/MG	13		\$900.03	\$11,700	13		\$2,716.30	\$35,312
33	All Gallonage		291,123	\$2.96	\$861,724		279,478	\$3.27	\$913.893
34	Total COMMERCIAL	4,263	291.123	\$ 2.30	\$976,663	4 263	279,478	\$3.27	\$1,258,273
35	Ave cust/cons/bill/mth	355	68.291		\$229.10	4.263 355	65.559		\$295.16
36	IRRIGATION						•		
37	5/8"x3/4"	128		\$7.88	\$1,009	128		\$23.62	\$3,023
38	1"	692		\$19.71	\$13.639	692		\$59.05	\$40.863
39	1 1/2"	744		\$39.42	\$29.328	744		\$118,10	\$87,866
40	2"	1.170		\$63.07	\$73,792	1.170		\$188.96	\$221,083
41	3"	51		\$126.14	\$6,433	51		\$377.92	\$19,274
42	4"	13		\$197.09	\$2,562	13		\$590.50	\$7,677
43	Gallonage Charge/MG								
44	All Gallonage		469,970	\$2.96	\$1,391,111		451,171	\$3.27	\$1,475,329
45	Total IRRIGATION	2,798	469,970		\$1.517.874	2,798	451,171		\$1,855,115
46	Ave cust/cons/bill/mth	233	167.966		\$542.49	233	161.248		\$663.01

FPSC

SCHEDULE: E2-1

Page 9 of 11

Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

\$31.49

\$49,21

\$98,42

\$157.47

\$226.36

0.000

\$0.00

SCHEDULE DF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [x] Wastewater []
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

3

150

467

471

61

1,152

Proposed: Conventional[] Reverse Osmosis[x]

SCHEDULE: E2-1 Page 10 of 11 Preparer: Bencini

Supporting Schedules: £1-1, E-13

\$94

\$0

\$7.382

\$45,962

\$74,168

\$13,808

\$141,414

\$122.76

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (5) (1) (2) (3) 1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/ 1996 PROJECTED FINAL (PRESENT RATES) 1/ L1ne Revenues No. Class/Meter Size Consumption(MG) Revenues Bills Consumption(MG) Rate RAW WATER \$0 12 \$0.00 12 \$1,451 48 \$120.B9 49 Gallonage Charge/MG \$69,291 38.072 \$1.82 38,072 \$0.64 \$24,366 50 All Gallonage \$69,291 Total RAW WATER 12 38,072 \$25,817 12 38,072 3172.67 \$5,774.25 3172.67 Ave cust/cons/bill/mth \$2,151,42 FIRE PROTECTION

\$126

\$9,855

\$61.364

\$99,018

\$18.435

\$188,798

\$163.89

\$0

3

150

467

471

,152

61

\$42.05

\$65.70

\$131.40

\$210.23

\$302,21

\$0.00

0

0

0.000

787

54

55

56

57

58

61

6"

8"

Gallonage Charge/MG

Total FIRE PROTECTION

Ave cust/cons/bill/mth

10"

All Gallonage

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

FPSC

SCHEDULE: E2-1 Page 11 of 11 Preparer: Bencini

Supporting Schedules: E1-1, E-13

						my analytist Emplain a			
betwee	n these revenues and bo	oked revenues,	If a rate chang	e occured di	uring the test year.	a revenue calculation	<u>must be made</u> for e	ach period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
		199	6 PROJECTED FINAL	(PRESENT RA	ATES) 1/	1996 PROJE	CTED FINAL (PROPOS	ED FINAL RATES) 2/
Line <u>No.</u>	Class/Meter Size	<u>c</u>	onsumption(MG)		Revenues	<u>B111s</u>	Consumption(HG)	Rate	Revenues
63	TOTAL ANNUALIZED SALES	REVENUES 3/			\$7,796,653				\$10,996,269
64 65	UNBILLED REVENUE OTHER REVENUE 4/				\$25,815				\$0 \$25,815
66	TOTAL REVENUES				\$7,822,468				\$11,022,084

1/ Present rates vary by plant. Please refer to the following detail pages for present rates by plant. Consumption at present rates is before the price elasticity adjustment.

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

2/ Consumption has been adjusted for price elasticity. Please refer to the testimony of John B. Whitcomb, PH.D., regarding the appropriateness of a price elasticity adjustment. Refer to the schedule E-13 for the detail of the price elasticity adjustment.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

4/ Refer to the 1996 8-4 schedule for detail of other revenue.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Water Customer Monthly Billing - 1996

FPSC

Company: SSU/ Total Company/ Proposed Reverse Osmosis Treatment - Summary

SCHEDULE: E-3
Page 1 of 3
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96

Water [x] Wastewater []
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: Conventional[] Reverse Osmosis[x]

Explanation: Provide a schedule of monthly customers billed or served by class. (5) (6) (7) (1) (2) (3) (4) Line Multi-Family General Private Fire Other Month/ No. Residential Dwelling Service Protection (List) 1/ Total Year JAN96 5.727 218 429 100 234 6.708 FEB96 5,696 218 426 100 235 6,675 5.734 219 428 MAR96 100 238 6.719 APR96 5,766 218 4**3**2 99 236 6,751 MAY96 5.862 21B 425 99 237 6.841 JUN96 5.842 219 428 95 236 6,820 JUL96 5.889 221 422 94 235 6,861 8 AUG96 5,945 219 421 94 235 6.914 9 SEP96 5,963 221 426 95 238 6,943 10 0CT96 6.014 219 94 233 418 6,978 11 NOV96 6.016 219 418 95 233 6.981 12 219 94 233 DEC96 6,037 417 7.000 2.628 2,823 5.090 1.159 82,191 13 TOTAL 70.491 14 MTH. AVE 5,874 219 235 424 6,849

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1996

Company: SSU/CHARLOTTE /BURNT STORE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Dsmosis[x]

SCHEDULE: E-3

FPSC

Page 2 of 3 Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
ine	Month/		Multi-Family	General	Private Fire	Other		
lo.	Year	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN96	503	59	74	2	1	639	
2	FEB96	472	59	74 70	2	1	604	
3	MAR96	479	59	70	2	1	611	
4	APR96	507	59	74	2	1	643	
5	MAY96	560	59	70	2	1	692	
6	JUN96	551	59	70	0	1	681	
7	JUL96	582	61	68	0	1	712	
8	AUG96	632	59	68	0	1	760	
9	SEP96	643	59	68	0	1	771	
10	OCT96	662	59	68	0	1	790	
11	NOV96	652	59	63	0	1	775	
12	DEC96	669	59	63	0	1	792	
13	TOTAL	6,912	710	826	10	12	8.470	
14	MTH. AVE	576	59	69	1	1	706	

NOTE: May not tie to other schedules due to monthly rounding.

 $[\]ensuremath{\text{1/}}$ Includes Irrigation, Public Authority, and Special Contracts.

Schedule of Water Customer Monthly Billing - 1996

Company: SSU/COLLIER /MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [x] Wastewater [] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: Conventional[] Reverse Osmosis[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

(5) (6) (7) (1) (2) (3) (4) Private Fire Other Month/ Multi-Family General Line No. Residential Dwelling Service Protection (List) 1/ Total Year 5,224 356 98 159 233 6,070 JAN96 2 5,224 159 356 98 234 6,071 FEB96 5,255 98 237 6.108 3 MAR96 160 358 APR96 5.259 159 358 97 235 6,108 5,302 97 236 6.149 MAY96 159 355 5,291 160 358 95 235 6.139 JUN96 5.307 94 234 6,149 7 JUL96 160 354 8 AUG96 5,313 160 353 94 234 6,154 9 SEP96 5,320 162 358 95 237 6,172 5,352 160 349 94 232 6,187 10 0CT96 95 232 6,207 11 N0V96 5,364 160 356 12 5,36B 160 355 94 232 6,209 DEC96 1.918 4,266 1,149 2.811 63,579 73,723 13 TOTAL 5,298 160 356 96 234 6.144 14 MTH. AVE

FPSC

SCHEDULE: E-3
Page 3 of 3

Preparer: Bencini

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Proposed Reverse Osmosis - Summary

Schedule E-4 Page 1 of 3

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present			(3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% o the amo of the c whichev greater.	ount heck, ver is	No Change	No Change

Schedule E-4 Page 2 of 3

Preparer: Bencini

Company: SSU / Charlotte/Lee / Burnt Store

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present R	ates	(3) Proposed Rates			
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	\$15.00	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Return Check Charge	\$15.00 or 5% of the amou of the che whicheve greater.	eck,	No Change	No Change		

Company: SSU / Collier / Marco Island

Schedule E-4 Page 3 of 3

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/96

Water [x] Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present F	lates	(3) Proposed Rates			
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	\$15.00	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Return Check Charge	\$15.00 or 5% of the amou of the che whicheve greater.	eck,	No Change	No Change		

THIS PAGE INTENTIONALLY LEFT BLANK

293

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wasterwater { } InterIm [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-Jurisdiction [X]

Proposed: Conventional [] Reverse Osmosis [X]

(Includes Bus, Hours and After Bus, Hours)

Return Check Charge

Other Charges

5.

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			P	rojected 1996 Units					
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	1,112	3.35%	1,149	\$17,235	\$15	1,149	\$17,235
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	470	3.35%	486	\$7,290	\$15	486	\$7,290
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	215	3.35%	222	\$3,330	\$15	222	\$3,330
4.	Premise Visit Charge	\$10	97	3.35%	101	\$1,010	\$10	101	\$1,010

3.35%

3.35%

127

0

2,085

\$1,905

\$30,770

\$0

\$15

\$15

127

2,085

\$1,905

\$30,770

\$0

FPSC Schedule: E-5

Page 1 of 3

Preparer: Bencini

123

0

2,017

\$15

\$15

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bits of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Charlotte-Lee / Burnt Store

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present FPSC Uniform DC FPSC Non-uniform [1 FPSC Non-Jurisdiction [1]

Proposed: Conventional [] Reverse Osmosis [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

(8) (9) (1) (2) (3) (4) (5) (8) (7) Proposed Present Projected 1996 Units (1996 Final) Line **Projection** No. Type of Charge Rates 1995 Units 1/ Factor 1996 Units 1/ Revenues Rates 1996 Units 1/ Revenues 202 \$3,030 Intitial Connection \$15 195 3.35% 202 \$3,030 \$15 1. (Includes Bus. Hours and After Bus. Hours) 2. **Normal Reconnection** \$15 92 3.35% 95 \$1,425 \$15 95 \$1,425 (Includes Bus. Hours and After Bus. Hours) 3. Violation Reconnection \$15 12 3.35% 13 \$195 \$15 13 \$195 (Includes Bus. Hours and After Bus. Hours) 4. Premise Visit Charge \$10 25 3.35% 26 \$260 \$10 26 \$260 (Includes Bus. Hours and After Bus. Hours) \$45 3.35% \$45 \$15 3 5. Return Check Charge \$15 3 3 \$0 \$15 \$0 \$15 6. Other Charges 0 3.35% 0 \$4,955 327 339 \$4,955 339

FPSC Schedule: E-5

Page 2 of 3

Preparer: Bencini

Note: Numbers may not cross foot due to rounding.

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

295

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [X] Wastewater [] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Proposed: Conventional [] Reverse Osmosis [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable,

1750
Schedule: E-5
Page 3 of 3
Preparer: Bencini

FPSC

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposedi	(9)
			Pr	rojected 1996 Units					-
Line				Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	917	3.35%	947	\$14,205	\$15	947	\$14,205
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	378	3.35%	391	\$5,865	\$15	391	\$5,865
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	203	3,35%	209	\$3,135	\$15	209	\$3,135
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	72	3,35%	75	\$750	\$10	75	\$750
5.	Return Check Charge	\$15	120	3.35%	124	\$1,860	\$ 15	124	\$1,860
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			1,690		1,746	\$25,815		1,746	\$25,815

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections, Note: Numbers may not cross foot due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU/ Total Company / Proposed Reverse Osmosia Treatment

Docket No.: 950495-WS Schedula Year Ended: 12/31/98 Water [x] Wastewater [] Interim [] Finel [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

11100	southern to the target for a same			44-				451				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement	Number	of Standard	Type Public F	ire Hydrants i	By Pipe Size (Connecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	-	6.	10"	12"	14"	Total	Notes
1	Burnit Store	Chartotte/Lea	Fire Protection Provided	1,250	-	171	17	10	11	-	209	
2	Marco Island	Collier	Fire Protection Provided	4,500	-	339	•	-	-	•	339	
	Total Reverse Osmosis Plants					510	17	10			548	

FPSC

Schedule E-6

Page 1 of 1 Preparer: Bencini Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Schedule E-7 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(2)

(3)

(5)

(7)

(6)

Size and Type:

				0126 a	id ijpe		
No.	Plant		De	ouble Cl	neck Val	ves:	
1		2"	_4"_	6*	8"	10"	Total
2	Burnt Store	-	-		1	-	1
3	Marco Island	-	13	39	39	5	96
4	Total		13	39	40	5_	97

29

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1996

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [X] Wastewater []
Interim [] Final [X]
Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-jurisdiction [X]

Proposed: Conventional [] Reverse Osmosis [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line	(1)	(2)
No.	Туре	Description

FPSC

Schedula: E-8

Preparer: Bencini

Page 1 of 1

There are no Contracts and Agreements for any Reverse Osmosis Plants

SCHEDULE OF TAX OR FRANCHISE FEES - 1996

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [x] or Wastewater [] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [X] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [X]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line No.	(2) Plant	(3) County	(4) Type of Tax or Fee	(5) To Whom Paid	(6)	(7) How Collected From Customers	(8) Type of Agreement
1	Total Company	All Counties	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC Schedule: E-9

Page 1 of 1

Preparer: Bencini

SERVICE AVAILABILITY CHARGES SCHEDULE - 1996

FPSC

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Schedule E-10 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater [] Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line No.	Type of Charge	Present Charges	Proposed Charges

Please see separate Service Availability Schedules, Volume VIII.

FPSC

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

Schedule E-11 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)	
Line N o.	For the Year Ended	Residential	General Service	Other	Total	

This schedule is not applicable.

302

CLASS A UTILITY COST OF SERVICE STUDY - 1996 Industrial Customers

Company: SSU / Total Company / Proposed Reverse Osmosis Treatment - Summary

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [x] Wastewater []
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AVWA Manual No. 1 and shall comply with current AVWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: \$SU / Total Company - Proposed Reverse Osmosis Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96

Water[x] Wastewater[] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary, it is other classes or mater sizes as applicable.

FPSC

Schedule E-13 Page 1 of 8

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

	tion of each projection fact								(7)	(0)		(40)	(44)
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
			ber of B				nsumptio				edule Y		enues
Line		Projected	•	Projected	Projected		Before Price	Price Elastic.	Projected		ent Rates		996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	<u>1996 Final</u>	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	Rates 3/	Revenue 4/	Rates	Revenue 5/
1	Residential												
2	5/8 x 3/4"	31,558	8.12%	34,122							\$250 ,115	\$23.82	\$805,962
3	3/4"	2	2.89%	2							\$24	\$35.43	\$71
4	1"	35,182	2.95%	36,220							\$713,291	\$59.05	\$2,138,791
5	1 1/2"	130	2.89%	133							\$5,243	\$118.10	\$15,707
8	2"	14	2.89%	15							\$948	\$188.96	\$2,834
7	Gallonage Charge/MG:												
8	All Gallonage				1,102,864	-0.09%	1,101,846	-2.40%	1,075,402		\$3,215,437	\$3.27	\$3,516,565
9	Total	66,886	5.39%	70,492	1,102,864	-0.09%	1,101,846	-2.40%	1,075,402	'	\$4,185,056	•	\$6,479,930
	:					:		•		;		=	
10	Multi-Family												
11	5/8" x 3/4"	56	2.89%	57							\$449	\$23.82	\$1,346
12	1"	186	25.81%	234							\$3,394	\$59.05	\$13,818
13	1 1/2"	507	18.93%	603							\$19,174	\$118.10	\$71,214
14	2"	861	7.90%	929							\$54,895	\$188.96	\$175,544
15	3*	333	2.89%	343							\$43,266	\$377.92	\$129,627
16	4"	400	3.25%	413							\$80,779	\$590.50	\$243,877
17	6"	33	2.89%	34							\$13,402	\$1,181.00	\$40,154
18	A"	10		13							\$5,337	\$1,889.60	
18	Gallonage Charge/MG:	,,,	00.7070	13							40,331	\$1,009.00	\$24,565
19	All Gationage				333,914	-15.52%	282,106	0.00%	282,106		6000 405	P2 07	8000 497
20	Total	2,386	10.06%	2,626	333,914			0.00%			\$800,185	\$3.27	\$922,487
20	1000	2,300	10.0070	2,020	333,914	-10.0270	282,106	0.00%	282,106	:	\$1,020,681	=	\$1,622,632

Notes:

Company: SSU / Total Company - Proposed Reverse Osmosis Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim() Final(x) Historical() Projected(x)

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a CZ

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
	• • •	Num	ber of B	ills		Co	nsumptic	n (MG)			edule Y		
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	Rates 3/	Revenue 4/	Rates	Revenue 5/
21	<u>Commercial</u>												
22	5/8" x 3/4"	2,146	5.96%	2,274							\$17,168	\$23.62	\$53,712
23	1"	1,404	6.62%	1,497							\$26,013	\$59.05	\$88,398
24	1 1/2"	560	7.86%	604							\$22,214	\$118.10	\$71,332
25	2*	550	11.64%	614							\$34,387	\$188.96	\$118,021
26	3*	12	2.89%	13							\$1,640	\$377.92	\$4 ,913
27	4"	42	14.29%	48							\$7,946	\$590.50	\$ 28,344
28	8*	25	2.89%	25							\$ 9,855	\$1,181.00	\$29,525
29	10*	12	2.89%	13							\$11,786	\$2,716.30	\$35,312
30	Gallonage Charge/MG:												
31	All Gallonage		_		319,634	-0.86%	316,894	-4.00%	304,218		\$893,422	\$3.27	\$994,793
32	Total	4,751	7.09%	5,088	319,634	-0.86%	316,894	-4.00%	304,218		\$1,026,431		\$1,422,350
			_			,			_				
33	irrigation												***
34	5/8" x 3/4"	124		128							\$1,009	\$23.62	\$3,023
35	1"	673		692							\$13,639	\$59.05	\$40,863
36	1 1/2°	723	2.89%	744							\$29,328	\$118.10	\$87,866
37	2"	1,137	2.89%	1,170							\$73,792	\$188.96	\$221,083
38	3"	49		51							\$6,433	\$377.92	\$19,274
39	4"	12	2.89%	13							\$2,562	\$590.50	\$7,677
40	Gallonage Charge/MG:												
41	Ali Gallonage				473,477	-0.74%	469,970	-4.00%	451,171		\$1,391,111	\$3.27	\$1,475,329
42	Total	2,718	2.94%	2,798	473,477	-0.74%	469,970	-4.00%	451,171		\$1,517,874	:	\$1,855,115
43	Public Authority												
44	6"	12	0.00%	12							\$3,079	\$1,181.00	\$14,172
45	Gallonage Charge/MG:	12	V.00 /0	12							40,010	Ţ., 101.00	413,11
46	All Gallonage				9,561	35.74%	12,978	-4.00%	12,459		\$15,963	\$3,27	\$40,741
47	Total	12	0.00%	12	9,561	35.74%	12,978	-4.00% -4.00%	12,459		\$19,042	₩V.Z1	\$54,913
71	i Otal	12	5 0.0076	<u>''-</u>	3,301	33.1470	12,310		12,733		#10,04Z		407,310

FPSC

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Page 2 of 8

Notes:

Company: SSU / Total Company - Proposed Reverse Osmosis Treatment - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96

Water(x) Wastewater()
Interim[] Final(x)
Historical[] Projected(x)

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate achedule, if necessary. List other classes or meter sizes as applicable.

_		_	_	_	

FPSC

Schedule E-13
Page 3 of 8
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Calcula	tion of each projection lac	LOI UII a Sepai	ate su leut	io, 1/ Hocessary.	LIST OTHER CIES	303 OF 11101	ei sizes as ap	місаьів.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	berof B	ills		C c	nsumptic	n (MG)		S c h	edule '	Year Rev	епиеѕ
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	<u>1996 Final</u>	<u>1995 Interim</u>	Factor 1/	Elasticity	Adjustment 2/	<u>1996 Final</u>	Rates 3/	Revenue 4/	Rates	Revenue 5/
46	Raw Water												
49	6"	12	0.00%	12							\$1,451	\$0.00	\$0
50	Galionage Charge/MG:												
51	Ali Galionage				36,938	3.07%	38,072	0.00%	38,072		\$24,366	\$1.82	\$69,291
52	Total	12	0.00%	12	36,938		38,072		38,072		\$25,817		\$69,291
			•							•		=	
53	Fire Protection												
54	3"	3	2.89%	3							\$126	\$31.49	\$94
55	4"	148	2.89%	150							\$9,855	\$49.21	\$7,382
56	6"	454	2.89%	487							\$61,364	\$98.42	\$45,962
57	8"	465	3.23%	480							\$100,250	\$157.47	\$75,586
58	10"	60	2.89%	61							\$18,435	\$226.36	\$13,808
59	Gallonage Charge/MG:												******
60	All Gallonage				N/A	N/A	N/A	N/A	N/A		\$0	\$0.00	\$0
81	Total	1,128	2.93%	1,161	N/A		N/A	•	N/A	-	\$190,030		\$142,832
		1.11.1				1		•				• •	
82	GRAND TOTAL 6/	77,893	5.52%	82,189	2,276,388		2,221,866		2,163,428		\$7,984,931		\$11,647,063
	;		:			:		:		=		= =	\$11,047,000

^{1/} Projection factors vary from detail since projections were made at the detail level.

Notes

^{2/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment. Percentages may very from detail schedules due to rounding.

^{3/} Present rates vary by plant. Refer to following pages for details.

^{4/} Revenue is computed using the projection of consumption before the price elasticity adjustment.

^{5/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

^{6/} The roll-up totals may not tie to the sum of the plant schedule totals due to rounding at the plant vs. the summary level.

Company: \$SU / Charlotte/Lee / Burnt Store

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-juriediction []

Proposed: Conventional [] Reverse Osmosis [x]

FPSC

Schedule E-13 Page 4 of 8 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calcula	tion of each projection fac	tor on a separ	ate schedu	ile, it necessary.	. List other cla	sses or met	er sizes as ap	piicadie.					
	(1)	(2)	(3)	(4)	(5)	(8)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of E	lills		Co	nsumptio	n (MG)		Sch			епце \$
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	<u>Factor</u>	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	<u>Rates</u>	Revenue 3/
1	<u>Residential</u>												
2	5/8 x 3/4"	5,027	35.75%	6,824						\$ 5.13	\$35,007	\$23.62	\$161,183
3	1"	85	35.75%	88						\$12.83	\$1,129	\$59.05	\$ 5,196
4	Gailonage Charge/MG:												
5	All Gallonage				19,599	35.75%	26,605	-2.4%		\$1.23	\$32,724	\$3.27	\$84,912
6	Total	5,092		8,912	19,599		26,605		25,967		\$68,860		\$251,291
			•			•		'					
7	Multi-Family												
8	1"	,	35.75%	177						\$12.83	\$2,271	\$ 59.05	\$10,452
9	1 1/2*		35.75%	334						\$25.66	\$6,570	\$118.10	\$39,445
10	2"	130	35.75%	177						\$41.05	\$7,26 6	\$188.96	\$ 33,448
11	4"	7	35.75%	9						\$128.29	\$ 1,155	\$590.50	\$ 5,315
12	8"	10	35.75%	13						\$410.51	\$ 5,337	\$1,889.60	\$24,565
13	Gailonage Charge/MG:												
14	All Gallonage				14,839	35.75%	20,144	0.0%	20,144	\$1.23	\$24,777	\$3.27	\$65,871
15	Total	523		710	14,839		20,144		20,144		\$49,376		\$179,094
			•			•		i	*****************				
16	Commercial												
17	5/8" x 3/4"	201	35.75%	273						\$5.13	\$1,400	\$23.62	\$ 6,448
18	1"	160	35.75%	217						\$12.83	\$2,784	\$59.05	\$ 12,814
19	1 1/2*	86	35.75%	116						\$25.66	\$2,977	\$118.10	\$13,700
20	2"	145	35.75%	197						\$41.05	\$8,087	\$188.96	\$37,225
21	4"	18	35.75%	22						\$128.29	\$2,822	\$590.50	\$12,991
22	Gallonage Charge/MG:												
23	All Gallonage				18,984	35.75%	25,771	-4.0%	24,740	\$1.23	\$31,698	\$3.27	\$80,900
24	Total	608		825	18,984		25,771		24,740		\$49,768	_	\$164,078
												•	

Notes:

Company: SSU / Charlotte/Lee / Burnt Store

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CONCURA	on or each projection rac	LUT UIT a sopar	are an ione	ile, ii ilecossui y	. Cist Ouliei Cans	DOS OF THE	on sizes as ap	pricabio.					
	(1)	(2)	(3)	(4)	(5)	(8)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	lil is		Co	nsumptio	n (MG)		Sch	edule Y	ear Rev	
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	1995 Interim	Factor	Elasticity	Adjustment 1/	1996 Final	Rates	Revenue 2/	Rates	Revenue 3/
25	Public Authority												
26	6"	12	0.00%	12						\$256,57	\$3,079	\$1,181.00	\$14,172
27	Gallonage Charge/MG:												
28	All Gallonage				9,561	35.75%		~4.0%	12,459	\$1.23	\$15,963	\$3.27	\$40,741
29	Total	12		12	9,561		12,978		12,459		\$19,042	<u>.</u>	\$54,913
			•							•		•	
30	Fire Protection												
31	8"	7	35.75%	9						\$136.84	\$1,232	\$157.47	\$1,417
32	Gallonage Charge/MG:												
33	All Gallonage				N/A	N/A	N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
34	Total	7		9	N/A		N/A		N/A		\$1,232	-	\$1,417
										•		: =	
35	GRAND TOTAL	6,242		8,468	62,983		85,498		83,310		\$188,278		\$650,793
			:							:		; =	4500,100

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 5 of 8

- 1/ Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elasticity adjustment.
- 2/ Revenue is computed using the projection of consumption before the price elasticity adjustment.
- 3/ Revenue is computed using the projection of consumption after the price elasticity adjustment.

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

FPSC

Schedula E-13 Page 6 of 8 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

	ton of odon projection has			10, 11 110000001		3000 01 11100		ilodoio.					
	(1)	(2)	(3)	(4)	(5)	(8)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	lills		Co	nsumptio	n (MG)		S c h	edule Y		enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Pres	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	<u>1995 Interim</u>	Factor_1/	Elasticity	Adjustment 2/	1996 Final	<u>Rates</u>	Revenue 3/	<u>Rates</u>	Revenue 4/
1	<u>Residential</u>												
2	5/8 x 3/4"	26,531	2.89%	27,298						\$7.88	\$215,108	\$23.62	\$ 644,779
3	3/4"	2	2.89%	2						\$11.83	\$24	\$35.43	\$71
4	1*	35,117	2.89%	36,132						\$1 9.71	\$712,162	\$59.05	\$2,133,595
5	1 1/2"	130	2.89%	133						\$39.42	\$5,243	\$118.10	\$15,707
6	2"	14	2.89%	15						\$63.07	\$94 6	\$188.96	\$2,834
7	Gallonage Charge/MG:												
8	All Gallonage				1,083,265	-0.7408%	1,075,241	-2.4%	1,049,435	\$2.96	\$3,182,713	\$3.27	\$3,431,652
9	Total	61,794		63,580	1,083,265	•	1,075,241		1,049,435		\$4,116,196	_	\$6,228,638
		·—·	•			1						-	
10	Multi-Family												
11	5/8" x 3/4"	56	2.89%	57						\$7.88	\$449	\$23.62	\$1,346
12	1"	56	2.89%	57						\$19.71	\$1,123	\$59.05	\$3,366
13	1 1/2"	281	2.89%	269						\$39.42	\$10,604	\$118.10	\$31,769
14	2"	731	2.89%	752						\$6 3.07	\$47,429	\$188.96	\$142,098
15	3"	333	2.89%	343						\$126.14	\$43,266	\$377.92	\$129,627
16	4"	393	2.89%	404						\$197.09	\$79,624	\$590.50	\$238,562
17	6"	33	2.89%	34						\$394.19	\$13,402	\$1,181.00	\$40,154
18	Gallonage Charge/MG:			•							•		
19	All Gallonage				319,075	-17.8997%	261,962	0.0%	261,962	\$2.96	\$775,408	\$3.27	\$856,618
20	Total	1,863	•	1,916	319,075	ı	261,962		261,962		\$971,305	-	\$1,443,538
												-	

Notes

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water(x) Wastewater() Interim [] Final (x)

Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

Proposed. Conventional [] Reverse Osmosis [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	lills		Coi	nsumption	n (MG)		Sch	edule Y	ear Rev	enues
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	<u>Factor</u>	<u>1996 Final</u>	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	<u>Rates</u>	Revenue 3/	<u>Rates</u>	Revenue 4/
21	<u>Commercial</u>												
22	5/8" x 3/4"	1,945	2.89%	2,001						\$7.88	\$15,768	\$23.62	\$47,264
23	1"	1,244	2.89%	1,280						\$19.71	\$25,229	\$59.05	\$75,584
24	1 1/2"	474	2.89%	488						\$39.42	\$19,237	\$118.10	\$57,633
25	2"	405	2.89%	417						\$63.07	\$26,300	\$188.96	\$78,796
26	3"	12	2.89%	13						\$126.14	\$1,640	\$377.92	\$4,913
27	4"	26	2.89%	26						\$197.0 9	\$5,124	\$590.50	\$15,353
28	6"	25	2.89%	25						\$394.19	\$9,855	\$1,181.00	\$29,525
29	10"	12	2.89%	13						\$906.63	\$11,786	\$2,716.30	\$35,312
30	Gallonage Charge/MG:												
31	All Gailonage		_		300,650	-3.1669%	291,123	-4.0%		\$2.96	\$661,724	\$3.27	\$913,693
32	Total	4,143		4,263	300,650		291,123		279,476		\$976,663		\$1,258,273
	•		•					•				-	
33	<u>Irrigation</u>												
34	5/6" x 3/4"	124	2.89%	128						\$7.68	\$1,009	\$23.62	\$3,023
35	1"	673	2.89%	692						\$19.71	\$13,639	\$59.05	\$40,863
36	1 1/2"	723	2.89%	744						\$39.42	\$29,326	\$118.10	\$87,866
37	2*	1,137	2.89%	1,170						\$63.07	\$73,792	\$168.96	\$221,063
38	3"	49	2.89%	51						\$126.14	\$6,433	\$377.92	\$19,274
39	4"	12	2.89%	13						\$197.09	\$2,562	\$590.50	\$7,677
40	Gallonage Charge/MG:												
41	All Gallonage		_		473,477	-0.7408%	469,970	-4.0%	451,171	\$2.96	\$1,391,111	\$3.27	\$1,475,329
42	Total	2,718	•	2,796	473,477		489,970		451,171	,	\$1,517,674	•	\$1,855,115
	;		•					i		4		•	

FPSC

Schedule E-13

Preparer Bencini

Supporting Schedules: E1-1,

Page 7 of 8

Notes:

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[x] Wastewater[] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: Conventional [] Reverse Osmosis [x]

/ Collier / Merco leland

FPSC

Schedule E-13
Page 8 of 8
Preparer: Bencini

Supporting Schedules: E1-1,

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CERCUIO	DOLLOLOGICAL PLOTOCOCI ISC	tor orra acpai	ato 3G 1666	iro, il riccossari	, Dat outer das	303 01 111010	a seco as app	iodolo.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	litls		Col	nsumption	n (MG)		S c h	edule Y	ear Rev	епиеѕ
Line		Projected	Projection	Projected	Projected	Projection	Before Price	Price Elastic.	Projected	Prese	ent Rates	Proposed 1	996 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor 1/	Elasticity	Adjustment 2/	1996 Final	<u>Rates</u>	Revenue 3/	Rates	Revenue 4/
43	Raw Water												
44	6"	12	2.89%	12						\$120.89	\$1,451	\$0.00	\$0
45	Gallonage Charge/MG:												
46	All Gallonage		_		36,938	3.0700%		0.0%		\$0.64	\$24,366	\$1.82	\$ 69,291
47	Total	12		12	36,938		38,072		38,072		\$25,817		\$69,291
			•					•				-	
48	Fire Protection												
49	3"	3	2.89%	3						\$42.05	\$126	\$31.49	\$94
50	4"	146	2.89%	150						\$65.70	\$9,855	\$49.21	\$7,382
51	6"	454	2.89%	467						\$131.40	\$61,364	\$98.42	\$45,962
52	8"	458	2.89%	471						\$210.23	\$99,018	\$157.47	\$74,168
53	10"	60	2.89%	61						\$302.21	\$18,435	\$226.36	\$13,808
54	Gallonage Charge/MG:												
55	All Gallonage				N/A	N/A	N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
56	Total	1,121	•	1,152	N/A		N/A	•	N/A		\$188,798		\$141,414
			•					·				=	
57	GRAND TOTAL	71,651		73,721	2,213,405		2,136,368		2,080,118		\$7,796,653		\$10,996,269
•			•					:				=	

^{1/} The projection factor has been recalculated after the effects of a conservation program. Please refer to the testimony of Carlyn Kowalsky for information about the program. Refer to the Conservation Program Summary worksheet in Volume V summary section for details.

Notes:

^{2/} Please refer to the testimony of John B. Whitcomb, Ph.D., regarding the appropriateness of a price elesticity edjustment.

^{3/} Revenue is computed using the projection of consumption before the price elasticity edjustment.

^{4/} Revenue is computed using the projection of consumption after the price elasticity adjustment.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 1 of 1 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL, MULTI-FAMI	LY SERVICES 2/		
1	5/8"x3/4"	\$5.13	22.070%	\$6.26
2	3/4"	\$7.70	22.070%	\$9.40
3	1"	\$12.83	22.070%	\$15.66
4	1 - 1/2"	\$25.66	22.070%	\$31.32
5	2"	\$41.05	22.070%	\$50.11
6	3"	\$82.10	22.070%	\$100.22
7	4"	\$128.29	22.070%	\$156.60
8	6"	\$256.57	22.070%	\$313.19
9	8"	\$ 410.51	22.070%	\$ 501.1 1
10	10"	\$590.11	22.070%	\$720.35
	GALLONAGE CHARGE / MG:			
11	All Gallonage	\$1.23	22.070%	\$1.50
	FIRE PROTECTION			
12	2"	\$13.69	22.070%	\$16.71
13	4"	\$42.76	22.070%	\$52.20
14	6"	\$85.53	22.070%	\$104.41
15	8"	\$136.84	22.070%	\$167.04
16	10"	\$196.70	22.070%	\$240.11
	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$0.00	22.070%	\$0.00

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

^{2/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 1 of 3
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6 7 8	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" 3" 4"	620.821 6,323 45.323 365 211 57 33		\$5.13 \$7.70 \$12.83 \$25.66 \$41.05 \$82.10 \$128.29	\$3,184,812 \$48,687 \$581,494 \$9,366 \$8,662 \$4,680 \$4,234	620.821 6,323 45.323 365 211 57		\$6.26 \$9.40 \$15.66 \$31.32 \$50.11 \$100.22 \$156.60	\$3.886,339 \$59,436 \$709,758 \$11,432 \$10,573 \$5,713 \$5,168	
10 11 12	Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	673,133 56,094	5,871,636 5,871,636 8,723	\$1.23	\$7,222,112 \$11,064,047 \$16,44	673,133 56,094	5.871.636 5.871.636 8.723	\$1.50	\$8,807,454 \$13,495,873 \$20.05	
13 14 15 16 17 18 19 20 21 22	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" 8" Gallonage Charge/MG	247 137 780 217 7 20 12 10		\$5.13 \$12.83 \$25.66 \$41.05 \$82.10 \$128.29 \$256.57 \$410.51	\$1.267 \$1.758 \$20.015 \$8.908 \$575 \$2.566 \$3.079 \$4.105	247 137 780 217 7 20 12		\$6.26 \$15.66 \$31.32 \$50.11 \$100.22 \$156.60 \$313.19 \$501.11	\$1.546 \$2,145 \$24,430 \$10.874 \$702 \$3,132 \$3,758 \$5,011	
23 24 25	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	1,430 119	60,128 60,128 42,048	\$1.23	\$73,957 \$116,230 \$81,28	1,430 119	60,128 60,128 42,048	\$1.50	\$90,192 \$141,790 \$99,15	

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 2 of 3 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (2) (3) (9)

	_	1995 PROJECTED INTERIM (PRESENT RATES)			IT RATES)	ATES) 1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)						
Line <u>No.</u>	Class/Heter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues			
26	COMMERCIAL											
27	5/8"x3/4"	9,842		\$5.13	\$50,489	9,842		\$6.26	\$61,611			
28	Full 3/4"	484		\$7.70	\$3,727	484		\$9.40	\$4,550			
29	1"	2,444		\$12.83	\$31,357	2,444		\$15.66	\$38,273			
30	1 1/2"	1,054		\$25.66	\$27,046	1,054		\$31.32	\$33,011			
31	2*	2,375		\$41.05	\$97,494	2,375		\$50.11	\$119.011			
32	3*	283		\$82.10	\$2 3,234	283		\$100.22	\$28,362			
32 33	4*	167		\$128.29	\$21,424	167		\$156.60	\$26,152			
34 35 36	6"	25		\$256.57	\$6,414	25		\$313.19	\$7.830			
35	8*	42		\$410.51	\$17,241	42		\$501.11	\$21,047			
36	10"	11		\$590.11	\$6.491	11		\$720.35	\$7,924			
37	Gallonage Charge/MG											
38	All Gallonage _		675,777	\$1.23	\$831,206		675,777	\$1.50	\$1,013,666			
39	Total COMMERCIAL _	16,727	675,777		\$1,116,123	16.727	675,777		\$1,361,437			
40	Ave cust/cons/bill/mth	1,394	40.400		\$66.73	1.394	40.400		\$81.39			
41	PUBLIC AUTHORITY											
42	1 1/2"	12		\$25.66	\$308	12		\$31.32	\$376			
43	2*	12		\$41.05	\$493	12		\$50.11	\$601			
44	3"	12 12 12 12		\$B2.10	\$985	12		\$100.22	\$1,203			
45	6 "	12		\$256.57	\$3,079	12		\$313.19	\$3,758			
46	Gallonage Charge/MG											
47	All Gallonage _		10.768	\$1.23	\$13,245		10,768	\$1.50	<u>\$16,152</u>			
48	Total PUBLIC AUTHORITY	48	10.768		\$18,110	48	10.768		\$22,090			
49	Ave cust/cons/bill/mth	4	224.333		\$377.29	4	224.333		\$460.21			

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 3 of 3
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PRO	JECTED INTERIM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)					
Line <u>No.</u>	Class/Meter Size	Consu	mption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues		
50 51 52 53 54 55 56 57 58 59	FIRE PROTECTION 2" 4" 6" 8" 10" Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	26 258 142 59 15	\$13.69 \$42.76 \$85.53 \$136.84 \$196.70 0.000	\$356 \$11.032 \$12.145 \$8.074 \$2.951 \$0 \$34.558 \$69.12	26 258 142 59 15	0.000	\$16.71 \$52.20 \$104.41 \$167.04 \$240.11 \$0.00	\$434 \$13,468 \$14,826 \$9,855 \$3,602 \$0 \$42,185 \$84,37		
60 61 62 63	TOTAL ANNUALIZEO SALES I UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/		\$12.349.068 \$0 \$312,120 \$12,661.188		,		\$15,063,375 \$0 \$312,120 \$15,375,495		

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept. Total annualized revenues may not tie to other schedules due to rounding at the plant level vs. summary level. 2/ Refer to the 1995 B-4 schedule for detail of other revenue.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Water Customer Monthly Billing - 1995

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 1 of 1
Preparer: Bencini

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List)_1/	<u>Total</u>
1	JAN95	55,138	119	1,385	43	4	56,689
2	FEB95	55,054	119	1,377	43	4	56,597
3	MAR95	55,587	117	1.375	42	4	57,125
4	APR95	55,774	118	1,391	42	4	57,329
5	MAY95	55,912	118	1.393	42	4	57,469
6	JUN95	56,047	120	1.397	41	4	57,609
7	JUL95	56,262	121	1,404	41	4	57,832
8	AUG95	56,571	120	1.383	41	4	58.119
9	SEP95	56,499	120	1,372	41	4	58,036
10	0CT95	56,777	120	1,370	41	4	58,312
11	NOV95	56,761	120	1,418	41	4	58,344
12	DEC95	<u>56.751</u>	120	1,468	41	4	58.384
13	TOTAL	673,133	1,432	16,733	499	48	691,845
14	MTH. AVE	<u>56.094</u>	119	1,394	42	4	57,654

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority, and Special Contracts.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Present Uniform

Schedule E-4 Page 1 of 1

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/95 Water [x] Wastewater []

Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2 Present		(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	\$15.00	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	\$15.00 or 5% of the amo of the c whicher greater	ount heck, ver is	No Change	No Change	

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [X] FPSC Non-uniform [] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	P 1994 Units 1/	rojected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	9,560	3.35%	9,877	\$148,155	\$15	9,877	\$148,155
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	2,926	3.35%	3,017	\$4 5,25 5	\$15	3,017	\$45,255
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	4,558	3.35%	4,702	\$70,530	\$15	4,702	\$70,530
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	2,808	3.35%	2,901	\$29,010	\$10	2,901	\$29,010
5.	Return Check Charge	\$15	1,242	3.35%	1,278	\$19,170	\$15	1,278	\$19,170
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			21,094	!	21,775	\$312,120		21,775	\$312,120

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 1 of 3 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line	1			Requirement	Number	of Standard	Type Public Fi	re Hydrants E	ov Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	8"	10"	12	14"	Total	Notes
		,										
1		esseu	Fire Protection Provided	1,000	•	58	46	-	8	-	112	
2	1 :	itrus	No Fire Protection	-	-	•	-	•	-	-	-	
3	Apple Valley S	eminole	Fire Protection Provided	600	-	16	11	-	-	1	28	
4	Bay Lake Estates O	\$CBOLE	No Fire Protection	•	•	-	-	-	•	-	-	
5	Beacon Hills D	uval	Fire Protection Provided	1,500	-	77	112	9	2		200	
6	Beecher's Point P	utnam	Fire Protection Provided	1,000	-	1	-	-	-	•	1	
7	Burnt Store C	hariotte/Lee	Fire Protection Provided	1,250	•	171	17	10	11	-	209	
8	Carlton Village La	ake	No Fire Protection	-	-	-	-	-	-		-	
9	Chuluota S	eminole	Fire Protection Provided	600	2	10	-	-		-	12	
10	Citrus Park M	larion	No Fire Protection		-		-	-	-	-	_	
11	Citrus Springs C	itrus	Fire Protection Provided	1,500	-	2	1	-	2		5	
12	Crystal River Highlands C	itrus	No Fire Protection	-	-	-	-	-	-	-		
13	Deetwyler Shores O	range	Fire Protection Provided	500	-	1	-		-	_	1	
14	Detona Lakes V	olusia	Fire Protection Provided	2,500	-	-	-	-	_	-	•	[1]
15	Dol Ray Manor S	eminole	No Fire Protection		-	-	-	-	-	-	_	
16	Druid Hills S	eminole	Fire Protection Provided	600	-	1	-	-	_	-	1	
17	East Lake Harris Estates La	ake	No Fire Protection	•	-	-	-	-	_	-		
18	Fern Park Si	eminole	No Fire Protection	-	-	-	-		_	-	-	
19	Fem Terrace	ake	No Fire Protection	•		-	-	-	•	-		
20	Fisherman's Haven M	artin	No Fire Protection	-	-	-	-		_	_	-	
21	Fountains 0	sceola	Fire Protection Provided	500		6	-	_	-	-	6	
22	Fox Run M	artin	Fire Protection Provided	500	1	3	_	-	-	_	4	
23	Friendly Center La	aks	No Fire Protection	_	_	-		_	_	-	- -	
24	•	itrus	No Fire Protection			-	-	_	-		_	
25		itrus	No Fire Protection	_	_	-	-	•	-	_	_	
26	•	ake	Fire Protection Provided	500	-	12		_	_	-	12	
27		emino le	No Fire Protection	•	_	-				_		
28	•	utnam	No Fire Protection					_	_		_	
29	· -	ake	No Fire Protection		_	_					_	
30	•	ake ake	No Fire Protection						_	_	-	

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

^[1] The County owns the fire hydrants at this plant.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Finel []
Historical [] Projected [x]
FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

FPSC Schedule E-8 Page 2 of 3 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line	1			Requirement	Number	of Standard	Type Public F	ire Hydrants B	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	Сошпту	Status	(GPM)	4"	6"	8"	10"	12"	14"	Total	Notes
31	Holiday Heights	Orange	Fire Protection Provided	500								
32	Imperial Terrace	Lake		500	•	1	-	-	•	-	1	
	Intercession City		No Fire Protection	-	•	•	-	-	•	-	•	
33 34	Interlachen Lake Ext/Park Manor	Osceola Putnam	No Fire Protection No Fire Protection	-	-	•	•	-	•	-	-	
35				•	-	•	•	-	•	-	-	
	Jungle Den	Volusia	No Fire Protection		-	-	-	-	-	•		
36	Keystone Heights	Clay	Fire Protection Provided	1,000	•	53	5	-	-	•	58	
37	Kingswood	Brevard	No Fire Protection	•	-	-	•	-	-	•	•	
38	Lake Ajay Estates	Osceola	Fire Protection Provided	500	•	1	2	-	•	•	3	
39	Lake Brantley	Seminole	No Fire Protection	-	-	•	-	-	-	-	-	
40	Lake Conway Park	Orange	No Fire Protection	-	-	-	-	-	•	-	•	
41	Lake Harriet	Seminole	Fire Protection Provided	600	-	4	-	-	-	-	4	
42	Lakeview Vitlas	Clay	No Fire Protection	•	-	-	-	-	-	-	•	
43	Leilani Heights	Martin	Fire Protection Provided	500	•	15	-	•	-	-	15	
44	Leiaure Lakes	Highlands	Fire Protection Provided	500	2	8	-	-	•	-	10	
45	Marco Shores	Collier	Fire Protection Provided	750	-	15	-	-	-	-	15	
46	Marion Oaks	Marion	Fire Protection Provided	2,500	1	293	12	1	1	-	308	
47	Meredith Manor	Seminole	Fire Protection Provided	500	•	11	4	-	-	-	15	
48	Morningview	Lake	Fire Protection Provided	500	-	2	-	-	-	•	2	
49	Oak Forest	Citrus	Fire Protection Provided	500	-	6		-		-	6	
50	Oakwood	Brevard	No Fire Protection	-	-	-	-	-		-	-	
51	Palisades	Lake	Fire Protection Provided	500	1	7	3	-	_	-	11	
52	Paim Port	Putnem	No Fire Protection		-	-	-	-	-	-		
53	Palm Terrace	Pasco	Fire Protection Provided	500	-	6		-		-	6	
54	Palms Mobile Home Park	Lake	No Fire Protection	-	-	-	_	-	-	_	-	
55	Picciola Island	Lake	No Fire Protection	_	-	-	-		-	_	-	
56	Pina Ridge	Citrus	Fire Protection Provided	1,500	-	201	20	3	-		224	
57	Pine Ridge Estates	Osceola	Fire Protection Provided	500	-	В		_			В	
58	Piney Woods	Lake	No Fire Protection		_	-	_	-		-		
59	Point O' Woods	Citrus	Fire Protection Provided	750	_	6	3	-		_	9	
60	Pomona Park	Putnam	No Fire Protection	•	_	-				-	_	

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water (x) Wastewater []

Interim (x) Final [)
Historical () Projected (x)

FPSC Uniform (x) FPSC Non-Uniform () FPSC Non-Jurisdiction ()

FPSC Schedule E-6 Page 3 of 3 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(9)	(10)	(11)	(12)
				Fire Flow	Marahan	T	Danie Barbilla et	W.d	Di 0' 0			
Line				Requirement						onnecting the		
No.	Plant Name	County	Status	(GPM)	<u> </u>	<u> </u>	8"	10-	12"	14"	Total	Note
61	Postmaster Village	Clay	No Fire Protection	•							-	
62	Quail Ridge	Lake	Fire Protection Provided	500	-	12	-	-	-		12	
63	River Grove	Putnam	No Fire Protection	-	-	-	-			-		
64	River Park	Putnam	No Fire Protection						-	-	-	
85	Rosemont/Rolling Green	Citrus	Fire Protection Provided	500	3	-	-	-		•	3	
66	Salt Springs	Marion	Fire Protection Provided	750	-	2	-			2	4	
67	Samira Villas	Marion	No Fire Protection		-			-	-	-	-	
68	Silver Lake Est/Western Shores	Lake	Fire Protection Provided	750	-	21	18		2		41	
69	Silver Lake Oaks	Putnam	No Fire Protection	-			-			-	-	
70	Skycrest	Lake	Fire Protection Provided	500		4			-		4	
71	St. John's Highlands	Putnam	No Fira Protection	-	-	-	-	-				
72	Stone Mountain	Lake	No Fira Protection	•						-	-	
73	Sugar Mill	Volusia	Fire Protection Provided	2,500		24	20	2	-		46	
74	Sugarmill Woods	Citrus	Fire Protection Provided	1,500		358	120	16	56	-	550	
75	Sunny Hills	Washington	Fire Protection Provided	500	-	10	-	-	-	-	10	
76	Sunshine Parkway	Lake	Fire Protection Provided	2,000	-	-	-	-	2	-	2	
77	Tropical Park	Oscaola	No Fire Protection		•		-	-		-		
78	University Shores	Orange	Fire Protection Provided	2,000		71	68	2	11	-	152	
79	Venetian Village	Lake	No Fire Protection			-	-			-		
30	Welaka/Saratoga Harbor	Putnam	No Fire Protection	-	-	-	-	-	-	-	-	
31	Westmont	Orange	No Fire Protection	•		-	-	-		-		
32	Windsong	Osceola	No Fire Protection	-		-	-	-	-	-	-	
13	Woodmere	Ouval	Fire Protection Provided	1,500	-	41	29		2		72	
34	Woolens	Putnam	No Fire Protection	-	-	-	-	-	-		-	
B 5	Zephyr Shores	Pasco	Fire Protection Provided	500	-	6	-	-	-		6	
	Total FPSC Uniform Plants				10	1544	491	43	97	3	2188	

THIS PAGE INTENTIONALLY LEFT BLANK

(10)

(11) (12)

SCHEDULE OF PRIVATE FIRE PROTECTION SERVICE - 1995

Company: SSU / Total Company / Present Uniform

Schedule E-7
Page 1 of 1
Preparer: Bencini

FPSC

(13)

(14)

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(2) (3) (4) (5) (6) (7) (8) (9)

		old and Type.												
Line No.	Plant	Risers:				Double Check Valves:						Combined		
1			<u>4"</u>	6"_	8"	10"	Total	2"_		6*	8"	10"	Total	Total
2	Amelia Island	2	19	10	4	-	35	-	-	-	-	-	-	35
3	Burnt Store		-	-	-	-	•	-	-	-	1	-	1	1
4	Keystone Heights	-	-	-	-	-	-	-	-	2	-	-	2	2
5	Meridith Manor	-	-	-	-	-	-	-	3	-	-	-	3	3
6	University Shores	-	•	-	-	-	-		-	-	-	1	1	1
7	Total	2	19	10	4	<u> </u>	35	<u> </u>	3	2	1	1	7	42

Size and Type:

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [X] FPSC Non-uniform [] FPCS Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs. Describe with whom, the purpose and the elements of each contract shown.

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 1

Line No.	(1) Type	(2) Description
1	MEREDITH MANOR:	
2 3 4 5	Kennedy, Newton Customer # 003182	Utility easement granted in exchange for water service at no charge.
6 7	PINEY WOODS:	
8 9 10	Caldwell, Cherles Customer # 001385	Utility easement granted in exchange for water service at no charge.
11 12	UNIVERSITY SHORES:	
13 14 15	City of Winter Park, Fontana Apartments Customer # 006151	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
16 17 18	City of Winter Park, Laurel Springs Customer # 006150	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
19 20 21	City of Winter Park, Uni Gold Customer # 96793	Pursuant to Agreement between City of Winter Park, DCB Investment Co. Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
22 23	Hunter's Ridge Association, LTD (9 accounts)	Pursuant to Agreement between City of Winter Park, DCB Investment Co. Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
23 24 25	Customer # 94522, 94523 94524, 94525, 94526, 94527, 94528, 94529,	
26 27 28	'94530 WOODMERE:	
29 30 31	Park Recreation & Entertainment Customer # 007906	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country Club: \$100 monthly credit for water and sewer service, booked as easement rental.

SCHEDULE OF TAX OR FRANCHISE FEES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] or Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) (2) (4) (5) (6) (7) (3) (8) Line Type of To Whom How Collected Type of No. Plant County Tax or Fee Paid **Amount** From Customers Agreement **Total Company** FPSC Juris. Rev. Assess. Fee **FPSC** 4.5% 1/ 1 None 2 3 Apple Valley Seminole Pub. Svc. Tax County 4.0% 2/ Tax Beacon Hills Pub. Svc. Tax 10.0% 2/ Duval City of Jack-Tax sonville 6 Chuluota Seminole Pub. Svc. Tax County 4.0% 2/ Tax Dol Ray Manor Seminole Pub. Svc. Tax County 4.0% 2/ Tax 8 Druid Hills Seminole Pub. Svc. Tax County 4.0% 2/ Tax 9 Fem Park Seminole Pub. Svc. Tax 4.0% 2/ County Tax 10 Pub. Svc. Tax 2/ Harmony Homes Seminole County 4.0% Tax 11 Holiday Heights Orange Pub. Svc. Tax County 10.0% 2/ Tax 12 **Keystone Heights** 2/ Clay City Utility Tax City of Key-5.0% Tax 13 stone Heights 14 Pub. Svc. Tax 2/ Lake Brantley Seminole County 4.0% Tax 15 Lake Harriet Estates Seminole Pub. Svc. Tax County 4.0% 2/ Tax Meredith Manor Seminole Pub. Svc. Tax 2/ 16 County 4.0% Tax 17 Pomona Park Putnam City Utility Tax City of 10.0% on 2/ Tax 18 Pomona Pk. 1st \$20 2/ 19 **University Shores** Orange Pub. Svc. Tax County 2/ 10.0% Tax 20 Westmont Orange Pub. Svc. Tax County 10.0% 2/ Tax 21 Woodmere Pub. Svc. Tax 2/ Duval City of Jack-10.0% Tax sonville

FPSC

Schedule: E-9

Preparer: Bencini

Page 1 of 1

^{1/} Included in overall cost of service.

^{2/} Billed as a separate line item on customer bills.

Company: SSU / Total Company / Present Uniform

Schedule E-10 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	

Please see separate Service Availability Schedules, Volume VIII.

Company: SSU / Total Company / Present Uniform

Schedule E-11

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1) (2) (3) (4) (5) (6)

Line For the General

No. Year Ended Residential Service Other Total

This schedule is not applicable.

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/95

Water(x) Wastewater()
Interim(x) Final()
Historical() Projected(x)

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 1 of 3 Preparer: Bencini

Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Num	ber of B	ills	Con	Consumption (MG)		Sched			e s
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	
No.	Class/Meter Size	<u> 1994</u>	Factor 1/	<u>1995 Interim</u>	<u>1994</u>	Factor 1/	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	601,676	3,15%	620,821				\$ 5.13	\$3,184,812	\$6.26	\$3,886,339
3	3/4"	5,997	5.44%	8,323				\$7.70	\$48,687	\$9.40	\$59,436
4	1"	42,155	7.52%	45,323				\$12.83	\$ 581,494	\$15.66	\$709,758
5	1 1/2"	356	2.53%	365				\$25.66	\$9,366	\$31.32	\$11,432
6	2"	206	2.43%	211				\$41,05	\$8,662	\$50,11	\$10,573
7	3"	57	0.00%	57				\$82.10	\$4 ,680	\$100.22	\$ 5,713
8	4"	33	0.00%	33				\$128.29	\$4,234	\$156.80	\$5,168
9	Gallonage Charge/MG:										
10	All Galionage _				5,521,782	6.34%	5,871,836	\$1.23	\$7,222,112	\$1.50	\$8,807,454
11	Total	650,680	3.45%	673,133	5,521,782	8.34%	5,871,636	_	\$11,064,047	_	\$13,495,873
	_							-		_	
12	<u>Multi-Family</u>										
13	5/8" x 3/4"	241	2.49%	247				\$ 5.13	\$1,267	\$6.26	\$1,546
14	1"	103	33.01%	137				\$12.83	\$1,758	\$15.66	\$ 2,145
15	1 1/2"	897	11.91%	780				\$25.66	\$20,015	\$31.32	\$24,430
18	2"	180	20.56%	217				\$4 1.05	\$8,908	\$50.11	\$10,874
17	3"	7	0.00%	7				\$82.10	\$575	\$100,22	\$702
18	4"	17	17.65%	20				\$128.29	\$2,566	\$156.80	\$3,132
19	6"	12	0.00%	12				\$256.57	\$3,079	\$ 313.19	\$3,758
20	8"	7	42.86%	10				\$410.51	\$4,105	\$501.11	\$5,011
21	Gallonage Charge/MG:										
22	All Gallonage		_		53,863	11.63%	60,128	\$1.23	\$73,957	\$1.50	\$90,192
23	Total	1,264	13.13%	1,430	53,863	11.63%	60,128	_	\$116,230		\$141,790
	_		. =					=		=	

^{1/} Projection factors vary from detail since projections were made at the detail level.

Notes:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 2 of 3
Preparer: Bencini
Supporting Schedules: E:

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection fact	or on a separa	te schedule	if necessary.	List other class	es or meter si:	es as applicable				
	(1)	(2)	(3)	(4)	(5)	(8)	(7)	(8)	(9)	(10)	(11)
		Num	iber of E	Bills	C	Consumption (MG)			Schedule Year Revenues		
Line	_	Historical	Projection	Projected	Historic	al Projection	Projected	At Pres	ent Rates	Proposed 1995	5 Interim Rates
No.	Class/Meter Size	<u>1994</u>	Factor 1/	1995 Interim	<u>1994</u>	Factor 1/	1995 Interim	Retes	Revenue	Retes	<u>Revenue</u>
24	<u>Commercial</u>										
25	5/8" x 3/4"	9,483	3.79%	9,842	!			\$ 5,13	\$50,489	\$6.26	\$ 61,811
28	3/4"	451	7.32%	484	•			\$7.70	\$3,727	\$9,40	\$4,550
27	1"	2,310	5.80%	2,444	ļ			\$12.83	\$ 31,357	\$ 15. 6 8	\$38,273
28	1 1/2"	984	7.11%	1,054				\$25.66	\$27,046	\$31.32	\$ 33,011
29	2"	2,226	6.69%	2,375				\$4 1.05	\$97,494	\$50.11	\$119,011
30	3"	267	5.99%	283	,			\$82.10	\$23,234	\$100.22	\$28,362
31	4"	156	7.05%	167	•			\$128.29	\$21,424	\$156.60	\$26,152
32	6"	24	4.17%	25	;			\$256.57	\$6,414	\$313.19	\$7,830
33	8"	39	7.69%	42				\$410.51	\$17,241	\$501.11	\$21,047
34	10"	10	10.00%	11				\$590.11	\$6,491	\$720.35	\$7,924
35	Gallonage Charge/MG:										
36	All Gallonage				859,7	96 2.42%	675,777	\$1.23	\$831,206	\$1.50	\$1,013,666
37	Total	15,950	4.87%	16,727	659,7	96 2.42%	675,777		\$1,118,123		\$1,361,437
	=				-	_				-	
38	Public Authority										
39	1 1/2"	12	0.00%	12	!			\$25.66	\$308	\$31.32	\$378
40	2*	12	0.00%	12	!			\$41.05	\$493	\$50.11	\$601
41	3"	12	0.00%	12	!			\$82.10	\$985	\$100.22	\$1,203
42	6"	12	0.00%	12	!			\$256.57	\$3,079	\$313.19	\$3,758
43	Gallonage Charge/MG:								·		
44	All Gallonage				8,3	81 28.48%	10,768	\$1.23	\$13,245	\$1.50	\$16,152
45	Total	48	0.00%	48	8,3	_	10,766		\$18,110	•	\$22,090
	=		: :			_				•	

^{1/} Projection factors vary from detail since projections were made at the detail level.

Notes:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

FPSC

Company: SSU / Total Company / Present Uniform Docket No: 950495-WS

Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim(x) Final()

Schedule E-13 Page 3 of 3 Preparer: Bencini

Historical[] Projected[x]

Supporting Schedules: E1-1, Projection Factor Tab

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

				,							
•	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Nun	berofE	Bills	Con	sumptio	n (MG)	Sch	edule Yea	r Revenu	es
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pr	esent Rates	Proposed 199:	5 Interim Rates
<u>No.</u>	Class/Meter Size	<u> 1994</u>	Factor 1/	1995 Interim	<u> 1994</u>	Factor 1/	<u>1995 Interim</u>	Rates	Revenue	Rates	Revenue
46	Fire Protection										
47	2*	24	8.33%	26				\$13.6	9 \$356	\$16,71	\$434
48	4"	240	7.50%	258				\$42.7	6 \$11,032	\$52.20	\$13,468
49	6"	132	7.58%	142				\$85.5	3 \$12,145	\$104,41	\$14,826
50	8"	53	11.32%	59				\$136.8	4 \$8,074	\$167,04	\$9,855
51	10"	14	7.14%	15				\$196.7	0 \$2,951	\$240,11	\$3,602
52	Gallonage Charge/MG:										
53	Ali Gallonage				N/A		N/A	\$0.0	0 \$0	\$0.00	\$0
54	Total	463	7.99%	500	N/A		N/A		\$34,558	•	\$42,185
	-			 -						=	
55	GRAND TOTAL	668,405	3.51%	691,838	6,243,822	6.00%	6,618,309		\$12,349,068		\$15,063,375
	=		: :							=	

^{1/} Projection factors vary from detail since projections were made at the detail level.

Notes:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

THIS PAGE INTENTIONALLY LEFT BLANK

33/

SCHEDULE OF WATER RATES - 1995

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 1 of 11 Preparer: Bencini

(4)

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(0)	(4)
Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE MULTI-FAMILY			
1	5/8"x3/4"	\$13.69	22.070%	\$16.71
2	3/4"	\$13.69	22.070%	\$16.71
3	1"	\$34.21	22.070%	\$41.76
4	1 - 1 <i>/2</i> "	\$68.43	22.070%	\$83.53
5	2"	\$109.50	22.070%	\$133.67
6	3"	\$219.00	22.070%	\$267.33
7	4 ⁿ	\$ 342.19	22.070%	\$4 17. 7 1
8	6"	\$684.36	22.070%	\$835.40
9	8*	\$684.36	22.070%	\$835.40
	GALLONAGE CHARGE / MG:			
10	All Gallonage	\$4.12	22.070%	\$5.03

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

To billioning the bottom paradiction (

FPSC Schedule: E1-1 Page 2 of 11 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(1) (2) (3) (4)

Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$8,58	22.070%	\$10.47
2	3/4"	\$8.58	22.070%	\$10.47
3	1*	\$21.43	22.070%	\$26.16
4	1 - 1/2"	\$42.87	22.070%	\$52.33
5	2"	\$68.58	22.070%	\$83.72
	GALLONAGE CHARGE / MG:			*
6	All Gallonage	\$2.21	22.070%	\$2.70

^{1/} The proposed interim rates were computed by using the requested ravenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater { }
Interim [x] Final []
Historical {] Projected [X]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 3 of 11 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists,

	(1)	(2)	(3)	(4)	
Line		Present	Revenue Requirement	Proposed 1995	
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates	
	RESIDENTIAL, GENERAL SERVICE				
	MULTI-FAMILY				
1	5/8"x3/4"	\$4.97	22.070%	\$6.07	
2	3/4"	\$7.45	22.070%	\$9.09	
3	1"	\$12.42	22.070%	\$15.16	
4	1 - 1/2"	\$24.83	22.070%	\$30.31	
5	2*	\$39.73	22.070%	\$4 8.50	
6	3"	\$ 79.45	22.070%	\$96.98	
7	4 "	\$124.14	22.070%	\$151.54	
8	6 ⁿ	\$248.29	22.070%	\$303.09	
	GALLONAGE CHARGE / MG:				
9	All Gallonage	\$2.07	22.070%	\$2.53	

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 4 of 11 Preparer: Bencini

(4)

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	***	、	` '	1.7
Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$4.97	22.070%	\$6.07
2	3/4"	\$7.45	22.070%	\$9.09
3	1"	\$12.42	22.070%	\$15.16
4	1 - 1/2"	\$24.83	22.070%	\$30.31
5	2"	\$39.73	22.070%	\$48.50
6	3 ⁿ	\$79.45	22.070%	\$96.98
7	4 ^H	\$124.14	22.070%	\$151.54
8	6"	\$248.29	22.070%	\$303.09
	GALLONAGE CHARGE / MG:			
9	All Gallonage	\$2.07	22.070%	\$2.53
	-			

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is stightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Citrus / Lakeside

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [X] Final []
Historical [] Projected [X]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 5 of 11 Preparer: Bencini

(4)

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(' '	\- /	(-)	(·)
Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$5.13	22.070%	\$6.26
2	3/4"	\$7.70	22.070%	\$9.40
3	1"	\$12.83	22.070%	\$15.66
4	1 - 1/2"	\$25,66	22.070%	\$31.32
5	2"	\$41.05	22.070%	\$50.11
6	3 ^N	\$82.10	22.070%	\$100.22
7	4"	\$128.29	22.070%	\$156.60
8	6"	\$256.57	22.070%	\$313.19
9	8"	\$410.51	22.070%	\$501.11
10	10"	\$590.11	22.070%	\$720.35
, ,	GALLONAGE CHARGE / MG:	•===		•
11	All Gallonage	\$1.23	22.070%	\$1.50

(2)

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 6 of 11 Preparer: Bencini

(4)

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(1) (2) (3)

	` '	• •	` '	
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Ratas	Percent Increase 1/	Interim Rates
	RESIDENTIAL GENERAL SERVICE			
1	5/8"x3/4"	\$9.03	22.070%	\$11.02
2	3/4"	\$13,55	22.070%	\$16.54
3	1"	\$22.57	22.070%	\$27.55
4	1 - 1/2"	\$45.13	22.070%	\$55.09
5	2*	\$72.22	22.070%	\$88.18
6	3"	\$144.43	22.070%	\$176.31
7	4"	\$225.68	22.070%	\$275.49
8	8"	\$451.35	22.070%	\$550.96
9	8"	\$722.16	22.070%	\$881.54
10	10"	\$1,038.10	22.070%	\$1,267.21
	GALLONAGE CHARGE / MG:	•		
11	All Gallonage	\$2.40	22.070%	\$2.93
	FIRE PROTECTION			
12	4"	\$75.23	22.070%	\$91.83
13	6"	\$150.45	22.070%	\$183.65
14	8"	\$240.72	22.070%	\$293.85
15	10 ^M	\$348.04	22.070%	\$422.41
	GALLONAGE CHARGE / MG:			·
16	All Gallonage	\$0.00	22.070%	\$0.00

^{1/} The proposed interim retes were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants.

Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 7 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4)
ine		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL, MULTI-FAMILY	SERVICES 2/		
1	5/8"x3/4"	\$7.88	22.070%	\$9.82
2	3/4"	\$11.83	22.070%	\$14.44
3	1 [*]	\$19.71	22.070%	\$24.06
4	1 - 1/2"	\$39.42	22.070%	\$48.12
5	2"	\$63.07	22.070%	\$78.99
8	3"	\$126.14	22.070%	\$153.98
7	4"	\$197.09	22.070%	\$240.59
8	6*	\$394.19	22.070%	\$481.19
9	8*	\$630.70	22.07 0%	\$769.90
10	10"	\$906.63	22.070%	\$1,106.72
	GALLONAGE CHARGE / MG:			
11	All Gallonege	\$2.98	22.070%	\$3.61
	BULK RAW WATER			
12	All Meter Sizes	\$120.89	22.07 0%	\$147.57
	GALLONAGE CHARGE / MG:			
13	All Gallonage	\$0.64	22.070%	\$0.78
	FIRE PROTECTION			
14	2"	\$21.02	22.070%	\$25.66
15	3"	\$42.05	22.070%	\$ 51.33
16	4"	\$65.70	22.070%	\$80.20
7	6"	\$ 131.40	22.070%	\$160.40
18	8"	\$210.23	22.070%	\$256.63
9	10"	\$ 302.21	22.070%	\$368.91
	GALLONAGE CHARGE / MG:			
20	All Gallonage	\$0.00	22.070%	\$0.00

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

The rates are the same es General and Multi-Family.

^{2/} Imigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules.

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Finel []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 8 of 11 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(1)	(2)	(3)	(4)
Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
RESIDENTIAL, GENERAL SERVICE			
5/8"x3/4"	\$9.35	22.070%	\$11,41
3/4"	\$9.35	22.070%	\$11.41
1"	\$9,35	22.070%	\$11.41
1 - 1/2"	\$9.35	22.070%	\$11.41
2"	\$9.35	22.070%	\$11.41
3"	\$9.35	22.070%	\$11.41
4 *	\$9.35	22.070%	\$11.41
6 [*]	\$9.35	22.070%	\$11.41
8"	\$9.35	22.070%	\$11.41
10°	\$9.35	22.070%	\$11.41
GALLONAGE CHARGE / MG:			
0 - 3,000	\$0.00	22.070%	\$0.00
All Excess Gallons	\$0.94	22.070%	\$1.15
	Class/Meter Size RESIDENTIAL, GENERAL SERVICE 5/8"x3/4" 3/4" 1" 1 - 1/2" 2" 3" 4" 6" 8" 10" GALLONAGE CHARGE / MG: 0 - 3,000	Class/Meter Size Present Rates RESIDENTIAL, GENERAL SERVICE \$9.35 5/8"x3/4" \$9.35 3/4" \$9.35 1" \$9.35 1- 1/2" \$9.35 2" \$9.35 3" \$9.35 4" \$9.35 6" \$9.35 8" \$9.35 8" \$9.35 10" \$9.35 GALLONAGE CHARGE / MG: \$9.00	Class/Meter Size Present Rates Revenue Requirement Percent Increase 1/ RESIDENTIAL, GENERAL SERVICE \$9.35 22.070% 3/4" \$9.35 22.070% 1" \$9.35 22.070% 1-1/2" \$9.35 22.070% 2" \$9.35 22.070% 3" \$9.35 22.070% 4" \$9.35 22.070% 6" \$9.35 22.070% 8" \$9.35 22.070% 10" \$9.35 22.070% GALLONAGE CHARGE / MG: \$0.00 22.070%

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 9 of 11 Preparer: Bencini

Explanation: P	rovide a schedule of present, interim and proposed rates.	State residential w		
	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedula B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water (X] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

GALLONAGE CHARGE / MG:

All Gallonage

FPSC Schedule: E1-1 Page 10 of 11 Preparer: Bencini

\$67.19

\$134.37

\$209.96

\$419.92

\$1.26

	(1)	(2)	(3)	(4)
Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$6.88	22.070%	\$8.40
2	3/4"	\$10.32	22.070%	\$12.60
3	1"	\$17.20	22.070%	\$21.00
4	1 - 1/2"	\$34.40	22.070%	\$41.99

\$55.04

\$110.08

\$172.00

\$344.00

\$1.03

22.070%

22.070%

22.070%

22.070%

22.070%

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Lake / Valencia Terrace

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 11 of 11 Preparer: Bencini

(4)

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

Line No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates
	RESIDENTIAL, GENERAL SERVICE			
1	5/8"x3/4"	\$6.39	22.070%	\$7.80
2	1"	\$15.99	22.070%	\$19.52
3	1 - 1/2"	\$31.96	22.070%	\$39.01
4	2"	\$ 51.14	22.070%	\$62.43
5	3"	\$102.28	22.070%	\$124.85
6	4*	\$159.81	22.070%	\$195.08
	GALLONAGE CHARGE / MG:			
7	All Gallonage	\$0.67	22.070%	\$0.82
8	(per 100 cubic feet)	\$0.50		\$0.61

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from thet shown on Schedule B-1(W) due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

Historical[] Projected[x]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 1 of 16 Preparer: 8encini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995 PROJECTED INTERIM (PRESENT RATES)			1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
Line No.	Class/Heter Size	<u>Cc</u>	onsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1"	34,995 582		\$13.69 \$34.21	\$479.082 \$19. 9 10	34.995 582		\$16.71 \$41.76	\$584.766 \$24.304
5 6 7	Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	35,577 2,965	185,269 185,269 5,208	\$4.12	\$763,308 \$1,262,300 \$35,48	35,577 2,965	185, 269 185, 269 5, 208	\$5.03	\$931,903 \$1,540,973 \$43.31
8 9 10 11 12 13	MULTI-FAM1LY 5/8"x3/4" 1" 1 1/2" 2" 6"	9 265 325 174 12		\$13.69 \$34.21 \$68.43 \$109.50 \$684.36	\$123 \$9.066 \$22.240 \$19.053 \$8,212	9 265 325 174 12		\$16.71 \$41.76 \$83.53 \$133.67 \$835.40	\$150 \$11,066 \$27,147 \$23,259 \$10,025
14 15 16 17	Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	78 <u>5</u> 65	32,531 32,531 41,441	\$4.12	\$134,028 \$192,722 \$245.51	785 65	32,531 32,531 41,441	\$5.03	\$163,631 \$235,278 \$299,72
18 19 20 21 22 23 24	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 6" 8"	245 92 39 12 12		\$13.69 \$34.21 \$68.43 \$109.50 \$684.36 \$684.36	\$3.354 \$3.147 \$2.669 \$1.314 \$8.212 \$8.212	245 92 39 12 12		\$16.71 \$41.76 \$83.53 \$133.67 \$835.40 \$835.40	\$4.094 \$3.842 \$3.258 \$1,604 \$10,025 \$10,025
25 26 27 28	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	412 34	8.177 8.177 19.847	\$4.12	\$33,689 \$60,597 \$147.08	412	8,177 8,177 19.847	\$5.03	\$41,130 \$73,978 \$179.56

FPSC

SCHEDULE: E2-1
Page 2 of 16
Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		1995 PROJECTED INTERIM (PRESENT RATES)			1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line <u>No.</u>	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues	
29	TOTAL ANNUALIZED SALES	REVENUES 1/	\$1,515,619				\$1,850,229	
30	UNBILLED REVENUE		\$0				\$0	
31	OTHER REVENUE 2/		\$1 6,715				\$ 16, 7 15	
32	TOTAL REVENUES		\$1,532,334				\$1,866,944	

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 3 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7 8	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	2,455 250 13 2,718 227	18,082 18,082 6.653	\$8.58 \$21.43 \$42.87 \$2.21	\$21.064 \$5.358 \$557 \$39.961 \$66.940 \$24.63	2,455 250 13 2,718 227	18,082 18,082 6.653	\$10.47 \$26.16 \$52.33 \$2.70	\$25,704 \$6,540 \$680 \$48,821 \$81,745 \$30.08
9 10 11 12 13 14 15	COMMERCIAL 5/8"x3/4" 1" 2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	13 25 13 51 4	114 114 2.235	\$8.58 \$21.43 \$68.58 \$2.21	\$112 \$536 \$892 \$252 \$1,792 \$35.14	13 25 13 ———————————————————————————————————	$\frac{\frac{114}{114}}{2.235}$	\$10.47 \$26.16 \$83.72 \$2.70	\$136 \$654 \$1.088 \$308 \$2,186 \$42.86
17 18 19 20	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$68.732 \$0 \$1.100 \$69.832				\$83,931 \$0 \$1,100 \$85,031

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

FPSC

Company: SSU/BRADFORD / GENEVA LAKE ESTATES

SCHEDULE: E2-1 Page 4 of 16 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/95

Supporting Schedules: E1-1, E-13

Water [x] Wastewater []
Interim[x] Final[] Historical[] Projected[x] FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (4) (5) (8) (9) (10)

		199 5 F	PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Mo.	Class/Meter Size	Cor	nsumption(MG)		Revenues	Bills	Consumption(MG)	_Rate_	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	1,032		\$4.97	\$5,129	1,032		\$6.07	\$6,264
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1.032 86	7,936 7,936 7,690	\$2.07	\$16,428 \$21,557 \$20.89	1,032 86	7,936 7,936 7,690	\$2.53	\$20,078 \$26,342 \$25.53
7 8	MULTI-FAMILY 2" Gallonage Charge/MG	37		\$ 39.73	\$1,470	37		\$48.50	\$1,795
10 11 12	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	37 3	2,302 2,302 62,216	\$2.07	\$4,765 \$6,235 \$168.51	37 3	2,302 2,302 62,216	\$2.53	\$5,824 \$7,619 \$205.92
13 14	COMMERCIAL 1 1/2" Callenger Charge (MC	12		\$24.83	\$298	12	,	\$ 30.31	\$364
15 16 17 18	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	<u>12</u> _	509 509 42.417	\$2.07	\$1,054 \$1,352 \$112.67	<u>12</u>	509 509 42.417	\$2.53	\$1,288 \$1,652 \$137.67

Company: SSU/BRADFORD / GENEVA LAKE ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 5 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

1.2		1995 PROJECTED INTER	1M (PRESENT RATES)	1995 PROJ	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)					
Line No.	Class/Meter_Size	Consumption(HG)	Revenues	Bills	Consumption(MG)	Rate	Revenues			
19	TOTAL ANNUALIZED SALES	REVENUES 1/	\$29,144				\$35.613			
20	UNBILLED REVENUE		\$0				\$0			
21	DTHER REVENUE 2/		\$510				\$ 510			
22	TOTAL REVENUES		\$29,654				\$36,123			

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

Company: SSU/BRADFORD / KEYSTONE CLUB ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

Historical[] Projected(x)
FPSC Uniform[] FPSC Non-uniform(x] FPSC Non-jurisdiction[]

SCHEDULE: E2-1 Page 6 of 16 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made to

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995	PROJECTED INTER	IM (PRESENT	rates)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG	1,810 74 1		\$4.97 \$12.42 \$24.83	\$8.996 \$919 \$25	1.810 74 1		\$6.07 \$15.16 \$30.31	\$10.987 \$1.122 \$30
6 7 8	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1,88 <u>5</u> 157	9,176 9,176 4,868	\$2.07	\$18,994 \$28,934 \$15.35	1.88 <u>5</u> 15 7	9,176 9,176 4,868	\$2.53	\$23,215 \$35,354 \$18,76
9 10 11 12	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$28.934 \$0 \$1,100 \$30,034				\$35,354 \$0 \$1,100 \$36,454

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept. 2/ Refer to the 1995 8-4 schedule for detail of other revenue.

Company: SSU/CITRUS / LAKESIDE (NEW ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater []
Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 7 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calcu	lation of revenu	es at presen	t and proposed r	ates using the	billing analysis. Explain	any differences			
between these revenues and b	ooked revenues.	lf a rate c	hange occured du	ring the test y	ear, a revenue calculation	must be made for	each period.		
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	

		1995 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size	Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1,00 Gallonage Charge/MG	3	\$5.13	\$5,145	1,003		\$6.26	\$6,279
4 5 6	All Gallonage Total RESIDENTIAL 1,00	7,162 7,162 7,141	\$1.23	\$8,809 \$13,954 \$13,91	1,003 84	7.162 7,162 7.141	\$1.50	\$10,743 \$17,022 \$16.97
7 8 9 10	TOTAL ANNUALIZED SALES REVENUES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	1/		\$13.954 \$0 \$45 \$13.999				\$17,022 \$0 \$45 \$17,067

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept. 2/ Refer to the 1995 B-4 schedule for detail of other revenue.

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

Historical[] Projected[x]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 8 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" 1" 3" Gallonage Charge/MG	101,457 37 9		\$9.03 \$22.57 \$144.43	\$916.157 \$835 \$1,300	101.457 37 9		\$11.02 \$27.55 \$176.31	\$1.118.056 \$1.019 \$1.587
6 7 8	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	101,503 8,459	324,067 324,067 3.193	\$2.40	\$777.761 \$1.696.053 \$16.71	101.503 8,459	324,067 324,067 3,193	\$2.93	\$949,516 \$2,070,178 \$20,40
9 10 11 12 13 14 15 16	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	2,809 689 338 362 73 12		\$9.03 \$22.57 \$45.13 \$72.22 \$144.43 \$225.68 \$451.35	\$25,365 \$15,551 \$15,254 \$26,144 \$10,543 \$2,708 \$5,416	2.809 689 338 362 73 12		\$11.02 \$27.55 \$55.09 \$88.16 \$176.31 \$275.49 \$550.96	\$30,955 \$18,982 \$18,620 \$31,914 \$12,871 \$3,306 \$6,612
18 19 20	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	4, 295 358	67.272 67.272 15.663	\$2.40	\$161,453 \$262,434 \$61,10	4.295 358	67,272 67,272 15,663	\$2.93	\$197,107 \$320,367 \$74,59

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 9 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
Line <u>No.</u>	Class/Meter Size	Con	sumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
21 22 23 24 25	FIRE PROTECTION 4" 6" 8" 10"	77 38 25 3		\$75.23 \$150.45 \$240.72 \$346.04	\$5.793 \$5.717 \$6.018 \$1,03B	77 38 25 3		\$91.83 \$183.65 \$293.85 \$422.41	\$7,071 \$6,979 \$7,346 \$1,267	
26 27 28 29	Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	143 12	0.000	\$0.00	\$0 \$18,566 \$129,83	143 12	0.000	\$0.00	\$0 \$22,663 \$158.48	
30 31 32 33	TOTAL ANNUALIZEO SALES F UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$1,977.053 \$0 \$54,335 \$2,031,388		,		\$2,413,208 \$0 \$54,335 \$2,467,543	

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 10 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line		1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" Gallonage Charge/MG	26.531 2 35.117 130 14	1 002 005	\$7.88 \$11.83 \$19.71 \$39.42 \$63.07	\$209.064 \$24 \$692.156 \$5.125 \$883	26,531 2 35,117 130 14	1 000 005	\$9.62 \$14.44 \$24.06 \$48.12 \$76.99	\$255.228 \$29 \$844.915 \$6.256 \$1.078
9 10	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	61,794 5,150	1,083,265 1,083,265 17,530	\$2.96	\$3.206.464 \$4.113.716 \$66.57	61.794 5,150	1,083,265 1,083,265 17,530	\$3.61	\$3,910,587 \$5,018,093 \$81,21
11 12 13 14 15 16 17 18	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	56 56 261 731 333 393 33		\$7.88 \$19.71 \$39.42 \$63.07 \$126.14 \$197.09 \$394.19	\$441 \$1.104 \$10,289 \$46,104 \$42,005 \$77,456 \$13,008	56 56 261 731 333 393 33		\$9.62 \$24.06 \$48.12 \$76.99 \$153.98 \$240.59 \$481.19	\$539 \$1,347 \$12,559 \$56,280 \$51,275 \$94,552 \$15,879
20 21 22	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	1,B63 155	319,075 319,075 171,269	\$2.96	\$944,462 \$1,134,869 \$609,16	1.863 155	319.075 319.075 171.269	\$3.61	\$1,151,861 \$1,384,292 \$743.04

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 11 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	95 PROJECTED INTER	IM (PRESEN	T RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line <u>Mo.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	<u> Rate</u>	Revenues
23 24 25 26 27 28 29 30 31 32	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" 10" Gallonage Charge/MG	1.945 1.244 474 405 12 26 25 12		\$7.88 \$19.71 \$39.42 \$63.07 \$126.14 \$197.09 \$394.19 \$906.63	\$15.327 \$24.519 \$18.685 \$25.543 \$1.514 \$5,124 \$9.855 \$10.880	1.945 1.244 474 405 12 26 25		\$9.62 \$24.06 \$48.12 \$76.99 \$153.98 \$240.59 \$481.19 \$1,106.72	\$18,711 \$29,931 \$22,809 \$31,181 \$1,848 \$6,255 \$12,030 \$13,281
33 34 35	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	4.143 345	300,650 300,650 72,568	\$2.96	\$889,924 \$1,001,371 \$241.70	4,143	300,650 300,650 72,568	\$3.61	\$1,085,347 \$1,221,393 \$294.81
36 37 38 39 40 41 42 43	1RRIGATION 5/8"x3/4" 1" 1 1/2" 2" 3" 4" Gallonage Charge/MG	124 673 723 1.137 49		\$7.88 \$19.71 \$39.42 \$63.07 \$126.14 \$197.09	\$977 \$13,265 \$28,501 \$71,711 \$6,181 \$2,365	124 673 723 1.137 49		\$9.62 \$24.06 \$48.12 \$76.99 \$153.98 \$240.59	\$1,193 \$16,192 \$34,791 \$87,538 \$7,545 \$2,887
44 45 46	All Gallonage Total IRRIGATION Ave cust/cons/bill/mth	2,718	473,477 473,477 174,201	\$2.96	\$1,401,492 \$1,524,492 \$560.89	$\frac{2.718}{227}$	473,477 473,477 174,201	\$3.61	\$1,709,252 \$1,859,398 \$684,11

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

SCHEDULE: E2-1 Page 12 of 16 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Historical[] Projected[x] FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (B) (1) (2) (9)

		199	5 PROJECTED INTER	RIN (PRESEN	T RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size		Consumption(MG)		Revenues	<u>B111s</u>	Consumption(MG)	_Rate	Revenues
47 48 49	RAW WATER 6" Gallonage Charge/MG	12		\$120 .89	\$1,451	12		\$147.57	\$1,771
50 51 52	All Gallonage Total RAW WATER Ave cust/cons/bill/mth	12	36,938 36,938 3078.17	\$0.64	\$23,640 \$25,091 \$2,090.92	12	36,938 36,938 3078,17	\$0.78	\$28,812 \$30,583 \$2,548.58
32	Ave Cast/Cons/Bitt/illen	•	30/0.17		\$2,090.92	1	3073.17		\$2,540.50
53	FIRE PROTECTION								
54	3"	3		\$42.05	\$ 126	3		\$ 51.33	\$154
55	4"	146		\$65.70	\$9.592	146		\$B0.20	\$11,709
56	6 "	454		\$131.40	\$59,656	4 54		\$160.40	\$72,822
57	8"	458		\$210.23	\$96,285	458		\$2 56.63	\$117,537
58	10"	60		\$302.21	\$18,133	60		\$368.91	\$22,135
59	Gallonage Charge/MG								
60	All Gallonage		0	\$0.00			0	\$0.00	\$0
61	Total FIRE PROTECTION	1,121 93	0		\$183.792	1.121	0		\$224,357
62	Ave cust/cons/bill/mth	93	0.000		\$163.95	93	0.000		\$200.14
63	TOTAL ANNUALIZED SALES I	REVENUES 1/			\$7,983,331				\$9,738,116
64	UNBILLED REVENUE				\$0				\$0
65	OTHER REVENUE 2/				\$24,990				\$24,990
66	TOTAL REVENUES				\$8,008,321				\$9,763,106

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

Company: SSU/ST. JOHN / PALM VALLEY

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 13 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995 PROJECTED INTERIM (PRESENT RATES) 1995 PROJECTEO INTERIM (PROPOSED INTERIM RATES)					RATES)			
No.	Class/Meter Size	Consump	otion(MG)		Revenues		Bills	Consumption(HG)	Rate	Revenues
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 2" Gallonage Charge/MG	2,312 12 81 12		\$9.35 \$9.35 \$9.35 \$9.35	\$21,617 \$112 \$757 \$112		2.312 12 81 12		\$11.41 \$11.41 \$11.41 \$11.41	\$26,380 \$137 \$924 \$137
7 8 9 10	0- 3000 3001-All excess Total RESIDENTIAL Ave cust/cons/bill/mth	2,417 201	5,746 13,929 19,675 8.140	\$0.00 \$0.94	\$13,093 \$35,691 \$14.77	0- 3000 3001-All excess	2,417	5,746 13,929 19,675 8,140	\$0.00 \$1.15	\$0 \$16,018 \$43,596 \$18.04
11 12 13 14 15 16 17 18	COMMERCIAL 5/8"x3/4" 2" Gallonage Charge/MG 0- 3000 3001-All excess Total COMMERCIAL Ave cust/cons/bill/mth	73 12 85 7	213 1,265 1,478 17,388	\$9.35 \$9.35 \$0.00 \$0.94	\$683 \$112 \$0 \$1,189 \$1,984 \$23,34	0- 3000 3001-All excess	73 12 ———————————————————————————————————	213 1,265 1,478 17,388	\$11.41 \$11.41 \$0.00 \$1.15	\$833 \$137 \$0 \$1,455 \$2,425 \$28.53
19 20 21 22	TOTAL ANNUALIZED SALES F UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$37,675 \$0 \$1,110 \$38,785					\$46,021 \$0 \$1,110 \$47,131

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

FPSC

Company: SSU/ST. JOHN / REMINGTON FOREST

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]
ESSC Uniform[] ESSC Mon-uniform[x]

SCHEDULE: E2-1 Page 14 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	5 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	SED INTERIM	RATES)
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	940 7		\$20.30 \$20.30	\$19.082 \$142	940 7		\$24.78 \$24.78	\$23,293 \$173
5 6 7	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	947 79	7,140 7,140 7,540	\$0.00	\$0 \$19,224 \$20,30	947 79	7,140 7,140 7,540	\$0.00	\$23,466 \$24,78
8 9 10 11	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$19.224 \$0 \$370 \$19.594				\$23,466 \$0 \$370 \$23,836

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

Company: SSU/CITRUS / SPRING GARDENS (NEW ACQUISITION)

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 15 of 16
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PF	OJECTED INTER	IN (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	SED INTERIM	RATES)
Line <u>No.</u>	Class/Heter Size	Cons	sumption(MG)		Revenues	8111s	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	1,517		\$6.88	\$1 0,437	1,517		\$8.40	\$12,743
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1,517 126	6,313 6,313 4,162	\$1.03	\$6.502 \$16.939 \$11.17	1,517 126	6,313 6,313 4,162	\$1.26	\$7.954 \$20,697 \$13.64
7 8 9	COMMERCIAL 5/8"x3/4" 2"	12 25		\$6.88 \$55.04	\$83 \$1.376	12 25		\$8,40 \$67,19	\$101 \$1,680
10 11 12 13	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	37	882 882 23.838	\$1.03	\$908 \$2,367 \$63.97	37	882 882 23.838	\$1.26	\$1,111 \$2,892 \$78.16
14 15 16 17	TOTAL ANNUALIZED SALES ON UNBILLED REVENUE OTHER REVENUE 2/TOTAL REVENUES	REVENUES 1/			\$19.306 \$0 \$1.725 \$21,031				\$23,589 \$0 \$1,725 \$25,314

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

Company: SSU/LAKE / VALENCIA TERRACE (NEW ACQUISITION)

Docket No.: 950495-WS

Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 16 of 16 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (9) (10)

		1995	PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	SED INTERIM	CATES)
Line No.	Class/Meter Size	Co	onsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	4.107 4.107 342	23,968 23,968 5,836	\$6.39 \$0.67	\$26,244 \$16,059 \$42,303 \$10,30	4,107 4,107 342	23,968 23,968 5.836	\$7.80 \$0.82	\$32,035 \$19,654 \$51,689 \$12.59
7 8 9 10 11 12	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG	43 70 12 12		\$6.39 \$15.99 \$31.96 \$51.14	\$275 \$1,119 \$384 \$614	43 70 12 12		\$7.80 \$19.52 \$39.01 \$62.43	\$335 \$1,366 \$468 \$749
13 14 15	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	137 11	1,619 1,619 11.818	\$0.67	\$1,085 \$3,477 \$25.38	137 11	1,619 1,619 11.818	\$0.82	\$1,328 \$4,246 \$30.99
16 17 18 19	TOTAL ANNUALIZED SALES I UNBILLEO REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$45,780 \$0 \$165 \$45,945				\$55,935 \$0 \$165 \$56,100

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater []

Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 1 of 11

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	•
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN95	2,925	65	35	0	0	3.025	
2	FEB95	2,890	65	34	0	0	2,989	
3	MAR95	2,927	65	34	0	0	3,026	
4	APR95	2, 94 6	65	34	0	0	3,045	
5	MAY95	2,953	65	34	0	0	3,052	
6	JUN95	2,972	65	34	0	0	3,071	
7	JUL95	2.989	66	35	0	0	3,090	
8	AUG95	2,998	65	35	0	0	3,098	
9	SEP95	2,968	65	34	0	0	3,067	
10	OCT95	3,002	65	34	0	0	3,101	
11	NOV95	2,995	65	34	0	0	3,094	
12	DEC95	3.012	65	34	0	0	_3.111	
13	<u>TOTAL</u>	<u>35,577</u>	781	411	0	0	36,769	
14	MTH. AVE	2.965	65	34	0	0	3,064	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

230

Company: SSU/VOLUSIA /ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 2 of 11

Preparer: Bencini

	(1)	schedule of month) (2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential		Service	Protection	(List) 1/	<u>Total</u>	
1	JAN95	220	0	4	0	0	224	
2	FEB95	221	0	4	0	0	225	
3	MAR95	222	0	4	0	0	226	
4	APR95	223	0	4	0	0	227	
5	MAY95	228	0	4	0	0	232	
6	JUN95	228	0	4	0	0	23 2	
7	JUL95	230	0	4	0	0	234	
8	AUG95	227	0	4	0	0	231	
9	SEP95	228	0	4	0	0	232	
10	OCT95	230	n	4	0	0	234	
11	NOV95	2 3 1	n	A	n	n	235	
12	DEC95	229	0	4	0	0	233	
13	TOTAL	2,717	0	48	^	0	2,765	

0

NOTE: May not tie to other schedules due to monthly rounding.

226

1/ Includes Irrigation, Public Authority and Raw Water.

MTH. AVE

14

Company: SSU/BRADFORD /GENEVA LAKE ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 3 of 11

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	··-
Line	Month/		Multi-Family	General	Private Fire	Other		-
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	Jan95	86	3	1	0	0	90	
2	FE895	86	3	1	0	0	90	
3	MAR95	89	3	1	0	0	93	
4	APR95	89	3	1	0	0	93	
5	MAY95	90	3	1	0	0	94	
6	JUN95	86	3	1	0	0	90	
7	JUL95	84	3	1	0	0	88	
8	AUG95	88	3	1	0	0	92	
9	SEP95	84	3	1	0	0	88	
10	OCT95	85	3	1	0	0	89	
11	NOV95	84	3	1	0	0	88	
12	0EC95	<u>85</u>	3	1	0	0	89	
13	<u>TOTAL</u>	1.036	36	12	0	0	1.084	
14	MTH. AVE	86	3	1	0	0	90	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/BRADFORD /KEYSTONE CLUB ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3 Page 4 of 11 Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential		Service	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN95	157	0	0	0	0	157	
2	FEB95	158	0	0	0	0	158	
3	MAR95	157	0	0	0	0	157	
4	APR95	157	0	0	0	0	157	
5	MAY95	156	0	0	0	0	156	
6	JUN95	157	0	0	0	0	157	
7	JUL95	162	0	0	0	0	162	
8	AUG95	157	0	0	0	0	157	
9	SEP95	154	0	0	0	0	154	
10	0 C T95	157	0	0	0	0	157	
11	NOV95	157	0	0	0	0	157	
12	DEC95	159	0	0	0	0	<u>159</u>	
13	TOTAL	1,888	0	0	0	0	1,888	
14	MTH. AVE	157	0	0	0	0	157	

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Company: SSU/CITRUS /LAKESIDE(NEW ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform() FPSC Non-uniform(x) FPSC Non-jurisdiction()

FPSC

SCHEDULE: E-3 Page 5 of 11

Preparer: Bencini

Explanati	on: Provide a s	chedule of monthly	customers billed	or served by	class.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	-
Line	Month/		Multi-Family	General	Private Fire	Other		•
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN95	84	0	0	0	0	84	
2	FEB95	84	0	0	0	0	B4	
3	MAR95	84	0	0	0	0	84	
4	APR95	84	0	0	0	0	84	
5	MAY95	84	0	0	0	0	84	
6	JUN95	84	0	0	0	0	84	
7	JUL95	84	0	0	0	0	84	
8	AUG95	84	0	0	0	0	84	
9	SEP95	84	0	0	0	0	84	
10	0CT95	84	0	0	0	0	84	
11	NOV95	84	0	0	0	0	84	
12	DEC95	84	0	0	0	0	84	
	52075		<u>~</u>			-		
13	TOTAL	1,008	0	0	0	0	1.008	
14	MTH. AVE	84	0	0	0	0	84	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

FPSC

105,939

8.828

Company: SSU/LEE /LEHIGH Docket No.: 950495-WS

Schedule Year Ended 12/31/95
Water [x] Wastewater []

Interim(x) Final()

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a schedule of monthly customers billed or served by class.

SCHEDULE: E-3
Page 6 of 11

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
				•••				
1	JAN95	8.256	0	349	11	0	8.616	
2	FEB95	8.501	0	362	11	0	8.874	
3	MAR95	9,026	0	381	12	0	9,419	
4	APR95	8.441	0	353	11	0	8,805	
5	MAY95	8.388	0	349	11	0	8,748	
6	JUN95	8,403	0	350	11	0	8,764	
7	JUL95	8.360	0	354	11	0	8,725	
8	AUG95	8,408	0	360	11	0	8.779	
9	SEP95	8,417	0	362	12	0	8,791	
10	OCT95	8.437	0	360	13	0	8,810	
11	NOV95	8,449	0	360	13	0	8,822	
12	DEC95	8,416	0	358	12	0	8,786	

12

NOTE: May not tie to other schedules due to monthly rounding.

101,502

8,459

TOTAL

MTH. AVE

13

14

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/COLLIER /MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 7 of 11

FPSC

Preparer: 8encini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Famil y	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	Total	
1	Jan95	5,078	154	346	96	226	5,900	
2	FEB95	5,078	154	346	96	227	5.901	
3	MAR95	5.107	155	348	96	230	5,936	
4	APR95	5,112	154	348	95	228	5,937	
5	MAY95	5,153	154	345	95	229	5,976	
6	JUN95	5,142	155	348	93	228	5,966	
7	JUL95	5,158	155	344	92	227	5,976	
8	AUG95	5,164	155	343	92	227	5,981	
9	SEP95	5,170	157	348	93	230	5,998	
10	OCT95	5,202	155	340	92	225	6.014	
11	NOV95	5,213	155	346	93	225	6,032	
12	DEC95	5,218	<u> 155</u>	345	92	225	6,035	
13	TOTAL	61.795	1,858	4.147	1,125	2,727	71.652	
14	MTH. AVE	5,150	155	346	94	227	5,971	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /PALM VALLEY

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 8 of 11
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN95	200	0	7	0	0	207	
2	F EB 95	197	0	7	0	0	204	
3	MAR95	198	0	7	0	0	205	
4	APR95	199	0	7	0	0	206	
5	MAY95	205	0	7	0	0	212	
6	JUN95	199	0	7	0	0	206	
7	JUL95	202	0	7	0	0	209	
8	AUG95	203	0	7	. 0	0	210	
9	SEP95	202	0	7	0	0	209	
10	OCT95	204	0	7	0	0	21 1	
11	NOV95	206	0	7	0	0	213	
12	DEC95	201	0	7	0	0	208	
13	TOTAL	2,416	0	84	0	0	2,500	
14	MTH. AVE	201	0	7			208	

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /REMINGTON FOREST

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 9 of 11
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN95	76	0	0	0	0	76	
2	FEB95	75	0	0	0	0	75	
3	MAR95	75	0	0	0	0	75	
4	APR95	71	0	0	0	0	71	
5	MAY95	75	0	0	0	0	75	
6	JUN95	79	0	0	0	0	79	
7	JUL95	80	0	0	0	0	80	
8	AUG95	81	0	0	0	0	B1	
9	SEP95	81	0	0	0	0	81	
10	OCT95	82	0	0	0	0	82	
11	NOV95	85	0	0	0	0	85	
12	DEC95	86	0	0	0	0	86	
13	TOTAL	946	0	0	0	0	946	
14	MTH. AVE	79	0	0	0	0	79	

NOTE: May not tie to other schedules due to monthly rounding.

 $^{1/\ \}mbox{Includes}$ Irrigation, Public Authority and Raw Water.

Company: SSU/CITRUS /SPRING GARDENS(NEW ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3 Page 10 of 11 Preparer: Bencini

FPSC

	(1)	(2)	y customers billed (3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	Genera}	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN95	127	0	3	0	0	130	
2	FEB95	127	0	3	0	0	130	
3	MAR95	127	0	3	0	0	130	
4	APR95	128	0	3	0	0	131	
5	MAY95	127	0	3	0	0	130	
6	JUN95	126	0	3	0	0	129	
7	JUL95	125	0	3	0	0	128	
В	AUG95	126	0	3	0	0	129	
9	SEP95	126	0	3	0	0	129	
10	OCT95	125	0	3	0	0	128	
11	NOV95	126	0	3	0	0	129	
12	DEC95	128	0	3	0	0	<u>131</u>	
13	TOTAL	1.518	0	36	0	0	1,554	
14	MTH. AVE	127	0	3	0	0	130	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/LAKE /VALENCIA TERRACE(NEW ACQUISITION)

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 11 of 11

FPSC

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	Total	
1	JAN95	343	n	10	0	0	353	
2	FEB95	341	0	9	0	0	350	
3	MAR95	343	0	10	0	0	353	
4	APR95	343	0	11	0	0	3 54	
5	MAY95	343	0	11	0	0	354	
6	JUN95	341	0	11	0	0	352	
7	JUL 9 5	341	0	12	0	0	353	
8	AUG95	34 3	0	12	0	0	355	
9	SEP95	343	0	12	0	. 0	355	
10	OCT95	343	0	12	0	0	355	
11	NOV95	343	0	12	0	0	355	
12	DEC95	343	0	12	0	0	<u>355</u>	
13	TOTAL	4,110	0	134	0	0	4.244	
14	MTH. AVE	343	0	11	0	0	354	

NOTE: May not tie to other schedules due to monthly rounding.

3/

^{1/} Includes Irrigation, Public Authority and Raw Water.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4
Page 1 of 11
Preparer: Bencini

	(1)	(2) Present I	(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amor of the ch whicheve greater.	unt eck,	No Change	No Change

Preparer: Benci

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus, Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amount of the check, whichever is greater.	N/A	No Change	No Change

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4
Page 3 of 11
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% the arr of the whiche greate	ount check, ver is	No Change	No Change

37

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4 Page 4 of 11 Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present R	ates	(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amount of the che whichever greater.	ck,	No Change	No Change

380

Company: SSU / Citrus / Lakeside

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4
Page 5 of 11
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present R	(2) Present Rates		3) ed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	\$15.00	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Retum Check Charge	\$15.00 or 5% of the amount of the che whichever greater.	ck,	No Change	No Change	

<u> 28</u>1

Schedule E-4 Page 6 of 11

Preparer: Bencini

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2) Present F	(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amou of the ch whicheve greater.	eck,	No Change	No Change

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4
Page 7 of 11
Preparer: Bencini

	(1)	Pr	(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00		No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	\$15.00	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	of wi	5% of N/A e amount the check, ichever is eater.	No Change	No Change	

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1995

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4
Page 8 of 11
Preparer: Bencini

	(1)	(2) Present F	(2) Present Rates		(3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the arnou of the che whicheve greater.	eck,	No Change	No Change

Company: SSU / St. Johns / Remington Forest

Schedule E-4 Page 9 of 11

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Pr ese nt Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	\$15.00	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	\$15,00 or 5% of the among of the company of the com	unt neck, er is	No Change	No Change	

385

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2) Present R	(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00 or 5% of the amou of the che whicheve greater.	eck,	No Change	No Change

Company: SSU / Lake / Valencia Terrace

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are oursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates		Pr	(3) oposed Rates
Line No.	Type of Charge	During Bus. Hours		After s. Hours	During Bus. Hours	After Bus. Hours
1 Initial C	onnection	\$15.00		N/A	No Change	No Change
2 Normal	Reconnection	\$15.00		N/A	No Change	No Change
3 Violation	n Reconnection	\$15.00		N/A	No Change	No Change
4 Premise) Visit	\$10.00		N/A	No Change	No Change
5 Return	Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	No Change	No Change

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wasterwater []
Interim [X] Final []
Historical [] Projected [X]
FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

FPSC Schedule: E-5 Page 1 of 11

Preparer: Bencini

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1994 Units 1/	rojected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	420	3.35%	434	\$8,510	\$ 15	434	\$8,510
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	222	3.35%	229	\$3,435	\$ 15	229	\$3,435
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	211	3.35%	218	\$ 3,270	\$ 15	218	\$3,270
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	194	3.35%	200	\$2,000	\$10	200	\$2,000
5.	Return Check Charge	\$15	97	3.35%	100	\$1,500	\$15	100	\$1,500
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			1,144		1,181	\$16,715		1,181	\$16,715

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

39

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water (X) Wastewater [] Interim [X] Final [] Historical [] Projected (X]

FPSC Uniform [] FPSC Non-uniform (X) FPSC Non-Jurisdiction []

Exclanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 2 of 11 Preparer: Bencini

•	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(6) Proposed	(9)
Line No.	Type of Charge	Rates	P	Projection Practor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1,	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	28	3.35%	29	\$4 35	\$15	29	\$43 5
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	16	3.35%	17	\$255	\$15	17	\$255
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	18	3.35%	17	\$255	\$15	17	\$255
4.	Premise Visit Charge (Includes Bus, Hours and After Bus, Hours)	\$10	5	3.35%	5	\$50	\$10	5	\$50
5.	Return Check Charge	\$ 15	7	3.35%	7	\$105	\$15	7	\$106
6 .	Other Charges	\$ 15	0	3.35%	0	\$0	\$15	0	\$0
			72		75	\$1,100		75	\$1,100

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water (X) Wastewater (]
Interim (X) Final ()
Historical () Projected (X)

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable,

FPSC Schedule: E-5 Page 3 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1994 Units 1/	rojected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
_								-	
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	16	3.35%	17	\$255	\$ 15	17	\$255
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	7	3.35%	7	\$105	\$15	7	\$105
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	6	3.35%	6	\$90	\$15	6	\$90
4.	Premise Visit Charge (Includes Bus. Houre and After Bus. Hours)	\$10	6	3.35%	6	\$60	\$10	6	\$60
5.	Return Check Charge	\$15	0	3.35%	0	\$0	\$15	a	\$0.
6.	Other Charges	\$15	0	3.35%	a	\$0	\$15	0	\$0
			35		36	\$510		36	\$510

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 4 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line				Projected 1995 Units Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Intital Connection (Includes Bus. Hours and After Bus. Hours)	\$15	34	3.35%	35	\$525	\$15	35	\$525
2.	Normal Reconnection (includes Bus. Hours and After Bus. Hours)	\$15	18	3.35%	19	\$285	\$ 15	19	\$285
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	9	3.35%	9	\$135	\$ 15	9	\$135
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	11	3.35%	11	\$110	\$10	11	\$110
5 .	Return Check Charge	\$15	3	3.35%	3	\$4 5	\$15	3	\$4 5
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			75		77	\$1,100		77	\$1,100

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bilts of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Citrus / Lukeside (New Aquisition)

Dodket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [X] Final []
Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 5 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1994 Units 1/	Projected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 interim) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	3	\$45	\$15	3	\$4 5
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			0		3	\$4 5		3	\$45

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

ယ္ထ

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Lee / Lehigh
Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water (X] Wastewater ()
Interim (X] Final ()
Historical () Projected (X)

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 6 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(8)
Line No.	Type of Charge	Rates	1994 Units 1/	rojected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	1,638	3.35%	1,693	\$25,395	\$15	1,693	\$25,395
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	602	3.35%	622	\$9,330	\$ 15	622	\$9,330
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	703	3.35%	727	\$10,905	\$ 15	727	\$10,905
4.	Premise Visit Charge (Includes Bus, Hours and After Bus, Hours)	\$10	527	3.35%	545	\$5,450	\$10	545	\$5,450
5.	Return Check Charge	\$15	210	3.35%	217	\$3,255	\$15	217	\$3,255
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
	•		3,680		3,804	\$54,335		3,804	\$54,335

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water (X) Wasterwater () Interim (X) Final () Historical () Projected (X)

FPSC Uniform [] FPSC Non-uniform DC FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 7 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	Ø	(8) Proposed	(9)
Line	T100	2.4		rojected 1995 Units Projection	400511.5.44				(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	887	3.35%	917	\$13,755	\$15	917	\$13,755
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	366	3.35%	378	\$5,670	\$15	378	\$5,670
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	196	3.35%	203	\$3,045	\$15	203	\$3,045
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	70	3.35%	72	\$720	\$10	72	\$720
5.	Return Check Charge	\$15	116	3.35%	120	\$1,800	\$15	120	\$1,800
6.	Other Charges	\$15	0	3.35%	0	\$0	\$ 15	0	\$0
			1,635		1,690	\$24,990		1,690	\$24,990

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

39

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 8 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			F	Projected 1995 Units Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	29	3.35%	30	\$450	\$ 15	30	\$450
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	5	3.35%	5	\$ 75	\$15	5	\$ 75
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	12	3.35%	12	\$180	\$15	12	\$180
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	23	3.35%	24	\$240	\$10	24	\$240
5.	Return Check Charge	\$15	11	3.35%	11	\$165	\$15	11	\$165
6.	Other Charges	\$15	0	3.35%	0	\$0	\$15	0	\$0
			80		62	\$1,110		82	\$1,110

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross fool due to rounding.

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 9 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			Pr	ojected 1995 Units					
Line	- 45			Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Infitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	13	3.35%	13	\$195	\$15	13	\$195
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	10	3.35%	10	\$150	\$15	10	\$150
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	1	3.35%	1	\$15	\$15	1	\$15
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	1	3.35%		\$ 10	\$10	1	\$10
5.	Return Check Charge	\$15	0	3.35%	0	\$ 0	\$15	0	\$0
6.	Other Charges	\$ 15	0	3.35%	0	\$ 0	\$15	0	\$0
			25		25	\$370		25	\$370

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

Company: SSU / Citrus / Spring Gardens (New Aquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 10 of 11 Preparer, Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Р	rojected 1995 Units Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	115	\$1,725	\$15	115	\$1,725
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$ 15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Change (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5.	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			0		115	\$1,725		115	\$1,725

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

Company: SSU / Lake / Valencia Terrace (New Aquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 11 of 11 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			P	rojected 1995 Units					
Line No.	Type of Charge	Rates	1994 Units 1/	Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	11	\$165	\$15	11	\$165
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$15	0	\$0
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	N/A	0	3.35%	0	\$0	\$10	0	\$0
5 .	Return Check Charge	N/A	0	3.35%	0	\$0	\$15	0	\$0
6.	Other Charges	N/A	0	3.35%	0	\$0	\$15	0	\$0
			0		11	\$165		11	\$165

^{1/} The number of units for miscellaneous service charges was projected using the overall FPSC projected growth in bills of 3.35%. Please refer to the Projection Factor for a detail breakdown of the growth projections.
Note: Numbers may not cross foot due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / Present Non-Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	of Standard 1	ype Public Fle	re Hydrante B	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6-	6-	10"	12"	14"	Total	Notes
1	Deep Creek	Charlotte	Fire Protection Provided	750	-	326		_	-	٠.	326	
2	Enterprise	Volusia	No Fire Protection	•	-	•	-	-	•	-	•	
3	Geneva Lake Estates	Bradford	No Fire Protection	-	-	-	-	•	•	-	-	
4	Keystone Club Estates	Bradford	No Fire Protection		-	-			-	-		
5	Lakeside	Citrus	Fire Protection Provided	500	-	7	-	-	-	-	7	
6	Lehigh	Lee	Fire Protection Provided	2,000		490	-	-		-	490	
7	Merco Island	Collier	Fire Protection Provided	4,500	-	339	-		•	-	339	
6	Palm Valley	St. Johns	No Fire Protection		-	-	-	-	-	-		
9	Remington Forest	St. Johns	No Fire Protection	-	-	•	-	-		-	-	
10	Spring Gardens	Citrue	No Fire Protection	-		-	-	-	-	-	-	
11	Valencia Terrece	Lake	Fire Protection Provided	500	•	6		•	-	-	6	
	Total FPSC Non-Uniform Plants				0	1168	0	0	0	0	1168	

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(2)

)

(

(6)

(9)

(10)

(11) (12)

(13)

(14)

Size and Type:

(7)

Line No.	Plant	. <u> </u>		Spi	rinkler L	ines:			Do	ouble Ct	neck Val	ves:		
1		_2"_	_4"_	6"	<u>8"</u>	10"	Total	2"	_4"_	6"	<u>8"</u>	10*	Total	Combined Total
2	Lehigh	-	6	3	2	-	11	-	-	-	-	-		11
3	Marco Island	-	-	-	-	-	-	-	12	38	38	5	93	93
4	Total	-	6	3	2		11		12	38	38	5	93	104

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	GENEVA LAKE ESTATES:	
2		
3	Emery, W.C.	Utility easement acquired in exchange for water service at no charge.
4	Customer # 031389	
5		
8		
7	TROPICAL ISLES:	
8	-	
9	Drake, John	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
10	Customer # 96236	more than six (6) rental units at Mobile Park at no charge.
11	Kennedy, Barbara	
12	Customer # 96244	
13	Michael, Malcolm	
14	Customer # 96259	
15	Sellards, Harold	
16	Customer # 96265	
17	Steeves, Hubert	
18	Customer # 96268	
19	Flora, Dick	
20	Customer # 96271	

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 1

403

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

Company: SSU / Total Company / Present Non-uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [x] or Wastewater [] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line No.	(2) Plant	(3) County	(4) Type of Tax or Fee	(5) To Whom Paid	(6)	(7) How Collected From Customers	(8) Type of Agreement
1	Total Company	FPSC Juris.	Rev. Assess. Fee	FPSC	4.5%	1/	None

SERVICE AVAILABILITY CHARGES SCHEDULE - 1995

Company: SSU / Total Company / Present Non-Uniform

Schedule E-10

Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	

Please see separate Service Availability Schedules, Volume VIII.

405

FPSC

Company: SSU / Total Company / Present Non-Uniform

Schedule E-11 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	For the Year Ended	Residential	General Service	Other	Total	

This schedule is not applicable.

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-W\$

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

THIS PAGE INTENTIONALLY LEFT BLANK

FPSC

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Schedule E-13
Page 1 of 14
Preparer: Bencini
Supporting Schedules: E1-1,

Historical[] Projected[x]

Projection Factor Tab

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

	tion of each projection fact (1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	- ,	Νυπ	barofi			n sumpti	` '		dule Yeai	` '	, ,
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	ent Rates	Proposed 199	5 Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	1994	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	33,711	3.81%	34,995				\$13.69	\$479,082	\$16.71	\$584,766
3	1"	561	3,81%	582				\$34.21	\$19,910	\$41.76	\$24,304
4	Gallonage Charge/MG:										
5	All Gallonage _				179,956	2.9525%	185,269	\$4.12	\$763,308	\$5.03	\$931,903
6	Total =	34,272	. ,	35,577	179,958		185,269		\$1,262,300		\$1,540,973
7	Multi-Family										
8	5/8" x 3/4"	9	3.81%	9				\$13.69	\$123	\$16.71	\$150
9	1"	255	3.81%	265				\$34 .21	\$9,066	\$41.76	\$11,066
10	1 1/2"	313	3.81%	325				\$68.43	\$22,240	\$83.53	\$27,147
11	2*	168	3.81%	174				\$109.50	\$19,053	\$133.67	\$23,259
12	6*	12	3.81%	12				\$684.36	\$6,212	\$835.40	\$10,025
13	Gallonage Charge/MG:										
14	All Gallonage				31,598	2.9525%	32,531	\$4 .12	\$134,028	\$5.03	\$183,831
15	Total	757	. :	785	31,598		32,531		\$192,722		\$235,278
16	Commercial										
17	5/8" x 3/4"	236	3.81%	245				\$13.69	\$3,354	\$18.71	\$4,094
18	1"	69	3.81%	92				\$34.21	\$3,147	\$41.78	\$3,842
19	1 1/2"	38	3.81%	39				\$68.43	\$2,669	\$83.53	\$3,258
20	2"	12	3.81%	12				\$109.50	\$1,314	\$133.87	\$1,604
21	6*	12	3.81%	12				\$684.36	\$6,212	\$835.40	\$10,025
22	8"	12	3.81%	12				\$684.36	\$8,212	\$835.40	\$10,025
23	Gallonage Charge/MG:										
24	Ali Galionage _				7,942	2.9525%	8,177	\$4.12	\$33,689	\$5.03	\$41,130
25	Total _	399		412	7,942		8,177		\$60,597		\$73,978
26	GRAND TOTAL	35,428		36,774	219,496		225,977		\$1,515,619		\$1,850,229
	=			 _				=		=	

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Volusia / Enterprise

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[x] Wastewater[]

Interim(x) Final()
Historical() Projected(x)

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13

Page 2 of 14 Preparer: Bencini

Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Nun	nberofE	ills	Con	sumptic	n (MG)		Schedule	Year Rev	enues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At	Present Rates	Proposed 199	5 Interim Rates
No.	Class/Meter Size	<u>1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	<u>Revenue</u>
1	Residential										
2	5/8 x 3/4"	2,324	5.62%	2,455				\$8	.58 \$21,064	\$10.47	\$25,704
3	1"	237	5.62%	250				\$21	.43 \$5,358	\$26.16	\$ 6,540
4	1 1/2"	12	5.62%	13				\$42	.87 \$557	\$ 52.33	\$680
5	Gallonage Charge/MG:										
6	All Gallonage _				18,765	-3.6402%	18,082	\$2	.21 \$39,961	\$2.70	\$48,821
7	Total _	2,573		2,718	18,765	:	18,082		\$66,940	<u> </u>	\$ 81,745
	Commercial										
0	<u>Commercial</u> 5/8" x 3/4"	12	E 000/	13				œ.o	.58 \$112	\$10.47	\$136
9	5/6" X 3/4"	_							·=	•	•
10	1	24		25				\$21		\$26.16	\$ 654
11	2"	12	5.62%	13				\$68	.58 \$692	\$83.72	\$1,088
12	Gallonage Charge/MG:										
13	All Gallonage _				118	-3.6402%	114	\$2	.21 \$252		\$308
14	Total_	48		51	118	: :	114		\$1,792	=	\$2,186
15	GRAND TOTAL	2,621		2,769	18,883	: :	18,196		\$68,732	=	\$83,931

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Bradford / Geneva Lake Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[]

Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 3 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	(-7		berofE	• •		sumptio		• •		, ,	enu es
Line	-	Historical	Projection		Historical	Projection					
	01		-	Projected		-	Projected	At Prese			5 Interim Rates
No.	Class/Meter Size	<u>1994</u>	<u>Factor</u>	1995 Interim	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,000	3.20%	1,032				\$4.97	\$ 5,129	\$8.07	\$6,264
3	Gallonage Charge/MG:										
4	All Gallonage				8,110	-2.1498%	7,936	\$2,07	\$16,428	\$2.53	\$20,078
5	Total	1,000		1,032	8,110	_	7,936	_	\$21,557		\$26,342
_						=		=	<u> </u>		
	10141 FIb-										
	Multi-Family										
7	7	36	3.20%	37				\$39.73	\$ 1,470	\$48.50	\$1,795
8	Gellonage Charge/MG:										
8	Ali Gallonage				2,352	-2.1498%	2,302	\$2.07	\$4,765	\$2.53	\$5,824
10	Total	36	•	37	2,352	_	2,302	_	\$6,235	•	\$7,619
	*		: =					=		-	
11	Commercial										
12	1 1/2"	12	3.20%	12				\$24.83	\$298	820.24	6204
		12	3.20%	12				424.03	\$290	\$30.31	\$364
13	Gallonage Charge/MG:										
14	All Gallonage				520	-2.1498%	509	\$2.07	\$1,054	\$2.53	\$1,288
15	Total	12	_	12	520	_	509		\$1,352		\$1,652
	=		•			•		=		•	
16	TOTAL ANNUALIZED	1,048		1,081	10,982		10,747		\$29,144		\$3 5,613
	= = = = = = = = = = = = = = = = = = = =	.,040		,,,,,,	.0,002	=		=	720,177		400,010

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Bradford / Keystone Club Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 4 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a senarate schedule if necessary.

calculat	tion of each projection fact	or on a separa	ite schedule	o, if necessary.	List other classe	s or meter s	azes as applicable	е.	_		
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of B	ills	Con	sumptio	n (MG)	S c	hedule	Year Rev	enues .
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,755	3.12%	1,810				\$4.97	\$8,996	\$6.07	\$10,987
3	1"	72	3.12%	74				\$12.42	\$919	\$15.16	\$1,122
4	1 1 <i>12</i> "	1	3.12%	1				\$24.83	\$25	\$30 .31	\$30
5	Gallonage Charge/MG:										
8	All Gallonage				11,493	-20.1588%	9,176	\$2.07	\$18,994	\$2.53	\$23,215
7	Total	1,828		1,885	11,493		9,176	_	\$28,934		\$35,354
	-							-		-	
8	GRAND TOTAL	1,828		1,885	11,493		9,176		\$28,934		\$35,354
	_		-					=			

Notes:

May not tie to other schedules due to rounding.

Company; SSU / Citrus / Lakeside 1/

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FP\$C

Schedule E-13
Page 5 of 14
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	alchiado) of each projection factor on a separate actional, inflocessary. Each other classes of motor saces as approxime.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Nun	nber of B	lills	Cor	sumption	n (MG)	S c_	<u>he</u> dute	Year Reve	эпиев
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	1994 2/	Factor 3/	1995 Interim	<u>1994_4/</u>	Factor 3/	1995 Interim	Rates 5/	Revenue	Rates	Revenue
1	Residential										
2	5/8 × 3/4"	972	3.17%	1,003				\$ 5.13	\$5,145	\$6.26	\$6,279
3	Gallonage Charge/MG:										
4	Ali Gallonage				6,717	6.8225%	7,162	\$1.23	\$8,809_	\$1.50	\$10,743
5	Total	972		1,003	6,717		7,162	_	\$13,954	_	\$17,022
	-				· -			-		=	
6	GRAND TOTAL	972	?	1,003	6,717	,	7,162		\$13,954		\$17,022
	=		= =			: :		=		=	=

- 1/ This plant was acquired in 1995. Prior to acquisition, customers did not have meters and were not charged for water.
- 2/ The number of customers in 1994 multiplied by 12 was used as a proxy for the number of bills in 1994.
- 3/ The projection factors used are the overall average projection factors for all plants.
- 4/ The number of bills multiplied by the average usage per bill in Citrus County (6.911 MG/bill) was used as a proxy for 1994 consumption.
- 5/ This plant was given the current uniform rates upon acquisition.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Lee / Lehigh Docket No: 950495-WS Schedule Year Ended: 12/31/95

Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 6 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	don or each projection race	or on a separa	IO SCI FOCILIO	, ii iiocossaiy. L	ISLULIEI CASSE	S OF THE LOT SIZ	es as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Num	berofB	lills	Co	nsumptic	n (MG)	Sche	dule Yee	r Revenu	e s
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	98,655	2.84%	101,457				\$9.03	\$916,157	\$11.02	\$1,116,056
3	1"	36	2.84%	37				\$22.57	\$635	\$27.55	\$1,019
4	3*	9	2.84%	9				\$144.43	\$1,300	\$176.31	\$1,587
5	Gallonage Charge/MG:										
6	All Gallonage				330,48	1 -1.9407%	324,067	\$2.40	\$777,761	\$2.93	\$949,516
7	Total	98,700		101,503	330,46	f '	324,067		\$1,696,053		\$2,070,178
	-					= :				-	
6	Commercial										
9	5/8" x 3/4"	2,731	2.84%	2,809				\$9.03	\$25,365	\$11.02	\$30,955
10	1"	670	2.84%	689				\$22.57	\$15,551	\$27.55	\$18,982
11	1 1/2"	329	2.84%	338				\$45.13	\$15,254	\$55.09	\$16,620
12	2"	352	2.84%	362				\$72.22	\$26,144	\$88.16	\$31,914
13	3"	71	2.84%	73				\$144.43	\$10,543	\$176.31	\$12,871
14	4"	12	2.84%	12				\$225.68	\$2,708	\$275.49	\$3,306
15	6*	12	2.84%	12				\$451.35	\$5,416	\$550.96	\$6,612
16	Gallonage Charge/MG:								•		
17	All Gallonage				68,60	4 -1.9407%	67,272	\$2.40	\$161,453	\$2.93	\$197,107
18	Total	4,177	•	4,295	68,60		67,272		\$262,434	-	\$320,367
						= :		:		-	

Notes:

May not tie to other schedules due to rounding.

41

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

FP8C

Schedule E-13 Page 7 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Company: 88U / Lee / Lehigh Docket No: 950495-WS Schedule Year Ended: 12/31/95

Water[x] Wastewater[]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

celcula	calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.														
	(f)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)				
		Nur	nber of E	Bills	Cor	nsumptio	n (MG)	Sche	dule Year	r Revenu	1 0 8				
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 199	5 Interim Rates				
<u>No.</u>	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue				
19	Fire Protection														
20	4"	75	2.84%	77				\$75.23	\$5,793	\$91.83	\$7,071				
21	6*	37	2.84%	38				\$150.45	\$ 5,717	\$183.65	\$6,979				
22	8"	24	2.84%	25				\$240,72	\$6,018	\$293.85	\$7,346				
23	10"	3	3 2.84%	3				\$346.04	\$1,038	\$422.41	\$1,267				
24	Gallonage Charge/MG:														
25	All Gallonage				N/A		N/A	\$0.00	\$0	\$0.00	\$0				
26	Total	139	= :	143	N/A	- ·	N/A	-	\$18,566	=	\$22,663				
27	GRAND TOTAL	103,016	;	105,941	399,065	i	391,339		\$1,977,053		\$2,413,208				

Notes

May not tie to other schedules due to rounding.

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 8 of 14
Preparer: Bencini
Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

	(1) — Class/Meter Size	Historical	(3) ber of B	(4)	(5)	(8)	/7\	(0)	(6)	(40)	(4.4)
No. C		Historical		::!:		(0)	(7)	(8)	(9)	(10)	(11)
No. C				11118	Con	Consumption (MG)			hedule	Year Reve	эпцав
			Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
1 <u>R</u> (1994	Factor	1995 Interim	<u> 1994</u>	<u>Factor</u>	1995 Interim	Rates	Revenue	Rates	Revenue
2	<u>Residential</u>										
_	5/8 x 3/4"	25,786	2.89%	26,531				\$7.88	\$209,064	\$9.82	\$255,228
3	3/4"	2	2.89%	2				\$11.83	\$24	\$14.44	\$29
4	1"	34,131	2.89%	35,117				\$19.71	\$692,156	\$24.06	\$844 ,915
5	1 1/2"	126	2.89%	130				\$39.42	\$ 5,125	\$48.12	\$6,256
6	2"	14	2.89%	14				\$63.07	\$883	\$ 78.99	\$1,078
7 G	Sallonage Charge/MG:										
8	All Gallonage _				1,051,492	3.0218%	1,083,285	\$2.96	\$3,206,464	\$ 3.61 _	\$3,910,587
9	Total _	60,059		61,794	1,051,492	3.0218%	1,083,265		\$4,113,716		\$5,018,093
	_		•			•		-		-	
10 Mi	<u>Aulti-Family</u>										
11	5/8" x 3/4"	54	2.89%	56				\$7.88	\$441	\$9.82	\$539
12	1*	54	2.89%	56				\$19.71	\$1,104	\$24.06	\$1,347
13	1 1/2"	254	2.89%	261				\$39.42	\$10,289	\$48.12	\$12,559
14	2"	710	2.89%	731				\$63.07	\$46,104	\$76.9 9	\$56,280
15	3™	324	2.89%	333				\$126.14	\$42,005	\$153.98	\$ 51,275
16	4"	382	2.89%	393				\$197.09	\$77,456	\$240.59	\$94 ,552
17	6*	32	2.89%	33				\$394.19	\$13,008	\$481.19	\$15,879
18 Ga	Sallonage Charge/MG:										
· 19	All Gallonage				309,716	3.0218%	319,075	\$2.96	\$944,462	\$3.61	\$1,151,861
20	Total	1,810	_	1,883	309,716	3.0218%	319,075		\$1,134,869		\$1,384,292

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 9 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Teb

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection factor	or on a separa	te schedule	, if necessary.	List other classes	or meter siz	es as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Num	ber of B	ills	Con	sumptio	л (MG)	S c	hedule	Year Reve	эпиев
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
21	Commercial										
22	5/8" x 3/4"	1,890	2.89%	1,945				\$7.88	\$15,327	\$9.62	\$18,711
23	1*	1,209	2.89%	1,244				\$19.71	\$24,519	\$24.06	\$29,931
24	1 1/2"	461	2.89%	474				\$39.42	\$18,685	\$48.12	\$22,809
25	Z*	394	2.89%	405				\$63.07	\$25,543	\$78.99	\$31,181
26	3"	12	2.89%	12				\$126.14	\$1,514	\$153.98	\$1,84 8
27	4"	25	2.89%	26				\$197.09	\$5,124	\$240.59	\$6,255
28	6"	24	2.89%	25				\$394.19	\$9,855	\$48 1.19	\$12,030
29	10"	12	2.89%	12				\$906.63	\$10,880	\$1,106.72	\$13,281
30	Gallonage Charge/MG:										
31	All Gationage				291,832	3.0218%	300,650	\$2.96	\$889,924	\$3.61	\$1,085,347
32	Total	4,027		4,143	291,832	3.0216%	300,650	_	\$1,001,371	<u> </u>	\$1,221,393
	-		•	· · · · · · · · · · · · · · · · · · ·		•		=		-	
33	Irrigation										
34	5/8" x 3/4"	121	2.89%	124				\$7.88	\$977	\$9.62	\$1,193
35	1"	654	2.89%	673				\$19.71	\$13,265	\$24.06	\$16,192
36	1 1/2"	703	2.89%	723				\$39.42	\$28,501	\$48.12	\$34,791
37	2"	1,105	2.89%	1,137				\$63.07	\$71,711	\$76.99	\$87,538
38	3"	46	2.89%	49	ı			\$126.14	\$6,181	\$153.98	\$7,545
39	4"	12	2.89%	12				\$197.09	\$2,365	\$240.59	\$2,887
40	Gallonage Charge/MG:	_									-
41	All Gallonage				459,589	3.0218%	473,477	\$2.96	\$1,401,492	\$3.61	\$1,709,252
42	Total	2,843		2,718	459,589	3.0218%	473,477	•	\$1,524,492	•	\$1,859,398
						:					

Notes:

May not tie to other schedules due to rounding.

FPSC

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected(x] Schedule E-13 Page 10 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.													
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)		
	_	Num	berofi	Bills	Co	on sumpti	on (MG)	S o	Schedule Year Revenue				
Line	_	Historical	Projection	Projected	Historica	I Projection	Projected	At Pres	sent Rates	Proposed 199	5 Interim Rates		
No.	Class/Meter Size	1994	Factor	1995 Interim	<u>1994</u>	Factor	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue		
43	Raw Water												
44	6"	12	2.89%	12				\$120.89	\$1,451	\$147.57	\$1,771		
45	Gallonage Charge/MG:												
46	All Gallonage				35,63	38 3.0700%	36,938	\$0.64	\$23,640	\$0.78	\$28,812		
47	Total	12		12	35,63	38	36,938		\$25,091		\$30,583		
	=		•		-	_				•			
48	Fire Protection												
49	3"	3	2.89%	3				\$42.05	\$126	\$51.33	\$154		
50	4"	142	2.89%	146				\$65.70	\$9,592	\$80.20	\$11,709		
51	8*	441	2.89%	454				\$131.40	\$59,656	\$160.40	\$72,822		
52	8*	445	2.89%	458				\$210.23	\$96,285	\$256.63	\$117,537		
53	10"	58	2.89%	60	ı			\$302.21	\$18,133	\$368.91	\$22,135		
54	Gallonage Charge/MG:												
55	All Gallonage				N/A		N/A	\$0.00	\$0	\$0.00	\$0		
56	Total T	1,089	1	1,121	N/A		N/A		\$183,792		\$224,357		
	=		:							•			
57	GRAND TOTAL	89,640	ı	71,651	2,148,46	67	2,213,405		\$7,983,331	_	\$9,736,116		

Notes:

May not tie to other schedules due to rounding.

FPSC

Company: SSU / St. John / Palm Valley

Docket No: 950495-WS
Schedule Year Ended: 12/31/95
Water[x] Wastewater[]
Interim[x] Final[]
Historical[] Projected[x]

Schedule E-13 Page 11 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Num	ber of E	lills	Cor	sumptio	n (MG)	Sch	edule Y	eer Revei	านอร
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	<u>1995 Interim</u>	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/6 x 3/4"	2,288	1.07%	2,312				\$ 9.35	\$21,617	· \$11,41	\$26,380
3	3/4"	12	1.07%	12				\$ 9.35	\$112	\$11.41	\$137
4	1"	80	1.07%	81				\$9.35	\$757	\$11.41	\$924
5	2"	12	1.07%	12				\$9.35	\$112	\$11,41	\$137
6	Gallonage Charge/MG:										
7	0 - 3000				6,418	-10.4611%	5,747	\$0.00	\$0	\$0.00	\$0
6	All excess					-10.4611%	13,929	\$0.94	\$13,093	\$1.15	\$16,018
9	Total	2,392		2,417	21,974		19,676		\$35,691	=	\$43,596
10	Commercia!										
11	5/8" x 3/4"	72	1.07%	73				\$9.35	\$683	\$11.41	\$833
12	2"	12	1.07%	12				\$9.35	\$112	\$11.41	\$137
13	Gallonage Charge/MG:										
14	0 - 3000				238	-10.4611%	213	\$0.00	\$0	\$0.00	\$0
15	All excess		_		1,412	-10.4611%	1,265	\$0.94	\$1,189	\$1.15	\$1,455
16	Total	84		85	1,650		1,476	-	\$1,984		\$2,425
17	GRAND TOTAL	2,476	_	2,502	23,624		21,154		\$37,675		\$46,021

Notes:

May not tie to other schedules due to rounding.

Schedule E-13 Page 12 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Company: SSU / St. John / Remington Forest

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim(x) Final() Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

calcula	calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.													
	(1)	(2)	(3)	(4)		(5)	(8)	(7)	(8)	(9)	(10)	(11)		
	Number of Bills					Consumption (MG)				edule Ye				
Line	_	Historical	Projection	Projected		Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates		
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim		<u>1994</u>	<u>Factor</u>	1995 Interim	Rates	Revenue	Rates	Revenue		
1	Residential													
2	5/8 x 3/4"	764	23.04%	940					\$20.30	\$19,082	· \$24.78	\$23,293		
3	1"	8	23.04%	7					\$20.30	\$142	\$24.78	\$173		
4	Gallonage Charge/MG:													
5	All Gallonage					9,310	-23.3125%	7,140	\$0.00	\$0	\$0.00	\$ 0		
6	Total	770		947	· ·	9,310	-2 3 .3125%	7,140		\$19,224	-	\$23,466		
	-						•				-			
7	GRAND TOTAL	770)	947		9,310	-23.3125%	7,140		\$19,224	_	\$23,466		
	=		= =								-			

Notes:

May not tie to other schedules due to rounding.

FPSC

Company: SSU / Citrus / Spring Gardens 1/

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x] Schedule E-13 Page 13 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection fact	or on a separa	ite schedule	if necessary.	List other classes	or meter siz	es as applicable.					
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	
	_	Nun	nbar of E	lifts	Con	sumptio	n (MG)		Schedule Year Ravenues			
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	ent Rates	Proposed 1995	Interim Rates	
No.	Class/Meter Size	1994 2/	Factor 3/	1995 Interim	1994 2/	Factor 3/	1995 Interim	Rates 4/	Revenue	Rates	Revenue	
1	Residential											
2	5/8 x 3/4"	1,470	3.17%	1,517				\$6.88	\$10,437	* \$ 6. 40	\$12,743	
3	Gallonage Charge/MG:											
4	All Gallonage		_		5,921	6.6225%	6,313	\$1.03	\$6,502	\$1.26	\$7,954	
5	Total _	1,470		1,517	5,921		6,313		\$16,939		\$20,697	
	-					•		-		•		
6	Commercial											
7	5/8 x 3/4"	12	3.17%	12				\$6.86	\$83	\$8.40	\$101	
8	2"	24	3.17%	25				\$55.04	\$1,376	\$67.19	\$1,680	
8	Gallonage Charge/MG:											
9	All Gallonage				827	6.6225%	882	\$1.03	\$908	\$1.26	\$1,111	
10	Total	36		37	827		882		\$2,367		\$2,692	
	-							•				
11	GRAND TOTAL	1,506		1,554	6,748		7,195		\$19,306		\$23,589	
	2							<u>-</u>				

Notes:

May not tie to other schedules due to rounding.

^{1/} This plant was acquired in 1995.

^{2/} Historical billing determinants were supplied during acquisition.

^{3/} The projection factors used are the overall average projection factors for all plants.

^{4/} Present rates are the rates that were being charged upon acquisition.

Company: SSU / Lake / Valencie Terrace 1/

Docket No: 950495-WS
Schedule Year Ended: 12/31/95
Water[x] Wastewater[]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 14 of 14 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.													
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)		
	_	Num	berof	Bills	Con	sumptio	n (MG)	S c	hedule	Year Revenues			
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	ent Rates	Proposed 1995	Interim Rates		
No.	Class/Meter Size	1994 2/	Factor 3/	1995 Interim	<u> 1994 2/</u>	Factor 3/	1995 Interim	Rates 4/	Revenue	<u>Rates</u>	Revenue		
1	Residential												
2	5/8 x 3/4"	3,981	3.17%	4,107				\$6.39	\$26,244	\$7.80	\$32,035		
3	Gallonage Charge/MG:												
4	All Gallonage _				22,480	6.6225%	23,968	\$0.67	\$16,059	\$0.82	\$19,654		
5	Total _	3,981		4,107	22,480		23,968		\$42,303	_	\$51,689		
	-							_		_			
6	<u>Commercial</u>												
7	5/8 x 3/4"	42	3.17%	43				\$6.39	\$275	\$7.80	\$ 335		
8	1"	68	3.17%	70				\$15.99	\$1,119	\$19.52	\$1,366		
9	1 1/2"	12	3.17%	12				\$31.96	\$384	\$39.01	\$46 8		
10	2"	12	3.17%	12				\$ 51.14	\$ 814	\$82.43	\$749		
11	Gallonage Charge/MG:												
12	All Gallonage _				1,519	6.6225%	1,619	\$0.67	\$1,085	\$0.82	\$1,326		
13	Total	134		137	1,519		1,619		\$3,477		\$4,246		
	-							_		-			
14	GRAND TOTAL	4,115		4,244	23,999	. ,	25,587	_	\$45,780	. =	\$55,935		

Notes:

May not tie to other schedules due to rounding.

^{1/} This plant was acquired in 1995.

^{2/} Historical billing determinants were supplied during acquisition.

^{3/} The projection factors used are the overall average projection factors for all plants.

^{4/} Present rates are the rates that were being charged upon acquisition.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 1 of 7

Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present Monthly	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Equivalent Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$4.48	22.070%	\$5.47
2	3/4"	N/A	22.070%	N/A
3	1"	\$4.48	22.070%	\$5.47
4	1 - 1/2"	NA	22.070%	N/A
5	2"	\$4.48	22.070%	\$5.47
6	3"	NA	22.070%	N/A
7	4°	N/A	22.070%	N/A
8	6"	N/A	22.070%	N/A
9	8"	N/A	22.070%	N/A
10	10*	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$0.54	22.070%	\$0.66

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 2 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$2.60	22.070%	\$3.17
2	3/4"	\$2.60	22.070%	\$3.17
3	1"	\$ 6.50	22.070%	\$7.93
4	1 - 1/2"	\$13.00	22.070%	\$ 15.87
5	2"	\$20.80	22.070%	\$25.39
6	3"	\$39.00	22.070%	\$47.61
7	4"	\$65.00	22.070%	\$79.35
8	6 *	\$130.00	22.070%	\$158.69
9	8"	N/A	22.070%	N/A
10	10"	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.11	22.070%	\$1.35
13	All Excess Gallons	\$1.56	22.070%	\$1.90

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 3 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present Monthly	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Equivalent Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$5,89	22.070%	\$7.19
2	3/4"	\$5.89	22.070%	\$7.19
3	1"	\$5,89	22.070%	\$7.19
4	1 - 1/2"	\$5.89	22.070%	\$7.19
5	2"	\$5,89	22.070%	\$7.19
6	3"	N/A	22.070%	N/A
7	4"	N/A	22.070%	N/A
8	6 "	N/A	22.070%	N/A
9	8"	N/A	22.070%	N/A
10	10"	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:	• • • •	• • • • • •	-3
12	All Gallonage	\$0.85	22.070%	\$1.04

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [x] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 4 of 7

Page 4 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present Monthly	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Equivalent Rates	Percent Increase 1/	Interim Rates
	·			
	RESIDENTIAL SERVICE			
1	5/8"x3/4"	\$8.15	22.070%	\$9.95
2	3/4"	\$8.15	22.070%	\$9.95
3	1"	\$20.64	22.070%	\$25.20
4	1 - 1/2"	\$41.28	22.070%	\$50.39
5	2"	\$66.04	22.070%	\$80.62
6	3"	N/A	22.070%	N/A
7	4"	N/A	22.070%	N/A
6	6"	N/A	22.070%	N/A
9	8"	N/A	22.070%	N/A
10	10"	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$1.20	22.070%	\$1.46

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants.

Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 5 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL, GENERAL, MULTI-FAMII	Y SERVICES		
1	5/8"x3/4"	\$9.09	22.070%	\$11.10
2	3/4"	N/A	22.070%	N/A
3	1"	\$22.73	22.070%	\$2 7.75
4	1 - 1/2"	\$45.45	22.070%	\$55.48
5	2"	\$72.72	22.070%	\$88.77
6	3"	\$136.35	22.070%	\$166.44
7	4"	N/A	22.070%	N/A
8	6"	N/A	22.070%	N/A
9	8"	N/A	22.070%	N/A
10	10"	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.54	22.070%	\$1.88
13	All Excess Gallonage	\$2.00	22.070%	\$2.44

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [x] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

(1)

GALLONAGE CHARGE / MG:

All Gallonage

14

15

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 6 of 7 Preparer: Bencini

(4)

\$1.48

Line Present Revenue Requirement Proposed 1995 No. Class/Meter Size Percent Increase 1/ Interim Rates Rates RESIDENTIAL, GENERAL, MULTI-FAMILY SERVICES 5/6"x3/4" \$5.05 22.070% \$6.16 2 3/4" \$7.58 22.070% \$9.25 3 1" 22.070% \$15.42 \$12.63 1 - 1/2" \$30.82 \$25.25 22.070% 2" \$40.40 22.070% \$49.32 3" \$80.80 22.070% \$98.63 7 4" \$126.25 22.070% \$154.11 6" \$252.50 \$308.23 22.070% 8" \$404.00 22.070% \$493.16 10 \$580.75 22.070% \$708.92 GALLONAGE CHARGE / MG: 11 12 All Gallonage \$1.21 22.070% \$1.48 **EMERGENCY STANDBY SERVICE** 13 \$0.00 All Meter Sizes \$0.00 22.070%

(3)

22.070%

\$1.21

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(2)

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WATER RATES - 1995

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [x] Wastewater [] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 7 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL SERVICE			
1	5/8"x3/4"	\$9.50	22.070%	\$11.60
2	3/4"	N/A	22.070%	N/A
3	1"	N/A	22.070%	N/A
4	1 - 1/2"	N/A	22.070%	N/A
5	2"	N/A	22.070%	N/A
6	3"	N/A	22.070%	N/A
7	4*	N/A	22.070%	N/A
8	6°	N/A	22.070%	N/A
9	8"	N/A	22.070%	N/A
10	10"	N/A	22.070%	N/A
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$0.60	22.070%	\$0.73

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (22.07%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / GIBSONIA ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 1 of 9 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period, (2) (5) (9) (10)

14	1995 PROJECTED 1N			IN (PRESENT	RATES)		1995 PROJECTED INTERIN (PROPOSED INTERIN RATES)			
Line No.	Class/Meter Size	Con	sumption(MG)		Revenues	_!	Bills	Consumption(HG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" 2"	1.681 39 12		\$4.48 \$4.48 \$4.48	\$7,531 \$175 \$54		1.681 39 12		\$5,47 \$5,47 \$5,47	\$9,195 \$213 \$66
6 7 8	Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	1.732	12,237 12,237 7,065	\$0.54	\$6,608 \$14,368 \$8.30	=	1.732	12,237 12,237 7.065	\$0.66	\$8,076 \$17,550 \$10.13
9 10 11 12	COMMERCIAL 5/8"x3/4" 1" Gallonage Charge/MG	223 49		\$4.48 \$4.48	\$999 \$220		223 49		\$5.47 \$5.47	\$1,220 \$268
13 14 15	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	<u>272</u> 23	1,755 1,755 6,452	\$0.54	\$948 \$2,167 \$7.97	-	272 23	1,755 1,755 6,452	\$0.66	\$1,158 \$2,646 \$9.73
16 17 18 19	TOTAL ANNUALIZED SALES I UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$16,535 \$0 \$730 \$17,265					\$20,196 \$0 \$730 \$20,926

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / HERSHEL HEIGHTS

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim(x) Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-1 Page 2 of 9 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (4) (5) (10) (7)

		1995 PROJECTED INTERIM (PRESENT RATES) 1995 PROJECTED INTERIM (PROPOSED INTERIM RA				RATES)			
Line <u>No.</u>	Class/Meter Size	Con	sumption(HG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	3.586 53		\$2.60 \$6.50	\$9,324 \$345	3,586 53		\$3.17 \$7,93	\$11,368 \$420
5 6 7 8	0- 9000 9001-All excess Total RESIDENTIAL Ave cust/cons/bill/mth	3,639	21,982 5,744 27,726 7,619	\$1.11 \$1.56	\$24,400 \$8,961 \$43,030 \$11.82	0- 9000 9001-A11 excess 3,639 303	21.982 5.744 27.726 7.619	\$1.35 \$1.90	\$29,676 \$10,914 \$52,378 \$14.39
9 10 11 12	COMMERCIAL 5/8"x3/4" 1" 2" Callegage Change (MC	84 60 48		\$2.60 \$6.50 \$20.80	\$218 \$390 \$998	84 60 48		\$3.17 \$7.93 \$25.39	\$266 \$476 \$1,219
13 14 15 16 17	Gallonage Charge/MG 0- 9000 9001-All excess Total COMMERCIAL Ave cust/cons/bill/mth	192 16	1,133 2,558 3,691 19,224	\$1.11 \$1.56	\$1,258 \$3,990 \$6,854 \$35,70	0- 9000 9001-All excess 	1,133 2,558 3,691 19,224	\$1.35 \$1.90	\$1,530 \$4,860 \$8,351 \$43,49
18 19 20 21	TOTAL ANNUALIZED SALES F UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/			\$49,884 \$0 \$1,035 \$50,919				\$60,729 \$0 \$1,035 \$61,764

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 3 of 9
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size	Con	sumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 2" Gallonage Charge/MG	9.122 40 24 12		\$5,89 \$5,89 \$5,89 \$5,89	\$53,729 \$236 \$141 \$71	9,122 40 24 12		\$7.19 \$7.19 \$7.19 \$7.19	\$65.587 \$288 \$173 \$86
7 8 9	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	9,198 767	69,555 69,555 7.562	\$0.85	\$59,122 \$113,299 \$12.32	9,198	69,555 69,555 7,562	\$1.04	\$72,337 \$138,471 \$15.05
10 11 12 13 14 15	COMMERCIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG All Gallonage	117 12 12	1.065	\$5.89 \$5.89 \$5.89 \$0.85	\$689 \$71 \$71 \$905	117 12 12	1,065	\$7.19 \$7.19 \$7.19 \$7.19	\$841 \$86 \$86 \$1,108
16 17	Total COMMERCIAL Ave cust/cons/bill/mth	141	1,065 7.553		\$1,736 \$12.31	141	1,065 7.553		\$2,121
18 19 20 21	TOTAL ANNUALIZED SALES R UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	EEVENUES 1/			\$115,035 \$0 \$4,305 \$119,340				\$140,592 \$0 \$4,305 \$144,897

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / ORANGE HILL/SUGAR CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 4 of 9

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995	PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2	RESIDENTIAL 5/8"x3/4"	2,798		\$8.15	\$22,804	2,798		\$9.95	\$27,840
3 4	Gallonage Charge/MG All Gallonage Total RESIDENTIAL	2,798	18,036 18,036	\$1.20	\$21,643 \$44,447	2,798	18,036 18,036	\$1.46	\$26,333 \$54,173
6	Ave cust/cons/bill/mth	233	6.446		\$15.89	233	6.446		\$19.36
7	TOTAL ANNUALIZED SALES F	EVENUES 1/			\$44,447				\$54,173
8	UNBILLED REVENUE				\$0				\$0 \$00E
10	OTHER REVENUE 2/ TOTAL REVENUES				\$805 \$45,252				\$805 \$54,978

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 5 of 9

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995 PROJECTED INTERIN (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size		Consumption(HG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	30.341		\$9.09	\$275,800	30,341		\$11.10	\$33 6,785
4 5	0- 9000 9001-All exc e ss		177.300 37.583	\$1.54 \$2.00	\$273,042 \$75,166	0- 9000 9001-All excess	177,300 37,583	\$1.88 \$2.44	\$333,324 \$91,703
6 7	Total RESIDENTIAL Ave cust/cons/bill/mth	30,341 2,528	7.082		\$624,008 \$20.57	30.341 2,528	214,883 7.082		\$761,812 \$25.11
8	MULTI-FAMILY								
9 10	1 1/2" 2"	12 12		\$45.45 \$72.72	\$545 \$873	12 12		\$55.48 \$88.77	\$666 \$1,065
11 12 13	Gallonage Charge/MG 0- 9000 9001-All excess		217 23,273	\$1.54 \$2.00	\$334 \$46,546	0- 9000 9001-All excess	217 23, 273	\$1.88 \$2.44	\$408 \$56,786
14 15	Total MULTI-FAMILY Ave cust/cons/bill/mth	24 2	23,490 978.750	72.00	\$48,298 \$2,012.42	<u>24</u> 2	23,490 978.750	•••	\$58,925 \$2,455.21
16	COMMERCIAL								
17 18	5/8"x3/4" 1"	490 24		\$9.09 \$22.73	\$4,454 \$546	490 24		\$11.10 \$27.75	\$5,439 \$666
19 20	1 1/2° 2°	106 62		\$45.45 \$72.72	\$4,818 \$4,509	106 62		\$55.48 \$88.77	\$5,881 \$5,504
21 22	3" Gallonage Charge/MG	24		\$136.35	\$3,272	24		\$166.44	\$3,995
23 24	0- 9000 9001-All excess	705	3 637 17 524	\$1.54 \$2.00	\$5,601 \$35,048	0- 9000 9001-All excess	3,637 17,524	\$1.88 \$2.44	\$6,838 \$42,759
25 26	Total COMMERCIAL Ave cust/cons/bill/mth	706 59	21,161 29,973		\$58,248 \$82.50	706 59	21,161 29,973		\$71,082 \$100.68

FPSC

Company: SSU/HILLSBOROUGH / SEABOARD Docket No.: 950495-WS

SCHEDULE: E2-1 Page 6 of 9 Preparer: Bencini

Schedule Year Ended 12/31/95

Supporting Schedules: E1-1, E-13

Water [x] Wastewater [] Interim[x] Final[] Historical(] Projected(x) FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (10)

	-	1995 PROJECTED INTER	1M (PRESENT RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
27	TOTAL ANNUALIZED SALES R	REVENUES 1/	\$730,554				\$891,819
28	UNBILLED REVENUE		\$0				\$0
29	OTHER REVENUE 2/		\$24,660				\$24,660
30	TOTAL REVENUES		\$755,214				\$916,479

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF MATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 7 of 9 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

lima		199	5 PROJECTED INTER	RIM (PRESEN	rates)	1995 PROJE	CTED INTERIM (PROPO	SED INTERIM	RATES)
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	277,457		\$5.05	\$1.401.158	277 ,457		\$6.16	\$1,709,135
3	Full 3/4"	49		\$7.58	\$371	49		\$9.25	\$ 453
4	1"	16.879		\$12.63	\$213,182	16,879		\$15.42	\$260,274
5	1 1/2"	53		\$25.25	\$1,338	53		\$30.82	\$1,6 3 3
6	2"	34		\$40.40	\$1.374	34		\$49.32	\$ 1.677
7	Gallonage Charge/MG								
8	All Gallonage	224 478	3,046,924	\$1.21	\$3,686,778		3,046,924	\$1.48	\$4,509,448
9	Total RESIDENTIAL	294,472	3,046,924		\$5,304,201	294.472	3.046,924		\$6,482,620
10	Ave cust/cons/bill/mth	24,539	10.347		\$18.01	24,539	10.347		\$22.01
11	COMMERCIAL								
12	5/8"x3/4"	4,805		\$5. 05	\$24,265	4.805		\$6.16	\$29,599
13	1"	1,153		\$12.63	\$14,562	1,153		\$15.42	\$17,779
14	1 1/2"	135		\$25.25	\$3,409	135		\$30.82	\$4,161
15	2*	548		\$40.40	122.139	548		\$49.32	\$27,027
16	3"	30		\$80.80	\$2,424	30		\$98.63	\$2,959
17	6"	32		\$252.50	\$8,080	32		\$308.23	\$9.863
18	Gallonage Charge/MG								,
19	All Gallonage		146,393	\$1.21	\$177,136		146,393	\$1.48	\$216,662
20	Total COMMERCIAL	6,703	146.393		\$252,015	6.703	146,393		\$308,050
21	Ave cust/cons/bill/mth	559	21.840		\$37.60	559	21.840		\$45.96

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

FPSC

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

SCHEDULE: E2-1 Page 8 of 9 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (1) (2) (3) (4) (5) (7) (10)

		1995 PRO	DECTED INTERIM (PR	ESENT RATES)	1995 PRO	JECTED INTERIM (PROPOS	SED INTERIM	RATES)
Line No.	Class/Meter Size	Consi	umption(MG)	Revenues	B111s	Consumption(MG)	Rate	Revenues
22 2 3 2 4 25	EMERG, STAND-BY 5/B"x3/4" Gallonage Charge/MG All Gallonage	0	\$0. 0 \$1.		0	0	\$0.00 \$1.48	\$0 \$0
26 27	Total EMERG. STAND-BY Ave cust/cons/bill/mth	0 0	0	\$0	0			\$0
28 29 30 31	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	REVENUES 1/		\$5,556,216 \$0 \$101,600 \$5,657,816				\$6.790.670 \$0 \$101.600 \$6,892.270

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction(x]

FPSC

SCHEDULE: E2-1
Page 9 of 9
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995	PROJECTED INTER	IN (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPO	SED INTERIM (PATES)
Line <u>No.</u>	Class/Neter Size	<u>Co</u>	ensumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	4.260		\$9.50	\$40.470	4,260		\$11.60	\$49,416
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	4.260 355	38,775 38,775 9,102	\$0.60	\$23,265 \$63,735 \$14,96	4.260 355	38,775 38,775 9,102	\$0.73	\$28,306 \$77,722 \$18.24
7 8 9 10	TOTAL ANNUALIZED SALES RE UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES	VENUES 1/			\$63,735 \$0 \$1,635 \$65,370				\$77,722 \$0 \$1,635 \$79,357

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to the 1995 B-4 schedule for detail of other revenue.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Water Customer Monthly Billing - 1995

Company: SSU/POŁK /GIBSONIA ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 1 of 7

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN95	5	0	0	0	0	5	
2	FEB95	137	0	22	0	0	159	
3	MAR95	1	0	0	0	Ö	1	
4	APR95	140	0	22	0	0	162	
5	MAY95	7	0	0	0	0	7	
6	JUN95	144	0	22	0	0	166	
7	JUL95	4	0	0	0	0	4	
8	AUG95	143	0	22	0	0	165	
9	SEP95	1	0	1	0	0	2	
10	OCT95	143	0	22	0	0	165	
11	NOV95	2	0	0	0	0	2	
12	DEC95	138	0	22	0	0	160	
13	TOTAL	865	0	133	0	0	998	
14	MTH. AVE	72	0	11	0	0	83	

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

442

13

14

TOTAL.

MTH. AVE

SCHEDULE: E-3
Page 2 of 7
Preparer: Bencini

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>
1	JAN95	304	0	16	0	0	320
2	FEB95	302	Û	16	0	0	318
3	MAR95	303	0	16	0	0	319
4	APR95	301	0	16	0	0	317
5	MAY95	300	0	16	0	0	316
6	JUN95	303	0	16	0	0	319
7	JUL 9 5	304	0	16	0	0	320
8	AUG95	307	0	16	0	0	323
9	SEP95	302	0	16	0	0	318
10	0CT 9 5	302	0	16	0	0	318
11	NOV95	303	0	16	0	0	319
12	DEC95	303	0	16	0	0	319

NOTE: May not tie to other schedules due to monthly rounding.

3.634

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1995

Company: SSU/POLK /LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 3 of 7

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
ine	Month/		Multi-Family	General	Private Fire	Ot h er		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	Total	
1	JAN95	17	Û	0	0	0	17	
2	FEB95	739	0	13	0	0	752	
3	MAR95	20	0	0	0	0	20	
4	APR95	748	0	13	0	0	761	
5	MAY95	12	0	0	0	0	12	
6	JUN95	748	0	11	0	0	759	
7	JUL95	22	0	0	0	0	22	
8	AUG95	754	0	11	0	0	765	
9	SEP95	12	0	0	0	0	12	
10	OCT95	756	0	11	0	0	767	
11	NOV95	11	0	0	0	0	11	
12	DEC95	758	0	11	0	0	<u>769</u>	
13	TOTAL	4.597	0	70	0	0	4.667	
14	MTH. AVE	383	0	6	0	0	389	

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule £2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes 1rrigation, Public Authority and Raw Water.

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3 Page 4 of 7 Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (5) (1) (2) (3) (4) (6) (7) Multi-Family General Private Fire Line Month/ Other | Dwelling No. Residential Service Protection (List) 1/ Total Year 5 1 JAN95 5 0 0 0 2 FEB95 229 0 0 0 0 229

3	MAR95	3	0	0	0	0	3
4	APR95	231	0	0	0	0	231
5	MAY95	1	0	0	0	0	1
6	JUN95	231	0	0	0	0	231
7	JUL95	2	0	0	0	0	2
8	AUG95	231	0	0	0	0	231
9	SEP95	5	0	0	0	0	5
10	0CT95	229	0	0	0	0	229
11	NOV95	1	0	0	0	0	1
12	DEC95	229	0	0	0	0	229
13	TOTAL	1,397	0	0	0	0	1,397
14	MTH. AVE	116	0	0	0	0	116

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1995

Company: SSU/HILLSBOROUGH /SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 5 of 7
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(<u>List) 1</u> /	<u>Total</u>
1	JAN95	2,531	2	61	0	0	2,594
2	FEB95	2,520	2	60	0	o o	2,582
3	MAR95	2,542	2	61	0	0	2.605
4	APR95	2,539	2	60	0	0	2.601
5	MAY95	2.544	2	61	0	0	2,607
6	JUN95	2,539	2	61	0	0	2,602
7	JUL95	2,520	2	62	0	0	2,584
8	AUG95	2,530	2	59	0	0	2,591
9	SEP95	2,526	2	59	0	0	2,587
10	OCT95	2,527	2	52	0	0	2,581
11	NOV95	2,515	2	53	0	0	2,570
12	DEC95	2.507	2	53	0	0	2,562
13	<u>TOTAL</u>	30,340	24	702	0	0	31,066
14	MTH. AVE	2,528	2	59	0	0	2,589

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/HERNANDO /SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [x] Wastewater [] Interim[x] Final[]

Historical[] Projected[x]

446

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3 Page 6 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	<u>Residential</u>	Dwelling	<u>Service</u>	<u>Protection</u>	<u>(List) 1</u> /	<u>Total</u>
1	JAN95	24.281	0	559	0	0	24.840
2	FEB95	24,323	0	554	0	0	24,877
3	MAR95	24,546	0	564	0	0	25,110
4	APR95	24,474	0	575	0	0	25,049
5	MAY95	24,507	0	584	0	0	25,091
6	JUN95	24,567	0	575	0	0	25.142
7	JUL95	24,572	0	579	0	0	25,151
8	AUG95	24,651	0	551	0	0	25,202
9	SEP95	24,604	0	538	0	0	25,142
10	0CT95	24,638	0	539	0	0	25,177
11	NOV95	24,668	0	539	0	0	25,207
12	0EC95	24.641	0	<u>546</u>	0	0	25.187
13	TOTAL	294,472	0	6,703	0	0	301,175
14	MTH. AVE	24,539	0	559	0	0	25,098

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1995

Company: SSU/HILLSBOROUGH /VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [x] Wastewater []
Interim(x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 7 of 7
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
_ine	Month/	•	Multi-Family	Genera1	Private Fire	Other	
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	<u>(List) 1</u> /	<u>Total</u>
1	TANGE	357	0	0	n	0	357
2	Jan95 Feb95	353	0	0	0	0	353
3	MAR95	354	0	0	0	0	354
4	APR95	354	0	0	0	0	354
5	MAY95	357	0	0	0	0	357
6	JU N9 5	353	0	0	0	0	353
7	JUL95	357	0	0	0	0	357
8	AUG95	360	0	0	0	0	360
9	SEP95	352	0	0	0	0	352
10	OCT95	352	0	0	0	0	352
11	NOV95	356	0	0	0	0	356
12	DEC95	353	0	0	0	0	353
13	TOTAL	4,258	0	0	0	0	4.258
14	MTH. AVE	355	0	0	0	0	355

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Polk / Gibsonia Estates

Schedule E-4 Page 1 of 7

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Preparer: Bencini

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latast Staff Advisory Bulletin #13.

	(1)		(2) Present Rates	Pr	(3) roposed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	No Change	No Change
2	Normal Reconnection	\$10.00	N/A	No Change	No Change
3	Violation Reconnection	\$10.00	N/A	No Change	No Change
4	Premise Visit	\$5.00	N/A	No Change	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates		(3) Proposed i	Rates
Line No.	Type of Charge	During Bus. Hours		After . Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	-	N /A	No Change	No Change
2	Normal Reconnection	\$15.00	ı	NA	No Change	No Change
3	Violation Reconnection	\$15.00	I	N/A	No Change	No Change
4	Premise Visit	\$7.50	ı	N/A	No Change	No Change
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	No Change	No Change

Company: SSU / Polk / Lake Gibson Estates

Schedule E-4
Page 3 of 7
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Rates			(3) Proposed Rat	es
Line No.	Type of Charge	During Bus. Hours	_	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00		N/A	No Change	No Change
2	Normal Reconnection	\$10.00		N /A	No Change	No Change
3	Violation Reconnection	\$10.00		N /A	No Change	No Change
4	Premise Visit	\$5.00		N/A	No Change	No Change
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	No Change	No Change

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

_	De	•
	ГЭ	٠,

Schedule E-4 Page 4 of 7

Preparer: Bencini

	(1)	(2) Present Rates			(3) Proposed Rates			i
Line No.	Type of Charge	During Bus. Hours	_	After Bus. Hours		During Bus. Hours	,	After Bus. Hours
1	Initial Connection	\$10.00		N/A		lo Change	1	No Change
2	Normal Reconnection	\$10.00		N/A		lo Change	ı	No Change
3	Violation Reconnection	\$10.00		NA	N	lo Change	ı	No Change
4	Premise Visit	\$5.00		N/A	N	lo Change	ı	No Change
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	•	lo Change	1	No Change

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4 Page 5 of 7

Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1) (2) Present Rates				3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N /A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$7.50	₩A	No Change	No Change
5	Return Check Charge	\$ 15.00	N/A	No Change	No Change

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Rates			(3) Proposed	
Line No.	Type of Charge	During Bus. Hours		After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00		N/A	No Change	No Change
2	Normal Reconnection	\$ 15.00		N/A	No Change	No Change
3	Violation Reconnection	\$15.00		N/A	No Change	No Change
4	Premise Visit	\$10.00		N/A	No Change	No Change
5	Return Check Charge	\$15.00	or 5% of the amount of the check, whichever is greater.	N/A	No Change	No Change

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates	Prop	(3) osed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$7.50	N/A	No Change	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

FPSC Schedule: E-5 Page 1 of 7 Preparer: Bencini

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line No.	Type of Charge	Rates	1994 Units 1/	rojected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 interim) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	20	2.73%	21	\$210	\$ 10	21	\$210
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	31	2.73%	32	\$320	\$10	32	\$320
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	12	2.73%	12	\$120	\$ 10	12	\$120
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$5	2	2.73%	2	\$10	\$ 5	2	\$10
5 .	Return Check Charge	\$15	6	2.73%	6	\$90	\$15	6	\$90
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			71		73	\$750		73	\$750

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections. Note: Numbers may not cross foot due to rounding.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 2 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(6) Proposed	(9)
Line No.	Type of Charge	Rates	1994 Units 1/	Projected 1995 Units Projection Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	26	2.73%	29	\$435	\$15	29	\$435
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	10	2.73%	10	\$150	\$15	10	\$150
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	23	2.73%	24	\$360	\$15	24	\$360
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$7.50	0	2.73%	0	\$0	\$7.50	0	\$0
5.	Return Check Charge	\$15	6	2.73%	6	\$90	\$15	6	\$90
6.	Other Charges	\$0	0	2.73%	0	\$ 0	\$0	0	\$0
			67		69	\$1,035		69	\$1,035

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Polic / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 3 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(6) Proposed	(9)
			Pr	ojected 1995 Units					
Line		. .		Projection		_			(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	79	2.73%	61	\$810	\$10	61	\$810
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	120	2.73%	123	\$1,230	\$10	123	\$1,230
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	108	2.73%	111	\$1,110	\$10	111	\$1,110
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$ 5	88	2.73%	90	\$450	\$ 5	90	\$450
5.	Return Check Charge	\$15	47	2.73%	48	\$720	\$15	48	\$720
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			442		453	\$4,320		453	\$4,320

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

460

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Polk / Orange Hill - Sugar Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater []
Interim [X] Final []
Historical [] Projected [X]
FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 4 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
				Present				Proposed	
Line				rojected 1995 Units Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
								·	
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	8	2.73%	8	\$80	\$10	8	\$80
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	19	2.73%	20	\$200	\$10	20	\$200
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$10	38	2.73%	39	\$390	\$10	39	\$390
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$ 5	8	2.73%	8	\$40	\$5	8	\$40
5.	Return Check Charge	\$15	7	2.73%	7	\$105	\$ 15	7	\$105
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			80		82	\$815		82	\$815

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Hillsborough / Seabcard

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 5 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
1:			P	rojected 1995 Units					***
Line No.	Type of Charge	Rates	1994 Units 1/	Projection Fector	1995 Units 1/	Revenues	Rates	1995 Units 1/	(1995 Interim) Revenues
1.	Intitial Connection	\$ 15	371	2.73%	381	\$5,715	\$ 15	381	\$5,715
	(Includes Bus. Hours and After Bus. Hours)					4.7 ·-	***		V-1 1-1-2
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	72	2.73%	74	\$1,110	\$ 15	74	\$1,110
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	967	2.73%	993	\$14,895	\$15	993	\$14,895
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$7.50	20	2.73%	21	\$158	\$7.50	21	\$158
5.	Return Check Charge	\$15	181	2.73%	186	\$2,790	\$15	186	\$2,790
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			1,611		1,655	\$24,668		1,655	\$24,668

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections, Note: Numbers may not cross foot due to rounding.

6

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Hernando / Spring HIII

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 6 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
			Pı	rojected 1995 Units				Поросси	
Line				Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
						<u> </u>			
1,	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	3,689	2.73%	3,790	\$56,850	\$15	3,790	\$56,850
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	812	2.73%	834	\$12,510	\$15	834	\$12,510
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	1,431	2.73%	1,470	\$22,050	\$ 15	1,470	\$22,050
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	396	2.73%	407	\$4,070	\$10	407	\$4,070
5.	Return Check Charge	\$15	397	2.73%	408	\$6,120	\$15	408	\$6,120
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			6,725		6,909	\$101,600		6,909	\$101,600

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Hillsborough / Vairico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 7 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(6) Proposed	(9)
			Pi	ojected 1995 Units					
Line				Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	19	2.73%	20	\$300	\$15	20	\$300
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	В	2.73%	В	\$120	\$15	В	\$120
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$ 15	70	2.73%	72	\$1,080	\$15	72	\$1,080
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$7.50	3	2.73%	3	\$23	\$7.50	3	\$23
5 .	Return Check Charge	\$15	7	2.73%	7	\$105	\$ 15	7	\$105
6.	Other Charges	\$0	0	2.73%	0	\$0	\$0	0	\$0
			107		110	\$1,628		110	\$1,628

^{1/} The number of units for miscellaneous service charges was projected using an overall factor of 2.73%. Please refer to the Projection Factor for a detail breakdown of the growth projections.

Note: Numbers may not cross foot due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU/ Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [x] Wastewater []
Interim [x] Final []
Histonical [] Projected [x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-Jurisdiction [x]

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including etandpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(8)	(10)	(11)	(12)
Line				Fire Flow Requirement	Number	of Standard	Type Public F	ire Hydrants f	Sv Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	6"	10*	12"	14"	Total	Notes
1	Gibsonia Estates	Polk	Fire Protection Provided	500		4	-	-	-	-	4	
2	Hershel Heights	Hillsborough	Fire Protection Provided	500	-	11	-	-	-	-	11	
3	Lake Gibson Estates	Polk	Fire Protection Provided	500	-	16	-	-	-	-	16	
4	Orange Hill / Sugar Creek	Polk	No Fire Protection	-		-	-	-	-	-	-	
5	Seabord	Hillsborough	Fire Protection Provided	2,500	-	26	-	-	-	-	26	
6	Spring Hill	Hernando	Fire Protection Provided	1,000	-	914	-	-	-	-	914	
7	Valnico Hille	Hillsborough	Fire Protection Provided	500	•	14	•	•	-	-	14	
	Total FPSC Non-Regulated Plan	nta			0	985			0	0	985	

Note: Public Fire Protection is not forecasted. These values are historical as of 12/31/94.

SCHEDULE OF PRIVATE FIRE PROTECTION SERVICE - 1995

FPSC

Company: SSU / FPSC Non-Jurisdiction - Summary

Schedule E-7 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater [] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

Size and Type:

(4)

Line **Plant** No. Sprinkler Lines: **Double Check Valves:**

(5)

Combined 1 Total Total

(6)

(7)

(8)

(10)

(11)

(12)

(13)

(14)

Total

There are no FPSC non-jurisdiction plants with private fire protection.

(3)

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs. Describe with whom, the purpose and the elements of each contract shown.

No.	(1) Type	(2) Description
1 2	HERSHEL HEIGHTS	
3 4 5	Nasrallah, Herbert Customer # 091594	Pursuant to Agreement: SSU agrees not to require Herbert Nasrallah to connect the property located at 7818 N. 53rd St., Tampa, FL 33617, to its water distribution system until ownership changes. 1/
6 7	SPRING HILL	
8 9 10	Timber Pines Community Ass., Inc.	Pursuant to Agreement: SSU agrees to provide Timber Pines Community Association, Inc., reclaimed water for irrigation at the following rates: \$ 0.00 per month until 12/31/20004, \$ 12,775.00 per month from 1/1/2005 through 12/31/2011, and \$ 14,904.00 per month from 1/1/2012 through 12/31/2026. 2/

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 1

^{1/} Agreement was terminated on 4/19/95.

^{2/} Service is to begin as soon as upgrades to Spring Hill's plant and distribution lines are complete (budgeted to be in service in December of 1996).

468

SCHEDULE OF TAX OR FRANCHISE FEES - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [x] or Wastewater []

Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line	(2)	(3)	(4) Type of	(5) To Whom	(6)	(7) How Collected	(8) Type of
No.	Plant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
1 2	Spring Hill 1/	Hernando	Rev. Assess. Fee	FPSC	4.5%	2/	None
3	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
4	Lake Gibson Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
5	Orange Hill / Sugar Creek	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance

^{1/} Spring Hill rescinded FPSC jurisdiction on 4/5/94. Since that time, SSU has been accruing the 4.5% R.A.F., pending final jurisdictional outcome.

FPSC

Schedule: E-9

Preparer: Bencini

Page 1 of 1

^{2/} Included in overall cost of service.

^{3/} Billed as a separate line item on customer bills.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line		Present	Proposed
No.	Type of Charge	Charges	Charges

Please see separate Service Availability Schedules, Volume VIII.

FPSC

Schedule E-10

Page 1 of 1

Preparer: Bencini

FPSC

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-11 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical () Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)	
Line	For the	Paridontist	General	045	Total	
No.	Year Ended	Residential	Service	Other	Total	

This schedule is not applicable.

4/

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [x] Wastewater []
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Polk / Gibsonia Estates

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[x] Wastewater[] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 1 of 7

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	BOIL OF EACH PROJECTION TACK	OI OII a Sepair	ale schedule	, it incressary.	LIST OUTO GASSES	חו וושופו אר	es as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Nun	nber of B	ills	Con	sumptio	n (MG)	Sc	hedule	Year Rev	e n u e s
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1999	5 Interim Rates
<u>No.</u>	Class/Meter Size	<u>1994 1/</u>	<u>Factor</u>	<u>1995 Interim</u>	<u> 1994 1/</u>	<u>Factor</u>	1995 Interim	Rates	<u>Revenue</u>	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,644	2.23%	1,681				\$4.48	\$7,531	\$5.47	\$9,195
3	1"	38	2.23%	39				\$4.48	\$175	\$5.47	\$213
4	2*	12	2.23%	12				\$4.48	\$54	\$ 5. 4 7	\$66
5	Gallonage Charge/MG:										
6	Atl Galionage _				11,880	3.00%	12,237	\$0.54	\$6,608	\$0.66	\$8,076
7	Total	1,694		1,732	11,880		12,237	_	\$14,368		\$17,550
	_		•			•	-			•	··············
8	Commercial										
9	5/8 x 3/4"	218	2.23%	223				\$4.48	\$999	\$5.47	\$1,220
10	1"	48	2.23%	49				\$4.48	\$220	\$5.47	\$268
11	Gallonage Charge/MG:										
12	All Gallonage		_		1,704	3.00%	1,755	\$0.54	\$948	\$0.66	\$1,158
13	Total	266		272	1,704	_	1,755	_	\$2,167	-	\$2,646
	-					•		=		-	
14	GRAND TOTAL	1,960		2,004	13,584		13,992		\$16,535		\$20,196
	=							-		=	

^{1/} Historical billing was done on a bi-monthly basis. The billing determinants shown have been converted to monthly equivalents. Please refer to Schedule E2-1.1 for support.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Hillsborough / Hershel Heights

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[x] Wastewater[] Intenm(x) Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 2 of 7

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Num	ber of B	ills	Con	sumptio	n (MG)	Sci	hedule	Year Reve	nues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	<u>Factor</u>	1995 Interim	1994	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	3,581	0.13%	3,586				\$2.60	\$9,324	\$3.17	\$11,368
3	1"	53	0.13%	53				\$6.50	\$345	\$7.93	\$420
4	Gallonage Charge/MG:										
5	0 - 9,000				20,504	7.21%	21,982	\$1.11	\$24,400	\$1.35	\$29,676
6	All Excess Gallons _		_		5,357	7.21%	5,744	\$1.56	\$8,961	\$1.90	\$10,914
7	Total _	3,634		3,639	25,861		27,726		\$43,030	_	\$52,378
	-					•	***************************************	-		-	
8	<u>Commercial</u>										
9											
•	5/8 x 3/4"	84	0.13%	84				\$2.60	\$218	\$3.17	\$26 6
10	5/8 x 3/4" 1"	84 60		84 60				\$2.60 \$6.50	\$218 \$390	\$3.17 \$7.93	\$266 \$476
•	5/8 x 3/4" 1" 2"		0.13%					•	•	•	•
10	5/8 x 3/4" 1" 2" Gallonage Charge/MG:	60	0.13%	60				\$6.50	\$390	\$7.93	\$476
10 11	1" 2"	60	0.13%	60	1,057	7.21%	1,133	\$6.50	\$390	\$7.93	\$476
10 11 12	1" 2" Gallonage Charge/MG:	60	0.13%	60	1,057 2,386	7.21% 7.21%	1,133 2,558	\$6.50 \$20.80	\$390 \$998	\$7.93 \$25.39	\$476 \$1,219
10 11 12 13	1" 2" Gallonage Charge/MG: 0 - 9,000 All Excess Gallons Total	192	0.13%	60			2,558 3,691	\$6.50 \$20.80 \$1.11	\$390 \$998 \$1,258 \$3,990 \$6,854	\$7.93 \$25.39 \$1.35	\$476 \$1,219 \$1,530 \$4,860 \$8,351
10 11 12 13 14	1" 2" Gallonage Charge/MG: 0 - 9,000 All Excess Gallons Total	60 48	0.13%	60 48	2,386		2,558	\$6.50 \$20.80 \$1.11	\$390 \$998 \$1,258 \$3,990	\$7.93 \$25.39 \$1.35	\$476 \$1,219 \$1,530
10 11 12 13 14	1" 2" Gallonage Charge/MG: 0 - 9,000 All Excess Gallons Total	192	0.13% 0.13%	60 48	2,386		2,558 3,691	\$6.50 \$20.80 \$1.11	\$390 \$998 \$1,258 \$3,990 \$6,854	\$7.93 \$25.39 \$1.35	\$476 \$1,219 \$1,530 \$4,860 \$8,351

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Polk / Lake Gibson Estates

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[]

Historical[| Projected[x]

FPSC Uniform [1] FPSC Non-Uniform [1] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13
Page 3 of 7
Preparer: Bencini
Supporting Schedules: E1-1,

Supporting Schedules: E1 Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calcula	uon or each projection fact	or on a separa	ale schedule	e, ir necessary.	CIST OTHER CISSSES	or meter su	ces as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Nun	nber of B	Bills	Con	sumptic	n (MG)	S c	hedul <u>e</u>	Year Reve	nues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 1995	Interim Rates
<u>No.</u>	Class/Meter Size	1994 1/	Factor	1995 Interim	<u>1994 1/</u>	<u>Factor</u>	1995 Interim	Rates	Revenue	<u>Rates</u>	Revenue
1	<u>Residentiai</u>										
2	5/8 x 3/4"	9,058	0.71%	9,122				\$5.89	\$53,729	\$7.19	\$65,587
3	3/4"	40	0.71%	40				\$5.89	\$236	\$7.19	\$288
4	1"	24	0.71%	24				\$5.89	\$141	\$ 7.19	\$173
5	2"	12	0.71%	12				\$5.89	\$71	\$7.19	\$86
6	Gallonage Charge/MG:										
7	All Gallonage				71,674	-2.956%	69,555	\$0.85	\$59,122	\$1.04 _	\$72,337
8	Total	9,134	-	9,198	71,674		69,555	_	\$113,299	_	\$138,471
	-					,		-		=	
9	Commercial										
10	5/8 x 3/4"	116	0.71%	117				\$5.89	\$689	\$7.19	\$841
11	1"	12	0.71%	12				\$5.89	\$71	\$7.19	\$86
12	1 - 1/2"	12	0.71%	12				\$5.89	\$71	\$7.19	\$86
13	Gallonage Charge/MG:										
14	All Gallonage				1,097	-2.956%	1,065	\$0.85	\$905	\$1.04	\$1,108
15	Total	140	•	141	1,097	•	1,065	-	\$1,736	-	\$2,121
	=		:					-		•	
16	GRAND TOTAL	9,274	,	9,339	72,771		70,620		\$115,035		\$140,592
	=	9,214			12,111		. 0,020	=	Ţ.10,000	-	

^{1/} Historical billing was done on a bi-monthly basis. The billing determinants shown have been converted to monthly equivalents. Please refer to Schedule E2-1.1 for support.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/95

Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 4 of 7 Preparer: Bencini

Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection fact	ог оп а ѕерап	ate schedule	, if necessary.	List other classes	or meter size	tes as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	Nun	nber of B	lills	Cor	sumptic	n (MG)	S _C	hedule	Year Rev	enues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 199	5 Interim Rates
<u>No.</u>	Class/Meter Size	1994 1/	<u>Factor</u>	1995 Interim	<u>1994 1/</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	2,782	0.58%	2,798				\$8.15	\$22,804	\$9.95	\$27,840
3	Gallonage Charge/MG:										
4	All Gallonage		_		18,134	-0.54%	18,036	\$1.20	\$21,643	\$1.46	\$26,333
5	Total _	2,782		2,796	18,134		18,036	-	\$44,447		\$54,173
6	GRAND TOTAL	2,782		2,798	18,134		16,036	-	\$44,447	,	\$54,173

1/ Historical billing was done on a bi-monthly basis. The billing determinants shown have been converted to monthly equivalents. Please refer to Schedule E2-1.1 for support.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Hillsborough / Seaboard

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13
Page 5 of 7
Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	• • • • • • • • • • • • • • • • • • • •		berofi			ı şumpti d				Year Rev	
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 199	5 Interim Rates
No.	Class/Meter Size	<u>1994</u>	Factor	1995 Intenm	<u>1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	30,148	0.64%	30,341				\$9.09	\$275,800	\$11.10	\$336,785
3	Gallonage Charge/MG:										
4	0 - 9,000				168,295	5.35%	177,300	\$1.54	\$273,042	\$1.88	\$333,324
5	All Excess Gallons				35,674	5.35%	37,583	\$2.00	\$75,166	\$2.44	\$91,703
6	Totai	30,148		30,341	203,969		214,883		\$624,008	_	\$761,812
	_							_		-	
7	Multi-Family										
8	1 - 1/2"	12		12				\$45.45	\$54 5	\$55.48	\$666
9	2"	12	0.64%	12				\$72.72	\$873	\$88.77	\$1,065
10	Gallonage Charge/MG:										
11	0 - 9,000				216		217	\$1.54	\$334	\$1.88	\$408
12	All Excess Gallons_				22,081		23,273	\$2.00	\$46,546	\$2.44 _	\$56,788
13	Total_	24		24	22,297	5.35%	23,490	_	\$48,298	_	\$58,925
	_							_		_	
14	<u>Commercial</u>										
15	5/8 x 3/4"	487	0.64%	490				\$9.09	\$4,454	\$11.10	\$ 5,439
16	1"	24	0.64%	24				\$22.73	\$546	\$27.75	\$666
17	1 - 1/2"	105	0.64%	106				\$45.45	\$4 ,818	\$5 5.48	\$ 5,881
18	2"	62	0.64%	62				\$72.72	\$4,509	\$88.77	\$5,504
19	3"	24	0.64%	24				\$136.35	\$3,272	\$166.44	\$3,99 5
20	Gallonage Charge/MG:										
21	0 - 9,000				3,469		3,637	\$1.54	\$5,601	\$1.88	\$6,838
22	All Excess Gallons				16,617		17,524	\$2.00	\$35,048	\$2.44 _	\$42,759
23	Total	702		706	20,086	5.35%	21,161	_	\$58,248	_	\$71,082
	-							_		_	
24	GRAND TOTAL	30,874		31,071	246,352		259,534	_	\$730,554	_	\$891,819
	-							-		-	

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Hernando / Spring Hill

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 6 of 7 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calcula	tion of each projection factor	r on a separa	te schedule,	if necessary. Li	st other classes of	or meter size	s as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Num	ber of E	Bills	Cor	rsumptio			hedule		enues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 199	
<u>No.</u>	Class/Meter Size	1994	<u>Factor</u>	1995 Interim	<u>1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	269,114	3.10%	277,457				\$5.05	\$1,401,158	\$ 6.16	\$1,709,135
3	3/4"	48	3.10%	49				\$7.58	\$ 371	\$9.25	\$4 53
4	1"	16,371	3.10%	16,879				\$12.63	\$ 213,182	\$15.42	\$260,274
5	1 - 1/2"	51	3.10%	53				\$25.25	\$1,338	\$30.62	\$1,633
6	2"	33	3.10%	34				\$40.40	\$1,374	\$49.32	\$1,677
7	Gallonage Charge/MG:										
8	All Gallonage				2,692,955	13.1443%	3,046,924	\$1.21	\$3,886,778	\$1.48	\$4,509,448
9	Total	285,617		294,472	2,692,955	•	3,046,924		\$5,304,201		\$6,482,620
	-		•			•				•	
9	Commercial										
10	5/8 x 3/4"	4,661	3.10%	4,805				\$5.05	\$24,265	\$6.16	\$29,599
11	1"	1,118	3.10%	1,153				\$12.63	\$14,562	\$15.42	\$17,779
12	1 - 1/2"	131	3.10%	135				\$25.25	\$3,409	\$30.82	\$4 ,161
13	2	532	3.10%	548				\$40.40	\$22,139	\$49.32	\$27,027
14	3*	29	3.10%	30				\$80.80	\$2,424	\$98.63	\$2,959
15	8"	31	3.10%	32				\$252.50	\$8,080	\$308.23	\$9,863
16	Gallonage Charge/MG:										
17	All Gallonage				129,386	13.1443%	146,393	\$1.21	\$177,136	\$1.48	\$216,662
18	Total	6,502		6,703	129,386	.	146,393		\$252,015		\$308,050
	_		•							•	
19	Emergency Standby Ser	vice									
20	5/8 x 3/4"		N/A	0				\$0.00	\$0	\$0.00	\$0
21	Gallonage Charge/MG:										
22	All Gallonage				0	N/A	0	\$1.21	\$0	\$1.48	\$0
23	Total	0	•	0		•			\$0	•	\$0
	_		•			•				:	
24	GRAND TOTAL	292,119		301,175	2,822,341		3,193,317		\$5,556,216		\$6,790,670
	=	202,110	:	30.,0	=,,,,,,,,,	•			30,000,210	:	00,,00,00

Notes:

May not tie to other schedules due to rounding.

FPSC

Schedule E-13
Page 7 of 7
Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Company: SSU / Hillsborough / Vairico Hills

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[x] Wastewater[] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calcula	uon oi each projection iac	UI UII a Separa	ate scriedine	, it necessary.	LIST OUTE CIASSE	o of lifeter su	Les as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Nun	nber of B	lills	Cor	nsumptic	n (MG)	Sc	hedule	Year Rev	enues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Prese	nt Rates	Proposed 199	5 Interim Rates
No.	Class/Meter Size	<u>1994</u>	Factor	1995 Interim	<u>1994</u>	Factor	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	4,246	0.33%	4,260				\$9.50	\$40,470	\$11.60	\$4 9,416
3	Gallonage Charge/MG:										
4	All Gallonage				38,464	0.81%	38,775	\$0.60	\$23,265	\$0.73	\$28,306
5	Total	4,246	-	4,260	38,464		38,775		\$63,735		\$77,722
	-					•		-			
6	GRAND TOTAL	4,246	3	4,260	38,464	,	38,775		\$63,735		\$77,722
•	=	-1		-,=				=			

Notes:

May not tie to other schedules due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	
Line	-	Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	RESIDENTIAL, GENERAL, MULTI-FAMI	LY SERVICES 2/		
1	5/8"x3/4"	\$ 5.13	N/A	
2	3/4"	\$7.70	N/A	
3	1"	\$12.83	N/A	
4	1 - 1/2"	\$25.66	N/A	
5	2"	\$41.05	N/A	
6	3"	\$82.10	N/A	
7	4"	\$128.29	N/A	
8	6"	\$256.57	N/A	
9	8**	\$410.51	N/A	
10	10"	\$590.11	N/A	
	GALLONAGE CHARGE / MG:	-		
11	All Gallonage	\$1.23	N/A	
	FIRE PROTECTION			
12	2"	\$13.69	N/A	
13	4"	\$42.76	N/A	
14	6"	\$85.53	N/A	
15	8"	\$136.84	N/A	
16	10"	\$196.70	N/A	
	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$0.00	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{2/} Public Authority is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

THIS PAGE INTENTIONALLY LEFT BLANK

483

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim() Final[] Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 1 of 3 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (4) (5) (2) (3) (10)

			1994 HISTORICAL	(PRESENT R/	ATES)		PROPOSED	1/	
Line No.	Class/Meter Size	Bills_	Consumption(HG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	601,876		\$5.13	\$3,087,624				
3	Full 3/4"	5,997		\$7,70	\$46.177				
4	1"	42,155		\$12.83	\$540,849				
5	1 1/2"	356		\$25.66	\$ 9,135				
6	2*	206		\$41.05	\$8,456				
7	3"	57		\$82.10	\$4,680				
8	4"	33		\$128.29	\$4,234				
9	Gallonage Charge/MG		C CO1 300	¢1 22	ec 201 702				
1 0 11	All Gallonage Total RESIDENTIAL	650,680	5,521,782 5,521,782	\$1.23	\$6,791,792 \$10,492,947	- AL / A	N/A		N/A
12	Ave cust/cons/bill/mth	54,223	8.486		\$16.13	N/Ā	N/A		N/A
12	MAC COSTACOLISADILIAMENT	34,223	0.400		¥10.13				
13	MULT1-FAMILY								
14	5/8"x3/4"	241		\$5.13	\$1.236				
15	1"	103		\$12.83	\$1,321		·		
16	1 1/2"	697		\$25.66	\$17,885				
17 18	2"	180 7		\$41.05	\$7,389				
19	3" 4"	17		\$82.10 \$128.29	\$575 \$2,181				
20	6 "	12		\$256.57	\$3,079				
21	8"	7		\$410.51	\$2,874				
22	Gallonage Charge/MG	,		#41U.JI	<i>42</i> ,014				
23	All Gallonage		53,863	\$1.23	\$66.251				
24	Total MULTI-FAMILY	1.264	53.863	21.20	\$102,791	N/A	N/A		N/A
25	Ave cust/cons/bill/mth	105	42.613		\$81.32		1877		
	1200. 23/13/21/7/11/01	100	1,010		301.02				

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 2 of 3
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(2) (3) (4) (5) (7) (8) (9) (10) 1994 HISTORICAL (PRESENT RATES) PROPOSED 1/ Line No. Class/Meter Size Bills Consumption(MG) Rate Revenues Bills Consumption(MG) Rate Revenues 26 COMMERCIAL 27 5/8"x3/4" 9.483 \$5.13 \$48,648 28 Full 3/4" 451 \$7.70 \$3,473 29 2.310 \$12.83 \$29,637 30 1 1/2" 984 \$25.66 \$25,249 31 2,226 \$41.05 \$91,377 32 3" 267 \$82.10 \$21,921 **3**3 4" 156 \$12B.29 \$20,013 34 6" 24 \$256.57 \$6,158 35 8" 39 \$410.51 \$16,010 36 10" 10 \$590.11 \$5,901 37 Gallonage Charge/MG 38 All Gallonage 659.796 \$1.23 \$811,549 39 Total COMMERCIAL 15.950 659.796 \$1,079,936 N/A N/A N/A Ave cust/cons/bill/mth 1.329 41.367 \$67.71 PUBLIC AUTHORITY 42 1 1/2" 12 \$25.66 \$308 43 2" 12 \$41.05 \$493 3" 44 12 \$82.10 \$985 45 6" 12 \$256.57 \$3,079 Gallonage Charge/MG 47 All Gallonage 8,381 \$1.23 \$10.309 Total PUBLIC AUTHORITY 48 8.381 \$15,174 N/A N/A N/A Ave cust/cons/bill/mth 174.604 \$316.13

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS

Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 3 of 3 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	ATES)		PROPOSED	1/	
Line <u>No.</u>	Class/Meter_Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues
50 51 52 53 54	FIRE PROTECTION 2/ 2" 4" 6" 8"	24 240 132 53		\$13.69 \$42.76 \$85.53 \$136.84	\$329 \$10,262 \$11,290 \$7,253				
55 56 57 58 59	10" Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	14 463 39	0.000	\$196.70 \$0.00	\$2.754 \$0 \$31.888 \$68.87	N/A	N/A		N/A
60 61 62 63 64 65	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES TOTAL 800KED REVENUES DIFFERENCE 5/	REVENUES 3/			\$11.722.736 \$-312.331 \$302.642 \$11.713.047 \$11.664.466 \$48.581				N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Fire Protection in the billing analysis (schedule E-14) shows consumption. It has been zeroed out (since it is not charged) for presentation purposes.

^{3/} Total annualized sales revenues may not tie to other schedules due to rounding at the plant level vs. the summary level.

^{4/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{5/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE: E2-2 Page 1 of 3 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical(x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during	the test year, a rev	enue calculation must be made	for each period.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(1D)
Lin	e	<u>+</u>	istorical Rates	JAN	· JUL 1994	H	istorical Rates	AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	8111s	Consumption(MG) Rates	Revenues	81715	Consumption(MG)	Rates	Revenues	
1	RESIDENTIAL			· —						
2	5/8"x3/4"	348.544		\$5.05	\$1,760,147	253,332		\$5.13	\$1,299,593	\$3,059,740
3	Full 3/4"	3,033		\$7.58	\$22,990	2.964		\$7.70	\$22,823	\$45,813
4	1"	24,939		\$12.63	\$314,980	17,216		\$12.83	\$220,881	\$535,861
5	1 1/2"	2 D 4		\$25.25	\$5,151	152		\$25.66	\$3,900	\$9,051
6	2*	124		\$40.40	\$5,010	82		\$41.05	\$3,366	\$8,376
7	3"	40		\$80.80	\$3,232	17		\$82.10	\$1,396	\$4,628
8	4"	21		\$126.25	\$2,651	12	1	128.29	\$1,539	\$4,190
9	Gallonage Charge/MC	ì								
10	All Gallonage		3,499,142	\$1.21	\$4,233,962		2.022.645	\$1.23	\$2,487,853	\$6,721,815
11	Total	376,905			\$6,348,123	273,775			\$4,041,351	\$10,389,474
12	Average 8ill									\$15.97
13	MULTI-FAMILY									
14	5/8"x3/4"	141		\$5.05	\$712	100		\$5.13	\$513	\$1,225
15	1"	58		\$12.63	\$733	45		\$12.83	\$577	\$1,310
16	1 1/2"	407		\$25.25	\$10,277	290		\$25.66	\$7,441	\$17,718
17	2"	105		\$40.40	\$4,242	75		\$41.05	\$3,079	\$7,321
18	3"	2		\$80.80	\$162	5		\$82.10	\$411	\$573
19	4*	12		\$126.25	\$1,515	5		128.29	\$641	\$2,156
20	6"	7		\$252.50	\$1,768	5		256.57	\$1,283	\$3.051
21	8"	2		\$404.00	\$808	5		410.51	\$2,053	\$2,B61
22	Gallonage Charge/MC	_				· ·	•		,	,
23	All Gallonage		34,376	\$1.21	\$41,595		19.486	\$1.23	\$23,968	\$65,563
24	Total	734			\$61,812	530			\$39,966	\$101,778
25	Average 8ill									\$80.52

48/

SCHEDULE: E2-2 Page 2 of 3 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period. (1) (2) (3) (5) (7) (8) (9) (10) Line Historical Rates JAN - JUL 1994 Historical Rates AUG - DEC 1994 Tot 1994 Hist Rev No. Class/Meter Size 8111s Consumption(MG) Rates Revenues 8ills Consumption(MG) Rates Revenues 26 COMMERCIAL 27 5/8"x3/4" 5.495 \$5.05 \$27,750 3.988 \$5.13 \$20,458 \$48,208 28 Full 3/4" 261 \$7.58 \$1.978 190 \$7.70 \$1,463 \$3,441 29 1" 1,324 \$12.63 \$16,722 986 \$12.83 \$12,650 \$29,372 30 1 1/2" 577 407 \$25.25 \$14,569 \$25.66 \$10.444 \$25.013 31 2" 1,318 \$40.40 \$53,247 908 \$41.05 \$37,273 \$90.520 32 3" 155 \$80.80 \$12,524 112 \$82.10 \$9,195 \$21,719 33 4" 91 \$126.25 \$11.489 65 \$128.29 \$8,339 \$19,828 34 6" 14 \$252.50 \$3,535 10 \$256.57 \$2,566 \$6,101 35 8" 22 \$404.00 \$8.888 17 \$410.51 \$6,979 \$15.867 36 10" 5 \$580.75 \$2,904 5 \$590.11 \$2,951 \$5,855 37 Gallonage Charge/MG \$47<u>9,093</u> 38 All Gallonage 395.945 \$1.21 263,854 \$1.23 \$324,540 \$803,633 39 9.262 Total \$632,699 6,688 \$436,858 \$1,069,557 40 Average 8ill \$67.06 41 PUBLIC AUTHORITY 42 1 1/2" \$25.25 \$177 5 \$25.66 \$128 \$305 43 2" 7 \$40.40 \$283 5 \$41.05 \$205 \$488 3" 44 7 \$80.80 \$566 5 \$82.10 \$411 \$977 45 6" \$252.50 \$1,768 5 \$256.57 \$1,283 \$3.051 Gallonage Charge/MG 47 All Gallonage 5,052 \$1.21 \$6,113 3.330 \$1.23 \$4,096 \$10,209 48 Total 28 \$8.907 20 \$6,123 \$15,030 Average Bill \$313.12 FIRE PROTECTION 50 51 2* 14 \$13.47 \$189 10 \$13.69 \$137 \$326 52 4" 140 \$10,167 \$42.08 \$5.891 100 \$42.76 \$4,276 53 6" 77 \$84.17 \$6.481 55 \$85.53 \$4,704 \$11,185 54 8" 33 \$134.67 \$4.444 20 \$136.84 \$2,737 \$7,181

Company: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform(x) FPSC Non-uniform[] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 3 of 3 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

11 0	race change occurre	ישטי נווק י	rue rear Jear	, a revenue	Carcut action indst	DE IMILIE FOI E	acri per rou.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Ling)	H	istorical Rat	es JAN	- JUL 1994	h	istorical Rate	s AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(MG) Rates	Revenues	B111s	Consumption(H	G) Rates	Revenues	
_										
55	FIRE PROTECTION		(Continued)							
56	10"	9		\$193.58	\$1.742	5		\$196.70	\$984	\$2,726
57	Gallonage Charge/MG									
58	All Gallonage		0	\$0.00	\$0		0	\$0.00	\$0	\$0
59	Total	273	-		\$18.747	190	-		\$12.838	\$31.585
60	Average Bill									\$68.22
00	Average Diff									V00.22
61	TOTAL HIST. 1/	387.202	3,934,515		\$7,070.288	281,203	2,309,315		\$4,537,136	\$11.607.424
			5,704,313		#7,070,20b	201,203	2,007,013		F1,307,100	
62	INDEXING-RATE CHANG									\$115,312
63	TOTAL 1994 ANNUALIZ	ED SALES I	REVENUE 2/							\$11,722,736

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

489

^{2/} Refer to schedule E2-3 for reconciliation of differences.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Summery of Revenue Reconciliation

Company: SSLV FPSC Jurisdiction/ Present Uniform Docket No: 950495-WS Schedule Year Ended 12/31/94 Water(s) Wasteraler() Interint[| Final | Historical(s) Projected() FPSC Uniform(x) FPSC Non-jurisdiction()

FPSC

9CHEDULE: 62-3 Page 1 of 3 Preparer: Bencini Recap Schaduler: E2-1, E2-2

			(1)		(2)		(3)		(4)		(5)	(6)	(7)		(8)		(9)		(10)
Line			INDEXING-		ATCH UP		EXCESS REFUND		ZERO		OUT OF PERIOD	CYCLE CYCLE	RATE		TOTAL		62 -1		NEXPLAINED VARIANCE
Ha.	PLANT	RA	TE CHANGE 1/	_	MLLING 2/	A	CCRUAL 3/	_	USAGE 4/	_	DJUSTMENTS 5/	CONVERSIONS 6/	MISCODES 7/	AD.	IUSTMENTS &	DIF	FERENCE W	_	AMOUNT
	AMELIA ISLAND	\$	(5,218.00)			\$	517.29	\$	(9,385.71)					\$	(14,086.42)	\$	14,222.41	\$	135.99
2	APACHE SHORES	\$	(127,00)			\$	14.70	\$	(361.62)					8	(473.92)	\$	392.97	\$	(80.95
3	APPLE VALLEY	\$	(2,069.00)			\$	200.64							\$	(1,868.36)	\$	2,052.53	\$	164.17
4	BAY LAKE ESTATES	\$	(121.00)			\$	7.64							\$	(113.36)	\$	141.64	\$	28.16
5	BEACON HILLS	\$	(7,833.00)			\$	764.48							\$	(7,088.52)	8	5,961.79		(1,108.73
6	BEECHER'S POINT	\$	(122.00)	\$	798.88	\$	12.65							\$	689.52	\$	(845.14)	\$	44.39
7	BURNT STORE	\$	(1,028.00)			\$	97.95							\$	(928.05)	5	1,124.49	\$	198.44
8	CARLTON VILLAGE	\$	(212.00)			\$	20.41							\$	(191.59)	\$	313.79	\$	129 20
B	CHULUOTA	8	(1,143.00)	\$	9,167.37	8	111.75			\$	(106.48)			\$	8,027.64	\$	(7,937.24)		80.40
10	CITRUS PARK	3	(515.00)	_	-,		51.68				, ,			5	(463.12)	\$	519.77		56.65
11	CITRUS SPRINGS	3	(2,940,00)				296.74								(2,643.26)	3	3,152.71		509.45
12	CRYSTAL RIVER HIGHLANDS	š	(128.00)			i	11.39								(116.61)	3	64.23		(32.39
13	DAETWYLER SHORES	š	(269.00)		2,121.15	i	26.81								1,878.96	3	(1,815.98)	- 1	62.98
14	DELTONA		(47,759.00)	•	2,121115	š	4,730,12			3	(439.66)			3	(43,468.54)	\$	71, 180, 07	•	27,691.53
15	DOL RAY MANOR	:	(213.00)		1,782.07	i	18.53			•	(100.00)			š	1,587.60	\$	(1,564.26)	i	23.34
18	ORUID HILLS	:	(672.00)	i	5,902.99	:	65.13							•	5,296.11	i	(5,248.63)	•	47.49
17	EAST LAKE HARRIS ESTATES	:	(170.00)	•	3,302.30	:	17.96							•	(152.04)	ĭ	162.20		10.16
18	FERN PARK	:	(310.00)			•	31.17								(278.63)	•	339.49	- ;	60.66
19	FERN TERRACE	:	(233.00)			:	21.21								(211.79)		228.34	- ;	16.55
-	FISHERMAN'S HAVEN	•				:	19.39							•	(166.61)	:	300.53	•	131.92
20		•	(188.00)			:	2.35							•	(46.65)	;	5.08	:	(41.57
21	FOUNTAINS	•	(49.00)			•								:		:	371,47	:	
22	FOX RUN		(185.00)			•	17.14							•	(167.68)	•		•	203.61
23	FRIENDLY CENTER		(26.00)			•	3.10							•	(24.90)	\$	32.07	•	7.17
24	GOLDEN TERRACE		(121.00)				10.69							•	(110.31)	\$	118.98	•	8.65
25	GOSPEL ISLAND ESTATES	\$	(12.00)			5	1,54							•	(10.46)	8	10.68		0.22
26	GRAND TERRACE	\$	(226.00)				19.41							•	(206.59)		217.79		11.19
27	HARMONY HOMES	\$	(115.00)				12.72							*	(102.28)	•	135.20		32.92
26		\$	(177.00)				18.45							8	(158.65)	*	118.18		(42.37
29	,	\$	(131.00)			\$	12.82							*	(118,18)	8	139.49		21.31
30	HOLIDAY HAVEN	\$	(114.00)			\$	12.26							\$	(101.74)	\$	81.00	\$	(20.74
31	HOUDAY HEIGHTS	\$	(94.00)			\$	9.22							\$	(84.78)	\$	67.42	\$	264
32	IMPERIAL MOBILE TERRACE	\$	(319.00)			\$	33.77							\$	(285.23)	\$	361.14	- \$	75.91
33	INTERCESSION CITY	\$	(338.00)			\$	33.45							\$	(304.55)	\$	437.30	\$	132.75
34	INTERLACHEN LAKES/PARK MANOR	\$	(291.00)	8	1,815.55	\$	31.22							\$	1,555.77	\$	(1,482,42)	\$	73.35
35	JUNGLE DEN	\$	(97.00)			\$	9.99							\$	(67.01)	\$	115.81	\$	26.60
35	KEYSTONE HEIGHTS	\$	(1,689.00)			\$	205.33							\$	(1,693.67)	\$	1,710.79	\$	17,11
37	KINGSWOOD	8	(78.00)	\$	537.42	\$	8.02							\$	457.44	\$	(413.00)	\$	\$4.44
38		\$	(228.00)	\$	1,892.45		15.24							\$	1,679.70	\$	(1,693.79)	\$	(14.10
39		š	(109.00)	•	.,	i	11.80								(97.20)	4	104.34		7.14
	LAKE CONWAY PARK	•	(140.00)			•								•	1,198.39	i		•	7.14

Explanation: Provide a schedule to reconcile the difference between calculated and booked revenues.

(340,00)

(302.00)

(496.00)

(22.00)

(34.00)

(151,00)

(83.00)

(20.00)

(687.00)

(706.00)

(306.00)

(689.00)

\$

(7,096.00)

(178.00)

(147.00)

(220.00)

(159.00)

(7,172.00)

663.97

3,491.56

6,153.05

1,844.91

57,657.05

(3,797.00)

FPSC

(7)

SCHEDULE: E2-3 Page 2 of 3 Preparer: Bencini Recap Schedules: E2-1, E2-2

Company: SSU/ FPSC Jurisdiction/ Present Uniform Darket No: 950495-WS

Schedule Year Ended 12/31/94 Water(x) Wastewater[] Inferint[] Final[] Historical[x] Projected[]

RIVER PARK

SALT SPRINGS

70 SKYCREST

71

72

73

74

75

SAMIRA VILLAS

SILVER LAKE DAKS

STONE MOUNTAIN

SUGARMALL WOODS

76 SUNSHINE PARKWAY

76 UNIVERSITY SHORES

60 WELAKA/SARATOGA HARBOUR

79 VENETIAN VILLAGE

SUGAR MILL

SUNNY HILLS

77 TROPICAL PARK

81 WESTMONT

82 WINDSONG

ST. JOHNS HIGHLANDS

ROSEMONT/ROLLING GREEN

SILVER LAKE EST/W. SHORES

FPSC Uniform(x) FPSC Non-uniform() FPSC Non-jurisdiction()

UNEXPLANED EXCE9S OUT OF RILLING VARIANCE WDEXING-**CATCH UP** REFUND ZERO **PERIOD** CYCLE RATE TOTAL E2-1 Line ADJUSTMENTS N ACCRUAL 3/ DIFFERENCE 9/ AMOUNT RATE CHANGE 1/ BILLING 2/ USAGE 4 ADJUSTMENTS SY CONVERSIONS N MISCODES 7/ **PLANT** 41 LAKE HARRIET ESTATES (408.00) 482.97 74.97 (454.00)46.00 42 LAKEVIEW VILLAS (18.00) 1.56 (18,44) 25.07 A E3 (649.01) 629.10 (19.91) 43 LEILANI HEIGHTS (723.00) 73.99 LEISURE LAKES/COVERED BRIDGE) (238.00) 1.907.12 25.91 1,695.02 (1,682.84)12.19 1,196.62 3,009,45 4,208,07 1,750.66 45 MARCO SHORES 10/ (541.00) 55.97 (69.01) 46 MARION DAKS (3,569,00) 347.77 (3,221,23) 4,872.74 1,751.51 (1,180.69) 1.398.87 218,18 47 MEREDITH MANOR (1,314.00) 133.31 MORNINGVIEW (72,00) 8.76 (65.24) 87.60 22,36 190.59 (26.39) (216.96) 49 OAK FOREST (241.00) 24.02 50 OAKWOOD (224.00) 1,822.01 (14.12) 1,607.90 (1,525.99) \$1.92 24.02 PALISADES COUNTRY CLUB 82.25 (83,08) 51 (156.00) 10.67 (145.33) PALM PORT (117,00) 12.63 (104.37)43.58 (60.79)52 (1,317.18) 1.139.02 (179,16) 53 PALM TERRACE (1,468.00) 146.82 54 PALMS MOBILE HOME PARK (57.00) 5.80 (51.10) 59.61 8.71 (194.68) 203.81 8.93 PICCIOLA ISLAND (218.00) 21.32 56 PINE RIDGE (2,130,00) 106.73 (2,023,27) 3.036.56 1,013.29 (328,95) 369.85 40.90 PINE RIDGE ESTATES 67 (358.00) 29.05 58 PINEY WOODS (304.00) (273.75) 289.93 18,17 30.24 363.13 (19.21) (382.34) POINT O' WOODS (428.00) 45.56 60 POMONA PARK (233,00) 1,742,43 1,530.04 (1,476.80)53,24 20.61 (242.69) 339.97 87.09 61 POSTMASTER VILLAGE (264.00) 21.12 QUAIL RIDGE (31.03) 35.32 4.29 62 (34,00) 2 97 182 58 43.97 **63** RIVER GROVE (154.00) 15.39 (138.61) \$

35.81

27.11

38.25

2.05

3.26

15.33

8.63

1.67

74.40

763.77

53.50

18.28

71.47

658.11

18.75

14.56

21.35

15.99

395.67

(4)

389.92

317.38

252.65

22.04

70.71

185,55

(625.19)

20.46

615,13

8.538.32

831.92

(3.217.57)

(5,342.92)

(52,738.70)

155.49

53.15

153.59

3

(1,706.32)

3,588,38

(304, 19)

(274.89)

(459.75)

`/18.86**ก**์

(30.74)

(18.33)

(612 60)

(6,408.23)

3,203,84

5,535,52

51,219.16

(159.25)

(132.44)

1.646.26

(143.01)

8

\$

(652.50)

(135,67)

(3,401.13)

85,73

42.49

2.09

167.25

39.97

50 68

(35.40)

2.13

2.53

2,130.09

178.42

(13.73)

192,60

(3.76)

(79.29)

(60.08)

10.58

(1,519.54)

(207.10)

FPSC

Company: SSU/ FPSC Jurisdiction/ Present Uniform Docket No: 950495-WS

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water[x] Wastewater[] Interim[] Final[] Historica[x] Projected[] SCHEDULE: E2-3 Page 3 of 3 Preparer: Benoini Recap Schedules: E2-1, E2-2

Historica(x) Projected()
FPSC Uniform(x) FPSC Non-uniform() FPSC Non-jurisdiction()

Explanation: Provide a schedule to reconcile the difference between calcutated and booked revenues.											
		(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(9)	(10)
Line No.	PLANT	INDEXING- RATE CHANGE 1	CATCH UP BILLING 2/	EXCESS REFUND ACCRUAL 3/	ZERO USAGE 4/	OUT OF PERIOD ADJUSTMENTS 5/	BELLING CYCLE CONVERSIONS 5/	RATE MISCODES 7/	TOTAL ADJUSTMENTS &	E2-1 DIFFERENCE W	UNEXPLAINED VARIANCE AMOUNT
	WOODMERE WOOTENS	\$ {2,914.0 \$ {20.0	ο _γ	\$ 318.97 \$ 2.22					\$ (2,596.03) \$ (17.78)	\$ 2,177.42 \$ 24.36	\$ (417.61) \$ 6.58
65	ZEPHYR SHORES	\$ (436.0	0}	\$ 39.25					\$ [396.75]	\$ 391.36	\$ (5.39)
	Total FPSC Present Uniform 11/	\$ (115,305.0	0) \$ 100,623.17	\$ 11,328,78	\$ (9,816.34	\$ (562.26)	\$.	\$ 1,750.66	\$ (11,981.01)	\$ 48,589.97	\$ 36,607.98

- 1/ "Indexing Rate Change" is the amount of revenue stributed to annualizing rates which resulted the 1994 Index and Pass through filing. This column accounts for the difference between the annualized indexed revenues and the revenues blind in effect prior to the indexing.
- 2' "Calch-Up Billing" is the emount of revenue attributed to the difference between booked and annualized revenues as the result of having an extra billing cycle (consumption crity) in 1993 in order to have our read date and bill date fail within tan days of one another. Some of these bills were booked in Jenuary of 1994 which is not reflected in our annualized revenues.
- 3/ "Excess Refund Accrual" is the amount of revenue attributed to an over accrual of refund amount made for Docket No. 920199-WS.
- 4/ "Zero Usago" amounts are billing adjustments such as credits, debits for back bills, etc. These adjustments have no associated usage on the billing analysis, but have revenues shown on our books.
- 5/ "Out of Period Adjustments" are zero usage type of adjustments that posted in 1994 to correct for a prior calendar year.
- 6/ "Billing Cycle Conversions" relates to revenues associated with converting the billing cycle from bi-monthly to monthly for Tropical tales sewer customers in 1994.
- 77 "Ratio Miscodes" relation to an erroneous infigition charge to a Marco Shores customer that was not corrected in the billing system or general ledger. However, this was corrected in the billing analysis.
- 8/ "Total Adjustments" is the sum of columns 1 7.
- 9' "E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.
- (g) Marco Island overbooked \$4732.42, Marco Shores 'underbooked' for the same amount. The impation account for Marco Island and Marco Shores had entries reversed.
- 11/ Total may not tie to other schedules due to rounding at the plant level vs. the summary level.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Water Customer Monthly Billing - 1994

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 1 of 1
Preparer: Bencini

FPSC

Explanation: Provide a schedule of monthly customers billed or served by class. (2) (6) (7) (1) (3) (4) (5) Line Month/ Multi-Family General Private Fire Other No. Year Residential Dwelling Service Protection (List) 1/ Total JAN94 105 1 53.332 1.318 40 54,799 FEB94 53,254 105 1.312 40 54.715 3 MAR94 39 53,763 103 1,310 55,219 APR94 53,935 104 1.325 39 55,407 MAY94 54,053 104 1,328 39 55,528 JUN94 54,185 106 1,331 38 55,664 JUL94 54,383 107 1,338 38 55,870 AUG94 54,667 106 1.318 38 56,133 9 SEP94 106 54,594 1,307 38 56.049 10 OCT94 54,854 106 1,305 38 56,307 11 NOV94 54.838 106 1,354 38 56,340 12 DEC94 38 54.822 106 1,404 56,374 13 TOTAL 650,680 1,264 15,950 463 668,405 14 MTH. AVE 39 54,223 105 1,329 55,700

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Public Authority.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1994

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-4 Page 1 of 1

Preparer: Bencini

Schedule Year Ended: 12/31/94

Water [x] Wastewater [] Interim [] Final []

Historical [x] Projected []

Docket No.: 950495-WS

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates	(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	\$15.00	N/A	N/A	N/A	
4	Premise Visit	\$10.00	N/A	N/A	N/A	
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is	N/A	N/A	
			greater.			

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [X] FPSC Non-uniform [] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	 (5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	9,560	\$143,390		Not Applicable	
2.	Normal Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	2,926	\$43,885			
3.	Violation Reconnection (Includes Bus. Hours and After Bus. Hours)	\$15	4,558	\$68,373			
4.	Premise Visit Charge (Includes Bus. Hours and After Bus. Hours)	\$10	2,808	\$28,065			
5.	Return Check Charge	\$15	1,242	\$18,634			
6.	Other Charges	\$15	0	\$0			
			21,094	\$302,347			

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewrater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 1 of 3 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	of Standard 1	ype Public F	re Hydrants E	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Statue	(GPM)	<u> 4" </u>	<u>6-</u>	6"	10"	12"	14"	Total	Notes
1	Amelia Island	Nassau	Fire Protection Provided	1,000	-	58	46		8	_	112	
2	Apache Shores	Citrus	No Fire Protection	-	-	-			-		-	
3	Apple Valley	Seminole	Fire Protection Provided	600		16	11	-	-	1	28	
4	Bay Lake Estates	Oscaola	No Fire Protection	-	-	-	-	•	-		-	
5	Beacon Hills	Duval	Fire Protection Provided	1,500		77	112	9	2	-	200	
6	Beecher's Point	Putnam	Fire Protection Provided	1,000	-	1	-		-	-	1	
7	Burnt Store	Charlotte/Lee	Fire Protection Provided	1,250	-	171	17	10	11		209	
8	Carlton Village	Lake	No Fire Protection	•	•	-	-	-	•	-		
9	Chuluota	Seminole	Fire Protection Provided	600	2	10	-		-		12	
10	Citrus Park	Marion	No Fire Protection	-	-			-	-		-	
11	Citrus Springs	Çitrus	Fire Protection Provided	1,500		2	1	-	2	-	5	
12	Crystal River Highlands	Citrus	No Fire Protection	-	-	-	-		-		-	
13	Daetwylar Shores	Orange	Fire Protection Provided	500		1	-	-	-	-	1	
14	Deltona Lakes	Volusia	Fire Protection Provided	2,500	-	-	-	-	-	-	-	[1]
15	Dol Ray Manor	Seminole	No Fire Protection	-			-	-	-			
16	Druid Hills	Seminole	Fire Protection Provided	600	•	1	-		•	-	1	
17	East Lake Harrie Estates	Laka	No Fire Protection	-				-	-		-	
18	Fern Park	Seminole	No Fire Protection		-	-	-	-	-	-		
19	Fern Terrace	Laka	No Fire Protection	-	•			-	-	-	-	
20	Fisherman's Haven	Mertin	No Fire Protection		-		-		-	-		
21	Fountains	Oscaola	Fire Protection Provided	500	-	6	-	-	-	-	6	
22	Fox Run	Mertin	Fire Protection Provided	500	1	3	-	-	-		4	
23	Friendly Center	Laka	No Fire Protection	-	-	-			-	-		
24	Golden Terrace	Citrus	No Fire Protection	-	•		-		-		_	
25	Gospel Island	Citrus	No Fire Protection		-	-			_		_	
26	Grand Terrace	Lake	Fire Protection Provided	500		12			-		12	
27	Harmony Homes	Seminole	No Fire Protection			-			-	-		
28	Hermits Cove	Putnam	No Fire Protection				-	_	-		_	
29	Hobby Hills	Lake	No Fire Protection									
30	Holiday Haven	Lake	No Fire Protection	-	-			-			_	
31	Holiday Heights	Orange	Fire Protection Provided	500		1			-		1	
32	Impenal Terraca	Laka	No Fire Protection	•		-	-		_		•	

Note: [1] The County owns the fire hydrants at this plant.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water (x) Wastewater []
Interim [] Final []
Historical (x) Projected []

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 2 of 3 Preparar: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(6)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	r of Standard 1	voe Public Fi	ire Hydrants E	ev Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	8"	8"	10"	12"	14"	Total	Notes
33	Intercession City	Osceola	No Fire Protection	-	-	-		-				
34	Interlechen Lake Est/Park Manor	Putnam	No Fire Protection		-	-		-	-	-	-	
35	Jungle Den	Volusia	No Fire Protection			-		-	-	-	-	
36	Keystone Heights	Clay	Fire Protection Provided	1,000		53	5	-	-	-	58	
37	Kingswood	Brevard	No Fire Protection	-	-		-		-	-		
38	Lake Ajay Estates	Osceola	Fire Protection Provided	500	-	1	2	-	-	-	3	
39	Lake Brantley	Seminole	No Fire Protection		-	-		-		-	-	
40	Lake Conway Park	Orange	No Fire Protection					-			-	
41	Leke Harriet	Seminole	Fire Protection Provided	600		4	-			-	4	
42	Lakeview Villas	Clay	No Fire Protection				-			-		
43	Leilani Heights	Martin	Fire Protection Provided	500	-	15					15	
44	Leisure Lakes	Highlanda	Fire Protection Provided	500	2	8		_	-		10	
45	Marco Shores	Collier	Fire Protection Provided	750	-	15		_			15	
46	Marion Daks	Marion	Fire Protection Provided	2,500	1	293	12	1	1	-	308	
47	Meredith Manor	Seminole	Fire Protection Provided	500		11	4	_	_	_	15	
48	Morningview	Lake	Fire Protection Provided	500	_	2	-	_			2	
49	Dak Forest	Citrus	Fire Protection Provided	500	_	6		-			6	
50	Qakwood	Brevard	No Fire Protection			-		-		-	_	
51	Palisades	Lake	Fire Protection Provided	500	1	7	3			-	11	
52	Palm Port	Putnam	No Fire Protection	-				_	_	-	•	
	Paim Terrace	Pasco	Fire Protection Provided	500	_	6		_		-	6	
	Psime Mobile Home Park	Lake	No Fire Protection	•						_	-	
-	Piccipla Island	Lake	No Fire Protection							_	_	
	Pine Ridge	Citrus	Fire Protection Provided	1,500	-	201	20	3			224	
	Pine Ridge Estates	Osceola	Fire Protection Provided	500	_	8	-	-			8	
	Piney Woods	Lake	No Fire Protection	300	-		-	-			-	
	Point O' Woods	Citrus	Fire Protection Provided	750		6	3				9	
	Pomona Park	Putnam	No Fire Protection	-	-	-		-			-	
	Postmaster Village	Clay	No Fire Protection		_	-	-	_	_	_	_	
	Quail Ridge	Lake	Fire Protection Provided	500	-	12	-	-	-		12	
	River Grove	Putnem	No Fire Protection	-	-	14	-	-	-		-	
	River Park	Putnam	No Fire Protection				-				_	
	Rosemont/Rolling Green	Citrus	Fire Protection Provided	500	3	-	-	-	-	-	3	
	Salt Springs	Marion	Fire Protection Provided	750		2		-	-	2	4	
	Samira Villes	Marion	No Fire Protection	750	•	2	•	-		2	-	

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater [}
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 3 of 3 Praparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summery is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	of Standard 1	Type Public Fl	re Hydrants B	ly Pipe Size Co	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	8"	10"	12"	14"	Total	Note
68	Silver Lake Est/Mestern Shores	Lake	Fire Protection Provided	750	-	21	18	-	2	-	41	
69	Silver Lake Cake	Putnam	No Fire Protection		•	-		•	-	-	-	
70	Skycrest	Lake	Fire Protection Provided	500	-	4	-	-	-		4	
71	St. John's Highlands	Putnam	No Fire Protection	•	-	-		-	-	-	-	
72	Stone Mountain	Leke	No Fire Protection	-		-	-		-	-	-	
73	Sugar Mill	Volusia	Fire Protection Provided	2,500	-	24	20	2	-	•	46	
74	Sugarmill Woods	Citrus	Fire Protection Provided	1,500	•	358	120	16	56	-	550	
75	Sunny Hills	Washington	Fire Protection Provided	500	-	10	-	-	•	•	10	
76	Sunshine Parkway	Lake	Fire Protection Provided	2,000	-	-			2	-	2	
77	Tropical Park	Osceola	No Fire Protection			-	-	-	-	,	-	
78	University Shores	Опилде	Fire Protection Provided	2,000	-	71	68	2	11		152	
79	Venetian Village	t.ek#	No Fire Protection		-	-	•	-	-	,	-	
30	Welaka/Saratoga Harbor	Putnam	No Fire Protection	-		-	-	-	-			
81	Westmont	Orange	No Fire Protection		-	-	-	-	-		-	
92	Windsong	Osceola	No Fire Protection	-	-	-			-		-	
53	Woodmere	Duval	Fire Protection Provided	1,500	-	41	29	-	2		72	
84	Wootens	Putnem	No Fire Protection			-		•	-	-	-	
85	Zephyr Shores	Pasco	Fire Protection Provided	500		6	-	-	•		6	
	Tatal 5000 Halfa at Disaste					4544	404					
	Total FPSC Uniform Plants				10	1544	491	43	97	3	2188	

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF PRIVATE FIRE PROTECTION SERVICE - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater [] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-7

Page 1 of 1

Preparer: Bencini

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(6)

(7)

(10)

(11) (12)

(13)

(14)

		Size and Type:												
No.	Plant		Risers:				Do	uble Ch	eck Val	ves:		Combined		
1		_2"_	_4"	6"	8*	10"	Total		_4"_	_6"_	_8"_	10"	Total	Combined Total
2	Amelia Island	2	17	9	4	-	32	-		-	-	-	-	32
3	Burnt Store	-	-	-	-		-	-	-	-	1	-	1	1
4	Keystone Heights	-	-	-	-	-	-	-	-	2	-	-	2	2
5	Meridith Manor	-		-	-		-	-	3	-	-	-	3	3
6	University Shores	-		-		-	-	-	-		-	1	1	1
7	Total		17				32							30

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [X] FPSC Non-uniform [] FPCS Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 1

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	MEREDITH MANOR:	
2 3 4	Kennedy, Newton Customer # 003182	Utility easement granted in exchange for water service at no charge.
5 6 7	PINEY WOODS:	
8	Caldwell, Charles Customer # 001385	Utility easement granted in exchange for water service at no charge.
10 11 12	UNIVERSITY SHORES:	
13 14 15	City of Winter Park, Fontana Apartments Customer # 006151	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing Inc., and SSU: City of Winter Park is bitled 70% of water consumption for sewer.
16 17	City of Winter Park, Laurel Springs Customer # 006150	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
18 19 20	City of Winter Park, Uni Gold Customer # 96793	Pursuant to Agreement between City of Winter Park, DCB Investment Co. Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
21 22	Hunter's Ridge Association, LTD	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
23 23 24	(9 accounts) Customer # 94522, 94523 94524, 94525, 94526,	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
25 26	94527, 94528, 94529, '94530	
27 26 29	WOODMERE:	
30 31	Park Recreation & Entertainment Customer # 007908	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country Club: \$100 monthly credit for water and sewer service, booked as easement rental.

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] or Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line	(2)	(3)	(4) Type of	(5) To W hom	(6)	(7) How Collected	(8) Type of
No.	Piant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
1	Total Company	FPSC Juris.	Rev. Assess. Fee	FPSC	4.5%	1/	None
2 3	Annie Valley	Seminole	Pub. Svc. Tax	Causti	4.00/	0/	-
4	Apple Valley Beacon Hills	Duval	Pub. Svc. Tax	County	4.0%	2/	Tax
5	Deacon miles	Duvai	Pub. SVC. Tax	City of Jack- sonville	10.0%	2/	Tax
6	Chuluota	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
7	Dol Ray Manor	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
8	Druid Hills	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
9	Fern Park	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
10	Harmony Homes	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
11	Holiday Heights	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
12	Keystone Heights	Clay	City Utility Tax	City of Key-	5.0%	2/	Tax
13				stone Heights			_
14	Lake Brantley	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
15	Lake Harriet Estates	Seminole	Pub. Svc. Tax	County	4.0%	2)	Tax
16	Meredith Manor	Seminole	Pub. Svc. Tax	County	4.0%	2/	Tax
17	Pomona Park	Putnam	City Utility Tax	City of	10.0% on	2/	Tax
18			-	Pomona Pk.	1st \$20	2/	_
19	University Shores	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
20	Westmont	Orange	Pub. Svc. Tax	County	10.0%	2/	Tax
21	Woodmere	Duvai	Pub. Svc. Tax	City of Jack- sonville	10.0%	2/	Tax

FPSC

Schedule: E-9

Preparer: Bencini

Page 1 of 1

^{1/} Included in overall cost of service.

^{2/} Billed as a separate line item on customer bills.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1994

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-10

Page 1 of 1 Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1) (2) (3) (4)

Line Present Proposed

No. Type of Charge Charges

Please see seperate Service Availability Schedules, Volume VIII.

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-11

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)
Line No.	For the Year Ended	Residential	General Service	Other	Total
	- Indu				

This schedule is not applicable.

٤

ő

CLASS A UTILITY COST OF SERVICE STUDY - 1994 Industrial Customers

Company: SSU / Total Company / Present Uniform

Schedule E-12 Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA proceduras and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Schedule E-13
Page 1 of 1
Preparer: Bencini

FPSC

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable. (4) (9) (10) (11) (1) (3) (6) (7) Number of Bills Consumption (MG) Schedule Year Revenues Line Projection Projected Projection Projected Present Proposed No. Class/Meter Size Historical Factor Schedule Year Historical Factor Schedule Year Rates Revenue Rates Revenue

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER RATES - 1994

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 1 of 8 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)
Line No.	Cless/Meter Size	Present Rates	Proposed Rates 1/
	RESIDENTIAL GENERAL SERVICE		
1	5/8"x3/4"	\$13.69	N/A
2	3/4"	\$13.69	N/A
3	1"	\$34.21	N/A
4	1 - 1/2"	\$68.43	N/A
5	2"	\$109.50	N/A
6	3"	\$219.00	N/A
7	4"	\$342.19	N/A
8	6"	\$684.36	N/A
9	6°	\$ 684.36	N/A
	GALLONAGE CHARGE / MG:		
10	All Galionage	\$4 .12	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates end the 1998 E-1 schedule for proposed final rates.

SCHEDULE OF WATER RATES - 1994

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 2 of 8 Preparer: Bencini

TOO OMOTHER TOO HOLD MANDEN POR HOLD MANDE TO

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

Present Propose

Class/Meter Size	Present Rates	Proposed Rates 1/
RESIDENTIAL GENERAL SERVICE		
5/8"x3/4"	\$8.58	N/A
3/4"	\$8.58	N/A
1"	\$21.43	N/A
1 - 1/2"	\$42.87	N/A
2"	\$68.58	N/A
GALLONAGE CHARGE / MG:		
Ali Galionage	\$2.21	N/A
	RESIDENTIAL. GENERAL SERVICE 5/8"x3/4" 3/4" 1" 1 - 1/2" 2" GALLONAGE CHARGE / MG:	Class/Meter Size Rates RESIDENTIAL, GENERAL SERVICE 5/8"x3/4" \$8.58 1" \$21.43 1 - 1/2" \$42.87 2" \$68.58 GALLONAGE CHARGE / MG:

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

SCHEDULE OF WATER RATES - 1994

Company: SSU / Bradford / Geneva Lake Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Page 3 of 8 Preparer: Bencini

FPSC

Schedule: E1-1

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(2) (1) Line Present Proposed No. Class/Meter Size Rates Rates 1/ RESIDENTIAL, GENERAL SERVICE MULTI-FAMILY \$4.97 N/A 1 5/8"x3/4" 2 N/A 3/4" \$7.45 3 \$12.42 N/A 4 1 - 1/2" \$24.83 N/A 5 2" \$39.73 N/A 6 3" \$79.45 N/A 7 \$124.14 N/A 8 \$248.29 N/A GALLONAGE CHARGE / MG: All Gallonage N/A 9 \$2.07

1/ Refer to the 1995 E-1 schedule for proposed interim rates and tha 1996 E-1 schedule for proposed final rates.

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 4 of 8 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

		1-7	\- /
Line No.	Class/Meter Size	Present Rates	Proposed Rates 1/
140.	Characterioral Card	Natos	102165 17
	- I		
	RESIDENTIAL, GENERAL SERVICE		
1	5/8"x3/4"	\$4.97	N/A
2	3/4"	\$7.45	N/A
3	1"	\$12.42	N/A
4	1 - 1/2"	\$24.83	N/A
5	2*	\$39.73	N/A
8	3"	\$79.45	N/A
7	4"	\$124.14	N/A
8	8"	\$248,29	N/A
	GALLONAGE CHARGE / MG:	•	
9	All Gallonage	\$2.07	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [X] Projected []

FPSC Schedule: E1-1 Page 5 of 8 Preparer: Bencini

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	117	\- /	ν-,
Line		Present	Proposed
No.	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL GENERAL SERVICE		
1	5/8"x3/4"	\$9.03	N/A
2	3/4"	\$13.55	N/A
3	1"	\$22.57	N/A
4	1 - 1/2"	\$45.13	N/A
5	2 [*]	\$72.22	N/A
6	3 ⁿ	\$144.43	N/A
7	4"	\$225.68	N/A
8	6 *	\$451.35	N/A
9	8"	\$722.16	N/A
10	10°	\$1,038.10	N/A
	GALLONAGE CHARGE / MG:		
11	All Gallonage	\$2.40	N/A
	FIRE PROTECTION		
12	4"	\$75.23	N/A
13	6 "	\$150.45	N/A
14	8"	\$240.72	N/A
15	10"	\$346.04	N/A
	GALLONAGE CHARGE / MG:		
16	All Gallonage	\$0.00	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 6 of 8 Preparer: Bencini

Explanati	ion: Provide a schedule of present, interim and pr	roposed rates. State residential wastewar	ter cap if one exists.	
	(1)	(2)	(3)	
Line		Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	RESIDENTIAL, GENERAL, MULTI-FAMILY	SERVICES 2/		
1	5/8"x3/4"	\$7.88	N/A	
2	3/4"	\$11.83	N/A	
3	1"	\$19.71	N/A	
4	1 - 1/2"	\$39.42	N/A	
5	2"	\$63.07	N/A	
6	3"	\$126.14	N/A	
7	4 ^H	\$197.09	N/A	
8	6"	\$394.19	N/A	
9	8"	\$630.70	N/A	
10	10°	\$906.63	N/A	
	GALLONAGE CHARGE / MG:			
11	All Galionage	\$2.96	N/A	
	BULK RAW WATER			
12	All Meter Sizes	\$120.89	N/A	
	GALLONAGE CHARGE / MG:			
13	All Gallonage	\$0.64	N/A	
	FIRE PROTECTION			
14	2"	\$21.02	N/A	
15	3"	\$42.05	N/A	
16	4"	\$6 5.70	N/A	
17	6"	\$131.40	N/A	
18	8"	\$210.23	N/A	
19	10"	\$302.21	N/A	
	GALLONAGE CHARGE / MG:			
20	All Gationage	\$0.00	N/A	
	-			

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

The rates are the same as General and Multi-Family.

^{2/} Irrigation is not a tarriffed class but is shown separately on the E-2 and E-13 Schedules.

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater {]
Interim [] Final {]
Historical [x] Projected { }
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Page 7 of 8 Preparer: Bencini

FPSC

Schedule: E1-1

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

(1) (2) (3)

Line No.	Class/Meter Size	Present Rates	Proposed Rates 1/
	RESIDENTIAL GENERAL SERVICE		
1	5/8"x3/4"	\$ 9.35	N/A
2	3/4"	\$9.35	N/A
3	1"	\$9.35	N/A
4	1 - 1/2"	\$9.35	N/A
5	2"	\$9.35	N/A
6	3"	\$9.35	N/A
7	4"	\$9.35	N/A
8	8*	\$9.35	N/A
9	8"	\$9.35	N/A
10	10"	\$9.35	N/A
	GALLONAGE CHARGE / MG:		
11	0 - 3,000	\$0.00	N/A
12	All Excess Gallons	\$ 0.94	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / St. Johns / Remington Forest

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 8 of 8 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	
Line No.	Class/Meter Size	Present Rates	Proposed Rates 1/	
	DECIDENTIAL CENEDAL CEDIACE			
1	RESIDENTIAL, GENERAL SERVICE Flet Rete	\$20.30	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 1 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period

etwee	n these revenues and boo (1)	(2)	(3)	(4)	(5)	(7)	must be made for ea (8)	(9)	(10)	
			1994 HISTORICAL	(PRESENT RA	TES)	PROPOSED 1/				
ine o.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues	
1	RESIDENTIAL									
2	5/8"x3/4"	33,711		\$13.69	\$461,504					
3	Gallonage Charge/MG	561		\$34.21	\$19,192					
5	All Gallonage		179,956	\$4.12	\$741,419					
6	Total RESIDENTIAL	34,272	179.956		\$1,222,115	N/A	N/A		N/A	
7	Ave cust/cons/bill/mth	2.856	5.251		\$35.66					
8	MULT1-FAMILY									
9	5/8"x3/4"	9		\$13.69	\$123					
l0 l1	1" 1 1/2"	255 313		\$34.21 \$68.43	\$8.724 \$21.419					
12	2"	168		\$109.50	\$18,396					
13	6*	12		\$684.36	\$8,212					
14	Gallonage Charge/MG									
15	All Gallonage	353	31,598	\$4.12	\$130,184		,			
16 17	Total MULTI-FAMILY Ave cust/cons/bill/mth	757 63	31,598 41,741		\$187,058 \$247,10	N/A	N/A		N/A	
17	AVE CUST/CONS/D1/1/IIICI	0.5	41.741		3247.10					
18 19	COMMERCIAL 5/8"x3/4"	236		\$13.69	\$3,231					
20	1"	89		\$34.21	\$3,231 \$3,045					
21	1 1/2"	38		\$68.43	\$2,600					
22	2"	12		\$109.50	\$1,314					
23	6"	12		\$684.36	\$8,212					
24	8"	12		\$684.36	\$8,212					
25 26	Gallonage Charge/MG All Gallonage		7,942	\$4.12	\$32,721					
27	Total COMMERCIAL	399	7,942	34.1 2	\$59,335	N/A	N/A		N/A	
28	Ave cust/cons/bill/mth	33	19.905		\$148.71				.,,,,	

FPSC

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] SCHEDULE: E2·1
Page 2 of 13
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RAT	ES)	PROPOSED 1/					
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues		
29	TOTAL ANNUALIZED SALES	DEVENUES			\$1,468,508						
30	UNBILLED REVENUE	KEVENOES			\$15.936						
31	OTHER REVENUE 2/				\$16,474						
32	TOTAL REVENUES				\$1,500,918				N/A		
33	TOTAL BOOKED REVENUES				\$1,191,779						
34	DIFFERENCE 3/				\$309,139						

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 3 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

	en these revenues and book (1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
	-	_	1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
ine O.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	2,324		\$8.58	\$19,940				
3	1" 1 1/2"	237 12		\$21.43 \$42.87	\$5,079 \$514				
5	Gallonage Charge/MG	12		\$42.07	\$314				
6	All Gallomage		18,765	\$2.21	\$41,471				
7	Total RESIDENTIAL	2,573	18,765		\$67,004	N/A	N/A		N/A
8	Ave cust/cons/bill/mth	214	7.293		\$26.04				
9	COMMERCIAL	10		* 0.50	\$103				
10 11	5/8"x3/4" 1"	12 24		\$8.58 \$21.43	\$103 \$514				
12	2"	12		\$68.58	\$823				
13	Gallonage Charge/MG								
14	All Gallonage		118	\$2.21	\$261				
15 16	Total COMMERCIAL Ave cust/cons/bill/mth	48	118 2.458		\$1,701 \$35,44	N/A	N/A		N/A
10	AVE CUST/CONS/DITT/IIICH	4	2.400		3 00,44				
17	TOTAL ANNUALIZED SALES F	REVENUES			\$68.705				
18	UNBILLED REVENUE				\$3,075				
19	OTHER REVENUE 2/				\$1,055				
20 21	TOTAL REVENUES TOTAL 800KED REVENUES				\$72,835				N/A
22	DIFFERENCE 3/				<u>\$72,626</u> \$209				

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 8-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

FPSC

COMPANY: SSU/BRADFORD / GENEVA LAKE ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[] Final[]

Historical(x) Projected()

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-1 Page 4 of 13

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (2) (4) (5) (7) (9) (1) (3) 1994 HISTORICAL (PRESENT RATES) PROPOSED 1/ Line Bills Bills Rate Revenues Class/Meter Size Consumption(MG) Rate Revenues Consumption(MG) No. RESIDENTIAL 5/8"x3/4" 1.000 \$4.97 \$4,970 3 Gallonage Charge/MG \$16,788 All Gallonage 8.110 \$2.07 1.000 8,110 \$21,758 N/A N/A N/A Total RESIDENTIAL Ave cust/cons/bill/mth 8.110 \$21.76 MULTI-FAMILY 36 \$39.73 \$1,430 8 9 Gallonage Charge/MG 2.352 \$2.07 All Gallonage \$4.869 N/A N/A Total MULTI-FAM1LY 2.352 \$6,299 N/A 11 Ave cust/cons/bill/mth 65.333 \$174.97 13 COMMERCIAL 1 1/2" 12 \$24.83 \$298 14 Gallonage Charge/MG 15 All Gallonage 520 \$2.07 \$1,076 N/A N/A 17 Total COMMERCIAL 520 \$1,374 N/A Ave cust/cons/bill/mth 43.333 \$114.50

18

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/BRADFORD / GENEVA LAKE ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 5 of 13
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explar	nation: Provide a calcul	ation of rev	renues at present a	nd proposed	rates using the billi	ng analysis. Explain a	ny differences		
betwee	en these revenues and bo	oked revenue	s. If a rate char	ge occured	during the test year.	a revenue calculation	must be made for ea	ach period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
14			1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
19	TOTAL ANNUALIZED SALES	REVENUES			\$29,431				
20	UNBILLED REVENUE				\$-789				
21	OTHER REVENUE 2/				\$495				
22	TOTAL REVENUES				\$29,137				N/A
23	TOTAL BOOKED REVENUES				\$22,B57				
24	DIFFERENCE 3/				\$6,280				

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/BRADFORD / KEYSTONE CLUB ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 6 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	TES)	 	PROPOSED	1/	
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(NG)	. <u>Rate</u>	Revenues
1 2	RESIDENTIAL 5/8"x3/4"	1,755		\$ 4.97	\$8,722				
3	1"	72		\$12.42	\$894				
4	1 1/2*	1		\$24.83	\$25				
5	Gallonage Charge/MG								
6	All Gallonage		11,493	\$2.07	\$23,791				
7	Total RESIDENTIAL	1.828	11,493		\$33,432	N/A	N/A		N/A
8	Ave cust/cons/bill/mth	152	6.287		\$18. 2 9				
9	TOTAL ANNUALIZED SALES	REVENUES			\$33,432				
10	UNSILLED REVENUE				\$10				
11	OTHER REVENUE 2/				\$1,070				
12	TOTAL REVENUES				\$34,512				N/A
13	TOTAL BOOKED REVENUES				\$33,953				
14	D1FFERENCE 3/				\$559		,		

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 8-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE: E2-1 Page 7 of 13 Preparer: Bencini

FPSC

Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[]

Supporting Schedules: E2-2, E2-3

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
			1994 HISTORICAL	(PRESENT R	ATES)		PROPOSEO	1/	
Line No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL 5/8"x3/4"	98,655		\$9.03	\$890.855				
2	5/6 X3/4 1*	36,055		\$22.57	\$813				
4	3"	9		\$144.43	\$1,300				
5	Gallonage Charge/MG	•							
6	All Gallonage		330,481	\$2.40	\$793.154				
7	Total RESIDENTIAL	98,700	330,481		\$1.686.122	N/A	N/A		N/A
8	Ave cust/cons/bill/mth	8,225	3.348		\$17.08				
9	COMMERCIAL								
10	5/8"x3/4"	2,731		\$9.03	\$24,661				
11	1"	670		\$22.57	\$15,122				
12	1 1/2"	329		\$45.13	\$14,848				
13	2"	352		\$72.22	\$25,421				
14	3*	71		\$144.43	\$10,255		,		
15	4"	12		\$225.68	\$2,708				
16	6"	12		\$451.35	\$ 5.416				
17	Gallonage Charge/MG		CO COA	10.40	£164 650				
18 19	All Gallonage Total COMMERCIAL	4,177	68,604 68,604	\$2.40	\$164.650 \$263.081				N/A
20	Ave cust/cons/bill/mth	348	16.424		\$62.98		11/7		

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LEE / LEHIGH Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []
Interim[] Final[]

Historical[x] Projected[] FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[] **FPSC**

SCHEDULE: E2-1 Page 8 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
			1994 HISTORICAL	(PRESENT R	ATES)		PROPOSED	1/	
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
21 22 23 24 25 26 27 28 29	FIRE PROTECTION 4" 6" B" 10" Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	75 37 24 3 139	0.000	\$75.23 \$150.45 \$240.72 \$346.04 \$0.00	\$5,642 \$5,567 \$5,777 \$1,038 \$0 \$18,024 \$129.67	N/A	N/A		N/A
30 31 32 33 34 35	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES TOTAL BOOKED REVENUES DIFFERENCE 3/	REVENUES			\$1,967,227 \$64,375 \$54,783 \$2,086,385 \$2,068,303 \$1B,082		,		N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates. 2/ Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 9 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

	(-/	(_)	(0)	(4)	(3)	(//	(0)	(3)	(10)
			1994 HISTORICAL	(PRESENT RA	NTES)		PROPOSED	1/	
No.	Class/Meter Size	Bills	Consumption(HG)	Rate	Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3 4 5 6 7 8 9	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	25.786 2 34.131 126 14 60.059 5.005	1.051.492 1.051.492 17.508	\$7.88 \$11.83 \$19.71 \$39.42 \$63.07 \$2.96	\$203,194 \$24 \$672,722 \$4,967 \$883 \$3,112,416 \$3,994,206 \$66,50	N/A	N/A		N/A
11 12 13 14 15 16 17 18 19 20 21	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	54 54 254 710 324 382 32 1.810	309,716 309,716 171,114	\$7.88 \$19.71 \$39.42 \$63.07 \$126.14 \$197.09 \$394.19 \$2.96	\$426 \$1,064 \$10,013 \$44,780 \$40,869 \$75,288 \$12,614 \$916,759 \$1,101,813 \$608,74	N/A	N/A		N/A

Calculation of Annualized Sales Revenues

SCHEDULE: E2-1 Page 10 of 13 Preparer: Bencini

FPSC

Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

Supporting Schedules: E2-2, E2-3

(10)

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		1994 HISTORICAL (PRESENT RATES)					PROPOSED 1/				
Line No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	8ills	Consumption(MG)	Rate	Revenues		
23	COMMERCIAL										
24	5/8"x3/4"	1,890		\$7.88	\$14,893						
25	1*	1,209		\$19.71	\$23,829						
26	1 1/2"	461		\$39.42	\$18,173						
27	2*	394		\$63.07	\$24,B50						
28 29	3"	12		\$126.14	\$1,514						
29	4"	25		\$197.09	\$4,927						
30	6"	25 24 12		\$394.19	\$9,461						
31	10"	12		\$906.63	\$10,880						
32	Gallonage Charge/MG		001 000	*0.00	*0.00 000						
33	All Gallonage	4 007	291.832	\$2.96	\$863,823	- N/A	41/4				
34 35	Total COMMERCIAL	4,027	291,832		\$972.350	N/A	N/A		N/A		
აა	Ave cust/cons/bill/mth	336	72.469		\$241.46						
36	IRRIGATION						,				
37	5/8"x3/4"	121		\$7.88	\$953						
38	1"	654		\$19.71	\$12,890						
39	1 1/2"	703		\$39.42	\$27,712						
40	2"	1.105		\$63.07	\$69,692						
41	3*	48		\$126.14	\$6,055						
42	4*	12		\$1 97. 0 9	\$2,365						
43	Gallonage Charge/MG										
44	All Gallonage		459,589	\$2.96	\$1,360,383						
45	Total IRRIGATION	2,643	459.589		\$1,480,050	N/A	N/A		N/A		
46	Ave cust/cons/bill/mth	220	173.889		\$559.99						

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 11 of 13
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

•	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
		1994 HISTORICAL (PRESENT RATES)					PROPOSED	1/	
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
47 48 49 50 51 52	RAW WATER 6" Gallonage Charge/MG All Gallonage Total RAW WATER Ave cust/cons/bill/mth	12 12 1	35,838 35,838 2986,50	\$120.89 \$0.64	\$1,451 \$22,936 \$24,387 \$2,032.25	N/A	N/A		N/A
53 54 55 56 57 58 59 60 61 62	FIRE PROTECTION 2/ 3" 4" 6" 8" 10" Gallonage Charge/MG All Gallonage Total FIRE PROTECTION Ave cust/cons/bill/mth	3 142 441 445 58 1.089 91	0.000	\$42.05 \$65.70 \$131.40 \$210.23 \$302.21 \$0.00	\$126 \$9,329 \$57,947 \$93,552 \$17,528 \$0 \$178,482 \$163.90	N/A	N/A		N/A
63 64 65 66 67 68	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES TOTAL BOOKED REVENUES DIFFERENCE 4/	REVENUES			\$7,751,288 \$216,657 \$24,250 \$7,992,195 \$8,143,890 \$-151,695				N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Fire Protection in the billing analysis (schedule E-14) shows consumption. It has been zeroed out since it is not charged) for presentation purposes.

^{3/} Refer to the 1994 8-4 schedule for detail of other revenue.

^{4/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPDSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ST. JOHN / PALM VALLEY

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC

SCHEDULE: E2-1 Page 12 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Historical[x] Projected[]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1994 HISTORICAL (PRESENT RATES)					PROPOSED 1/				
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues		
1	RESIDENTIAL										
2	5/8"x3/4"	2.2B8		\$9.35	\$21,393						
3	Full 3/4"	12		\$9.35	\$112						
4	1"	80 12		\$9.35	\$748						
5	2"	12		\$9.35	\$112						
6	Gallonage Charge/MG 0- 3000		6,418	\$0.00	\$0						
8	3001-All excess		15,556	\$0.00	\$14,623						
9	Total RESIDENTIAL	2.392	21,974	40.34	\$36,988	N/A	N/A		N/A		
10	Ave cust/cons/bill/mth	199	9.186		\$15.46						
11 12 13 14 15 16 17 18	COMMERCIAL 5/8"x3/4" 2" Gallonage Charge/MG 0- 3000 3001-All excess Total COMMERCIAL Ave cust/cons/bill/mth	72 12 ——————————————————————————————————	238 1,412 1,650 19,643	\$9.35 \$9.35 \$0.00 \$0.94	\$673 \$112 \$0 \$1,327 \$2,112 \$25.14	N/A	N/A		N/A		
19 20 21 22 23 24	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES TOTAL BOOKED REVENUES DIFFERENCE 3/	REVENUES			\$39,100 \$-35 \$1,077 \$40,142 \$38,409 \$1,733				N/A		

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ST. JOHN / REMINGTON FOREST

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 13 of 13 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explar betwee	nation: Provide a calcula on these revenues and boo	tion of rev	enues at present a s. If a rate chan	nd proposed	rates using the bill during the test year.	ing analysis. Explain a a revenue calculation	any differences must be made for e	ach period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
Line			1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	764		\$20.30	\$15,509				
3	1"	6		\$20.30	\$122				
4	Gallonage Charge/MG								
5	All Gallonage		9,310	\$0.00	\$0				
6	Total RESIDENTIAL	770	9.310		\$15.631	N/A	N/A		N/A
7	Ave cust/cons/bill/mth	64	12.091		\$20.30				
8	TOTAL ANNUALIZED SALES	REVENUES			\$15,631				
9	UNBILLED REVENUE				\$30B				
10	OTHER REVENUE 2/				\$376				
11	TOTAL REVENUES				\$16.315				N/A
12	TOTAL BOOKED REVENUES				\$15,644				
13	DIFFERENCE 3/				\$671				

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

THIS PAGE INTENTIONALLY LEFT BLANK

\$207.24

Company: SSU /CHARLOTTE /DEEP CREEK

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

[nterim[] Final[]

Historical(x) Projected(]

FPSC Uniform() FPSC Non-uniform(x) FPSC Non-jurisdiction()

SCHEDULE: E2-2 Page 1 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period, (1) (2) (3) (4) (5) (8) (9) (10) FEB - DEC 1994 Tot 1994 Hist Rev Line Historical Rates JAN - JAN 1994 Historical Rates Bills Consumption(MG) Rates No. Class/Meter Size 8ills Consumption(MG) Rates Revenues Revenues 1 RESIDENTIAL 30.940 \$6.29 \$194,613 \$204.145 5/8"x3/4" 2.771 \$3.44 \$9,532 2 514 \$15.72 \$8,080 \$8,484 3 47 \$8.60 \$404 Gallonage Charge/MG 164.179 \$691,194 \$747,991 5 All Gallonage 15.777 \$3,60 \$56.797 \$4.21 2,818 \$66,733 31,454 \$893,887 \$960,620 6 Total \$28.03 Average Bill MULTI-FAMILY 8 \$6.29 \$57 \$57 9 5/8"x3/4" 10 1" 22 \$8.60 \$189 233 \$15.72 \$3,663 \$3.852 1 1/2" \$17.20 \$447 287 \$31.44 \$9,023 \$9,470 11 26 \$7,748 \$8,133 12 2" 14 \$27.52 \$385 154 \$50.31 \$172 11 \$314.43 \$3,459 \$3,631 6" \$172.00 13 1 Gallonage Charge/MG 14 \$131,739 2,112 \$3.60 \$7,603 29,486 \$4.21 \$124,136 15 All Gallonage 63 694 \$148,086 \$156,882 16 Total \$8,796

17

Average Bill

\$1,468,508

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /CHARLOTTE /DEEP CREEK

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: 62-2 Page 2 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	
Lin	e	H1st	torical Rates	s JAN	- JAN 1994	H1	istorical Rate	es FE8	- DEC 1994	Tot 1994 Hist Rev	
No.	Class/Meter Size	Bills Co	onsumption(M	i) Rates	Revenues	B111s	Consumption()	(G) Rates	Revenues		
-		_		-				- —			
18	COMMERCIAL										
19	5/8"x3/4"	20		\$3.44	\$69	216		\$6.29	\$1,359	\$1,428	
20	1*	8		\$8.60	\$69	81		\$15.72	\$1,273	\$1,342	
21	1 1/2"	3		\$17.20	\$52	35		\$31.44	\$1,100	\$1,152	
22	2*	1		\$27.52	\$28	11		\$50.31	\$553	\$581	
23	6*	1		\$172.00	\$172	11		\$314.43	\$3,459	\$3,631	
24	8"	1		\$172.00	\$172	11		\$314.43	\$3,459	\$3,631	
25	Gallonage Charge/MG										
26	All Gallonage		674	\$3.60	\$2,426		7,269	\$4.21	\$30,602	<u>\$33,028</u>	
27	Total	34			\$2,988	365	-		\$41,805	\$44,793	
28	Average Bill									\$112.26	
29	TOTAL HIST. 1/	2,915	18,563		\$78.517	32,513	200,934		\$1,083,778	\$1.162,295	
30	INDEXING-RATE CHANGE									\$306 <u>,213</u>	

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

31 TOTAL 1994 ANNUALIZED SALES REVENUE 2/

NOTE: Numbers may not tie to other schedules due to rounding.

ő

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /VOLUSIA /ENTERPRISE

Docket No: 950495-WS

Schedule Year Ended 12/31/94

Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 3 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explana any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

(2) (3) (4)

	(*/	~~/	(0)	,	(4)	107
Line			listorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(MG)	Rates	Revenues	
			·			
1	RESIDENTIAL					
2	5/8"x3/4"	2,324		\$8.58	\$19.940	\$19.940
3	1*	237		\$21.43	\$5.079	\$5,079
4	1 1/2"	12		\$42.87	\$514	\$514
5	Gallonage Charge/MG					
6	All Gallonage		18,765	\$2.21	\$41,471	<u>\$41,471</u>
7	Total	2,573			\$67,004	\$67,004
8	Average Bill					\$26.04
9	COMMERCIAL_					
10	5/8"x3/4"	12		\$8.58	\$103	\$103
11	1"	24		\$21.43	\$514	\$514
12	2*	12		\$68.58	\$823	\$823
13	Gallonage Charge/MG					
14	All Gallonage		118	\$2.21	\$261	\$261
15	Total	48			\$1,701	\$1,701
16	Average Bill					\$35.44
17	TOTAL HIST. 1/	2,621	18,883		\$68,705	\$68,705
18	INDEXING-RATE CHANGE					\$0
19	TOTAL 1994 ANNUALIZED	SALES	REVENUE 2/			\$68,705

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial month rate changes that are not reflected in Total Historical per this schedule.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /BRADFORD /GENEVA LAKE ESTATES

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2
Page 4 of 12
Preparer: Bencini
Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	
Line			istorical Rates		- JUL 1994		istorical Rates		DEC 1994	Tot 1994 Hist Rev	
No.	Class/Meter Size	81115	Consumption(HG)	Rates	Revenues	81115	Consumption(HG)	Kates	Revenues		
_				_							
2	RESIDENTIAL 5/8"x3/4"	589		\$4.87	\$2,868	411		\$4.97	\$2,043	\$4,911	
3	Gallonage Charge/MG	***			,						
4	All Gallonage _		5,011	\$2.03	\$10,172		3.099	\$2.07	\$6,415	\$16.587	
5	Total	589			\$13,040	411			\$8,458	\$ 21. 49 8	
6	Average 8ill									\$21.50	
7	MULTI-FAMILY										
8	2**	21		\$38.96	\$818	15	!	39.73	\$596	\$1,414	
	Gallonage Charge/MG						-14		** ***	** 007	
10	All Gallonage	21	1.541	\$2.03	\$3,128 \$3,946	15	_ B11	\$2.07	\$1,679 \$2,275	\$4,807 \$6,221	
11 12	Total Average Bill	21			#3,340	15			42,273	\$172.81	
••	Aserage of the									72,210-	
12	COMMERCIAL										
13 14	1 1/2"	7		\$24.35	\$170	5	!	\$24.83	\$124	\$294	
15	Gallonage Charge/MG	•									
16	All Gallonage		283	\$2.03	\$574		237	\$2.07	\$491	\$1,065	
17	Total	7			\$744	5			\$615	\$1,359	
18	Average 8ill									\$113.25	
19	TOTAL HIST. 1/	617	6,835		\$17,730	431	4.147		\$11,348	\$29,078	
20	INDEXING-RATE CHANGE									\$353	
21	TOTAL 1994 ANNUALIZED	SALES	REVENUE 2/							\$29,431	

^{1/} Oifference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE: E2-2 Page 5 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /BRADFORD /KEYSTONE CLUB ESTATES

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a	rate change occurred	during			calculation must be		, .	2.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Line	•	Н	istorical Rates	JAN :	· JUL 1994	H	istorical Rates	AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption(MG	i) Rates	Revenues	B111s	Consumption(MG)	Rates	Revenues	
				- —						
1	RESIDENTIAL									
2	5/8"x3/4"	1.026		\$4.87	\$4.997	729		\$4.97	\$3,623	\$8,620
3	1*	42		\$12.18	\$512	30		\$12.42	\$373	\$885
4	1 1/2"	1		\$24.35	\$24					\$24
5	Gallonage Charge/MG									
6	All Gallonage		7.178	\$2.03	\$14,571		4,315	\$2.07	\$8,932	\$23,503
7	Total	1,069			\$20,104	759			\$12,928	\$33,032
8	Average Bill									\$18.07
9	TOTAL HIST. 1/	1,069	7,178		\$20.104	759	4,315		\$12,928	\$33,032
10	INDEXING-RATE CHANGE						,			\$400
11	TOTAL 1994 ANNUALIZEO	SALES	REVENUE 2/							\$33,432

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

S

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE: E2-2 Page 6 of 12 Preparer: Bencini Supporting Schedule: E2-3

Company: SSU /LEE /LEHIGH

Docket No: 950495-WS

Schedule Year Ended 12/31/94

Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)
ine		<u> </u>	<u>Istorical Rates</u>	JAN	- DEC 1994	Tot 1994 Hist Rev
lo.	Class/Meter Size	B1))s	Consumption(MG)	Rates	Revenues	
1	RESIDENTIAL					
2	5/8"x3/4"	98.655		\$9.03	\$890.855	\$890,855
3	1.	36		\$22.57	\$813	\$813
4	3"	9	:	144.43	\$1,300	\$1,300
5	Gallonage Charge/MG					
6	All Gallonage		330.481	\$2.40	\$793.154	<u>\$793,154</u>
7	Total	98.700	_		\$1.686.122	\$1,686,122
8	Average Bill					\$17.08
9	COMMERCIAL					
0	5/8"x3/4"	2.731		\$9.03	\$24,661	\$24,661
1	1*	670		\$22.57	\$15.122	\$15,122
2	1 1/2"	329		\$45.13	\$14.848	\$14.848
3	2"	352		\$72.22	\$25,421	\$25,421
4	3*	71	1	144.43	\$10,255	\$10,255
5	4"	12		225.68	\$2,708	\$2,708
6	6"	12	9	451.35	\$5,416	\$5,416
7	Gallonage Charge/MG					
В	All Gallonage		68.604	\$2.40	\$164,650	\$164,650
9	Tota1	4,177			\$263,081	\$263,081
0.	Average Bill					\$62.98

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /LEE /LEHIGH
Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-2 Page 7 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explana any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)
L1ne			historical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
io.	Class/Meter Size	B111s	Consumption(MG) Rates	Revenues	
1	FIRE PROTECTION					
2	4"	75		\$75.23	\$5,642	\$5,642
3	6"	37	:	150.45	\$5,567	\$5,567
4	8"	24	!	240.72	\$5,777	\$5,777
5	10"	3	!	346.04	\$1,038	\$1,038
6	Gallonage Charge/MG					
7	All Gallonage		_ 0	\$0.00	\$0	<u>\$0</u>
8	Total	139			\$18,024	\$18,024
9	Average Bill					\$129.67
10	TOTAL HIST. 1/	103,016	399,085		\$1,967,227	\$1,967,227
1	INDEXING-RATE CHANGE					\$0
2	TOTAL 1994 ANNUAL 1ZEI	SALES	REVENUE 2/			\$1,967,227

1/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule,

2/ Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE: E2-2 Page 8 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /COLLIER /MARCO ISLAND

Docket No: 950495-MS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period. (1) (2) (5) (6) (7) (8) (9) (10) (3) (4) JAN - JUL 1994 AUG - DEC 1994 Line Historical Rates Historical Rates Tot 1994 Hist Rev No. Class/Meter Size Bills Consumption(HG) Rates Bills Consumption(HG) Rates Revenues Revenues RESIDENTIAL 5/8"x3/4" \$90.234 \$208,574 2 14,646 \$8.08 \$118.340 11,140 \$8.10 3 Full 3/4* 2 \$12.16 \$24 \$24 20,089 \$20.20 \$405,798 14.042 \$20.26 \$284,491 \$690,289 1 1/2" \$40.40 5 77 \$3,111 49 \$40.52 \$1,985 \$5,096 6 \$64.64 \$582 5 \$64.84 \$324 \$906 Gallonage Charge/MG All Gallonage 697,571 \$3.04 \$3,189,560 \$3.03 \$2,113,640 353,921 \$1,075,920 9 Total 34.821 \$2,641,471 25.238 \$1,452,978 \$4,094,449 10 Average Bill \$68.17 MULTI-FAMILY 5/8"x3/4" \$B.08 \$234 \$8.10 \$203 \$437 12 29 25 34 \$20.20 \$687 13 1* 20 \$20.26 \$405 \$1,092 14 1 1/2" 147 \$40.40 \$5,939 107 \$40.52 \$4,336 \$10,275 15 411 299 2" \$64.64 \$26,567 \$64.84 \$19.387 \$45,954 16 3" 1B3 \$129.28 \$23,658 141 \$129.67 \$18,283 \$41,941 17 4" 228 \$202.00 \$46,056 154 \$202.61 \$31,202 \$77,258 18 6" 21 \$404.00 \$8,484 11 \$405.22 \$4,457 \$12,941 19 Gallonage Charge/MG \$939,396 20 All Gallonage 214,421 \$3.03 \$649,696 95,296 \$3.04 \$289,700 21 Total 1,053 \$761,321 757 \$367,973 \$1,129,294 22 Average Bill \$623.92

4

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /COLLIER /MARCO ISLAND

Docket No: 950495-WS

Schedule Year Ended 12/31/94

Water [x] Wastewater []

Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-2 Page 9 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Lin	e	+	distorical Rates	s JA	1 - JUL 1994	H	<u>istorical Rate</u>	s AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	8111s	Consumption(M	a) Rates	Revenue s	81115	Consumption(M	G) Rates	Revenues	
23	COMMERCIAL							-0.10	45 407	
24	5/8"x3/4"	1.099		\$8.08	\$8,880	791		\$8.10	\$6.407	\$15,287
25	1"	715		\$20.20	\$14.443	494		\$20.26	\$10,008	\$24,451
26	1 1/2"	273		\$40.40	\$11.029	188		\$40.52	\$7.618	\$18.647
27	2"	225		\$64.64	\$14,544	169		\$64.84	\$10.958	\$25,502
28	3"	7		\$129.28	\$905	5		\$129.67	\$648	\$1,553
29	4"	15		\$202.00	\$3,030	10		\$202.61	\$2,026	\$5,056
30	6"	14		\$404 .00	\$5.656	10		\$405.22	\$4,052	\$9,708
31	10"	7		\$929.20	\$6,504	5		\$932.01	\$4,660	\$11.164
32	Gallonage Charge/MG									
33	All Gallonage		181.827	\$3.03	\$550 .936		110.004	\$3.04	\$334,412	<u>\$885,348</u>
34	Total	2,355			\$615,927	1.672			\$380.789	\$996,716
35	Average Bill									\$247.51
36	IRRIGATION									4070
37	5/8"x3/4"	71		\$8.08	\$574	50		\$8.10	\$405	\$979
38	1"	386		\$20.20	\$7,797	268		\$20.26	\$5,430	\$13.227
39	1 1/2*	409		\$40.40	\$16,524	294		\$40.52	\$11,913	\$28,437
40	2"	645		\$64.64	\$41,693	460		\$64.84	\$29,826	\$71,519
41	3*	28		\$129.28	\$3,620	20		\$129.67	\$2,593	\$6.213
42	4*	7		\$202.00	\$ 1, 41 4	5		\$202.61	\$1,013	\$2,427
43	Gallonage Charge/MG									
44	All Gallonage		305.611	\$3.03	\$926,001		153.979	\$3.04	<u>1468.096</u>	\$1,394,097
45	Total	1,546			\$997,623	1.097			\$519,276	\$1,516,899
46	Average 8ill									\$573.93
	B									
47	RAW WATER	_		****	****	_		****	***	43.440
48	6"	7		\$120.53	\$844	5		\$120.89	\$604	\$1,448
49	Gallonage Charge/MG		00.000	*0. 4-	*** ***			** **	40 704	*22.025
50	All Gallonage		22,238	\$0.64	\$14,232		13,600	\$0.64	\$8,704	\$2 <u>2,936</u>
51	Total	7			\$15.076	5			\$9,308	\$24.384
52	Average Bill									\$2,032.00

(10)

Company: SSU /COLLIER /HARCO TSLAND

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 10 of 12 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explana any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

Line	2	H	<u> Hstorical Rate</u>	NAL 29	- JUL 1994	H	istorical Rate	s AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption((G) Rates	Revenues	B111s	Consumption(M	G) Rates	Revenues	
	-									
53	FIRE PROTECTION									
54	3"	3		\$43.09	\$129					\$129
55	4*	87		\$67.33	\$5,858	55		\$67.53	\$3,714	\$9.572
56	6"	258		\$134.67	\$34.745	183		\$135.08	\$24,720	\$59,465
57	8"	259		\$215.47	\$55,807	186		\$216.12	\$40,198	\$96,005
58	10"	35		\$309.73	\$10.841	23		\$310.67	\$7,145	\$17,986
59	Gallonage Charge/MG									
60	All Gallonage		_ 0	\$0.00	<u>\$0</u>		_ 0	\$0,00	\$0	\$0
61	Total	642			\$107,380	447			\$75,777	\$183,157
62	Average Bill									\$168.19
63	TOTAL HIST. 1/	40,424	1,421,668		\$5,138,798	29,216	726,800		\$2,806,101	\$7.944.899
64	INDEXING-RATE CHANGE									\$-193,611
65	TOTAL 1994 ANNUAL1ZE	O SALES	REVENUE 2/							\$7,751,288

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /ST. JOHN /PALM VALLEY

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-2 Page 11 of 12 Preparer: Bencini

Supporting Schedule: £2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
Lin	e	н	listorical Rates	JAN	- MAY 1994	н	istorical Rates	JUN	- JUL 1994	н	istorical Rates	AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size		Consumption(MG)		Revenues	8i11s	Consumption(MG)	Rates	Revenues	Bills	Consumption(MG) Rates	Revenues	
_	DECIDENTIAL													
2	RESIDENTIAL 5/8*x3/4*	948		\$8.71	\$8,257	37 9		\$9.10	\$3,449	961		\$9.35	\$8,985	\$20,691
3	Full 3/4"	5		\$8.71	\$44	2		\$9.10	\$18	5		\$9.35	\$47	\$109
4	1*	31		\$8.71	\$270	14		\$9.10	\$127	35		\$9.35	\$327	\$724
5	2-	5		\$8.71	\$44	2		\$9.10	\$18	5		\$9.35	\$47	\$109
6	Gallonage Charge/MG	J		40.71	*			*****		_				
7	0 - 3000		2,656	\$0.00	\$0		1.101	\$0.00	\$0		2,661	\$0.00	\$0	\$0
8	3001 - All Excess		6.704	\$0.87	\$5,832		3.386	\$0.91	\$3,081		5,467	\$0.94	\$5,139	\$14,052
9	Total	989	_		\$14,447	397	•		\$6.693	1.006	_		\$14,545	\$35,685
10	Average Bill													\$14.92
11	COMMERCIAL													
12	5/8"x3/4"	30		\$8.71	\$261	12		\$9.10	\$109	30		\$9.35	\$281	\$651
13	2*	5		\$8.71	\$44	2		\$9.10	\$18	5		\$9.35	\$47	\$109
14	Gallonage Charge/MG													
15	0 - 3000		99	\$0.00	\$0		37	\$0.00	\$0		103	\$0.00	\$0	\$0
16	3001 - All Excess		476	\$0.87	\$414		282	\$0.91	\$257		_ 654	\$0.94	<u>\$615</u>	\$1,286
17	Total	35			\$719	14			\$384	35			\$943	\$2.046
18	Average 8ill													\$24.36
19	TOTAL HIST. 1/	1.024	9.935		\$15,166	411	4,806		\$7,077	1.041	8,885		\$15.488	\$37.731
20	INDEXING-RATE CHANGE													\$1,369
21	TOTAL 1994 ANNUALIZE	D SALES	REVENUE 2/											\$39,100

^{1/} Difference from Total Booked Revenues per £2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /ST. JOHN /REMINGTON FOREST

Docket No: 950495-WS

Schedule Year Ended 12/31/94

Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-2 Page 12 of 12

Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
Line	•	H	istorical Rates	JAN	· NAY 1994	H	istorical Rates	JUN	- JUL 1994	H	istorical Rates	AUG	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(HG)	Rates	Revenues	Bills	Consumption(MG)	Rates	Revenues	B111s	Consumption(MG)	Rates	Revenues	
					1				***************************************					
1	RESIDENTIAL													
2	5/8"x3/4"	303		\$18.90	\$5,727	128		\$19.75	\$2,528	333		\$20.30	\$6,760	\$15,015
3	1"					1		\$19.75	\$20	5		\$20.30	\$102	\$122
4	Gallonage Charge/MG													
5	All Gallonage		3,346	\$0.00	\$0		2,128	\$0.00	\$0		3,836	\$0,00	\$0	\$0
6	Total	303	-		\$5,727	129	-		\$2,548	338	-		\$6.862	\$15,137
7	Average Bill								,					\$19.66
ŕ														717.00
8	TOTAL HIST. 1/	303	3,346		\$5,727	129	2,128		\$2,548	338	3,836		\$6,862	\$15,137
9	INDEXING-RATE CHANGE													\$494
10	TOTAL 1994 ANNUALIZE	SALES I	REVENUE 2/											\$15,631

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES **Summery of Revenue Reconciliation**

Company: SSU/ FPSC Jurisdiction/ Present Non-Uniform Docket No: 950496-WS

Schedule Year Ended 12/31/94

Water(x | Wastowstor() interim(] Final()

Historical(x) Projected()

FPSC Uniform() FPSC Non-uniform(x) FPSC Non-jurisdiction()

FPSC

SCHEDULE: E2-3 Page 1 of 1 Preparer: Bencini

Recep Schedules: E2-1, E2-2

Explan	ation: Provide a echedule to reconcile the differe	ance between o	alculated and book	oed revenues.												
			(1)	(2)	(3)	(4)		(5)	(6)	(7)		(6)		(9)		(10)
Line			HDEONG-	CATCH UP	EXCESS REFUND	ZERO		OUT OF PERIOD	BILLING CYCLE	RATE		TOTAL		E3-1		EXPLAINED (ARBANCE
No.	PLAIT	RAT	E CHANGE 1/	BILLING 2/	ACCRUAL 3/	USAGE 4	_ AD.	JUSTMENTS SI	CONVERSIONS &	MISCODES 7/	_AD	JUSTMENTS N	DB	FFERENCE W		AMOURT
	DEEP CREEK		(306,213,00)									(306,213.00)		309,139.47		2,926.47
2	ENTERPRISE	•	(300'5 (3'00)								i	(300,2 (3.00)	i	209.29	i	209.29
3	GENEVA LAKE ESTATES	š	(353.00)				8	(5,807.34)			š	(6,160.34)	8	6,290.55	8	120.21
4	KEYSTONE CLUB ESTATES	\$	(400.00)								8	(400.00)	- 8	558.53	8	158.53
5	LEHIĞH	\$	-					(197.52)			8	(197.52)	8	18,061.93	8	17,884.41
6	MARCO ISLAND 10/	\$	193,611.00								8	193,611.00	8	(151,894.20)	8	41,916.80
7	PALM VALLEY	\$	(1,369.00)			\$ (1.83)				\$	(1,370.83)		1,732.77	8	381.94
Ė	REMINGTON FOREST	á	(494.00)			•	•				\$	(494.00)	. 5	671.54	\$	177.54
	Total FPSC Present Mon-Uniform	\$	(115 218 00)	5 .	\$.	\$ (1.63	1 \$	(6 004 86)	1 .	1	Š	(121,224,69)	\$	184,979,88	2	63,755,19

- 1/ "Indexing Rate Change" is the amount of revenue attributed to amusaitizing rates which resulted the title 1994 index and Pass through filling. This column accounts for the difference between the annualized indexed revenues. and the revenues billed in effect prior to the indexing.
- 2/ "Catch-Up Billing" is the amount of revenue attributed to the difference between booked and amusaitzed revenues as the result of having an extra billing cycle (consumption only) in 1993 in order to have our read date and bill date tall within len days of one enother. Some of these bills were booked in January of 1994 which is not reflected in our annualized revenues.
- 3/ "Excess Return Accrual" is the amount of revenue stiributed to an over accrual of return amount made for Docket No. 920199-WS.
- 4/ "Zero Usage" amounts are billing adjustments such as credits, debits for back bills, etc. These adjustments have no associated usage on the billing analysis, but have revenues shown on our bodies.
- 5/ "Out of Pariod Adjustments" are zero usage type of adjustments that posted in 1994 to correct for a prior calendar year.
- 6/ "Billing Cycle Conventions" relates to revenue, associated with conventing the billing cycle from bill-monthly for Tropical Isles sewer customers in 1994.
- 7/ "Ratia Miscodes" relates to an errorsous infigation charge to a Marco Shortes customer that was not corrected in the billing system or general ledger. However, this was corrected in the billing enalysis.
- B/ "Total Adjustments" is the sum of columns 1 7.
- B/ "E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.
- 10' Marco Mand overbooked \$4732.42, Marco Shores 'underbooked' for the same emount. The intigation account for Marco Island and Marco Shores had entries reversed.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 1 of 8
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
ine	Month/		Multi-Family	Gene r al	Private Fire	Other		
ю.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN94	2.818	63	34	0	0	2.915	
2	FE894	2,784	63	33	0	0	2,880	
3	MAR94	2,820	63	33	0	0	2.916	
4	APR94	2,838	63	33	0	0	2,934	
5	MAY94	2,845	63	33	0	0	2,941	
6	JUN94	2,863	63	33	0	0	2,959	
7	JUL94	2.879	64	34	0	0	2.977	
8	AUG94	2,88B	63	34	0	0	2,985	
9	SEP94	2,859	63	33	0	0	2,955	
10	0CT94	2.892	63	33	0	0	2,988	
11	NOV94	2,885	63	33	0	0	2,9B1	
12	DEC94	2.901	63	33	0	0	2,997	
10	TOTAL	04 070	252	200		0	25 420	
13 14	<u>total</u> MTH. Ave	<u>34,272</u> 2,856		399	0	0	<u>35,428</u> 2,952	

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/VOLUSIA /ENTERPRISE

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

SCHEDULE: E-3 Page 2 of 8

FPSC

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	Genera1	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN94	208	0	4	0	0	212	
2	FEB94	209	0	4	0	0	213	
3	MAR94	210	0	4	0	0	214	
4	APR94	211	0	4	0	0	215	
5	MAY94	216	0	4	0	0	220	
6	JUN94	216	0	4	0	0	220	
7	JUL94	218	0	4	0	0	222	
8	AUG94	215	0	4	0	0	219	
9	SEP94	216	0	4	0	0	220	
10	OCT94	218	0	4	0	0	222	
11	NOV94	219	0	4	0	0	223	
12	DEC94	217	0	4	0	0	221	
13	TOTAL	2.573	0	48	0	0	2,621	
14	MTH. AVE	214	0	4	0	0	218	

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/BRADFORD /GENEVA LAKE ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 3 of 8

FPSC

Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.									
	(1)	(2)	(3)	(4)	(5)	(6)	(7)		
Line	Month/	B. Adamson	Multi-Family	General	Private Fire	Other	Taka 1		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>		
	24.004					•	0.7		
1	JAN94	83	3	1	0	0	87		
2	FE894	83	3	1	0	0	87		
3	MAR94	86	3	1	0	0	90		
4	APR94	86	3	1	0	0	90		
5	MAY94	87	3	1	0	0	91		
6	JUN94	83	3	1	0	0	87		
7	JUL94	81	3	1	0	0	85		
8	AUG94	85	3	1	0	0	89		
9	SEP94	81	3	1	0	0	85		
10	OCT94	82	3	1	0	0	86		
11	NOV94	81	3	1	0	0	85		
12	DEC94	82	3	1	0	0	86		
13	<u>TOTAL</u>	1,000	36	12	0	0	1,048		
14	MTH. AVE	83	3	1	0		87		

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/BRADFORD /KEYSTONE CLUB ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 4 of 8
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (5) (6) (1) (2) (7) (3) (4) Line Month/ Multi-Family General Private Fire Other No. Year Residential Dwelling Service Protection (List) 1/ Total JAN94 152 0 0 152 2 FEB94 153 0 153 3 MAR94 152 0 152 4 APR94 152 0 152 MAY94 151 151 152 6 JUN94 152 157 JUL94 157 8 152 AUG94 152 9 SEP94 149 149 10 OCT94 152 152 11 152 NOV94 0 152 154 12 DEC94 0 0 154 1,828 13 TOTAL 1,828 MTH. AVE 152 14 152

^{1/} Includes Irrigation, Public Authority and Raw Water.

FPSC

Company: SSU/LEE /LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 5 of 8
Preparer: 8encini

Explanation: Provide a schedule of monthly customers billed or served by class. (7) (1) (2) (6) (3) (4) (5) Line Month/ Multi-Family General Private Fire **Other** Dwelling No. Year Residential Service Protection (List) 1/ Total 8.028 JAN94 339 11 0 8,378 2 8,266 352 8,629 FEB94 11 0 3 MAR94 8.777 370 12 0 9,159 4 APR94 8,208 343 11 8.562 5 MAY94 8.156 339 11 8,506 6 8,171 8,522 JUN94 11 340 7 JUL94 8,129 11 344 8,484 8 AUG94 8,176 350 11 8,537 9 SEP94 8,185 352 12 8,549 10 OCT94 8,204 350 13 8,567 11 NOV94 8,216 350 13 8.579 12 0EC94 8,184 0 348 12 8.544 98,700 13 TOTAL 0 4.177 139 103,016 8,225 14 MTH. AVE 348 12 8.585

 $^{1/\ \}mbox{Includes Irrigation, Public Authority and Raw Water.}$

Company: SSU/COLLIER /MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

552

SCHEDULE: E-3
Page 6 of 8
Preparer: Bencini

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	Total	,
						<u></u>		
1	JAN94	4,935	150	336	93	220	5.734	
2	FEB94	4,935	150	336	93	221	5,735	
3	MAR94	4,964	151	338	93	224	5.770	
4	APR94	4,968	150	338	92	222	5,770	
5	MAY94	5,008	150	335	92	223	5,808	
6	JUN94	4,998	151	338	90	222	5,799	
7	JUL94	5,013	151	334	89	221	5,808	
8	AUG94	5,019	151	333	89	221	5,813	
9	SEP94	5,025	153	338	90	224	5,830	
10	0CT94	5,056	151	330	89	219	5,845	
11	NOV94	5,067	151	336	90	219	5,863	
12	DEC94	5,071	151	335	89	219	5,865	
13	TOTAL	60,059	1,810	4,027	1,089	2,655	69,640	
14	MTH. AVE	5,005	151	336	91	221	5,803	

 ${\tt NOTE:}$ May not tie to other schedules due to monthly rounding.

1/ Includes 1rrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /PALM VALLEY

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[]

Historical(x) Projected()

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 7 of 8
Preparer: 8encini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	Year	Residential		<u>Service</u>	Protection	(List) 1/	<u>Total</u>
1	JAN94	198	0	7	0	0	205
2	FEB94	195	0	7	0	0	202
3	MAR94	196	0	7	0	0	203
4	APR94	197	0	7	0	0	204
5	MAY94	203	0	7	0	0	210
6	JUN94	197	0	7	0	0	204
7	J U L94	200	0	7	0	0	207
8	AUG94	201	0	7	0	0	208
9	SEP94	200	0	7	0	0	207
10	OCT94	202	0	7	0	0	209
11	NOV94	204	0	7	0	0	211
12	DEC94	199	0	7	0	0	206
13	TOTAL	2.392	0	84	0	0	2.476
14	MTH. AVE	199	0	· 7	0	0	206

^{1/} Includes Irrigation, Public Authority and Raw Water.

Company: SSU/ST. JOHN /REMINGTON FOREST

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform(x) FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 8 of 8
Preparer: 8encini

Explanation: Provide a schedule of monthly customers billed or served by class.									
	(1)	(2)	(3)	(4)	(5)	(6)	(7)		
Line	Month/		Multi-Family	Genera1	Private Fire	Other		•	
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	<u>Total</u>		
1	JAN94	60	0	0	0	0	60		
1		62	Ü	U	U	U	62		
2	FEB94	61	U	0	0	0	61		
3	MAR94	61	0	0	0	0	61		
4	APR94	58	0	0	0	0	58		
5	MAY94	61	0	0	0	0	61		
6	JUN94	64	0	0	0	0	64		
7	JUL94	65	0	0	0	0	65		
8	AUG94	66	0	0	0	0	66		
9	SEP94	66	0	0	n n	n n	66		
10	OCT94	67	n	n	n	n	67		
11	NOV94	69	0	0	0	0	69		
			0	0	0	0			
12	DEC94	<u>70</u>	U			U	70		
13	TOTAL	770	n	n	0	n	770		
14	MTH. AVE	64					64		
14	MIN. AVE	04	U	U	U	U	64		

^{1/} Includes Irrigation. Public Authority and Raw Water.

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

E	P	2	C
_	_	-	•

Schedule E-4 Page 1 of 8 Preparer: Bencini

(1)			(2) Present Rates	(3) Proposed	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/ A	N/A
3	Violation Reconnection	\$15.00	NA	N/A	N/A
4	Premise Visit	\$10.00	N ∕A	N/A	N/A
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check,	N/A	N/A
			whichever is greater.		

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

(1)		(2) Present Ra	des	(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	\$15.00	N/A	N/A	N/A	
4	Premise Visit	\$10.00	N/A	N/A	N/A	
5	Return Check Charge	\$15.00 or 5% of the amount	N/A	N/A	N∕A	
		of the check whichever is greater.	•			

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Bradford / Geneva Lake Estates

Schedule Year Ended: 12/31/94 Water [x] Wastewater [] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Docket No.: 950495-WS

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1) (2) (3) **Present Rates** Proposed Rates 1/ Line After During After **During** No. Type of Charge Bus. Hours Bus. Hours Bus. Hours Bus. Hours N/A 1 Initial Connection \$15.00 N/A N/A 2 N/A N/A NVA Normal Reconnection \$15.00 N/A 3 Violation Reconnection \$15.00 N/A NVA Premise Visit \$10.00 N/A N/A N/A 5 Return Check Charge \$15.00 or 5% of N/A N/A N/A the amount of the check, whichever is greater.

FPSC

Schedule E-4 Page 3 of 8

Preparer: Bencini

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4 Page 4 of 8

FPSC

Preparer: Bencini

(1)		P	(2) resent Rates	(3) Proposed (
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge	0 W	r 5% of N/A ne amount f the check, rhichever is reater.	N/A	N/A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4
Page 5 of 8
Preparer: Bencini

(1)		(2) Present Rates		3) I Rates 1/
Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
Initial Connection	\$15.00	N/A	N/A	N/A
Normal Reconnection	\$15.00	N /A	N/A	N/A
Violation Reconnection	\$15.00	N/A	N/A	N/A
Premise Visit	\$10.00	N/A	N/A	N/A
Ratum Check Charge		the amount of the check, whichever is	N/A	N/A
	Type of Charge Initial Connection Normal Reconnection Violation Reconnection Premise Visit	Type of Charge Bus. Hours Initial Connection \$15.00 Normal Reconnection \$15.00 Violation Reconnection \$15.00 Premise Visit \$10.00 Ratum Check Charge \$15.00	Type of Charge Bus. Hours Bus. Hours Initial Connection \$15.00 N/A Normal Reconnection \$15.00 N/A Violation Reconnection \$15.00 N/A Premise Visit \$10.00 N/A Ratum Check Charge \$15.00 or 5% of the amount of the check,	Type of Charge During Bus. Hours Bus. Hours Normal Reconnection \$15.00 N/A Normal Reconnection \$15.00 N/A N/A Violation Reconnection \$15.00 N/A N/A Premise Visit \$10.00 N/A N/A Ratum Check Charge \$15.00 or 5% of N/A the amount of the check, whichever is

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [1] FPSC Non-uniform [x] FPSC Non-jurisdiction [1]

Schedule E-4 Page 6 of 8 Preparer: Bencini

(1)		ļ	(2) Present Rates	(3) Proposed	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge	,	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / St. Johns / Palm Valley

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical (x) Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4

Page 7 of 8

Preparer: Bencini

		(2) Present Rates		(3) Proposed Rates 1/		
Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
Initial Connection	\$15.00	. N/A	N/A	N/A		
Normal Reconnection	\$15.00	N/A	N/A	N/A		
Violation Reconnection	\$15.00	N/A	N/A	N/A		
Premise Visit	\$10.00	N/A	N/A	N/A		
Return Check Charge	\$15.00	the amount of the check, whichever is	N/A	N/A		
	Initial Connection Normal Reconnection Violation Reconnection Premise Visit Return Check Charge	Type of Charge Bus. Hours Initial Connection \$15.00 Normal Reconnection \$15.00 Violation Reconnection \$15.00 Premise Visit \$10.00 Return Check Charge \$15.00	Type of Charge Bus. Hours After Bus. Hours Initial Connection \$15.00 N/A Normal Reconnection \$15.00 N/A Violation Reconnection \$15.00 N/A Premise Visit \$10.00 N/A Return Check Charge \$15.00 or 5% of the amount of the check, whichever is greater.	Type of Charge Bus. Hours Bus. Hours Bus. Hours During Bus. Hours Bus. Hours Initial Connection \$15.00 N/A Normal Reconnection \$15.00 N/A Violation Reconnection \$15.00 N/A Premise Visit \$10.00 N/A N/A N/A Return Check Charge \$15.00 or 5% of the check, whichever is		

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / St. Johns / Remington Forest

Schedule E-4
Page 8 of 8
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)		(2) Present Rates		(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	N/A	N/A		
2	Normal Reconnection	\$15.00	N/A	N/A	N/A		
3	Violation Reconnection	\$15.00	N/A	N/A	N/A		
4	Premise Visit	\$10.00	N/A	NA	N/A		
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A		

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC

Schedule: E-5 Page 1 of 8 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	 (5)	(6) Proposed	(7)
Line			rieser			Piupusau	
No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	420	\$6,295		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	222	\$3,330			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	211	\$3,165			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	194	\$1,940			
5.	Return Check Charge	\$15	97	\$1,455			
6.	Other Charges	\$15	0	\$0			
			1,144	\$16,185			

ò

564

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater {}
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 2 of 8 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	 (5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$ 15	28	\$420		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$ 15	16	\$240			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	16	\$240			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	5	\$50			
5.	Return Check Charge	\$15	7	\$105			
6.	Other Charges	\$15	0	\$0			
			72	\$1,055			

Company: SSU/Bradford/Geneva Lake Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	16	\$240		Not Applicable	
•	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	7	\$105			
	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	6	\$90			
•	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	6	\$60			
	Return Check Charge	\$15	0	\$0			
	Other Charges	\$15	0	\$0			
			35	\$495			

ğ

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / Bradford / Keystone Club Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater []
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 4 of 8 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(8) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	34	\$510		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	18	\$270			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	9	\$135			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	11	\$110			
5.	Return Check Charge	\$15	3	\$45			
6.	Other Charges	\$15	0	\$0			
			75	\$1,070			

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / Lee / Lehigh Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC

Schedule: E-5 Page 5 of 8 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	1,638	\$24,570		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	602	\$9,035			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	703	\$10,544			
4.	Premise Visit Charge Inctudes Bus. Hours and After Bus. Hours	\$10	527	\$5,270			
5.	Return Check Charge	\$15	210	\$3,150			
6.	Other Charges	\$15	0	\$0			
			3,680	\$52,569	•		

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3) Present	(4)	 (5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	887	\$13,300		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	366	\$5,490			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	196	\$2,935			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	70	\$700			
5.	Return Check Charge	\$15	116	\$1,741			
6.	Other Charges	\$15	0	\$0			
			1,635	\$24,166			

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / St. Johns / Palm Valley

Occket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater { }
Interim [} Final []
Historical [X] Projected []
FPSC Uniform [| FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Schedule: E-5 Page 7 of 8

Page 7 of 8 Preparer: Bencini

FPSC

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Flates	Units	Revenues	Flates	Units	Revenues
i.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	29	\$429		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	5	\$76			
	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	12	\$182			
l.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	23	\$225			
	Return Check Charge	\$ 15	11	\$165			
	Other Charges	\$15	0	\$0			
			80	\$1,077			

__

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU/St. Johns / Remington Forest

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical (X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 8 of 8 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	13	\$202		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	10	\$149			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	1	\$15			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	1	\$10			
5.	Return Check Charge	\$15	0	\$0			
6.	Other Charges	\$15	0	\$0			
			25	\$376	•		

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Non-Uniform

Occket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standplpes etc.) by size.

This summery is not required for a sewer only rate application.

	(1)	(2)	(3)	(4) Fire Flow	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Line				Requirement	Number	of Standard 1	ype Public F	ire Hydrante B	y Pipe Size C	connecting the	Hydrant	
No.	Plant Nerne	County	Status	(GPM)	4"	<u>5"</u>	8"	10"	12"	14"	Total	Notes
1	Deep Creek	Charlotte	Fire Protection Provided	750	-	326		-	-		326	
2	Enterprise	Volusia	No Fire Protection	•	-	-	-	-	-	-		
3	Geneva Lake Estates	Bradford	No Fire Protection	-	-	•	-	-	•	-	-	
4	Keystone Club Estates	Bradford	No Fire Protection	•	-	-		-	-	-		
5	Lehigh	Lee	Fire Protection Provided	2,000	-	490	-	_	-	-	490	
6	Merco (sland	Collier	Fire Protection Provided	4,500	-	339		-	-	-	339	
7	Palm Valley	St. Johns	No Fire Protection	•	-	-	-		-	-	-	
8	Remington Forest	St. Johns	No Fire Protection	-	-	•	-	-	-		-	
	Total FPSC Non-Uniform Plants				0	1155	0	0	0	0	1155	

Company: SSU / Total Company / Present Non-Uniform

Schedule E-7 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1) (2

) (3)

(4)

(5)

(7)

(6)

(8)

(9)

(10)

(11) (12)

(13)

(14)

Size and Type:

							0120 0	ita type.			_			
Line No.	Plant			Spi	rinkler L	ines:			Do	ouble Ch	eck Val	ves:		
1		2"	4"	6"	_8"	10"	Total	2"	4"	6*	_8"_	10"	Total	Combined Total
2	Lehigh	-	6	3	2	-	11	-	-	-	-	-	•	11
3	Marco Island	-	-		-	-	-		12	37	37	5	91	91
4	Total		6_	3_	2		11		12	37	37	5	91	102

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	GENEVA LAKE ESTATES:	
3 4	Emery, W.C. Customer # 031389	Utility easement acquired in exchange for water service at no charge.
5 6 7	TROPICAL ISLES:	
6 9	Dreke, John	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
10 11	Customer # 96236 Kennedy, Barbara	more than six (6) rental units at Mobile Park at no charge.
12	Customer # 96244	
13	Michael, Malcolm	
14	Customer # 96259	
15	Seliards, Harold	
16 17	Customer # 96265 Steeves, Hubert	
18	Customer # 96268	
19	Flora, Dick	
20	Customer # 96271	

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / Present Non-uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] or Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable). State the type of agreement (i.e. contract, tax).

(1) Line	(2)	(3)	(4) Type of	(5) To Whom	(6)	(7) How Collected	(8) Type of
No.	Plant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
							
1	Total Company	FPSC Juns.	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC Schedule: E-9

Page 1 of 1

Preparer: Bencini

^{1/} Included in overall cost of service.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1994

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1) (2) (3) (4)

Line Present Proposed

No. Type of Charge Charges

Please see separate Service Availability Schedules, Volume VIII.

FPSC

Schedule E-10

Page 1 of 1

Preparer: Bencini

Company: SSU / Total Company / Present Non-Uniform

Schedule E-11

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	For the Year Ended	Residential	General Service	Other	Total	
				•		

This schedule is not applicable.

CLASS A UTILITY COST OF SERVICE STUDY - 1994 Industrial Customers

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

FPSC

Schedule E-13 Page 1 of 1 Preparer: Bencini

Company: SSU / Total Company / Present Non-Uniform Docket No: 950495-WS Schedule Year Ended: 12/31/94 Water [x] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

desociation of data projector fac	asi on a sopare	no boriodak	2, II 1/0003341y.	LIST OTHER GESSOS	Or IIIO(O) 312	os as applicable.				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(9)	(10)	(11)
	Nun	berof	Bills	Co	n sumptio	on (MG)	Sc	hedule '	<u>Year Rev</u>	enues
Line		Projection	.,		Projection	Projected	Pre	sent	Pro	posed
No. Class/Meter Size	<u>Historical</u>	<u>Factor</u>	Schedule Year	<u>Historical</u>	<u>Factor</u>	Schedule Year	Rates	Revenue	Rates	Revenue

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Intenm [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 1 of 7 Preparer: Bencini

	(1)	(2)		(3)	(4)
Line		Present		Monthly Equivalent	Proposed
No.	Class/Meter Size	Rates 1/		Rates 2/	Rates 3/
	RESIDENTIAL, GENERAL SERVICES				
1	5/8"x3/4"	\$8.95		\$4.48	N/A
2	3/4"	N/A		N/A	N/A
3	1"	\$8.95 4	4/	\$4.48	N/A
4	1 - 1/2"	N/A		N/A	N/A
5	2 ⁿ	\$8.95 4	4/	\$4.48	N/A
6	3"	N/A		N/A	N/A
7	4"	N/A		N/A	N/A
8	6"	N/A		N/A	N/A
9	8*	N/A		N/A	N/A
10	10*	N/A		N/A	N/A
11	GALLONAGE CHARGE / MG:				
12	All Gallonage	\$0.54		\$0.54	N/A

^{1/} These rates are bi-monthly.

^{2/} These rates have been converted to the monthly equivalent rates by dividing the bi-monthly rates by 2.

^{3/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{4/} The actual tarrif includes a rate for the 5/8"x3/4" meter size only. As new customers with larger meters were added, they were given this rate.

580

SCHEDULE OF WATER RATES - 1994

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 2 of 7 Preparer: Bencini

	(1)	(2)	(3)
Line		Present	Proposed
No.	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL, GENERAL SERVICES		
1	5/8"x3/4"	\$2.60	N/A
2	3/4"	\$2.60	N/A
3	1"	\$6.50	N/A
4	1 - 1/2"	\$13.00	N/A
5	2"	\$20.80	N/A
6	3"	\$39.00	N/A
7	4*	\$65.00	N/A
8	6"	\$130.00	N/A
9	8"	N/A	N/A
10	10"	N/A	N/A
11	GALLONAGE CHARGE / MG:		
12	0 - 9,000	\$1.11	N/A
13	All Excess Gallons	\$1.56	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 3 of 7

Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Monthly Equivalent	Proposed
No.	Class/Meter Size	Rates 1/	Rates 2/	Rates 3/
	RESIDENTIAL, GENERAL SERVICES			
1	5/8"x3/4"	\$11.78	\$5.89	N/A
2	3/4"	\$11.78 4/	\$5.89	N/A
3	1"	\$11.78 4/	\$5.89	N/A
4	1 - 1/2"	\$11.78 4/	\$5.89	N/A
5	2*	\$11.78 4/	\$5.89	N/A
6	3"	N/A	N/A	N/A
7	4"	N/A	N/A	N/A
8	6"	N/A	N/A	N/A
9	8*	N/A	N/A	N/A
10	10"	N/A	N/A	N/A
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$0.85	\$0.85	N/A

^{1/} These rates are bi-monthly.

^{2/} These rates have been converted to the monthly equivalent rates by dividing the bi-monthly rates by 2.

^{3/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{4/} The actual tarrif includes a rate for the 5/8"x3/4" meter size only. As new customers with larger meters were added, they were given this rate.

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 4 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present	Monthly Equivalent	Proposed
No.	Class/Meter Size	Rates 1/	Rates 2/	Rates 3/
	RESIDENTIAL SERVICE			
1	5/8"x3/4"	\$16.30	\$8.15	N/A
2	3/4"	\$16.30	\$8.15	N/A
3	1"	\$41.28	\$20.64	N/A
4	1 - 1/2"	\$82.55	\$41.28	N/A
5	2 ⁴	\$132.08	\$66.04	N/A
6	3"	N/A	N/A	N/A
7	4"	N/A	N/A	N/A
8	6°	N/A	N/A	N/A
9	8"	N/A	N/A	N/A
10	10"	N/A	N/A	N/A
11	GALLONAGE CHARGE / MG:			
12	All Gallonage	\$1.20	\$1.20	N/A

^{1/} These rates are bi-monthly.

^{2/} These rates have been converted to the monthly equivalent rates by dividing the bi-monthly rates by 2.

^{3/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water (x] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 5 of 7 Preparer: Bencini

	(1)	(2)	(3)	
Line		Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	RESIDENTIAL, GENERAL, MULTI-FAMI	LY SERVICES		
1	5/8"x3/4"	\$9.09	N/A	
2	3/4"	N/A	N/A	
3	1"	\$22.73	N/A	
4	1 - 1/2*	\$45.45	N/A	
5	2"	\$72.72	N/A	
6	3*	\$136.35	N/A	
7	4"	N/A	N/A	
8	6"	N/A	N/A	
9	8"	N/A	N/A	
10	10"	N/A	N/A	
11	GALLONAGE CHARGE / MG:			
12	0 - 9,000	\$1.54	N/A	
13	All Excess Gallonage	\$2.00	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 6 of 7 Preparer: Bencini

	(1)	(2)	(3)	
Line	• •	Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	RESIDENTIAL, GENERAL, MULTI-FAMILY	SERVICES		
1	5/8"x3/4"	\$5.05	N/A	
2	3/4"	\$7.58	N/A	
3	1"	\$12.63	N/A	
4	1 - 1/2"	\$25.25	N/A	
5	2"	\$40.40	N/A	
6	3"	\$80.80	N/A	
7	4"	\$126.25	N/A	
8	6°	\$252.50	N/A	
9	8"	\$404.00	N/A	
10	10"	\$580.75	N/A	
11	GALLONAGE CHARGE / MG:			
12	Ali Gallonage	\$1.21	N/A	
	EMERGENCY STANDBY SERVICE			
13	All Meter Sizes	\$0.00	N/A	
14	GALLONAGE CHARGE / MG:			
15	All Gallonage	\$1.21	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [x] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 7 of 7 Preparer: Bencini

	(1)	(2)	(3)
Line		Present	Proposed
No.	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL SERVICE		
1	5/8"x3/4"	\$9.50	N/A
2	3/4"	N/A	N/A
3	1"	N/A	N/A
4	1 - 1/2"	N/A	N/A
5	2"	N/A	N/A
6	3"	N/A	N/A
7	4"	N/A	N/A
8	6"	N/A	N/A
9	8"	N/A	N/A
10	10"	N/A	N/A
11	GALLONAGE CHARGE / MG:		
12	All Gallonage	\$0.60	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / GIBSONIA ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 1 of 9

Preparer: Bencini

Supporting Schedules: E2-1.1,E2-2,E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

			1994 HISTORICAL	(PRESENT RAT	ES)	PROPOSED 1/			
No	Class/Meter Size	B111s ◆	Consumption(MG)	Rate *	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	1.644		\$4.48	\$7,365				
3	1*	38		\$4.48	\$170				
4	2*	12		\$4.48	\$54				
5	Gallonage Charge/MG								
6	All Gallonage		11.880	\$0.54	\$6,415				
7	Total RESIDENTIAL	1,694	11,880		\$14,004	N/A	N/A		N/A
В	Ave cust/cons/bill/mth	141	7.013		\$8.27				
9 10 11	COMMERCIAL 5/8"x3/4" 1"	218 48		\$4.48 \$4.48	\$977 \$215				
12 13	Gallonage Charge/MG All Gallonage		1.704	\$0.54	\$920				
14	Total COMMERCIAL	266	1,704	¥U.54	\$2,112	N/A	N/A		N/A
15	Ave cust/cons/bill/mth	266 22	6.406		\$7.94		10/75		11771
16 17 18 19 20 21	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES TOTAL 800KEO REVENUES DIFFERENCE 3/				\$16.116 \$-38 \$725 \$16.803 \$16.462 \$341				N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 8-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

[♦] Note: This plant currently has a bi-monthly billing cycle. Bills and rates have been converted to monthly equivalents. Refer to schedule E2-1.1 for details.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / HERSHEL HEIGHTS

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 2 of 9

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	TES)	PROPOSED 1/			
No.	Class/Meter Size	Bills	Consumption(HG)	Rate	Revenues	B111s	Consumption(HG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Callegge Change (MC	3,581 5 3		\$2.60 \$6.50	\$9.311 \$345				
5	Gallonage Charge/MG 0- 9000 9001-All excess	2.624	20,504 5,357	\$1.11 \$1.56	\$22,759 \$8,357				
8	Total RESIDENTIAL Ave cust/cons/bill/mth	3,634 303	25,861 7.116		\$40,772 \$11.22	N/A	N/A		N/A
9 10 11 12	COMMERCIAL 5/8"x3/4" 1" 2"	84 60 48		\$2.60 \$6.50 \$20.80	\$218 \$390 \$998				
13 14 15 16 17	Gallonage Charge/MG 0- 9000 9001-All excess Total COMMERCIAL Ave cust/cons/bill/mth	192 16	1,057 2,386 3,443 17,932	\$1.11 \$1.56	\$1,173 \$3,722 \$6,501 \$33.86	N/A	N/A		N/A
18 19 20 21 22 23	TDTAL ANNUALIZED SALES UNBILLED REVENUE DTHER REVENUE 2/ TOTAL REVENUES TOTAL 800KED REVENUES D1FFERENCE 3/	REVENUES			\$47.273 \$-428 \$1,399 \$48.244 \$48.188				N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Amnualized Sales Revenues

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 3 of 9 Preparer: Bencini

Supporting Schedules: E2-1.1,E2-2,E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RAT	ES)	PROPOSED 1/				
Line <u>No.</u>	Class/Meter Size	Bills ●	Consumption(MG)	Rate *	Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6 7 8	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 2" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	9,058 40 24 12 9,134 761	71,674 71,674 7,847	\$5.89 \$5.89 \$5.89 \$5.89 \$6.85	\$53,352 \$236 \$141 \$71 \$60,923 \$114,723 \$12.56	N/A	N/A		N/A	
10 11 12 13 14 15 16 17	COMMERCIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	116 12 12 12	1.097 1.097 7.836	\$5.89 \$5.89 \$5.89 \$0.85	\$683 \$71 \$71 \$71 \$932 \$1,757 \$12,55	N/A	N/A		N/A	
18 19 20 21 22 23	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES TOTAL 800KED REVENUES DIFFERENCE 3/	REVENUES			\$116.480 \$-518 \$4.205 \$120.167 \$118.624 \$1.543				N/A	

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 8-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

[•] Note: This plant currently has a bi-monthly billing cycle. Bills and rates have been converted to monthly equivalents. Refer to schedule E2-1.1 for details.

SCHEDULE DF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / ORANGE HILL/SUGAR CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 4 of 9
Preparer: Bencini

Supporting Schedules: E2-1.1.E2-2.E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line <u>No.</u>			1994 HISTORICAL	(PRESENT RAT	ES)	 PROPOSED 1/				
	Class/Meter Size	Bills •	Consumption(MG)	Rate *	Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	2.782 	18.134 18.134 6.518	\$8.15 \$1.20	\$22.673 \$21,761 \$44,434 \$15.97	N/A	N/A		N/A	
7 8 9 10 11	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 2/ TOTAL REVENUES TOTAL 800KED REVENUES D1FFERENCE 3/	REVENUES			\$44,434 \$86 \$795 \$45,315 \$45,024				N/A	

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

^{*} Note: This plant currently has a bi-monthly billing cycle. Bills and rates have been converted to monthly equivalents. Refer to schedule E2-1.1 for details.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 5 of 9

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

14		1994 HISTORICAL (PRESENT RATES)				PROPOSED 1/			
Line No.	Class/Meter Size	B111s	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	_Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	30,148		\$9.09	\$274,045				
3	Gallonage Charge/MG		160 205	41.54	£250 174				
5	0- 9000 9001-All excess		168,295 35,674	\$1.54 \$2.00	\$259,174 \$71,348				
6	Total RESIDENTIAL	30.148	203,969	72.00	\$604,567	N/A	N/A		N/A
7	Ave cust/cons/bill/mth	2,512	6.766		\$20.05				
8	MULTI-FAMILY 1 1/2"	12		#45 AC	\$545				
9 10	2"	12 12		\$45.45 \$72.72	\$873				
11	Gallonage Charge/MG			*/ L./ L					
12	0- 9000		216	\$1.54	\$333				
13 14	9001-All excess Total MULTI-FAM1LY	2/	22.081 22.297	\$2.00	\$44,162 \$45,913	N/A	N/A		N/A
15	Ave cust/cons/bill/mth	24	929.042		\$1,913.04		W/B		107
16	COMMERCIAL								
17	5/8"x3/4"	487		\$9.09	\$4,427				
18	1"	24		\$22.73	\$546				
19 20	1 1/2" 2"	105 62		\$45.45 \$72.72	\$4,772 \$4,509				
21	3"	24		\$136.35	\$3,272				
22	Gallonage Charge/MG	•		+100.00	10,2.2				
23	0- 9000		3,469	\$1.54	\$5.342				
24	9001-All excess		16,617	\$2.00	\$33,234				41/4
25 26	Total COMMERCIAL Ave cust/cons/bill/mth	702 59	20,086 28.613		\$56,102 \$79.92	N/A	N/A		N/A
20	WAE CR2CACOUSAGE LAGICE	23	20.013		3/3.36				

FPSC

Company: SSU/HILLSBOROUGH / SEABOARD Docket No.: 950495-WS

SCHEDULE: E2-1 Page 6 of 9 Preparer: Bencini

Schedule Year Ended 12/31/94 Water [x] Wastewater []
Interim[] Final[]

Supporting Schedules: E2-2, E2-3

(10)

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (5) (8)

	\- /	1-7	1-2	• • •	1-7		1-7	127	1207	
			1994 HISTORICAL ((PRESENT R	ATES)		PROPOSED	1/		
Line <u>No.</u>	Class/Heter Size	8i11s	Consumption(MG)	Rate	Revenues	8111s	Consumption(MG)	Rate	Revenues	
27	TOTAL ANNUALIZED SALES	REVENUES			\$706.582					
28	UNBILLED REVENUE				\$-2.066					
29	OTHER REVENUE 2/				\$66,574					
30	TOTAL REVENUES				\$771,090				N/A	
31	TOTAL BOOKED REVENUES	,			\$765,914					
32	DIFFERENCE 3/				\$5,176					

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []
Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 7 of 9 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (1) (2) (3) (4) (5) (10)

			1994 HISTORICAL	(PRESENT RA	(TES)			PROPOSED	1/	
No.	Class/Heter Size	Bills	Consumption(MG)	Rate	Revenues	-	Bills	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL									
2	5/8"x3/4"	269,114		\$5.05	\$1,359,026					
3	Full 3/4"	48		\$7.58	\$364					
4	1"	16,371		\$12.63	\$206,766					
5	1 1/2"	51		\$25.25	\$1,288					
6	2"	33		\$40.40	\$1,333					
7	Gallonage Charge/MG									
8	All Gallonage		2,692,955	\$1.21	\$3.258.476					
9	Total RESIDENTIAL	285,617	2,692,955		\$4,827,253		N/A	N/A		N/A
10	Ave cust/cons/bill/mth	23,801	9.429		\$16.90					
11	COMMERCIAL									
12	5/8"x3/4"	4,661		\$5.05	\$23,538					
13	1,	1,118		\$12.63	\$14,120					
14	1 1/2"	131		\$25.2\$	\$3,308					
15	2"	532		\$40.40	\$21,493					
16	3"	29		\$80.80	\$2,343					
17	6"	31		\$252.50	\$7.828					
18	Gallonage Charge/MG				****					
19	All Gallonage		129,386	\$1.21	\$156,557					
20	Total COMMERCIAL	6,502	129,386		\$229,187		N/A	N/A		N/A
21	Ave cust/cons/bill/mth	542	19.899		\$35.25					

FPSC

SCHEDULE: E2-1
Page 8 of 9
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

(10)

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[]

Historical(x) Projected()

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

1.4	1994 HISTORICAL (PRESENT RATES)					PROPOSED 1/			
Line <u>No.</u>	Class/Heter Size	<u>8111s</u>	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
22	TOTAL ANNUALIZED SALES	REVENUES			\$5.056.440				
23	UNBILLED REVENUE				\$58.831				
24	OTHER REVENUE 2/				\$99,720				
25	TOTAL REVENUES				\$5,214,991				N/A
26	TOTAL 800KED REVENUES				\$5,225,219				
27	DIFFERENCE 3/				\$-10,228				

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

12 DIFFERENCE 3/

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHÉDULE: E2-1 Page 9 of 9

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

	en these revenues and boo							ch period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
	•		1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
Line No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	<u>8111s</u>	Consumption(MG)	Rate	Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	4,246		\$9.50	\$40.337				
3	Gallonage Charge/MG	-			• • • •				
4	All Gallonage		3B,464	\$0.60	\$23,078				
5	Total RESIDENTIAL	4.246	38.464		\$63.415	N/A	N/A		N/A
6	Ave cust/cons/bill/mth	354	9.059		\$14.94				
7	TOTAL ANNUALIZED SALES	REVENUES			\$63,415				
8	UN8ILLED REVENUE				\$884				
9	OTHER REVENUE 2/				\$3,671				
10	TOTAL REVENUES				\$67,970				N/A
11	TOTAL BOOKEO REVENUES				\$67,550				

\$420

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 B-4 schedule for detail of other revenue.

^{3/} Refer to the 1994 E2-3 schedule for reconciliation of difference.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Monthly Conversion of Bi-monthly Plants

Company: SSU / POLK / GIBSONIA ESTATES

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [x] Wastewater []

Interim [] Final []
Historical [x] Projected []

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction[x]

FPSC

Schedule: E2-1.1 Page 1 of 3 Preparer: Bencini

Explanation: Provide a schedule of conversion of bi-monthly plants to monthly equivalents.

		1994 Historical (Bi-monthly)	1994 Historical (Monthly Equivalent)		
Line			BFC		BFC	
No.	Class/Meter Size	<u>Bills</u>	Rate	Bills	Rate	
1	RESIDENTIAL					
2	5/8"x3/4"	822	\$8.95	1,644	\$4.48	
3	1"	19	\$8.95	38	\$4.48	
4	2"	6	\$8.95	12	\$4.48	
5	COMMERCIAL					
6	5/8"X3/4"	109	\$8.95	218	\$4.48	
7	1"	24	\$8.95	48	\$4.48	

NOTE: Monthly equivalent is used on all E Schedules except the E3, which ties to the billing analysis.

Rec

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Monthly Conversion of Bi-monthly Plants

Company: SSU / POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [x] Wastewater []

Interim [] Final []
Historical [x] Projected []

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction[x]

Explanation: Provide a schedule of conversion of bi-monthly plants to monthly equivalents.

		1994 Historical (Bi-monthly)	1994 Historical (Monthly Equivalent)		
Line			BFC		BFC	
No.	Class/Meter Size	Bills	Rate	Biils	Rate	
1	RESIDENTIAL					
2	5/8"x3/4"	4,529	\$11.78	9,058	\$5.89	
3	Full 3/4"	20	\$11.78	40	\$5.89	
4	1"	12	\$11.78	24	\$5.89	
5	2"	6	\$11.78	12	\$5.89	
6	COMMERCIAL					
7	5/8"X3/4"	58	\$11.78	116	\$5.89	
8	1"	6	\$11.78	12	\$5.89	
9	1 1/2"	6	\$11.78	12	\$5.89	

FPSC

Page 2 of 3

Schedule: E2-1.1

Preparer: Bencini

NOTE: Monthly equivalent is used on all E Schedules except the E3, which ties to the billing analysis.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Monthly Conversion of Bi-monthly Plants

Company: SSU / POLK / ORANGE HILL/SUGAR CREEK

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction[x]

FPSC

Schedule: E2-1.1

Page 3 of 3

Preparer: Bencini

Explanation: Provide a schedule of conversion of bi-monthly plants to monthly equivalents.

		1994 Historical (E	Bi-monthly)	1994 Historical (Monthly Equivalent)		
Line			BFC		BFC	
No.	Class/Meter Size	<u>Bills</u>	Rate	Bills	Rate	
1	RESIDENTIAL					
2	5/8"x3/4"	1,391	\$16.30	2,782	\$8.15	

NOTE: Monthly equivalent is used on all E Schedules except the E3, which ties to the billing analysis.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU /POLK /GIBSONIA ESTATES

Docket No: 950495-WS

Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[) Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-2
Page 1 of 8
Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

(4)

(5)

(3)

	14/	127	(0)	***	(3)	
Line		Hi.	storical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(MG)	Rates	Revenues	
1	RESIDENTIAL	-		_		
2	5/8"x3/4"	1,644		\$4.48	\$7,365	\$7,365
3	1"	38		\$4,4R	\$170	\$170
4	2*	12		\$4.48	\$54	\$54
5	Gallonage Charge/MG					
6	All Gallonage		11,880	\$0.54	<u>\$6.415</u>	\$6,415
7	Total	1,694			\$14,004	\$14,004
В	Average Bill					\$8.27
9	COMMERCIAL					
10	5/8"x3/4"	218		\$4.48	\$977	\$977
11	1*	48		\$4.48	\$215	\$215
12	Gallonage Charge/MG					
13	All Gallonage		1,704	\$0.54	\$920	\$920
14	Total	266			\$2,112	\$2,112
15	Average 8ill					\$7.94
16	TOTAL HIST. 1/	1.960	13,584		\$16,116	\$16,116
17	INDEXING-RATE CHANGE					<u>\$0</u>
18	TOTAL 1994 ANNUALIZED	SALES R	EVENUE 2/			\$16,116

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: This plant has bimonthly billing. The No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail. The 8FC Rates also have been converted to monthly equivalent.

NOTE: Numbers may not tie to other schedules due to rounding.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE: E2-2 Page 2 of 8 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /HILLSBOROUGH /HERSHEL HEIGHTS

Docket No: 950495·WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Internm[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line	:	H	listorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(MG)	Rates	Revenues	
_	RESIDENTIAL					
1 2	5/8"x3/4"	3,581		\$2.60	\$9.311	\$9,311
3	1"	53		\$6.50	\$345	\$345
4	Gallonage Charge/MG	33		40.50	*343	*343
5	0 - 9000		20.504	\$1.11	\$22,759	\$22,759
6	9001 - All Excess		5.357	\$1.56	\$8,357	\$8,357
7	Total	3.634	_ 0.007	** **	\$40,772	\$40,772
8	Average Bill				,	\$11.22
9	COMMERCIAL					
10	S/8"x3/4"	84		\$2.60	\$218	\$218
11	1-	60		\$6.50	\$390	\$390
12	2*	48		\$20.80	\$998	\$998
13	Gallonage Charge/MG					
14	0 - 9000		1.057	\$1.11	\$1,173	\$1,173
15	9001 - All Excess		_ 2,386	\$1.56	\$3,722	\$3,722
16	Total	192			\$6,501	\$6,501
17	Average Bill					\$33.86
18	TDTAL HIST. 1/	3,826	29.304		\$47,273	\$47,273
19	INDEXING-RATE CHANGE		,			\$0
20	TOTAL 1994 ANNUALIZE		REVENUE 2/			\$47,273
	Iss Pellor Cite					311,270

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

<u></u>

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /POLK /LAKE GIBSON ESTATES

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-2 Page 3 of 8 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

<u>If a</u>	rate change occurred	during	the test year, a	revenue	calculation must	be made for each per
	(1)	(2)	(3)	(4)	(5)	(6)
Line		 	iistorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
Na.	Class/Heter Size	Bills	Consumption(MG)	Rates	Revenues	-
1	RESIDENTIAL -		-			
2	5/8"x3/4"	9.058		\$5.89	\$53,352	\$53,352
3	Full 3/4"	40		\$5.89	\$236	\$236
4	1-	24		\$5.89	\$141	\$141
5	2"	12		\$5.89	\$71	\$71
6	Gallonage Charge/MG					
7	All Gallonage		71,674	\$0.85	\$60,923	\$60,923
8	Total	9,134	_		\$114,723	\$114,723
9	Average Bill					\$12.56
10	COMMERCIAL					
11	5/8"x3/4"	116		\$5.89	\$683	\$683
12	1-	12		\$5.89	\$71	\$71
13	1 1/2"	12		\$5.89	\$71	\$71
14	Gallonage Charge/MG					
15	All Gallonage		1,097	\$0.85	\$932	\$932
16	Total	140			\$1,757	\$1,757
17	Average Bill					\$12.55
18	TOTAL HIST. 1/	9,274	72,771		\$116,480	\$ 116,480
19	INDEXING-RATE CHANGE					\$0
20	TOTAL 1994 ANNUALIZEI	D SALES	REVENUE 2/			\$116,480

1/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

2/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: This plant has bimonthly billing. The No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail. The BFC Rates also have been converted to monthly equivalent.

NOTE: Numbers may not tie to other schedules due to rounding.

SCHEDULE: E2-2 Page 4 of 8 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /POLK /ORANGE HILL/SUGAR CREEK

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

604

FPSC Uniform(] FPSC Non-uniform(] FPSC Non-jurisdiction(x)

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line		н	<u>istorical Rates</u>	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter 51ze	B111s	Consumption(MG)	Rates	Revenues	
1	RESIDENTIAL					
2	5/8"x3/4"	2.782		\$8.15	\$22,673	\$22,673
3	Gallonage Charge/MG					
4	All Gallonage _		18,134	\$1.20	\$21,761	\$21 <u>,761</u>
5	Total	2.782	_		144 434	\$44,434
6	Average Bill					\$15.97
7	TOTAL HIST. 1/	2,782	18, 134		\$44,434	\$44,434
8	INDEXING-RATE CHANGE					\$0
9	TOTAL 1994 ANNUALIZED	SALES	REVENUE 2/			\$44,434

1/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

2/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: This plant has bimonthly billing. The No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail. The 8FC Rates also have been converted to monthly equivalent.

NOTE: Numbers may not tie to other schedules due to rounding.

SCHEDULE: E2-2 Page 5 of 8

Preparer: Bencini Supporting Schedule: E2-3

Company: SSU /HILLSBOROUGH /SEABOARD

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test	year, a revenue calculation must be made for	each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line	2	F	iistorical Rates	S JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption(MC	i) Rates	Revenues	
_						
1	RESIDENTIAL					
2	S/B"x3/4"	30,148		\$9.09	\$274.045	\$274,045
3	Gallonage Charge/MG	ì				
4	0 - 9000		168,295	\$1.54	\$25 9 .174	\$259,174
5	9001 - All Excess		35.674	\$2.00	\$71.348	\$71.348
6		30,148			\$604,567	\$604,567
7	Average 8:11					\$20.05
	MOTE FAMILY					
9	MULTI-FAMILY 1 1/2"	10		*45.46	45.45	45.45
01	2"	12 12		\$45.45	\$545 *830	\$545
11	Gallonage Charge/MG			\$72.72	\$873	\$873
12	0 - 9000	1	216	\$1.54	4322	#22 2
	9001 - All Excess		22,081		\$333	\$333
14	Total	24		\$2.00	\$44,162	\$44,162
15	Average Bill	24			\$45.913	\$45,913
13	Average pill					\$1.913.04

605

SCHEDULE: E2-2 Page 6 of 8 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /HTLLSBOROUGH /SEABOARD

Oocket No: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction(x)

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line	;	H	storical Rates	s JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(M	S) Rates	Revenues	-
16	COMMERCIAL					
17	5/8"x3/4"	487		\$9.09	\$4.427	\$4,427
18	1"	24		\$22.73	\$546	\$546
19	1 1/2"	105		\$45.45	\$4,772	\$4,772
20	2"	62		\$72.72	\$4,509	\$4,509
21	3*	24		\$136.35	\$3,272	\$3,272
22	Gallonage Charge/MG					
23	0 - 9000		3,469	\$1.54	\$5,342	\$5,342
24	9001 - All Excess		16,617	\$2.00	\$33,234	\$33,234
25	Total	702	•		\$56,102	\$56,102
26	Average Bill					\$79.92
27	TOTAL HIST, 1/	30,874	246,352		\$706,582	\$706,582
28	INDEXING-RATE CHANGE					30
29	TOTAL 1994 ANNUALIZE	O SALES A	REVENUE 2/			\$706,582

^{1/} Difference from Total Booked Revenues per £2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

8

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /HERNANDO /SPRING HILL

Docket No: 950495-WS

Schedule Year Ended 12/31/94

Water [x] Wastewater []

Interim(] Final[]

Historical(x) Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-2 Page 7 of 8

Preparer: 8encini Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)
Line	;	H	istorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption(MG)	Rates	Revenues	
_						
1	RESIDENTIAL					
Ž	5/8"x3/4"	269,114		\$5.05	\$1,359,026	\$1,359,026
3	Full 3/4"	48		\$7.58	\$364	\$364
4	1*	16,371		\$12.63	\$206,766	\$206,766
5	1 1/2"	51		\$25.25	\$1.288	\$1.288

If a rate change occurred during the test year, a revenue calculation must be made for each period.

Ю	2	33	34U.4U	\$1,333	\$1,333
7	Gallonage Charge/MG				
8	All Gallonage	2,692,955	\$1.21	\$3,258,476	\$3,258.476
9	Tota1	285.617		\$4.827.253	\$4,827,253
10	Average Bill				\$16.90
11	COMMERCIAL				

12	5/8"x3/4"	4.661		\$5.05	\$23.538	\$23,538
13	1"	1.118		\$12.63	\$14,120	\$14,120
14	1 1/2*	131		\$25.25	\$3,30B	\$3,308
15	2*	532		\$40.40	\$21.493	\$21.493
16	3"	29		\$80.80	\$2,343	\$2,343
17	6"	31		\$252.50	\$7,828	\$7.828
18	Gallonage Charge/MG					
19	All Gallonage		129,386	\$1.21	\$156 <u>,557</u>	<u>\$156.557</u>
20	Total	6.502			\$229,187	\$229.187
21	Average Bill					\$35.25

22	TOTAL HIST. 17	292.119	2.822.341	\$ 5,056,440	\$ 5,056,440
23	INDEXING-RATE CHA	NGE			\$0
24	TOTAL 1994 ANNUAL	IZED SALES F	REVENUE 2/		\$5,056,440

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /HILLSBOROUGH /VALRICO HILLS

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-2 Page 8 of 8 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line		Histor	ical Rates	JAN	DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills Cons	sumption(MG)	Rates	Revenues	
1	RESIDENTIAL -					
-		4.246		\$9.50	\$40.337	\$40.337
2	5/8"x3/4"	4.246		39.50	\$40.337	¥40,337
3	Gallonage Charge/MG					
4	All Gallonage _		38.464	\$0.60	\$23,078	<u>\$23,078</u>
5	Total	4.246			\$63,415	\$63,415
6	Average 8ill					\$14.94
7	TOTAL HIST. 1/	4,246	38,464		\$63,415	\$63,415
В	INDEXING-RATE CHANGE					\$0
9	TOTAL 1994 ANNUALIZED	SALES REVEN	IUE 2/			\$63,415

1/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

2/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: Numbers may not tie to other schedules due to rounding.

8

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES Summary of Revenue Reconciliation

FPSC

Company: SSU/ Total Company/ FPSC Non-Jurisdiction Docket No. 950495-WS Schedule Year Ended 12/31/94 Waterixi Wastewateri 1 Interim(] Final() Historical(x) Projected()

FPSC Uniform 1 FPSC Non-uniform 1 FPSC Non-turisdiction(x)

SCHEDULE: E2-3 Page 1 of 1 Preparer: Bencini Recan Schedules: E2-1, F2-2

Explanation: Provide a achedule to reconcile the difference between calculated and booked revenues.

		(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(6)	(10)
Line No.	PLANT	INDEXING- RATE CHANGE 1/	CATCH UP BILLING 2/	EXCESS REFUND ACCRUAL SY	ZERO USAGE 4/	OUT OF PERIOD ADJUSTMENTS 5/	BILLING CYCLE CONVERSIONS 6/	RATE MISCODES T/	TOTAL ADJUSTMENTS &	E2-1 DIFFERENCE 9/	UNEXPLAINED VARIANCE AMOUNT
	ONIA ESTATES	\$			\$ (8.95)				\$ (6.95)	\$ 341.00	\$ 332.05

Line No.	PLANT	NDE RATE CA		 TCH UP	A	XCESS EFUND CRUAL SY	ZERO ISAGE 4/	_AL	OUT OF PERIOD DJUSTMENTS S/	BILL CYC CONVER	A.E	ATE DOES T/		OTAL STMENTS &	E2-1 DIFFERENCE SF		UNEXPLAINED VARIANCE AMOUNT	
1	GIBSONIA ESTATES	\$					\$ (6.95)						\$	(6.95)	\$	341.00	\$	332.05
2	HERSHEL HEIGHTS	\$					\$ (0.70)						\$	(0.70)	5	56.00	\$	55.30
3	LAKE GIBSON ESTATES	\$												• •	\$	1,543.00		1,543.00
4	ORANGE HILL / SUGAR CREEK	\$													\$	291.00		291.00
5	SEABORD	\$					(99.50)	8	(143.45)					(242.95)	\$	5,178,00		4,933.05
6	SPRING HILL	\$	-			5,424,52	,,	8	(62.22)					5,362.30	Š	(10,228.00)		(4,865.70)
7	VALRICO HILLS	Š	-			•			(,				<u> </u>	-	Š	420.00	2	420.00
	Total FPSC Non-Jurisdiction	\$	٠	\$ 	\$	5,424.52	\$ [109.15]	\$	(205.67)	\$		\$ •	\$	5,109.70	\$	(2,401.00)	\$	2,708.70

^{1/ &}quot;indexing - Rate Change" is the emount of revenue stiributed to annualizing rates which resulted the the 1994 index and Pass through filing. This column accounts for the difference between the annualized indexed revenues and the revenues billed in effect prior to the indexing.

^{21 &}quot;Calcin-Lip Billing" is the amount of revenue attributing to the difference between booked and annualized revenues as the result of having an extra billing cycle (consumption only) in 1993 in order to have our read date and bill date fall within ten days of one another. Some of these bills were booked in January of 1994 which is not reflected in our annualized revenues.

^{3/ &}quot;Excess Retund Accrual" is the amount of revenue attributed to an over accrual of retund amount made for Docket No. 920199-WS.

^{4 &}quot;Zero Usage" amounts are billing adjustments such as credits, debits for back bills, etc. These adjustments have no associated usage on the billing analysis, but have revenues shown on our books.

^{5/ &}quot;Out of Period Adjustments" are zero usage type of industrients that posted in 1994 to correct for a prior calendar year,
6/ "Billing Cycle Conversions" relates to revenues associated with converting the billing cycle from bil-monthly to monthly for Tropical Isles sever customers in 1994.

^{7/ &}quot;Rate Miscodes" relates to an enumeous inigation charge to a Marco Shores customer that was not corrected in the billing system or general ledger. However, this was corrected in the billing analysis.

^{6/ &}quot;Total Adjustments" is the sum of columns 1 - 7.

^{9/ &}quot;E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Water Customer Monthly Billing - 1994

FPSC

(7)

(6)

Company: SSU/POLK /GIBSONIA ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

SCHEDULE: E-3
Page 1 of 7
Preparer: Bencini

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Pr	<u>covide a schedule</u>	or monthly cust	<u>lomers billed or s</u>	erved by class.	
((1)	(2)	(3)	(4)	(5)

	(*/	(2)	(0)	() ,	(0)	(3)	','
Line No.	Month/ Year	<u>Residential</u>	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	Total
1	JAN94	5	0	0	0	0	5
2	FEB94	134	0	2 2	0	0	156
3	MAR94	1	0	0	0	0	1
4	APR94	137	0	22	0	0	159
5	MAY94	7	0	0	0	0	7
6	JUN94	141	0	22	0	0	163
7	JUL94	4	0	0	0	0	4
8	AUG94	140	S	22	0	0	162
9	SEP94	1	0	1	0	0	2
10	OCT94	140	0	22	0	0	162
11	N0V94	2	0	0	0	0	2
12	DEC94	135	0	22	0	0	157
13	<u>TOTAL</u>	847	0	133	0	0	980
14	MTH. AVE	71	0	11	0	0	82

NOTE: This plant has bimonthly billing. On other schedules, the No. 8ills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation. Public Authority and Raw Water.

Company: SSU/HILLSBOROUGH /HERSHEL HEIGHTS

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3
Page 2 of 7
Preparer: Bencini

Explanati	Explanation: Provide a schedule of monthly customers billed or served by class.							
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
1	JAN94	304	0	16	0	0	320	
2	FE894	302	0	16	0	0	318	
3	MAR94	303	0	16	0	0	319	
4	APR94	301	0	16	0	0	317	
5	MAY94	300	0	16	0	0	316	
6	JUN94	303	0	16	0	0	319	
7	JUL94	304	0	16	0	0	320	
8	AUG94	307	0	16	0	0	323	
9	SEP94	302	0	16	0	0	318	
10	0CT94	302	0	16	0	0	31B	
11	NOV94	303	0	16	0	0	319	
12	0EC94	303	0	16	0	0	319	
13	TOTAL	3,634	0	192	0	0	3.826	
14	MTH. AVE	303	0	16	0	0	319	

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1994

FPSC

Company: SSU/POLK /LAKE GIBSON ESTATES

SCHEDULE: E-3 Page 3 of 7 Docket No.: 950495-WS Schedule Year Ended 12/31/94 Preparer: Bencini Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	<u>Residential</u>	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
1	JAN94	17	0	0	0	0	17	
2	FEB94	734	0	13	0	0	747	
3	MAR94	20	0	0	0	0	20	
4	APR94	743	0	13	0	0	756	
5	MAY94	12	0	0	0	0	12	
6	JUN94	743	0	11	0	0	754	
7	JUL94	22	0	0	0	0	22	
В	AUG94	749	0	11	0	0	760	
9	SEP94	12	0	0	0	0	12	
10	OCT94	751	0	11	0	0	762	
11	NOV94	11	0	0	0	0	11	
12	DEC94	<u>753</u>	0	11	0	0	<u>764</u>	
13	TOTAL	4.567	0	70	0	0	4.637	
14	MTH. AVE	381	0	6	0	0	386	

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Page 4 of 7 Preparer: Bencini

SCHEDULE: E-3

Explanation: Provide a schedule of monthly customers billed or served by class. (7) (1) (2) (3) (5) (6) (4) Line Month/ Multi-Family General Private Fire Other | No. Dwelling Protection Year Residential Service (List) 1/ Total JAN94 5 0 0 5 FE894 228 0 228 3 MAR94 3 0 0 3 APR94 230 0 230 5 MAY94 1 0 1 6 JUN94 230 230 7 JUL94 2 2 8 AUG94 230 230 9 SEP94 5 0 5 10 228 OCT94 0 228 11 NOV94 1 0 1 12 228 DEC94 0 228 13 TOTAL 1.391 0 1,391 14 MTH. AVE 116 116

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Irrigation, Public Authority and Raw Water.

Schedule of Water Customer Monthly Billing - 1994

FPSC

(7)

2,575

2,571

2,565

2,554

2.546

30.874

2,573

Company: SSU/HILLSBOROUGH /SEABOARD

SCHEDULE: E-3
Page 5 of 7
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater []

Interim[] Final[]

Historical[x] Projected[]

(1)

AUG94

SEP94

0CT94

NOV94

DEC94

TOTAL

MTH. AVE

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

(2)

Explanation: Provide a schedule of monthly customers billed or served by class.

(3)

General Private Fire Other (Multi-Family Line Month/ No. Residential Dwelling | Service Protection (List) 1/ Total Year 2,578 1 JAN94 2,515 2 61 2 FE894 2,504 2 60 0 0 2,566 2 61 0 0 2,589 3 MAR94 2,526 0 2,585 2 60 0 APR94 2,523 2 0 0 2,591 5 MAY94 2.528 61 2,523 2 61 0 0 2,586 6 JUN94 7 JUL94 2.504 2 62 0 2,568

59

59

52

53

53

702 **59**

2

2

2

2

2

(4)

(5)

0

0

0

0

0

0

0

0

0

(6)

NOTE: May not tie to other schedules due to monthly rounding.

2,514

2,510

2.511

2,499

2.491

30,148

2,512

1/ Includes Irrigation, Public Authority and Raw Water.

σ

8

9

10

11

12

13

14

Schedule of Water Customer Monthly Billing - 1994

Company: SSU/HERNANDO /SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [x] Wastewater [] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 6 of 7
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
ine	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
	14104	00.551	2	540			04.000	
1	JAN94	23,551	0	542	0	0	24,093	
2	FEB94	23.592	0	537	0	0	24.129	
3	MAR94	23,808	U	547	U	U	24,355	
4	APR94	23.738	. 0	558	0	0	24,296	
5	MAY94	23,770	0	566	0	0	24,336	
6	JUN94	23.828	0	558	0	0	24, 3 86	
7	JUL94	23,833	0	562	0	0	24,395	
8	AUG94	23.910	0	534	0	0	24,444	
9	SEP94	23.864	0	522	0	0	24,386	
10	OCT94	23,897	0	523	0	0	24,420	
11	NOV94	23,926	0	523	0	n	24,449	
12	0EC94		0		0	0		
12	02034	23.900		<u>530</u>	<u></u>		24.430	
13	TOTAL	285.617	0	6,502	0	0	<u>292.119</u>	
14	MTH. AVE	23,801	0	542	0	0	24.343	

NOTE: May not tie to other schedules due to monthly rounding.

 $^{1/\ \}mbox{Includes 1rrigation}, \mbox{Public Authority and Raw Water}.$

14

Schedule of Water Customer Monthly Billing - 1994

Company: SSU/HILLSBOROUGH /VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [x] Wastewater []
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3
Page 7 of 7
Preparer: Bencini

FPSC

354

Explanation: Provide a schedule of monthly customers billed or served by class. (2) (5) (6) (7) (1) (3) (4) Line Month/ Multi-Family General Private Fire Other No. Dwelling Year Residential Service Protection (List) 1/ Total JAN94 356 0 0 356 0 FEB94 2 352 352 0 MAR94 353 353 4 APR94 353 353 0 MAY94 356 356 6 JUN94 352 352 JUL94 356 356 8 AUG94 359 359 9 SEP94 351 351 0 10 0CT94 351 351 0 11 NOV94 355 0 0 355 12 DEC94 352 0 352 0 13 4,246 4,246 TOTAL

NOTE: May not tie to other schedules due to monthly rounding.

354

MTH. AVE

^{1/} Includes Irrigation, Public Authority and Raw Water.

THIS PAGE INTENTIONALLY LEFT BLANK

FPSC

Company: SSU / Polk / Gibsonia Estates

Schedule E-4
Page 1 of 7
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates 1/	Propo	(3) sed Rates 2/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	N/A	N/A
2	Normal Reconnection	\$10.00	N/A	N/A	N/A
3	Violation Reconnection	\$10.00	N/A	N/A	N/A
4	Premise Visit	\$5.00	N/A	N/A	N/A
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A
44 Thomas	harren or an Armifold but are account	4-41-41-4	_		

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4
Page 2 of 7
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	Pn	(2) esent Rates 1/	(3) Proposed Rates 2/	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	NA
4	Premise Visit	\$7.50	N/A	N/A	NA
5	Return Check Charge	o w	r 5% of N/A ne amount f the check, rhichever is reater.	N /A	N/ A

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [| FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	F	(2) Present Rates 1/	(3) Proposed Rates 2/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$10.00	N/A	N/A	N/A	
2	Normal Reconnection	\$10.00	N/A	N/A	N/A	
3	Violation Reconnection	\$10.00	N/A	N /A	N/A	
4	Premise Visit	\$5.00	N/A	N /A	N/A	
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A	

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

FPSC

Schedule E-4 Page 3 of 7

Preparer: Bencini

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Polk / Orange Hill/Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4
Page 4 of 7
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	F	(2) Present Rates 1/	(3) Proposed Rates 2/	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	N/A	N/A
2	Normal Reconnection	\$10.00	N/ A	N/A	N/A
3	Violation Reconnection	\$10.00	N/A	N/A	N/A
4	Premise Visit	\$5.00	N/A	N/A	N/A
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / Hillsborough / Seaboard

Schedule E-4 Page 5 of 7

Docket No.: 950495-WS

Preparer. Bencini

Schedule Year Ended: 12/31/94

Water [x] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2 Presen		(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	\$15.00	N/A	N/A	N/A	
4	Premise Visit	\$7.50	N/A	N/A	N/A	
5	Return Check Charge	\$15.00	N/A	N/A	N/A	

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4 Page 6 of 7

Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(; Presen	2) t Rates	(3) Proposed Rates 1/	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge	\$15.00 or 5% the am of the whiche greater	ount check, ver is	N/A	N /A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [x] Wastewater [] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4 Page 7 of 7

Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		1	(2) Present Rates 1/	Propo	(3) sed Rates 2/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	NA
4	Premise Visit	\$7.50	N/A	N/A	NA
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is	N/A	N/A
4/75	sharman are not towifed but are accepte	d	greater.		

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Polk / Gibsonia Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 7 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	20	\$200		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and • After Bus. Hours	\$10	31	\$305			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$10	12	\$120			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$5	2	\$10			
5.	Return Check Charge	\$15	6	\$90			
6.	Other Charges	\$0	0	\$0			
			71	\$725			

Company: SSU / Hillsborough / Hershel Heights

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 2 of 7 Preparer: Bencini

		(5)	(0)	(4)	 (5)	(6)	
	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	28	\$420		Not Applicable	
2.	Normal Reconnection Includes Bus, Hours and After Bus, Hours	\$15	10	\$145			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	23	\$345			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$7.50	0	\$0			
5.	Return Check Charge	\$15	6	\$90			
6.	Other Charges	\$0	0	\$0			
			67	\$1,000			

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 3 of 7 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rales	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	79	\$785		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$10	120	\$1,195			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$10	108	\$1,080			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$ 5	88	\$44 0			
5.	Return Check Charge	\$15	47	\$705			
6.	Other Charges	\$0	442	\$0 \$4,205			

FPSC

Schedule: E-5 Page 4 of 7 Preparer: Bencini

Company: SSU / Polk / Orange Hill - Sugar Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

	(1)	(2)	(3) Present	(4)		(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues		Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$10	8	\$80	-		Not Applicable	
2.	Normal Reconnection Includes Bus, Hours and After Bus, Hours	\$10	19	\$190				
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$10	38	\$380				
4.	Premise Visit Charge Includes Bus, Hours and After Bus, Hours	\$ 5	8	\$40				
5.	Return Check Charge	\$15	7	\$105				
6.	Other Charges	\$0	0	\$0				
			80	\$795				

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 5 of 7 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Intitial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	371	\$5,565		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	72	\$1,075			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	967	\$14,510			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$7.50	20	\$148			
5.	Return Check Charge	\$15	181	\$2,715			
6.	Other Charges	\$0	0	\$0			
			1,611	\$24,013			

Company: SSU/Hernando/Spring Hill-

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 6 of 7 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues
1.	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	3,689	\$55,335		Not Applicable	
2.	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$15	812	\$12,180			
3.	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$15	1,431	\$21,470			
4.	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$10	396	\$3,960			
5.	Return Check Charge	\$15	397	\$5,955			
6.	Other Charges	\$0	6,725	\$98,900			

Company: SSU / Hillsborough / Vairico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC

Schedule: E-5 Page 7 of 7 Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rales	Units	Revenues	Rates	Units	Revenues
	Initial Connection (Includes Bus. Hours and After Bus. Hours)	\$15	19	\$290		Not Applicable	
	Normal Reconnection Includes Bus. Hours and After Bus. Hours	\$ 15	8	\$125			
	Violation Reconnection Includes Bus. Hours and After Bus. Hours	\$ 15	70	\$1,050			
	Premise Visit Charge Includes Bus. Hours and After Bus. Hours	\$7.50	3	\$2 5			
	Return Check Charge	\$ 15	7	\$105			
	Other Charges	\$0	0	\$0			
			107	\$1,595			

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-Jurisdiction [x]

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Lina				Fire Flow Requirement	N	ad Chardend T	Bublis Fi	IId	nv 01 o		11	
No.	Plant Name	County	Statua	(GPM)	Mumber	e"	ype Public Fi	re elyarents to 10"	12"	onnecting the	Total	Notes
10.	T CALLY (TALLE)		0.0.0	(31 =)		-	<u> </u>				1000	Mores
1	Gibsonia Estates	Polk	Fire Protection Provided	500	-	4	-	-		-	4	
2	Hershel Heights	Hillsborough	Fire Protection Provided	500		11		-			11	
3	Lake Gibson Estates	Polk	Fire Protection Provided	500	-	16	-	-		-	16	
4	Orange Hill / Sugar Creek	Polk	No Fire Protection	-	-	-		-		-	-	
5	Seabord	Hillebarough	Fire Protection Provided	2,500	•	26	-	-	-	-	26	
6	Spring Hill	Hernando	Fire Protection Provided	1,000	-	914	-			-	914	
7	Vekrico Hills	Hillsborough	Fire Protection Provided	500	-	14	-	-	-	•	14	
	Total FPSC Non-Regulated Pla					985					985	

FPSC

Schedule E-8

Preparer: Bencini

Page 1 of 1

SCHEDIII I	FIRE PROTECTION SERVICE -	1004

FPSC

Company: SSU / FPSC Non-Jurisdiction - Summary

Schedule E-7 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(2)

(3)

(4)

(6)

(7)

(8)

9)

(10)

(11) (12)

(14)

(13)

Size and Type:

(5)

Line No.	Plant			Spi	rinkler L	ines:			De	ouble Cł	neck Val	ves;		
1		2"	4"_	6"	8"_	10"	Total	2*	4"	6"_	8"	10"	Total	Combined Total

There are no FPSC non-jurisdiction plants with private fire protection.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs. Describe with whom, the purpose and the elements of each contract shown.

Line (1) (2) No. Туре Description HERSHEL HEIGHTS 2 3 Nasrallah, Herbert Pursuant to Agreement: SSU agrees not to require Herbert Nasrallah to connect 4 Customer # 091594 the property located at 7818 N. 53rd St., Tampa, FL 33617, to its water distribution 5 system until ownership changes.

FPSC Schedule: E-8 Page 1 of 1 Preparer: Bencini

č

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [x] or Wastewater [] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

			<u> </u>				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Plant	County	Type of Tax or Fee	To Whom Paid	Amount	How Collected From Customers	Type of Agreement
1 2	Spring Hill 1/	Hemando	Rev. Assess. Fee	FPSC	4.5%	2/	None
3	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
4	Lake Gibson Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
5	Orange Hill / Sugar Creek	Polk	Franchise Admin, Fee	County	2.5%	3/	Ordinence

^{1/} Spring Hill rescinded FPSC jurisdiction on 4/5/94. Since that time, SSU has been accruing the 4.5% R.A.F., pending final jurisdictional outcome.

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

^{2/} Included in overall cost of service.

^{3/} Billed as a separate line item on customer bills.

A E ON II A E	ALCAN AD		COLLEGIA	4004
SERVICE	AVAILAH	LITY CHARGES	SCHEDULE -	· 1994

FPSC

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-10

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line		Present	Proposed
No.	Type of Charge	Charges	Charges

Please see separate Service Availability Schedules, Volume VIII.

GUARANTEED REVENUES RECEIVED - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-11

Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)
Line	For the	Desidential	General	04	-
No.	Year Ended	Residential	Service	Other	Total

This schedule is not applicable.

CLASS A UTILITY COST OF SERVICE STUDY - 1994 Industrial Customers

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [x] Wastewater []

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12 Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

FPSC

Schedule E-13 Page 1 of 1 Preparer: Bencini

Company: SSU / FPSC Non-Jurisdiction Docket No: 950495-WS

Schedule Year Ended: 12/31/94
Water [x] Wastewater []
Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CONCORDER OF COCK PROJECTOR IN	our or a departed our reduce, in reconstary.	at other crasses or frictor sizes as applicable.		
(1)	(2) (3) (4)	(5) (6) (7)	(8) (9)	(10) (11)
	Number of Bills	Consumption (MG)	Schedule_	Year Revenues
Line	Projection Projected	Projection Projected	Present	Proposed
	,		_	
No. Class/Meter Size	<u>Historical</u> <u>Factor Schedule Year</u>	Historical Factor Schedule Year	Rates Revenue	Rates Revenue

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 1 of 23 Preparer: Bencini Supporting Schedule: E1-2

	on: Provide a schedule of present, intenm (1)	(2)	(3)	(4)	
Line	• •	•	Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	RESIDENTIAL				
1	All Meter Sizes			\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000			\$ 4.75	
4	All Excess Gallons			No Charge	
	RESIDENTIAL WASTEWATER ONLY				
5	All Meter Sizes			\$44.09	
	GENERAL, MULTI-FAMILY SERVICES	Σ.			
	AND COMM. WW ONLY 3/				
6	5/8"x3/4"			\$17.21	
7	3/4"			\$25.82	
8	1"			\$43.03	
9	1 - 1/2"			\$86.05	
10	2"			\$137.68	
11	3"			\$275.36	
12	4"			\$ 430.25	
13	6"			\$860.50	
14	8"			\$1,378.80	
15	10 ⁻			\$ 1,979.15	
18	GALLONAGE CHARGE / MG:				
17	All Gallonage			\$ 5.70	
18	(per 100 cubic ft)			\$4.26	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} SS and Public Authority are not tamified classes but are shown separately on the E-2 and E-13 Schedules. The retes are the same as General and Multi-Family.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water {] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 2 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	EMERGENCY TEMPORARY SEI	RVICE - Sugar Mill Woods			
19	5/8"x3/4"			\$17.21	
20	3/4"			\$17.21	
21	1"			\$17.21	
22	1 - 1 <i>/2</i> "			\$17.21	
23	2"			\$17.21	
24	3"			\$17.21	
25	4"			\$17.21	
26	6 "			\$17.21	
27	8"			\$17.21	
26	10"			\$17.21	
29	GALLONAGE CHARGE / MG:				
30	All Gallonage			\$5.70	
	BULK WASTEWATER - Marco Is	land			
31	5/8"x3/4"			\$17.21	
32	3/4"			\$25.62	
33	1"			\$43.03	
34	1 - 1 <i>[2</i> "			\$66.05	
35	2 ^M			\$137,68	
36	3"			\$275.36	
37	4"			\$430.25	
38	6"			\$860.50	
39	6"			\$1,376.80	
40	10"			\$1,979.15	
41	GALLONAGE CHARGE / MG:				
42	All Gallonage			\$ 5.70	

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final (x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 3 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
.in e			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/
	EFFLUENT - Deltona 4/			
43	5/8"x3/4"			\$0.00
44	3/4"			\$0.00
45	1"			\$0.00
46	1 - 1/2*			\$0.00
47	2 *			\$0.00
48	3 ⁿ			\$0.00
49	4"			\$0.00
50	6"			\$0.00
51	8"			\$0,00
52	10"			\$0.00
53	GALLONAGE CHARGE / MG:			
54	All Gallonage			\$0.06
	EFFLUENT - FL Central Commerce Park			
55	5/8"x3/4"			\$0.00
56	3/4"			\$0.00
57	1"			\$0.00
58	1 - 1/2			\$0.00
59	2 [™]			\$0.00
50	3 ^N			\$0.00
31	4 "			\$0.00
52	8 ⁿ			\$0.00
53	8 ⁴			\$0.00
64	10"			\$0.00
55	GALLONAGE CHARGE / MG:			*
36	Per Sprinkler			\$0.10

^{1/} Rates vary by plant. Refer to following pages for details.

^{2/} Please refer to the supporting schedules for details of the rate design.

^{3/} SS and Public Authority are not terriffed classes but are shown separetely on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{4/} There is no billing history for Deltona.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 4 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	
	EFFLUENT - Lehigh				
67	5/8"x3/4"			\$0.00	
68	3/4"			\$0.00	
69	1"			\$0.00	
70	1 - 1/2"			\$0.00	
71	2"			\$0.00	
72	3"			\$0.00	
73	4"			\$0.00	
74	6"			\$0.00	
75	8"			\$0.00	
76	10"			\$0.00	
77	GALLONAGE CHARGE / MG:			70.00	
78	All Gallonage			\$0.18	

- 1/ Rates vary by plant. Refer to following pages for details.
- 2/ Please refer to the supporting schedules for details of the rate design.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

FPSC

Schedule: E1-1 Page 5 of 23 Preparer: Bencini

Supporting Schedule: E1-2

Explanation: Provide a schedule of	present, interim and Rates.	State residential wastewater cap	o if one exists.

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	1996	
No.	Class/Meter Size	Present Rates 1/	Interim Rates 1/	Final Rates 2/	-
	EFFLUENT - Marco Island				
79	5/8"x3/4"			\$0.00	
80	3/4"			\$0.00	
81	1"			\$0.00	
82	1 - 1/2"			\$0.00	
83	2"			\$0.00	
84	3"			\$0.00	
85	4"			\$0.00	
86	6*			\$0.00	
67	8"			\$0.00	
88	10"			\$0.00	
89	GALLONAGE CHARGE / MG:				
90	All Gallonage			\$0.87	
	MULTI-FAMILY NON-METERED 5/				
91	3"			\$44.09	per unit
					(currently 75 units)

- 1/ Rates vary by plant. Refer to following pages for details.
- 2/ Please refer to the supporting schedules for details of the rate design.
- 3/ SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as Ganeral and Multi-Family.
- 4/ There is no billing history for Deltona.
- 5/ Uses the same rate as Residential Wastewater Only because SSU doesn't supply the water.

648

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [1] FPSC Non-jurisdiction [1]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

Proposed: FPSC Uniform [x]

Leilani Heights

University Shores

Venetian Village

Morningview

Palm Port

Sugar Mill

8

9

10

11

12

13

FPSC Schedule: E1-1 Page 6 of 23

Preparer: Bencini Supporting Schedule: E1-2

\$44,09

\$44.09

\$44.09

\$44.09

\$44.09

\$44.09

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL			
1	All Meter Sizes	\$12.67	\$16.07	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$3.66	\$4.64	\$4.75
4	All Excess Gallons	No Charge	No Charge	No Charge
	RESIDENTIAL WASTEWATER ONLY			
5	Apache Shores	\$17.27	\$21.91	\$44.09
6	Beacon Hills	\$31.86	\$40.42	\$44.09
7	Fisherman's Haven	\$26.37	\$33.46	\$44.09

\$31.03

\$29.84

\$25.16

\$23,45

\$30.01

\$28.81

\$39.37

\$37.86

\$31.92

\$29.75

\$38.07

\$36.55

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schodula:

Schedule: E1-1 Page 7 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	GENERAL, MULTI-FAMILY SERVIC	E\$ 1/			
14	5/8"x3/4"	\$12.67	\$16.07	\$17.21	
15	3/4"	\$19.01	\$24.12	\$25.82	
16	1 ^M	\$31.68	\$4 0.19	\$43.03	
17	1 - 1/2"	\$ 63.37	\$80.40	\$86.05	
18	2"	\$101.39	\$128.63	\$137.68	
19	3 ⁿ	\$202.77	\$257.25	\$275.36	
20	4*	\$316.83	\$401.96	\$430.25	
21	6"	\$633.66	\$803.92	\$860.50	
22	8"	\$1,013.85	\$1,286.27	\$1,376.80	
23	10"	\$1,457.41	\$1,849.02	\$1,979.15	
24	GALLONAGE CHARGE / MG:	- ,			
25	All Gallonage	\$4.39	\$ 5.57	\$ 5.70	
26	(per 100 cubic ft)	\$3.28	\$4.17	\$4.26	

^{1/} SS and Public Authority are not terriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [1] FPSC Non-jurisdiction [1]

Proposed: FPSC Uniform [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

FPSC Schedule: E1-1 Page 8 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	EMERGENCY TEMPORARY SERVICE -	Sugar Mill Woods			
27	5/8"x3/4"	\$12.67	\$16.07	\$17.21	
26	3/4"	N/A	N/A	\$17.21	
29	1"	N/A	N/A	\$17.21	
30	1 - 1/2"	N/A	N/A	\$17.21	
31	2"	N/A	N/A	\$17.21	
32	3"	N/A	N/A	\$17.21	
33	4"	N/A	NA	\$17.21	
34	6"	N/A	N/A	\$17.21	
35	8"	N/A	N/A	\$17.21	
36	10"	N/A	N/A	\$17.21	
37	GALLONAGE CHARGE / MG:				
38	All Gallonage	\$4.39	\$ 5.57	\$ 5.70	
	EFFLUENT - Deltona 2/				
39	5/8"x3/4"	\$0.00	\$0.00	\$6.35	
40	3/4"	\$0.00	\$0.00	\$0.00	
41	1"	\$0.00	\$0.00	\$0.00	
42	1 - 1/2"	\$0.00	\$0.00	\$0.00	
43	2"	\$0.00	\$0.00	\$0.00	
44	3"	\$0.00	\$0.00	\$0.00	
45	4"	\$0.00	\$0.00	\$0.00	
46	6"	\$0.00	\$0.00	\$0.00	
47	8**	\$0.00	\$0.00	\$0.00	
48	10"	\$0.00	\$0.00	\$0.00	
49	GALLONAGE CHARGE / MG:	40.00	₩	40.00	
50	All Gationage	\$0.06	\$0.06 3/	\$0.06 3/	

^{1/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 end E-13 Schedules. The rates are the same as General and Multi-Family.

^{2/} There is no billing history for Deltona.

^{3/} By contract, rata cannot be changed.

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Schedule: E1-1 Page 9 of 23 Preparer: Bencini

FPSC

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	EFFLUENT - FL Central Commerce I	Park			
51	5/8"x3/4"	\$0.00	\$0.00	\$0.00	
52	3/4"	\$0.00	\$0.00	\$0.00	
53	1"	\$0.00	\$0.00	\$0.00	
54	1 - 1/2"	\$0.00	\$0.00	\$0.00	
55	2"	\$0.00	\$0.00	\$0.00	
56	3"	\$0.00	\$0.00	\$0.00	
57	4"	\$0.00	\$0.00	\$0.00	
58	6"	\$0.00	\$0.00	\$0.00	
59	8"	\$0.00	\$0.00	\$0.00	
80	10"	\$0.00	\$0.00	\$0.00	
81	GALLONAGE CHARGE / MG:				
82	Per Sprinkler Head 4/	\$0.06	\$0.08	\$0.10	

^{1/} SS and Public Authority are not tarriffed classes but are shown separetely on the E-2 and E-13 Schedules. The retes are the same as General and Multi-Family.

^{2/} There is no billing history for Deltona.

^{3/} By contract, rate cannot be changed.

^{4/} Sprinkler heads are stated as gallonage in the E2-1, E2-2 and E-13 Schedules for presentational purposes.

Company: SSU / Osceola / Buenaventura Lakes (Pending Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 10 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Retes 1/	Interim Rates 1/	Final Rates	
	<u> </u>				
	RESIDENTIAL				
1	All Mater Sizes	\$8.57	\$8.57	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$4.50	\$4.50	\$4.75	
	6,001 - 10,000	\$4.50	\$4.50	\$0.00	
4	All Excess Gallons	\$0.00	\$0.00	\$0.00	
	DECIDENTIAL MACTEMATER ON V				
_	RESIDENTIAL WASTEWATER ONLY			****	
5	All Meter Sizes	\$29.22	\$29.22	\$44.09	
	GENERAL SERVICE				
6	5/8"x3/4"	\$8.57	\$8.57	\$17.21	
7	3/4"	\$12.86	\$12.86	\$25.82	
8	1"	\$21.42	\$ 21.4 2	\$43.03	
9	1 - 1/2"	\$42.83	\$42.83	\$86 .05	
10	2*	\$88.52	\$68.52	\$137.68	
11	3"	\$137.08	\$137.08	\$275.36	
12	4"	\$214.16	\$214.16	\$430.25	
13	8 ^M	\$ 428.35	\$ 428.35	\$860.50	
14	8"	NA	N/A	\$1,376.80	
15	10"	N/A	N/A	\$1,979.15	
16	GALLONAGE CHARGE / MG:			• •	
17	All Gallonage	\$ 5.39	\$5.39	\$ 5.70	

^{1/} The proposed interim rates are the same as the present rates. These rates are shown only for presentation purposes.

553

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 11 of 23 Preparer: Bencini Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$19.40	\$24.61	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$3,97	\$5.04	\$4.75	
4	6,001 - 10,000	\$3.97	\$5.04	No Charge	
5	All Excess Gallons	No Charge	No Charge	No Charge	
	GENERAL, MULTI-FAMILY SERVICES				
6	5/8"x3/4"	\$19.40	\$24 .61	\$17.21	
7	3/4"	\$19.40	\$24 .61	\$25.82	
8	1"	\$48.52	\$61.56	\$43.03	
9	1 - 1/2"	\$97.02	\$123.09	\$86.05	
10	2"	\$155.25	\$196.97	\$137.68	
11	3"	\$310.50	\$393.93	\$275.36	
12	4"	\$485.17	\$ 615.54	\$430.25	
13	6*	\$ 970.31	\$1,231.03	\$860.50	
14	8"	\$ 970.31	\$1,231.03	\$1,376.80	
15	10°	N/A	N/A	\$1,979.15	
16	GALLONAGE CHARGE / MG:			-	
17	All Gallonage	\$4.75	\$6.03	\$5.70	

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 12 of 23 Preparer: Bencini

Supporting Schedule: E1-2

-	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
<u>No.</u>	Class/Meter Size	Present Rates	Interim Rates	Finel Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$1 3.11	\$16.63	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$3.01	\$3.82	\$ 4.75	
4	6,001 - 10,000	\$3.01	\$3.82	No Charge	
5	All Excess Gallons	No Cherge	No Charge	No Charge	

655

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 13 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(3)	(4)
Line			Proposed 1995	Proposed 1996
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates
	RESIDENTIAL			
1	All Meter Sizes	\$ 15.45	\$19.60	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$3.86	\$4.90	\$4.75
4	All Excess Gallons	No Charge	No Charge	No Charge
	RESIDENTIAL WASTEWATER ONLY			
5	All Meter Sizes	\$27.81	\$35.28	\$44.09
	GENERAL SERVICE			
6	5/8"x3/4"	\$ 15.45	\$19.60	\$17.21
7	3/4"	\$23.18	\$29.41	\$25.82
8	1"	\$38.64	\$49.02	\$43.03
9	1 - 1/2"	\$77.27	\$98.03	\$86.05
10	2"	\$123.63	\$156.85	\$137.68
11	3"	\$247.27	\$313.71	\$275.38
12	4"	\$386.35	\$490.16	\$430.25
13	6"	\$772.71	\$980.34	\$860.50
14	8 ^m	\$1,236.34	\$1,568.54	\$1,378.80
15	10"	\$1,777.23	\$2,254.77	\$1,979.15
16	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$4.63	\$5.87	\$5.70

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC

Schedule: E1-1 Page 14 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)	(2)	(3)	,
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
	EFFLUENT				
18	5/8"x3/4"	\$0.00	\$0.00	\$0.00	
19	3/4"	\$0.00	\$0.00	\$0.00	
20	1"	\$0.00	\$0.00	\$0.00	
21	1 - 1/2"	\$0.00	\$0.00	\$0.00	
22	2"	\$0.00	\$0.00	\$0.00	
23	3"	\$0.00	\$0.00	\$0.00	
24	4*	\$0.00	\$0.00	\$0.00	
25	6"	\$0.00	\$0.00	\$0.00	
26	8"	\$0.00	\$0.00	\$0.00	
27	10"	\$0.00	\$0.00	\$0.00	
28	GALLONAGE CHARGE / MG:				
29	All Gallonage	\$0.11	\$0.14	\$0.18	

00/

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: Provide e schedule of present, interim and Rates. State residential wastewatar cap if one exists.

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Siza	Present Rates	Interim Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$11.10	\$14.08	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 8,000	\$3.20	\$4.06	\$ 4.75	
4	8,001 - 10,000	\$3.20	\$4.06	No Charge	
5	All Excess Gallons	No Charge	No Charge	No Charge	
	GENERAL, MULTI-FAMILY SERVICES. AND COMM. WWY ONLY				
6	5/8"x3/4"	\$11.10	\$14.08	\$17.21	
7	3/4"	\$18.65	\$21.12	\$25.82	
8	1"	\$22.20	\$28.17	\$43.03	
9	1 - 1/2"	\$ 55.51	\$70.43	\$86.05	
10	2*	\$88.81	\$112.87	\$137.68	
11	3"	\$177.62	\$225.35	\$275.36	
12	4"	\$277.54	\$352.11	\$430.25	
13	6"	\$555.08	\$704.23	\$860.50	
14	8"	\$888.12	\$1,126.76	\$1,376.80	
15	10"	\$1,276.68	\$1,619.72	\$1,979.15	
16	GALLONAGE CHARGE / MG:				
17	All Gallonage	\$3.65	\$4.88	\$5.70	

FPSC

Schedule: E1-1

Page 15 of 23

Preparer: Bencini

Supporting Schedule: E1-2

ç

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 16 of 23 Preparer: Bencini

Supporting Schedule: E1-2

	(1)	(2)		(2)		(4)	
Line				Proposed 1995		Proposed 1996	
No.	Class/Meter Size	Present Rates		Interim Rates	_	Final Rates	
	EFFLUENT						
16	5/8"x3/4"	\$0.00		\$0.00		\$0.00	
19	3/4"	\$0.00		\$0.00		\$0.00	
20	1"	\$0.00		\$0.00		\$0.00	
21	1 - 1/2"	\$0.00		\$0.00		\$0.00	
22	2"	\$0.00		\$0.00		\$0.00	
23	3"	\$0.00		\$0.00		\$0.00	
24	4"	\$0.00		\$0.00		\$0.00	
25	6"	\$0.00		\$0.00		\$0.00	
26	8"	\$0.00		\$0.00		\$0.00	
27	10"	\$0.00		\$0.00		\$0.00	
28	GALLONAGE CHARGE / MG:						
29	All Gallonage	\$0.25		\$0.32		\$0.87	
	MULTI-FAMILY NON-METERED 1/						
30	3"	\$26.80	\$0.00	\$34.28	per unit	\$44.09	per unit
		\$2,010.00	(currently 75 units)		(currently 75 units)		(currently 75 units)

^{1/} Uses the same rate as the Proposed Uniform Residential Wastewater Only because SSU doesn't supply the water.

Company: SSU / Citrus / Spring Gardens (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-1 Page 17 of 23 Preparer: Bencini

Supporting Schedule: E1-2

Explanation: Provide a schedule of	present, interm and Rates.	State residential wastew	rater cap if one exists.

	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Intenm Rates	Final Rates	
	RESIDENTIAL				
1	All Meter Sizes	\$8.31	\$10.54	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$2.48	\$3.15	\$4.75	
4	All Excess Gallons	No Charge	No Charge	No Charge	
	GENERAL SERVICE				
5	5/8"x3/4"	\$8.31	\$10.54	\$17.21	
6	3/4"	\$12.47	\$15.82	\$25.82	
7	1"	\$20.78	\$26.36	\$43.03	
8	1 - 1/2"	\$41.57	\$52.74	\$86.05	
9	2"	\$66.51	\$84.38	\$137.68	
10	3"	\$133.01	\$168.75	\$275.36	
11	4"	\$207.83	\$263.67	\$430.25	
12	6"	\$415.66	\$527.35	\$860.50	
13	8"	N/A	N/A	\$1,376.80	
14	10"	N/A	N/A	\$1,979.15	
15	GALLONAGE CHARGE / MG:			* 1,	
16	All Gallonage	\$2.98	\$3.78	\$5.70	

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

Lir No		(2) Present Rates	(3) Proposed 1995 Interim Rates	(4) Proposed 1996 Final Rates
1	RESIDENTIAL WASTE	WATER ONLY \$13.33	\$ 16.91	\$44.09

FPSC Schedule: E1-1 Page 18 of 23 Preparer: Bencini Supporting Schedule: E1-2

661

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Lake / Valencia Terrace (New Acquisition)

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim () Final [x] Historical [] Projected (x)

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation	 Provide a schedule of present, interim and Rates 	 State residential wastew 	ater cap if one exists.		
	(1)	(2)	(3)	(4)	
Line			Proposed 1995	Proposed 1996	
No.	Class/Meter Size	Present Rates	Interim Rates	Final Rates	
					
	RESIDENTIAL				
1	All Meter Sizes	\$8.49	\$10.77	\$17.21	
2	GALLONAGE CHARGE / MG:				
3	0 - 6,000	\$1.56	\$ 1.98	\$4.75	
4	(charge / 100 cubic ft for 0 - 802 cubic ft)	\$1.17	\$1.48	\$3.55	
5	8,001 - 9,725	\$1.56	\$1.98	No Charge	
6	(charge / 100 cubic ft for 803 - 1,300 cubic ft)	\$1.17	\$1.48	No Charge	
7	All Excess Gallons	No Charge	No Charge	No Charge	
8	(All Excess Cubic ft)	No Charge	No Charge	No Charge	
	GENERAL SERVICE				
9	5/8"x3/4"	\$8.49	\$10.77	\$17.21	
10	3/4"	N/A	N/A	\$25.82	
11	1 ⁿ	\$21.22	\$26.92	\$43.03	
12	1 - 1/2"	\$42.49	\$53.91	\$86.05	
13	2"	\$67.91	\$86.16	\$137.68	
14	3"	\$135.97	\$172.51	\$275.36	
15	4 ^H	\$212.47	\$269.56	\$430.25	
16	6"	N/A	N/A	\$860.50	
17	8"	N/A	N/A	\$1,376.80	
18	10"	N/A	N/A	\$1,979.15	
19	GALLONAGE CHARGE / MG:				
20	All Gallonage	\$1.56	\$1.98	\$5.70	
21	(per 100 cubic ft)	\$1.17	\$1.48	\$4.26	

FPSC

Schedule: E1-1

Page 19 of 23

Preparer: Bencini Supporting Schedule: E1-2

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$22.50	\$28.55	\$17.21
2	GALLONAGE CHARGE / MG:	\$22.55	420.00	¥11.21
3	0 - 6,000	\$0.00	\$0.00	\$4.75
4	All Excess Gallons	\$0.00	\$0.00	\$0.00
	RESIDENTIAL WASTEWATER ONLY 4/			
5	All Meter Sizes	\$22.50	\$28.55	\$44.09
	GENERAL SERVICE 4/			
6	5/8"x3/4"	\$22.50	\$28.55	\$17.21
7	3/4"	\$22.50	\$28.55	\$25.82
8	1"	\$22.50	\$28.55	\$43.03
9	1 - 1/2"	\$22.50	\$28.55	\$86.05
10	2"	\$22.50	\$28.55	\$137.68
11	3"	\$22.50	\$28.55	\$275.36
12	4"	\$22.50	\$28.55	\$430.25
13	6"	\$22.50	\$28.55	\$860.50
14	8"	\$22.50	\$28.55	\$1,376.80
15	10"	\$22.50	\$28.55	\$1,979.15
16	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$0.00	\$0.00	\$5.70

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 20 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

Company: SSU / Polk / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists.

Page 21 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

FPSC

Schedule: E1-1

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$19.16	\$24.31	\$17.21
2	GALLONAGE CHARGE / MG:	·	·	
3	0 - 6,000	\$2.98	\$3.78	\$4.75
4	6,001 - 10,000	\$2.98	\$3.78	\$0.00
4	Ali Excess Gallons	\$0.00	\$0.00	\$0.00
	GENERAL, MULTI-FAMILY SERVICES			
5	5/8"x3/4"	\$19.16	\$24.31	\$17.21
6	3/4"	N/A	N/A	\$25.82
7	1"	\$47.91	\$60.78	\$43.03
8	1 - 1/2"	\$95.82	\$121.57	\$86.05
9	2"	\$153.31	\$194.50	\$137.68
10	3"	\$306.62	\$389.01	\$275.36
11	4"	N/A	N/A	\$430.25
12	6 ⁿ	N/A	N/A	\$860.50
13	8"	N/A	N/A	\$1,376.80
14	10"	N/A	N/A	\$1,979.15
15	GALLONAGE CHARGE / MG:			
16	All Gallonage	\$ 3.58	\$4.54	\$5.70

^{1/} Please refer to the supporting schedules for details of the rate design.

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water () Wastewater [x] Interim () Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation	on: Provide a schedule of present, interim and Rates	. State residential wastewater of	ap if one exists.	
Line	(1)	(2) Present Monthly	(3) Proposed 1995	(4) Proposed 1996
No.	Class/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$12.26	\$15.55	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$3.54	\$4.49	\$4.75
4	All Excess Galions	\$0.00	\$0.00	\$0.00
	RESIDENTIAL WASTEWATER ONLY			
5	All Meter Sizes	\$24.86	\$31.54	\$44.09
	GENERAL, MULTI-FAMILY SERVICES			
6	5/8"x3/4"	\$12.26	\$15.55	\$17.21
7	3/4"	\$18.39	\$23.33	\$25.82
8	1"	\$30.65	\$38.89	\$43.03
9	1 - 1/2"	\$61.30	\$77.77	\$86.05
10	2 [*]	\$98.08	\$124.43	\$137.68
11	3"	\$196.16	\$248.87	\$275.38
12	4"	\$306.50	\$388.86	\$430.25
13	6"	\$613.00	\$777.71	\$860.50
14	8"	\$980.80	\$1,244.34	\$1,376.80
15	10°	\$1,409.90	\$1,788.74	\$1,979.15
18	GALLONAGE CHARGE / MG:			
17	Ali Gallonage	\$4.25	\$5.39	\$5.70
	BULK WASTEWATER			
18	All Meter Sizes	\$0.00	\$0.00	\$0.00
19	GALLONAGE CHARGE / MG:			
20	All Gallonage	\$2.35	\$2.35	\$2.35

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC Schedule: E1-1 Page 22 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

665

SCHEDULE OF WASTEWATER RATES - 1996 Summary of Proposed Rates for Proposed Uniform

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present, interim and Rates. State residential wastewater cap if one exists

	(1)	(2)	(3)	(4)
Line		Present Monthly	Proposed 1995	Proposed 1996
No.	Ctass/Meter Size	Equivalent Rates	Interim Rates	Final Rates 1/
	RESIDENTIAL SERVICE		_	
1	All Meter Sizes	\$10.00	\$12.69	\$17.21
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$0.00	\$0.00	\$4.75
4	All Excess Gallons	\$0.00	\$0.00	\$0.00

^{1/} Please refer to the supporting schedules for details of the rate design.

FPSC

Schedule: E1-1 Page 23 of 23 Preparer: Bencini Supporting Schedules: E1-2, E1-3, E1-4

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water () Wastewater (x) Interim () Final (x) Historical () Projected (x)

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: FPSC Uniform (x)

FPSC Schedule: E1-2 Page 1 of 8 Preparer: Bencini

Explanation: Provide a schedule of variables used in the rate design. (12) (13) (5) (6) (7) (0) (10) (11) (14) (1) (2) (16) CONSUMPTION ERC's REVENUES BFC Factored Factored Gallonege 1996 Meter ERC's Gallonage Gallonage Line Total Proposed Pates Parters / MilG Revenue Factor 1/ CFC5 Cop Capped Usage Factor 2/ C9*C10 (C7,L279) * C5 C4°C12 (C7,L280)*C10 Class \$tze Billis Usage (C9/1000)*C14 No. Name FPSC Juris. Unl. Plante 5/8" X 3/4" 15,613 15,613 150,315,085 6,000 65.163.296 1.0 65,163,296 \$17.21 \$268,700 Amelia Island Res. 1.0 \$4.75 \$309,528 6,000 2.573.985 3/4" 517 1.0 517 8,269,340 1.0 2.573.985 \$17.21 \$8,896 \$4.75 \$12,226 1,529,612 6,000 308,983 1.0 308,993 \$1,138 3 66 1.0 66 \$17.21 \$4.75 \$1,468 14 240.365 6,000 78,121 1.0 78.121 1 1/2" 14 1.0 \$17.21 \$241 \$4.75 \$371 5 Com. 5/8" X 3/4" 277 1.0 277 2.697.073 2.697.073 1.2 3.236.488 \$17.21 \$4,767 \$5.70 \$15,373 6 3/4" 68 1.5 102 2.153.962 2.153.962 1.2 2.584,754 \$25.82 \$1,756 \$5.70 \$12,278 176 2.5 445 6,754,014 6.754.014 1.2 8.104.817 \$43.03 7 \$7,859 \$5.70 \$38,498 1 1/2" 205 5.0 1,025 5,731,302 5,731,302 1.2 6.877.582 \$86.05 \$17,840 В \$5,70 \$32,668 2* 355 8.0 2.840 57.957.541 57.957.541 1.2 69,549,049 \$137.69 \$48,676 \$5.70 \$330,358 69 1,424 20,160,490 1.2 24,192,588 \$275.36 10 3 16.0 20,160,490 \$24,507 \$5.70 \$114.915 25.0 1,700 17,817,014 17,817,014 1.2 21,380,417 \$430.25 4 68 \$29,257 11 \$5.70 \$101,557 14 50.0 700 39.391.337 39.391.337 1.2 47,269,604 \$860.50 \$12,047 12 \$5.70 \$224,531 13 2 80.0 160 405.451 405.451 1.2 486,541 \$1,376,80 \$2,754 \$5,70 \$2,311 14 Apache Shores Res. 5/8° X 3/4" 1,170 1.0 1,170 1,921,409 6.000 1.613.216 1.0 1,813,216 \$17.21 \$20,136 \$4.75 \$8,613 15 Res. Sew. Only 5/8" X 3/4" 178 0.0 0.0 \$0.00 \$0.00 \$0 18,693,969 6.000 6,482,261 6,482,261 \$17.21 \$29,257 18 Apple Valley 5/8" X 3/4" 1,700 1.0 1,700 1.0 \$4.75 \$40,291 17 1" 1.0 178,000 6.000 109,260 1.0 109,260 \$17.21 \$413 \$4,75 24 24 \$519 12 187,120 6.000 72,000 1.0 72,000 18 7 12 1.0 \$17.21 \$207 \$4,75 \$342 982,516 1.179.019 19 Com. 5/8° X 3/4° 234 1.0 234 962,518 1.2 \$17.21 \$4 027 \$5,70 \$5,600 38 95 232,330 232,330 1.2 278,798 \$43.03 20 2.5 \$1,635 \$5.70 \$1,324 21 Res. 5/8" X 3/4" 33,206 1.0 33,206 410,363,489 6.000 172,227,648 1.0 172,227,648 \$17.21 \$571,475 \$4.75 Beacon Hills \$816,081 22 34" 3.412 1.0 3,412 47,503,082 6,000 18,078,047 1.0 18,076,047 \$17.21 \$58,721 \$4,75 \$76,361 23 279 1.0 279 6,849,248 6,000 1,535,849 1.0 1,535,849 \$17.21 \$4,802 \$4.75 \$7,295 24 1 1/2" 301,695 6,000 32,484 1.0 32,484 \$17.21 \$86 5 1.0 5 \$4.75 \$154 25 Res. Sew. Only 5/8" X 3/4" 13 0.0 0 0.0 20.00 \$0 \$0.00 \$0 14,604,049 26 Madi Fam. 1 1/2* 364 1.820 12,170,041 12,170,041 12 \$86.05 \$31,322 5.0 \$5.70 \$69,369 6.932.845 6,932,845 10.719.414 27 Com. 5/8" X 3/4" 710 1.0 710 12 \$17.21 \$12,219 \$50,917 \$5.70 28 3/4" 1.5 39 320,095 320.095 12 384,114 \$25.82 \$871 28 \$5.70 \$1,825 29 22 2.5 55 3,549,273 3,549,273 1.2 4,259,128 \$43.03 \$947 \$5.70 \$20,231 195 5,338,939 5,338,939 1.2 6,406,727 30 1 1/2* 39 6.0 \$86.05 \$3,356 \$5.70 \$30,432 480 31 2* 60 8.0 16,832,008 16,832,008 12 20,198,410 \$137.68 \$8,261 \$5.70 \$95,942 32 Beecher's Point Res. 5/8" X 3/4" 182 1.0 182 555,067 6.000 486,027 1.0 486,027 \$17.21 \$3,132 \$4,75 \$2,309 33 Multi-Fam. 12 25.Q 300 1,446,022 1,446,022 12 1,735,226 \$430.25 \$5,163 \$5.70 4" \$8,242 6,538 15,117,954 6,000 11,574,737 1.0 11,574,737 \$17.21 \$112,519 34 **Burnt Store** Res. 5/8" X 3/4" 6.536 1.0 \$4.75 \$54,980 35 83 1.0 93 308,959 6.000 258,318 1.0 258,318 \$17.21 \$1,601 \$4.75 \$1,227 36 Multi-Fam. 1" 168 2.5 465 2,987,794 2,987,794 1.2 3,585,353 \$43.03 \$8,004 \$5.70 \$17,030 37 1 1/2* 350 5.0 1.750 3,493,947 3,493,947 1.2 4.192.736 \$86.06 \$30,118 \$5.70 \$19,915 5.208.004 6.248.605 \$137.68 36 T 186 6.0 1.488 5,208,004 1.2 \$25,608 \$5.70 \$29,686 25.0 250 457,664 457,664 1.2 549,197 \$430.25 \$4,303 \$5.70 \$2,609

667

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water () Wasternater (x)
Interim () Final (x)
Historical () Projected (x)
Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)
Proposed: FPSC Uniform (x)

Explanation: Provide a actuable of variables used in the rate design.

FPSC Schedule: E1-2 Page 2 of 8 Preparer: Bencini

	(1)	(2)	(3)	(4)	(5) ERC's	(5)	Ø	(A)	(9) CONSUMPTION	(10)	(11)	(12)	(12) REVI	(14) Enues	(16)
						Factored					Fectored	BFC		Gallone	ige
)	Plant		Meter	1996	Motor	ERC's	Total	Proposed		Gallonage	Gallonage	Rates	Revenue	Rates / MG	Revenue
-	Name .	Class	Size	- Gills	Fector 1/	C4°C5	Usage	Cap	Capped Usage	Factor 2/	C9°C10	(C7,L279) • C5	C4°C12	(C7,L280)*C10	(C9/1000)*C14
)	Burnt Store (cont.)	Multi-Fem.	8"	14	80.0	1,120	290,423		290,423	1.2	348,508	\$1,376.80	\$19,275	\$5.70	\$1,65
		Com.	5/8" X 3/4"	128	1.0	128	423,091		423,091	1.2	507,709	\$17.21	\$2,203	\$5.70	\$2,41
!			1"	31	2.5	78	889,593		889,593	1.2	1,067,512	\$43.03	\$1,334	\$5.70	\$5,07
1			1 1/2"	46	5.0	230	354,938		354,938	1.2	425,926	\$86.05	\$3,958	\$5.70	\$2,02
ļ			2*	93	8.0	744	3,910,721		3,910,721	1.2	4,692,865	\$137.68	\$12,804	\$5.70	\$22,29
i			4*	23	25.0	575	769,357		769,357	1.2	923,228	\$430.25	\$9,896	\$5.70	\$4,38
}	Chuluota	Res.	5/8" X 3/4"	1,630	1.0	1,630	9,411,873	6,000	6,809,872	1.0	6,809,872	\$17.21	\$28,052	\$4.75	\$32,34
,	Citrus Park	Res.	5/8" X 3/4"	3,247	1.0	3,247	19,129,061	6,000	14,217,782	1.0	14,217,782	\$17.21	\$55,881	\$4.75	\$87,53
1		Com.	1*	12	2.5	30	238,923		238,923	1.2	286,708	\$43.03	\$516	\$5.70	\$1,36
ı	Citrus Springs	Res.	5/8" X 3/4"	6,071	1.0	8,071	35,229,586	8,000	27,111,186	1.0	27,111,168	\$17.21	\$138,902	\$4.75	\$128,77
•			1*	97	1.0	97	800,530	8,000	441,820	1.0	441,820	\$17.21	\$1,669	\$4.75	\$2,06
		Com.	5/8° X 3/4°	104	1.0	104	441,747		441,747	1.2	530,098	\$17.21	\$1,790	\$5.70	\$2,51
			1"	12	2.5	30	190,512		180,512	1.2	228,814	\$43.03	\$516	\$5.70	\$1,0
1			2"	15	6.0	120	157,383		157,393	1.2	168,872	\$137.68	\$2,065	\$5.70	\$8
ļ	Deltona	Res.	5/8° X 3/4°	53,824	1.0	53.824	286,510,271	6,000	203,126,143	1.0	203,126,143	\$17.21	\$926,311	\$4.75	\$964,8
i			1"	394	1.0	394	4,524,797	6,000	1,866,607	1.0	1,866,607	\$17.21	\$8,781	\$4.75	\$8,8
i			1 1/2"	12	1.0	12	17,168	6,000	17,166	1.0	17,168	\$17.21	\$207	\$4.75	\$
,			4*	12	1.0	12	1,974,173	6,000	73,593	1.0	73,593	\$17.21	\$207	\$4.75	\$3
ļ		Com.	5/8" X 3/4"	1,713	1.0	1,713	12,852,619	•,	12,852,619	1.2	15.423.143	\$17.21	\$29,481	\$5.70	\$73.2
)			1*	269	2.5	673	7,379,597		7,379,597	1.2	8,855,516	\$43.03	\$11,575	\$5.70	\$42.0
)			1 1/2"	83	5.0	415	4,726,464		4,726,464	1.2	5,671,757	\$86.05	\$7,142	\$5.70	\$26,9
			2"	214	8.0	1,712	12,200,151		12,200,151	1.2	14,640,181	\$137.68	\$29,464	\$5.70	\$89,5
!			3*	49	16.0	784	9,699,237		9,699,237	1.2	11,639,084	\$275.36	\$13,493	\$5.70	\$55,2
ı			ď	61	25.0	1,525	18,252,118		18,252,116	1.2	21,902,539	\$430.25	\$28,245	\$5.70	\$104,0
	Fisherman's Haven	Res.	5/8' X 3/4"	1,632	1.0	1,632	9,097,526	8.000	8,432,800	1.0	6,432,800	\$17.21	\$28,087	\$4.75	\$30,5
		Res. Sew. Only	5/8" X 3/4"	84	0.0	0	0,007,000	0,000	0,442,000	0.0	0 معتبر عب	\$0.00	\$0	\$0.00	0.0,0
		Com.	5/8' X 3/4'	12	1.0	12	8.050		8.050	1,2	9,660	\$17.21	\$207	\$5.70	1
	FL. Cent. Comm. Park	Com.	5/8" X 3/4"	100	1.0	100	2,857,865		2,857,885	1.2	3,429,462	\$17.21	\$1,721	\$5.70	\$16,2
		•	3/4*	114	1.5	171	1,861,765		1,851,765	1.2	2,222,118	\$25.82	\$2,943	\$5.70	\$10,5
			1"	52	2.5	130	1,323,997		1,323,997	1.2	1,588,798	\$43.03	\$2,238	\$5.70	\$7,5
,			1 1/2"	67	5.0	335	2,775,493		2,775,483	1.2	3,330,592	\$86.05	\$5,765	\$5.70	\$15,8
			2"	69	6.0	712	5,592,617		5,582,817	1.2	6,711,380	\$137.66	\$12,254	\$5.70	\$31,6
			7	13	25.0	325	5,270,564		5,270,564	1.2	6,324,877	\$430.25	\$5.593	\$5.70	\$30,0
		Effluent	5/8" X 3/4"	108	0.0	0	7,776		7,776,000	0.0	0,32,4,017	\$0.00	\$0	\$0.00	400,0
	Fox Run	Res.	5/8' X 3/4'	1,245	1.0	1.245	11,216,641	6,000	6,580,137	1.0	6,580,137	\$17.21	\$21,426	\$4.75	\$31,2
	Holiday Haven	Res.	5/8" X 3/4"	1,076	1.0	1.078	3,415,374	6,000	2,841,771	1.0	2,841,771	\$17.21	\$16,518	\$4.75	\$13,4
	- Amely - Martin	Com,	5/8" X 3/4"	12	1.0	12	228.219	6,000	2,641,771	1.0	273,863	\$17.21 \$17.21	\$10,510	\$5.70	\$1,3
		Julii,	1"	12	2.5	30	20.619		20,619	1.2	24,743	\$43.03	\$516	\$5.70	\$11

899

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/98 Water [| Wastewater [x]

Schedule: E1-2 Page 3 of 8 Preparer: Bencini

FPSC

Explanation: Provide a achedule of variables used in the rate design.

	(1)	(2)	(4)	(4)	(fi) ERC's	(9)	Ø	(0)	(9) CONSUMPTION	(10)	(11)	(12)	(14)	(14) ENUES	(16)
					CHUE	Factored			COMPONENTION		Fectored	8FC	MEY	Gallon	
Line	Plant		Motor	1996	Maker	ERC's	Total	Proposed		Gallonage	Gallonege	Rates	Florence	Rates / MG	age Revenue
No.	Name	Class	Size	Bills	Factor 1/	CAPCS	Usage	Cap	Capped Vesque	Factor 2/	CP*C18	(C7 L279) * C5	C4°C12	(C7,L280)*C10	(C9/1000)*C14
														(3.,,, 7	100 1000/ 011
78	Jungle Den	Res.	5/8" X 3/4"	1,409	1.0	1,409	3,622.739	6,000	2,697,989	1.0	2,697,989	\$17.21	\$24,24 9	\$4.75	\$12,615
79	Leilani Heighta	Res.	5/8° X 3/4°	4,681	1.0	4,681	42,805,768	6,000	23,346,302	1.0	23,346,302	\$17.21	\$80,560	\$4.75	\$110,895
80	-	Com.	2"	12	8.0	96	1,438,500		1,438,500	1.2	1,726,200	\$137.68	\$1,652	\$5.70	\$8,199
61	Leisure Lakes(Cov. Bridge)	Res.	5/8" X 3/4"	2,730	1.0	2,730	6,324,793	6,000	5,816,779	1.0	5,918,779	\$17.21	\$46,963	\$4.75	\$28,114
B12		Com.	5/8" X 3/4"	24	1.0	24	681,840		681,840	1.2	818,208	\$17.21	\$413	\$5.70	\$3,886
83	Marco Shores	Res.	5/8° X 3/4"	3,038	1.0	3,038	7,122,537	6,000	8,572,444	1.0	6,572,444	\$17.21	\$52,284	\$4.75	\$31,219
64		Multi-Fam.	2"	68	8.0	704	5,583,820		5,583,820	1.2	6,700,584	\$137.68	\$12,118	\$5.70	\$31,828
85		Com.	5/8° X 3/4°	38	1.0	38	181,143		161,143	1,2	193,372	\$17.21	\$654	\$5.70	\$919
69			1"	2	2.5	5	115,443		115,443	1.2	138,532	\$43.03	\$86	\$5.70	\$656
67			1 1/2"	13	5.0	65	558,991		558,991	1.2	670,789	\$86.05	\$1,119	\$5.70	\$3,186
86	Marion Caks	Res.	5/8" X 3/4"	16,050	1.0	16,050	67,386,028	000,0	52,872,378	1.0	52,672,378	\$17.21	\$279,221	\$4.75	\$251,144
89			1*	170	1.0	170	712,817	6,000	562,156	1.0	582,156	\$17.21	\$2,926	\$4.75	\$2,670
90		Com.	5/8" X 3/4"	148	1.0	148	569,332		569,332	1.2	683,198	\$17.21	\$2,547	\$5.70	\$3,245
91			1 1/2"	37	5.0	185	698,394		690,394	1.2	838,073	\$86.05	\$3,164	\$5.70	\$3,981
92			2"	37	6.0	296	1,546,691		1,546,661	1.2	1,855,993	\$137.68	\$5,094	\$5.70	\$8,816
83			3"	12	16.0	192	2,998,437		2,998,437	1.2	3,598,124	\$275.36	\$3,304	\$5.70	\$17,091
94	Meredith Manor	Res.	5/8" X 3/4"	301	1.0	301	3,411,002	6,000	1,574,060	1.0	1,574,060	\$17.21	85,180	\$4.75	\$7,477
95			1*	12	1.0	12	\$2,447	6,000	70,056	1.0	70,056	\$17,21	\$207	\$4,75	\$333
98		Com.	1*	37	2.5	93	964,706		964,706	1.2	1,157,847	\$43.03	\$1,592	\$5.70	\$5,499
97	Morningview	Res.	5/8" X 3/4"	338	1.0	338	2,802,946	6,000	1,542,698	1.0	1,542,698	\$17.21	\$5,617	\$4.75	\$7,328
98	•		1*	85	1.0	85	887,172	6,000	484,958	1.0	484,958	\$17,21	\$1,463	\$4.75	\$2,304
99		Res. Sew. Only	5/8" X 3/4"	14	0.0	0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
100	Paim Port	Res.	5/8" X 3/4"	1,278	1.0	1.278	5,752,878	8,000	4,956,757	1.0	4,956,757	\$17,21	\$21,994	\$4.75	\$23,545
101	Paim Terrace	Res.	5/8" X 3/4"	12,407	1.0	12,407	50,396,091	6,000	39,383,056	1.0	39,363,056	\$17,21	\$213,524	\$4.75	\$167,070
102		Com.	5/8" X 3/4"	6	1.0	8	40,640		40,640	1.2	48,768	\$17.21	\$138	\$5.70	\$232
103	Park Menor	Res.	5/8" X 3/4"	305	1.0	305	1,494,279	6,000	1,151,837	1.0	1.151,837	\$17.21	\$5,249	\$4.75	\$5,471
104		Com.	5/8" X 3/4"	37	1.0	37	535,080		535,080	1.2	642,096	\$17.21	\$637	\$5.70	\$3,050
105			1 1/2"	12	5.0	60	1,388,269		1,388,269	1.2	1,665,923	\$86.05	\$1,033	\$5.70	\$7,913
106	Point O' Woods	Res.	5/8" X 3/4"	1,599	1.0	1,599	5,640,913	6,000	5,143,414	1.0	5,143,414	\$17.21	\$27,519	\$4.75	\$24,431
107		Multi-Fam.	5/8" X 3/4"	142	1.0	142	472,120		472,120	1.2	566,544	\$17.21	\$2,444	\$5.70	\$2,691
108		Com.	5/8" X 3/4"	26	1.0	26	282,395		282,395	1.2	338,874	\$17.21	8447	\$5.70	\$1,610
109	Salt Springs	Res.	5/8" X 3/4"	1.216	1.0	1.216	2,401,314	6.000	2,240,160	1.0	2,240,160	\$17.21	\$20,962	\$4.75	\$10,641
110		Com.	5/8" X 3/4"	117	1.0	117	768,674		768.674	1,2	822,409	\$17.21	\$2,014	\$5.70	\$4,381
111			2	24	6.0	192	4,005,606		4,005,606	1.2	4,806,727	\$137.69	\$3,304	\$5.70	\$22,632
112			4"	12	25.0	300	6,644,932		6,644,932	1.2	7,973,918	8430.25	\$5,163	\$5.70	\$37,678
113	Silver Lake Oaks	Res.	5/8" X 3/4"	323	1.0	323	1,995,079	6,000	1,257,513	1.0	1,257,513	\$17.21	\$5,559	\$4.75	\$5,973
114	South Forty	Com.	5/8" X 3/4"	396	1.0	398	2,414,470	-,	2,414,470	1,2	2,897,364	\$17.21	\$8,650	\$5.70	\$13,762
115			1 1/2"	28	5.0	140	1,508,999		1,508,999	1.2	1,610,799	\$86.05	\$2,409	\$5.70	\$8,601

669

Company: SSU / Total: Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/98 Water [] Wastewater [x] Interim [] Final [x]

Historical () Projected (x)

Present: FPSC Uniform (x) FPSC Non-uniform (x) FPSC Non-jurisdiction (x)

Proposed: FPSC Uniform [x]

Explanation: Provide a achequie of variables used in the rate design.

FPSC Schedule: E1-2 Page 4 of 8 Preparer: Bencini

(1)	(2)	(21)	(4)	(5) ERC's	(B)	Ø	(6)	(V) CONSUMPTION	(10)	{11}	(12)	(13) REVI	(14) Enues	(15)
					Factored					Factored	BFC		Gallon	ige
Plant		Motor	1996	Motor	ERC's	Total	Proposed		Gellonage	Gellonage	Rates	Revenue	Rates / MG	Revenue
Name	Class	\$ize	Bëls	Factor 1/	CAPCS	Usage	Сер	Capped Usage	Factor 2/	C9°C10	(C7,L279) * C5	C4°C12	(C7,L280)°C10	(C9/1000)*C14
South Forty (cont.)	Com.	2	14	8.0	112	20,139		20,139	1.2	24,167	\$137.68	\$1,929	\$5.70	\$115
• • •		3"	14	16.0	224	4,832,222		4,832,222	1.2	5,798,666	\$275.36	\$3,855	\$5.70	\$27,544
Sugar Mill	Res.	5/8" X 3/4"	7,459	1,0	7,459	24,074,674	6,000	22,010,085	1.0	22,010,085	\$17.21	\$128,369	\$4.75	\$104,548
•		3/4"	10	1.0	10	43,162	6,000	43,162	1.0	43,162	\$17.21	\$172	\$4.75	\$205
	Res. Sew. Only	5/8" X 3/4"	12	0.0	0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
	Com.	5/8" X 3/4"	74	1.0	74	358,148		358,148	1.2	429,778	\$17.21	\$1,274	\$5.70	\$2,041
		1"	25	2.5	63	201,844		201,844	1.2	242,333	\$43.03	\$1,076	\$5.70	\$1,151
		2"	25	8.0	200	959,295		959,295	1.2	1,151,154	\$137.60	\$3,442	\$5.70	\$5,468
Sugarmill Woods	Res.	5/8" X 3/4"	5,917	1.0	5,917	36,903,396	6,000	21,998,778	1.0	21,996,778	\$17.21	\$101,832	\$4.75	\$104,485
•		3/4"	1,042	1.0	1,042	8,566,733	6,000	4,438,882	1.0	4,438,982	\$17.21	\$17,933	\$4.75	\$21,085
		1"	23,176	1.0	23,178	295,011,144	6,000	107,253,840	1.0	107,253,840	\$17.21	\$398,893	\$4.75	\$509,456
		1 1/2"	45	1.0	45	1,054,640	6,000	219,034	1.0	219,034	\$17.21	\$774	\$4.75	\$1,040
	Com.	5/8" X 3/4"	62	1.0	62	658,819		656,619	1.2	790,583	\$17.21	\$1,067	\$5.70	\$3,755
		3/4*	70	1.5	105	503,870		503,870	1.2	604,644	\$25.62	\$1,807	\$5.70	\$2,872
		1"	97	2.5	243	2,545,875		2,545,875	1.2	3,055,050	\$43.03	\$4,174	\$5.70	\$14,511
		1 1/2"	135	5.0	675	6,417,499		6,417,499	1.2	7.700,999	\$86.05	\$11,617	\$5.70	\$36,580
		2"	19	6.0	152	1,178,877		1,178,677	1.2	1,414,652	\$137.68	\$2,616	\$5.70	\$6,720
		3"	14	16.0	224	207,965		207,965	1.2	249,558	\$275.36	\$3,855	\$5.70	\$1,185
	Emg. Temp. Svc.	5/8" X 3/4"	0	1.0	0	0		0	1.0	0	\$17.21	\$0	\$4.75	\$4
Sunny Hills	Res.	5/8" X 3/4"	2.071	1.0	2.071	9,389,081	6.000	7.510.640	1.0	7.510.640	\$17.21	\$35,642	\$4.75	\$35,676
5211,12	1400.	1*	24	1.0	24	217,554	6,000	117,973	1.0	117,973	\$17.21	\$413	\$4.75	\$560
	Com.	5/8" X 3/4"	56	1.0	56	77,313	0,000	77,313	1.2	92,770	\$17.21	\$964	\$5.70	\$441
Sunshine Parloray	Com	5/8" X 3/4"	51	1.0	51	1,722,731		1,722,731	12	2,087,277	\$17.21	\$878	\$5.70	\$9,820
Out die and it die and	OOIL	1 1/2"	14	5.0	70	60,980		60,980	12	73,178	\$86.05	\$1,205	\$5.70	\$34
		7	14	8.0	112	343,800		343,800	1.2	412,560	\$137.68	\$1,929	\$5.70	\$1,98
		3	45	16.0	720	19,511,920		19,511,920	1.2	23,414,304	\$275.38	\$12,391	\$5.70	\$111,210
University Shores	Res.	5/8" X 3/4"	42.687	1.0	42.887	327.971.852	6,000	189,896,901	1.0	199,996,901	\$17.21	\$738,085	\$4.75	\$949,510
Crestally Cricios	г жүр.	3/4"	15	1.0	15	20,638	6,000	15,025	1.0	15.025	\$17.21	\$258	\$4.75	\$7
		1"	52	1.0	52	672,124	6,000	257,419	1.0	257,419	\$17.21	\$895	\$4.75	\$1,22
	Res. Sew. Only	5/8" X 3/4"	14	0.0	0	0/2,124	0,000	237,419	0.0	237,418	\$0.00	\$0	\$0.00	\$
	Com.	5/8" X 3/4"	117	1.0	117	2,292,947		2,292,947	1.2	2,751,536	\$17.21	\$2,014	\$5.70	\$13,07
	CONT	3/4"	288	1.5	432	3,116,429			1.2	3,742,115	\$25.62	\$7,436	\$5.70	\$17,77
		1*	200		73			3,118,429	1.2	1,491,654	\$43.03	\$1,248	\$5.70	\$7,08
		•		2.5	-	1,243,045		1,243,045			\$86.05	\$1,205	\$5.70 \$5.70	\$36
		1 1/2" 2"	14	5.0 B.0	70 240	63,316		63,316	1.2	75,978 29,172,541	\$137.68	\$4,130	\$5.70 \$5.70	\$138,57
		-	30			24,310,451		24,310,451	1.2	,		\$4,130 \$36,550	\$5.70 \$5.70	\$138,57 \$55,58
		B*	26	80.0	2,240	9,752,336		9,752,336	1.2	11,702,803	\$1,376.80		•	\$30,30 \$141,13
		10"	12	115.0	1,380	24,760,169		24,760,169	1.2	29,712,203	\$1,979.15	\$23,750	\$5.70	\$141,13 \$2,26
	Pub. Auth.	1 1/2"	12	5,0	60	397,354		397,354	1.2	478,625	\$86.05	\$1,033	\$5.70	
	Spc. Cont.	5/8" X 3/4"	41	1.0	41	26,603,826		26,603,626	12	31,924,351	\$17.21	\$706	\$5.70	\$151,64
		1"	41	2.5	103	3,896,097		3,896,097	1.2	4,675,316	\$43.03	\$1,764	\$5.70	\$22,20

6/

Water [] Wastewater [x] Interim [] Final [x]

Historical |) Projected |x|
Present: FPSC Uniform |x| FPSC Non-uniform |x| FPSC Non-jurisdiction |x|

Proposed: FPSC Uniform [x]

FPSC Schedule: E1-2 Page 5 of 8 Preparer: Bencini

	m	Ø	(PI	(4)	(S) ERC's	(6)	m	(40)	(%) CONSUMPTION	(10)	(11)	(12)	(13) REV	(14) ENUES	(16)
						Factored					Factored	BFC		Gallona	Q6
ine to.	Plant Name	Class	Motor Sizo	1986 6 Min	Motor Factor 1/	ERC's C4°C5	Total Usage	Proposed Cap	Capped Usage	Gallonage Factor 2/	Gallonage C9°C10	Rates (C7,L279) * C5	Revenue CPC12	Rates / MG (C7,L280)*C10	Revenue (C9/1000)*C14
	11-1 h 61 ()	00	1 1/2"				4.004.007								
158 157	University Shores (cont.)	Spc. Cont.	2"	26 41	5.0 8.0	140	2,834.987		2,834.867	1.2	3,401,840 10,728,893	\$86.05	\$2,409	\$5.70	\$16,156
15/ 158	Venetian Village	Res.	5/8° X 3/4"	1,055	1.0	326 1,055	8,940,744 5,813,641	6,000	6,940,744 4,387,940	1.2 1.0	4,387,940	\$137.68 \$17.21	\$5,645 \$18,157	\$5.70	\$50,962 \$20,843
59	ACTIONS AND A	Res. Sew. Only	5/8' X 3/4"	12	0.0	0	0,013,047	6,000	4,307,940	0.0	7,307,5 10 0	\$0.00	≱18,157 \$ 0	\$4.75 \$0.00	\$20,6% \$(
60	Woodmere	Res.	5/8' X 3/4'	13,197	1.0	13,197	130,653,953	6,000	64,228,778	1.0	64,228,778	\$17.21	\$227,120	\$4.75	\$305,087
61	WOODLING	1100.	3/4*	663	1.0	683	7,695,730	6,000	3,073,210	1.0	3,973,210	\$17.21	\$11,410	84.75	\$14,59
62			1'	49	1.0	49	2,087,040	6,000	252,850	1.0	252,850	\$17.21	\$843	84.75	\$1,20
හ		Multi-Fam.	1 1/2	189	5.0	945	9.832.290	0,000	9,832,290	1.2	11,798,748	\$86.05	\$16,263	\$5.70	\$56,04
64		P7430 1 4211.	8*	13	50.0	650	10,570,870		10,570,870	1.2	12,685,044	\$860.50	\$11,167	\$5.70	\$60,25
65		Com.	5/8° X 3/4°	13	1.0	13	874,330		874,330	1.2	1,049,196	\$17.21	\$224	\$5.70	\$4,984
66		· ·	1"	21	2.5	53	941,340		941,340	1.2	1,128,608	\$43.03	\$904	\$5.70	\$5,366
67			60	13	50.0	650	13,456,620		13,456,620	1.2	16,147,944	\$860.50	\$11,187	\$5.70	\$76,700
66	Zeohyr Shores	Res.	5/8" X 3/4"	5.722	1.0	5.722	10,418,101	6,000	9,734,321	1.0	9,734,321	\$17.21	\$98,478	\$4.75	\$46,23
69	Lopily Grano	Com.	5/8" X 3/4"	24	1.0	24	141,420	0,000	141,420	1.2	169,704	\$17.21	\$413	\$5.70	\$800
70			11/2	11	5.0	55	193,000		193,000	1.2	231,600	\$86.05	\$947	\$5.70	\$1,10
71			2	24	8.0	192	505,900		505,900	1.2	607,080	\$137.68	\$3,304	\$5.70	\$2,884
	ub. FPSC Jurie. Uni. Plents		•	293,637		325,974	2,632,333,385		1.678,733,646	-	1,776,044,636	7,0.35	\$5,810,028	45.10	\$8,436,21
FF	PSC Juris, Non-Unil. Plants										•				
173	Buen. Lakes	Res.	5/8" X 3/4"	87,219	1.0	87,219	444,422,556	6,000	348,632,673	1.0	348,932,873	\$17.21	\$1,501,039	\$4.75	\$1,657,431
74		Res. Sew. Only	5/8" X 3/4"	0	0.0	. 0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
175		Com.	5/8° X 3/4°	808	1.0	808	5,907,271		5,907,271	1.2	7,068,725	\$17.21	\$13,906	\$5.70	\$33,671
76			† *	58	2.5	140	790,301		790,301	1.2	948,361	\$43.03	\$2,410	\$5.70	\$4,505
177			1 1/2"	34	5.0	170	1,497,584		1,497,584	1.2	1,797,077	\$86.05	\$2,926	\$5.70	\$8,536
76			2"	146	6.0	1,168	9,734,591		9,734,591	1.2	11.681,509	\$137.68	\$20,101	\$5.70	\$55,487
179			4"	38	25.0	950	6,003,183		6,003,183	1.2	7,203,820	\$430.25	\$16,350	\$5.70	\$34,216
160			8*	13	50.0	850	2,289,420		2,289,420	1.2	2,747,304	\$860.50	\$11,187	\$5.70	\$13,050
181	Deep Creek	Res.	5/8° X 3/4°	37,256	1.0	37,256	187,279,409	6,000	148,135,505	1.0	148,135,505	\$17.21	\$841,178	\$4.75	\$703,644
82			1*	622	1.0	622	3,431,497	6,000	2,501,233	1.0	2,501,233	\$17.21	\$10,705	\$4.75	\$11,681
183		Multi-Fam.	5/8" X 3/4"	10	1.0	10	39,149		39,149	1.2	46,979	\$17.21	\$172	\$5.70	\$22
64			1*	277	2.5	683	3,298,440		3,298,440	1.2	3,958,128	\$43.03	\$11,919	\$5.70	\$16,80
85			1 1/2"	340	5.0	1,700	7,274,617		7,274,617	1.2	8,729,540	\$86.05	\$29,257	\$5.70	\$41,465
86			2"	182	8.0	1,456	13,148,462		13,148,462	1.2	15,778,154	\$137.68	\$25,056	\$5.70	\$74,946
87			6"	13	50.0	650	8,750,146		8,750,146	1.2	10,500,175	\$860.50	\$11,187	\$5.70	\$49,876
86		Com.	5/8° X 3/4°	230	1.0	230	552,142		552,142	1.2	662,570	\$17.21	\$3,958	\$5.70	\$3,14
89			1*	67	2.5	168	1,294,142		1,294,142	1.2	1,552,970	\$43.03	\$2,663	\$5.70	\$7,377
90			1 1/2"	41	5.0	205	1,422,312		1,422,312	1.2	1,708,774	\$86.05	\$3,528	\$5.70	\$8,10
91			2	13	8.0	104	280,411		280,411	1.2	336,483	\$137.68	\$1,790	\$5.70	\$1,596
92			3"	13	16.0	208	2,875,958		2,675,958	12	3,451,150	\$275.38	\$3,580	\$5.70	\$18,393
93			8*	26	50.0	1,300	4,604,544		4,604,544	1.2	5,525,453	\$860.50	\$22,373	\$5.70	\$26,246

Company: SSU / Total Company / Proposed Uniform - Summary Docket No.: 950495-WS

Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final (x)

Explanation: Provide a achedule of variables used in the rate design.

FPSC Schedule: E1-2 Page 8 of 8 Preparer: Bencini

(1)	Ø	(3)	(4)	(5) ERC's	(4)	(n)	(4)	(9) CONSUMPTION	(10)	(11)	(12)	(13) REV	(14) Enijes	(16)
					Factored					Factored	BFC		Gallon	ige .
Plant		Motor	1996	Motor	ERC's	Total	Proposed		Gallonage	Gallonage	Rates	Raversie	Rates / MG	Revenue
Kame	Cless	Skee	Bille	Factor 1/	C4°C5	Usage	Сар	Capped Usage	Factor 2/	C9°C10	(C7,L279) * C5	CPC12	(C7,L280)*C18	(C9/1000)°C14
Deep Creek (cont.)	Com.	6"	13	80.0	1,040	3,020,957		3,020,957	1.2	3,625,148	\$1,376.80	\$17,898	\$5.70	\$17.219
Enterprise	Res.	5/8" X 3/4"	1,528	1.0	1,528	10,346,035	0,000	7,591,621	1.0	7,591,621	\$17.21	\$26,297	\$4.75	\$36,060
		1*	101	1.0	101	720,528	6,000	519,793	1.0	.519,793	\$17.21	\$1,738	\$4.75	\$2,469
Lehigh	Res.	5/8" X 3/4"	82,761	1.0	82,761	255,547,538	6,000	223,433,426	1.0	223,433,426	\$17.21	\$1,424,317	\$4.75	\$1,061,309
		1"	11	1.0	11	143,693	8,000	57,153	1.0	57,153	\$17.21	\$169	\$4.75	\$271
	Res. Sew. Only	5/8" X 3/4"	73	0.0	0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
	Com.	5/8" X 3/4"	2,181	1.0	2,181	7,682,777		7,692,777	1.2	9,231,332	\$17. 2 1	\$37,535	\$5.70	\$43,849
		1"	505	2.5	1,263	6,691,246		8,691,246	1.2	10,669,495	\$43.03	\$21,730	\$5.70	\$50,680
		1 1/2"	260	5.0	1,300	8,691,584		6,691,584	1.2	6,029,901	\$86.0 5	\$22,373	\$5,70	\$38,142
		2*	301	6.0	2,408	18,140,336		18,140,336	1.2	21,768,403	\$137.68	\$41,442	\$5.70	\$103,400
		3"	69	18.0	1,104	16,319,678		16,319,678	1.2	19,583,814	\$275.36	\$19,000	\$5.70	\$93,022
		4"	13	25.0	325	1,241,722		1.241,722	1.2	1,490,066	\$430.25	\$5,593	\$5.70	\$7,076
	-	6"	13	50.0	650	2,812,245		2,812.245	1.2	3,374,694	\$860.50	\$11,187	\$5.70	\$16,030
	Effluent	5/8" X 3/4"	12	0.0	0	149,480,000		149,480,000	0.0	0	\$0.00	\$0	\$0.00	\$0
Marco Island	Res.	5/8" X 3/4"	13,275	1.0	13.275	82,658,914	6,000	34,667,108	1.0	34,687,108	\$17.21	\$228,463	\$4.75	\$164,669
		•	5,795	1.0	5,795	103,522,716	6,000	29,735,954	1.0	29,735,954	\$17.21	\$99,732	\$4.75	\$141,246
	Mari Com	1 1/2" 5/8" X 3/4"	24	1.0	24	302,486	8,000	103,480	1.0	103,480	\$17.21	\$413	\$4.75	\$492
	Multi-Fam.	5/8" X 3/4"	12 24	1.0 2.5	12 60	172,299 1.405.486		172,299 1,405,486	1.2 1.2	206,759 1,686,586	\$17.21 \$43.03	\$207 \$1,033	\$5.70 \$5.70	\$982 \$8,011
		1 1/2"	198	2.5 5.0	980	12,871,294		1,405,466	12	15,445,553	\$43.03 \$86.05	\$1,033 \$16,866	\$5.70 \$5.70	\$6,011 \$73,366
		2*	607	8.0	4,856	49,469,798		49,469,798	1.2	59,363,758	\$137.68	\$83,572	\$5.70 \$5.70	\$281,978
		3"	298	18.0	4,768	58,343,055		58,343,055	1.2	70,011,668	\$137.06 \$275.36	\$82,057	\$5.70 \$5.70	\$332,555
		4	327	25.0	6.175	140,708,453		140,708,453	12	168.850.144	\$430.25	\$140.692	\$5.70	\$802.038
		6-	32	50.0	1,600	13,459,649		13,459,849	12	18,151,579	\$860.50	\$27,538	\$5.70	\$76,720
	Com.	5/8" X 3/4"	1,191	1.0	1,191	6,434,430		6,434,430	1.2	10,121,316	\$17.21	\$20,497	\$5.70	\$48,076
	OMIL	1"	763	2.5	1,908	11,910,510		11,910,510	1.2	14,292,612	\$43.03	\$32,832	\$5.70	\$67,890
		1 1/2"	323	5.0	1.815	12,323,560		12,323,560	1.2	14,788,272	\$86.05	\$27,794	\$5.70	\$70,244
		2"	145	6.0	1,160	33,664,818		33,664,618	1.2	40,397,542	\$137.68	\$19,964	\$5.70	\$191,866
		3"	12	16.0	192	3,809,547		3,809,547	1.2	4,571,456	\$275.36	\$3,304	\$5.70	\$21,714
		4"	24	25.0	600	35,095,137		35,095,137	12	42,114,184	\$430.25	\$10,326	\$5.70	\$200,042
		6"	24	50.0	1,200	69,901,240		69,901,240	1.2	83,881,488	\$860,50	\$20,652	\$5.70	\$398,437
	Com. Sew. Only	1*	12	2.5	30	1,148,120		1,148,120	1.2	1,377,744	\$43.03	\$516	\$5.70	\$6,544
	Effluent	1 1/2"	6	0.0	0	1,659,300		1,659,300	0.0	0	\$0.00	\$0	\$0.00	\$0
		2*	15	0.0	0	11,132,500		11,132,500	0.0	0	\$0.00	\$0	\$0.00	\$0
		3°	3	0.0	0	2,678,706		2,978,708	0.0	0	\$0.00	\$0	\$0.00	\$0
		4"	12	0.0	0	54,750,000		54,750,000	0.0	0	\$0.00	\$0	\$0.00	\$0
		6"	12	0.0	0	72,965,000		72,965,000	0.0	0	\$0.00	\$0	\$0.00	\$0
		10"	12	0.0	0	58,954,000		56,954,000	0.0	0	\$0.00	\$0	\$0.00	\$0
	MF - Non-Meter.	3"	12	0.0	0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
	Bulk Sewer	1"	2	2.5	5	17,700		17,700	1.2	21,240	\$43.03	\$86	\$5.70	\$101

Company: SSU / Total Company / Proposed Uniform - Summary Docket No.: 950495-WS

Schedule Year Ended: 12/31/96 Water [| Wastewater [x] Historical () Production (x)
Historical () Projected (x)
Present: FPSC Uniform (x) FPSC Non-jurisdiction (x)
Proposed: FPSC Uniform (x)

FPSC Schedule: E1-2 Page 7 of 6 Preparer: Bencini

	(1)	(2)	(4)	(4)	(5) ERC'a	(4)	Ø	(4)	(P) CONSUMPTION	(14)	(11)	(12)	(13) REVE	(14) ENUES	(15)
					-	Factored					Factored	BFC		Gallon	ice
ine	Plant		Motor	1996	Motor	ERC's	Total	Proposed		Gallonage	Gallonage	Rains	Revenue	Rates / MG	Revenue
lo.	Name	Class	Size	Bills	Factor 1/	CFC5	Usage	Сар	Capped Usage	Factor 2i	C9°C10	(C7,L279) • C5	C4°C12	(C7,L280)°C10	_(C9/1000)*C14
•	Mana Inland (cont.)	0.4.0	4	•	25.0		05 040 400		05 040 400		444.040.500	4400.00	******		
234	Marco Island (cont.)	Bulk Sewer		84	25.0	2,100	95,042,100		95,042,100	1.2	114,050,520	\$420.25	\$36,141	\$5.70	\$541,740
235	Spring Gardens	Res.	5/8" X 3/4"	1,570	1.0	1.570	6,263,533	6,000	4,534,624	1.0	4,534,624	\$17.21	\$27,020	\$4.75	\$21,539
235		Com.	5/8" X 3/4"	13	1.0	13	216,777		216,777	1.2	260,132	\$17.21	\$224	\$5.70	\$1,236
237	Tententiates	D D O-1-	-	26	8.0	208	658,487		658,487	1.2	790,184	\$137.68	\$3,580	\$5.70	\$3,753
238	Tropical isles	Res. Sew. Only	5/8" X 3/4"	3,406	0.0	0	0		0	0.0	0	\$0.00	\$0	\$0.00	\$0
239	Valencia Terrace	Res.	5/8" X 3/4"	4,253	1.0	4,253	23,779,299	6,000	13,037,147	1.0	13,037,147	\$17.21	\$73,194	\$4.75	\$61,928
240		Com.	5/8" X 3/4"	45	1.0	45	596,529		596,529	1.2	715,835	\$17.21	\$774	\$5.70	\$3,400
241			,	73	2.5	183	138,311		138,311	1.2	165,973	\$43.03	\$3,141	\$5.70	\$788
242			1 1/2"	13	5.0	65	725,509		725,509	1.2	870,611	\$86.05	\$1,119	\$5.70	\$4,135
43			r	13	6.0	104	145,989		145,989	1.2	175,187	\$137.68	\$1,790	\$5.70	\$832
244 Su	h. FPSC Jurie. Non-Unl. Pla	NLE.		247,898		286,364	2,133,069,510		1,847,901,223		1,635,048,075		\$4,928,329		\$7,768,473
FP	SC Non-Juria. Planta														
245	Laike Gilbson Est.	Res.	5/8° X 3/4°	3,157	1.0	3,157	26,748,850	6,000	18,130,137	1.0	18,130,137	\$17.21	\$54,332	\$4.75	\$78,618
246		Res. Sew. Only	5/8" X 3/4"	12	0.0	0	0	5,555	0	0.0	0	\$0.00	\$0	\$0.00	\$0
247		Com.	5/8" X 3/4"	28	1.0	28	99,444		99,444	1.2	118,333	\$17.21	\$482	\$5.70	\$567
248			1 1/2"	12	5.0	60	29,708		29,706	1.2	35.647	\$86.05	\$1,033	\$5.70	\$169
249	Seaboard	Res.	5/8" X 3/4"	30,125	1.0	30,125	202,088,322	6.000	138,090,044	1.0	138,090,044	\$17.21	\$516,451	\$4.75	\$655,928
250		Multi-Fam.	1 1/2"	12	5.0	60	7,395,170	0,000	7,396,170	1.2	8,874,204	\$86.05	\$1,033	\$5.70	\$42,152
251		Com.	5/8" X 3/4"	272	1.0	272	1,498,820		1,496,820	1.2	1,768,184	\$17.21	\$4,681	\$5.70 \$5.70	\$8,532
252			1"	12	2.5	30	1,137,660		1,137,660	1.2	1,365,192	\$43.03	\$516	\$5.70 \$5.70	
253			1 1/2*	48	5.0	240	2,290,970		2,290,970	1.2	2,749,184	\$86.05	\$4,130	\$5.70	\$8,485 \$13,059
254			2	37	6.0	296	3,556,420		3,556,420	1.2	4,267,704	\$137.68	\$5,094	\$5.70 \$5.70	\$13,009 \$20,272
255			3*	24	16.0	384	4,538,460		4,538,460	1.2	5,448,152	\$275.38	\$6,809	\$5.70 \$5.70	\$25,869
256	Spring Hill	Res.	5/8" X 3/4"	63,865	1.0	63.865	318,237,230	6.000	236.012.234	1.0	236,012,234	\$17.21	\$1,099,117	\$4.75	
257		1100.	1"	160	1.0	160	2,705,283	0,000	779,658	1.0	779,658	\$17.21	\$3,088	\$4,75	\$1,121,058
258			1 1/2*	29	1.0	29	191,335		135.831	1.0	135,631	\$17.21	\$499	\$4.75	\$3,703
259			2*	22	1.0	22	444.062		121,411	1.0	121,411	\$17.21	\$379	\$4.75	\$645
260		Res. Sew. Only	5/8" X 3/4"	63	0.0	0	0		0	0.0	0	\$0.00	\$0 \$0	\$4.75 \$0.00	\$577
261		Com.	5/8° X 3/4"	2,591	1.0	2.591	21,800,847		21,800,847	1.2	26,161,016	\$17.21	\$44,591		\$0
262		Oon.	1"	406	2.5	1.015	8,857,345		8.857,345	1.2	10,748,614	\$43.03	\$17,470	\$5.70	\$124,265
263			1 1/2"	85	5.0	425	3,442,018		3,442.018	1.2	4,130,422	\$86.05		\$5.70	\$51,057
264			2'	357	8.0	2.856	28,787,020		28,787.020	1.2		\$137.68	\$7,314	\$5.70	\$19,620
265			3	31	16.0	2,636 496	7,218,731		7,218,731	1.2	32,144,424 8,662,477	\$137.06 \$275.36	\$49,152	\$5.70	\$152,686
266			8"	20	50.0	1,000	4,720,144		4,720,144	1.2		\$2/5.30 \$860.50	\$8,538	\$5.70	\$41,147
900 187		Bulk Sewer	4	20 25	0.0	1,000				0.0	5,684,173 0	¥	\$17,210	\$5.70	\$26,905
307 268a		DOWN DOWNER	4° 10°	25 14	0.0	0	28,519,954		28,518,954		0	\$0.00	\$0	\$0.00	\$0
100 269	Vairico Hills	Res.	5/8" X 3/4"	4,260	1.0	4,260	134,414,208 38,578,560	6.000	134,414,208 21,565,855	0.0 1.0	•	\$0.00 \$17.21	\$0	\$0.00	\$0
	b. FPSC Non-Juria, Planta	1163.	30 Y 34	105,687	1.0	111,381	845,398,557	0,000	669,240,085	1.0	21,565,855 525,000,076	≱ 17.21 .	\$73,315 \$1,917,042	\$4.75	\$102,438 \$2,493,752

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/98 Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform (x)

FPSC Schedule: E1-2 Page 8 of 8 Preparer: Bencini

	(1)	Ø	Ø	(4)	(5) ERC's	(8)	n	(8)	(II) CONSUMPTION	(10)	(11)	(12)	(18)	(14) ENUES	(16)
					Lite	Factored			CORSONE HOR		Factored	BFC		Gallo	nace
ine	Plant		Meter	1996	Meter	ERC's	Total	Proposed		Gallonage	Gallonage	Rates	Revenue	Rates / MG	Revenue
<u>fo.</u>	Name	Class	Size	Bille	Factor 1/	CFC5	Usage	<u>Cap</u>	Capped Usage	Factor 2/	C9°C10	(C7,L279) * C5	C4*C12	(C7,L200)°C10	(C9/1000)*C14
270 Total	l Company			647,223		723,729	5,610,801,452		4,195,874,953		3,936,092,788		\$12,455,398		\$18,696,44
271	1996 Proposed Final Conv.	Treat. Revenue Rec	, from Schedule	B-1(W)			\$31,948,734.00						Total Revenue R	equirement	\$31,163,63
	Mon-Standard Rate Design		¥				\$785,100.86						Total Calculated	Revenues	\$31,151,83
273	Revenue Requirement Tary	et					\$31,163,633.14						Amount Under To	arget	\$11,79
	Base Facility Charge Rever						\$12,465,453.26								
	Gallorage Charge Revenue		t) (\$18,698,179.88								
276	Total Revenue Requiremen	ľ					\$31,163,633.14								
277	Base Facility Charge (C7,L2	74) / (C8,L270)					\$17.22								
	Gallorage Charge (C7,L275)				\$4.75								
279	Adj. BFC ((C7,1277)01) n	reded to achieve Re	renue Target				\$17.21								
280	Adj. Gallonage Charge ((C7	L276) no change)					\$4.75								
	RWO Rate Calculation														
	5/8" Res. Total Usage						3,296,446,296								
	S/8" Rea. Bilts						582,619								
284	5/8" Res. Ave. Use (C7,L26)	(A(C1,1283)					5,658								
285	RWO Rate (C7,L279)+((C7,L	28014C7.L2MVH000	١				\$44.09								

Note: May not tie to other echedules due to rounding.

^{1/} Meter factors are standard FPSC accepted rate design meter factors. The residential meter factors are 1 for all meter sizes. Certain classes of service have been given a 0 meter factor. These are types of classes that don't fit into the standardized rate design method. The revenue associated with them has been backed out from the overall revenue target.

^{3/} The gallonage factor is used for two basic reasons. Classes other than residential pay 20% more for their wastewater gallonage rate, and some other classes of service are not included in the standardized rate design method. The revenue associated with them has been backed out from the overall revenue target.

^{4/} For classes of service where a special contract exists, or do not fit standard rate design methods, this is the approximate that will be collected. This revenue then, should not be included in the standard rate setting process.

FPSC

Company: SSU/ Total Company/ Proposed Uniform Summary Docket No.: 950495-WS

SCHEDULE: E2-1 Page 1 of 34 Preparer: Bencini

Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final(x)

Supporting Schedules: E1-1, E-13

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (4) (5) (7) (10)

14		19	996 PROJECTED FINAL	(PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" 4"	582,388 5,659 31,232 129 34 12			\$7,646,259 \$71,699 \$390,799 \$1,584 \$422 \$152	582.388 5.659 31.232 129 34 12		\$17.21 \$17.21 \$17.21 \$17.21 \$17.21 \$17.21	\$10,022,897 \$97,391 \$537,503 \$2,220 \$585 \$207	
9 10 11 12	Gallonage Charge/MG 0-Varies All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	619,454 51,621	2,551,701 1,242,604 2,551,701 4,119	\$0.00	\$9.313.628 0- 6000 \$0 All excess 3/ \$17.424.543 \$28.13	619,454 51,621	2.371.610 1.422.695 2.371.610 3.829	\$4.75 \$0.00	\$11,265,148 \$0 \$21,925,951 \$35,40	
13 14 15 16 17 18	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	3,881 3,881 323	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	4/	\$56,436 \$0 \$56,436 \$14,54	$ \begin{array}{r} 3,881 \\ \hline 3,881 \\ \hline 323 \end{array} $	0 0 0.000	\$44.09 \$0.00	\$171,113	

Company: SSU/ Total Company/ Proposed Uniform Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1 Page 2 of 34

Preparer: 8encini

Supporting Schedules: £1-1, E-13

1 3	-	199	6 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
No.	Class/Meter Size		Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
19	MULTI-FAMILY							
20	5/8"x3/4"	164		\$2,126	164		\$17.21	\$2,822
21	1"	487		\$19,865	487		\$43.03	\$20,956
22	1 1/2"	1,451		\$102,241	1,451		\$86.05	\$124,859
23	2"	1,063		\$109,945	1,063		\$137.68	\$146.354
23 24 25 26	3"	298		\$ 52,931	298		\$275.36	\$82,057
25	4"	349		\$97,726	349		\$430.25	\$150 ,157
26	6"	58		\$38,615	58		\$860.50	\$49,909
27	8"	14		\$14,194	14	\$1	,376.80	\$19,275
28	Gallonage Charge/MG		260 040	41 475 600		000.040	45 -4	
29 30	All Gallonage Total MULTI-FAMILY	2 004	368,849	\$1,475.689 \$1,033.639	2.004	368,849	\$5.70	\$2,102,439
31	Ave cust/cons/bill/mth	3,88 <u>4</u> 324	368,849 94,966	\$1,913,332 \$492.62	3.884 324	368,849		\$2,698,828
31	AAG CUZC/COUZ/D111/HICH	324	94.900	\$492.02	324	94.966		\$694.86
32	COMMERCIAL					,		
33	5/8"x3/4"	11,842		\$ 153,202	11.842		\$17.21	\$203,801
34	Full 3/4"	566		\$10,760	566		\$25.82	\$14,614
35	1"	2,719		\$81,986	2,719		\$43.03	\$116,999
36	1 1/2"	1.520		\$98.698	1,520		\$86.05	\$130,796
37 38	2"	2,063		\$209,333	2,063		\$137.68	\$284.034
38	3"	372		\$81,889	372		\$275.36	\$102,434
39	4 ··	252		\$75,901	252		\$430.25	\$108,423
40	6 * 8 "	123		\$83,533	123		\$860.50	\$105,842
41 42	10"	43 12		\$43,030 \$17,480	43 12		.376.80	\$59,202
43	Gallonage Charge/MG	12		\$17,489	12	\$1	.979.15	\$23,750
43	All Gallonage		796.007	\$3,418,905		796.007	\$5.70	\$4,537,240
45	Total COMMERCIAL	19,512	796,007	\$4,274,726	19,512	796,007	#\$./U	\$5,687,135
46	Ave cust/cons/bill/mth	1,626	40.796	\$219.08	1,626	40.796		\$291.47
		•			2,364			

377

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Proposed Uniform Summary

Occket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-uniform(x) FPSC Non-jurisdiction(x)

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 3 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	(1)	(2)	(3)	(4)	(5)		(//	(8)	(3)	(10)
Line	-	1	996 PROJECTED FINAL	L (PRESENT RA	ATES) 1/		19 9 6 PROJE	CTED FINAL (PROPOSED	FINAL RATES) 2/
No.	Class/Meter Size		Consumption(MG)		Revenues	-	8i11s	Consumption(MG)	_Rate	Revenues
47	EMERGENCY TEMPORARY SERV									
48	5/8"x3/4"	0			\$0		0		\$17.21	\$0
49 50	Gallonage Charge/MG All Gallonage		n		\$0			0	\$5.70	\$0
51	Total ETS	0	0		\$0	-	0		\$3.70	\$0
52	Ave cust/cons/bill/mth	0				_	0			
53	COM WW ONLY									
54	1"	12			\$266		12		\$43.03	\$516
55 56	Gallonage Charge/MG All Gallonage		1.148		\$4,420			1,148	\$5.70	\$6.544
57	Total COM WW ONLY	12	1,148		\$4,686	-	12	1,148	45.70	\$7,060
58	Ave cust/cons/bill/mth -	1	95.667		\$390.50	_	1	95.667		\$588.33

Company: SSU/ Total Company/ Proposed Uniform Summary

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Page 4 of 34
Preparer: Bencini

SCHEDULE: E2-1

FPSC

Supporting Schedules: E1-1, E-13

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

Line	-	1996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
59 60 61 62 63 64	PUBLIC AUTHORITY 1 1/2" Gallonage Charge/MG All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	$ \begin{array}{r} 12 \\ $	\$760 \$1,743 \$2,503 \$208.58	12 	397 397 33.083	\$86.05 \$5.70	\$1,033 \$2,263 \$3,296 \$274.67
65 66 67 68 69 70 71 72 73	EFFLUENT 5/8"x3/4" 1 1/2" 2" 3" 4" 8" 10" Gallonage Charge/MG	120 6 15 3 12 12	\$0 \$0 \$0 \$0 \$0 \$0 \$0	120 6 15 3 12 12	,	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0 \$0 \$0 \$0 \$0 \$0 \$0
74 75 76	All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	357,596 180 357,596 15 1986.64	\$66,995 \$66,995 \$372.19	180 15	357,596 357,596 1986.64	4/	\$201,980 \$201,980 \$1,122.11

Company: SSU/ Total Company/ Proposed Uniform Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x]

Interim[] Final[x]

Historical[] Projected[x]
Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 5 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (5) (7) (8) (10)

14	-	1996	PROJECTED FINAL (PR	ESENT RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size	<u>Cor</u>	nsumption(MG)	Revenues	8111s	Consumption(MG)	Rate	Revenues	
77 78 79 80 81 82 83 84 85	SS 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG All Gallonage Total SS Ave cust/cons/bill/mth	41 41 28 41 151 13	42,275 42,275 279.967	\$519 \$1,299 \$1,774 \$4,157 \$185,587 \$193,336 \$1,280,37	41 41 28 41 ———————————————————————————————————	42.27 <u>5</u> 42,27 <u>5</u> 279.967	\$17.21 \$43.03 \$86.05 \$137.68 \$5.70	\$706 \$1,764 \$2,409 \$5,645 \$240,968 \$251,492 \$1,665,51	
86 87 88 89 90	MF NON-METERED 3" Gallonage Charge/MG All Gallonage Total MF NON-METERED Ave cust/cons/bill/mth	12 12 1	0.000	\$24,120 \$0 \$24,120 \$2,010.00	12 ————————————————————————————————————	0.000	\$3,306.75 \$0.00	\$39,681 	

Company: SSU/ Total Company/ Proposed Uniform Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[x] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 6 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

\$31,947,500

\$31,947,500

\$0

\$0

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.												
DECHE	(1)	(2)	(3)	(4) (5)	(7)	(8)	(9)	(10)				
		199	FROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJ	ECTED FINAL (PROPOSE	D FINAL RATES)	2/				
Line <u>No.</u>	Class/Meter Size	<u>C</u>	onsumption(HG)	Revenues	<u>Bills</u>	Consumption(HG)	Rate	Revenues				
92 93 94 95	BULK SEWER 1" 4" 10"	2 109 14		\$44 \$23,313 \$0	2 109 14			\$86 \$36,141 \$0				
96 97 98 99	Gallonage Charge/MG All Gallonage Total BULK SEWER Ave cust/cons/bill/mth	12 <u>5</u>	257,994 257,994 2063,95	\$748.876 \$772.233 \$6.177.86	125 10	257,994 257,994 2063,95	- -	\$924,737 \$960,964 \$7,687.71				

\$24,732,910

\$24,732,910

\$0

\$0

1/ Present rates use residential gallons at present cap.

100 TOTAL ANNUALIZED SALES REVENUES 5/

101 UNBILLED REVENUE

102 OTHER REVENUE 6/

103 TOTAL REVENUES

- 2/ Proposed final rates use residential gallons at the proposed cap of 6,000.
- 3/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 4/ Rates vary by plant. See schedule E-1 for list of rates by plant.
- 5/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.
- 6/ Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform(x)

FPSC

SCHEDULE: E2-1

Page 7 of 34

Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1)
(2)
(3)
(4)
(5)
(7)
(8)
(9)

1996 PROJECTED FINAL (PRESENT RATES) 1/ 1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/ Line Class/Meter Size Bills No. Consumption(MG) Revenues Consumption(MG) Rate Revenues RESIDENTIAL 2 5/8"x3/4" 253,119 \$12.67 \$3,207,018 253.119 \$17.21 \$4,356,178 3 Full 3/4" 5.659 \$12.67 \$71,700 5,659 \$17.21 \$97.391 24,523 \$12.67 \$310,706 24,523 \$17.21 \$422,041 1 1/2" 76 \$963 76 \$17,21 \$12.67 \$1,308 6 12 \$12,67 \$152 12 \$17.21 \$207 12 \$12.67 \$152 12 \$17.21 \$207 8 Gallonage Charge/MG \$4,192,618 9 **0**- 6000 1,145,524 \$3.66 0-6000 1,145,524 \$4.75 \$5,441,239 10 All excess 3/ 961,368 \$0.00 \$0 All excess 3/ 961,368 \$0.00 \$0 Total RESIDENTIAL \$7,783.309 11 283,401 1,145,524 283,401 1.145,524 \$10,318,571 Ave cust/cons/bill/mth 23,617 4.042 \$27.46 23,617 4.042 \$36.41 13 RES WW DNLY 14 5/8"x3/4" 327 4/ \$7,168 327 \$44.09 \$14,417 Gallonage Charge/MG 16 All Gallonage 0 \$0.00 \$0 \$0.00 \$0 327 Total RES WW ONLY 17 0 \$7,168 327 0 \$14,417 Ave cust/cons/bill/mth 27 18 0.000 \$21.92 0,000 \$44.09

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2·1
Page 8 of 34
Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1996	PROJECTED FINAL (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PRDPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size	Cor	usumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues	
19	MULTI-FAMILY								
20	5/8"x3/4"	142	\$12.67	\$ 1,799	142		\$17.21	\$2,444	
21 22	1"	186	\$31.68	\$ 5,8 9 2	186		\$43.03	\$8,004	
22	1 1/2"	903	\$ 63.37	\$ 57,223	903		\$86.05	\$77,703	
23	2"	274	\$101.39	\$ 27,7 8 1	274		\$137.68	\$37,724	
24	4"	22	\$316.83	\$ 6,970	22		\$430.25	\$9,466	
25	6"	13	\$ 633.66	\$8,238	13		\$860.50	\$11,187	
24 25 26	8"	14	\$1,0 13.85	\$14,194	14		\$ 1,37 6 .80	\$19,275	
27	Gallonage Charge/MG								
28	All Gallonage		52,513 \$4.39	\$230,532		52,513	\$5.70	\$299,324	
29	Total MULTI-FAMILY	1,554	52,513	\$352,629	1.554	52,513		\$465,127	
30	Ave cust/cons/bill/mth	130	33.792	\$226.92	130	33.792		\$299.31	
31 32 33 34 35 36 37 38 39	COMMERCIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" 3" 4"	4.483 566 837 704 1.025 223 177	\$12.67 \$19.01 \$31.68 \$63.37 \$101.39 \$202.77 \$316.83	\$56.800 \$10.760 \$26.516 \$44.612 \$103.925 \$45.218 \$56.079	4,483 566 837 704 1,025 223		\$17.21 \$25.82 \$43.03 \$86.05 \$137.68 \$275.36 \$430.25	\$77.152 \$14.614 \$36.016 \$60.579 \$141.122 \$61.405 \$76.154	
30	6"	27	\$633.66	\$17,109	27		\$860.50	\$23,234	
40	8"	30	\$1,013.85	\$30,416	30		\$1,376.80	\$23,234 \$41,304	
41	10"	12	\$1,457,41	\$17.489	12		\$1,979.15		
42	Gallonage Charge/MG	12	\$1,457,41	#17,409	12		¥1,7/7.10	\$23,750	
43	All Gallonage		420 250	¢1 000 707		420.250	¢E 70	¢2 AE2 A25	
			430,250 \$4.39	\$1,888,797	0.004	430,250	\$5.70	\$2,452,425	
44 45	Total COMMERCIAL	<u>8, งธิ์4ี</u> 674	430.250 53.222	\$2,297,721 \$2B4.23	8,084 674	430.250		\$3,007,755	
40	Ave cust/cons/bill/mth	0/4	55.222	≱ ∠04.∠3	6/4	53.222		\$372.06	

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1
Page 9 of 34
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		19	996 PROJECTED FINA	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
46 47 48	EMERGENCY TEMPORARY SERVICE 5/8"x3/4" Gallonage Charge/MG	0		\$12.67	\$0	0		\$17.21	\$0
49 50 51	All Gallonage Total ETS Ave cust/cons/bill/mth	0	0	\$4.39	\$0 \$0	0	0	\$5.70	\$0 \$0
52 53 54	PUBLIC AUTHORITY 1 1/2" Gallonage Charge/MG	12		\$63.37	\$760	12		\$86.05	\$1.033
55 56 57	All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	12	397 397 33.083	\$4.39	\$1.743 \$2.503 \$208.58	<u> 12</u> 1	397 397 33.083	\$5.70	\$2,263 \$3,296 \$274.67

ő

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 10 of 34 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1996	PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size	<u>Cor</u>	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
58 59 60	EFFLUENT 5/8"x3/4" Gallonage Charge/MG	108		\$0.00	\$0	108		\$0.00	\$0	
61 62 63	All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	108	7.776 7.776 72.000	\$0.06	\$467 \$467 \$4.32	108	7,776 7,776 72,000	4/	\$778 \$778 \$7.20	
6 4 65	<u>SS</u> 5/8"x3/4"	41		\$12.67	\$ 519	41		\$17.21	\$706	
66	1"	41		\$31.68	\$1,299	41		\$43.03	\$1,764	
67	1 1/2"	28		\$63.37	\$1,774	28		\$86.05	\$2,409	
68	2"	41		\$101.39	\$4,157	41		\$137.6B	\$5,645	
69	Gallonage Charge/MG									
70	All Gallonage		42,275	\$4.39	\$185,587		42,275	\$5.70	\$240,968	
71	Total SS	151	42,275		\$193.336	151 13	42,275		\$251.492	
72	Ave cust/cons/bill/mth	13	279.967		\$1,280.37	13	279.967		\$1,665.51	
73	TOTAL ANNUALIZED SALES F	REVENUES 5/			\$10,637,133				\$14,061,436	
74 76	UNBILLED REVENUE				\$0				\$0	
75 76	OTHER REVENUE 6/ TOTAL REVENUES				\$0 \$10,637,133				\$14,061,436	
70	TOTAL REVEROES				\$10,037,133				317,001,430	

- 1/ Present rates use residential gallons at present cap.
- 2/ Proposed final rates use residential gallons at the proposed cap of 6,000.
- 3/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 4/ Rates vary by plant. See schedule E-1 for list of rates by plant.
- 5/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.
- 6/ Refer to schedule 1996 8-4 schedule for detail of other revenue.

FPSC

Company: SSU/OSCEOLA / BUENAVENTURA LAKES (PENDING ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final(x)

SCHEDULE: E2-1 Page 11 of 34 Preparer: Bencini

Supporting Schedules: El-1, E-13

Historical[] Projected[x]
Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (4) (5) (10) (1) (7) (8) (9)

		1	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG 0-10000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	87,219 87,219 7,268	412.977 31.446 412.977 4.735	\$8.57 \$4.50 \$0.00	\$747,467 \$1,858,397 0-6000 \$0 \$2,605,864 \$29.88	87.219 87.219 7.268	348,933 95,490 348,933 4,001	\$17.21 \$4.75 \$0.00	\$1,501,039 \$1,657,432	
8 9 10 11 12 13	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	0 0	0	\$29.22 \$0.00	\$0 	0 0	0 0	\$44.09 \$0.00	\$0 \$0 \$0	

Company: SSU/OSCEOLA / BUENAVENTURA LAKES (PENDING ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 12 of 34

FPSC

Preparer: Bencini Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1996	PROJECTED FINAL	L (PRESENT	RATES) 1/	1996 PROJECTED F1NAL (PROPOSED F1NAL RATES) 2/				
Line <u>No.</u>	Class/Meter Size	<u>Co</u>	onsumption(MG)		Revenues	<u>8ills</u>	Consumption(MG)	Rate	Revenues	
14 15 16 17 18 19 20 21 22 23 24	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 4" 6" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	808 56 34 146 38 13	26,222 26,222 23,947	\$8.57 \$21.42 \$42.83 \$68.52 \$214.16 \$428.35 \$5.39	\$6.925 \$1,200 \$1,456 \$10,004 \$8,138 \$5,569 \$141,337 \$174,629 \$159,48	808 56 34 146 38 13 1.095	26.222 26.222 23.947	\$17.21 \$43.03 \$86.05 \$137.68 \$430.25 \$860.50 \$5.70	\$13,906 \$2,410 \$2,926 \$20,101 \$16,350 \$11,187 \$149,465 \$216,345 \$197,58	
25 26 27	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/			\$2,780,493 \$0 \$0 \$2,780,493		,		\$3,374,816 \$0 50 \$3,374,816	

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS

Schedule Year Ended 12/31/96 Water [] Wastewater [x]

Interim() Final(x)

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 13 of 34

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (7) (9) (10)

lina	-	19	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues	
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	37,256 622		\$19.40 \$19.40	\$722,766 \$12,067	37,256 622		\$17.21 \$17.21	\$641,176 \$10,705	
5 6 7 8	0-10000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	37,878 3,157	176,149 14,562 176,149 4,650	\$3.97 \$0.00		- 6000 xcess 3/ 	150.637 40,074 150.637 3.977	\$4.75 \$0.00	\$715,526 \$0 \$1,367,407 \$36,10	
9 10 11 12 13 14 15	MULT1-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 6" Gallonage Charge/MG	10 277 340 182 13		\$19.40 \$48.52 \$97.02 \$155.25 \$970.31	\$194 \$13.440 \$32.987 \$28,256 \$12.614	10 277 340 182 13	,	\$17.21 \$43.03 \$86.05 \$137.68 \$860.50	\$172 \$11,919 \$29,257 \$25,058 \$11,187	
16 17 18	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	822 69	32,511 32,511 39,551	\$ 4.75	\$154,427 \$241,918 \$294.30	<u>822</u> 69	32,511 32,511 39,551	\$5.70	\$185,313 \$262,906 \$319.84	

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 14 of 34 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1996 PR	OJECTED FINAL (PRESENT	RATES) 1/	1996 PROJE	ECTED FINAL (PROPOSE	D FINAL RATE	S) 2/
Line <u>No.</u>	Class/Meter Size	Consu	mption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
19 20 21 22	COMMERCIAL 5/8"x3/4" 1" 1 1/2"	230 67 41	\$19.40 \$48.52 \$97.02	\$4,462 \$3,251 \$3,978	230 67 41		\$17.21 \$43.03 \$86.05 \$137.68	\$3,958 \$2,883 \$3,528 \$1,790
23 24 25 26	2" 3" 6" 8"	13 13 26 13	\$155.25 \$310.50 \$970.31 \$970.31	\$2.018 \$4,037 \$25,228 \$12,614	13 13 26 13		\$275.36 \$860.50 \$1,376.80	\$3,580 \$22,373 \$17,898
27 28 29 30	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	403	14,050 14,050 34,864 \$4.75	\$66,738 \$122,326 \$303,54	403 34	14,050 14,050 34,864	\$5.70	\$80,085 \$136,095 \$337.70
31 32 33	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/		\$1,798,389 \$0 \$0 \$1,798,389				\$1,766,40B \$0 \$0 \$1,766,40B

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1
Page 15 of 34
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	199	6 PROJECTED FINAL	. (PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPDSEC	FINAL RATES	5) 2/
L1ne No.	Class/Meter Size	<u>C</u>	onsumption(MG)		Revenues	<u>8ills</u>	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1"	1, 528 101		\$13.11 \$13.11	\$20.032 \$1.324	1.528 101		\$17.21 \$17.21	\$26,297 \$1,738
4 5 6 7 8	Gallonage Charge/MG 0-10000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	1,629 136	9.943 1.124 9.943 6.104	\$3.01 \$0.00	\$29.928 0-60 \$0 All exces \$51.284 \$31.48		8,111 2,956 8,111 4,979	\$4.75 \$0.00	\$38,527 \$0 \$66,562 \$40.86
9 10 11	TOTAL ANNUALIZED SALES REUNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	EVENUES 4/			\$51,284 \$0 \$0 \$51,284				\$66,562 \$0 \$0 \$66,562

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6.000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

FPSC

SCHEDULE: E2-1 Page 16 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		1	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJI	ECTED F1NAL (PROPOSEI	FINAL RATE	5) 2/
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	82.761 11		\$15.45 \$15.45	\$1.278.657 \$170	82.761 11		\$17.21 \$17.21	\$1,424,317 \$189
5	0- 6000 All excess 3/		223, 491 32,200	\$3.86 \$0.00	\$862,675 0- 6000 \$0 All excess	27	223,491 32,200	\$4.75 \$0.00	\$1,061,582 \$0
7	Total RESIDENTIAL	82,772	223,491	\$0.00	\$2,141,502	82,772	223,491	\$0.00	\$2,486,088
8	Ave cust/cons/bill/mth	6.898	2.700		\$25.87	6.898	2.700		\$30.04
9	RES WW ONLY								
10	5/8"x3/4"	73		\$27.81	\$2,030	73		\$44.09	\$3,219
11	Gallonage Charge/MG			_					
12	All Gallonage		0	\$0.00			0	\$0.00	\$0
13	Total RES WW ONLY	73	0		\$2,030	73	0		\$3,219
14	Ave cust/cons/bill/mth	6	0.000		\$27.81	6	0.000		\$44.10

9

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 17 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

14	-	199	96 PRDJECTED FIN	AL (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/			
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
15 16 17 18 19 20 21 22 23	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	2.181 505 260 301 69 13		\$15.45 \$38.64 \$77.27 \$123.63 \$247.27 \$386.35 \$772.71	\$33,696 \$19,513 \$20,090 \$37,213 \$17,062 \$5,023 \$10,045	2.181 505 260 301 69 13		\$17.21 \$43.03 \$86.05 \$137.68 \$275.36 \$430.25 \$860.50	\$37,535 \$21,730 \$22,373 \$41,442 \$19,000 \$5,593 \$11,187
24 25 26 27	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth EFFLUENT	3,34 <u>2</u> 279	61,790 61,790 18,489	\$4.63	\$286,088 \$428,730 \$128,29	3.342 279	61.790 61,790 18.489	\$5.70	\$352,203 \$511,063 \$152.92
28 29 30 31 32	5/8"x3/4" Gallonage Charge/MG All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	12 12 1	149.480 149.480 12456.7	\$0.00 \$0.11	\$16,443 \$16,443 \$1,370.25	12 12 1	149,480 149,480 12456.7	\$0.00 \$0.18	\$26,906 \$26,906 \$2,242.17

FPSC

SCHEDULE: E2-1 Page 18 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Wistorical[] Projected[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

	:	1996 PROJECTED FINAL	(PRESENT RATES) 1/	1996 PROJEC	TED FINAL (PROPOSED	FINAL RATES	2/
Line <u>No.</u>	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
33	TOTAL ANNUALIZED SALES REVENUES 4.	/	\$2,588,705				\$3, 0 27, 2 76
34	UNBILLED REVENUE		\$0				\$0
35	OTHER REVENUE 5/		\$0				\$0
	TOTAL REVENUES		\$2,588,705				\$3, 0 27,276

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1

Page 19 of 34

Preparer: Bencini

Supporting Schedules: E1-1, E-13

1.7		19	96 PROJECTED FIN	AL (PRESENT	RATES) 1/	1996 PROJ	ECTED FINAL (PROPOSE	D FINAL RATE	S) 2/
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG	13,275 5,795 24		\$11.10 \$11.10 \$11.10	\$147,353 \$64,325 \$266	13,275 5,795 24		\$17.21 \$17.21 \$17.21	\$228,463 \$99,732 \$413
6 7 8 9	0-10000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	19,094 1,591	87.334 79.150 87.334 4.574	\$3.20 \$0.00		1- 6000 excess 3/ 	64.507 101.977 64.507 3.378	\$4.75 \$0.00	\$306,408 \$0 \$635,016 \$33,26
10 11 12 13 14 15 16 17	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	12 24 196 607 298 327 32		\$11.10 \$22.20 \$55.51 \$88.81 \$177.62 \$277.54 \$555.08	\$133 \$533 \$10,880 \$53,908 \$52,931 \$90,756 \$17,763	12 24 196 607 298 327 32	,	\$17.21 \$43.03 \$86.05 \$137.68 \$275.36 \$430.25 \$860.50	\$207 \$1,033 \$16,866 \$83,572 \$82,057 \$140,692 \$27,536
19 20 21	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	1,496 125	276,430 276,430 184,779	\$3.85	\$1,064,256 \$1,291,160 \$863.07	1.496 125	276,430 276,430 184,779	\$5.70	\$1,575,651 \$1,927,614 \$1,288.51

Company: SSU/COLLIER / MARCO 1SLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1

Page 20 of 34

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Line		1996 PROJECTED FINAL (PRESENT RATES) 1/				1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	Consumption(MG)		Revenues		Bills	Consumption(MG)	Rate	Revenues	
22 23 24 25 26 27 28 29 30 31	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG All Gallonage	1.191 763 323 145 12 24 24	175,139	\$11.10 \$22.20 \$55.51 \$88.81 \$177.62 \$277.54 \$555.08	\$13.220 \$16,939 \$17,930 \$12,877 \$2,131 \$6.661 \$13,322 \$674,285	1.191 763 323 145 12 24 24	175,139	\$17.21 \$43.03 \$86.05 \$137.68 \$275.36 \$430.25 \$860.50	\$20.497 \$32.832 \$27.794 \$19.964 \$3.304 \$10.326 \$20.652	
32 33	Total COMMERCIAL Ave cust/cons/bill/mth	2,482	175,139 70.564		\$757.365 \$305.14	2,482 207	175,139 70,564		\$1,133,661 \$456,75	
34 35 36 37 38 39	COM WW ONLY 1" Gallonage Charge/MG All Gallonage Total COM WW ONLY Ave cust/cons/bill/mth	12	1,148 1,148 95,667	\$22.20 \$3.85	\$266 \$4,420 \$4,686 \$390.50	12 ————————————————————————————————————	1.148 1.148 95.667	\$43.03 \$5.70	\$516 \$6,544 \$7,060 \$588.33	

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 21 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	(4)	(-)	(0)	107		1-7	,		
		1996	PROJECTED FINAL (PRESEN	IT RATES) 1/	1996 PRDJ	1996 PRDJECTED FINAL (PROPOSED FINAL RATES) 2/			
No.	Class/Meter Size	<u>C</u>	onsumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues	
40 41 42 43 44 45	EFFLUENT 1 1/2" 2" 3" 4" 8" 10"	6 15 3 12 1 2 12	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0 \$0 \$0 \$0 \$0 \$0	6 15 3 12 12 12		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0 \$0 \$0 \$0 \$0 \$0	
46 47 48 49 50	Gallonage Charge/MG All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	60 5	200.340 200.340 3339.00	\$50,085 \$50,085 \$50,085 \$834.75	60 5	200,340 200,340 3339.00	\$0.87	\$174,296 \$174,296 \$2,904,93	
51 52 53 54 55 56	MF NON-METEREO 3" Gallonage Charge/MG All Gallonage Total MF NON-METERED Ave cust/cons/bill/mth	12 	\$2,010.00 0 0.000 \$0.00	\$24.120 	12 	0.000	\$3,306.75 \$0.00	\$39.681 \$0 \$39.681 \$3,306.75	

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1
Page 22 of 34
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calcula	tion of revenu	ues at prese	nt and proposed r	ates using the l	billing analysis	. Explain à	ny differences		
between these revenues and boo	ked revenues.	If a rate	change occured du	ring the test y	ear, a revenue d	alculation	must be made for	each period.	
(1)	(2)	(3)	(4)	(5)		(7)	(8)	(9)	(10)

		1996	PROJECTED FINAL (PRESENT	RATES) 1/	1996 PROJE	CTED FINAL (PROPOSE	D FINAL RATE:	S) 2/
Line <u>No.</u>	Class/Meter Size	<u>Co</u>	nsumption(HG)	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues
57 58 59	BULK SEWER 1" 4"	2 84	\$22.20 \$277.54	\$44 \$23,313	2 84		\$43.03 \$430.25	\$86 \$36,141
60 61 62 63	Gallonage Charge/MG All Gallonage Total BULK SEWER Ave cust/cons/bill/mth	<u>86</u> 7	95.060 95.060 1105.35	\$365,981 \$389,338 \$4,527,19	<u>86</u> 7	95,060 95,060 1105.35	\$5.70	\$541,842 \$578,069 \$6,721.73
64 65 66	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/		\$3,008,167 \$0 \$0 \$3,008,167				\$4,495,397 \$0 \$0 \$4,495,397

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/CITRUS / SPRING GARDENS

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 23 of 34

FPSC

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

:		1996	PROJECTED FINAL	(PRESENT F	RATES) 1/	1996 PROJE	CTED FINAL (PROPOSE	D FINAL RATES	5) 2/
Line No.	Class/Meter Size	Con	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG 0-6000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	1,570 131	4,535 1,729 4,535 2,889	\$8.31 \$2.48 \$0.00	\$13.047 \$11.247 0- 6000 \$0 \$24.294 \$15.47	1,570 3/ 1,570 131	4.535 1,729 4.535 2.889	\$17.21 \$4.75 \$0.00	\$27,020 \$21,541 \$0 \$48,561 \$30,93
8 9 10 11 12 13 14	COMMERCIAL 5/8"x3/4" 2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	13 26 39 3	875 875 22.436	\$8.31 \$66.51 \$2.98	\$108 \$1,729 \$2,608 \$4,445 \$113.97	13 26 	875 875 22.436	\$17.21 \$137.68 \$5.70	\$224 \$3,580 \$4,988 \$8,792 \$225.44
15 16 17	TOTAL ANNUALIZED SALES F UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/			\$28.739 \$0 \$0 \$28,739				\$57,353 \$0 \$0 \$57,353

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 B-4 schedule for detail of other revenue.

Company: SSU/ST. LUCIE / TROPICAL ISLES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1

FPSC

Page 24 of 34 Preparer: Bencini

Supporting Schedules: El-1, E-13

Explanation: Provide a calcu	itacion of revent	ies at present ani	u proposeu races	using the bii	iing anaiysis, Explain any c	niterences		
between these revenues and b	ooked revenues.	If a rate change	e occured during	the test year	, a revenue calculation must	be made for	each period.	
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
	1996	PROJECTED FINAL	(PRESENT RATES)	1/	1996 PROJECTED	FINAL (PROF	OSED FINAL RATES)	2/
Line	•							

	_	1990	PROJECTED FINAL	(LKE2ENI	KA1E3) 1/	1996 PKWJ	CIED FINAL (PROPUSEL	J FINAL KAIES	5) 21	
Line <u>No.</u>	Class/Meter Size	Consumption(MG)		<u>Revenues</u>		Bills	Consumption(MG) Rate		Revenues	
1	RES WW ONLY									
2	5/8"x3/4"	3,406		\$ 13. 3 3	\$45,402	3,406		\$4 4.09	\$150,171	
3	Gallonage Charge/MG									
4	All Gallonage		0	\$0.00	\$0		0	\$0.00	02	
5	Total RES WW ONLY	3,406	0		\$45,402	3,406	0		\$150,171	
6	Ave cust/cons/bill/mth	284	0.000		\$13.33	284	0.000		\$44.09	
7	TDTAL ANNUALIZED SALES I	REVENUES 3/			\$ 45,402				\$150,171	
8	UNBILLED REVENUE				\$0				\$0	
9	OTHER REVENUE 4/				\$0				\$0	
10	TOTAL REVENUES				\$45.402				\$150,171	

1/ Present rates use residential gallons at present cap.

2/ Proposed final rates use residential gallons at the proposed cap of 6,000.

3/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.
4/ Refer to schedule 1996 B-4 schedule for detail of other revenue.

669

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LAKE / VALENCIA TERRACE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 25 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Revenues
\$73,1 9 4
\$61,926
\$0
\$135.120
\$31.77
\$774
\$3,141
\$1,119
\$1,790
40.154
\$9,154 *15,030
\$15,978 \$110.96

FPSC

SCHEDULE: E2-1 Page 26 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Company: SSU/LAKE / VALENCIA TERRACE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		1996 PROJECTED FINAL (PR	ESENT RATES) 1/	1996 PROJECTEO FINAL (PROPOSED FINAL RATES) 2/					
No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues		
17	TOTAL ANNUALIZED SALES	REVENUES 4/	\$67 .794				\$151.098		
18	UNBILLED REVENUE		\$0				\$0		
19	OTHER REVENUE 5/		\$0				\$0		
	TOTAL REVENUES		\$67.794				\$151.098		

1/ Present rates use residential gallons at present cap.

2/ Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 B-4 schedule for detail of other revenue.

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform(x)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

FPSC

SCHEDULE: E2-1

Page 27 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

	1-7	(-/	(-,	,	(-/		,-,	4-7	,,
	_	1	996 PROJECTED FINA	L (PRESENT	RATES) 1/	1996 PROJ	ECTED FINAL (PROPOSE	FINAL RATE	S) 2/
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	<u>8i11s</u>	Consumption(MG)	Rate	Revenues_
1 2 3	RESIDENTIAL 5/B"x3/4" Gallonage Charge/MG	3,157		\$22.50	\$71,033	3,157		\$17.21	\$ 54,332
4	0- 0		26,749	\$0.00	\$0 0-6000		16,130	\$4.75	\$76,618
5	All excess 3/			\$0.00			10.619	\$0.00	
6	Total RESIDENTIAL	3,157	26,749		\$ 71,033	3,157	16,130		\$130,950
7	Ave cust/cons/bill/mth	263	8.473		\$22.50	263	5.109		\$41.48
8	RES WW ONLY								
9	5/8"x3/4"	12		\$22.50	\$270	12		\$44.09	\$529
10	Gallonage Charge/MG								
11	All Gallonage		0	\$0.00	\$0		0	\$0.00	\$0
12	Total RES WW ONLY	12	0		\$270	12	0		\$529
13	Ave cust/cons/bill/mth	1	0.000		\$22.50	1	0.000		\$44.08

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1

Page 28 of 34

Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		19	996 PROJECTED FINAL	L (PRESENT	RATES) 1/	1996 PROJI	CTED FINAL (PROPOSED	FINAL RATE	S) 2/
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
14 15 16	COMMERCIAL 5/B"x3/4" 1 1/2" Gallonage Charge/MG	28 12		\$22.50 \$22.50	\$630 \$270	28 12		\$17.21 \$86.05	\$482 \$1,033
18 19 20	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	40	129 129 3.225	\$0.00	\$0 \$900 \$22.50	$\phantom{00000000000000000000000000000000000$	129 129 3.225	\$5.70	\$735 \$2,250 \$56,25
21 22 23	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/			\$72,203 \$0 \$0 \$72,203				\$133,729 \$0 \$0 \$133,729

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1
Page 29 of 34
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

12	1996 PROJECTED FINAL (PRESENT RATES) 1/						1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues		
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	30,125		\$19.16	\$577,195	30.125		\$17.21	\$518,451		
4	0-10000 All excess 3/		172.823 29.265	\$2.98 \$0.00	\$515.013 0- 6000 \$0 All excess 3/	ı	138,090 63,998	\$4.75 \$0.00	\$655,928 \$0		
6	Total RESIDENTIAL	30,125	172,823	\$0.00	\$1,092,208	30,125	138.090	\$0.00	\$1,174,379		
/	Ave cust/cons/bill/mth	2,510	5.737		\$36.26	2.510	4.584		\$38.98		
8 9 10	MULTI-FAMILY 1 1/2" Gallonage Charge/MG	12		\$95.82	\$1.150	12		\$86.05	\$1.033		
11 12 13	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	12 1	7,395 7,395 616,250	\$3.58	\$26,474 \$27,624 \$2,302.00	12 1	7,395 7,395 616,250	\$ 5.70	\$42,152 \$43,185 \$3,598.75		

FPSC

SCHEDULE: E2·1 Page 30 of 34

Preparer: Bencini Supporting Schedules: E1-1, E-13

Company: SSU/HILLSBOROUGH / SEABOARD

Oocket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		19 96	L (PRESENT	RATES) 1/	1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
No.	Class/Meter Size	Consumption(MG)			Revenues	Bills	Consumption(MG)	_Rate_	Revenues
14 15 16 17 18 19 20 21 22 23	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	272 12 48 37 24	13,020 13,020 33,130	\$19.16 \$47.91 \$95.82 \$153.31 \$306.62 \$3.58	\$5,212 \$575 \$4,599 \$5,672 \$7,359 \$46,612 \$70,029 \$178.19	272 12 48 37 24	13.020 13.020 33.130	\$17.21 \$43.03 \$86.05 \$137.68 \$275.36 \$5.70	\$4,681 \$516 \$4,130 \$5,094 \$6,609 \$74,214 \$95,244 \$242,35
24 25 26	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 5/ TOTAL REVENUES	REVENUES 4/			\$1,189,861 \$0 \$0 \$1,189,861		,		\$1,312,808 \$0 \$0 \$1,312,808

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 8-4 schedule for detail of other revenue.

705

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]
Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

FPSC

SCHEDULE: E2-1 Page 31 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

1.7	-	1996 PROJECTED FINAL (PRESENT RATES) 1/				1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size	Consumption(NG)			Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3 4 5 6 7 8 9	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG 0- 6000 All excess 3/ Total RESIDENTIAL Ave cust/cons/bill/mth	63,865 180 29 22 64,096 5,341	237,049 84,529 237,049 3,698	\$12.26 \$12.26 \$12.26 \$12.26 \$12.26 \$3.54 \$0.00	\$782,985 \$2,207 \$356 \$270 \$839,153 0-6000 \$0 All excess 3/ \$1,624,971 \$25,35	63.865 180 29 22 64.096 5.341	237.049 84.529 237.049 3.698	\$17.21 \$17.21 \$17.21 \$17.21 \$17.21 \$4.75 \$0.00	\$1,099,117 \$3,098 \$499 \$379 \$1,125,983 \$0 \$2,229,076 \$34,78	
11 12 13 14 15 16	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	63 5	<u>0</u> 0.000	\$24.86 \$0.00	\$1,566 \$0 \$1,566 \$24.86	63 63 5	0 0.000	\$44.09 \$0.00	\$2.778 \$0 \$2.77B \$44.10	

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES

Company: SSU/HERNANDO / SPRING HILL Docket No.: 950495-WS

Schedule Year Ended 12/31/96 Water [] Wastewater [x]

Interim[] Final(x) Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

SCHEDULE: E2-1 Page 32 of 34 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (8) (9) (10)

	_	1996 PROJECTED FINAL (PRESENT RATES) 1/					1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues		
17 18 19 20 21 22 23 24 25 26	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 6" Gallonage Charge/MG All Gallonage Total COMMERCIAL	2.591 406 85 357 31 20	72,926 72,926	\$12.26 \$30.65 \$61.30 \$98.08 \$196.16 \$613.00	\$31.766 \$12.444 \$5.211 \$35.015 \$6.081 \$12.260	2.591 406 85 357 31 20	72.926	\$17.21 \$43.03 \$86.05 \$137.68 \$275.36 \$860.50	\$44,591 \$17,470 \$7,314 \$49,152 \$8,536 \$17,210		
27	Ave cust/cons/bill/mth	291	20.896		\$412,713 \$118.26	3,490 291	72,926 20,896		\$559,951 \$160,44		
28 29 30 31	BULK SEWER 4" 10" Gallonage Charge/MG	25 14		\$0.00 \$0.00	\$0 \$0	25 14	,	\$0.00 \$0.00	\$0 \$0		
32 33 34	All Gallonage Total 8ULK SEWER Ave cust/cons/bill/mth	39 3	162,934 162,934 4177.80	\$2.35	\$382,895 \$382,895 \$9,817.82	39 3	162,934 162,934 4177.80	\$2.35	\$382,895 \$382,895 \$9,817.82		

706

FPSC

Company: SSU/HERNANDO / SPRING HILL

SCHEDULE: E2-1 Page 33 of 34 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x]

Supporting Schedules: E1-1, E-13

Interim[] Final[x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1996 PROJECTEO FINAL (PRESENT RATES) 1/					1996 PROJECTED FINAL (PROPOSED FINAL RATES) 2/					
Line <u>No.</u>	Class/Meter Size		Consumption(HG)		Revenues		8_	ills	Consumption(HG)	Rate	Revenues
35	TOTAL ANNUALIZED SALES	REVENUES 4/			\$2,422,145							\$3,1 74 ,700
36	UNBILLED REVENUE				\$0							\$0
37	OTHER REVENUE 5/				\$0							\$0
	TOTAL REVENUES				\$2,422,145							\$3,174,700

^{1/} Present rates use residential gallons at present cap.

^{2/} Proposed final rates use residential gallons at the proposed cap of 6,000.

^{3/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{4/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{5/} Refer to schedule 1996 B-4 schedule for detail of other revenue.

FPSC

Company: SSU/HILLSBOROUGH / VALRICD HILLS

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

SCHEDULE: E2-1 Page 34 of 34 Preparer: Bencini

Historical[] Projected[x]

Supporting Schedules: E1-1, E-13

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (9) (10) (2) (3)

		19	96 PROJECTED FINAL	. (PRESENT	RATES) 1/		1996 PROJE	CTED FINAL (PROPOSED	FINAL RATES	5) 2/
No.	Class/Meter Size		Consumption(MG)		Revenues		8ills	Consumption(MG)	_Rate_	Revenues
1 2	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	4.260		\$10.00	\$42,600		4,260		\$17.21	\$73,315
3 4 5	0- 0 All excess 3/		38,579	\$0 .00 \$0 .00)- 6000 excess 3/		21,566 17,01 3	\$4.75 \$0.00	\$102,439 \$0
6	Total RESIDENTIAL Ave cust/cons/bill/mth	4,260 355	38.579 9.056	*0.00	\$42,600 \$10.00		4,260 355	21,566 5,062	50.00	\$175,754 \$41,26
,	Are case, constant trine.	333	3.000		720.00		300	0.002		******
8	TOTAL ANNUALIZED SALES I UNBILLED REVENUE	REVENUES 4/			\$42,600 \$0					\$175,754 \$0
10	OTHER REVENUE 5/ TOTAL REVENUES				\$0 \$42,600					\$175,754

1/ Present rates use residential gallons at present cap.

2/ Proposed final rates use residential gallons at the proposed cap of 6,000.

3/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

4/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.

5/ Refer to schedule 1996 B-4 schedule for detail of other revenue.

Schedule of Wastewater Customer Monthly Billing - 1996

Company: SSU/ Total Company / Proposed Uniform Summary

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-uniform(x) FPSC Non-jurisdiction(x)

Proposed: FPSC Uniforml[x]

Explanati	xplanation: Provide a schedule of monthly customers billed or served by class.									
	(1)	(2)	(3)	(4)	(5)	(6)	(7)			
Line No.	Month/ Year	Residential	Multi-Famil y Dwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>			
1	JAN96	50,467	325	1,600	0	362	52,754			
2	FEB96	50,983	325	1,603	0	369	53,280			
3	MAR96	51,463	322	1,629	0	364	5 3 .778			
4	APR96	51.357	323	1,634	0	366	53,680			
5	MAY96	51,143	323	1,616	0	360	53.442			
6	JUN96	51,476	324	1,617	0	366	53,783			
7	JUL96	51,308	327	1,623	0	363	53,621			
8	AUG96	51.898	324	1,634	0	363	54,219			
9	SEP96	51,556	325	1,632	0	362	53,875			
10	0C T 96	52, 0 69	323	1,628	0	365	54,385			
11	NOV96	51,933	323	1.630	0	364	54.250			
12	OEC96	52,226	323	1,638	0	365	54,552			
13	TOTAL	617.879	3,887	19,484	0	4,369	645,619			
14	MTH. AVE	51,490	324	1,624	0	364	53,802			

FPSC

SCHEDULE: E-3 Page 1 of 14

Preparer: Bencini

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent. Public Authority, Residential Wastewater Only. Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts,

SCHEDULE: E-3
Page 2 of 14

Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-uniform[]

Proposed: FPSC Uniform1[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

Explanation. Provide a schedule of monthly customers billed of served by class.								
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
	14405	00.055	100	671	•	51	00.017	
1	JAN96	23.065	130	671	0	51	23.917	
2	FE B 96	23,126	130	665	0	51	23,972	
3	MAR96	23,425	128	663	0	50	24,266	
4	APR96	23,463	129	673	0	49	24,314	
5	MAY96	23,522	129	669	0	49	24,369	
6	JUN96	23,555	129	671	0	50	24,405	
7	JUL96	23.654	131	674	0	50	24,509	
8	AUG96	23,832	129	683	0	50	24,694	
9	SEP96	23,755	129	676	0	50	24,610	
10	0CT96	23,946	129	679	0	50	24.804	
11	NOV96	24,005	129	675	0	50	24,859	
12	DEC96	24,054	129	680	0	50	24.913	
13	TOTAL	283,402	1,551	8.079	0	600	293,632	
14	MTH. AVE	23.617	129	673	0	50	24,469	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Effluent, Public Authority, Emergency Temporary Service, Residential Wastewater Only Commercial Wastewater Only and Special Contracts.

Company: SSU/OSCEOLA /BUENAVENTURA LAKES(PENDING ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/96

Water [] Wastewater [x]

Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform(] FPSC Non-uniform(x)

Proposed: FPSC Uniforml[x]

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (3) (4) (5) (6) (7) Multi-Family Private Fire Line Month/ General Other No. Year Residential Dwelling Service Protection (List) 1/ Total JAN96 7.186 89 7,275 FE896 7.222 88 7.310 91 MAR96 7,258 7.349 APR96 7,229 91 7,320 90 MAY96 7.222 7.312 JUN96 7,221 90 7.311 JUL96 7,239 90 7,329 AUG96 7,274 93 7.367 94 9 SEP96 7,295 7.389 10 93 0CT96 7,317 7.410 NOV96 95 11 7,363 7,458 93 12 DEC96 7,394 7,487 1,097 13 TOTAL 87,220 88.317 91 14 7.268 MTH. AVE 7,360

FPSC

SCHEDULE: E-3

Page 3 of 14

Preparer: Bencini

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniform1[x]

FPSC

SCHEDULE: E-3
Page 4 of 14
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u> _	Residențial	<u>Dwelling</u>	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>
1	JAN96	2 114	68	24	0	0	3,216
2	FEB96	3,114 3,075	68	34 33	0	0	3.176
3	MAR96	3,120	68	33	0	0	3,221
4	APR96	3.135	68	33 3 4	0	0	3,237
5	MAY96	3,136	68	34	0	0	3,238
6	JUN96	3.166	68	34	0	Û	3,268
7	JUL96	3,181	69	35	0	0	3,285
8	AUG96	3, 192	68	35 35	0	n	3,295
9	SEP96	3.164	68	34	0	0	3,266
10	0CT96	3, 191	68	34	0	0	3,293
11	NOV96	3, 192	68	34	0	0	3,294
						n	
12	DEC96	3.210	68	34	0	0	3,312
13	<u>TOTAL</u>	37,876	817	408	0	0	39,101
14	MTH. AVE	3,156	68	34	0	0	3,258

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

713

Schedule of Wastewater Customer Monthly Billing - 1996

Company: SSU/VOLUSIA /ENTERPRISE

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniform1[x]

Explanation: Provide a schedule of monthly customers billed or served by class

<u>Explanati</u>	ion: Provide a s		y customers billed				· · · · · · · · · · · · · · · · · · ·	
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN96	134	0	0	0	0	134	
2	FEB96	136	0	0	0	0	136	
3	MAR96	135	0	0	0	0	135	
4	APR96	135	0	0	0	0	135	
5	MAY96	136	0	0	0	0	136	
6	JUN96	135	0	0	0	0	135	
7	JUL96	137	0	0	0	0	137	
8	AUG96	135	0	0	0	0	135	
9	SEP96	136	0	0	0	0	136	
10	OCT96	137	0	0	0	0	137	
11	NOV96	137	0	0	0	0	137	
12	DEC96	136	0	0	0	0	<u>136</u>	
13	TOTAL	1,629	n	0	n	Ω	1.629	
14	MTH. AVE	136	0	0	0	0	136	

FPSC

SCHEDULE: E-3
Page 5 of 14

Preparer: Bencini

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/LEE /LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]

Interim(] Final(x)

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniform1[x]

FPSC

SCHEDULE: E-3
Page 6 of 14
Preparer: Bencini

Explanation	on: Provide a s	chedule of monthl	y customers billed	or served by	class.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (<u>List) 1</u> /	<u>Total</u>	
1	JAN96	6.748	0	272	0	6	7,026	
2	FEB96	6,945	0	280	0	9	7,234	
3	MAR96	7,207	0	297	0	7	7,511	
4	APR96	6,854	0	274	0	8	7,136	
5	MAY96	6.837	0	271	0	7	7,115	
6	JUN96	6.864	0	272	0	7	7,143	
7	JUL96	6,829	0	274	0	7	7.110	
8	AUG96	6.870	0	280	0	6	7,156	
9	SEP96	6,891	0	282	0	6	7,179	
10	0СТ96	6,914	0	279	0	6	7,199	
11	NOV96	6.924	0	281	0	6	7,211	
12	DEC96	6,890	0	278	0	6	7,174	
13	TOTAL	<u>82,773</u>	0	3,340	0	81	86,194	
14	MTH. AVE	6,898	0	278	0	7	7.183	

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/COLLIER /MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniforml[x]

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	Year	Residential	Dwelling	Service	Protection	(List) <u>l</u> /	Total
1	JAN96	1.581	125	207	0	14	1,927
2	FEB96	1,576	125	207	0	15	1,923
3	MAR96	1,583	125	211	0	14	1,933
4	APR96	1,580	124	211	0	14	1,929
5	MAY96	1,589	124	208	0	14	1,935
6	JUN96	1,593	125	209	0	14	1,941
7	JUL96	1,594	125	205	0	15	1,939
8	AUG96	1.598	125	206	0	14	1.943
9	SEP96	1,592	126	208	0	14	1,940
10	OCT96	1,601	124	202	0	14	1,941
11	NOV96	1,599	124	206	0	14	1,943
12	DEC96	1.605	124	206	0	14	1.949
13	TOTAL	19,091	1,496	2.486	0	170	23,243
14	MTH. AVE	1,591	125	207	0	14	1,937

FPSC

SCHEDULE: E-3

Page 7 of 14

Preparer: Bencini

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/CITRUS /SPRING GARDENS

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniforml[x]

SCHEDULE: E-3
Page 8 of 14

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	Total
1	JAN96	131	0	3	0	0	134
2	FEB96	131	0	3	0	0	134
3	MAR96	131	0	3	0	0	134
4	APR96	132	0	3	0	0	135
5	MAY96	131	0	3	0	0	134
6	JU N 96	130	0	3	0	0	133
7	JUL96	129	0	3	0	0	132
8	AUG96	130	0	3	0	0	133
9	SEP96	130	0	3	0	0	133
10	OCT96	129	0	3	0	0	132
11	NOV96	130	0	3	0	0	133
12	DEC96	132	0	3	0	0	135
13	TOTAL	1,566	0	36	0	0	1.602
14	MTH. AVE	131	0	3	0	0	134

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/ST. LUCIE /TROPICAL ISLES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniforml[x]

FPSC

SCHEDULE: E-3
Page 9 of 14
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	Year	Residential	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>
1	14106	٥	0	•	2	200	222
2	JAN96	0	0	0	0	282	282
2	FEB96	U	0	U	U	284	284
3	MAR96	v	U	U	U	284	284
4	APR96	0	0	0	0	285	285
5	MAY9 6	0	0	0	0	281	281
6	JUN96	0	0	0	0	285	285
7	JUL96	0	0	0	0	282	282
8	AUG96	0	0	0	0	284	284
9	SEP96	0	0	0	0	284	284
10	OCT96	0	0	0	0	285	285
11	NOV96	0	0	0	0	285	285
12	DEC96	0	0	0	0	285	285
13	TOTAL	0	0	0	0	3.406	3,406
14	MTH. AVE				0	284	284

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/LAKE /VALENCIA TERRACE

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[x]

Proposed: FPSC Uniform1[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>
					•		
1	JAN96	355	0	11	0	0	366
2	FEB96	354	0	10	0	0	364
3	MAR96	355	0	11	0	0	366
4	APR96	355	0	12	0	0	367
5	MAY96	355	0	12	0	0	367
6	JUN96	354	0	12	0	0	366
7	JUL96	354	0	13	0	0	367
8	AUG96	355	0	13	0	0	368
9	SEP96	355	0	13	0	0	368
10	0CT96	355	0	13	0	0	368
11	NOV96	355	0	13	0	0	368
12	DEC96	355	0	13	0	0	368
13	TDTAL	4,257	0	146	0	0	4,403
14	MTH. AVE	355	0	12	0	0	367

FPSC

SCHEDULE: E-3

Page 10 of 14

Preparer: Bencini

^{1/} Includes 8ulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/POLK /LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform1[x]

Exp	<u>lanation: Provide a :</u>	schedule of monthly	<u>customers billed</u>	or served by	class			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Lin	e Month/		Multi-Family	General	Private Fire	Other		
No.	Year	Residential	Dwelling_	Service	Protection	(List) 1/	<u>Total</u>	
	1 JAN96	6	0	0	٥	0		
		_	0	4	0	0	6	
•	2 FEB96	256	0	4	0	1	261	
,	3 MAR96	1	0	0	0	0	1	
4	4 APR96	261	0	4	0	1	266	
ļ.	5 M AY96	1	0	0	0	0	1	
	6 JUN96	260	0	3	0	1	264	
	7 JUL96	3	0	0	0	0	3	
	8 AUG 96	263	0	3	0	1	267	
	9 SEP96	2	0	0	0	0	2	
1		262	0	3	0	1	266	
1		2	0	0	0	D	2	
1		260	0	3	0	1	264	
				<u>~</u>				
13	3 TOTAL	1.577	0	20	0	6	1.603	
14		131	0	2	0		134	
				-	•	-	AV 1	

FPSC

SCHEDULE: E-3

Page 11 of 14

Preparer: Bencini

NOTE: May not tie to other schedules due to monthly rounding.

This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only. Mult-Family Non-metered and Special Contracts.

Company: SSU/HILLSBOROUGH /SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/96
Water [] Wastewater [x]
Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform1[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN96	2.516	1	34	0	0	2,551	
2	FEB96	2.504	1	34	0	0	2,539	
3	MAR96	2,526	1	34	0	0	2,561	
4	APR96	2.519	1	34	0	0	2,554	
5	MAY96	2,523	1	34	0	0	2,558	
6	JUN96	2.517	1	34	0	0	2,552	
7	JUL96	2.502	1	34	0	0	2,537	
8	AUG96	2.512	1	31	0	0	2,544	
9	SEP96	2.509	1	31	0	0	2,541	
10	OCT96	2.511	1	30	0	0	2,542	
11	NOV96	2.497	1	30	0	0	2,528	
12	DEC96	2.490	1	31	0	0	2,522	
13	<u>TOTAL</u>	30,126	12	391	0	0	30,529	
14	MTH. AVE	2,511	1	33	0		2,544	

FPSC

SCHEDULE: E-3

Page 12 of 14 Preparer: Bencini

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

FPSC

SCHEDULE: E-3

Page 13 of 14

Preparer: Bencini

Company: SSU/HERNANDO /SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniform1[x]

explanation: Provide a schedule of monthly customers billed or served by class.

Exprande	(1)	(2)	y customers billed (3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN96	5,274	0	280	0	8	5,562	
2	FEB96	5,304	0	280	0	8	5,5 9 2	
3	MAR96	5,368	0	287	0	8	5,663	
4	APR96	5,339	0	298	0	В	5,645	
5	MAY96	5,334	0	296	0	8	5,638	
6	JUN96	5,327	0	290	0	8	5,625	
7	JUL96	5,329	0	2 9 5	0	8	5,632	
8	AUG96	5,374	0	28B	0	8	5,670	
9	SEP96	5,375	0	291	0	8	5,674	
10	OCT96	5,3 53	0	293	0	8	5,654	
11	NOV96	5,371	0	292	0	8	5.671	
12	DEC96	5,347	0	297	0	8	5.652	
13	TOTAL	64,095	0	3.487	0	96	67,678	
14	MTH. AVE	5,341	0	291	0	8	5,640	

^{1/} Includes 8ulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/HILLSBOROUGH /VALRICO HILLS

Docket No.: 950495-WS Schedule Year Ended 12/31/96 Water [] Wastewater [x] Interim[] Final[x]

Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Proposed: FPSC Uniforml[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN96	357	0	0	0	0	357	
2	FEB96	353	0	0	0	0	353	
3	MAR96	354	0	0	0	0	354	
4	APR96	354	0	0	0	0	354	
5	MAY96	357	0	0	0	0	357	
6	JUN96	353	0	0	0	0	353	
7	JUL96	357	0	0	0	0	357	
8	AUG96	360	0	0	0	0	360	
9	SEP96	352	0	0	0	0	352	
10	OCT96	352	0	0	0	0	352	
11	NOV96	356	0	0	0	0	356	
12	OEC96	<u>353</u>	0	0	0	0	<u>353</u>	
13	<u>TOTAL</u>	4,258	0	0	0	0	4,258	
14	MTH. AVE	355	0	0	0	0	355	

FPSC

SCHEDULE: E-3
Page 14 of 14

Preparer: Bencini

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

723

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1996

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform (x) FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		2) Rates 1/	(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection			\$15.00	N/A	
2	Normal Reconnection			\$15.00	N/A	
3	Violation Reconnection			Actual Cost	N/A	
4	Premise Visit			\$10.00	N/A	
5	Return Check Charge			\$15.00 or 5% of the amou of the ch whicheve	unt eck,	
				greater.	71 13	

FPSC

Schedule E-4

Page 1 of 14

Preparer: Bencini

1/ Rates vary by plant. Please refer to following pages for detail.

Schedule E-4 Page 2 of 14

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Proposed: Uniform [x]

.

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		(2) Present Rates	(3) Proposed	
Line No. Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1 Initial Connection	\$15.00	N/A	No Change	No Change
2 Normal Reconnection	\$15.00	N/A	No Change	No Change
3 Violation Reconnection	Actual Cost	. N/A	No Change	No Change
4 Premise Visit	\$10.00	N/A	No Change	No Change
5 Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1996

Company: SSU / Osceola / Buena Ventura Lakes (Pending Acquisition)

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	N/A	N/A	\$15.00	No Change
2	Normal Reconnection	N/A	N/A	\$15.00	No Change
3	Violation Reconnection	Actual Cost	N/A	\$15.00	No Change
4	Premise Visit	N/A	N/A	\$10.00	No Change
5	Return Check Charge	N/A	N/A	of the	mount e check, hever is

FPSC

Schedule E-4

Page 3 of 14

Preparer: Bencini

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		F	(2) Present Rates		3) ed Rates
Line No.	Type of Charge	During Bus, Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	•	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Schedule E-4 Page 5 of 14 Preparer: Bencini

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		(1) (2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Schedule E-4
Page 6 of 14
Preparer: Bencini

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus, Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	,	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

728

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/96

Water [] Wastewater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Schedule E-4 Page 7 of 14 Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		(1) (2) Present Rates			3) ad Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus, Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	NA	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Schedule E-4

Page 8 of 14

Preparer: Bencini

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x] Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates		(3) ed Rates
Lin e No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

730

Schedule E-4
Page 9 of 14
Preparer: Bencini

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	1	(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	Ouring Bus. Hours	After Bus. Hours	
	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Raconnection	Actual Cost	NA	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

Schedule E-4
Page 10 of 14
Preparer: Bencini

Company: SSU / Lake / Valencia Terrace

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]
Wistering [6] Period of [6]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) Present Rates		(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	,	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1996

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] Wastewater [x]
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(1) (2) (3) Present Rates Proposed Rates		Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$10.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$10.00	N/A	Actual Cost	No Change
4	Premise Visit	\$5.00	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00 or 5% of	N/A	\$15.00 or 5% of	No Change
		the amount		the amou	
		of the chec	-	of the che	-
		whichever i	i8	whicheve	ris

greater.

FPSC

greater.

Schedule E-4

Page 11 of 14

Preparer: Bencini

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x]

Interim () Final [x]
Historical [) Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction (x)

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates		tes
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$15.00	N/A	Actual Cost	No Change
4	Premise Visit	\$7.50	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00	N /A	\$15.00 or 5% of the amount of the check whichever is greater.	κ,

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1996

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x]

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

FPSC

Schedule E-4 Page 13 of 14 Preparer: Bencini

(1)			(2) Present Rates	(3) Proposed Rates	
ine 10.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$15.00	NA	Actual Cost	No Change
4	Premise Visit	\$10.00	N/A	\$10.00	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	\$15.00 or 5% of the amou of the che whicheve greater.	ck,

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x]

Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Proposed: Uniform [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates	(3) Proposed Rates	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	\$15.00	No Change
2	Normal Reconnection	\$15.00	N/A	\$15.00	No Change
3	Violation Reconnection	\$15.00	NA	Actual Cost	No Change
4	Premise Visit	\$7.50	NA	\$10.00	No Change
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	\$15.00 or 5% of the amount of the check whichever is greater.	

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1996

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [X] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-Jurisdiction [X]

Proposed: FPSC Uniform [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line				Projected 1996 Units Projection					(1996 Final)
No.	Type of Charge	Rates	1995 Units 1/	Factor	1996 Units 1/	Revenues	Rates	1996 Units 1/	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1996

Company: SSU/ Total Company / Proposed Uniform Summary

Dodon No.: 950495-WS Schedule Year Endad: 12/31/98 Weber [] Wasterwater [x] Interim [] Final [x] Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Mon-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: FPSC Uniform (x)

Explanation: Provide a actuable of public fire hydrents (including standpipes etc.) by etzs.

This summery is not required for a source only rate application.

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12)

Fire Flore

Line

Requirement Number of Standard Type Public Fire Hydranta By Pipe Stan Connecting the Hydrant

No. Plant Name County States (GPM) 4" 6" 8" 10" 12" 14" Total Matter

This Schedule is not applicable for Westereiter.

739

FP8C

Schedule E-8 Page 1 ol 1

Properer: Bencini

FPSC

Schedule E-7 Page 1 of 1

Page 1 of 1 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [x] Interim [] Final [x]

Present: FPSC Uniform [x] FPSC Non-Uniform [x] FPSC Non-Jurisdiction [x]

Proposed: FPSC Uniform [x]

Historical [] Projected [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(19) (20)(10)(12) (13)(14) (15)(16) (17) (18) (7) (11) (1) Size and Type: Line Sprinkler Lines: Plant Risers: **Double Check Valves:** No. Combined **Total** Total

Private fire protection service is not applicable to wastewater plants.

740

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1996

Company: SSU / Total Company / Proposed Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [X] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-jurisdiction [X]

Proposed: FPSC Uniform [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

FPSC

Schedule: E-8

Preparer: Bencini

Page 1 of 2

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Туре	(2) Description
	FPSC UNIFORM:	
1	MEREDITH MANOR:	
2		
3	Kennedy, Newton	Utility easement granted in exchange for water service at no charge.
4	Customer # 003182	
5		
6	PINEY WOODS:	
7		
6	Caldwell, Charles	Utility easement granted in exchange for water service at no charge.
9	Customer # 001385	
10 11	I IN IN FRANCY CURRER.	
11	UNIVERSITY SHORES:	
13	City of Winter Park, Fontana Apartments	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
14	Customer # 008151	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
15	Castolina & Coo lo l	THE MEDICAL SET OF THE PARTY OF
18	City of Winter Park, Laurel Springs	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
17	Customer # 006150	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
16		,
19	City of Winter Park, Uni Gold	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
20	Customer # 96793	Inc., and SSU: City of Winter Park is billed 70% of water consumption for sewer.
21		
22	Hunter's Ridge Association, LTD	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
23	(9 accounts)	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
23	Customer # 94522, 94523	
24	94524, 94525, 94526,	
25	94527, 94528, 94529,	
26	'94530	
27	WOODMERE:	
26		
29	Park Recreation & Entertainment	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country
30	Customer # 007906	Club: \$100 monthly credit for water and sewer service, booked as easement rental.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1996

Company: SSU / Total Company / Proposed Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/96 Water [] Wastewater [X] Interim [] Final [X] Historical [] Projected [X]

Present: FPSC Uniform [X] FPSC Non-uniform [X] FPSC Non-jurisdiction [X]

Proposed: FPSC Uniform [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

FPSC

Schedute: E-8

Preparer: Bencini

Page 2 of 2

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Туре	(2) Description
	FPSC NON-UNIFORM:	
31	GENEVA LAKE ESTATES:	
32	E 181 E	
33	Emery, W.C.	Utility easement acquired in exchange for water service at no charge.
34	Customer # 031389	
35	444,000 101 4410	
36	MARCO ISLAND:	
37	Outton On the Out of the	
38	Collier County Schools	Effluent Reuse agreement in exchange for utility site easements.
39	Customer # 988723	
40	TD001041 101 F0	
41 42	TROPICAL ISLES:	
43	Drake, John	Comment to Chart and American SCH american to perside any and the second
44	Customer# 96236	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
45	Kennedy, Barbara	more than six (6) rental units at Mobile Park at no charge.
46 46	Customer # 96244	
40 47	Michael, Malcolm	
48	Customer # 96259	
49	Seltands, Harold	
50	Customer # 96265	
51	Steeves, Hubert	
52	Customer # 96268	
53	Flora, Dick	
54	Customer#96271	
	FPSC NON-JURISDICTION:	
55	SPRING HILL	
56		
57	Timber Pines Community Asa., Inc.	Pursuant to Agreement: SSU agrees to provide Timber Pines Community Association
56		Inc., reclaimed water for irrigation at the following rates:
59		\$ 0.00 per month until 12/31/20004,
		\$ 12,775.00 per month from 1/1/2005 through 12/31/2011, and
		\$ 14,904.00 per month from 1/1/2012 through 12/31/2026, 1/

^{1/} Service is to begin as soon as upgrades to Spring Hill's plant and distribution lines are complete (budgeted to be in service in December of 1996).

43

SCHEDULE OF TAX OR FRANCHISE FEES - 1996

Company: SSU / Total Company / Proposed Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/96
Water [] or Wastewater [x]
Interim [] Final [x]
Historical [] Projected [x]

Present: FPSC Uniform [X] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line	(2)	(3)	(4) Tuno of	(5) To Whom	(6)	(7) How Collected	(8)
No.	Plant	County	Type of Tax or Fee	Paid	Amount	From Customers	Agreement
1 2	Total Company	All Counties	Rev. Assess. Fee	FPSC	4.5%	1/	None
3	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
4	Lake Gibson Estetes	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
5	Orange Hill / Sugar Creek	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

SERVICE AVAILABILITY CHARGES SCHEDULE - 1996

Company: SSU / Total Company / Proposed Uniform - Summary

Schedule E-10 Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]
Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line No.	Type of Charge	Present Charges	Proposed Charges

Please see separate Service Availability Schedules, Volume VIII.

GUARANTEED REVENUES RECEIVED - 1996

Company: SSU / Total Company / Proposed Uniform - Summary

Schedule E-11 Page 1 of 1

Preparer: Bencini

FPSC

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x]

Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)

(2)

(3)

(4)

(5)

(6)

Line No. For the Year Ended

Residential

General Service

Other

Total

This schedule is not applicable.

745

746

CLASS A UTILITY COST OF SERVICE STUDY - 1996 Industrial Customers

Company: SSU / Total Company / Proposed Uniform - Summary

FPSC

Schedule E-12 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/96

Water [] Wastewater [x] Interim [] Final [x]

Historical [] Projected [x]

Present: FPSC Uniform [x] FPSC Non-uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)

Proposed:

Line No.

Explanation

calculation

d: FPSC Uniform [x]										
ion: If a projected test ye	ar is used, prov	vide a schedu	de of historic	al and projected b	ills and consum	ption by classific	cation. Include a	1		
on of each projection fact	or on a separat	le schedule, i	f necessary.	List other classes	s or meter sizes	as applicable.				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	N	umberof	Bills	_ +	Consumpti	ion(MG)	Sch	dule Y	ear Reve	n u # s
	Projected	Projection	Projected	Projecte	d Projection	Projected	Prese	nt Rates	Proposed 19	96 Final Rates
Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Inter	im Factor 1/	1996 Final	Rates 2/	Revenue	Rates	Revenue
Residential										
5/8 x 3/4"	480,561	21.19%	582,388	}				\$7,648,259	\$17.21	\$10,022,897
3/4*	5,458	3.68%	5,659	•				\$71,699	\$17.21	\$97,391
1"	29,430	8.12%	31,232	!				\$390,799	\$17.21	\$537,503

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 1 of 25

2 97 3 91 03 1 1/2 124 4.03% 129 \$1,584 \$17.21 \$2,220 2 34 0.00% 34 \$422 \$17.21 \$585 12 0.00% 12 \$152 \$17.21 \$207 Gallonage Charge/MG: 9 0 - varies 3/ 2,081,789 13.92% 2,371,610 \$9,313,828 \$4.75 \$11,265,148 10 All excess 4/ 1.171.775 21.41% 1,422,695 \$0.00 11 515,819 \$17,424,543 20.14% 619,454 2,081,789 13.92% 2,371,610 \$21,925,951 12 Residential WW Only 13 5/8 x 3/4" 3,482 12.10% 3,881 0 0.00% 0 \$56,436 \$44.09 \$171,113 14 Gallonage Charge/MG: 15 All Gallonage \$0.00 \$56,436 18 Total 3,482 12.10% 3,881 0 0.00% \$171,113 17 **Multi-Family** 18 5/8 x 3/4" 156 3.80% 164 \$2,822 \$2,126 \$17.21 19 424 487 14.88% \$19,865 \$43.03 \$20,956 20 1 1/2" 1.326 9.43% 1,451 \$102,241 \$86.05 \$124,859 21 2 1,000 6.30% 1,063 \$109,945 \$137.88 \$148,354 22 3" 297 298 0.34% \$275,36 \$52,931 \$82,057 23 4" 344 1.45% 349 \$97,726 \$430,25 \$150,157 24 8" 57 1.75% 58 \$38,615 \$860.50 \$49,909 25 10 40.00% 14 \$14,194 \$1,378.80 \$19,275 26 Gallonage Charge/MG: 27 All Gallonage 363,971 1.34% 368,849 \$1,475,689 \$5.70 \$2,102,439 28 3,818 7.41% 3,864 363,971 1.34% 368,849 \$2,698,828 \$1,913,332

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculati	on of each projection factor	r on a separat	e schedule, i	f necessary. I	List other classes or		as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umbarof			nsumpti				ar Reve	
Line		Projected	Projection	Projected	Projected	Projection	Projected		nt Rates		96 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	1996 Final	Rates_2/	Revenue	Rates	Revenue
29	Commercial										
30	5/8 x 3/4"	10,735	10.31%	11,842					\$153,202	\$17.21	. \$203,801
31	3/4"	533	6.19%	566					\$10,760	\$25.82	\$14,814
32	1"	2,591	4.94%	2,719					\$81,986	\$43.03	\$ 118,999
33	1 1/2"	1,426	8.44%	1,520					\$98,698	\$86.05	\$130,796
34	2*	1,833	12.55%	2,063					\$209,333	\$137.68	\$284,034
35	3*	357	4.20%	372					\$61,689	\$275.36	\$102,434
36	4"	202	24.75%	252					\$75,901	\$430.25	\$108,423
37	6"	108	18.04%	123					\$63,533	\$860.50	\$105,842
38	6-	41	4.88%	43					\$43,030	\$1,376.80	\$59,202
39	10"	11	9.09%	12					\$17,489	\$1,979.15	\$23,750
40	Gallonage Charge/MG:										
41	All Gallonage				744,142	8.97%	796,007	_	\$3,418,905	\$5.70	\$4,537,240
42	Total	17,837	9,39%	19,512	744,142	6.97%	796,007	,	\$4,274,726	-	\$5,687,135
43	Emergency Temp. Servi	Ice									
44	5/8 x 3/4"	o	N/A	0					\$0	\$17.21	\$0
45	Gallonage Charge/MG:										
48	All Gallonage				0	N/A	0		\$0	\$5.70	\$0
47	Total	0	N/A	0	0	N/A	0		\$0		\$0
	-							-		_	
48	Commercial WW Only										
49	1"	12	0.00%	12					\$266	\$43.03	\$516
50	Gallonage Charge/MG:										
51	All Gallonage				1,148	0.00%	1,148		\$4,420	\$5.70	\$8,544
52	Total	12	0.00%	12	1,148	0.00%	1,148		\$4,686	_	\$7,060
						1		1		=	

FP8C

Schedule E-13

Supporting Schedules: E1-1,

Projection Factor Tab

Page 2 of 25 Preparer: Bencini

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Finel [x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-Uniform [x] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills end consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculat	ion of each projection facts	or on a separat	ię schedule, (f necessary.	List other classes o	meter sizes	es applicable.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6) (9)	(10)	(11)
			umber of			naumptie		Schedule Y		
Line		Projected	Projection	Projected	Projected	Projection	Projected	Present Rates	Proposed 19	96 Final Rates
No.	Class/Motor Size	1995 Interim	Factor 1/	1996 Final	<u>1995 Interim</u>	Factor 1/	1996 Final	Rates 2/ Revenue	Rates	Revenue
53	Public Authority									
54	1 1/2"	12	0.00%	12				\$760	\$88.05	\$1,033
55	Gallonage Charge/MG:									
56	All Gallonage				372	6.72%	397	\$1,743	\$5.70	\$2,263
57	Total	12	0.00%	12	372	6.72%	397	\$2,503		\$3,296
				<u> </u>		•			'	
58	Effluent - FL Central									
59	Commerce Park									
60	5/8 x 3/4"	108	0.00%	108				\$0	\$0.00	\$0
61	Gallonage Charge/MG:									
62	All Gallonage				7,776	0.00%	7,776	\$467	\$0.10	\$776
63	Total	108	0.00%	108	7,776	0.00%	7,776	\$467	•	\$778
									'	
64	Effluent - Lehiah									
65	5/8 x 3/4"	12	0.00%	12				\$0	\$0.00	\$0
66	Gallonage Charge/MG:									
67	All Gallonage				149,480	0.00%	149,480	\$16,443	\$0.16	\$26,906
66	Total	12	0.00%	12		0.00%	149,480	\$18,443	\$0.00	\$26,906
						'				
89	Effluent - Marco Island									
70	1 1/2"	6	0.00%	8				\$0	\$0.00	\$0
71	2"	15	0.00%	15				\$0	\$0.00	\$0
72	3"	3	0.00%	3				\$0	\$0.00	\$0
72	4"	ō	5/	12				\$0	\$0.00	\$0
73	8"	12	0.00%	12				\$0	\$0.00	\$0
74	10*	12	0.00%	12				50	\$0.00	\$0
75	Gallonage Charge/MG:		2.0070					•	4 0.00	•••
76	All Gallonage				145,590	5/	200.340	\$50,085	\$0.87	\$174,296
77	Total	48	25.00%	60		37.61%	200,340	\$50,065	\$0.00	\$174,296
			25.00 /0		140,000	21.0170	230,540	\$50,555		711 11200

FP8C

Schedule E-13

Supporting Schedules: E1-1, Projection Factor Teb

Page 3 of 25 Preparer: Bencini

Notes

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Proposed Uniform - Summary

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[] Wastewater[x]
Interim[] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CAICHIST	ion of each projection facts	or on a saparat	e schedule, i	f necessary.	LIST OTHER CLASSES OF	meter sizes	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N I	umberof	Bills	Co	n s u m p t i	o n(MG)	Scho	adule Ye	er Revei	1 4 6 5
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	1996 Final	Rates 2/	Revenue	Rates	Revenue
78	<u>\$\$</u>										
79	5/8 x 3/4"	39	5.13%	41					\$519	\$17.21	. \$706
80	1*	39	5.13%	41					\$1,299	\$43.03	\$1,764
81	1 1/2*	26	7.69%	28					\$1,774	\$86.05	\$2,409
82	2*	39	5.13%	41					\$4,157	\$137.88	\$5,645
83	Gallonage Charge/MG:										
64	All Gallonage				39,580	6.81%	42,275	_	\$185,587	\$ 5.70 _	\$240,968
85	Total	143	5.59%	151	39,580	6.81%	42,275		\$193,336		\$251,492
										_	
88	Multi-Family Non-Meter	red									
87	3"	12	0.00%	12					\$24,120	\$3,308.75	\$39,881
88	Gallonage Charge/MG:										
89	All Gallonage				N/A	N/A	N/A	_	\$0	\$0.00	\$0
90	Total	12	0.00%	12	N/A	N/A	N/A		\$24,120	_	\$39,681
								•		_	
91	Bulk Wastewater -										
92	Marco Island										
93	1*	2	0.00%	2					\$44	\$43.03	\$86
94	4*	84	0.00%	64					\$23,313	\$430.25	\$36,141
95	Gallonage Charge/MG:										
96	All Gallonage				95,060	0.00%	95,060		\$3 65,981	\$5.70	\$541,842
97	Total	88	0.00%	86		0.00%	95,060	_	\$389,338		\$578,069
								,		-	

FPSC

Schedule E-13

Supporting Schedules: E1-1, Projection Factor Tab

Page 4 of 25 Preparer: Bencini

Notes:

May not tie to other schedules due to rounding.

Company: 8SU / Total Company / Proposed Uniform - Summary

Docket No: 950495-W\$
Schedule Year Ended: 12/31/96
Water[] Wastewater[x]
Interim [] Finel [x]
Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-Uniform (x) FPSC Non-jurisdiction (x)

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

on or each projection racio	A ON E SChalai	is suited use, i	inccossaiy.	CIAL OUTO CHASSES OF	TIPOLOT SELES	аз аррисамо.				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	N I	umber of	Bills	Co	nsumptic	n(MG)	Sch	edule Ye	ar Revei	1403
,	Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
Class/Meter Size	1995 Interim	Factor 1/	1996 Final	1995 Interim	Factor 1/	1996 Final	Rates 2/	Revenue	Rates	Revenue
Bulk Wastewater -										
Spring HIN										
4*	25	0.00%	25					\$0.00	\$0.00	\$0.00
10"	13	0.00%	14					\$0.00	\$0.00	\$0.00
Gallonage Charge/MG:										
Alt Gallonage				158,096	3.06%	162,934		\$382,895	\$2.35	\$382,895
Total	38	2.83%	39	158,096	3.06%	182,934		\$382,695	-	\$382,895
1									-	•
GRAND TOTAL 6/	541.005	19.63%	647 223	3.787.004	10.80%	4.195.876		\$24,732,910		\$31,947,500
	177,000	13.00%	2.11,520	2,101,001	.5.0070	.,,		7-1,1-3,510	-	75.,517,656
	Class/Meter Size Bulk Wastewater - Spring Hill 4" 10" Galionage Charge/MG: Alt Galionage	(1) (2) N Projected 1995 Interim Pulk Westewater - Spring Hill 4" 25 10" 13 Gallonage Charge/MG: Alf Gallonege Total 38	(1) (2) (3) N u m b er o f Projected Projection 1995 Interim Factor 1/ Spring HIM 4" 25 0.00% 10" 13 0.00% Gallonage Charge/MG: All Gallonage Total 38 2.83%	(1) (2) Number of Bills Projected Projection Projected 1995 Interim Factor 1/ 1996 Final A" 25 0.00% 25 10" 13 0.00% 14 Gallonage Charge/MG: Alf Gallonage Total 38 2.83% 39	(1) (2) Number of Bills Co Projected Projection Projected 1995 Interim	(1) (2) (3) (4) (5) (6) (7) (7) (10) (10) (10) (10) (10) (10) (10) (10	Number of Bills Consumption(MG)	(1) (2) (3) (4) (5) (6) (7) (8) Number of Bills Projected Project	(1) (2) (3) (4) (5) (6) (7) (8) (9) Number of Bills Projected Projected Projected 1995 Interim Factor 1/ 1996 Final 1995 Interim Factor 1/ 1	(1) (2) (3) (4) Number of Bills Consumption(MG) Schedule Year Rever Projected Projected Projected 1995 Interim Factor 1/ 1996 Final 1995 Inter

- 1/ Projection factors vary from detail since projections were made at the detail level.
- 2/ Rates vary by plant. Refer to following pages for details.
- 3/ Present Residential Wastewater caps vary by plant.
- 4/ All Excesa Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 5/ Effluent was increased by 54,750 MG for the Hideaway Beach Club reuse project scheduled for implementation in 1996. Please refer to the testimony of Carlyn Kowalsky for information about the project. A reuse project for Tommie Bartield School is also planned, but we have a contractual agreement not to charge them for it. Please refer to Schedule E-8 for information.

FPSC

Schedule E-13

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Page 5 of 25

6/ The roll-up totals may not tie to the sum of the plant schedule totals due to rounding at the plant vs. the summary level.

Notes

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	C o	nsumpti				ar Reve	
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 1/	1996 Final	<u>1995 Interim</u>	Factor 1/	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	244,610	3.48%	253,119				\$12.67	\$3,207,016	\$17.21	. \$4,356,178
3	3/4"	5,458	3.68%	5,659				\$12.67	\$71,700	\$17.21	\$97,391
4	1*	22,780	7.65%	24,523				\$12.67	\$310,706	\$17.21	\$422,041
5	1 1/2"	72	5.58%	78				\$12.67	\$963	\$17.21	\$1,308
8	2*	12	0.00%	12				\$12.67	\$152	\$17.21	\$207
7	4"	12	0.00%	12				\$12.67	\$152	\$17.21	\$207
8	Gallonage Charge/MG;										
9	0- 6,000 gallons				1,108,901	3.30%	1,145,524	\$3.66	84 ,1 92 ,818	\$4.75	\$5,441,239
10	All excess 2/				927,556	3.65%	961,368	\$0.00	\$0	\$0.00	\$0
11	Total	272,944	3.83%	283,401	1,108,901	3.30%	1,145,524		\$7,783,309	-	\$10,316,571
12	Residential WW Only										
13	5/8 x 3/4*	326	0.31%	327	0	0.00%	0	3/	\$7,168	\$44.09	\$14,417
14	Gallonage Charge/MG:										
15	All Gallonage							\$0.00	\$0	\$0.00	\$0
16	Total	326	0.31%	327	0	0.00%	0		\$7,166	-	\$14,417
17	Multi-Family										
18	5/8 x 3/4"	137	3.65%	142				\$12.67	\$1,799	\$17.21	\$ 2,444
19	1"	134	38.81%	168				\$31.68	\$5,892	\$4 3.03	\$8,004
20	1 1/2"	793	13.87%	903				\$63.37	\$57,223	\$86.05	\$77,703
21	r	220	24.55%	274				\$101.39	\$27,781	\$137.68	\$37,724
22	4"	19	15.79%	22				\$318.83	\$8,970	\$430.25	\$9,466
23	8"	12	8.33%	13				\$633.68	\$8,238	\$880.50	\$11,187
24	8"	10	40.00%	14				\$1,013.85	\$14,194	\$1,378.80	\$19,275
25	Gallonage Charge/MG:										
26	All Gallonage				51,306	2.35%	52,513	\$4.39	\$230,532	\$5.70	\$299,324
27	Total	1,325	17.28%	1,554	51,306	2.35%	52,513		\$352,629		\$465,127

FPSC

Schedule E-13

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Page 6 of 25

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS
Schedule Year Ended: 12/31/98
Water[] Wastewater[x]
Interim[] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform(x) FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	On or each projection ractor	On a separat	e schouwe, i	i frecessery.	CISC OURSE CHARGES	7 (160(0) 24.93	аз аррисаме.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		Ni	amber of	Bills	C	onsumpti	on(MG)	Sch	edule Ye	ar Reve	กนอง
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prest	nt Rates	Proposed 19	96 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interior	Factor	1996 Final	Rates	Revenue	Rates	Revenue
28	<u>Commercial</u>										
29	5/8 x 3/4"	4,339	3.32%	4,483				\$12.67	\$56,800	\$17.21	\$77,152
30	3/4"	533	6.19%	566				\$19.01	\$10,760	\$25.62	\$14,614
31	1"	798	4.76%	837				\$31.68	\$26,516	\$43.03	\$36,016
32	1 1/2*	660	6.67%	704				\$63.37	\$44,612	\$86.05	\$60,579
33	2"	962	6.55%	1,025				\$101.39	\$103,925	\$137.66	\$141,122
34	3"	211	5.69%	223				\$202.77	\$45,218	\$275.36	\$61,405
35	4"	166	6.63%	177				\$316.63	\$56,079	\$430.25	\$76,154
36	6"	25	8.00%	27				\$633.66	\$17,109	\$860.50	\$23,234
37	8"	26	7.14%	30				\$1,013.65	\$30,416	\$1,376.80	\$41,304
36	10"	11	9.09%	12				\$1,457.41	\$17,489	\$1,979.15	\$23,750
39	Gallonage Charge/MG;										
40	All Gallonage				411,150	4.65%	430,250	\$4.39	\$1,688,797	\$ 5.70	\$2,452,4 <u>25</u>
41	Total	7,734	4.53%	8,084	411,150	4.65%	430,250		\$2,297,721		\$3,007,755
	•	•	,			•					
42	Emergency Temp. Serv	ice									
43	5/8 x 3/4"	0	N/A	0				\$12.67	\$0	\$17.21	\$0
44	Gallonage Charge/MG:										
45	All Gallonage					N/A	0	\$4.39	\$0	\$5.70	\$0
46	Total	0	N/A	0	- (N/A	0		\$0		\$0

FP\$C

Schedule E-13

Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Page 7 of 25

Notes:

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Finel [x]

Present: FPSC Uniform[x] FPSC Non-Uniform [] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Historical | Projected(x)

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

Schedule E-13
Page 8 of 25
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

FPSC

	(1)	(2)	(3)	(4)	(5)	(8)	(7)		(9)	(10)	(11)
		N	umberof	Bills	C o	nsumpti	o n(MG)	Sche	dula Ya	ar Reve	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	<u>Factor</u>	1996 Final	Rates	Revenue	Rates	Revenue
47	Public Authority										
48	1 1/2*	12	0.00%	12				\$63.37	\$760	\$86.05	. \$1,033
49	Gallonage Charge/MG:										
50	All Gallonage				372	6.72%	397	\$4.39	\$1,743	\$5.70	\$2,263
51	Total	12	0.00%	12	372	6.72%	397		\$2,503	-	\$3,296
52	Effluent - FL Central										
53	Commerce Park										
54	5/8 x 3/4"	108	0.00%	106				\$0.00	\$0	\$0.00	\$0
55	Gallonage Charge/MG:										
56	All Gallonage				7,776	0.00%	7,778	\$0.08	\$467	\$0.10	\$778
57	Total	108	0.00%	108	7,776	0.00%	7,776		\$467		\$778
58	<u>88</u>										
59	5/8 x 3/4"	39	5.13%	41				\$12.67	\$519	\$17.21	\$708
60	1"	39	5.13%	41				\$31.68	\$1,299	\$43.03	\$1,764
61	1 1/2"	26	7.69%	26				\$63.37	\$1,774	\$86.05	\$2,409
82	2*	39	5.13%	41				\$101.39	\$4,157	\$137.68	\$5,645
63	Gallonage Charge/MG:										
64	All Gallonage				39,580	8.81%	42,275	\$4.39	\$185,587	\$5.70	\$240,968
85	Total	143	5.59%	151	39,580	6.81%	42,275		\$193,336		\$251,492
68	GRAND TOTAL 4/	282,592	3.91%	293,637	1,619,085	3.68%	1,678,735		\$10,637,133		\$14,061,436

^{1/} Projection factors vary from detail since projections were made at the detail level.

Notes:

May not tie to other schedules due to rounding.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} The Present rates for Residential Wastewater Only vary by plant.

^{4/} The roll-up totals may not tie to the sum of the plant schedule totals due to rounding at the plant vs. the summary level.

Company: SSU / Oscoola / Buenaventura Lakes (Pending Acquisition) 1/

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

abundation of each position factor on a constraint achedists if accounts. I let other cleans or mater sizes on anythingthe

calculati	ion of each projection fact	or on a separat	te schedule, i	if necessary.	List other classes or	meter sizes	as applicable.				
	(1)	(2)	(3)	(4)		(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	Cor	n sumptic	o n(MG)	S c h e	dule Yea		
Line		Projected	Projection	Projected	Projected	Projection	Projected	Present Rates	Propos	ed 1996 Final R	atos
<u>No.</u> 1	Class/Motor Size Residential	1995 Interim	Factor 2/	1996 Final	1995 Interim	Factor 2/	1996 Final	Rates 3/	Revenue	Rates	Revenue
2	5/8 x 3/4*	84,384	3,36%	87,219				\$8.57	\$747,467	\$17.21	\$1,501,039
3	Gattonage Charge/MG:										
4	0 - 8,000 gallons				339,827	2.74%	348,933	\$4.50	\$1,570,199	\$4.75	\$1,657,432
5	8,001 - 10,000 gallons				82,336	2.74%	64,044	\$4.50	\$288,198	\$0.00	\$0
5	All excess 4/				30,607	2.74%	31,446	\$0.00	\$0	\$0.00	\$0
8	Total	84,384	· :	87,219	401,963		348,933		\$2,605,864	-	\$3,158,471
7	Residential WW Only										
8	5/8 x 3/4"	. 0	3.36%	0				\$29.22	\$0	\$44.09	\$0
9	Gallonage Charge/MG:										
10	All Gallonage				0	2.74%	0	\$0.00	\$0	\$0.00	\$0_
11	Total	0		0	0		0		\$0	-	\$0
12	Commercial										
13	5/8 x 3/4"	781	3,36%	808				\$8.57	\$8,925	\$17.21	\$13,906
14	1*	54	3.36%	58	ı			\$21.42	\$1,200	\$43.03	\$2,410
15	1 1/2"	33	3.36%	34				\$42.83	\$1,456	\$86.05	\$2,926
16	2*	142	3.36%	146				\$68.52	\$10,004	\$137.88	\$20,101
17	4"	37	3.36%	38				\$214.16	\$8,138	\$430.25	\$16,350
18	6*	12	3.36%	13				\$428.35	\$5,569	\$860.50	\$11,187
19	Gallonage Charge/MG:										
20	All Gallonage	I			25,523	2.74%	28,222	\$5.39	\$141,337	\$5 .70 _	\$149,465
21	Total	1,059		1,095	25,523		28,222		\$174,629	-	\$216,345
22	GRAND TOTAL	85,443	ı	88,314	427,486		375,155		\$2,780,493	-	\$3,374,816

FP8C

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Page 9 of 25

Notes:

May not tie to other schedules due to rounding.

^{1/} This plant is pending acquisition in 1996. Historical billing determinants have been supplied by Orange-Osceola Utilities, Inc.

^{2/} The projection factors used are the overall projection factors for all plants.

^{3/} Present rates are the rates that are currently being charged by Orange-Osceola Utilities, Inc.

^{4/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim[] Final[x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculat	ion of each projection facto	on a separa	te schedule, if	necessary. List ott	ner classes or me	ner sizes as a	ipplicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		1	Numbero	Bills	Co	nsumpti	n(MG)	Sch	dule Ye	ar Rever	n u e s
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	35,765	4.17%	37,256				\$19.40	\$722,766	\$17.21	. \$641,176
3	1"	597	4.17%	622				\$19.40	\$12,067	\$17.21	\$10,705
4	Gallonage Charge/MG:										
5	0 - 6,000 gallons				147,568	2.06%	150,637	\$3.97	\$596,029	\$4.75	\$715,526
6	6,001 - 10,000 gallons				24,992	2.06%	25,512	\$3.97	\$101,283	\$0.00	\$0
7	All excess 1/				14,265	2.06%	14,562	\$0.00	\$0	\$0.00	\$0
6	Total	36,362		37,678	172,560		150,637		\$1,434,145	_	\$1,367,407
								•		_	
9	Multi-Family										
10	5/8 x 3/4"	9	4.17%	10				\$19.40	\$194	\$17.21	\$172
11	1"	266	4.17%	277				\$48.52	\$ 13, 440	\$43.03	\$11,919
12	1 1/2"	326	4.17%	340				\$97.02	\$32,987	\$86.05	\$29,257
13	2*	175	4.17%	162				\$155.25	\$26,256	\$137.68	\$25,058
14	6"	13	4.17%	13				\$970.31	\$12,614	\$860.50	\$11,187
15	Gallonage Charge/MG:										
16	All Gallonage				31,846	2.08%	32,511	\$4.75	\$154,427	\$5.70 _	\$165,313
17	Total	769		822	31,848		32,511		\$241,916	_	\$262,906
						•				-	

FPSC

Schedule E-13

Page 10 of 25 Preparer: Bencini

Supporting Schedules: E1-1,

Projection Factor Tab

Notes:

May not tie to other schedules due to rounding.

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical | Projected(x)

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

37,541

Proposed: FPSC Uniform [x]

GRAND TOTAL

Explanation: if a projected test year is used, provide a schedule of historical and projected hills and consumption by classification. Include a

	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(9)	(10)	(11)
			Number of	f Bills				Consumpti	ioπ(MG)		
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	96 Final Rates
No.	Class/Motor Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Rates	Revenue	Rates	Revenue
18	Commercial										
19	5/8 x 3/4"	221	4.17%	230				\$19.40	\$4,462	\$17.21	. \$3,958
20	1*	65	4.17%	67				\$48.52	\$3,251	\$43.03	\$2,883
21	1 1/2"	40	4.17%	41				\$97.02	\$3,978	\$86.05	\$3,528
22	2"	13	4.17%	13				\$155.25	\$2,018	\$137.68	\$1,790
23	3"	13	4.17%	13				\$310.50	\$4,037	\$275.36	\$3,580
24	6"	25	4,17%	28				\$970.31	\$25,228	\$860.50	\$22,373
25	8"	13	4.17%	13				\$970.31	\$12,614	\$1,376.80	\$17,698
26	Gallonage Charge/MG:										
27	All Gallonage				13,764	2.08%	14,050	\$4.75	\$86,738	\$5.70	\$80,085
28	Total		•	403	13,764		14,050		\$122,326	-	\$136,095

218,172

197,198

\$1,798,389

FPSC

Schedule F-13

Preparer: Bencini Supporting Schedules: E1-1.

Projection Factor Tab

\$1,766,408

Page 11 of 25

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

39,103

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Volusia / Enterprise

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[] Wastewater[x] Interim[] Final[x]

Historical() Projected(x)

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

alculati	on of each projection facto	or on a secent	e schedule.	f necessary.	List other class	as or me	nter sizes e	a applicable.				
	(1)	(2)	(3)	(4)	(5)		(6)	(7)	(8)	(9)	(10)	(11)
		N	umber of	Billa		Cons	umptio	n(MG)	Sche	dule Ye	ar Rever	1 U 0 5
Line		Projected	Projection	Projected	Project	ed Pr	ojection	Projected	Preser	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Inte	erim f	Factor	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential											
2	5/8 x 3/4"	1,482	3.07%	1,528					\$13.11	\$20,032	\$17.21	\$26,297
3	1*	98	3.07%	101					\$13.11	\$1,324	\$17.21	\$1,738
4	Gallonage Charge/MG:											
5	0 - 6,000 galiona				7,	720	5.07%	8,111	\$3.01	\$24,414	\$4.75	\$38,527
6	6,001 - 10,000 gallons				1,	743	5.07%	1,832	\$3.01	\$5,514	\$0.00	\$0
7	All excess 1/				1,	069	5.07%	1,124	\$0.00	\$0	\$0.00	\$0
В	Total	1,580		1,629	9,	483	_	6,111		\$51,284		\$66,562
							=		•		-	
9	GRAND TOTAL	1,580		1,629	9,	483		6,111	_	\$51,284	_	\$66,562

FP8C

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Page 12 of 25

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Notes:

Mey not tie to other schedules due to rounding.

Company: \$8U / Lee / Lehigh Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical 1 Projected(x)

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umber of	Bitts	Co	nsumptio	n(MG)	Sche	dule Ye	ar Revei	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
<u>No.</u> 1	Class/Motor Size Residential	1995 Interim	Factor	1996 Final	1995 Interim	<u>Factor</u>	1996 Final	Rates	Revenue	Rates	Revenue
2	5/8 x 3/4"	80,468	2.85%	82,761				\$15.45	\$1,278,657	\$17.21	\$1,424,317
3	1*	10	2.85%	11				\$15.45	\$170	\$17.21	\$169
4	Gallonage Charge/MG:										
5	0 - 6,000 gallons				216,701	2.19%	223,491	\$3.86	\$862,675	\$4.75	\$1,061,582
6	All excess 1/				31,511	2.19%	32,200	\$0.00	\$0	\$0.00	\$0
7	Total	80,478		82,772	218,701		223,491		\$2,141,502	-	\$2,456,088
8	Residential WW Only										
9	5/8 x 3/4"	71	2.85%	73	0	2.19%	0	\$27.81	\$2,030	\$44.09	\$3,219
10	Gallonage Charge/MG:										
11	All Gallonage							\$0.00	\$0	\$0,00	\$0
12	Total	71		73	0		0		\$2,030	_	\$3,219
13	Commercial										
14	5/8 x 3/4"	2,121	2.85%	2,181				\$15.45	\$33,696	\$17.21	\$37,535
15	1"	491	2.85%	505				\$38.64	\$19,513	\$43.03	\$21,730
16	1 1/2"	253	2.85%	260				\$77.27	\$20,090	\$88.05	\$22,373
17	r	293	2.85%	301				\$123.63	\$37,213	\$137.88	\$41,442
16	3"	67	2.85%	69				\$247.27	\$17,052	\$275.36	\$19,000
19	4"	12	2.85%	13				\$386.35	\$5,023	\$430.25	\$5,593
20	6"	12	2.85%	13				\$772.71	\$10,045	\$860.50	\$11,187
21	Gallonage Charge/MG:										
22	Alf Gallonage				60,465	2.19%	61,790	\$4.83	\$286,088	\$5.70	\$352,203

80,465

61,790

\$428,730

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1.

\$511,063

Page 13 of 25

Notes:

23

May not tie to other schedules due to rounding.

Total

3,249

Numbers may not multiply due to the number of decimal places shown (projected bills and gallions also contain decimal places that are not shown).

3,342

Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED FINAL) - 1996

CINCIDAR	on or each projection record on a separate scripture, a recorsery. List other cases or meter sizes as approprie.												
	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(9)	(10)	(11)		
		N	umberof	Bills				Consumpt	ion(MG)				
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates		
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	<u>1996 Final</u>	Rates	Revenue	Rates	Revenue		
24	<u>Effluent</u>												
25	5/8 x 3/4"	12	0.00%	12				\$0.00	\$0	\$0.00	. \$0		
26	Gallonage Charge/MG:												
27	All Gallonage				149,480	0.00%	149,480	\$0.11	\$16,443	\$0.16	\$26,906		
26	Total	12		12	149,480		149,480		\$16,443	_	\$26,906		
										_			
29	GRAND TOTAL	63,610		86,199	428,646		434,761		\$2,588,705		\$3,027,276		
						1				-			

FPSC

Page 14 of 25

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Notes:

May not tie to other schedules due to rounding.

Company: \$80 / Collier / Merco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical() Projected(x)

Present: FPSC Uniform() FPSC Non-Uniform (x) FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

Schedule E-13 Page 15 of 25 Preparer: Bencini Supporting Schedules: E1-1,

Projection Factor Tab

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	<u>umber of</u>	Bills	C o	nsumptio	n(MG)	Sch	edule Ye	ar Reve	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Motor Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	13,219	0.42%	13,275				\$11.10	\$147,353	\$17.21	\$228,463
3	1"	5,771	0.42%	5,795				\$11.10	\$64,325	\$17.21	\$99,732
4	1 1/2"	24	0.42%	24				\$11.10	\$266	\$17.21	\$413
5	Gallonage Charge/MG:										****
6	0 - 6,000 gallons				63,804	1.10%	64,507	\$3.20	\$206,422	\$4,75	\$306,408
7	6,001 - 10,000 gallons				22,579	1.10%	22,827	\$3.20	\$73,046	\$0.00	\$0
8	All excess 1/				76,290	1.10%	79,150	\$0.00	\$0	\$0.00	\$0
9	Total	19,014		19,094	86,383		64,507	V	\$491,412	•	\$635,016
10	Multi-Family										
11	5/8 x 3/4"	12	0.42%	12				\$11.10	\$133	\$17,21	\$207
12	1"	24	0.42%	24				\$22.20	\$533	\$43.03	\$1,033
13	1 1/2"	195	0.42%	196				\$55.51	\$10.880	\$86.05	\$16,866
14	2*	605	0.42%	607				\$88.61	\$53,908	\$137.68	\$83,572
15	3*	297	0.42%	298				\$177.62	\$ 52,931	\$275.36	\$82,057
16	4*	325	0.42%	327				\$277.54	\$90,756	\$430.25	\$140,892
17	6"	32	0.42%	32				\$555.08	\$17,763	8860.60	\$27,536
18	Gallonage Charge/MG:		3.4275	-				4000.00	411,100		421,000
19	All Gallonage				273,422	1,10%	276,430	\$3.65	\$1,064,256	\$5.70	\$1,575,651
20	Total	1,490		1,496	273,422		276,430	40.05	\$1,291,160	40.10	\$1,927,614

May not tie to other schedules due to rounding.

Company: \$8U / Collier / Marco Island

Docket No: 950495-WS

Schedule Year Ended: 12/31/96

Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	Co	nsumpti	n(MG)	Sche	dule Ye	ar Revei	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Rates	Revenue	Rates	Revenue
21	Commercial										
22	5/8 x 3/4"	1,186	0.42%	1,191				\$11.10	\$13,220	\$17.21	. \$20,497
23	1"	760	0,42%	763				\$22.20	\$16,939	\$43.03	\$32,832
24	1 1/2*	321	0.42%	323				\$55.51	\$17,930	\$86.05	\$27,794
25	2*	145	0.42%	145				\$88.81	\$12,877	\$137.68	\$19,964
26	3"	12	0.42%	12				\$177.62	\$2,131	\$275.36	\$3,304
27	4"	24	0.42%	24				\$277.54	\$6,681	\$430.25	\$10,326
28	6"	24	0.42%	24				\$555.08	\$13,322	\$860.50	\$20,652
29	Gallonage Charge/MG:										
30	Ali Gallonage				173,233	1.10%	175,139	\$3.85	\$674,285	\$5.70	\$996,292
31	Total	2,472		2,482	173,233		175,139		\$757,365	_	\$1,133,681
32	Commercial WW Only										
33	1"	12	0.00%	12				\$22.20	\$266	\$43.03	\$518
34	Gallonage Charge/MG:	,_	0.0074					422.20	4200	440.00	4010
35	All Gallonage				1,148	0.00%	1,148	\$3.65	\$4,420	\$5.70	\$6,544
36	Total	12		12	1,148		1,148	-	\$4,686		\$7,060
							1,111	•	4 1,000	_	4.1000
37	<u>Effluent</u>										
36	1 1/2*	6	0.00%	6				\$0.00	\$0		\$0
39	2*	15	0.00%	15				\$0.00	\$0	\$0.00	\$0
40	3"	3	0.00%	3				\$0.00	\$0	\$0.00	\$0
40	4"	0	2/	12				\$0.00	\$0	\$0.00	\$0
41	6"	12	0.00%	12				\$0.00	\$0	\$0.00	\$0
42	10*	12	0.00%	12				\$0.00	\$0	\$0.00	\$0
43	Gallonage Charge/MG:										
44	Ali Gallonage				145,590	2/	200,340	\$0.25	\$50,085	\$0.87	\$174,296
45	Total	48		60	145,590	37.81%	200,340		\$50,085	_	\$174 <u>,29</u> 6

FP8C

Schedule E-13

Page 16 of 25

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calculab	ion of each projection facto	r on a separat	19 SChedule, I	necessary.	List Other classes or	meter sizes	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(9)	(10)	(11)
		N	umber of	Bills				Consumpt	ion(MG)		
Line	'	Projected	Projection	Projected	Projected	Projection	Projected	Prese	ent Rates	Proposed 19	96 Final Rates
No.	Glass/Meter Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Retes	Revenue	Rates	Revenue
46	Multi-Family Non-Motes	red									
47	3"	12	0.00%	12				\$2,010.00	\$24,120	\$3,306.75	\$39,681
48	Gallonage Charge/MG:										
49	All Gallonage				N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
50	Total	12		12	N/A		N/A		\$24,120		\$39,681
								1		'	
51	Bulk Wastewater										
52	1"	2	0.00%	2				\$22,20	544	\$43,03	\$86
53	4"	84	0.00%	84				\$277.54	\$23,313	\$430,25	\$36,141
54	Gallonage Charge/MG:										
55	All Gallonage				95,060	0.00%	95,060	\$3,85	\$365,981	\$5,70	\$541,842
56	Total	B6	'	86		_	95,060	***	\$369,338	•	\$578,069
								1			
57	GRAND TOTAL	23,134		23,242	774,836		612,824		\$3,008,166		\$4,495,397
31	0.0410 101/4	23,104		23,242	774,000		U12,024	4	\$0,000,100		41 ,700,001

FP8C

Schedule E-13

Page 17 of 25

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Notes:

May not tie to other schedules due to rounding.

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} Effluent was increased by 54,750 MG for the Hideaway Beach Club reuse project scheduled for implementation in 1996. Please refer to Volume I, Book 2 for Testimony of Carlyn Kowalsky for additional information. The Tommie Barfield School also has a reuse project, but we have a contractual agreement not to charge them. Please refer to schedule E-8 for more information.

Company: SSU / Citrus / Spring Gardena 1/

Docket No: 950495-WS

Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculation	on of each projection facto	or on a separat	e schedule, i	f necessary.	List other classes o	r meter sizes a	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	C	nsumptio	n(MG)	Sche	dule Ye	ar Revei	ា ម ខ ន
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	Factor 3/	1996 Final	1995 Interim	Factor 3/	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,519	3.36%	1,570)			\$8.31	\$13,047	\$17.21	\$27,020
3	Gattonage Charge/MG:										
4	0- 8,000 gallons				4,414	2.74%	4,535	\$2.48	\$11,247	\$4.75	\$21,541
5	All excess 2/				1,682	2.74%	1,729	\$0.00	\$0	\$0.00	\$0
8	Total	1,519		1,570	4,414		4,535		\$24,294	_	\$48,561
			,					•		-	
7	Commercial										
8	5/8 x 3/4"	12	3.36%	13	3			\$8.31	\$108	\$17.21	\$ <u>22</u> 4
9	2*	25	3.36%	26	3			\$66.51	\$1,729	\$137.68	\$3,580
10	Gallonage Charge/MG:										
11	All Gallonage				852	2.74%	875	\$2.98	\$2,808	\$ 5.70	\$4,988
12	Total	37	'	39			875		\$4,445		\$8,792
			1					•		_	· · · · · · · · · · · · · · · · · · ·
13	GRAND TOTAL	1,556		1,609	5,266		5,410		\$28,739		\$57,353
										-	

FPSC

Schedule E-13

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Page 18 of 25

Notes:

May not tie to other schedules due to rounding.

^{1/} This plant was acquired in 1995.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} The projection factors used are the overall average projection factors for all FPSC-regulated plants.

765

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED FINAL) - 1996

Company: SSU / St. Lucie / Tropical lales

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Finel (x) Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculati	on of each projection facto	r on a sepa <u>ral</u>	te schedule, i	f necessary.	List other classes or	meter stres	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N (umbarof	Bills	C o	neumpti	ion(MG)	Sche	<u>dule Ye</u>	ar Rever	1 U @ \$
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Finel Rates
No.	Class/Motor Size	1995 Interim	Factor	1996 Final	1995 Interim	Factor	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential WW Only										
2	5/8 x 3/4"	2,992	13.82%	3,406				\$13.33	\$45,402	\$44.09	\$150,171
3	Gallonage Charge/MG:										
4	0- 6,000 gallons				N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00
5	All excess 1/				N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00
6	Total	2,992		3,406			N/A		\$45,402	_	\$150,171
								_		_	
7	GRAND TOTAL	2,992		3,406	N/A		N/A	_	\$45,402	_	\$150,171
-			ı		· · · · · · · · · · · · · · · · · · ·					-	

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Teb

Supporting Schedules: E1-1,

Page 19 of 25

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Notes:

May not tie to other schedules due to rounding.

Company: SSU / Lake / Valencia Terrace 1/

Docket No: 950495-WS

Historical | Projected(x)

Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x]

Present: FPSC Uniform[] FPSC Non-Uniform [x] FPSC Non-jurisdiction []

Proposed: FPSC Uniform (x)

Explanation: If a projected test year is used, provide a schedula of historical and projected bills and consumption by classification. Include a

calculati	ion of each projection facto	or on a separat	e schedule, i	necessary.	List other classes or	meter sizas e	a applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Billa	Co	nsumptic	n(MG)	Sche	edula Ye	ar Revei	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
<u>No.</u>	Class/Meter Size	1995 Interim	Factor 3/	1996 Final	1995 Interim	Factor 3/	1996 Final	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	4,115	3.36%	4,253				\$8.49	\$36,108	\$17.21	. \$73,194
3	Gallonage Charge/MG:										
4	0 - 8,000 galions				12,689	2.74%	13,037	\$1.56	\$20,338	\$4.75	\$81,926
5	6,001 - 9,725 gallons				3,417	2.74%	3,511	\$1.56	\$5,477	\$0.00	\$0
8	All excess 2/				7,039	2.74%	7,232	\$0.00	\$0	\$0.00	\$0_
7	Total	4,115		4,253	18,106		13,037		\$81,923	_	\$135,120
						•		•		_	
8	Commercial										
9	5/8 x 3/4*	43	3.36%	45				\$8.49	\$382	\$17.21	\$774
10	1*	70	3.36%	73				\$21.22	\$1,549	\$43.03	\$3,141
11	1 1/2"	12	3.36%	13				\$42.49	\$552	\$86.05	\$1,119
12	2	12	3.36%	13				\$67.91	\$683	\$137.68	\$1,790
11	Gallonage Charge/MG:										
12	All Gallonage				1,563	2.74%	1,606	\$1.56	\$2,505	\$ 5.70 _	\$9,154
13	Total	137		144	1,563	_	1,606	_	\$5,871	_	\$15,978
						•		•		-	
14	GRAND TOTAL	4,252		4,397	17,669		14,643		\$87,794		\$151,098
						•				=	

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 20 of 25

Notes:

May not tie to other schedules due to rounding.

^{1/} This plant was acquired in 1995.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} The projection factors used are the overall average projection factors for all FPSC-regulated plants.

Company: \$\$U / Polk / Lake Gibson

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[] Wastewater[x]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform[] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

Schedule E-13 Page 21 of 25 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, Projection Factor Tab

calculati	on of <u>each proj</u> ection facto	or on a separa	<u>te schedule,</u>	if necessary.	List other classes	or meter size	s as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N ·	umberof	Bills	C o	nsumptie	n(MG)			ar Reve	
Line		Projected	Projection	Projected	Projected	Projection	Projected	Preser	nt Rates		96 Final Rates
No.	Class/Meter Size	1995 Interim	Factor	1996 Final	<u>1995 Interim</u>	<u>Factor</u>	1996 Final	<u>Rates</u>	Revenue	Rates	Revenue
1	<u>Residential</u>										
2	5/8 x 3/4"		0.04%	3,157				\$22.50	\$71,033	\$17.21	\$54,332
3	Gallonage Charge/MG:										
4	0 - 6,000				15,937	1.21%	16,130	\$0.00	\$0	\$4.75	\$ 76,618
5	All Excess 1/				10,492	1.21%	10,619	\$0.00	\$0	\$0.00	\$0
5	Total	3,155		3,157	26,429		16,130	_	\$71,033		\$130,950
	•	***************************************				-		_			
6	Residential WW Only										
7	5/8 x 3/4"	12	0.04%	12				\$22.50	\$270	\$44.09	\$529
8	Gallonage Charge/MG:										
9	All Gallonage				N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$ 0
10	Total	12		12	N/A		N/A	_	\$270		\$529
	1		•			•		-		•	
11	Commercial										
12	5/8 x 3/4"	28	0.04%	28				\$22.50	\$630	\$17.21	\$482
13	1- 1/2"	12	0.04%	12				\$22.50	\$270	\$86.05	\$1,033
14	Gallonage Charge/MG:										
15	All Gallonage				126	1.21%	129	\$0.00	\$0	\$5.70	\$735
16	Total			40	126	-	129	_	\$900	•	\$2,250
						=		=		•	
17	GRAND TOTAL	3,207		3,209	26,555		16,259		\$72,203		\$133,729
			,			-		=		-	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note:

May not tie to other schedules due to rounding.

Company: SSU / Hillsborough / Seaboard

Docket No: 950495-WS Schedule Year Ended: 12/31/98 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform() FPSC Non-Uniform () FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)		(8)	(0)	(40)	/11
	(1)						(7) (46C)		(9)	(10)	(11)
			umberof			nsumptio			edule Ye		
Line		Projected	Projection	Projected	Projected	Projection	Projected		nt Rates		6 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	<u>1995 Interim</u>	Factor	<u>1996 Final</u>	<u>Rates</u>	<u>Revenue</u>	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	29,999	0.42%	30,125				\$19.16	\$577,195	\$17.21	\$518,451
3	Gallonage Charge/MG:										
4	0 - 6,000				138,090	0.00%	138,090	\$2.98	\$411,508	\$4.75	\$655,928
5	6,001 - 10,000				34,733	0.00%	34,733	\$2.98	\$103,504	\$0.00	\$0
5	All Excess 1/				29,265	0.00%	29,265	\$0.00	\$0	\$0.00	80
8	Total	29,999		30,126	172,823	•	138,090		\$1,092,207		\$1,174,379
						•				-	
7	Multi-Family										
8	1- 1/2"	12	0.42%	12				\$95.82	\$1,150	\$86.05	\$1,033
9	Gattonage Charge/MG:							*	•		* 11
10	All Gationage				7,395	0.00%	7,395	\$3.58	\$26,474	\$5.70	\$42,152
11	Total			12	7,395	0.00,5	7,395	-	\$27,624	-	\$43,185
• •		· · · · · · · · · · · · · · · · · · ·				=	7,000	=	42,,021	=	V-10,100
12	Commercial										
13	5/8 x 3/4"	271	0.42%	272				\$19.16	\$5,212	\$17.21	\$4,681
13	4*	12	0.42%	12				\$47.91	\$575	\$43.03	\$516
14	1- 1/2"	48	0.42%	48				\$95.82	\$4,599	\$86.05	•
		37	0.42%	37				•		•	\$4,130
14	2"							\$153.31	\$5,672	\$137.68	\$5,094
15	3"	24	0.42%	24				\$306.62	\$7,359	\$275.36	\$6,609
15	Gallonage Charge/MG:										
16	All Gallonage				13,020	0.00%	13,020	\$3.58	\$46,612	\$5.70 _	\$74,214
17	Total	392		393	13,020	_	13,020	_	\$70,029		\$95,244
						-				_	
16	GRAND TOTAL	30,403		30,530	193,238	_	158,505		\$1,169,860		\$1,312,806
						-		-		-	

FPSC

Schedule E-13

Page 22 of 25

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Note:

May not tie to other schedules due to rounding.

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Hernando / Spring Hill

Docket No: 950495-WS Schedule Year Ended: 12/31/96 Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

FPSC

Schedule E-13 Page 23 of 25 Preparer: Bencini

Supporting Schedules: E1-1, **Projection Factor Tab**

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	Co	insumpti	o n(MG)			ar Reve	
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates		6 Final Rates
No.	Class/Mater Size	1995 Interim	Factor	1996 Finel	1995 Interim	Factor	1996 Fine!	Rates	Revenue	Rates	Revenue
1	<u>Residential</u>										
2	5/8 x 3/4"	61,969	3.06%	63,865				\$12.26	\$782,985	\$17.21	\$1,099,117
3	1"	174	3.06%	180				\$12.26	\$2,207	\$17.21	\$3,098
4	1- 1/2"	28	3.06%	29				\$12.26	\$356	\$17.21	\$499
5	2*	22	3.06%	22				\$12.26	\$270	\$17.21	\$379
6	Gallonage Charge/MG:										
7	0 - 6,000				227,430	4.23%	237,049	\$3.54	\$839,153	\$4.75	\$1,125,963
8	All Excess 1/				81,097	4.23%	84,529	\$0.00	\$0	\$0.00	\$0
9	Total	62,193		64,096	227,430		237,049	_	\$1,824,971	=	\$2,229,076
			,			_		_			
10	Residential WW Only										
11	5/8 x 3/4"	61	3.06%	83				\$24.86	\$1,566	\$44.09	\$2,778
12	Gallonage Charge/MG:										
13	Ali Galionage				N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
14	Total	61		63	N/A		N/A	=	\$1,566	_	\$2,778
			,								
15	Commercial										
16	5/8 x 3/4"		3.06%	2,591				\$12.26	\$31,766	\$17.21	\$44,591
17	1"	394	3.06%	406				\$30.65	\$12, 444	\$43.03	\$17,470
18	1- 1/2"	82	3.06%	85				\$61.30	\$5,211	\$86.05	\$7,314
19	2*	346	3.06%	357				\$98.08	\$35,015	\$137.68	\$49,152
20	3*	30	3.06%	31				\$196.18	\$6,081	\$275.36	\$8,536
21	6"	20	3.06%	20				\$613.00	\$12, 26 0	\$860.50	\$17,210
22	Gallonage Charge/MG:										
23	All Gallonage				69,967	4.23%	72,926	\$4.25	\$309,936	\$5.70 _	\$415,678
24	Total	3,386		3,490	69,967		72,926		\$412,713		\$559,951
			,		•	•		•		_	

Note:

May not tie to other schedules due to rounding.

770

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED FINAL) - 1996

Company: SSU / Hernando / Spring Hill

Docket No: 950495-WS
Schedule Year Ended: 12/31/96
Water[] Wastewater[x]
Interim [] Final [x]
Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform [] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

calculati	on of each projection facto	or on a separa	te schedule,	if necessary.	List other classes of	or meter size:	s as applicable.				
	(1)	(2)	(3)	(4)	(5)	(8)	(7)	(6)	(9)	(10)	(11)
		N	umberof	Bills	Co	nsumpti	o n(MG)	Sche	edule Ye	ar Reve	nues
Line		Projected	Projection	Projected	Projected	Projection	Projected	Prese	nt Rates	Proposed 199	6 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	<u>1995 Interim</u>	Factor	1996 Final	<u>Rates</u>	<u>Revenue</u>	Rates	Revenue
25	Bulk Wastewater										
26	4"	25	3.06%	25				\$0.00	\$0	\$0.00	\$0
27	10"	13	3.06%	14				\$0.00	\$0	\$0.00	\$0
28	Gallonage Charge/MG:										
29	All Gallonage				158,096	3.06%	162,934	\$2.35	\$382,895	\$2.35	\$382,895
30	Total	38		39	158,096		162,934	=	\$382,895	=	\$382,895
31	GRAND TOTAL	65,678	,	67,688	455,493	:	472,909	=	\$2,422,145	-	\$3,174,700

FPSC

Schedule E-13

Preparer: Bencini

Projection Factor Tab

Supporting Schedules: E1-1,

Page 24 of 25

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note

May not tie to other schedules due to rounding.

FPSC

Company: SSU / Hillsborough / Valrico Hills

Docket No: 950495-WS Schedule Year Ended: 12/31/96

Water[] Wastewater[x] Interim [] Final [x] Historical[] Projected[x]

Present: FPSC Uniform[] FPSC Non-Uniform[] FPSC Non-jurisdiction [x]

Proposed: FPSC Uniform [x]

Schedule E-13 Page 25 of 25 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calculati	on or each projection race	or on a separa	ate schedule,	n necessary.	LIST UTIFCI CIASSOS	OI THELE SEE	s as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberof	Bills	C o	nsumpti	n(MG)	Sche	dule Ye	ar Reve	nueș
Line		Projected	Projection	Projected	Projected	Projection	Projected	Preser	nt Rates	Proposed 199	96 Final Rates
No.	Class/Meter Size	1995 Interim	<u>Factor</u>	1996 Final	<u>1995 Interim</u>	<u>Factor</u>	1996 Final	Rates	Revenue	<u>Rates</u>	Revenue
1	Residential										
2	5/8 x 3/4"	4,260	0.00%	4,260				\$10.00	\$42,600	\$17.21	\$73,315
3	Gallonage Charge/MG:										
4	0 - 6,000				21,566	0.00%	21,566	\$0.00	\$0	\$4.75	\$102,439
5	All Excess 1/				17,013	0.00%	17,013	\$0.00	\$0	\$0.00	\$0
5	Total	4,260	•	4,260	38,579	_	21,566	_	\$42,600	_	\$175,754
					· <u></u>	-		=		-	
6	GRAND TOTAL	4,260		4,260	38,579		21,566		\$42,600		\$175,754
_						=		2		=	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note:

May not tie to other schedules due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

18

19

3*

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists,

FPSC Schedule: E1-1 Page 1 of 2 Preparer: Bencini

\$257.25

\$401.96

(1) (2) (3) (4) Present Line Revenue Requirement Proposed 1995 No. Class/Meter Size Rates Percent Increase 1/ Interim Rates RESIDENTIAL 1 All Meter Sizes \$12.67 26.870% \$16.07 GALLONAGE CHARGE / MG: 2 0 - 6,000 \$3.66 26.870% \$4.84 3 All Excess Gallons No Charge No Charge **RESIDENTIAL WASTEWATER ONLY** Apache Shores \$17.27 26.870% \$21.91 5 Beacon Hills \$31.86 26.870% \$40,42 6 Fisherman's Haven \$26.37 26.870% \$33.46 Leilani Heights \$31.03 26.870% 7 \$39.37 8 Morningview \$29.84 26.870% \$37.86 9 Palm Port \$25.16 26.870% \$31.92 10 Sugar Mill \$23.45 26.870% \$29.75 11 **University Shores** \$30.01 28.870% \$38.07 12 Venetian Village \$28.81 28.870% \$36.55 **GENERAL, MULTI-FAMILY SERVICES 2/** 13 5/8"x3/4" \$12.67 26.870% \$16.07 14 3/4" \$19.01 26.670% \$24.12 1" 15 \$31.68 26.870% \$40.19 16 1 - 1/2" \$63.37 26.870% \$80.40 17 \$101.39 26.870% \$128.63

26.870%

26.870%

\$202.77

\$316.83

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

^{2/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 2 of 2 Preparer: Bencini

•	ion: Provide a schedule of present, interim and prop (1)	(2)	(3)	(4)	
Line	• •	Present	Revenue Requirement	Proposed 1995	
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates	
	GENERAL, MULTI-FAMILY SERVICES (cont.)	<u>2/</u>		•	
20	6*	\$633.66	26.870%	\$803.92	
21	8*	\$1,013.85	26.870%	\$1,286.27	
22	10°	\$1,457.41	26.870%	\$1,849.02	
	GALLONAGE CHARGE / MG:	, ,			
23	Ali Gallonage	\$4.39	28.870%	\$5.57	
24	(Per 100 cubic ft)	\$3.28		\$4.17	
	EMERGENCY TEMPORARY SERVICE - Sugar	Mill Woods			
25	5/8"x3/4"	\$12.67	26.870%	\$16.07	
	GALLONAGE CHARGE / MG:	4.1 -14.			
28	All Gallonage	\$4.39	28.870%	\$5.57	
	EFFLUENT - Deltona 3/				
	GALLONAGE CHARGE / MG:				
27	All Gallonage	\$0.06	4/	\$0.06	
		•			
	EFFLUENT - FL Central Commerce Park				
	GALLONAGE CHARGE / MG:				
				\$0.08	

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

^{2/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{3/} There is no billing history for Deltona.

^{4/} By contract, rate cannot be changed.

^{5/} Sprinkler heads are stated as gallonage in the E2-1, E2-2 and E-13 Schedules for presentational purposes.

775

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 1 of 4
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

							-		(20)
Line		199	5 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPO	SED INTERIM	RATES)
No.	Class/Meter_Size		Consumption(NG)		Revenues	Bills	Consumption(MG)	_Rate	Revenues
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Full 3/4" 1 1/2" 2" 4" Gallonage Charge/MG	244,610 5,458 22,780 72 12		\$12.67 \$12.67 \$12.67 \$12.67 \$12.67 \$12.67	\$3,099,209 \$69,153 \$288,623 \$912 \$152 \$152	244.610 5.458 22.780 72 12 12		\$16.07 \$16.07 \$16.07 \$16.07 \$16.07 \$16.07	\$3,930,883 \$87,710 \$366,075 \$1,157 \$193 \$193
9 10 11 12	0-6000 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	272.944 22.745	1.108.901 927.556 1.108.901 4.063	\$3.66 \$0.00	\$4,058,578	272,944 22,745	1.108,901 927,556 1,108,901 4.063	\$4.64 \$0.00	\$5,145,301 \$0 \$9,531,512 \$34,92
13 14 15 16 17 18	RES WW ONLY 5/B"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	326 326 27	000.000	2/ \$0.00	\$7,138 \$0 \$7,138 \$21,90	326 326 27	0 0 0	2/ \$0.00	\$9.057 \$0 \$9.057 \$27.78

FPSC

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform(x) FPSC Non-uniform(] FPSC Non-jurisdiction[]

SCHEDULE: E2-1
Page 2 of 4
Preparer: 8encini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1 99 5	PROJECTED INTERIM (PRESENT	RATES)	1995_PROJE	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size	Co	onsumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues	
19	MULTI-FAMILY								
20	5/8"x3/4"	137	\$12.67	\$1,736	137		\$16.07	\$2,202	
21	1"	134	\$31.68	\$4,245	134		\$40.19	\$5,385	
22 23 24 25 26	1 1/2"	793	\$63.37	\$50,252	793		\$80.40	\$63.757	
23	2"	220	\$101.39	\$22,306	220		\$128.63	\$28,299	
24	4"	19 12	\$316.83	\$6,020	19		\$401.96	\$7,637	
25	6"	12	\$633.66	\$7,604	12		\$803.92	\$9,647	
	8"	10	\$1,013.85	\$10,139	10		\$1,286.27	\$12,863	
27	Gallonage Charge/MG						45.53	*005 774	
28	All Gallonage		51,306 \$4.39	\$225,233		51,306	\$5.57	\$285,774	
29	Total MULTI-FAMILY	1,325	51,306	\$327,535	1,325 110	51.306		\$415,564	
30	Ave cust/cons/bill/mth	110	38.722	\$247.20	110	38.722		\$313.63	
31	COMMERCIAL								
32	5/8"x3/4"	4.339	\$12.67	\$54,975	4.339	,	\$16.07	\$69.728	
33	Full 3/4"	533	\$19.01	\$10,132	533		\$24.12	\$12,856	
34	1"	7 9 9	\$31.68	\$25,312	799		\$40.19	\$32,112	
34 35 36	1 1/2"	660	\$63.37	\$41,824	660		\$80.40	\$53,064	
36	2"	962	\$101.39	\$97,537	962		\$128.63	\$123,742	
37	ā"	211	\$202.77	\$42,784	211		\$257.25	\$54,280	
38	4"	166	\$316.83	\$52,594	166		\$401.96	\$66,725	
38 39	6*	25	\$633.66	\$15,842	25		\$803.92	\$20,098	
40	8*	25 28	\$1.013.85	\$28,388	28		\$1,286.27	\$36,016	
41	10"	11	\$1,457.41	\$16,032	11		\$1,849.02	\$20,339	
42	Gallonage Charge/MG		V2, 107.12	420,000			-		
43	All Gallonage		411,150 \$4.39	\$1,804,948		411,150	\$5.57	\$2,290,106	
44	Total COMMERCIAL	7.734	411,150	\$2,190,368	7.734	411,150		\$2,779,066	
45	Ave cust/cons/bill/mth	645	53.161	\$283.21	645	53.161		\$359,33	

3

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 3 of 4
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

Line		1995 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size	Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
46 47 48 49 50 51	EMERGENCY TEMPORARY SERVICE 5/8"x3/4" Gallonage Charge/MG All Gallonage Total ETS Ave cust/cons/bill/mth	0 0 0	\$12.67 \$4.39	\$0 \$0 \$0	0 <u>0</u> 0	0	\$16.07 \$5.57	\$0 \$0 \$0
52 53 54 55 56 57	PUBLIC AUTHORITY 1 1/2" Gallonage Charge/MG All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	12	\$63.37 \$4.39	\$760 \$1,633 \$2,393 \$199,42	$\frac{12}{\frac{12}{1}}$	372 372 31.000	\$80.40 \$5.57	\$965 \$2.072 \$3.037 \$253.08
58 59 60 61 62 63	EFFLUENT 5/8"x3/4" Gallonage Charge/MG All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	108 7,776 108 7,776 9 72,000	\$0.00 \$0.06	\$467 \$467 \$4.32	108 108 9	7,776 7,776 72.000	\$0.00 \$0.08	\$622 \$622 \$5.76

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]
FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: £2-1 Page 4 of 4 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PR	OJECTED INTERIM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPO	SED INTERIM	RATES)
No.	Class/Meter Size	Cons	umption(HG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
64 65 66 67 68 69	SS 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG	39 39 26 39	\$12.67 \$31.68 \$63.37 \$101.39	\$494 \$1.236 \$1.648 \$3.954	39 39 26 39	00.500	\$16.07 \$40.19 \$80.40 \$128.63	\$627 \$1.567 \$2,090 \$5,017
70 71 72	All Gallonage Total SS Ave cust/cons/bill/mth	143	39,580 39,580 276,783	\$173,756 \$181,088 \$1,266.35	143 12	39,580 39,580 276.783	\$ 5.57	\$220.461 \$229.762 \$1,606.73
73 74 75 76	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 4/ TOTAL REVENUES	REVENUES 3/		\$10,225,768 \$0 \$0 \$10,225,768		,		\$12,968,620 \$0 \$0 \$12,968,620

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} Rates vary by plant. See schedule E-1 for list of rates by plant.

^{3/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{4/} Refer to schedule 1995 8-4 schedule for detail of other revenue.

Schedule of Wastewater Customer Monthly Billing - 1995

FPSC

Company: SSU/ Total Company/ Present Uniform

SCHEDULE: E-3

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Page 1 of 1 Preparer: Bencini

Water [] Wastewater [x]

Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

	ion: Provide a s	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	Year	Residential	Dwelling	<u>Service</u>	Protection	(List) 1/	Total	
1	JAN95	22,247	111	642	0	50	23,050	
2	FEB95	22,296	111	636	0	50	23,093	
3	MAR95	22,579	109	634	0	49	23,371	
4	APR95	22,610	110	644	0	48	23,412	
5	MAY95	22,665	110	640	0	48	23,463	
6	JUN95	22,695	110	642	0	49	23,496	
7	JUL95	22,783	111	645	0	49	23,588	
8	AUG95	22,942	110	654	0	49	23,755	
9	SEP95	22,865	110	648	0	49	23,672	
10	OCT95	23,041	110	650	0	49	23,850	
11	NOV95	23,090	110	647	0	49	23,896	
12	DEC95	23,133	110	652	0	49	23.944	
13	TOTAL	272.946	1,322	7.734	0	588	282,590	
14	MTH. AVE	22.746	110	645	0	49	23,549	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Effluent, Public Authority, Emergency Temporary Service. Residential Wastewater Only and Special Contracts.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Present Uniform

Schedule E-4 Page 1 of 1

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)	(1)		(2) Present Rates	(3) Proposed Rates		
Line No. Type of 0	Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1 Initial Connectio	n	\$15.00	N/A	No Change	No Change	
2 Normal Reconne	ection	\$15.00	N/A	No Change	No Change	
3 Violation Reconi	nection	Actual Cost	N/A	No Change	No Change	
4 Premise Visit		\$10.00	N/A	No Change	No Change	
5 Return Check C	harge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [X] FPSC Non-uniform [] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC	
Schedule: I	-5
Page 1 of 1	
Preparer: B	lendir

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
				Projected 1995 Units					
Line			,	Projection					(1995 Interim)
No.	Type of Charge	Rates	1994 Units	Factor	1995 Units	Revenues	Rates	1995 Units	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: 8SU/ Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

Schedule E-6 Page 1 of 1 Preparer: Bencini

FPSC

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement	Number	of Standard	Type Public Fi	re Hydrants B	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	Requirement (GPM)	4"	of Standard	Type Public Fi	10"	y Pipe Size C	onnecting the	Total	Notes

This Schedule is not applicable for Wastewater.

	_			
OCHEDIN		N/ATE CIDI	こりりつてこうていい	N SFRVICE - 1995
31.8511111	CUPPR	IVMICTIRI		1 OFKVILE - 1990

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-7

Page 1 of 1

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Preparer, Bencini

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1)

(7)

(10)

(11)

(12)

(13)

(14)

							Size ar	nd Type:			_			
Line No.	Plant				Risers	:			Do	ouble CI	neck Val	ves:		
		2"	4"	6"	8"	10"	Total	2"	4"	6"_	8"	10"	Total	Combined Total

Private fire protection service is not applicable to wastewater plants.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [X] Wastewater [X]
Interim [X] Final []
Historical [] Projected [X]

FPSC Uniform [X] FPSC Non-uniform [] FPCS Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	MEREDITH MANOR:	
2		LANDA
3	Kennedy, Newton	Utility easement granted in exchange for water service at no charge.
4	Customer # 003182	
5		
6	PINEY WOODS:	
7		(Mills
8	Caldwell, Charles	Utility easement granted in exchange for water service at no charge.
9	Customer # 001385	
10		
11	UNIVERSITY SHORES:	
12	Ott 4145-4 Bad. Fasters Apademanta	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
13	City of Winter Park, Fontana Apartments	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
14	Customer # 006151	Inc., and 330. City of William Falk is briefly 70% of water consumption for sewer.
15	City of lifeton Body Layers Corings	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
16 17	City of Winter Park, Laurel Springs Customer # 006150	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
	Cristomer > one iso	III., and 550. Only of visited it ank is billed 70% of water consumption for sewel.
18 19	City of Winter Park, Uni Gold	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
20	Customer # 96793	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
21	COMMING & SOLES	the, and door only of thintees to the amount of the or treatment for dottor.
22	Hunter's Ridge Association, LTD	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
23	(9 accounts)	inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
23	Customer # 94522, 94523	they depend only of this or and a street of the or the or the or the original terms of t
24	94524, 94525, 94526,	
25	94527, 94528, 94528,	
26	'94530	
27		
28	WOODMERE:	
29		
30	Park Recreation & Entertainment	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country
31	Customer # 007906	Club: \$100 monthly credit for water and sewer service, booked as easement renta

FPSC Schedule: E-8 Page 1 of 1 Preparer: Bencini

SCHEDULE OF TAX OR FRANCHISE FEES - 1995

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] or Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable). State the type of agreement (i.e. contract, tax).

						_	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line	 .		Type of	To Whom		How Collected	Type of
No.	Plant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
1	Total Company	FPSC Juris.	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC Schedule: E-9

Page 1 of 1

Preparer: Bencini

^{1/} Included in overall cost of service.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1995

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-10

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)
Line		Present	Proposed
No.	Type of Charge	Charges	Charges

Please see separate Service Availability Schedules, Volume VIII.

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-11 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)
Line	For the Year Ended	Residential	General Service	Other	Total
No.	————	- Acoloeiluai		——————————————————————————————————————	

This schedule is not applicable.

788

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12

Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

THIS PAGE INTENTIONALLY LEFT BLANK

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/95

Water[] Wastewater[x] Interim(x] Final[] Historical[] Projected[x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 1 of 3 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: if a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculati	on of each projection factor	r on a separa		r necessary.	LIST OTHER CIASSES C		as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umberot	Bills	C	n s u m p t i	on(MG)	Sch	adule Ye	ar Rever	1 u 6 s
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor_1/	1995 Interim	<u> 1994</u>	Factor 1/	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	235,832	3.72%	244,610				\$12.67	\$3,099,209	\$16.07	\$3,930,883
3	3/4"	5,153	5.92%	5,458				\$12.67	\$69,153	\$16.07	\$67,710
4	1"	21,182	7.65%	22,780				\$12.67	\$288,623	\$16.07	\$366,075
5	1 1/2"	68	5.88%	72				\$12.67	\$912	\$16.07	\$1,157
6	2"	12	0.00%	12				\$12.67	\$152	\$16.07	\$193
7	4"	12	0.00%	12				\$12.67	\$152	\$16.07	\$193
8	Gallonage Charge/MG:										
9	0- 6,000 gallons				1,067,761	3.85%	1,108,901	\$3.66	\$4,058,576	\$4.64	\$5,145,301
10	All excess 2/				886,281	4.86%	927,556	\$0.00	\$0	\$0.00	\$0
11	Total	262,239	4.08%	272,944	1,067,761	3.85%	1,108,901		\$7,516,779		\$9,531,512
	•					•				_	
12	Residential WW Only										
13	5/8 x 3/4°	324	0.62%	326	0	0.00%	0	3/	\$7,138	3/	\$9,057
14	Gallonage Charge/MG:										
15	All Gallonage							\$0.00	\$0	\$0.00	\$0_
16	Total	324	0.62%	326	0	0,00%	0		\$7,138	_	\$9,057
				_				·			
17	Multi-Family										
18	5/8 x 3/4"	133	3.01%					\$12.67	\$1,736	\$16.07	\$2,202
19	1"	96	39.58%					\$31.68	\$4,24 5	\$4 0.19	\$5,385
20	1 1/2"	697	13.77%					\$63.37	\$50,252	\$80.40	\$63,757
21	2-	180	22.22%					\$101.39	\$22,306	\$128.63	\$28,299
22	4"	17	11.76%					\$316.83	\$6,020	\$401.96	\$7,637
23	6"	12	0.00%					\$633.66	\$7,604	\$803.92	\$9,647
24	8"	7	42.66%	10				\$1,013.85	\$10,139	\$1,286.27	\$12,863
25	Gallonage Charge/MG:										
26	All Gallonage				49,746	3.14%	51,306	\$4.39	\$225,233	\$5.57	\$265,774
27	Total	1,142	16.02%	1,325	49,746	3.14%	51,308		\$327,535	_	\$415,564
			•			'	· · · · · · · · · · · · · · · · · · ·	,		-	

- 1/ Projection factors vary from detail since projections were made at the detail level.
- 2/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 3/ Rates for Residential Wastewater Only vary by plant.

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 2 of 3 Preparer. Bencini Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CAICUIAL	ion o <u>r each</u> projection lactor	OLI M SONMIN	ile scriourie,	w Hecessary.	LISCO	UICI CIASSES U	I IIIGIGI SIZCI	as appricable.				
	(1)	(2)	(3)	(4)		(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umbaro	Bills		C •	nsumpti	o n(MG)	S c h e	dule Ye	ar Revei	1 u e \$
Line	_	Historical	Projection	Projected		Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor 1/	1995 Interim		<u> 1994</u>	Factor 1/	1995 Interim	Rates	Revenue	Rates	Revenue
28	Commercial											
29	5/8 x 3/4"	4,191	3.53%	4,339					\$12.87	\$54,975	\$18.07	\$69,728
30	3/4"	502	8.18%	533					\$19.01	\$10,132	\$24.12	\$12,856
31	1"	768	4.04%	799					\$31.68	\$25,312	\$4 0.19	\$32,112
32	1 1/2"	620	6.45%	660					\$63.37	\$41,824	\$80.40	\$53,064
33	2"	909	5.83%	962					\$101.39	\$97,537	\$128.63	\$123,742
34	3"	200	5.50%	211					\$202.77	\$42,784	\$257.25	\$54,280
35	4"	156	6.41%	166					\$318.83	\$52,594	\$401.96	\$ 66,725
36	6*	24	4.17%	25					\$633.66	\$15,842	\$803.92	\$20,098
37	8*	26	7.89%	28					\$1,013.85	\$28,388	\$1,296.27	\$36 ,018
38	10"	10	10.00%	11					\$1,457.41	\$16,032	\$1,849.02	\$20,339
39	Gallonage Charge/MG:											
40	Ali Gallonage					392,014	4.88%	411,150	\$4.39	\$1,804,948	\$ 5. 5 7	\$2,290,106
41	Total	7,406	4.43%	7,734		392,014	4.88%	411,150		\$2,190,368	_	\$2,779,066
	-				•				•		_	
42	Emergency Temp, Service	G e										
43	5/8 x 3/4"	_ 0	N/A	0					12.87	\$0	\$18.07	\$0
44	Gallonage Charge/MG:											
45	All Gallonage					0	N/A	0	4.39	\$0	\$5.57	\$0
46	Total	0	N/A		•		N/A			\$0	-	\$0
	-				•						=	

^{1/} Projection factors vary from detail since projections were made at the detail level.

Note:

Mey not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Rates for Residential Wastewater Only vary by plant.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water(] Wastewater(x] Intenin(x) Final[] Historical[] Projected(x)

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 3 of 3
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bits and consumption by classification. Include a

	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(9)	(10)	(11)
	_	N	umberof	Bills	C o	n sumpti	o n(MG)	Sche	dule Ye	ar Rever	านุธร
Line	•	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	1994	Factor 1/	1995 Interim	<u> 1994</u>	Factor 1/	1995 Interim	Rates	Revenue	Rates	Revenue
47	Public Authority										
48	1 1/2"	12	0.00%	12				\$63.37	\$ 760	\$80.40	\$965
49	Gallonage Charge/MG:										
50	All Gallonage				346	6.90%	372	\$4.39	\$1,633	\$5.57	\$2,072
51	Total	12	0.00%	12	348	6.90%	372		\$2,393	_	\$3,037
52	Effluent - FL Central										
53	Commerce Park										
54	5/B x 3/4*	108	0.00%	108				\$0,00	\$0	\$0.00	\$0
55	Gationage Charge/MG:										
56	All Gallonage				7,776	0.00%	7,776	\$0.08	\$467	\$0,08	\$622
57	Total	108	0.00%	108	7,776	0.00%	7,776	-	\$467	_	\$622
56	<u>55</u>										
59	5/8 x 3/4"	36	8.33%	39				\$12.67	\$494	\$16.07	\$627
60	1"	36	8.33%	39				\$31.68	\$1,236	\$40,19	\$1,567
61	1 1/2"	24	8.33%	26				\$63.37	\$1,648	\$80.40	\$2,090
62	2"	36	8.33%	39				\$101.39	\$3,954	\$128.63	\$5,017
63	Gallonage Charge/MG:										
64	All Gallonage				37,056	6.81%	39,580	\$4.39	\$173,756	\$5.57	\$220,461
65	Total	132	8.33%	143	37,056	6.81%	39,580	-	\$181,066	_	\$229,762
66	GRAND TOTAL	271,363	4.14%	282,592	1,554,701	4.14%	1,619,065		\$10,225,766		\$12,966,620

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

^{1/} Projection factors vary from detail since projections were made at the detail level.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Rates for Residential Wastewater Only vary by plant.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Test Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [1 FPSC Non-uniform [x] FPSC Non-jurisdiction [1 FPSC Non-jurisdiction [1

FPSC Schedule: E1-1 Page 1 of 7 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL			
1	All Meter Sizes	\$19.40	26.870%	\$24.61
	GALLONAGE CHARGE / MG:			
2	0 - 10,000	\$3.97	26.870%	\$5.04
3	All Excess Gallons	No Charge		No Charge
	GENERAL, MULTI-FAMILY SERVICE	S		
4	5/8"x3/4"	\$19.40	26.870%	\$24.61
5	3/4"	\$19.40	26.870%	\$24.61
6	1"	\$48.52	26.870%	\$81.56
7	1 - 1/2"	\$97.02	26.870%	\$123.09
8	2*	\$155.25	26.870%	\$196,97
9	3"	\$310.50	26.870%	\$393.93
10	4"	\$485.17	26.870%	\$615.54
11	6"	\$970.31	26.870%	\$1,231.03
12	8"	\$970.31	26.870%	\$1,231.03
	GALLONAGE CHARGE / MG:	•		. ,
13	All Galionage	\$ 4.75	26.870%	\$6.03

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

Docket No.: 950495-WS
Test Year Ended: 12/31/95
Water [] Sewer [X]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC

Schedule: E1-1 Page 2 of 7 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

<u>Explanation: 110</u>	(1)	(2)	(3)	(4)
Line	`,	Present	Revenue Requirement	Proposed 1995
No	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL			
1	All Meter Sizes	\$13.11	26.870%	\$16.63
	GALLONAGE CHARGE / MG:			
2	0 - 10,000	\$3.01	26.870%	\$ 3.82
3	All Excess Gallons	No Charge		No Charge

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 3 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
ine		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL			
1	All Meter Sizes	\$15.45	28.870%	\$19.60
	GALLONAGE CHARGE / MG:			
2	0 - 8,000	\$3.86	28.870%	\$4.90
3	All Excess Gallons	No Charge		No Charge
	RESIDENTIAL WASTEWATER ONLY	<u>′</u>		
4	All Meter Sizes	\$27.81	26.870%	\$35.28
	GENERAL SERVICE			
5	5/8"x3/4"	\$15.45	28.870%	\$19.60
В	3/4"	\$23.18	26.870%	\$29.41
7	1"	\$38.64	28.870%	\$49.02
8	1 - 1/2"	\$77.27	26.870%	\$98.03
9	2"	\$123.63	28,870%	\$156.85
0	3"	\$247.27	26.870%	\$313.71
1	4*	\$386.35	26.870%	\$490.16
2	6"	\$772.71	26.870%	\$980.34
3	8"	\$1,236.34	26.870%	\$1,568.54
4	10"	\$1,777.23	26.870%	\$2,254.77
	GALLONAGE CHARGE / MG:			• •
5	Ali Gallonage	\$4.63	26.870%	\$5.87
6	EFFLUENT			
	GALLONAGE CHARGE / MG:			
7	All Gallonage	\$0.11	26.870%	\$0.14

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 4 of 7 Preparer: Bencini

xpianation: Pr	ovide a schedule of present, interim and propo				
	(1)	(2)	(3)	(4)	
Line	- - - .	Present	Revenue Requirement	Proposed 1995	•
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates	-
	RESIDENTIAL				
1	All Meter Sizes	\$11.10	26.870%	\$14.08	
	GALLONAGE CHARGE / MG:				
2	0 - 10,000	\$3.20	26.870%	\$4.08	
3	All Excess Gallons	No Charge		No Charge	1
	GENERAL, MULTI-FAMILY SERVICE	<u>s.</u>			
4	BULK WASTEWATER 5/8"x3/4"	\$11.10	26.870%	\$14.08	
5	3/4"	\$16.65	26.870%	\$21.12	
6	1 ^k	\$22.20	26.870%	\$28.17	
7	1 - 1/2"	\$55.51	26.870%	\$70.43	
6	2"	\$88.61	26.870%	\$112.67	
9	3*	\$177.62	26.670%	\$225.35	
10	4"	\$277.54	26.870%	\$352.11	
11	6*	\$555.08	26.870%	\$704.23	
12	8"	\$888.12	26.870%	\$1,126.76	
13	10"	\$1,276.68	26.870%	\$1,619.72	
	GALLONAGE CHARGE / MG:	***************************************	20.01210	4. ,0.00.1	
14	Ali Gallonage	\$3.85	26.870%	\$4 .88	
	EFFLUENT				
	GALLONAGE CHARGE / MG:				
15	All Gallonsge	\$0.25	26.870%	\$0,32	
	MULTI-FAMILY NON-METERED				
16	3"	\$26.80 per	runit 26.870%	\$34.28	per unit
		\$2,010.00 (75	units)		(currently 75 un

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

All Gallonage

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

12

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 5 of 7 Preparer: Bencini

\$3.78

	(1)	(2)	(3)	(4)
ine	• •	Present	Revenue Requirement	Proposed 1995
No	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL			
1	All Meter Sizes	\$8.31	26.870%	\$10.54
	GALLONAGE CHARGE / MG:			
2	0 - 6,000	\$2,48	26.870%	\$3.15
3	All Excess Gallons	No Charge		No Charge
	GENERAL SERVICE			
4	5/8"x3/4"	\$8.31	26.870%	\$10.54
5	3/4"	\$12.47	26.870%	\$15.82
6	1"	\$20.78	26.870%	\$26.38
7	1 - 1/2"	\$41.57	26.870%	\$52.74
8	2"	\$6 6.51	26.870%	\$84.38
9	3"	\$133.01	26.870%	\$168.75
10	4"	\$207.83	26.870%	\$263.67
11	8"	\$415.66	26.870%	\$527.35
	GALLONAGE CHARGE / MG:			

\$2.98

26.870%

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 6 of 7 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

Explanauon, 11	ovide a schedule of present, interim and propose	d laws. Class (colden	tial Hastowator Cap II One Caste.	
	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
				
	RESIDENTIAL WASTEWATER ONLY			
1	Flat Rate	\$13.33	26.870%	\$16.91

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule 8-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

Company: SSU / Lake / Valencia Terrace

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [X] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-junsdiction [] FPSC Non-junsdiction []

FPSC Schedule: E1-1 Page 7 of 7 Preparer: Bencini

	(1)	(2)	(3)	(4)
_ine		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL			
1	All Meter Sizes	\$8.49	26.870%	\$10.77
	GALLONAGE CHARGE / MG:			
2	0 - 9725	\$1.56	26.870%	\$1.98
	(charge / 100 cubic ft for 0 - 1300 cubic ft)	\$1.17	28.870%	\$1.48
3	All Excess Gallons	No Charge		No Charge
	(All Excess Cubic Feet)	No Charge		No Charge
	GENERAL SERVICE			
4	5/8"x3/4"	\$8.49	26.870%	\$10.77
5	1 ^N	\$21.22	26.870%	\$26.92
6	1 - 1/2"	\$42.49	26.870%	\$53.91
7	2*	\$67.91	26.870%	\$86.16
8	3*	\$135.97	26.870%	\$172.51
9	4"	\$212.47	26.870%	\$269.56
	GALLONAGE CHARGE / MG:			
10	All Gallonage	\$1.56	26.870%	\$1.98
	(per 100 cubic ft)	\$1.17		\$1,48

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.67%) for all FPSC-regulated plants. Refer to Schedule B-2(S) for support. The percent increase is slightly different from that shown on Schedule B-2(S) due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 1 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	95 PROJECTED INTER	IM (PRESEN	T RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
No.	Class/Meter Size		Consumption(MG)		Revenues	-	8111s	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	35,7 6 5 597		\$19.40 \$19.40	\$693.841 \$11.582		35,765 597		\$24.61 \$24.61	\$880,177 \$14,692
5 6 7 8	0-10000 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	36,362 3,030	172,560 14,265 172,560 4,746	\$3.97 \$0.00	\$685,063 \$0 \$1,390,485 \$38.24	0-10000 excess 1/	36,362 3,030	172.560 14,265 172,560 4.746	\$5.04 \$0.00	\$869,702 \$0 \$1,764,571 \$48.53
9 10 11 12 13 14 15	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 6" Gallonage Charge/MG	9 266 326 175 13		\$19.40 \$48.52 \$97.02 \$155.25 \$970.31	\$175 \$12,906 \$31,629 \$27,169 \$12,614		9 266 326 175 13	,	\$24.61 \$61.56 \$123.09 \$196.97 \$1,231.03	\$221 \$16.375 \$40.127 \$34.470 \$16.003
16 17 18	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	789 66	31.848 31.848 40.365	\$4.75	\$151,278 \$235,771 \$298.82		789 66	31,848 31,848 40,365	\$6.03	\$192,043 \$299,239 \$379,26

ô

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 2 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995 PRO	JECTED INTERIM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No	Class/Meter Size	Consu	mption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
19 20 21 22 23 24 25 26	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 6" 8"	221 65 40 13 13 25	\$19.40 \$48.52 \$97.02 \$155.25 \$310.50 \$970.31	\$4,287 \$3,154 \$3,881 \$2,018 \$4,037 \$24,258 \$12,614	221 65 40 13 13 25		\$24.61 \$61.56 \$123.09 \$196.97 \$393.93 \$1,231.03	\$5,439 \$4,001 \$4,924 \$2,561 \$5,121 \$30,776 \$16,003
27 28 29 30	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	390 33	13.764 13.764 35.292 \$4.75	\$65,379 \$119,628 \$306.74	390 33	13,764 13,764 35,292	\$6.03	\$82,997 \$151,822 \$389.29
31 32 33	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	REVENUES 2/		\$1,745,885 \$0 \$0 \$1,745,885				\$2,215,632 \$0 \$0 \$2,215,632

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 3 of 12
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	95 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
Line No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues	
1 2 3	RESIDENTIAL 5/8"x3/4" 1"	1,482 98		\$13.11 \$13.11	\$19,429 \$1,285	1,482 98		\$16.63 \$16.63	\$24,646 \$1,630	
5 6 7 8	Gallonage Charge/MG 0-10000 All excess I/ Total RESIDENTIAL Ave cust/cons/bill/mth	1,580 132	9,463 1,070 9,463 5,989	\$3.01 \$0.00	\$28,484 0-1 \$0 All exc \$49,198 \$31.14	.0000 eess 1/ 	9,463 1,070 9,463 5,989	\$3.82 \$0.00	\$36,149 \$0 \$62,425 \$39.51	
9 10 11	TOTAL ANNUALIZED SALES REV UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	'ENUES 2/			\$49,198 \$0 \$0 \$49,198				\$62,425 \$0 \$62,425	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 8-4 schedule for detail of other revenue.

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 4 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

		19	95 PROJECTED INTER	IN (PRESEN	T RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
1 2 3	RESIDENTIAL 5/B"x3/4" 1"	B0,468 10		\$15.45 \$15.45	\$1,243,231 \$155	80.468 10		\$19.60 \$19.60	\$1,577,173 \$196	
4 5 6 7	Gallonage Charge/MG 0- 6000 All excess 1/ Total RESIDENTIAL	80.478	218.701 31.511 218.701	\$3.86 \$0.00	\$844,186 0- \$0 All ex	6000 ccess 1/80.478	218.701 31.511 218.701	\$4.90 \$0.00	\$1,071,635 <u>\$0</u> \$2,649,004	
8	Ave cust/cons/bill/mth	6,707	2.718		\$25.94	6,707	2.718		\$32.92	
9 10 11	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG	71		\$27.81	\$1,975	71		\$35.28	\$2.505	
12 13 14	All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	71 6	0.000 0.000	\$0.00	\$0 \$1,975 \$27.82	71 6	0.000	\$0.00	\$0 \$2,505 \$35,28	
15	COMMERCIAL									
16 17 18	5/8"x3/4" 1" 1 1/2"	2,121 491 253		\$15.45 \$38.64 \$77.27	\$32,769 \$18,972 \$19,549	2,121 491 253		\$19.60 \$49.02 \$98.03	\$41,572 \$24,069 \$24,802	
19 20 21	2" 3" 4"	293 67		\$123.63 \$247.27 \$386.35	\$36,224 \$16,567 \$4,636	293 67 12		\$156.85 \$313.71 \$490.16	\$45.957 \$21.019 \$5.882	
22 23	6" Gallonage Charge/MG	12 12		\$772.71	\$9.273	12		\$980.34	\$11,764	
24 25 26	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	3,249	60,465 60,465 18,610	\$4.63	\$279,953 \$417,943 \$128.64	3,249 271	60,465 60,465 18,610	\$5.87	\$354,930 \$529,995 \$163.13	

Company: SSU/LEE / LEH1GH Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x]
Interim[x] Final[] Historical[] Projected[x]

Supporting Schedules: E1-1. E-13

FPSC

SCHEDULE: E2-1

Page 5 of 12 Preparer: Bencini

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (1) (2) (3) (4) (5) (7) (9)

		1995 PROJECTED INTERIM (PRESENT RATES)				1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
Line <u>No.</u>	Class/Meter Size	<u>Co</u>	nsumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues	
27 28	EFFLUENT 5/8"x3/4"	12		\$0.00	\$0	12		\$0.00	\$0	
29 30 31 32	Gallonage Charge/MG All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	12	149,480 149,480 12456.7	\$0.11	\$16,443 \$16,443 \$1,370,25	<u> 12</u> <u>1</u>	149,480 149,480 12456.7	\$0.14	\$20,927 \$20,927 \$1,743.92	
33 34 35	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	REVENUES 2/			\$2,523,933 \$0 \$0 \$2,523,933				\$3,202,431 \$0 \$0 \$3,202,431	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 8-4 schedule for detail of other revenue.

Company: SSU/COLLIER / MARCO ISLANO

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

Historical[] Projected[x]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-1 Page 6 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

1 4		1995 PROJECTED INTERIM (PRESENT RATES) 1995 PROJECTED INTERIM (PROPOSED INTERIM					RATES)			
No	Class/Meter Size		Consumption(MG)		Revenues	<u>B1</u>	lls	Consumption(MG)	Rate	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" Gallonage Charge/MG	13.219 5.771 24		\$11.10 \$11.10 \$11.10	\$146.731 \$64.058 \$266		13.219 5.771 24		\$14.08 \$14.08 \$14.08	\$186,124 \$81,256 \$338
6 7 8 9	0-10000 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	19,014 1,585	86,383 78,290 86,383 4,543	\$3.20 \$0.00	\$276,426	0-10000 excess 1/	19.014 1.585	86,383 78,290 86,383 4,543	\$4.06 \$0.00	\$350,715 \$0 \$618,433 \$32.53
10 11 12 13 14 15 16 17 18	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	12 24 195 605 297 325 32		\$11.10 \$22.20 \$55.51 \$88.81 \$177.62 \$277.54 \$555.08	\$133 \$533 \$10.824 \$53,730 \$52,753 \$90,201 \$17,763		12 24 195 605 297 325 32	,	\$14.08 \$28.17 \$70.43 \$112.67 \$225.35 \$352.11 \$704.23	\$169 \$676 \$13,734 \$68,165 \$66,929 \$114,436 \$22,535
19 20 21	All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	1,490	273,422 273,422 183,505	\$3.85	\$1.052,675 \$1.278,612 \$858.13	_	1,490 124	273,422 273,422 183.505	\$4.88	\$1,334,299 \$1,620,943 \$1,087.88

ă

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]
EDSC Non-uniform[x] EDSC Non-uniform[x] EDSC Non-uniform[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 7 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	_	1995	PROJECTED_INTER	IM (PRESEN	T RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size	<u>c</u>	Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
22 23 24 25 26 27 28 29 30 31 32	COMMERCIAL 5/B"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG All Gallonage Total COMMERCIAL	1.186 760 321 145 12 24 24	173,233 173,233 73,233	\$11.10 \$22.20 \$55.51 \$88.81 \$177.62 \$277.54 \$555.08 \$3.85	\$13,165 \$16,872 \$17,B19 \$12,877 \$2,131 \$6,661 \$13,322 \$666,947 \$749,794	1.186 760 321 145 12 24 24	173,233 173,233	\$14.08 \$28.17 \$70.43 \$112.67 \$225.35 \$352.11 \$704.23	\$16,699 \$21,409 \$22,608 \$16,337 \$2,704 \$8,451 \$16,902 \$845,377 \$950,487
33	Ave cust/cons/bill/mth	206	70.078		\$303.31	206	70.078		\$384.50
34 35 36	COM WW ONLY 1" Gallonage Charge/MG	12		\$22.20	\$266	12		\$28.17	\$338
37 38 39	All Gallonage Total COM WW ONLY Ave cust/cons/bill/mth	12 1	1,148 1,148 95,667	\$3.85	\$4,420 \$4,686 \$390.50	12 1	1,148 1,148 95,667	\$4.88	\$5,602 \$5,940 \$495.00

Company: SSU/COLLIER / MARCD ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-1 Page 8 of 12 Preparer: 8encini

FPSC

Supporting Schedules: E1-1, E-13

(10)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

1995 PROJECTED INTERIM (PRESENT RATES) 1995 PROJECTED INTERIM (PROPOSED INTERIM RATES) Line No. Class/Meter Size Consumption(MG) 8ills Revenues Consumption(MG) Rate Revenues 40 **EFFLUENT** 6 41 1 1/2" \$0.00 \$0 6 \$0.00 \$0 15 42 2" \$0,00 \$0 15 \$0.00 \$0 3 43 3" \$0.00 \$0 3 \$0.00 \$0 44 8" 12 \$0.00 \$0 12 \$0.00 \$0 45 12 10" 12 \$0.00 \$0 \$0.00 \$0 46 Gallonage Charge/MG 47 All Gallonage 145.590 \$36.398 \$0.25 145.590 \$0.32 \$46,589 Total EFFLUENT 48 48 145,590 \$36,398 145,590 \$46,589 Ave cust/cons/bill/mth 3033.13 \$758.29 3033.13 \$970.60 MF NON-METERED 51 12 \$2,010,00 \$24,120 12 \$2,550.00 \$30,600 52 Gallonage Charge/MG 53 All Gallonage \$0.00 \$0 0 \$0.00 \$0 Total MF NON-METERED 12 1 0 \$24,120 \$30,600 12 0 0.000 Ave cust/cons/bill/mth \$2,010.00 0.000 \$2,550.00 **BULK SEWER** 56 57 2 \$22.20 2 \$44 \$28.17 \$56 4" 58 84 \$277.54 \$23,313 84 \$352.11 \$29,577 Gallonage Charge/MG 59 60 All Gallonage 95,060 \$3.85 \$365,981 95.060 \$4.88 \$463,893 Total BULK SEWER 86 7 95,060 \$389.338 86 95,060 \$493.526 Ave cust/cons/bill/mth 1105.35 \$4,527,19 1105.35 \$5,738,67

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 9 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

petween these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

	1995 PROJECTED INTERIM (PRE	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)				
No.	Class/Meter Size Consumption(MG)	Revenues	Bills Consumption(MG	i) Rate Revenués		
63	TOTAL ANNUALIZED SALES REVENUES 2/	\$2,970,429		\$3,766,518		
64	UNBILLED REVENUE	\$0		\$0		
65	OTHER REVENUE 3/	\$0		\$0		
	TOTAL REVENUES	\$2,970,429		\$3,766,518		

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

Company: SSU/CITRUS / SPRING GARDENS (NEW ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x]
Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform() FPSC Non-uniform(x) FPSC Non-jurisdiction()

FPSC

SCHEDULE: E2-1 Page 10 of 12 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (2) (3) (4) (9) (10)

		1995	PROJECTED INTER	1M (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	SED INTERIM	RATES)
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG 0-6000 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	1,519 1,519 127	4.414 1.682 4.414 2.906	\$8.31 \$2.48 \$0.00	\$12.623 \$10.947	1,519	4,414 1,682 4,414 2,906	\$10.54 \$3.15 \$0.00	\$16,010 \$13,904 \$0 \$29,914 \$19.69
8 9 10 11 12 13 14	COMMERCIAL 5/8"x3/4" 2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	12 25 37 3	852 852 23.027	\$8.31 \$66.51 \$2.98	\$100 \$1,663 \$2,539 \$4,302 \$116.27	12 25 37 3	852 852 23.027	\$10.54 \$84.38 \$3.78	\$126 \$2,110 \$3,221 \$5,457 \$147,49
15 16 17	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/TOTAL REVENUES	REVENUES 2/			\$27,872 \$0 \$0 \$27,872				\$35,371 \$0 \$0 \$35,371

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

Company: SSU/ST. LUCIE / TROPICAL ISLES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 11 of 12
Preparer: Bencini

Supporting Schedules: El-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	95 PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	SED INTERIM	RATES)
No.	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG	2,992		\$13.33	\$3 9,883	2,992		\$16.91	\$50,595
4 5 6	All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	2.992	0 0 0,000	\$0.00	\$0 \$39,883 \$13,33		0.000	\$0.00	\$0 \$50,595 \$16,91
7 8	TOTAL ANNUALIZED SALES				\$39,883 \$0	,	•		\$50,595 \$0
9 10	OTHER REVENUE 2/ TOTAL REVENUES				\$39.883				\$0 \$50,595

^{1/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{2/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

Company: SSU/LAKE / VALENCIA TERRACE (NEW ACQUISITION)

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[] Projected[x]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-1 Page 12 of 12 Preparer: Bencini

FPSC

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		1995	PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	ECTED INTERIM (PROPO	SED INTERIM	RATES)
No.	Class/Meter Size	<u>C</u>	onsumption(MG)		Revenues	8ills	Consumption(MG)	<u>Rate</u>	Revenues
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG 0- 9725 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	4.115 4.115 343	16.106 7.039 16.106 3.914	\$8.49 \$1.56 \$0.00	\$34.936 \$25.125	4.115 4.115 343	16,106 7,039 16,106 3,914	\$10.77 \$1.98 \$0.00	\$44.319 \$31,890 \$0 \$76,209 \$18.52
8 9 10 11 12 13 14 15 16	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	43 70 12 12 12	1.563 1.563 11.409	\$8.49 \$21.22 \$42.49 \$67.91 \$1.56	\$365 \$1.485 \$510 \$815 \$2.438 \$5.613 \$40.97	43 70 12 12 12	1.563 1.563 11.409	\$10.77 \$26.92 \$53.91 \$86.16 \$1.98	\$463 \$1.884 \$647 \$1.034 \$3.095 \$7.123 \$51.99
17 18 19	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	REVENUES 2/			\$65,674 \$0 \$0 \$65,674				\$83,332 \$0 \$0 \$83,332

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

Schedule of Wastewater Customer Monthly Billing - 1995

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x]

Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3 Page 1 of 7

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	Year	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>
1	JAN95	2.990	66	32	0	0	3.088
2	FE895	2,952	66	31	0	0	3.049
3	MAR95	2,995	66	31	0	0	3,092
4	APR95	3.009	66	32	0	0	3.107
5	MAY95	3.011	66	32	0	0	3.109
6	JUN95	3,040	66	32	0	0	3.138
7	JUL95	3,053	67	33	0	0	3.153
8	AUG95	3,065	66	33	0	0	3.164
9	SEP95	3,038	66	32	0	0	3,136
10	OCT95	3,064	66	32	0	0	3,162
11	NOV95	3.065	66	32	0	0	3,163
12	DEC95	3,081	66	32	0	0	3,179
13	TOTAL	36,363	793	384	0	0	37.540
14	MTH. AVE	3,030	66	32	0	0	3,128

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

SCHEDULE: E-3
Page 2 of 7
Preparer: Bencini

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>	
1	JAN95	130	0	0	0	0	130	
2	FEB95	132	0	0	0	0	132	
3	MAR95	131	0	0	0	0	131	
4	APR95	131	0	0	0	0	131	
5	MAY95	132	0	0	0	0	132	
6	JUN95	131	0	0	0	0	131	
7	JUL95	133	0	0	0	0	133	
8	AUG95	131	0	0	0	0	131	
9	SEP95	132	0	0	0	0	132	
10	0CT95	133	0	0	0	0	133	
11	NOV95	133	0	0	0	0	133	
12	DEC95	132	0	0	0	0	132	
13	TOTAL	1,581	0	0	0	0	_1.5B1	
14	MTH. AVE	132	0	0	0	0	132	

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1995

FPSC

Company: SSU/LEE /LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]

Page 3 of 7 Preparer: Bencini

SCHEDULE: E-3

Interim(x) Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform(x] FPSC Non-jurisdiction(]

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>
1	JAN95	6.561	0	264	0	6	6,831
2	FEB95	6,752	0	273	0	9	7,034
3	MAR95	7,007	0	289	0	7	7,303
4	APR95	6,664	0	266	0	8	6,938
5	MAY95	6,647	0	263	0	7	6,917
6	JUN95	6,674	0	264	0	7	6,945
7	JUL95	6,640	0	266	0	7	6,913
8	AUG95	6,680	0	273	0	6	6,959
9	SEP95	6,700	0	275	0	6	6,981
10	OCT95	6,722	0	272	0	6	7,000
11	NOV95	6,733	0	274	0	6	7,013
12	DEC95	6,699	0	270	0	6	6.975
13	TOTAL	80,479	0	3.249	0	81	_83,809
14	MTH. AVE	6.707		271	0	7	6,984

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/COLLIER /MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 4 of 7
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family	General Service	Private Fire Protection	Other (<u>(list) 1</u> /	<u>Total</u>	
	24405	. 575	40-					
1	JAN95	1,575	125	206	0	13	1,919	
2	FEB95	1,570	125	206	0	14	1,915	
3	Mar95	1,577	125	210	0	13	1.925	
4	APR95	1,574	124	210	0	13	1.921	
5	MAY95	1,583	124	207	0	13	1,927	
6	JUN95	1,587	125	208	0	13	1,933	
7	JUL 9 5	1,588	125	204	0	14	1.931	
8	AUG95	1,592	125	205	0	13	1.935	
9	SEP95	1,586	126	207	0	13	1.932	
10	OCT95	1,595	124	201	0	13	1,933	
11	NOV95	1,593	124	205	0	13	1.935	
12	DEC95	1,599	124	205	0	13	1,941	
13	TOTAL	19,019	1.496	2,474	0	158	23,147	
14	MTH, AVE	1,585	125	206	0	13	1,929	

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1995

Company: SSU/CITRUS /SPRING GARDENS(NEW ACQUISITION)

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 5 of 7
Preparer: Bencini

FPSC

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Famil y	General	Private Fire	Other	
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>
1	JAN95	127	0	3	0	0	130
2	FEB95	127	n	3	0	0	130
3	MAR95	127	n	3	0	0	130
4	APR95	128	0	3	0	0	131
5	MAY95	127	0	3	0	0	130
6	JUN95	126	0	3	0	0	129
7	JUL95	125	0	3	0	0	128
8	AUG95	126	0	3	0	0	129
9	SEP95	126	0	3	0	0	129
10	OCT95	125	0	3	0	0	128
11	NOV95	126	0	3	0	0	129
12	DEC95	128	0	3	0	0	131
13	TOTAL	1,518	0	36	0	0	1.554
14	MTH. AVE	127	0	3	0	0	130

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1995

Company: SSU/ST. LUCIE /TROPICAL ISLES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

JUL95

AUG95

SEP95

0CT95

NOV95

DEC95

TOTAL

MTH. AVE

8

9

10

11

12

13

14

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 6 of 7
Preparer: Bencini

FPSC

248

249

249

250

250

250

2,989

249

248

249

249

250

250

250

2,989

249

0

0

0

0

Explanation: Provide a schedule of monthly customers billed or served by class. (7) (1) (2) (3) (4) (5) (6) Private Fire Line Month/ Multi-Family General Other | No. Residential Dwelling Protection (List) 1/ Year Service Total JAN95 0 0 0 24B 24B 1 0 0 249 249 FEB94 3 MAR95 0 249 249 APR95 0 250 250 0 MAY95 247 247 JUN95 250 250

0

0

NOTE: May not tie to other schedules due to monthly rounding.

0

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1995

Company: SSU/LAKE /VALENCIA TERRACE(NEW ACQUISITION)

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E-3
Page 7 of 7
Propage: Rengini

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	Gene r al	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	<u>Service</u>	Protection	(List) 1/	<u>Total</u>	
1	JAN95	343	0	10	0	0	353	
2	FEB95	342	0	9	0	0	351	
3	MAR95	343	0	10	0	0	353	
4	APR95	343	0	11	0	0	354	
5	MAY95	343	0	11	0	0	354	
6	JUN95	342	0	11	0	0	353	
7	JUL95	342	0	12	0	0	354	
8	AUG95	343	0	12	0	0	355	
9	SEP95	343	0	12	0	0	355	
10	0CT95	343	0	12	0	0	355	
11	NOV95	343	0	12	0	0	355	
12	DEC95	343	0	12	0	0	<u>355</u>	
13	TOTAL	4.113	0	134	0	0	4,247	
14	MTH. AVE	343	0	11	0	0	354	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

THIS PAGE INTENTIONALLY LEFT BLANK

823

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1995

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim (x) Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4

Page 1 of 7

Preparer: Bencini

(1)		(2) Present Rates		(3) Proposed Rates			
Line No. Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours			
1 Initial Connection	\$15.00	N/A	No Change	No Change			
2 Normal Reconnection	\$15.00	N/A	No Change	No Change			
3 Violation Reconnection	Actual Cost	N/A	No Change	No Change			
4 Premise Visit	\$10.00	N/A	No Change	No Change			
5 Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change			

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim (x) Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Preparer: Bencini

Schedule E-4 Page 2 of 7

FPSC

	(1)		(2) Present Rates	Propose	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change
4	Premise Visit	\$10.00	N/A	No Change	No Change
5	Return Check Charge	\$ 15. 00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4 Page 3 of 7

Preparer: Bencini

	(1)		(2) Present Rates	(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
— I	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

FPSC

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4
Page 4 of 7
Preparer: Bencini

	(1)	Pres	(2) ent Rates	(3) Proposed Rates			
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus, Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Return Check Charge	of th	amount e check, thever is	No Change	No Change		

Company: SSU / Citrus / Spring Gardens

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim (x) Final ()

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4 Page 5 of 7

Preparer: Bencini

	(1)		(2) Present Rates	(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

Schedule E-4
Page 6 of 7
Preparer: Bencini

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	Pr	(2) esent Rates	(3) Proposed Rates			
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Retum Check Charge	ol w	5% of N/A e amount the check, hichever is eater.	No Change	No Change		

8

Company: SSU / Lake / Valencia Terrace

Schedule E-4 Page 7 of 7

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/95 Water [] Wastewater [x]

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	Р	(2) resent Rates	(3) Proposed Rates			
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours		
1	Initial Connection	\$15.00	N/A	No Change	No Change		
2	Normal Reconnection	\$15.00	N/A	No Change	No Change		
3	Violation Reconnection	Actual Cost	N/A	No Change	No Change		
4	Premise Visit	\$10.00	N/A	No Change	No Change		
5	Return Check Charge	O W	r 5% of N/A ne amount f the check, hichever is reater.	No Change	No Change		

ă

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [] Wastewater [X]
Interim [X] Final []
Historical [] Projected [X]
FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

FPSC Schedule: E-5 Page 1 of 1

Preparer: Bengini

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line			Projected 1995 Units Projection					(1995 interim)
No. Type of Charge	Rates	1994 Units	Factor	1995 Units	Revenues	Rates	1995 Units	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / Present Non-Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-Uniform (x) FPSC Non-Jurisdiction []

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

Time description 2 to	a trocciedantari ina e see	a oral rate abbrication:										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Lina				Requirement	Number	of Standard	Type Public Fi	ire Hydrants E	y Pipe Size C	onnecting the	Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	5"	10"	12"	14"	Total	Notes

This Schedule is not applicable for Wastewater.

SCHEDULE OF PRIVATE FIRE PROTECTION SERVICE - 1995

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x]
Interim [x] Final[]

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-7

Page 1 of 1

Preparer: Bencini

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
		-					Size an	nd Type:						
Line No.	Plant			Spi	rinkler L	ines:			D	ouble Cł	neck Val	ves:		
		2"	4"	6"	8"	10"	Total	2"	4"_	6"	8"	10"	Total	Combined Total

Private fire protection service is not applicable to wastewater plants.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1995

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

FPSC	
Schedule:	E-8
Page 1 of	1
Preparer:	Bencin

No.	(1) Type	(2) Description
1	GENEVA LAKE ESTATES:	
2		
3	Emery, W.C.	Utility easement acquired in exchange for water service at no charge.
4	Customer # 031389	
5		
6		
7	TROPICAL ISLES:	
6		
9	Drake, John	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
10	Customer # 96236	more than six (6) rental units at Mobile Park at no charge.
11	Kennedy, Barbara	
12	Customer # 96244	
13	Michael, Malcolm	
14	Customer # 96259	
15	Sellards, Harold	
16	Customer # 96265	
17	Steeves, Hubert	
18	Customer # 96268	
19	Flora, Dick	
20	Customer # 96271	

SCHEDULE OF TAX OR FRANCHISE FEES - 1995

Company: SSU / Total Company / Present Non-uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] or Wastewater [x] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line No.	(2) Plant	(3) County	(4) Type of Tax or Fee	(5) To W hom Paid	(6)	(7) How Collected From Customers	(8) Type of Agreement
1	Total Company	FPSC Juns.	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC

Schedule: E-9

Preparer: Bencini

Page 1 of 1

FPSC

Company: SSU / Total Company / Present Non-Uniform

Schedule E-10 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x] Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line		Present	Proposed	
No.	Type of Charge	Charges	Charges	

Please see separate Service Availability Schedules, Volume VIII.

337

GUARANTEED REVENUES RECEIVED - 1995

Company: SSU / Total Company / Present Non-Uniform

Schedule E-11

Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x]

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)
Line No.	For the Year Ended	Residential	General Service	Other	Total

This schedule is not applicable.

838

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

FPSC

Schedule E-12 Page 1 of 1

Preparer: Bencini

This schedule is not applicable.

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 1 of 11 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

calculat	ion of each projection factor	гопа ѕерага	ite schedule, i	r necessary. List ou	ner classes or n	yeter sizes as	аррисаріе.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
			Numbero	f Bitls	C	on sumpti	on(MG)	Sche	dula Ya	ar Revei	nues
Line	•	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	interim Rates
No.	Class/Meter Size	1994	Factor	1995 Interim	<u> 1994</u>	<u>Factor</u>	<u>1995 Interim</u>	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	34,333	4.17%	35,765				\$19.40	\$693,841	\$24.61	\$880,177
3	1"	573	4.17%	597				\$19,40	\$11,582	\$24.61	\$14,692
4	Gallonage Charge/MG:										
5	0- 10,000 gallons				169,044	2.08%	172,560	\$3.97	\$685,063	\$5.04	\$869,702
6	All excess 1/				13,974	2.08%		\$0.00	\$0	\$0.00	\$0_
7	Total	34,906		36,362	169,044		172,560		\$1,390,486	-	\$1,784,571
6	Multi-Family										
9	5/8 x 3/4"	9	4.17%	9				\$19,40	\$175	\$24.61	\$221
10	1"	255	4.17%	286				\$48.52	\$12,906	\$61.56	\$16,375
11	1 1/2*	313	4.17%	326				\$97.02	\$31,629	\$123.09	\$40,127
12	2"	186	4.17%	175				\$155.25	\$27,169	\$196.97	\$34,470
13	6*	12	4.17%	13				\$970.31	\$12,614	\$1,231.03	\$16,003
14	Gallonage Charge/MG:										
15	All Gallonage				31,199	2.08%	31,848	\$4.75	\$151,278	\$8.03	\$192,043
16	Total	757		789	31,199	•	31,848		\$235,771	-	\$299,239
			1			•		•		-	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallions also contain decimal places that are not shown).

Company: SSU / Charlotte / Deep Creek

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Intenm[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 2 of 11
Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Teb

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

CBICLIBY	ion of each projection facto	r on a separa	te s <u>chedule, i</u>	rnecessary. List ou	her classes of i	HOTEL SIZES ES	иррисавіе.				
-	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(8)	(10)	(11)
	• • •		Numbero	f Bills	C	nsumpti	o n(MG)	Sch (dula Ye	ar Rever	
Line	•	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	1994	Factor	1995 Interim	Rates	Revenue	<u>Rates</u>	Revenue
17	Commercial										
18	5/8 x 3/4"	212	4.17%	221				\$19.40	\$4,287	\$24.61	\$5,439
19	1"	62	4.17%	65				\$48.52	\$3,154	\$61.56	\$4,001
20	1 1/2"	38	4.17%	40				\$97.02	\$3,881	\$123.09	\$4,924
21	2-	12	4.17%	13				\$155.25	\$2,018	\$196.97	\$2,561
22	3"	12	4,17%	13				\$310.50	\$4,037	\$393.93	\$5,121
23	6"	24	4,17%	25				\$970.31	\$24,256	\$1,231.03	\$30,776
24	8"	12	4,17%	13				\$970.31	\$12,614	\$1,231.03	\$18,003
25	Gallonage Charge/MG:										
26	All Gallonage				13,484	2.06%	13,764	\$4.75	\$65,379	\$6.03	\$62,997
27	Total	372		390	13,484	-	13,764	•	\$119,628	_	\$151,822
	•			· 	·	•		•	. ==:	-	
28	GRAND TOTAL	36,035		37,541	213,727		218,172		\$1,745,885	==	\$2,215,632

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Volusia / Enterprise

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x] Interim[x] Final[]

Historical[] Projected[x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 3 of 11

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

- COLOCOTO	on or own projection inches	on a separa	to sourcedio!	willowspoury.	201 0210. 020000	1 1110101 02.00	от принодино.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umberot	Bills_	Ca	nsumpti	n(MG) מ	Sche	dule Ye	ar Reven	U 8 &
Line	•	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Motor Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,438	3.07%	1,482				\$13.11	\$19,429	\$16.63	\$24,646
3	1"	95	3.07%	95				\$13.11	\$1,265	\$16.63	\$1,630
4	Gallonage Charge/MG:										
5	0- 10,000 gallone				9,007	5.07%	9,463	\$3 .01	\$26,484	\$3.82	\$36,149
8	All excess 1/				1,017	5.07%	1,069	\$0.00	\$0	\$0.00	\$0
7	Total	1,533	,	1,580	9,007		9,463		\$49,198	_	\$62,425
			•					•	· · · · · · · · · · · · · · · · · · ·	_	
6	GRAND TOTAL	1,533		1,580	9,007		9,463		\$49,198		\$62,425
			:					=	;	_	

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bits and gallons also contain decimal places that are not shown).

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations,

Company: SSU / Lee / Lehigh Docket No: 950495-W\$ Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 4 of 11
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculati	on or each projection factor			ir necessary.			as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
			umbero			nsumpti				ar Revei	
Line	·	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
<u>No.</u>	Class/Meter Size	<u>1994</u>	Fector	1995 Interim	<u> 1994</u>	Factor	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	78,238	2.85%					\$15.45	\$1,243,231	\$19.60	\$1,577,173
3	1"	10	2.85%	10				\$15.45	\$155	\$19.60	\$196
4	Gallonage Charge/MG:										
5	0- 8,000 gallons				214,014	2.19%	218,701	\$3.86	\$844 ,186	\$4.90	\$1,071,835
8	All excess 1/			_	30,835	2.19%	31,511	\$0.00	\$0	\$0.00	\$0
7	Total	78,248		80,478	214,014		218,701		\$2,087,572	_	\$2,649,004
			'	-	-	'		•		_	
8	Residential WW Only										
9	5/8 x 3/4"	69	2.85%	71				\$27.81	\$1,975	\$35.28	\$2,505
10	Gallonage Charge/MG:										
11	All Gallonage				0	2.19%	0	\$0.00	\$0	\$0.00	\$0
12	Total	89		71	0	,	0	•	\$1,975		\$2,505
					·			•		-	
13	Commercial										
14	5/8 x 3/4"	2,062	2.85%	2,121				\$15.45	\$32,789	\$19.60	\$41,572
15	1"	477	2.85%	491				\$38.64	\$16,972	\$49.02	\$24,069
18	1 1/2"	246	2.85%	253				\$77.27	\$19,549	\$98.03	\$24,802
17	2"	285	2.85%	293				\$123.63	\$36,224	\$156.85	\$45,957
18	3"	65	2.85%	67				\$247.27	\$18,567	\$313.71	\$21,019
19	4"	12	2.65%	12				\$386.35	\$4,636	\$490.16	\$5,882
20	8"	12	2.85%	12				\$772.71	\$9,273	\$980.34	\$11,764
21	Gallonage Charge/MG:								,-		·
22	Ali Gallonage				59,170	2.19%	60,465	\$4.63	\$279,953	\$5.87	\$354,930
23	Total	3,159		3,249	59,170	,	80,465		\$417,943	_	\$529,995
					******			2		-	:

Note

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

Company: SSU / Lee / Lehigh
Docket No: 950495-WS
Schedule Year Ended: 12/31/95
Water{} Wastewater[x]
Interim[x] Final[]
Historical[] Projected[x]
FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FP8C

Schedule E-13
Page 5 of 11
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculati	on of each projection factor	r on a separa	te schedule,	# necessary.	LIST OF	her classes o	r meter sizes	as applicable.				
	(1)	(2)	(3)	(4)		(5)	(6)	(7)		(9)	(10)	(11)
		N	umbero	Bills		Co	nsumpti	o n(MG)	S _c h	edule Ye	ar Rever	ues
Line		Historical	Projection	Projected	-	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim		<u> 1994</u>	Factor	1995 Interim	Retes	Revenue	Rates	Revenue
24	Effluent											
25	5/8 x 3/4"	12	2.85%	12					\$0.00	\$0	\$0.00	\$0
26	Gallonage Charge/MG:											
27	All Gallonage					149,480	0.00%	149,480	\$0.11	\$18,443	\$0.14	\$20,927
28	Total	12		12		149,480		149,480		\$16,443	_	\$20,927
			1		•				,		_	
29	GRAND TOTAL	81,488		83,810		422,664		426,648		\$2,523,933		\$3,202,431
			ī								_	

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FP\$C

Schedule E-13 Page 6 of 11 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If e projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

CALCUIAN	on or each projection ractor	Ult a separa	e acueume,	n mocessery.	LIST OFFEL CHASSES C	il Illiand: arces	аз аррикаию.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umberof	Bills	C o	nsumpti	o n(MG)	S c h	edule Ye	ar Reve	nues
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 199	5 Interim Rates
<u>No.</u>	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	13,164	0.42%	13,219				\$11.10	\$146,731	\$14.08	\$186,124
3	1"	5,747	0.42%	5,771				\$11.10	\$64,058	\$14.0B	\$81,256
4	1 1/2"	24	0.42%	24				\$11.10	\$266	\$14.08	\$338
5	Gallonage Charge/MG:										
6	0- 10,000 gallons				85,443	1.10%	86,383	\$3.20	\$276,426	\$4.06	\$350,715
7	All excess 1/				77,438	1.10%		\$0,00	\$0	\$0.00	\$0
8	Total	18,935		19,014	85,443		86,383		\$487,481		\$818,433
	•									_	
9	Multi-Family										
10	5/8 × 3/4"	12	0.42%	12				\$11.10	\$133	\$14.08	\$169
11	1*	24	0.42%	24				\$22.20	\$533	\$28.17	\$676
12	1 1/2*	194	0.42%	195				\$55.51	\$10,824	\$70.43	\$13,734
13	r	602	0.42%	605				\$88.81	\$53,730	\$112.67	\$88,165
14	3"	296	0.42%	297				\$177.62	\$52,753	\$225,35	\$60,929
15	4"	324	0.42%	325				\$277.54	\$90,201	\$352.11	\$114,438
18	6"	32	0.42%	32				\$555.08	\$17,763	\$704.23	\$22,535
17	Gallonage Charge/MG:										
18	All Gallonage				270,447	1.10%	273,422	\$3.85	\$1,052,675	\$4,86	\$1,334,299
19	Total	1,484		1,490	270,447		273,422	·	\$1,278,612		\$1,620,943

Note

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallions also contain decimal places that are not shown).

Company: SSU / Collier / Marco Island

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedula E-13 Page 7 of 11 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberol	Bills	C	nsumpti	o n(MG)	Sche	edule Ya	ar Revei	านอร์
Line	·	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
20	Commercial										
21	5/8 x 3/4"	1,181	0,42%					\$11.10	\$13,165	\$14.08	\$16,699
22	1*	757	0.42%					\$22.20	\$16,872	\$28.17	\$21,409
23	1 1/2"	320	0.42%	_				\$55.51	\$17,81 9	\$70.43	\$22,608
24	2*	144	0.42%	145				\$88.81	\$12,877	\$112.67	\$18,337
25	3"	12	0.42%	12				\$177.62	\$2,131	\$225,35	\$2,704
26	4"	24	0.42%					\$277.54	\$6,661	\$352.11	\$8,451
27	8⁴	24	0.42%	24				\$555.08	\$13,322	\$704.23	\$16,902
28	Gallonage Charge/MG:										
29	All Gallonage				171,349	1.10%	173,233	\$3.85	\$666,947	\$4.88	\$845,377
30	Total	2,462		2,472	171,349		173,233	-	\$749,794	-	\$950,487
31	Commercial WW Only										
32	1"	12	0.00%	12				\$22.20	\$266	\$28.17	\$338
33	Gallonage Charge/MG:										
34	All Gaflonage				1,148	0.00%	1,148	\$3.85	\$4,420	\$4.88	\$5,602
35	Total	12		12	1,148		1,148		\$ 4,686	_	\$5,940
38	Effluent										
37	1 1/2"	6	0.00%	6				\$0.00	\$0	\$0.00	\$0
38	r	15	0.00%	15				\$0.00	\$0	\$0.00	\$0
39	3"	3	0.00%	3				\$0.00	\$0	\$0.00	\$0
40	8"	12	0.00%	12				\$0.00	\$0	\$0.00	\$0
41	10"	12	0.00%	12				\$0.00	\$0	\$0.00	\$0
42	Gallonage Charge/MG:										
43	All Galionage				145,590	0.00%	145,590	\$0.25	\$36,398	\$0.32	\$46,589
44	Total	48		48	145,590	•	145,590	•	\$36,398	-	\$48,589

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

Company: SSU / Collier / Marco Island

Docket No: 950495-WS
Schedule Year Ended: 12/31/95
Water[] Wastewater[x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 8 of 11
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule. If necessary.

CRICULATI	acculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)		(9)	(10)	(11)
	_	N	umberot	FBills	C	onsumpti	o n(MG)	Sche	dule Ye	ar Reve	nues
Line	_	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	5 Interim Rates
<u>No.</u>	Class/Meter Size	<u> 1994</u>	<u>Fector</u>	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
45	Multi-Family Non-Meter	ed .									
48	3"	12	0.00%	12				\$2,010.00	\$24,120	\$2,550,00	\$30,600
47	Gallonage Charge/MG:										
48	All Gallonage				N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
49	Total _	12	•	12	N/A	_	N/A		\$24,120		\$30,600
	•		•	*****	-	•				-	
50	Bulk Wastewater										
51	1"	2	0.00%	2				\$22.20	\$44	\$28.17	\$56
52	4"	84	0.00%	84				\$277.54	\$23,313	\$352.11	\$29,577
53	Gallonage Charge/MG:								,		
54	All Gallonage				95,060	0.00%	95,060	\$3.85	\$365,981	\$4.88	\$463,893
55	Total	86	•	86	95,060		95,060	•	\$389,338	_	\$493,526
	-	<u> </u>		*****		•				=	
56	GRAND TOTAL	23,039		23,134	769,037		774,836		\$2,970,429		\$3,766,518
		20,000		20,107	700,003	t	,,,,,,,,		\$2,570,425	_	441-30,010

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Citrus / Spring Gardena 1/

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 9 of 11
Preparer: Bencini
Supporting Schedules: E1-1.

Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculati	on of each projection factor	r on a separa	te schedule,	if necessary.	List other classes of	r meter sizes	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	<u>umber of</u>	Bills	Co	nsumpti	on(MG)	Sche	dule Ye	ar Rever	ı u e ş
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	<u>1994_3/</u>	Factor 4/	1995 Interim	<u> 1994 3/</u>	Factor 4/	1995 Interim	Rates 5/	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	1,470	3,36%	1,519				\$8.31	\$12,623	\$10.54	\$16,010
3	Gallonage Charge/MG:										
4	0- 6,000 gallona				4,287	2.96%	4,414	\$2.48	\$10,947	\$3.15	\$13,904
5	All excess 2/				1,634	2.96%	1,682	\$0.00	\$0	\$0.00	\$0_
6	Total	1,470		1,519	4,287		4,414		\$23,570		\$29,914
								•		-	··
7	Commercial										
8	5/8 x 3/4"	12	3,36%	12				\$8.31	\$100	\$10.54	\$126
9	2	24	3,36%	25				\$68,51	\$1,663	\$84,38	\$2,110
10	Gallonage Charge/MG:										
11	All Gallonage				827	2.96%	852	\$2.98	\$2,539	\$3,78	\$3,221
12	Total	36		37	827		852	_	\$4,302	_	\$5,457
	•							-		-	
13	GRAND TOTAL	1,506		1,556	5,114		5,266		\$27,872		\$35,371
								-		=	

Note:

^{1/} This plant was acquired in 1995.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Historical billing determinants were supplied during acquisition.

^{4/} The projection factors used are the overall average projection factors for all plants.

^{5/} Present rates are the rates that were being charged at time of acquisition.

α4

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / St. Lucie / Tropical leles

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 10 of 11
Preparer: Bencini
Supporting Schedules: E1-1,

Projection Factor Tab

Explanation: If a projected tast year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary.

Calculati	akculation of each projection ractor on a separate schedule, if necessary. List other classes or meter sizes as applicable.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umberoi	Bitts	Co	nsumpti	on(MG)	Sche	du <u>le</u> Ye	ar Re <u>ve</u> i	n u e s
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Motor Size	<u> 1994</u>	Factor	1995 Interim	<u> 1994</u>	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential WW Only										
2	5/8 x 3/4"	2,629	13.62%	2,992				\$13.33	\$39,883	\$16.91	\$50,595
3	Gallonage Charge/MG:										
4	0- 6,000 gallons				N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00
5	All excess 1/				N/A	N/A	N/A	\$0.00	\$0.00	\$0.00	\$0.00
6	Total	2,629		2,992	N/A		N/A	•	\$39,883	_	\$50,595
								•	. —	-	
7	GRAND TOTAL	2,629		2,992	N/A		N/A		\$39,883		\$50,595
			1							-	

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallions also contain decimal places that are not shown).

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Company: SSU / Lake / Valencia Terrace 1/

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-13
Page 11 of 11
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculati	ion of each projection factor	r on a separa	te schedule,	if necessary.	List other classes of	r meter sizes	as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umber o	Bills	C o	<u>n s</u> um p t i	o n(MG)	Sche	dule Ye	ar Revei	nues
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	Interim Rates
No.	Class/Meter Size	1994 3/	Factor 4/	1995 Interim	<u>1994_3/</u>	Factor 4/	1995 Intenm	Rates 5/	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	3,981	3.36%	4,115				\$8.49	\$34,936	\$10.77	\$44 ,319
3	Gallonage Charge/MG:										
4	0- 6,000 gallons				15,643	2.96%	16,106	\$1.56	\$25,125	\$1.98	\$31,890
5	All excess 2/				6,636	2.96%	7,039	\$0.00	\$0_	\$0.00	\$0
6	Total	3,981		4,115	15,643		16,106	_	\$60,061	_	\$76,209
						,		•	<u></u>	-	
7	Commercial										
8	5/8 x 3/4"	42	3.36%	43				\$8.49	\$365	\$10.77	\$463
9	1"	68	3.36%	70				\$21.22	\$1,485	\$26.92	\$1,864
10	1 1/2*	12	3.36%	12				\$42.49	\$ 510	\$53.91	\$647
11	2"	12	3.36%	12				\$67.91	\$815	\$86.18	\$1,034
10	Gallonage Charge/MG:										
11	All Gallonage				1,519	2.96%	1,563	\$1.56	\$2,438	\$1.98	\$3,095
12	Total	134		137	1,519		1,563	•	\$5,613	_	\$7,123
	•					:				=	
13	GRAND TOTAL	4,115		4,252	17,162		17,669	_	\$65,674	_	\$83,332
	,							,		_	

Note:

^{1/} This plant was acquired in 1995.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Historical billing determinants were supplied during acquisition.

^{4/} The projection factors used are the overall average projection factors for all plants.

^{5/} Present rates are the rates that were being charged at time of acquisition.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 1 of 4 Preparer: Bencini

	(1)	(2)	(3)	(4)
Line		Present Monthly	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Equivalent Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$22.50	26.870%	\$28.55
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$0.00	26.870%	\$0.00
4	All Excess Gallons	\$0.00	26.870%	\$0.00
5	RESIDENTIAL WASTEWATER ONLY 4/ All Meter Sizes	\$22.50	26.870%	\$28.55
6	GENERAL SERVICE 4/ All Meter Sizes	\$22.50	26.870%	\$28.55
8	GALLONAGE CHARGE / MG: All Gallonage	\$0.00	26.870%	\$0.00

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Polk / Seaboard

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 2 of 4 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)
Line		Present	Revenue Requirement	Proposed 1995
No.	Class/Meter Size	Rates	Percent Increase 1/	Interim Rates
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$19.16	26.870%	\$24.31
2	GALLONAGE CHARGE / MG:			
3	0 - 10,000	\$2.98	26.870%	\$3.78
4	All Excess Gallons	\$0.00	26.870%	\$0.00
	GENERAL, MULTI-FAMILY SERVICES			
5	5/8"x3/4"	\$19.16	26.870%	\$24.31
6	3/4"	N/A	26.870%	N/A
7	1"	\$47.91	26.870%	\$60.78
8	1 - 1/2"	\$95.82	26.870%	\$121.57
9	2"	\$ 153.31	26.870%	\$194.50
10	3"	\$306.62	26.870%	\$389.01
11	4"	NA	26.870%	N/A
12	6"	N/A	26.870%	N/A
13	8*	N/A	26.870%	NA
14	10"	N/A	26.870%	N/A
15	GALLONAGE CHARGE / MG:			
16	All Gailonage	\$3.58	26.870%	\$4.54

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants.

Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] Wastewater (x) Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 3 of 4 Preparer: Bencini

ine	(1)	(2)	(3)	(4) Proposed 1995
uriei No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Interim Rates
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$ 12.26	26.870%	\$1 5.55
2	GALLONAGE CHARGE / MG:			
3	0 - 6,000	\$3.54	26.870%	\$4.49
4	All Excess Gallons	\$0.00	28.870%	\$0.00
	RESIDENTIAL WASTEWATER ONLY			
5	All Meter Sizes	\$24.86	26.870%	\$ 31. 54
	GENERAL, MULTI-FAMILY SERVICES			
6	5/8"x3/4"	\$12.26	26.870%	\$15.55
7	3/4"	\$18.39	26.870%	\$23.33
8	1"	\$30.65	26.870%	\$38.89
9	1 - 1/2"	\$61.30	26.870%	\$77. 77
10	2"	\$98.08	26.870%	\$124.43
11	3"	\$196,18	26.870%	\$248.67
12	4 ^H	\$306,50	26.870%	\$388.86
13	6"	\$613.00	28.670%	\$777.71
14	8"	\$980.80	26.870%	\$1,244.34
15	10⁴	\$1,409.90	28.870%	\$1,788.74
16	GALLONAGE CHARGE / MG:			
17	All Gallonage	\$4.25	26.870%	\$5.39
	BULK WASTEWATER			
18	All Meter Sizes	\$0.00	26.870%	\$0.00
19	GALLONAGE CHARGE / MG:	•		
20	Ali Gallonage	\$2.35	0.000% 2/	\$2.35

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (28.87%) for all FPSC-regulated plants.

^{2/} The Bulk Wastewater Rate for Spring Hill is a contractual rate which cannot be changed.

854

SCHEDULE OF WASTEWATER RATES - 1995

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS
Schedule Year Ended: 12/31/95
Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]
FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1

Page 4 of 4 Preparer: Bencini

\$0.00

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	(4)	
Lin e No.	Class/Meter Size	Present Rates	Revenue Requirement Percent Increase 1/	Proposed 1995 Interim Rates	
	RESIDENTIAL SERVICE				
1 2	All Meter Sizes GALLONAGE CHARGE / MG:	\$10.00	26.870%	\$12.69	
3	0 - 6,000	\$0.00	26.870%	\$0.00	
4	All Excess Gallons	\$0.00	26.870%	\$0.00	

^{1/} The proposed interim rates were computed by using the requested revenue increase percentage (26.87%) for all FPSC-regulated plants. Refer to Schedule B-1(W) for support. The percent increase is slightly different from that shown on Schedule B-1(W) due to rounding.

SCHEDULE OF MASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 1 of 7
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

	_	1995 I	PROJECTED INTER	IN (PRESENT	T RATES)	1995 PROJE	CTED INTERIM (PROPOS	ED INTERIM I	MES)
Line <u>No.</u>	Class/Meter Size	Сот	nsumption(MG)		Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	3,155		\$22.50	\$70.988	3.155		\$28.55	\$90.075
4 5 6	All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	3,15 <u>5</u> 263	26,429 26,429 8,377	\$0.00	\$0 \$70.988 \$22.50	3, 155 263	26,429 26,429 8,377	\$0.00	\$90,075 \$28.55
7 8	RES WW ONLY 5/8"x3/4"	12		\$22.50	\$ 270	12		\$28.55	\$ 343
10 11 12	Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	12 _	0.000	\$0.00	\$0 \$270 \$22.50	<u> 12</u>	0.000	\$0.00	\$0 \$343 \$28.58
13 14 15	COMMERCIAL 5/8"x3/4" 1 1/2"	2 8 12		\$22.50 \$22.50	\$630 \$270	28 12		\$28.55 \$28.55	\$799 \$343
16 17 18 19	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	40 -	128 128 3.200	\$0.00	\$0 \$900 \$22.50	$\frac{40}{3}$	128 128 3.200	\$0,00	\$0 \$1,142 \$28.55

FPSC

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

SCHEDULE: E2-1 Page 2 of 7 Preparer: Bencini

Supporting Schedules: E1-1, E-13

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	1	995 PROJECTED INTER	IM (PRESENT RATES)	1995 PROJ	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line No.	Class/Meter Size	Consumption(MG)	Revenues	B111s	Consumption(MG)	Rate	Revenues	
20 21 22	TOTAL ANNUALIZED SALES REVENUES 2 UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	/	\$72,158 \$0 \$0 \$72,158				\$91.560 \$0 \$0 \$91.560	

- 1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 2/ No reconciliation is provided for a projected test year because booked revenues are a historic concept.
- 3/ Refer to schedule 1995 B-4 schedule for detail of other revenue.

856

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 3 of 7
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7), (8) (9) (10)

1 444	-	1999	5 PROJECTED INTER	RIM (PRESENT	RATES)	1995 PR	JECTED INTERIN (PROPO	SED INTERIM	RATES)
<u>No.</u>	Class/Meter Size	!	Consumption(MG)		Revenues	8ills_	Consumption(MG)	Rate	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	29,999		\$19.16	\$574,781	29, 999		\$24.31	\$729,276
4 5 6 7	0-10000 All excess I/ Total RESIDENTIAL Ave cust/cons/bill/mth	29.999 2,500	172,823 29,265 172,823 5,761	\$2.98 \$0.00	\$515,013 \$0 \$1,089,794 \$36.33	0-10000 excess 1/ 	172.823 29.265 172.823 5.761	\$3.78 \$0.00	\$653.271 \$0 \$1.382.547 \$46.09
8 9 10 11 12 13	MULTI-FAMILY 1 1/2" Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	12 12 1	7.395 7,395 616.250	\$95.82 \$3.58	\$1,150 \$26,474 \$27,624 \$2,302.00	12 	7,395 7,395 616.250	\$121.57 \$4.54	\$1,459 \$33,573 \$35,032 \$2,919,33
14 15 16 17 18 19	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3"	271 12 48 37 24	·	\$19.16 \$47.91 \$95.82 \$153.31 \$306.62	\$5,192 \$575 \$4,599 \$5,672 \$7,359	271 12 48 37 24		\$24.31 \$60,78 \$121.57 \$194.50 \$389.01	\$6,588 \$729 \$5,835 \$7,197 \$9,336
20 21 22 23	Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	392 33	13.020 13.020 33.214	\$3.58	\$46.612 \$70.009 \$178.59	392 33	13.020 13.020 33.214	\$4,54	\$59.111 \$88.796 \$226.52

FPSC

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x] SCHEDULE: E2-1 Page 4 of 7 Preparer: Bencini

Supporting Schedules: E1-1, E-13

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	199	95 PROJECTED INTERIM (PRESE)	NT RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
No.	Class/Meter Size	Consumption(MG)	Revenues	Bills	Consumption(MG)	Rate	Revenues
24 25 26	TOTAL ANNUALIZED SALES REVENUES 2/ UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES		\$1,187,427 \$0 \$0 \$1,187,427				\$1,506,375 \$0 \$0 \$1,506,375

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 5 of 7
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2), (3) (4) (5) (7) (8) (9) (10)

		.19	95 PROJECTED INTER	LIM (PRESENT	RESENT RATES) 1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)					
Line <u>Mo.</u>	Class/Meter Size		Consumption(MG)		Revenues		Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5	RESIDENTIAL 5/8"x3/4" 1" 1 1/2" 2"	61.969 174 28 22		\$12.26 \$12.26 \$12.26 \$12.26	\$759,740 \$2,133 \$343 \$270		61.969 174 28 22		\$15.55 \$15.55 \$15.55 \$15.55	\$963,618 \$2,706 \$435 \$342
6 7 8 9 10	Gallonage Charge/MG 0- 6000 All excess 1/ Total RESIDENTIAL Ave cust/cons/bill/mth	62,193 5,183	227 . 430 81 . 097 227 . 430 3 . 657	\$3.54 \$0.00	\$805,102 \$0 A \$1,567,588 \$25,21	0- 6000 11 excess 1/	62,193 5,183	227,430 81,097 227,430 3,657	\$4.49 \$0.00	\$1,021,161 \$0 \$1,988,262 \$31.97
11 12 13 14 15 16	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	61 61 5	0.000	\$24.86 \$0.00	\$1.516 \$0 \$1.516 \$24.85		61 61 5	0.000	\$31.54 \$0.00	\$1,924
17 18 19 20 21 22 23 24 25 26 27	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 6" Gallonage Charge/MG All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	2.514 394 82 346 30 20 3.386 282	69.967 69.967 20.664	\$12.26 \$30.65 \$61.30 \$98.08 \$196.16 \$613.00 \$4.25	\$30.822 \$12,076 \$5.027 \$33.936 \$5.885 \$12.260 \$297.360 \$397.366 \$117.36		2.514 394 B2 346 30 20	69.967 69.967 20.664	\$15.55 \$38.89 \$77.77 \$124.43 \$248.87 \$777.71	\$39.093 \$15.323 \$6.377 \$43.053 \$7.466 \$15.554 \$377.122 \$503.988 \$148.84

SCHEDULE OF MASTEMATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x] FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x] **FPSC**

SCHEDULE: E2-1 Page 6 of 7 Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (1) (2) (3) (4) (5) (7) (10)

		1995	PROJECTED INTER	IM (PRESENT	RATES)	1995 PROJE	CTED INTERIM (PROPOS	ED INTERIM	RATES)
Line No.	Class/Meter Size	<u>Co</u>	nsumption(NG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
28 29 30	BULK SEWER 4" 10"	25 13		\$0.00 \$0.00	\$0 \$0	25 13		\$0.00 \$0.00	\$0 \$0
31 32 33 34	Gallonage Charge/MG All Gallonage Total BULK SEWER Ave cust/cons/bill/mth	38 3	158,096 158,096 4160,42	\$2.35	\$371.526 \$371.526 \$9,777.00	38 3	158.096 158.096 4160.42	\$2.35	\$371,526 \$371,526 \$9,777.00
35 36 37	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES	REVENUES 2/			\$2,337.996 \$0 \$0 \$2,337.996				\$2,865,700 \$0 \$0 \$2,865,700

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 8-4 schedule for detail of other revenue.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / VALRICO HILLS

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1
Page 7 of 7
Preparer: Bencini

Supporting Schedules: E1-1, E-13

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

		199	95 PROJECTED INTER	IN (PRESENT	RATES)	1995 PROJECTED INTERIM (PROPOSED INTERIM RATES)			
Line <u>No.</u>	Class/Meter Size		Consumption(MG)		Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RES1DENTIAL								
2	5/8"x3/4"	4.260		\$10.00	\$42,600	4,260		\$12.69	\$54.059
3	Gallonage Charge/MG								
4	All Gallonage		38.579	\$0.00	\$0		38,579	\$0.00	\$0
5	Total RESIDENTIAL	4,260	38,579		\$42,600	4.260	38,579		\$54.059
6	Ave cust/cons/bill/mth	355	9.056		\$10.00	355	9,056		\$12.69
7	TOTAL ANNUALIZED SALES I	REVENUES 2/			\$42.600				\$54,059
8	UNBILLED REVENUE				\$0				\$0
9	OTHER REVENUE 3/				\$0				\$0
	TOTAL REVENUES				\$42.600				\$54,059

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{2/} No reconciliation is provided for a projected test year because booked revenues are a historic concept.

^{3/} Refer to schedule 1995 B-4 schedule for detail of other revenue.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Wastewater Customer Monthly Billing - 1995

COMPANY: SSU/POLK /LAKE GIBSON ESTATES

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3 Page 1 of 4

Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN95	6	0	0	0	0	6	
2	FEB95	256	0	4	0	1	261	
3	MAR95	1	0	0	0	0	1	
4	APR95	261	0	4	0	1	266	
5	MAY95	1	0	0	0	0	1	
6	JUN95	260	0	3	0	1	264	
7	JUL95	3	0	0	0	0	3	
8	AUG95	263	0	3	0	1	267	
9	SEP95	2	0	0	0	0	2	
10	OCT95	262	0	3	0	1	266	
11	NOV95	2	0	0	0	0	2	
12	DEC95	260	0	3	0	1	264	
13	TOTAL	<u> </u>	0	20	0	6	1,603	
14	MTH. AVE	131	0	. 2	0	1	134	

NOTE: This plant has bimonthly billing. On other schedules, the No. 8ills have been converted to monthly equivalent.

Please refer to Schedule E2-1.1 for detail.

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes 8ulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1995

Company: SSU/HILLSBOROUGH /SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/95
Water [] Wastewater [x]
Interim[x] Final[]
Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E-3
Page 2 of 4
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (4) (5) (6) (3) (7) Line Month/ Multi-Family Genera1 Private Fire Other | No. Residential Dwelling Year Service Protection (List) 1/ Total JAN95 2.505 0 34 0 2.540 2 FEB95 2,493 1 34 0 0 2,528 3 1 MAR95 2,516 34 0 0 2.551 4 APR95 2,508 1 34 0 2.543 5 MAY95 2,513 34 0 2.548 6 JUN95 2,506 34 2,541 7 JUL95 2,491 34 0 2,526 8 AUG95 2,501 1 31 0 2,533 9 SEP95 2,498 1 31 0 2,530 10 OCT95 2,500 1 30 0 2,531 NOV95 2.486 1 30 11 0 0 2,517 12 0EC95 2,479 31 0 0 2,511 13 TOTAL 29,996 391 30,399 14 MTH. AVE 2,500 2,533

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

FPSC

Company: SSU/HERNANDO /SPRING HILL

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3 Page 3 of 4

Preparer: 8encini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	<u>Dwe</u> lling	Service	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN95	5,117	0	272	0	8	5,397	
2	FE895	5,147	0	272	0	8	5,427	
3	MAR95	5,209	0	278	0	8	5,495	
4	APR95	5,181	0	290	0	8	5,479	
5	MAY95	5,176	0	288	0	8	5,472	
6	JUN95	5,168	0	281	0	8	5,457	
7	JUL95	5,171	0	287	0	8	5,466	
8	AUG95	5,215	0	279	0	8	5,502	
9	SEP95	5,216	0	282	0	8	5,506	
10	OCT95	5,194	0	284	٥	8	5,486	
11	NOV95	5,212	0	283	0	8	5,503	
12	DEC95	5,188	0	289	0 .	8	5,485	
13	TOTAL	62,194	0	3,385	0	96	65.675	
14	MTH. AVE	5,183	0	28 2	0	8	5,473	

NOTE: May not tie to other schedules due to monthly rounding.

ä

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Docket No.: 950495-WS Schedule Year Ended 12/31/95 Water [] Wastewater [x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3 Page 4 of 4

Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line No.	Month/ Year	Residential	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	Total	
	344/05	057				•		
1	JAN95	357	0	0	0	0	357	
2	FEB95	353	0	0	0	0	353	
3	MAR95	354	0	0	0	0	354	
4	APR95	354	0	0	0	0	354	
5	MAY95	357	0	0	0	0	357	
6	JUN95	353	0	0	0	0	353	
7	JUL95	357	0	0	0	0	357	
8	AUG95	360	0	0	0	0	360	
9	SEP95	352	0	0	0	0	352	
10	OCT95	352	0	0	0	0	352	
11	NOV95	356	0	0	0	0	356	
12	DEC95	353	0	0	0	0	353	
13	TOTAL	4.258	0	0	0	0	4,258	
14	MTH. AVE	355	0	0	0	0	355	

NOTE: May not tie to other schedules due to monthly rounding.

866

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU / Polk / Lake Gibson Estates

Schedule E-4 Page 1 of 4 Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [1] Wastewater [x]

Water [] Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates	(3 Propose	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$10.00	N/A	No Change	No Change
2	Normal Reconnection	\$10.00	N/A	No Change	No Change
3	Violation Reconnection	\$10.00	N/A	No Change	No Change
4	Premise Visit	\$5.00	N/A	No Change	No Change
5 Raturn Check Charge		\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change

Schedule E-4
Page 2 of 4
Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Presant			3) od Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$7.50	N/A	No Change	No Change
5	Return Check Charge	\$15.00	N/A	No Change	No Change

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1995

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

FPSC

Schedule E-4 Page 3 of 4

Preparer: Bencini

	(1)		(2) Present Rates	(3) Proposed Rates		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	No Change	No Change	
2	Normal Reconnection	\$15.00	N/A	No Change	No Change	
3	Violation Reconnection	\$15.00	N/A	No Change	No Change	
4	Premise Visit	\$10.00	N/A	No Change	No Change	
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	No Change	No Change	

869

Docket No.: 950495-WS Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Schedule E-4
Page 4 of 4
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)		(2) nt Rates		3) ed Rates
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	No Change	No Change
2	Normal Reconnection	\$15.00	N/A	No Change	No Change
3	Violation Reconnection	\$15.00	N/A	No Change	No Change
4	Premise Visit	\$7.50	N/A	No Change	No Change
5	Return Check Charge	of the	mount check, ever is	No Change	No Change

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1995

Company: SSU / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water {} Wasteweter [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1 Preparer: Bencini

	(1)	(2)	(3)	(4) Present	(5)	(6)	(7)	(8) Proposed	(9)
Line				Projected 1995 Units Projection	1				(1995 Interim)
No.	Type of Charge	Rates	1994 Units 1/	Factor	1995 Units 1/	Revenues	Rates	1995 Units 1/	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1995

Company: SSU/ Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS
Schedule Yeer Ended: 12/31/95
Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [| FPSC Non-Uniform [] FPSC Non-Jurisdiction [x]

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

No.	Plant Name	County	Status	(GPM)	4"	6"	6*	10"	12"	14"	Totai	Notes
Line				Requirement	Number	of Stendard T	ype Public Fi	re Hydrante B	y Pipe Size C	connecting the	Hydrant	
				Fire Flow								
	(1)	(2)	(3)	(4)	(5)	(9)	(7)	(8)	(9)	(10)	(11)	(12)
I rue surrenary	to nor tedoried for a sesser	othy rate approachors.										

This Schedule is not applicable for Westewater.

CUEDIII	FIRE PROTECTION SERVICE.	4005

Company: SSU/FPSC Non-Jurisdiction

Schedule E-7
Page 1 of 1
Preparer: Bencini

FPSC

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

Private fire protection service is not applicable to wastewater plants.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [X] Wastewater [X] Interim [X] Final [] Historical [] Projected [X]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on a Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description					
1	HERSHEL HEIGHTS						
2							
3	Nasrallah, Herbert	Pursuant to Agreement: SSU agrees not to require Herbert Nasrallah to connect					
4	Customer # 091594	the property located at 7818 N. 53rd St., Tampa, FL 33617, to its water distribution					
5		system until ownership changes. 1/					
6	SPRING HILL						
7							
8	Timber Pines Community Ass., Inc.	Pursuant to Agreement: SSU agrees to provide Timber Pines Community Association,					
9	•	Inc., reclaimed water for irrigation at the following rates:					
10		\$ 0.00 per month until 12/31/20004.					
		\$ 12,775.00 per month from 1/1/2005 through 12/31/2011, and					
		\$ 14,904.00 per month from 1/1/2012 through 12/31/2026. 2/					

FPSC

Schedule: E-8 Page 1 of 1

Preparer: Bencini

^{1/} Agreement was terminated on 4/19/95.

^{2/} Service is to begin as soon as upgrades to Spring Hill's plant and distribution lines are complete (budgeted to be in service in December of 1996).

875

SCHEDULE OF TAX OR FRANCHISE FEES - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/95 Water [] or Wastewater [x] Interim [x] Final [] Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

FPSC	
Schedule: E-9	
Page 1 of 1	
Preparer: Benci	ni

(1)	(2)	(3)	_ (4)	(5)	(6)	(7)	(8)
Line No.	Plant	County	Type of Tax or Fee	To Whom Paid	Amount	How Collected From Customers	Type of Agreement
1	Spring Hill 1/	Hemando	Rev. Assess. Fee	FPSC	4.5%	2/	None
2							
3	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
4	Lake Gibson Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
5	Orange Hill / Sugar Creek	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance

^{1/} Spring Hill rescinded FPSC jurisdiction on 4/5/94. Since that time, SSU has been accruing the 4.5% R.A.F., pending final jurisdictional outcome.

^{2/} Included in overall cost of service.

^{3/} Billed as a separate line item on customer bills.

SERVICE AVAILABILITY CHARGES SCHEDULE - 1995

FPSC

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-10 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]

Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	

Please see separate Service Availability Schedules, Volume VIII.

GUARANTEED REVENUES RECEIVED - 1995

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-11

Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []

Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

-	(1)	(2)	(3)	(4)	(5)	(6)	_
	Line No.	For the Year Ended Residential		General Service	Other	Total	
		roa Endou					

This schedule is not applicable.

9

878

CLASS A UTILITY COST OF SERVICE STUDY - 1995 Industrial Customers

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-12
Page 1 of 1
Preparer: Bencini

FPSC

Docket No.: 950495-WS

Schedule Year Ended: 12/31/95

Water [] Wastewater [x]
Interim [x] Final []
Historical [] Projected [x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Polk / Lake Gibson

Docket No: 950495-WS

Schedule Year Ended: 12/31/95

Water[] Wastewater[x]

Interim[x] Final[]

Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 1 of 4

Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Carculau	on or each projection lacto	i vii a sopaie	IC SCHOOL	, ii iiocossaiy.			os as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	osedmu	Bills	Co	nsumpti	o n(MG)	Schedule Year Revenues			
Line		Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates		5 Interim Rates
No.	Class/Meter Size	<u>1994 1/</u>	Factor	1995 Interim	<u>1994 1/</u>	<u>Factor</u>	1995 Interim	Rates	Revenue	<u>Rates</u>	<u>Revenue</u>
1	Residential										
2	5/8 x 3/4"	3,154	0.04%	3,155				\$22.50	\$70,988	\$28.55	\$90,075
3	Gallonage Charge/MG:										
4	All Gallonage				26,113	1.21%		\$0.00	\$0	\$0.00	\$0
5	Total _	3,15 <u>4</u>		3,155	26,113		26,429	_	\$70,988		\$90,075
	•							•		•	<u></u>
6	Residential WW Only										
7	5/8 x 3/4"	12	0.04%	12				\$22.50	\$270	\$28.55	\$34 3
8	Gallonage Charge/MG:										
9	All Gallonage				N/A	N/A	N/A	\$0.00	\$0	\$0.00	\$0
10	Total	12		12	N/A	,	N/A	_	\$270	_	\$343
	•							-		-	
11	Commercial										
12	5/8 x 3/4"	28	0.04%	28				\$22.50	\$630	\$28.55	\$799
13	1- 1/2"	12	0.04%	12				\$22.50	\$270	\$28.55	\$343
14	Gallonage Charge/MG:										
15	All Gallonage				126	1.21%	128	\$0.00	\$0	\$0.00	\$0
16	Total	40		40	126		128	•	\$900	-	\$1,142
	•							=		=	
17	GRAND TOTAL	3,206		3,207	2 6,239		26,557		\$72,158		\$91,560
								=		-	

^{1/} Historical billing was done on a bi-monthly basis. The billing determinants shown have been converted to monthly equivalents. Please refer to Schedule E2-1.1 for support.

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Hillsborough / Seaboard

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x] Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13 Page 2 of 4 Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
		N	umberot	Bills	C @	onsumpti	o n(MG)	Sch	edule Ye	ar Rever	
Line	·	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1995	5 Interim Rates
<u>No.</u>	Class/Meter Size	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u>Rates</u>	Revenue	Rates	Revenue
1	<u>Residential</u>										
2	5/8 x 3/4"	29,874	0.42%	29,999				\$19.16	\$574,781	\$24.31	\$729,278
3	Gallonage Charge/MG:										
4	0 - 10,000				172,823	0.00%	172,823	\$2.98	\$ 515,013	\$3.78	\$ 653,271
5	All Excess 1/				29,265	0.00%	29,265	\$0.00	\$0	\$0.00	\$0
6	Total	29,874		29,999	172,823	•	172,823		\$1,089,794	_	\$1,382,547
	•							•		_	
7	Multi-Family										
8	1- 1/2"	12	0.42%	12				\$95.82	\$1,150	\$121.57	\$1,459
9	Gallonage Charge/MG:										
10	All Gallonage				7,395	0.00%	7,395	\$3.58	\$26,474	\$4.54	\$33,573
11	Total	12		12	7,395		7,395		\$27,824	_	\$35,032
	•					•		•		_	•
12	Commercial										
13	5/8 x 3/4"	270	0.42%	271				\$19.18	\$5,192	\$24.31	\$6,588
13	1"	12	0.42%	12				\$47.91	\$575	\$60.78	\$729
14	1- 1/2"	48	0.42%	48				\$95.82	\$4,599	\$121.57	\$5,835
14	2"	37	0.42%	37				\$153.31	\$5,672	\$194.50	\$7,197
15	3"	24	0.42%	24				\$306.82	\$7,359	\$389.01	\$9,336
15	Gallonage Charge/MG:										
16	All Gallonage				13,020	0.00%	13,020	\$3.58	\$46,812	\$4.54	\$59,111
17	Total	391		392	13,020		13,020		\$70,009	_	\$88,796
	•					•		-		_	
18	GRAND TOTAL	30,277		30,403	193,238		193,238		\$1,187,427		\$1,506,375
	:							:		=	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note:

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

PROJECTED SCHEDULE YEAR REVENUE CALCULATION (PROPOSED INTERIM) - 1995

Company: SSU / Hernando / Spring Hill Docket No: 950495-WS

Schedule Year Ended: 12/31/95 Water() Wastewater(x) Interim(x) Final() Historical() Projected(x)

FPSC Uniform () FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-13
Page 3 of 4
Preparer: Bencini
Supporting Schedules: E1-1,
Projection Factor Tab

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	\'- 1		lumberot	Bille	` Co	onsumpti	on(MG)	Sch	edule Ye	ar Rever	ายอร์
Line	•	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 199	5 Interim Rates
No.	Class/Meter Size	1994	Factor	1995 Interim	1994	Factor	1995 Interim	Rates	Revenue	Rates	Revenue
1	Residential										
2	5/8 x 3/4"	60,129						\$12.26	\$759,740	\$15.55	\$963,818
3	1"	169						\$12.26	\$2,133	\$15.55	\$2,706
4	1- 1/2"	27						\$12.26	\$343	\$15.55	\$435
5	2*	21	3.06%	22				\$1 <u>2 2</u> 6	\$270	\$15.55	. \$342
8	Gallonage Charge/MG:										
7	0 - 8,000				218,201	4.23%	227,430	\$3.54	\$805,102	\$4.49	\$1,021,161
8	Alt Excess 1/				77,805	4.23%	81,097	\$0.00	\$0	\$0.00	\$0
8	Total	60,346		62,193	218,201		227,430		\$1,567,588	_	\$1,988,262
10	Residential WW Only										
11	5/8 x 3/4"	59	3.06%	81				\$24.86	\$1 ,51 8	\$31.54	\$1,924
12	Gallonage Charge/MG:										
13	All Gallonage				N/A	N/A	N/A	\$0.00	\$0	\$0.00 _	\$0
14	Total	59		61	N/A	1	N/A		\$1,518	-	\$1,924
15	Commercial										
16	5/8 x 3/4"	2,439						\$12.26	\$30,822	\$15.55	\$39,093
17	1"	382		394				\$30.65	\$12,078	\$38.89	\$15,323
18	1- 1/2*	60						\$61.30	\$5,027	\$77.77	\$6,377
19	7	336						\$96.08	\$33,936	\$124.43	\$43,053
20	3"	29						\$196.16	\$5,885	\$248.87	\$7,466
21	6°	19	3.06%	20				\$613.00	\$12,260	\$777.71	\$15,554
22	Gellonage Charge/MG:					4 0004	~~ ~~~	***	2007.000	45.00	***
23	All Gallonage				67,127	4.23%	69,967	\$4.25	\$297,360	\$5.39	\$377,122 \$503,968
24	Total	3,265		3,386	67,127	1	69,967		\$397,386	-	\$303,800
25	Bulk Wastewater									_	
26	4"	24						\$0.00	\$0	\$0.00	\$0
27	10"	13	3.06%	13				\$0.00	\$0	\$0.00	\$0
28	Gallonage Charge/MG:										
29	Ati Gattonage				153,402	3.06%	158,096	\$2.35	\$371,526	\$2.35	\$371,526
30	Total	37		38	153,402	1	158,096		\$371,526	-	\$371,526
31	GRAND TOTAL	63,727	_	65,678	438,730		455,493	_	\$2,337,996	_	\$2,865,700

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

Note

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallions also contain decimal places that are not shown).

Schedule E-13
Page 4 of 4
Preparer: Bencini

Supporting Schedules: E1-1, Projection Factor Tab

Company: SSU / Hillsborough / Valrico Hills

Docket No: 950495-WS Schedule Year Ended: 12/31/95 Water[] Wastewater[x]

Interim[x] Final[] Historical[] Projected[x]

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

Calculati	on or each projection racto	л Оп а зорак	are achiecone	, ii liocossaiy.	FISE OFFICE CHASSES	OI THEUE! SIZE	ss as applicable.				
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
	_	N	umberot	f Bills	C o	nsumpti	o n(MG)	Sche	dule Y	ear Reve	n u ė s
Line	-	Historical	Projection	Projected	Historical	Projection	Projected	At Pres	ent Rates	Proposed 1999	5 Interim Rates
No.	Class/Meter Size	<u> 1994</u>	<u>Factor</u>	1995 Interim	<u>1994</u>	<u>Factor</u>	1995 Interim	<u>Rates</u>	Revenue	<u>Rates</u>	Revenue
1	Residential										
2	5/8 x 3/4"	4,234	0.61%	4,260				\$10.00	\$42,600	\$12.69	\$54,059
3	Gallonage Charge/MG:										
4	All Gallonage				38,344	0.61%	38,579	\$0.00	\$0	\$0.00	\$0
5	Total	4,234	,	4,260	38,344	•	38,579	_	\$42,600	_	\$54,059
	-		1			•		=		=	
6	GRAND TOTAL	4.234		4,260	38,344		38,579		\$42,600		\$54,059
_			!		-		,	_		_	

Note:

882

May not tie to other schedules due to rounding.

Numbers may not multiply due to the number of decimal places shown (projected bills and gallons also contain decimal places that are not shown).

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [X]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 1 of 2

Preparer: Bencini

Explanation: Provide a schedule of present, interim end proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)
Line		Present	Proposed
ÑO.	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL		
1	All Meter Sizes	\$ 12.67	N/A
	GALLONAGE CHARGE / MG:		
2	0 - 6,000	\$3.66	N/A
3	All Excess Gallons	No Charge	N/A
	RESIDENTIAL WASTEWATER ONLY		
4	Apache Shores	\$17.27	N/A
5	Beacon Hills	\$31.86	N/A
6	Fisherman's Haven	\$26.37	N/A
7	Lellani Heights	\$31.03	N/A
6	Momingview	\$29.84	N/A
9	Palm Port	\$25.16	N/A
10	Sugar Mill	\$23.45	N/A
11	University Shores	\$30.01	N/A
12	Venetian Village	\$28.81	N/A
	GENERAL, MULTI-FAMILY SERVICES 2/		
13	5/8"x3/4"	\$12.67	N/A
14	3/4"	\$19.01	N/A
15	1"	\$31.68	N/A
16	1 - 1/2"	\$63.37	N/A
17	2*	\$101.39	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{2/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [X]
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC Schedule: E1-1 Page 2 of 2 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	
Line		Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	GENERAL, MULTI-FAMILY SERVICES (con	t.) 2/		
18	3"	\$202.77	N/A	
19	4"	\$318.83	N/A	
20	6*	\$633.66	N/A	
21	8*	\$1,013.85	N/A	
22	10°	\$1,457.41	N/A	
	GALLONAGE CHARGE / MG:			
23	All Gallonage	\$4.39	N/A	
24	(Per 100 cubic ft)	\$3.28	N/A	
	EFFLUENT - Deltona 3/			
	GALLONAGE CHARGE / MG:			
25	All Gallonage	\$0.06	N/A	
	EFFLUENT - FL Central Commerce Park			
	GALLONAGE CHARGE / MG:			
26	Per Sprinkler Head 4/	\$0.06	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{2/} SS and Public Authority are not tarriffed classes but are shown separately on the E-2 and E-13 Schedules. The rates are the same as General and Multi-Family.

^{3/} There is no billing history for Deltona.

^{4/} Sprinkler heads are stated as gallonage in the E2-1, E2-2 and E-13 Schedules for presentational purposes.

885

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 1 of 4 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (10) (1) (2) (3) (4) (5)

			1994 HISTORICAL	(PRESENT RA	ATES)		PROPOSED	1/	
Line No.	Class/Meter Size	Bills	Consumption(HG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Full 3/4" 1" 1 1/2" 2" 4"	235.832 5,153 21,162 68 12 12		\$12.67 \$12.67 \$12.67 \$12.67 \$12.67 \$12.67	\$2,987,991 \$65,289 \$268,123 \$862 \$152 \$152				
8 9 10 11 12	Gallonage Charge/MG 0-6000 All excess 2/ Total RESIDENTIAL Ave cust/cons/bill/mth	262,239 21,853	1,067,761 886,281 1,067,761 4,072	\$3.66 \$0.00	\$3,908,005 \$0 \$7,230,574 \$27.57	N/A	N/A		N/A
13 14 15 16 17 18	RES WW ONLY 3/ 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	324 324 27		\$0.00	\$7.076 	N/A	N/A		N/A

FPSC

(9)

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[]
Historical[x] Projected[]

SCHEDULE: E2-1 Page 2 of 4 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

(10)

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

(3)

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (1)

(5)

(4)

	·	,	1-7		107	(,,	(0)	(3)	(10)
			1994 HISTORICAL	(PRESENT RA	(TES)	 	PROPOSED	_ 1/	
Line No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
19 20 21 22 23 24 25 26	MULTI-FAMILY 5/8"x3/4" 1" 1 1/2" 2" 4"	133 96 697 180 17		\$12.67 \$31.68 \$63.37 \$101.39 \$316.83	\$1,685 \$3,041 \$44,169 \$18,250 \$5,386				
25 26 27 28	6" 8" Gallonage Charge/MG All Gallonage	12 7	4 9.746	\$633.66 1,013.85 \$4.39	\$7,604 \$7,097 \$218,385				
29 30	Total MULTI-FAMILY Ave cust/cons/bill/mth	1.142 95	49,746 43.560	2 7.03	\$305,617 \$267.62	N/A	N/A		N/A
31 32	COMMERCIAL 5/8"x3/4"	4.191		\$12.67	\$ 53,100		,		
33 34	Full 3/4" 1"	502 768		\$19.01 \$31.68	\$ 9,543 \$ 24,330				
35 36 37	1 1/2" 2" 3"	620 909 200		\$63.37 \$101.39 \$202.77	\$39,289 \$92,164 \$40,554				
38 39 40	4" 6" 8"	156 24 26	s	\$316.83 \$633.66 1.013.85	\$49,425 \$15,208 \$26,360				
41 42	10" Gallonage Charge/MG	10	\$	1.457.41	\$14,574				
43 44 45	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	7.406 617	392.014 392.014 52.932	\$4.39	\$1,720,941 \$2,085,488 \$281.59	N/A	N/A		N/A

887

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 3 of 4

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(7)	(0)	(3)	(10)
		_	1994 HISTORICAL	(PRESENT RA	ATES)		PROPOSED	1/	
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
46 47	PUBLIC AUTHORITY 1 1/2"	12		\$63.37	\$760				
48 49 50 51	Gallonage Charge/MG All Gallonage Total PUBLIC AUTHORITY Ave cust/cons/bill/mth	12 1	348 348 29.000	\$4.39	\$1,528 \$2,288 \$190.67	N/A	N/A		N/A
52 53 54 55 56 57	EFFLUENT 5/8"x3/4" Gallonage Charge/MG All Gallonage Total EFFLUENT Ave cust/cons/bill/mth	108 108 9	7,776 7,776 72,000	\$0.00 \$0.06	\$467 \$467 \$4.32	N/A	N/A		N/A
58 59 60 61 62	SS 5/8"x3/4" 1" 1 1/2" 2"	36 36 24 36		\$12.67 \$31.68 \$63.37 \$101.39	\$456 \$1.140 \$1,521 \$3,650		,		
63 64 65 66	Gallonage Charge/MG All Gallonage Total SS Ave cust/cons/bill/mth	132	37,056 37,056 280,727	\$4.39	\$162.676 \$169.443 \$1,283.66	N/A	N/A		N/A

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ Total Company/ Present Uniform

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC

SCHEDULE: E2-1 Page 4 of 4 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

(10)

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9)

1 4	1994 HISTO	ORICAL (PRESENT RATES)		PROPOSED 1/	
Line No.	Class/Meter Size 8111s Consumption	n(MG) Rate Revenues	Bills Col	nsumption(HG) Rate	Revenues
67	TOTAL ANNUALIZED SALES REVENUES 4/	\$9,800,953			
68	UNBILLED REVENUE	\$-116,905			
69	OTHER REVENUE 5/	\$ 560			
70	TOTAL REVENUES	\$9,684,608			N/A
71	TOTAL BOOKED REVENUES	\$9,508,386			W/A
7 2	DIFFERENCE 6/	\$9,508,386 \$176,222			

- 1/ Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.
- 2/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 3/ Rates vary by plant. See schedule E-1 for list of rates by plant. RES WW Only in the billing analysis (schedule E-14) shows consumption. It has been zeroed out (since it is not charged) for presentation purposes.
- 4/ Total annualized sales revenues may not tie to other schedules due to rounding at the plant level vs. the summary level.
- 5/ Refer to the 1994 B-4 schedule for detail of other revenue.
- 6/ Refer to the 1994 E2-3 schedule for reconciliation of difference.

FPSC

SCHEDULE: E2-2 Page 1 of 3 Preparer: Bencini

Supporting Schedule: E2-3

COMPANY: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
Line	•		listorical Rates	JAII	- JUL 1994	H	Istorical Rates	AUG	- SEP 1994	H	<u>listorical Rates</u>	OCT	- DEC 1994	Tot 1994 Hist Re
No.	Class/Meter Size	B111s	Consumption(MS)	Rates	Revenues	B111s	Consumption(MG)	Rates	Revenues	B111s	Consumption(MS)	Rates	Revenues	
1	RESIDENTIAL										<u> </u>			
2	5/8"x3/4"	136,471		\$12,20	\$1,664,946	39,571		\$12.61	\$498.990	59.790		\$12.67	\$757,539	\$2,921,475
3	Full 3/4"	2,537		\$12.20	\$30,951	967		\$12.61	\$12,194	1,649		\$12.67	\$20,893	\$64,038
4	1"	12,705		\$12,20	\$155,001	3,438		\$12.61	\$43,353	5,019		\$12.67	\$63 ,591	\$261,945
5	1 1/2*	38		\$12.20	\$464	12		\$12.61	\$151	18		\$12.67	\$228	\$843
6	2*	7		\$12.20	\$85	2		\$12.61	\$25	3		\$12.67	\$38	\$148
7	4*	7		\$12.20	\$85	2		\$12.61	\$25	3		\$12.67	\$38	\$148
8	Gallonage Charge/MC	ì												
9	0 - 60 0 0		636,067	\$3.46	\$2,200,792		171,616	\$3.58	\$614,38 5		260.081	\$3.66	\$951.896	\$3,767,073
10	All Excess 1/		573.132	\$0.00	\$0		146,423	\$0.00	\$0		166,722	\$0.00	\$0	\$0
11	Total	151,76 5			\$4,052,324	43.992			\$1,169,123	66.482			\$1,794,223	\$7,015,670
12	Average Bill													\$26.75
13	RES WW ONLY												750	\$6,880
15	Gallonage Charge/MC	189		2/	\$3,956	54		2/	\$1,161	81		2/	\$1,763	\$0.800
16	All Gallonage		_ 0	\$0.00	\$0		_ 0	\$0.00	<u>\$0</u>		0	\$0.00	\$0	\$6,880
17	Total	189			\$3,956	54			\$1.161	B1			\$1,763	\$21.23
18	Average 8ill													\$21.23
19	MULTI-FAMILY	70		.10.00	*050	20		.10 51	*077	20		\$1 2.67	\$418	\$1,647
20	5/8"x3/4"	78		\$12.20	\$952	22		\$12.61	\$277	33		\$31.68	\$760	\$2,972
21	1" 1 1/2"	56		\$30.50	\$1.708	16		\$31.53	\$504	24 174		\$63.37	\$11,026	\$43.162
22		407		\$60.99	\$24,823	116		\$63.04	\$7,313	_		\$101.39	\$4,563	\$17.B36
23	2"	105		\$97.59	\$10,247	30		100.87	\$3.026	45		\$316.83	\$950	\$5,240
2 4 25	4* 6*	12 7		304.96 609.93	\$3,660	2		315.22	\$630	3		\$633.66	\$1,901	\$7,432
	8"	2			\$4,270	2		630.46	\$1.261	3		013.85	\$3,042	\$7,011
2 6 27	Gallonage Charge/MG	_	1	975.88	\$1,952	2	\$1,	008.72	\$2.017	3	\$1	, 010.00	40,042	**,***
	All Gallonage	1	32,898	\$4.15	\$136,527		6,209	\$4.29	\$26,637		10,640	\$4.39	\$46,710	\$209,874
28 29	Total	667	_ 32,030	#4. JD	\$184,139	190	- 0,209	₽ 4.∠y	\$41.665	285	_	₩7.UJ	\$69.370	\$295,174
۲3	IULUI	007			¥104,137	130			C00,194	700			103,070	\$258.47

ő

SCHEDULE: E2.2 Page 2 of 3 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period,

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
Lin	e		<u>istorical Rate</u>		- JUL 1994	t	istorical Rates	AUG	- SEP <u>19</u> 94	H1	storical Rate	es OCT	· DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(M	G) Rates	Revenues	Bills	Consumption(HG)) Rates	Revenues	B111s	Consumption(i	MG) Rates	Revenues	
31	COMMERCIAL													
32	5/8"x3/4"	2,445		\$12.20	\$29,829	70 0		\$12.61	\$8,827	1,046		\$12.67	\$13,253	\$51,909
33	Full 3/4"	296		\$18.30	\$5.417	84		\$18.92	\$1,589	122		\$19.01	\$2,319	\$9,325
34	1*	433		\$30.50	\$13,207	134		\$31.53	\$4,225	201		\$31.68	\$6,368	\$23,800
35	1 1/2"	359		\$60.99	\$21.895	104		\$63.04	\$6,556	157		\$63.37	\$9,949	\$38,400
36	2*	518		\$97.59	\$50,552	154	:	100.87	\$15,534	237		\$101.39	\$24,029	\$90,115
37	3"	117		\$195.18	\$22,836	34	:	201.75	\$6,860	49		\$202.77	\$9,936	\$39,632
38	4*	91		\$304.96	\$27,751	26	:	\$315.22	\$8,196	39		\$316.83	\$12,356	\$48,303
39	6"	14		\$609.93	\$8,539	4	:	630.46	\$2.522	6		\$633.66	\$3,802	\$14,863
40	8*	14		\$975.88	\$13,662	4	\$1.	.008.72	\$4,035	8	1	1,013.85	\$8,111	\$25,808
11	10*	5	\$	1,402.83	\$7,014	2	\$1.	450.04	\$2,900	3		1,457,41	\$4,372	\$14,286
12	Gallonage Charge/MG												**/**	717,200
13	All Gallonage		219,489	\$4.15	\$910,879		80,574	\$4.29	\$345,662		91,952	\$4.39	\$403,669	\$1,660,210
14	Total	4,292	-		\$1,111,581	1,246	-		\$406,906	1,868			\$498,164	\$2,016,651
15	Average Bill													\$272.30
46	PUBLIC AUTHORITY													
47	1 1/2"	7		\$60.99	\$427	2		\$63.04	\$126	3		\$63.37	\$190	6743
48	Gallonage Charge/MG	•		•4•155	4121	_		******		J		300.07	*150	\$74 3
49	All Gallonage		238	\$4.15	\$988		51	\$4.29	\$219		59	\$4.39	\$259	\$1,466
50	Total			7	\$1,415	2	_	41.65	\$345			3 7.03	\$449	\$2,209
51	Average 8111	·			72,120	-			70.0	•			*****	\$2,209 \$184.08
<i>,</i> -	Arci ago o i i i													\$104,PB
52 53	EFFLUENT 5/8"x3/4"	63		\$0.00	\$0	18		\$0.00	\$0	27		40.00		
	Gallonage Charge/MG	53		30.00	∌U	18		30.00	30	21		\$0.00	\$0	\$0
54 55	All Gallonage		4,536	\$0,06	\$970		1,296	\$0.06	¢70		3 044	AO OF	***-	
-	•	63	4,536	30,00	\$27 <u>2</u> \$272	18	_ 1,250	₩.03	<u>\$78</u>	27	1,944	\$0.06	\$117	\$467
56	Total	63			32/2	18			3/6	21			\$117	\$467
57	Average Bill													\$4.32

æ

SCHEDULE: E2-2 Page 3 of 3 Preparer: Bencim

Supporting Schedule: E2-3

Company: SSU /TOTAL COMPANY/ PRESENT UNIFORM

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform(x) FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If	<u>a rate change occurred</u>	during	the test <u>yea</u> r.	a revenue	calculation must b	e made for e	ach period.	-						
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
Lin	e	Н	listorical Rate:	s JAN	- JUL 1994	н	isto <u>rical Ra</u> tes	AUG	· SEP 1994	Н	istorical Rate	s OCT	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(M	G) Rates	Revenues	Bills	Consumption(MG) Rates	Revenues	B111s	Consumption(H	G) Rates	Revenues	
_				- —							· 			
58	22													
59	5/B"x3/4"	21		\$12.20	\$256	6		\$12.61	\$76	9		\$12.67	\$114	\$446
60	1"	21		\$30.50	\$641	6		\$31.53	\$189	9		\$31.68	\$285	\$1,115
61	1 1/2"	14		\$60.99	\$854	4		\$63.04	\$252	6		\$63.37	\$380	\$1,486
62	2*	21		\$97.59	\$2,049	6		\$100.87	\$605	9		\$101.39	1913	\$3,567
63	Gallonage Charge/MG													
64	All Gallonage		22,769	\$4.15	\$94,49 <u>1</u>		6.158	\$4.29	\$26,418		8.130	\$4.39	\$ 35, <u>6</u> 91	\$156,600
65	Total	77	_		\$98,291	22	_		\$27,540	33			\$37.383	\$163,214
66	Average Bill													\$1,236.47
67	TOTAL HIST. 3/	157,060	915,997		\$5,451,978	45,524	265,904		\$1,646,818	68,779	372.806		\$2,401,469	\$9,500,265
68	INDEXING-RATE CHANGE		220,237		20,-02,570	70,024	203,304		41,0.3,010	32,773				\$300,688
69	TOTAL 1994 ANNUALIZE		REVENUE 4/											\$9,800,953

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

2/ Rates for RES WHY ONLY vary by plant.

3/ Oifference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

4/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: Numbers may not the to other schedules due to rounding.

891

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Summery of Revenue Recordilation

FPSC

Company: SSM FPSC Jurisdiction/ Present Uniform Docket No: 950495-WS Schedule Year Ended 12/31/94 Water | Wasterrase(x) internit | Final[] Historical[x] Projected[] FPSC Union(x) [PSSC Non-uniform() FPSC Non-unidom()

SCHEDULE: E2-3 Page 1 of 1 Proparer: Bencini Recap Schedules: E2-1, E2-2

Explanation: Provide a schedule to reconcile the difference between calculated and booked revenues.

	Marc Flores & Energy & localine on delay		(1)		(2)	(3)		(4)	(5)	(6)	(7)		(6)		(9)		(10)
Line No.	PLANT		INDEXING- TE CHANGE 1/		CATCH UP	EXCESS REPUND ACCRUAL 3/		ZERO USAGE 4/	OUT OF PERIOD ADJUSTMENTS 6/	BILLING CYCLE CONVERSIONS 6/	RATE MISCODES 7/	AD	TOTAL		E2-1 FFERENCE W	٧	EXPLANED FARIANCE AMOUNT
Peter			L OFFICE II	_	DELLING D		_	DOMUE 4	WOODS INCHES O	CONVENDIONS		_~~	OCCUPATION OF		TO LOCK		
1	AMELIA ISLAND	\$	{35,132.00}			\$ 4,293.08	\$	(36, 180.57)				\$	(67,019.49)	\$	70,984.72	8	3,945.23
2	APACHE SHORES	\$	(654.00)			\$ 109.69	8	458.21				\$	(86.10)	\$	(63.63)	8	(149.73)
3	APPLE VALLEY	\$	(1,806.00)			\$ 331.22						\$	(1,574.78)	\$	1,662.44	\$	87.66
4	BEACON HILLS	\$	(38,828.00)			\$ 5,712.09						\$	(33,115.91)	\$	29,913.08	8	(3,202.85)
5	BEECHER'S POINT	\$	(401.00)	\$	648.18	\$ 54.85						\$	302.03	\$	(242.07)	8	51.96
6	BURNT STORE	\$	(6,253.00)			\$ 679.79						8	(5,573.21)		7,322.51	8	1,749.30
7	CHULUOTA		{1,323.00}	8	3,694.83	\$ 216.14							2,557.97		(2,465.30)	8	122.67
a	CITRUS PARK		(2,897.00)			\$ 396.57						\$	(2,300.43)	÷	3,249.20	\$	848.85
9	CITRUS SPRINGS		(8,092.00)			\$ 985,40							(5,108.60)		6,267.36		1,180.76
10	DELTONA		(53, 180.00)			\$ 7,959.63						\$	(45,220.17)	\$	55,597.40		10,377.32
11	FISHERMAN'S HAVEN		(1,376.00)			\$ 201.96							(1,174.04)	\$	1,683.51		509.47
12	FL CENTRAL COMMERCE PARK	\$	(3,270.00)			\$ 539.18							(2,730.82)		3,271.35		540.53
13	FOX RUN	\$	(1,137.00)			\$ 172.66							(984.14)		977.86		13.72
14	HOLIDAY HAVEN	5	(719.00)			\$ 118.68							(600.12)		874.90		74.78
15	JUNGLE DEN		(761.00)			\$ 124.30							(636.70)		726.80	8	92,10
16	LEILANI HEIGHTS	8	(4,652.00)			\$ 765.53						8	(3,698.17)		4,372.29	8	486.12
17	LEISURE LAKES(COVERED BRIDGE)		(1,747.00)	8	4,723.78	\$ 266.67							3,243,45		(3,093.62)	\$	149.53
18	MARCO SHORES		(2,951.00)		,	\$ 429.65	8	(74.08)					(2,595.43)		2,234.63		(360.60)
19	MARION OAKS		(12,275.00)			\$ 1,671,67	•	4				\$	(10,403,33)		12,817.30	8	2,513.97
20	MEREDITH MANOR		(426.00)			\$ 57.89						i	(358.11)		468.66		110.57
21	MORNINGVIEW		(394.00)			8 62.53						1	(331.47)		400.37	8	68.90
22	PALM PORT	i	(913.00)			\$ 141.58						i	(771.42)		886.07	8	(83,35)
23	PALM TERRACE	i	(8,764.00)			\$ 1,359,30						i	(7,404.70)		0,130,99	Š	734.29
24	PARK MANOR		(486.00)			\$ 83.08							(422.92)		534.94	\$	112.02
25	POINT O' WOODS	i	(1,192.00)			\$ 65.25						i	(1,086.75)		1.233.57	š	136.62
26	SALT SPRINGS	i	(2,620.00)			\$ 314.32						i	(2,305.68)	š	2,181.80	Š	(114.08)
27	SILVER LAKE DAKS	ì	(222.00)			\$ 34.57						i	(187.43)		267.06	Š	79.62
28	SOUTH FORTY	i	(1,420.00)			\$ 164.70						i	(1,255.30)	•	1,443.01	š	187.71
29	SUGAR MOLL	i	(5,338.00)			\$ 810.35						i	(4,527.65)	•	4,839.82		311.97
30	SUGARMALI WOODS	i	(25,416.00)			\$ 3,450.03						i	(21,965,97)	i	27,900.58		5,834,61
31	SUNNY HILLS		(1,614.00)			\$ 122.39						i	(1,491.61)	i	1,740.66	š	248.05
32	SUNSHINE PARKWAY	i	(3,532.00)	1	10,435.47	\$ 252.94						i	7,156.31	š	(7,209.55)	š	(53.24)
33	UNIVERSITY SHORES	i	(49,793.00)	ī	121,359.48	\$ 6,977.24						i	78,543.72	Ĭ	(81,732.86)	•	(3,189.14)
34	VENETIAN VILLAGE	ï	(969.00)	•	-6 1,000-10	\$ 134.90						ī	(734.10)	•	131.21	š	(602.89)
35	WOODMERE		(19,099.00)			\$ 3,225.81						ī	(15,873.39)	•	16, 192, 48	š	319.07
36	ZEPHYR SHORES		[3,254.00]			\$ 339.45							(2,914.55)	Š	3,001.76	š	87.21
- 50	Total FPSC Present Uniform 10/	+	(300,706.00)	ŧ	140,861.73	\$ 42,845.69	\$	(35,796.44)	. 2	\$ -	\$ -	÷	(152,795.01)	÷	176,223.25	-	23,428,23

^{1/ &}quot;Indicating - Rate Change" is the amount of revenue attributed to annualizing rates which resulted the the 1994 index and Pass through titing. This column accounts for the difference between the annualized indexed revenues and the revenues billed in effect prior to the indicating.

²º "Catch-Up Billing" is the amount of revenue attributed to the difference between booked and annuatized revenues as the result of having an extra billing cycle (consumption only) in 1993 in order to have our read date and bill date fall within ten days of one another. Some of these bills were booked in January of 1694 which is not reflected in our annualized revenues.

^{3/ &}quot;Excess Refund Accrue" is the amount of revenue attributed to an over accrual of refund amount made for Docket No. 920199-WS.

^{4 &}quot;Zero Usage" amounts are billing adjustments such as credits, debits for back bills, etc. These adjustments have no associated usage on the billing analysis, but have revenues shown on our books.

^{5/ &}quot;Out of Period Adjustments" are zero usage type of adjustments that posted in 1994 to correct for a prior calendar year.

^{6/ &}quot;Billing Cycle Conventions" relates to revenues associated with converting the billing cycle from bi-monthly to monthly to Tropical isles sewer customers in 1994.

^{77 &}quot;Rate Miscodes" relates to an erroneous infigation charge to a Marco Shores customer that was not corrected in the billing system or general tedger. However, this was corrected in the billing analysis.

^{6/ &}quot;Total Adjustments" is the sum of columns 1 - 7.

^{9/ &}quot;E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.

¹⁰f Total may not tile to other exhedules due to rounding at the plant level vs. the nummary level.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Wastewater Customer Monthly Billing - 1994

FPSC

Company: SSU/ Total Company/ Present Uniform

SCHEDULE: E-3
Page 1 of 1

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x]

Preparer: Bencini

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[x] FPSC Non-uniform[] FPSC Non-jurisdiction[]

Explanat	ion: Provide a s	schedule of monthl	y customers billed	or served by	class.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	General	Private Fire	Other		
No.	<u>Year</u>	Residential	Dwelling	Service	Protection	(List) 1/	<u>Total</u>	
1	JAN94	21.401	96	614	0	49	22.160	
2	FEB94	21,440	96	609	0	49	22,194	
3	MAR94	21,709	94	607	0	48	22,458	
4	APR94	21,733	95	616	0	47	22.491	
5	MAY94	21,783	95	613	0	47	22,538	
6	JUN94	21,810	95	615	0	48	22,568	
7	JUL94	21,889	96	618	0	48	22,651	
8	AUG94	22,034	95	626	0	48	22.803	
9	SEP94	21.958	95	620	0	48	22.721	
10	OCT94	22.121	95	623	0	48	22.887	
11	NOV94	22,162	95	620	0	48	22,925	
12	DEC94	22,199	95	625	0	48	22,967	
13	TOTAL	262,239	1.142	7,406	0	576	271.363	
14	MTH. AVE	21.853	95	617	0	48	22,614	

NOTE: May not tie to other schedules due to monthly rounding.

1/ Includes Effluent, Public Authority, Residential Wastewater Only and Special Contracts.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGES - 1994

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-4 Page 1 of 1

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/94

Water [] Wastewater [x] Interim [] Final [] Historical (x) Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

	(1)	(2) Present Ra	ates		3) d Rates 1/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge	\$15.00 or 5% of the amoun of the chec whichever greater.	ck,	N/A	N/A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

SCHEDULE OF MISCELLANEOUS SERVICE CHARGE REVENUES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [X]
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [X] FPSC Non-uniform [] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1

Preparer: Bencini

	(1)	(2)	(3) Present	(4)	 (5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rates	Units	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

898

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

FPSC Uniform [x] FPSC Non-Uniform [] FPSC Non-Jurisdiction []

Explanation: Provide a schedula of public fire hydrants (including standpipes etc.) by size.

This summer	y is not required for a sewer onl	v rate application.
-------------	-----------------------------------	---------------------

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement	Number	of Standard	Type Public Fi	ire Hydrants I	y Pipe Size C	connecting the	e Hydrant	
No.	Plant Name	County	Status	(GPM)	4-	8-	8-	10"	12"	14"	Total	Notes

This Schedule is not applicable for Wastewater.

SCHEDIII E	OF DRIVATE FIRE	PROTECTION SERVICE -	1994
SCHEDULE	OF PRIVATE FIRE	FRUIECIION SERVICE -	

FPSC

(11)

(12)

(13)

(14)

Company: SSU / Total Company / Present Uniform

Schedule E-7 Page 1 of 1

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of private fire protection service by size of connection.

(2)

(3)

This schedule is not required for a wastewater only rate application.

(1)

Size and Type:

(7)

(6)

(5)

 No.
 Plant
 Risers:
 Double Check Valves:
 Combined

 2" 4" 6" 8" 10" Total
 2" 4" 6" 8" 10" Total
 Total

Private fire protection service is not applicable to wastewater plants.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [X] Wastewater [X]
Interim [] Final []
Historical [X] Projected []

FPSC Uniform [X] FPSC Non-uniform [] FPCS Non-jurisdiction []

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	MEREDITH MANOR:	
2		
3	Kennedy, Newton	Utility easement granted in exchange for water service at no charge.
4	Customer # 003182	
5	DIMEY MOODS.	
6 7	PINEY WOODS:	
8	Caldwell, Charles	Utility easement granted in exchange for water service at no charge.
9	Customer # 001385	Unity epopulating grantest an exchange for water solved at the charge.
10	Casamar R 65 (50)	
11	UNIVERSITY SHORES:	
12		
13	City of Winter Park, Fontana Apartments	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
14	Customer # 006151	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
15		
18	City of Winter Park, Laurel Springs	Pursuant to Agreement between City of Winter Park, Tompkins Land and Housing
17	Customer # 006150	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
18		
19	City of Winter Park, Uni Gold	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
20	Customer # 96793	Inc, and SSU: City of Winter Park is billed 70% of water consumption for sewer.
21 22	Hunter's Ridge Association, LTD	Pursuant to Agreement between City of Winter Park, DCB Investment Co.
23	(9 accounts)	Inc. and SSU: City of Winter Park is billed 70% of water consumption for sewer.
23	Customer # 94522, 94523	ing and door, dry of vinter rance rays of trade design poor for design.
24	94524, 94525, 94526,	
25	94527, 94528, 94529,	
26	'94530	
27		
28	WOODMERE:	
29		
30	Park Recreation & Entertainment	Pursuant to Agreement between Woodmere Utility Co. Inc. and University Country
31	Customer # 007906	Club: \$100 monthly credit for water and sewer service, booked as easement rental.

FPSC Schedule: E-8 Page 1 of 1 Preparer: Bencini

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / Present Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] or Wastewater [x] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line No.	(2) Plant	(3) County	(4) Type of Tax or Fee	(5) To Whom Paid	(6)	(7) How Collected From Customers	(8) Type of Agreement
1	Total Company	FPSC Juris.	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

SERVICE AVAILABILITY CHARGES SCHEDULE - 1994

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-10

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water[] Wastewater[x]
Interim[] Final[]

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	

Please see separate Service Availability Schedules, Volume VIII.

206

GUARANTEED REVENUES RECEIVED - 1994

FPSC

Company: SSU / Total Company / Present Uniform

Schedule E-11

Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual baais by class.

(1) (2) (3) (4) (5) (6)

Line For the General No. Year Ended Residential Service

Service Other

Total

This schedule is not applicable.

8

Š

CLASS A UTILITY COST OF SERVICE STUDY - 1994 Industrial Customers

Company: SSU / Total Company / Present Uniform

Schedule E-12 Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

Company: SSU / Total Company / Present Uniform

Docket No: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [x] FPSC Non-uniform [] FPSC Non-jurisdiction []

FPSC

Schedule E-13 Page 1 of 1 Preparer: Bencini

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection fac	ctor on a separate schedule, it necessary.	List other classes or meter sizes as applicable.		
(1)	(2) (3) (4)	(5) (6) (7)	(8) (9)	(10) (11)
	Number of Bills	Consumption (MG)	Schadule `	Yaar Revenues
Line	Projection Projected	Projection Projected	Present	Proposed
No. Class/Meter Size	Historical Factor Schedule Year	Historical Factor Schedule Year	Rates Revenue	Rates Revenue

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Charlotte / Deep Creek

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule: E1-1 Page 1 of 5 Preparer: Bencini

FPSC

	(1)	(2)	(3)
Line		Present	Proposed
No.	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL		
1	All Meter Sizes	\$19.40	N/A
'	GALLONAGE CHARGE / MG:	\$15.40	IVA
2	0 - 10,000	\$3.97	N/A
3	All Excess Gallons	No Charge	INA
3	All Excess Gallons	No Charge	
	GENERAL, MULTI-FAMILY SERVI	CES	
4	5/8"x3/4"	\$19.40	N/A
5	3/4"	\$19.40	N/A
6	1"	\$48.52	N/A
7	1 - 1/2"	\$97.02	N/A
8	2"	\$155.25	N/A
9	3 ^M	\$310.50	N/A
10	4 "	\$485.17	N/A
11	6"	\$970.31	N/A
12	8"	\$970.31	N/A
	GALLONAGE CHARGE / MG:		
13	All Gallonage	\$4.75	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Volusia / Enterprise

FPSC

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected [] Schedule: E1-1 Page 2 of 5 Preparer: Bencini

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2)	(3)
Line		Present	Proposed
<u>No.</u>	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL		
1	All Meter Sizes	\$13.11	N/A
	GALLONAGE CHARGE / MG:		
2	0 - 10,000	\$3.01	N/A
3	All Excess Gallons	No Charge	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Lee / Lehigh FPSC

Docket No.: 950495-WS Schedule: E1-1
Schedule Year Ended: 12/31/94 Page 3 of 5
Water [] Wastewater [x] Preparer: Bencini

Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2)	(3)
Line		Present	Proposed
<u>No.</u>	Class/Meter Size	Rates	Rates 1/
	RESIDENTIAL		
1	All Meter Sizes	\$15,45	N/A
•	GALLONAGE CHARGE / MG:	\$10.40	1471
2	0 - 6,000	\$3.86	N/A
3	All Excess Gallons	No Charge	N/A
•	THE EXCOSO CENTRE	no onargo	14.1
	RESIDENTIAL WASTEWATER ON	<u>LY</u>	
4	All Meter Sizes	\$27.81	N/A
	GENERAL SERVICE		
5	5/8"x3/4"	\$15.45	N/A
6	3/4"	\$23.18	N/A
7	1"	\$38.64	N/A
8	1 - 1/2"	\$77.27	N/A
9	2"	\$123.63	N/A
10	3"	\$247.27	N/A
11	4"	\$386.35	N/A
12	6"	\$772.71	N/A
13	8"	\$1,236.34	N/A
14	10 "	\$1,777.23	N/A
	GALLONAGE CHARGE / MG:		
15	Alt Gallonage	\$4.63	N/A
16	<u>EFFLUENT</u> GALLONAGE CHARGE / MG:		
17	All Gallonage	\$0.11	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected [] FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction [] Schedule: E1-1 Page 4 of 5 Preparer: Bencini

FPSC

	(1)	(2)		(3)
Line		Present		Proposed
<u>No.</u>	Class/Meter Size	Rates		Rates 1/
	DECIDENTIAL			
	RESIDENTIAL	e11 10		N/A
1	All Meter Sizes	\$11.10		N/A
•	GALLONAGE CHARGE / MG:	***		
2	0 - 10,000	\$3.20		N/A
3	Ali Excess Gallons	No Charge		N/A
	GENERAL, MULTI-FAMILY SERVICE	CES.		
	BULK WASTEWATER			
4	5/8"x3/4"	\$11.10		N/A
5	3/4"	\$16.65		N/A
6	1"	\$22.20		N/A
7	1 - 1/2"	\$55.51		N/A
8	2"	\$88.81		N/A
9	3 ^u	\$177.62		N/A
10	4"	\$277.54		NA
11	6"	\$555.08		N/A
12	8"	\$888.12		NA
13	10"	\$1,276.68		N/A
	GALLONAGE CHARGE / MG:	V 1,01 0100		
14	All Gallonage	\$3.85		N/A
	EFFLUENT			
	GALLONAGE CHARGE / MG:			
15	All Gallonage	\$0.25		N/A
13	All Gallottage	40.23		WA
	MULTI-FAMILY NON-METERED			
16	3"	\$26.80	per unit	N/A
		\$2,010.00	(75 units)	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

Company: SSU / St. Lucie / Tropical Isles

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)
Line		Present	Proposed
No.	Class/Meter Size	Rates	Rates 1/
	· · · · · · · · · · · · · · · · · · ·		
	RESIDENTIAL WASTEWATER ONLY		
1	Flat Rate	\$13.33	N/A

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

FPSC

Schedule: E1-1 Page 5 of 5

Preparer: Bencini

THIS PAGE INTENTIONALLY LEFT BLANK

913

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 1 of 10
Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
1		-	1994 HISTORICAL	(PRESENT_R	ATES)		PROPOSED	_1/	
Line No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	_ Revenues
1	RESIDENTIAL								
2	5/8"x3/4"	34,333		\$19.40	\$666,060				
3	1"	573		\$19.40	\$11,116				
4	Gallonage Charge/MG								
5	0-10000		169.044	\$3.97	\$671,105				
6	All excess 2/		13.974	\$0.00					
7	Total RESIDENTIAL	34.906	169,044		\$1,348,281	N/A	N/A		N/A
8	Ave cust/cons/bill/mth	2.909	4.843		\$38.63				
9	MULTI-FAMILY								
10	5/8"x3/4"	9		\$19.40	\$175				
11	1"	255		\$48.52	\$12,373				
12	1 1/2"	313		\$97.02	\$30,367				
13 14	2*	168		\$155.25	\$26,082				
14	6"	12		\$970.31	\$11,644				
15	Gallomage Charge/MG								
16	All Gallonage		31 .199	\$4.75	\$148,195				
17	Total MULTI-FAMILY	757	31,199		\$228,836	N/A	N/A		N/A
18	Ave cust/cons/bill/mth	63	41.214		\$302.29				

SCHEDULE OF MASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/CHARLOTTE / DEEP CREEK

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 2 of 10 Preparer: 8encini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(2) (5) (1) (3) (4) (9) (10) 1994 HISTORICAL (PRESENT RATES) PROPOSED 1/ Line Class/Meter Size Bills Bills Consumption(MG) No. Consumption(MG) Rate Revenues Rate Revenues 19 COMMERCIAL 5/8"x3/4" 20 212 \$19.40 \$4.113 21 62 \$48.52 \$3,008 22 23 24 25 38 \$97.02 1 1/2" \$3,687 12 \$155.25 \$1,863 3" 12 \$310,50 \$3,726 6" 24 \$970.31 \$23,287 26 12 \$970.31 \$11.644 27 Gallonage Charge/MG 28 All Gallonage 13,484 \$4.75 \$64,049 372 29 Total COMMERCIAL 13.484 \$115,377 N/A N/A N/A Ave cust/cons/bill/mth 36.247 \$310,15 TOTAL ANNUALIZED SALES REVENUES \$1,692,494 UNBILLED REVENUE \$26,591 33 OTHER REVENUE 3/ \$0 \$1,719,085 TOTAL REVENUES N/A TOTAL BOOKED REVENUES \$1,252,063 DIFFERENCE 4/ \$467,022

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 B-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/VOLUSIA / ENTERPRISE

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 3 of 10 Preparer: Bencini

Supporting Schedules: E2-2. E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period. (1) (2) (3) (4) (5) (7) (9) (10)

			1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1 2 3 4 5 6 7 8	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG 0-10000 All excess 2/ Total RESIDENTIAL Ave cust/cons/bill/mth	1,438 95 1,533 128	9,007 1,017 9,007 5,875	\$13.11 \$13.11 \$3.01 \$0.00	\$18,852 \$1,245 \$27,111 \$0 \$47,208 \$30.79	N/A	N/A		N/A
9 10 11 11 12 13	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES TOTAL 800KED REVENUES DIFFERENCE 4/	REVENUES			\$47,208 \$2,083 \$0 \$49,291 \$48,982 \$309		,		N/A

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 B-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1
Page 4 of 10

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	ATES)	PROPOSED 1/			
No.	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(HG)	Rate	Revenues
1 2 3 4	RESIDENTIAL 5/8"x3/4" 1" Gallonage Charge/MG	78,238 10		\$15.45 \$15.45	\$1,208,777 \$155				
5 6 7 8	0- 6000 All excess 2/ Total RESIDENTIAL Ave cust/cons/bill/mth	78,248 6,521	214.014 30.835 214.014 2.735	\$3.86 \$0.00	\$826,094 \$0 \$2,035,026 \$26.01	N/A	N/A		N/A
9 10 11 12 13 14	RES WW ONLY 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RES WW ONLY Ave cust/cons/bill/mth	69 69	0 0 000	\$27.81 \$0.00	\$1,919	N/A	N/A		N/A
15 16 17 18 19 20 21 22 23	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" 4" 6" Gallonage Charge/MG	2.062 477 246 285 65 12		\$15.45 \$38.64 \$77.27 \$123.63 \$247.27 \$386.35 \$772.71	\$31.858 \$18.431 \$19.008 \$35.235 \$16.073 \$4.636 \$9.273	·			
24 25 26	All Gallonage Total COMMERCIAL Ave cust/cons/bill/mth	3,1 <u>59</u> 263	59,170 59,170 18,731	\$4.63	\$273.957 \$408.471 \$129.30	N/A	N/A		N/A

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/LEE / LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 5 of 10 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	NTES)		PROPOSED	1/	
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
27	EFFLUENT								
28	5/B"x3/4"	12		\$0.00	\$0				
29	Gallonage Charge/MG								
30	All Gallonage		149,480	\$0.11	\$16,443				
31	Total EFFLUENT	12	149,480		\$16,443	N/A	N/A		N/A
32	Ave cust/cons/bill/mth	1	12456.7		\$1,370.25				
33	TOTAL ANNUALIZED SALES	REVENUES			\$2,461,859				
34	UNBILLED REVENUE				\$82,285				
35	OTHER REVENUE 3/				\$25				
35	TOTAL REVENUES				\$2,544,169				N/A
36	TOTAL BOOKED REVENUES				\$2,520,863				
37	DIFFERENCE 4/				\$23,306				

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 8-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

FPSC

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[] SCHEDULE: E2-1 Page 6 of 10 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	
			1994 HISTORICAL	(PRESENT R	ATES)	 	PROPDSED	1/		
<u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues	
1	RESIDENTIAL									
2	5/8"x3/4"	13,164		\$11.10	\$146,120					
3	1" 1 1/2"	5.747 24		\$11.10	\$63,792 \$266					
4 5	Gallonage Charge/MG	24		\$11.10	\$200					
6	0-10000		85,443	\$3.20	\$273,418					
7	All excess 2/		77,438	\$0.00	\$0					
8	Total RESIDENTIAL	18,935	85,443		\$483,596	N/A	N/A		N/A	
9	Ave cust/cons/bill/mth	1,578	4.512		\$25.54					
10	MULTI-FAMILY									
10 11	5/8"x3/4"	12		\$11.10	\$133					
11 12	1"	12 24		\$22.20	\$533					
13	1 1/2"	194		\$55.51	\$10,769					
13 14 15 16 17	2*	602		\$88.81	\$ 53,464		,,			
15	3"	296		\$177.62	\$52,576					
16	4"	324		\$277.54	\$89,923					
	6"	32		\$555.08	\$17,763					
18	Gallonage Charge/MG		270,447	\$3.85	\$1,041,221					
19 20	All Gallonage Total MULT1-FAMILY	1,484	270,447	3 3.05	\$1,266,382	N/A	N/A		N/A	
21	Ave cust/cons/bill/mth	124	182.242		\$853.36					

912

919

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 7 of 10

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	
			1994 HISTORICAL	(PRESENT R	ATES)		PROPOSED	1/		_
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	<u>8111s</u>	Consumption(MG)	Rate	Revenues	
22	COMMERCIAL									
23	5/8"x3/4"	1.181		\$11.10	\$13,109					
24	1*	757		\$22.20	\$16,805					
25	1 1/2"	320		\$55.51	\$17,763					
25 26	2"	144		\$88.81	\$12.789					
27	3"	12		\$177.62	\$2,131					
28 29	4*	24 24		\$277.54	\$6,661					
29	6"	24		\$555.08	\$13,322					
30	Gallonage Charge/MG									
31	All Gallonage		171,349	\$3 .85	\$659,694					
3 2	Total COMMERCIAL	2,462	171.349		\$742,274	N/A	N/A		N/A	
33	Ave cust/cons/bill/mth	205	69.597		\$301.49					
34	COM WW ONLY									
35	1*	12		\$22,20	\$266		,			
36	Gallonage Charge/MG									
37	All Gallonage		1,148	\$3.85	\$4,420					
38	Total COM WW ONLY	12	1,148		\$4,686	N/A	N/A		N/A	
39	Ave cust/cons/bill/mth	1	95.667		\$390.50					

FPSC

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

SCHEDULE: E2-1 Page 8 of 10 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period. (3) (4) (5) (9) (10)

			1994 HISTORICAL (<u>Present r</u>	ATES)	PROPOSED 1/			
Line <u>No.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	<u>8111s</u>	Consumption(MG)	Rate	Revenues
4 0 41	EFFLUENT 1 1/2"	6		\$0.00	\$0				
42	2"	15		\$0.00	\$0				
43	3-	3		\$0.00	\$0				
42 43 44	8"	12 12		\$0.00	\$0				
45	10"	12		\$0.00	\$ 0				
46	Gallonage Charge/MG		145 500	A0 05	ADC 200				
47 48	All Gallonage Total EFFLUENT	48	<u> </u>	\$0.25	\$36,398 \$36,398	41/4	N/A		
49	Ave cust/cons/bill/mth	- 40	3033.13		\$758.29	N/A	N/A		N/A
43	WAS CORPLECIENT IN HIGH	7	3033,13		\$730.23				
50	MF NON-METERED								
51	3"	12	\$2	,010.00	\$24,120				
52	Gallonage Charge/MG				••				
53	All Gallonage Total MF NON-METERED		0	\$0.00	\$0 \$24,120				
54 5 5	Ave cust/cons/bill/mth	12	0.000		\$2,010.00	N/A	N/A		N/A
55	AVE COSC/CONS/DITIONICH	1	0.000		\$2,010.00				
56 57	BULK SEWER								
57	1"	2		\$22.20	\$44				
58	4"	84		\$277.54	\$23,313				
59	Gallonage Charge/MG		95,060	\$3.85	\$365,981				
60 61	All Gallonage Total BULK SEWER	86	95,060	3 3.03	\$389,338	N/A	N/A		- N/A
62	Ave cust/cons/bill/mth	86	1105.35		\$4,527.19		1977		N/A
		•			,				

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/COLLIER / MARCO ISLAND

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

921

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 9 of 10 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calc	ulation of rever	nues at present a	ind proposed	rates using the bill	ing analysis. Explain a	ny differences			
between these revenues and	booked revenues.	. If a rate char	ige occured	during the test year.	a revenue calculation	must be made for <u>ea</u>	ch period.		
(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)	
		1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/		
No. Class/Meter Size	8111s	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues	

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 B-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/ST. LUCIE / TROPICAL ISLES

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

Total RES WW ONLY

UNBILLED REVENUE

OTHER REVENUE 2/

10 TOTAL BOOKED REVENUES

TOTAL REVENUES

6 Ave cust/cons/bill/mth

TOTAL ANNUALIZED SALES REVENUES

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-1 Page 10 of 10 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

N/A

N/A

						ing analysis. Explain a a revenue calculation		ch period.	
	(1)	(2)	(3)	(4)	(5)	(7)	(8)	(9)	(10)
14			1994 HISTORICAL	(PRESENT RA	TES)		PROPOSED	1/	
No	Class/Meter Size	<u>Bills</u>	Consumption(MG)	Rate	Revenues	Bills	Consumption(MG)	Rate	Revenues
1	RES WW ONLY								
2	5/8"x3/4"	2,629		\$13.33	\$35,045				
3	Gallonage Charge/MG		•		**				
4	All Gallonage		Ū	\$0.00	\$0				

\$13.33

\$35,045

\$-2,348 \$165

\$32,862

\$35,168

N/A

N/A

¹¹ DIFFERENCE 3/

1/ Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} Refer to the 1994 8-4 schedule for detail of other revenue.
3/ Refer to the 1994 E2-3 schedule for reconciliation of difference.

Company: SSU /CHARLOTTE /DEEP CREEK
Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

SCHEDULE: E2-2 Page 1 of 9 Preparer: Bencini

Supporting Schedule: E2-3

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

		(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	
Lin			istorical Rates		- JAN 1994		<u>listorical Rates</u>		- DEC 1994	Tot 1994 Hist Rev	
No.	Class/Meter Size	B111s	Consumption(MG) Rates	Revenues	B111s	Consumption(MG)	Rates	Revenues		
1	RESIDENTIAL										
2	5/8"x3/4"	2.822		\$3.18	\$8,974	31,511		\$6.36	\$263,432	\$272,406	
3	1*	48		\$3.18	\$153	525		\$8.36	\$4,389	\$4,542	
4	Gallonage Charge/MG										
5	0 - 10000		14,855	\$3.31	\$49,170		154,189	\$4.10	\$632.175	\$681,345	
6	All Excess 1/		1,114	\$0.00	<u>\$0</u>		12.860	\$0.DD	<u>\$0</u>	\$0	
7	Total	2.870			\$58,297	32.036			\$899,996	\$958,293	
8	Average Bill									\$27.45	
9	MULT]-FAMILY										
10	5/8"x3/4"					9		\$8.36	\$75	\$75	
11	1"	22		\$7.95	\$175	233		\$20.91	\$4,872	\$5.047	
12	1 1/2"	26		\$15.90	\$4 13	287		\$41.81	\$11,999	\$12,412	
13	2*	14		\$25.44	\$356	154		\$66.90	\$10,303	\$10,659	
14	6"	1		\$159.00	\$159	11		418.13	\$4.599	\$4,758	
15	Gallonage Charge/MG										
16	All Gallonage		2,112	\$3.97	\$8,385		29,087	\$4.91	\$142,817	\$151, <u>202</u>	
17	Total	63	-		\$9,488	694	_		\$174,665	\$184,153	
18	Average Bill									\$243.27	

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /CHARLOTTE /DEEP CREEK

Docket No: 950495-WS

Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2

Page 2 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	
Lin			istorical Rate:		- JAN 1994		istorical Rate		- DEC 1994	Tot 1994 Hist Rev	
No.	Class/Meter Size	B1115	Consumption(W	G) Rates	Revenues	21118	Consumption()	G) Rates	Revenues		
	-										
19	COMMERCIAL										
20	5/8"x3/4"	18		\$3.18	\$57	194		\$8.36	\$1.622	\$1.679	•
21	1"	5		\$7.95	\$40	57		\$20.91	\$1.192	\$1.232	
22	1 1/2*	3		\$15.90	\$48	35		\$41.81	\$1.463	\$1,511	
23	2"	l		\$25.44	\$25	11		\$66.90	\$736	\$761	
24	3"	1		\$50.88	\$51	11		\$133.80	\$1,472	\$1,523	
2 5	6"	2		\$159.00	\$318	22		\$418.13	\$9.199	\$9.517	
26	8"	1		\$159.00	\$159	11		\$418.13	\$4,599	\$4.758	
27	Gallonage Charge/MG										
28	All Gallonage		1,014	\$3.97	\$4,026		12.470	\$4.91	\$61,228	<u>\$65,254</u>	
29	Total	31	_		\$4,724	341	-		\$81,511	\$86.235	
30	Average Bill									\$231.81	
	-										
31	TOTAL HIST. 2/	2,964	17,981		\$72,509	33,071	195,746		\$1,156,172	\$1,228,681	
32	INDEXING-RATE CHANGE									\$463,813	
33	TOTAL 1994 ANNUALIZE	O SALES I	REVENUE 3/							\$1.692,494	

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

NOTE: Numbers may not tie to other schedules due to rounding.

92

^{2/} Difference from Total Booked Revenues per £2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{3/} Refer to schedule E2-3 for reconciliation of differences.

FPSC

Company: SSU /VOLUSIA /ENTERPRISE Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x]

SCHEOULE: E2-2 Page 3 of 9 Preparer: Bencini

7 Total

925

8 Average Bill

Supporting Schedule: E2-3

Interim(] Final[] Historical(x) Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis, Explain any differences between these revenues and booked revenues.

\$47.208

\$30.79

	(1)	(2)	(3)	(4)	(5)	(6)
Line	!	#	listorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(HG)	Rates	Revenues	
1	RESIDENTIAL					
2	5/8"x3/4"	1.438		\$13.11	\$18,852	\$18,852
3	1"	95		\$13.11	\$1,245	\$1,245
4	Gallonage Charge/MG					
S	0 - 10000		9,007	\$3.01	\$27,111	\$27,111
6	All Excess 1/		1.017	\$0.00	\$0	\$0

If a rate change occurred during the test year, a revenue calculation must be made for each period.

9	TOTAL HIST. 2/	1,533	9,007	\$47,208	\$47,208
10	INDEXING-RATE CHANG	iE .			\$0
11	TOTAL 1994 ANNUAL L	FO SALES REV	ENUE 3/		\$47.208

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

\$47,208

2/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues. and partial-month rate changes that are not reflected in Total Historical per this schedule.

3/ Refer to schedule E2-3 for reconciliation of differences.

1.533

NOTE: Numbers may not tie to other schedules due to rounding.

SCHEDULE: E2-2 Page 4 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /LEE /LEHIGH
Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

\$129.30

	(1)	(2)	(3)	(4)	(5)	(6)
.ine		H	istorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
to.	Class/Meter Size	Bills	Consumption(MG) Rates	Revenues	
1	RESIDENTIAL		-			
2	5/8"x3/4"	78,238		\$15.45	\$1,208,777	\$1,208,777
3	1"	10		\$15.45	\$155	\$155
4	Gallonage Charge/MG					
5	0 - 6000		214,014	\$3.86	\$826,094	\$826,094
6	All Excess 1/		30,835	\$0.00	\$0	\$0
7	Total	78.248			\$2,035,026	\$2,035,026
В	Average Bill					\$26.01
9	RES WW ONLY					
0	5/8"x3/4"	69		\$27.81	\$1,919	\$1,919
1	Gallonage Charge/MG	0,5		VL7.01	41,512	**,323
2	All Gallonage		0	\$0.00	\$0	\$0
3	Total	69	-		\$1,919	\$1,919
4	Average Bill					\$27.81
5	COMMERCIAL					
6	5/B"x3/4"	2.062		\$15.45	\$31,858	\$31.858
7	1"	477		\$38.64	\$18,431	\$18.431
8	1 1/2"	246		\$77.27	\$19,008	\$19.008
9	2"	285		\$123.63	\$35,235	\$35.235
0	3"	65		\$247.27	\$16,073	\$16.073
1	4"	12		\$386.35	\$4,636	\$4,636
2	6*	12		\$772.71	\$9,273	\$9,273
3	Gallonage Charge/MG					
4	All Gallonage		59,170	\$4.63	\$273,957	\$273 <u>,9</u> 57
5	Total	3.159	_		\$408,471	\$408,471

326

26 Average 8ill

FPSC

Company: SSU /LEE /LEHIGH
Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 5 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

	(1)	(2)	(3)	(4)	(5)	(6)
Line	•		listorical Rates	JAN	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption(HG)	Rates	Revenues	
27	EFFLUENT					
28	5/8"x3/4"	12		\$0.00	\$0	\$0
29	Gallonage Charge/MG					
30	All Gallonage		149,480	\$0.11	\$16,443	\$16,443
31	Total	12	_		\$16,443	\$16,443
32	Average Bill					\$1,370.25
33	TOTAL HIST. 2/	81,488	422.664		\$2,461,859	\$2,461,859
34	INDEXING-RATE CHANGE					\$0
35	TOTAL 1994 ANNUALIZE	D SALES	REVENUE 3/			\$2,461,859

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

2/ Difference from Total Booked Revenues per £2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

3/ Refer to schedule E2-3 for reconciliation of differences.

927

NOTE: Numbers may not tie to other schedules due to rounding.

SCHEOULE: E2-2 Page 6 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /COLLIER /MARCO ISLAND

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explan any differences between these revenues and booked revenues.

Įf	a rate change (occurred during	the test y	year, a revenue	calculation mus	st be made for	<u>r each period.</u>

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Lin			<u> Ilstorical Rates</u>		- JUL 1994		<u>Historical Rate</u>		- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	B111s	Consumption(MG) Rates	Revenues	B111s	Consumption(M	G) Rates	Revenues	
_										
1	RESIDENTIAL									
2	5/B"x3/4"	7.582		\$11.30	\$85.677	5.582		\$11.40	\$63,635	\$149,312
3	1"	3,409		\$11.30	\$38,522	2.338		\$11.40	\$26.653	\$65,175
4	1 1/2"	14		\$11.30	\$158	10		\$11.40	\$114	\$272
5	Gallonage Charge/MG									
6	0 - 10000		55,645	\$3.26	\$181,403		29,799	\$3.29	\$98,039	\$279,442
7	All Excess 1/		53,767	\$0.00	<u>\$0</u>		23.670	\$0.00	\$0	<u>\$0</u>
8	Total	11.005			\$305,760	7,930			\$188,441	\$494,201
9	Average Bill									\$26 . 10
10	MULTI-FAMILY									
11	5/8"x3/4"	7		\$11.30	\$79	5		\$11.40	\$57	\$136
12	1"	14		\$22.60	\$316	10		\$22.81	\$22B	\$544
13	1 1/2"	112		\$56.50	\$6,32B	82		\$57.02	\$4,676	\$11,004
14	2"	348		\$90.40	\$31,459	254		\$91.23	\$23,172	\$54,631
15	3"	169		\$180.80	\$30,555	127		\$182.47	\$23,174	\$53.729
16	4"	195		\$282.50	\$55,088	129		\$285.11	\$36,779	\$91,867
17	6"	21		\$565.00	\$11,865	11		\$570.22	\$6,272	\$18,137
18	Gallonage Charge/MG									,
19	All Gallonage		187,211	\$3.91	\$731,995		83,236	\$3.95	\$328,782	\$1,060,777
20	Total	866	_		\$867,685	618			\$423,140	\$1,290,825
21	Average Bill									\$869.83

Company: SSU /COLLIER /MARCO ISLAND

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 7 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
ine			<u>fistorical Rates</u>		- JUL 1994		istorical Rates		- DEC 1994	Tot 1994 Hist R
o. —	Class/Heter Size	B+11s	Consumption(HG)	Rates	Revenues	B111s	Consumption(HG)	Rates ——	Revenues	
2	CONNERCIAL									
3	5/8"x3/4"	692		\$11.30	\$7.820	489		\$11.40	\$5,575	\$13,395
	1"	443		\$22.60	\$10.012	314		\$22.81	\$7,162	\$17,174
•	1 1/2"	190		\$56.50	\$10,735	130		\$57.02	\$7,413	\$18,148
,	2*	84		\$90.40	\$7.594	60		\$91.23	\$5,474	\$13,068
,	3"	7	\$	180.80	\$1,266	5	\$	182.47	\$912	\$2,178
	4"	14	\$	282.50	\$3,955	10	\$	285.11	\$2,851	\$6.806
,	6*	14	s	565.00	\$7,910	10	\$	570.22	\$5,702	\$13,612
	Gallonage Charge/MG									
l	All Gallonage		105,002	\$3.91	\$410,558		66,347	\$3.95	\$262,071	\$672,629
2	Total	1.444	_		\$459,850	1,018	-		\$297,160	\$757.010
ļ	Average Bill									\$307.48
	COM WAY ONLY									
	1*	7		\$22.60	\$158	5		\$22.81	\$114	\$272
	Gallonage Charge/MG									
	All Gallonage			\$3 .91	\$2,796		_ 433	\$3.95	\$1,710	<u>\$4,506</u>
	Total	7			\$2,954	5			\$1.824	\$4 .778
	Average Bill									\$398.17
,	EFFLUENT									
	1 1/2*	1		\$0.00	\$0	5		\$0.00	\$0	\$0
	2*	13		\$0.00	\$0	2		\$0.00	\$0	\$0
	3*					3		\$0.00	\$0	\$0
	8"	7		\$0.00	\$0	5		\$0.00	\$0	\$0
	10"	7		\$0.00	\$0	5		\$0.00	\$0	\$0
	Gallonage Charge/MG									
	All Gallonage		111,160	\$0.25	\$27,790		34,430	\$0.25	\$8,608	\$36,398
	Total	28			\$27,790	20	-		\$8,608	\$36,398
,	Average Bill									\$758.29

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /COLLIER /MARCO ISLAND

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E2-2 Page 8 of 9 Preparer: 8encini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred (1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Line		Historical Rate		t - JUL 1994		torical Rates		- DEC 1994	Tot 1994 Hist Rev
No. Class/Meter Size	8111s	Consumption(i	G) Rates	Revenues	B111s (onsumption(MG) Rates	Revenues	
50 MF NON-METERED									
51 3"	7		1,991.37	\$13.940	5	\$2	,037.22	\$10,186	\$24,126
52 Gallonage Charge/MG									
53 All Gallonage		_ 0	\$0.00	\$0		0	\$0.00		<u>\$0</u>
54 Total	7			\$13.940	5			\$10.186	\$24,126
55 Average Bill									\$2,010.50
56 BULK SEWER									
57 1"	2		\$22,60	\$ 45					\$4 5
58 4"	49		\$282.50	\$13.843	35		\$285.11	\$9,979	\$23,822
59 Gallonage Charge/MG									
60 All Gallonage		60,314	\$3.91	\$235 <u>,828</u>		34,746	\$3.95	<u>\$137,247</u>	<u>\$373,075</u>
61 Total	51			\$249,716	35			\$147,226	\$396,942
62 Average Bill									\$4,615.60
63 TOTAL HIST. 2/	13.408	520.047		\$1,927.695	9,631	248.991		\$1,076,585	\$3,004,280
64 INDEXING-RATE CHANG		520.047		71, 527,050	3,001	2-101772		72,070,000	\$-57,486
65 TOTAL 1994 ANNUALIZI		DENCMIE 3/							\$2,946,794
03 IOINE 1994 AMMONETE	TO SWEET	ICTACIONE OL							42,540,754

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

NOTE: MF NON-METERED rates for Aug=73 units, \$2009.75, Sep-Nov=74 units, \$2037.22, Dec=75 units, \$2064.75

NOTE: Numbers may not tie to other schedules due to rounding.

^{2/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

^{3/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /ST. LUCIE /TROPICAL ISLES

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

SCHEDULE: E2-2 Page 9 of 9 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)
ine			<u>iistorical Rates</u>	JAN	- APR 1994	+	<u> Istorical Rates</u>	HAY	- JUL 1994	н	istorical Rates	AUG	- DEC 1994	Tot 1994 Hist Rev
0.	Class/Meter Size	B111s	Consumption(MG) Rates	Revenues	Bills	Consumption(MG) Rates	Revenues	Bills	Consumption(MG)	Rates	Revenues	
—														
1	RES WH ONLY													
	5/8"x3/4"	876		\$13.13	\$11,502	655		\$13.13	\$8,600	1.098		\$13.33	\$14,636	\$34,738
3	Gallonage Charge/MG													
1	All Gallonage		0	\$0.00	\$0		0	\$0.00	\$0		_ 0	\$0,00	\$0	\$0
•	Total	876	_		\$11,502	655	_		\$8,600	1,098			\$14,636	\$34,738
6	Average Bill													\$13.21
,	TOTAL HIST. 1/	876	0		\$11.502	655	0		\$8,600	1.098	0		\$14,636	\$34,738
1	INDEXING-RATE CHANGE													\$307
,	TOTAL 1994 ANNUALIZE	D SALES	REVENUE 2/											\$35,045

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

2/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: Bimonthly period of JAN-APR has been converted to monthly equivalent.

NOTE: Numbers may not tie to other schedules due to rounding.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES

Summery of Revenue Reconciliation

Company: SSM FPSC Jurisdiction/ Present Non-Uniform Docket No: 950495-WS Schedule Year Ended 12/31/54 Scheduler feet Entered Testifer
Water () Westernater(x)
Interfer() [Final()
Historica((x) Projected())
FPSC Uniform() [FPSC Non-uniform(x) FPSC Non-jurisdiction()]

FPSC

SCHEDULE: E2-3 Page 1 of 1 Preparer: Bencini

Recap Schedules: F2-1, E2-2

Explanation: Provide a schedule to reconcile the difference between calculated and booked revenues.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Line No. PLANT	INDEXING- RATE CHANGE 1/	CATCH UP BELLING 2/	EXCESS REFUND ACCRUAL 3/	ZERO USAGE 4/	OUT OF PERIOD ADJUSTMENTS S	SILLING CYCLE CONVERSIONS 6/	RATE MISCODES 7/	TOTAL Adjustments of	E2-1 DIFFERENCE W	UNEXPLAINED VARIANCE AMOUNT
DEEP CREEK	\$ (463,813.00)							\$ (463,813.00)	\$ 467,022,36	\$ 3,209.36
ENTERPRISE	\$ (,,							\$.	\$ 308.84	\$ 308.64
LEHGH								š -	\$ 23,305.74	\$ 23,305.74
MARCO ISLAND	\$ 57,486.00							\$ 57,488.00	\$ (53,221.74)	\$ 4,264.26
TROPICAL ISLES	\$ (307.00)					\$ 2,849.00		\$ 2,542.00	\$ (2,305.87)	\$ 236.13
Total FPSC Present Non-Uniform	\$ (406,634.00)	\$ ·	\$ ·	\$ -	\$ -	\$ 2,849.00	\$ -	\$ (403,785.00)	\$ 435,109.33	\$ 31,324.33

V "Industria - Rate Change" is the amount of evenue attributed to annualizing rates which resulted the the 1994 index and Pass through filling. This column accounts for the difference between the annualized indexed revenues and the revenues billed in effect prior to the indexing.

^{2/ &}quot;Catch-Up Billing" is the amount of revenue stributed to the difference between booked and annualized revenues as the result of having an extra billing cycle (consumption only) in 1993 in order to have our read date and bill date fall within ten dave of one another. Some of these bills were booked in January of 1994 which is not reflected in our annualized revenues.

^{3/ &}quot;Excess Relund Accrual" is the emount of revenue attributed to an over accrual of relund amount made for Doctat No. 920199-WS.

^{4/ &}quot;Zero Usage" amounts are billing adjustments such as credits, debits for back bills, etc. These adjustments have no associated usage on the billing arelysis, but have revenues shown on our books.

^{5/ &}quot;Out of Period Adjustments" are zero usage type of adjustments that posted in 1994 to correct for a prior calendar year.

^{6/ &}quot;Billing Cycle Conventions" relates to revenues associated with convening the billing cycle from bi-monthly for Tropical Isles sewer customers in 1994.

^{7/ &}quot;Rate Milacodes" relates to an erroneous infrastion charge to a Marco Shores customer that was not corrected in the billing system or general ledger. However, this was corrected in the billing analysis.

^{8/ &}quot;Total Adjustments" in the sum of columns 1 - 7.

^{9/ &}quot;E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.

THIS PAGE INTENTIONALLY LEFT BLANK

Schedule of Wastewater Customer Monthly Billing - 1994

Company: SSU/CHARLOTTE /DEEP CREEK

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

FPSC

(7)

SCHEDULE: E-3
Page 1 of 5
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.
(1) (2) (3) (4)

	127	1-7	10,	• • • •	, - ,		
Line No.	Month/ Year	<u>Residential</u>	Multi-Family Dwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>
1	JAN94	2,870	63	31	0	0	2,964
2	FEB94	2,834	63	3 0	0	0	2,927
3	MAR94	2.875	63	30	0	0	2,968
4	APR94	2,B89	63	31	0	0	2.983
5	MAY94	2,890	63	31	0	0	2.984
6	JUN94	2,918	63	31	0	0	3,012
7	JUL94	2,931	64	32	0	0	3,027
8	AUG94	2.942	63	32	0	0	3,037
9	SEP94	2,916	63	31	0	0	3,010
10	OCT94	2.941	63	31	0	0	3,035
11	NOV94	2.942	63	31	0	0	3,036
12	DEC94	2,95B	63	31	0	0	3.052
13	TOTAL	34,906	757	372	0	0	36,035
14	MTH. AVE	2.909	63	31	0	0	3.003

(5)

(6)

 ${\tt NOTE:}$ May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/VOLUSIA /ENTERPRISE

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

SCHEDULE: E-3
Page 2 of 5
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (1) (2) (3) (4) (5) (6) (7) Line Month/ Multi-Family General Private Fire Other | Dwelling Service No. Year Residential Protection (List) 1/ Total 1 JAN94 126 0 0 0 126 0 2 FEB94 128 0 0 0 128 3 MAR94 0 127 0 0 127 APR94 0 127 0 127 5 MAY94 128 128 6 JUN94 127 0 127 7 JUL94 129 0 129 8 AUG94 127 0 127 9 SEP94 128 0 0 0 128 10 0CT94 129 0 0 0 129 11 NOV94 129 0 0 129 0 0 12 DEC94 128 0 0 128 1,533 0 13 TOTAL 1,533 14 MTH. AVE 128 128

NOTE: May not tie to other schedules due to monthly rounding.

936

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Schedule of Wastewater Customer Monthly Billing - 1994

FPSC

Company: SSU/LEE /LEHIGH
Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]

SCHEDULE: E-3
Page 3 of 5
Preparer: Bencini

Interim[] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanati	Explanation: Provide a schedule of monthly customers billed or served by class.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	_			
Line No.	Month/ Year	<u>Residential</u>	Multi-FamilyDwelling	General Service	Private Fire Protection	Other (List) 1/	<u>Total</u>				
1	JAN94	6,379	0	257	0	6	6,642				
2	FEB94	6,565	0	265	0	9	6.839				
3	MAR94	6,813	0	281	0	7	7,101				
4	APR94	6,479	0	259	0	8	6,746				
5	MAY94	6,463	0	256	0	7	6,726				
6	JUN94	6,489	0	257	0	7	6,753				
7	JUL94	6,456	0	259	0	7	6,722				
8	AUG94	6,495	0	265	0	6	6,766				
9	SEP94	6,514	0	267	0	6	6,787				
10	OCT94	6,536	0	264	0	6	6,806				
11	NOV94	6,546	0	266	0	6	6,818				
12	DEC94	6,513	0	<u> 263</u>	0	6	<u>6.782</u>				
13	TOTAL	78,248	0	3,159	0	81	81.488				
14	MTH. AVE	6,521	0	263	0	7	6.791				

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater. Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Company: SSU/COLLIER /MARCO ISLAND

Oocket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Fina1[]

Historical(x) Projected[]

FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a schedule of monthly customers billed or served by class.

SCHEDULE: E·3
Page 4 of 5

Preparer: Bencini

(1) (2) (3) (4) (5) (6) (7) Line Month/ Multi-Family Private Fire Other General No. Year Residential Dwelling Service Protection (List) 1/ Total JAN94 1,568 124 205 0 1 13 1.910 2 FEB94 1,563 124 205 0 14 1,906 3 MAR94 1.570 124 209 0 13 1,916 APR94 1.567 123 209 0 13 1,912 5 MAY94 1.576 123 206 0 13 1,918 6 JUN94 1,580 124 207 0 13 1,924 JUL94 1,581 124 203 0 14 1,922 8 1.585 AUG94 124 204 0 13 1,926 SEP94 1,579 125 0 206 13 1.923 10 0CT94 1,5B8 123 200 0 13 1,924 11 NOV94 1.586 123 204 0 13 1,926

204

205

2,462

0

0

0

13

158

13

1,932

23,039

1.920

NOTE: May not tie to other schedules due to monthly rounding.

1,592

18.935

1,578

123

124

1,484

12

13

14

DEC94

TOTAL

MTH. AVE

^{1/} Includes 8ulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

FPSC

Company: SSU/ST. LUCIE /TROPICAL ISLES

SCHEDULE: E-3
Page 5 of 5
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[]

Historical[x] Projected[]
FPSC Uniform[] FPSC Non-uniform[x] FPSC Non-jurisdiction[]

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Famil y	General	Private Fire	Other		
No.	<u>Year</u>	Residential	<u>Dwelling</u>	Service	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN94	0	0	0	0	218	218	
2	FEB94	0	0	0	0	219	219	
3	MAR94	0	0	0	0	219	219	
4	APR94	0	0	0	0	220	220	
5	MAY94	0	0	0	0	217	217	
6	JUN94	0	0	0	0	220	220	
7	JUL94	0	0	0	0	218	218	
8	AUG94	0	0	0	0	219	219	
9	SEP94	0	0	0	0	219	219	
10	0CT94	0	0	0	0	220	220	
11	NOV94	0	0	0	0	220	220	
12	DEC94	0	0	0	0	220	220	
13	TOTAL	0	0	0	0	2,629	2,629	
14	MTH. AVE.	0	0	0	0	219	219	

NOTE: May not tie to other schedules due to monthly rounding.

Monthly conversions were performed.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority. Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

THIS PAGE INTENTIONALLY LEFT BLANK

FPSC

Company: SSU / Charlotte / Deep Creek

Schedule E-4 Page 1 of 5

Docket No.: 950495-WS

Preparer: Bencini

Schedule Year Ended: 12/31/94

Water[] Wastewater[x]
Interim[] Final[]

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	(2) Present		(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A	
4	Premise Visit	\$10.00	N/A	N/A	N/A	
5	Return Check Charge	\$15.00 or 5% o the amo of the c whichey	ount neck,	N/A	N /A	
41	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	greater.				

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / Volusia / Enterprise

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Schedule E-4 Page 2 of 5 Preparer: Bencini

	(1)	F	(2) Present Rates	(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A	
4	Premise Visit	\$10.00	N/A	N/A	N/A	
5	Return Check Charge	•	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A	

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Schedule E-4 Page 3 of 5

Page 3 of 5 Preparer: Bencini

Company: SSU / Lee / Lehigh

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)	Pres	(2) ent Rates		3) i Rates 1/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Retum Check Charge	of th	amount e check, hever is	N/A	N/A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Collier / Marco Island

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

FPSC

Schedule E-4 Page 4 of 5

Preparer: Bencini

	(1)	(2) Present Rat	es	(; Proposed	3) I Rates 1/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge	\$15.00 or 5% of the amount of the check whichever is greater.	ς,	N/A	N /A

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / St. Lucie / Tropical Isles
Docket No.: 950495-WS

Schedule E-4
Page 5 of 5
Preparer: Bencini

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

	(1)		(2) Present Rates	(; Proposed	3) Rates 1/
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	Actual Cost	N/A	N/A	N/A
4	Premise Visit	\$10.00	N/A	N/A	N/A
5	Return Check Charge		or 5% of N/A the amount of the check, whichever is	N/A	N/A
	- the accepted 4005 lets 1. F. A cell		greater.		

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

THIS PAGE INTENTIONALLY LEFT BLANK

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water[] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1

Preparer: Bencini

	(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No.	Type of Charge	Rates	Units	Revenues	Rate	a Units	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

\$CHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / Present Non-Uniform

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewriter [x]
Interim [] Final []
Historical [x] Projected []

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

FPSC Uniform [] FPSC Non-Uniform [x] FPSC Non-Jurisdiction []

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This aummary is not required for a sewer only rate application.

Line soumin	mà im mor radonian ios mass	ter only lace approach										_
-	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement	Number	of Standard	Type Public F	ire Hydrants E	By Pipe Size (onnecting the	- Hydrant	
No.	Plant Name	County	Status	(GPM)	4"	6"	9"	10"	12"	147	Total	Notes

This Schedule is not applicable for Wastewater.

SCHEDULE OF PRIVATE FIRE PROTECTION SERVICE - 1994

FPSC

Company: SSU / Total Company / Present Non-Uniform

Schedule E-7

Page 1 of 1

Preparer: Bencini

(14)

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of private fire protection service by size of connection.

(2)

This schedule is not required for a wastewater only rate application.

(1)

(5)

(4)

Size and Type:

(8)

(9)

(10)

(11)

(12)

(13)

 Line

 No.
 Plant
 Sprinkler Lines:
 Double Check Valves:
 Combined

 2"
 4"
 6"
 8"
 10"
 Total
 2"
 4"
 6"
 8"
 10"
 Total

(6)

(7)

Private fire protection service is not applicable to wastewater plants.

(3)

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1994

Company: SSU / Total Company / Present Non-Uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [X] FPSC Non-jurisdiction []

Too distant [1 11 oo tan amonis [4] 11 oo tan janaanoon [5]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs,

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1	GENEVA LAKE ESTATES:	
2		
3	Emery, W.C.	Utility easement acquired in exchange for water service at no charge.
4	Customer # 031389	
5		
6	TRODICAL ISLES:	
8	TROPICAL ISLES:	
9	Drake, John	Pursuant to Purchase Agreement: SSU agrees to provide sewer service for no
10	Customer # 96238	more than six (6) rental units at Mobile Park at no charge.
11	Kennedy, Berbara	Thore than 31x (b) remainding at moone Park at no Glarge.
12	Customer # 96244	
13	Michael, Malcolm	
14	Customer # 96259	
15	Sellards, Harold	
16	Customer # 96265	
17	Steeves, Hubert	
18	Customer # 96268	
19	Flora, Dick	
20	Customer # 96271	

FPSC Schedule: E-8 Page 1 of 1 Preparer: Bencini

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / Present Non-uniform

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] or Wastewater [x] Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

State the type of agreement (i.e. contract, tax).

(1) Line No.	(2) Plant	(3) County	(4) Type of Tax or Fee	(5) To Whom Paid	(6) Amount	(7) How Collected From Customers	(8) Type of Agreement
1	Total Company	FPSC Juris.	Rev. Assess. Fee	FPSC	4.5%	1/	None

FPSC

Schedule: E-9 Page 1 of 1

Preparer: Bencini

^{1/} included in overall cost of service.

Company: SSU / Total Company / Present Non-Uniform

Schedule E-10 Page 1 of 1

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water[] Wastewater[x]
Interim[] Final[]

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	
	Type of Gliarge			

Please see separate Service Availability Schedules, Volume VIII.

200

GUARANTEED REVENUES RECEIVED - 1994

Company: SSU / Total Company / Present Non-Uniform

Schedule E-11

Page 1 of 1 Preparer: Bencini

FPSC

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts

on an annual basis by class.

(1) (2) (3) (4) (5) (6)

Line For the General

No. Year Ended Residential Service Other Total

This schedule is not applicable.

954

CLASS A UTILITY COST OF SERVICE STUDY - 1994 Industrial Customers

Company: SSU / Total Company / Present Non-Uniform

Page 1 of 1

Schedule E-12

FPSC

Preparer. Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

FPSC

Company: SSU / Total Company / Present Non-Uniform

Schedule E-13
Page 1 of 1
Preparer: Bencini

Docket No: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [x] FPSC Non-jurisdiction []

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

calculation of each projection rac	ibi un a separate suriedule, il riecessary. Lis	tottlei dasses of filoter sizes as applicable.		
(1)	(2) (3) (4)	(5) (6) (7)	(8) (9)	(10) (11)
	Number of Bills	Consumption (MG)	Schedule	Year Revenues
Line	Projection Projected	Projection Projected	Present	Proposed
No. Class/Meter Size	Historical Factor Schedule Year	Historical Factor Schedule Year	Rates Revenue	Rates Revenue

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Polk / Lake Gibson Estates

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 1 of 4 Preparer: Bencini

Explanati	on: Provide a schedule of present, interim and pr	oposed rates. State resider	ntial wastewater cap if one exists.		
Line	(1)	(2) Present	(3) Monthly Equivalent	(4) Proposed	
No.	Class/Meter Size	Rates 1/	Rates 2/	Rates 3/	
	RESIDENTIAL SERVICE				
1	All Meter Sizes	\$45.00	\$22.50	N/A	
2	GALLONAGE CHARGE / MG:	V 13.02	•		
3	0 - 6,000	\$0.00	\$0.00	N/A	
4	All Excess Gallons	\$0.00	\$0.00	N/A	
	RESIDENTIAL WASTEWATER ONLY 4/				
5	All Meter Sizes	\$45.00	\$22.50	N/A	
	GENERAL SERVICE 4/				
6	All Meter Sizes	\$45.00	\$22.50	N/A	
7	GALLONAGE CHARGE / MG:				
8	All Gallonage	\$0.00	\$0.00	N/A	

^{1/} These rates are bi-monthly.

^{2/} These rates have been converted to the monthly equivalent rates by dividing the bi-monthly rates by 2.

^{3/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

^{4/} The actual tarrif includes rates for the residential class only. As new classes of customers were added, they were given the residential rates.

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Polk / Seaboard

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 2 of 4

Page 2 of 4
Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	
Line		Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
			·	
	RESIDENTIAL SERVICE	****		
1	All Meter Sizes	\$19.16	N/A	
2	GALLONAGE CHARGE / MG:			
3	0 - 10,000	\$2.98	N/A	
4	All Excess Gallons	\$0.00	N/A	
	GENERAL, MULTI-FAMILY SERVICES			
5	5/8"x3/4"	\$19.16	N/A	
6	3/4"	N/A	N/A	
7	1 [*]	\$47.91	N/A	
8	1 - 1/2"	\$95.82	N/A	
9	2"	\$153.31	N/A	
10	3 ⁿ	\$306.62	N/A	
11	4"	N/A	N/A	
12	6*	N/A	N/A	
13	8"	N/A	N/A	
14	10"	N/A	N/A	
15	GALLONAGE CHARGE / MG:	,		
16	Ail Gallonage	\$3.58	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Hernando / Spring Hill

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [x] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC Schedule: E1-1 Page 3 of 4 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

1:	(1)	(2)	(3) Proposed
Line No.	Class/Meter Size	Present Rates	Rates 1/
	OFFICE AFERMAN		
	RESIDENTIAL SERVICE All Meter Sizes	\$12.26	N/A
1 2	GALLONAGE CHARGE / MG:	\$12.20	NA.
3	0 - 6,000	\$3.54	N/A
4	Ali Excess Gallons	\$0.00	N/A
4	All Excess Gallons	\$0.00	Te/A
	RESIDENTIAL WASTEWATER ONLY		
5	All Meter Sizes	\$24.86	N/A
_	GENERAL, MULTI-FAMILY SERVICES		***
6	5/8"x3/4"	\$12.26	N/A
7	3/4"	\$18.39	N/A
8	1"	\$30.65	N/A
9	1 - 1/2"	\$ 61.30	N/A
10	2*	\$98.08	N/A
11	3"	\$196.16	N/A
12	4"	\$306.50	N/A
13	6 "	\$613.00	N/A
14	8*	\$980.80	N/A
15	10"	\$1,409.90	N/A
16	GALLONAGE CHARGE / MG:		
17	All Gallonage	\$4.25	N/A
	BULK WASTEWATER		
18	All Meter Sizes	\$0.00	N/A
19	GALLONAGE CHARGE / MG:		
20	All Gallonage	\$2.35	N/A
	-		

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

60

SCHEDULE OF WASTEWATER RATES - 1994

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []
EPSC Uniform [1 EPSC Non-uniform [1 EPSC N

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule: E1-1 Page 4 of 4 Preparer: Bencini

Explanation: Provide a schedule of present, interim and proposed rates. State residential wastewater cap if one exists.

	(1)	(2)	(3)	_
Line		Present	Proposed	
No.	Class/Meter Size	Rates	Rates 1/	
	RESIDENTIAL SERVICE			
1	All Meter Sizes	\$10.00	N/A	
2	GALLONAGE CHARGE / MG:			
_				
3	0 - 6,000	\$0.00	N/A	

^{1/} Refer to the 1995 E-1 schedule for proposed interim rates and the 1996 E-1 schedule for proposed final rates.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2·1 Page 1 of 7

Preparer: Bencini

Supporting Schedules: E2-1.1,E2-2,E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (B) (9) (10)

1994 HISTORICAL (PRESENT RATES) PROPOSED 1/

		1994 HISTORICAL (PRESENT RATES)				PROPOSED 1/			
Line No	Class/Heter Size	Bills ●	Consumption(MG)	Rate *	Revenues	Bills	Consumption(MG)	<u>Rate</u>	Revenues
1 2 3	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG	3,154		\$22.50	\$70,965				
4	All Gallonage		26,113	\$0.00	\$0			_	
5	Total RESIDENTIAL	3,154	26,113		\$70,965	N/A	N/A		N/A
6	Ave cust/cons/bill/mth	263	8.279		\$22.50	,			
7	DEC IN ONLY								
/ a	RES WW ONLY 5/8"x3/4"	12		\$22.50	\$270				
q	Gallonage Charge/MG	12		\$22.50	\$270				
10	All Gallonage		0	\$0.00	\$0				
ii	Total RES WW ONLY	12			\$270	N/A	N/A	_	N/A
12	Ave cust/cons/bill/mth	1	0.000		\$22.50	-			
13	COMMERCIAL								
14	5/8"x3/4"	28		\$22.50	\$630				
15	1 1/2"	28 12		\$22.50	\$270				
16	Gallonage Charge/MG			722.50	22,0				
17	All Gallonage		126	\$0.00	\$0				
18	Total COMMERCIAL	40	126		\$900	N/A	N/A	_	N/A
19	Ave cust/cons/bill/mth	3	3.150		\$22.50				

FPSC

Company: SSU/POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS Schedule Year Ended 12/31/94

SCHEDULE: E2-1 Page 2 of 7 Preparer: Bencini

Supporting Schedules: E2-1.1, E2-2, E2-3

Water [] Wastewater [x]
Interim[] Final[] Historical(x) Projected(] FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period, (1) (2) (3) (4) (5) (9) (10)

Line No.	1994 HISTORICAL (PRESENT RATES)					PROPOSED 1/			
	Class/Meter Size	Bills •	Consumption(MG)	Rate *	Revenues	Bills	Consumption(MG)	Rate	Revenues
20	TOTAL ANNUALIZED SALES	REVENUES			\$72,135				
21 22	UNBILLED REVENUE OTHER REVENUE 3/				\$-460 \$0				
22	TOTAL REVENUES				\$71.675				N/A
23	TOTAL BOOKED REVENUES				\$70,547				N/ IN
24	DIFFERENCE 4/				\$1,128		-		

- 1/ Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.
- 2/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 3/ Refer to schedule 1994 B-4 schedule for detail of other revenue.
- 4/ Refer to schedule 1994 E2-3 schedule for reconciliation of difference.
- * Note: This plant currently has a bi-monthly billing cycle. Bills and rates have been converted to monthly equivalents. Refer to schedule E2-1.1 for details.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPDSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 3 of 7

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT R	ATES)	PROPOSED 1/						
Line No.	Class/Meter Size	Bills	Consumption(HG)	Rate	Revenues	Bills	Consumption(MG)	Rate Revenues				
1 2 3 4 5 6 7	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG 0-10000 All excess 2/ Total RESIDENTIAL Ave cust/cons/bill/mth	29.874 29.874 2.490	172,823 29,265 172,823 5,785	\$19.16 \$2.98 \$0.00	\$572,386 \$515,013 \$0 \$1,087,399 \$36,40	N/A	N/A	N/A				
8 9 10 11 12 13	MULTI-FAMILY 1 1/2" Gallonage Charge/MG All Gallonage Total MULTI-FAMILY Ave cust/cons/bill/mth	12 12 1	7.395 7,395 616.250	\$95.82 \$3.58	\$1,150 \$26,474 \$27,624 \$2,302.00	N/A	N/A	N/A				
14 15 16 17 18 19 20 21	COMMERCIAL 5/8"x3/4" 1" 1 1/2" 2" 3" Gallonage Charge/MG All Gallonage Total COMMERCIAL	270 12 48 37 24	13.020 13.020	\$19.16 \$47.91 \$95.82 \$153.31 \$306.62 \$3,58	\$5,173 \$575 \$4,599 \$5,672 \$7,359 \$46,612 \$69,990		N/A					

FPSC

Company: SSU/HILLSBOROUGH / SEABOARD

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[]

SCHEDULE: E2-1 Page 4 of 7 Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Historical[x] Projected[] FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occured during the test year, a revenue calculation must be made for each period.

(7) (3) (1) (2) (4) (5) (8) (9) (10) 1994 HISTORICAL (PRESENT RATES) PROPOSED 1/ Line Class/Meter Size Bills Consumption(MG) B111s No. Rate Revenues Consumption(MG) Rate Revenues TOTAL ANNUALIZED SALES REVENUES \$1,185,013 UNBILLED REVENUE \$23,121 OTHER REVENUE 3/ \$2,540 TOTAL REVENUES \$1,210,674 N/A TOTAL BOOKED REVENUES \$B02,93B D1FFERENCE 4/ \$407,736

- 1/ Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.
- 2/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.
- 3/ Refer to schedule 1994 B-4 schedule for detail of other revenue.
- 4/ Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

Company: SSU/HERNANDO / SPRING HILL

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 5 of 7

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

	(-/	127	(0)	(4)	(5)	.,,		,	
			1994 HISTORICAL	(PRESENT RA	ATES)		PROPOSED	1/	
L1ne No.	Class/Heter Size	Bills	Consumption(HG)	Rate	Revenues	Bills	Consumption(HG)	<u>Rate</u>	Revenues
1 2	RESIDENTIAL 5/8"x3/4"	60,129		\$12.26	\$7 37, 182				
3	1"	169		\$12.26	\$2,072				
4	1 1/2"	27		\$12.26	\$331				
5	2"	21		\$12.26	\$257				
6 7	Gallonage Charge/MG 0- 6000		21B,201	\$3.54	\$772,432				
8	All excess 2/		77,805	\$0.00	\$0				
.9	Total RESIDENTIAL	60.346	218,201		\$1,512,274	N/A	N/A		N/A
10	Ave cust/cons/bill/mth	5,029	3.616		\$25.06				
11	RES WW ONLY			*04.06	41 467				
12 13	5/8"x3/4" Gallonage Charge/MG	59		\$24.86	\$1,467				
14	All Gallonage		0	\$0.00	\$0				
15	Total RES WW ONLY	59	0		\$1,467	N/A	N/A		N/A
16	Ave cust/cons/bill/mth	5	0.000		\$24.86				
17	COMMERCIAL	0.400		A10 00	***				
18 19	5/8"x3/4" 1"	2,4 3 9 382		\$12.26 \$30.65	\$29,902 \$11,708				
20	1 1/2"	80		\$61.30	\$4,904				
21	2"	3 3 6		\$98.08	\$32,955				
22	3"	29		\$196.16	\$5,689				
23 24	6" Gallonage Charge/MG	19		\$613.00	\$11.647				
25	All Gallonage		67,127	\$4.25	\$285,290				
26	Total COMMERCIAL	3, 285	67,127		\$382,095	N/A	N/A		N/A
27	Ave cust/cons/bill/mth	274	20.434		\$116.32				

37

38

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Calculation of Annualized Sales Revenues

FPSC

Company: SSU/HERNANDO / SPRING HILL Docket No.: 950495-WS

Schedule Year Ended 12/31/94 Water [] Wastewater [x]

Interim[] final[] Historical[x] Projected[]

TOTAL REVENUES

OIFFERENCE 4/

TOTAL 800KED REVENUES

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-1 Page 6 of 7

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

N/A

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(I) (2) (3) (4) (5) (8) (9) (10) 1994 HISTORICAL (PRESENT RATES) PROPOSED 1/ Line No. Class/Meter Size B111s Consumption(MG) Rate Revenues Bills Consumption(MG) Rate Revenues 28 **BULK SEWER** 29 \$0 \$0.00 30 10" 13 \$0 \$0.00 31 Gallonage Charge/MG 32 All Gallonage 153,402 \$2.35 \$360,495 33 Total BULK SEWER 153.402 \$360,495 N/A N/A N/A Ave cust/cons/bill/mth \$9,743.11 4146.00 TOTAL ANNUALIZED SALES REVENUES \$2,256,331 36 UNBILLED REVENUE \$42,640 37 OTHER REVENUE 3/ \$0

\$2,298,971

\$2,499,427 \$-200,456

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 B-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSEO RATES Calculation of Annualized Sales Revenues

Company: SSU/HILLSBOROUGH / VALRICO HILLS

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-1 Page 7 of 7

Preparer: Bencini

Supporting Schedules: E2-2, E2-3

Explanation: Provide a calculation of revenues at present and proposed rates using the billing analysis. Explain any differences

between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

(1) (2) (3) (4) (5) (7) (8) (9) (10)

			1994 HISTORICAL	(PRESENT RA	ATES)	PROPOSEO 1/						
<u>Ho.</u>	Class/Meter Size	Bills	Consumption(MG)	Rate	Revenues	Bills	Consumption(HG)	_Rate_	Revenues			
1 2 3 4 5 6	RESIDENTIAL 5/8"x3/4" Gallonage Charge/MG All Gallonage Total RESIDENTIAL Ave cust/cons/bill/mth	4,234 4,234 353	38,344 38,344 9,056	\$10.0 0 \$0.00	\$42,340 \$0 \$42,340 \$10.00	N/A	N/A		N/A			
7 8 9 9 10	TOTAL ANNUALIZED SALES UNBILLED REVENUE OTHER REVENUE 3/ TOTAL REVENUES TOTAL BOOKED REVENUES OIFFERENCE 4/	REVENUES			\$42.340 \$2.068 \$75 \$44.483 \$44,041				N/A			

^{1/} Refer to the 1995 E2-1 schedule for proposed interim rates and the 1996 E2-1 schedule for proposed final rates.

^{2/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

^{3/} Refer to schedule 1994 B-4 schedule for detail of other revenue.

^{4/} Refer to schedule 1994 E2-3 schedule for reconciliation of difference.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF WASTEWATER REVENUE AT PRESENT AND PROPOSED RATES Monthly Conversion of Bi-monthly Plants

Company: SSU / POLK / LAKE GIBSON ESTATES

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94 Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

Present: FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction[x]

FPSC

Schedule: E2-1.1

Page 1 of 1

Preparer: Bencini

Explanation: Provide a schedule of conversion of bi-monthly plants to monthly equivalents.

		1994 Historical (I	Bi-monthly)	1994 Historical (Monthly Equivalent)
Line <u>No</u> .	Class/Meter Size	<u> Bilts</u>	BFC <u>Rate</u>	BFC <u>Bills</u> <u>Rate</u>
1	RESIDENTIAL			
2	5/8"x3/4"	1,577	\$45.00	3,154 \$22.50
3	RES WW ONLY			
4	5/8"X3/4"	6	\$45.00	12 \$22.50
5	COMMERCIAL			
6	5/8"X3/4"	14	\$45.00	28 \$22.50
7	1 1/2"	6	\$4 5. 00	12 \$22.50

NOTE: Monthly equivalent is used on all E Schedules except the E3, which ties to the billing analysis.

THIS PAGE INTENTIONALLY LEFT BLANK

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /POLK /LAKE GIBSON ESTATES

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction(x)

FPSC

SCHEDULE: E2-2 Page I of 6 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues. If a rate change occurred during the test year, a revenue calculation must be made for each period.

	11 0	Tace change occurred				COTCUTACTOR MUSIC	oc made
		(1)	(2)	(3)	(4)	(5)	
	Line			<u>Historical Rates</u>		- DEC 1994	
	No.	Class/Meter Size	Bills	Consumption(MG)	Rates	Revenues	
		- PEGINENTIN -					
	1	RESIDENTIAL	2 154		*22 FD	*70.000	
	2	5/8"x3/4"	3,154		\$22.50	\$70,965	
	3	Gallonage Charge/MG		06 113	** **	*0	
	4	All Gallonage	2 154	_ 26,113	\$0.00	\$0	
	5	Total	3,154			\$70,965	
	6	Average Bill					
	7	DEC 111 ONLY					
	8	RES WW ONLY 5/8"x3/4"	12		\$22.50	\$270	
1	9	Gallonage Charge/MG	12		\$22.30	\$270	
	10	All Gallonage		0	\$0.00	\$0	
	11	Total	12	_	3 0.00	\$270	
	12	Average Bill	12			\$270	
	12	Average Bill					
	13	COMMERCIAL					
	14	5/8"x3/4"	28		\$22.50	\$630	
	15	1 1/2"	12		\$22.50	\$270	
	16	Gallonage Charge/MG			*22.00	*2.70	
	17	All Gallonage		126	\$0.00	\$0	
	18	Total	40	_ 120	7 0.00	\$900	
	19	Average Bill	70			*300	
	13	MET USE DITT					
	20	TOTAL HIST. 1/	3.206	26.239		\$72,135	
	21	INDEXING-RATE CHANGE		20.207		#, £, £00	
	22	TOTAL 1994 ANNUALIZE		REVENUE 2/			
		TOTAL TOTA MINUMETER	JACES				

^{1/} Difference from Total Booked Revenues per £2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: This plant has bimonthly billing. The No. Bills have been converted to monthly equivalent. Please refer to Schedule E2-1.1 for detail. The BFC Rates also have been converted to monthly equivalent.

NOTE: Numbers may not tie to other schedules due to rounding.

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE: E2-2 Page 2 of 6 Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /HILLSBOROUGH /SEABOARD

Docket No: 950495-WS

Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a	a revenue calculation must be made for each period.
---	---

Class/Meter Size	<u> </u>	a lace change occurred										
Residential Residential Revenues Rev		(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	
1 RESIDENTIAL 2 5/8"x3/4" 24,929 \$22.00 \$548,438 4,945 \$19.16 \$94,746 \$643,184 3 Gallonage Charge/MG 4 0 - 10000 171,128 \$0.00 \$0 27,533 \$2.98 \$82,048 \$82,048 5 All Excess 1/ \$0.00 \$0 3,427 \$0.00 \$0	Lin	2		<u>istorical Rates</u>	JAN	· 0CT 1994	H	istorical Rate:	V <u>OM</u> 2	- DEC 1994	Tot 1994 Hist Rev	
2 5/8"x3/4" 24.929 \$22.00 \$548.438 4.945 \$19.16 \$94.746 \$643.184 3 Gallonage Charge/MG 4 0 - 10000 171.128 \$0.00 \$0 27.533 \$2.98 \$82.048 \$82.048 5 All Excess 1/ \$0.00 \$0 3.427 \$0.00 \$0 \$0 6 fotal 24.929 \$548.438 4.945 \$176.794 \$725.232 7 Average Bill \$24.28 \$24.28 8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 1 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4,257 \$14.062 12 Total 10 \$10.505 2 \$4,449 \$14.954	No.	Class/Meter Size	81115	Consumption(MG)	Rates	Revenues	B117s	Consumption(M	i) Rates	Revenues		
2 5/8*x3/4* 24,929 \$22.00 \$548,438 4.945 \$19.16 \$94,746 \$643,184 3 Gallonage Charge/MG 4 0 - 10000 171.128 \$0.00 \$0 27,533 \$2.98 \$82,048 \$82,048 5 All Excess 1/ \$0.00 \$0 \$0 3,427 \$0.00 \$0 \$0 6 fotal 24,929 \$548,438 4,945 \$176,794 \$725,232 7 Average Bill \$24,28 \$24.28 8 MULTI-FAMILY 9 1 1/2* 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 1 All Gallonage 6.206 \$1.58 \$9,805 1,189 \$3.58 \$4,257 \$14,062 12 Total 10 \$10.505 2 \$4,449 \$14,954												
2 5/8*x3/4* 24.929 \$22.00 \$548.438 4.945 \$19.16 \$94,746 \$643.184 3 Gallonage Charge/MG 4 0 - 10000 171.128 \$0.00 \$0 27.533 \$2.98 \$82.048 \$82.048 5 All Excess 1/ \$0.00 \$0 3.427 \$0.00 \$0 6 fotal 24.929 \$5548.438 4.945 \$176.794 \$725.232 7 Average Bill \$24.28 8 MULTI-FAMILY 9 1 1/2* 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 11 All Gallonage — 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4.257 \$14.062 12 Total 10 \$10.505 2 \$44.449 \$14.954										_		
3 Gallonage Charge/MG 4	1	RESIDENTIAL										
4 0 - 10000 171.128 \$0.00 \$0 27.533 \$2.98 \$82.048 \$82.048 \$ 5 All Excess 1/ \$0.00 \$0 3.427 \$0.00 \$0 \$0 6 fotal 24.929 \$548.438 \$4.945 \$176.794 \$725.232 \$24.28 8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 \$10 Gallonage Charge/MG \$11 All Gallonage \$6.206 \$1.58 \$9.805 \$1.189 \$3.58 \$4.257 \$14.062 \$12 Total 10 \$10.505 2 \$4.449 \$14.954	2	5/8"x3/4"	24.929		\$22.00	\$548,438	4.945		\$19.16	\$94,746	\$643,184	
5 All Excess 1/ \$0.00 \$0 3,427 \$0.00 \$0 \$0 6 fotal 24,929 \$548,438 4,945 \$176,794 \$725,232 7 Average Bill \$24.28 8 MULTI-FAMILY \$1/2" \$10 \$70.00 \$700 \$2 \$95.82 \$192 \$892 10 Gallonage Charge/HG \$1 All Gallonage 6.206 \$1.58 \$9,805 \$1.189 \$3.58 \$4,257 \$14.062 12 Total \$10 \$10.505 2 \$4,449 \$14.954	3	Gallonage Charge/MG										
6 fotal 24,929 \$548,438 4,945 \$176,794 \$725,232 7 Average Bill \$24.28 8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/HG 11 All Gallonage 6,206 \$1.58 \$9,805 1.189 \$3.58 \$4,257 \$14,062 12 Total 10 \$10.505 2 \$4,449 \$14,954	4	D - 1 00 00		171.128	\$0.00	\$0		27.533	\$2.98	\$82,048	\$82,048	
6 fotal 24,929 \$548,438 4.945 \$176,794 \$725,232 7 Average Bill \$8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$70.0 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 11 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4,257 \$14,062 12 Total 10 \$10.505 2 \$4,449 \$14,954	5	All Excess 1/		_	\$0.00	\$0		3,427	\$0.00	\$0	\$0	
8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/HG 11 All Gallonage 6.206 \$1.58 \$9,805 1.189 \$3.58 \$4,257 \$14.062 12 Total 10 \$10.505 2 \$4,449 \$14.954	6	fota]	24.929	_		\$548,438	4.945	_		\$176,794		
8 MULTI-FAMILY 9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/HG 11 All Gallonage 6.206 \$1.58 \$9,805 1.189 \$3.58 \$4,257 \$14,062 12 Total 10 \$10.505 2 \$4,449 \$14,954	7	Average Bill									\$24.28	
9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 11 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4.257 \$14.062 12 Total 10 \$10.505 2 \$4.449 \$14.954												
9 1 1/2" 10 \$70.00 \$700 2 \$95.82 \$192 \$892 10 Gallonage Charge/MG 11 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4.257 \$14.062 12 Total 10 \$10.505 2 \$4.449 \$14.954												
10 Gallonage Charge/MG 11 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4.257 \$14.062 12 Total 10 \$10.505 2 \$4.449 \$14.954	8	MULTI-FAMILY										
10 Gallonage Charge/MG 11 All Gallonage 6.206 \$1.58 \$9.805 1.189 \$3.58 \$4.257 \$14.062 12 Total 10 \$10.505 2 \$4.449 \$14.954	9	1 1/2"	10		\$70.00	\$700	2		\$95.82	\$192	\$892	
12 Total 10 \$10.505 2 \$4,449 \$14,954	10	Gallonage Charge/MG										
12 Total 10 \$10.505 2 \$4,449 \$14.954	11	All Gallonage		6.206	\$1.58	\$9,805		1.189	\$3.58	\$4,257	\$14,062	
	12	Total	10	-			2	-				
	13	Average 8ill									\$1,246.17	

9/

Company: SSU /HILLSBOROUGH /SEABOARD Docket No: 950495-NS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-2 Page 3 of 6 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9) - DEC 1994	(10) Tot 1994 Hist Rev
ine o.			Consumption(F		- OCT 1994 Revenues		consumption(M		Revenues	100 1994 HISC KEY
_								- —		
1	COMMERCIAL									
ó	S/B"x3/4"	229		\$14.00	\$3,206	41		\$19.16	\$786	\$3,992
5	1"	10		\$35.00	\$350	2		\$47.91	\$96	\$446
,	1 1/2"	40		\$70.00	\$2,800	8		\$95.B2	\$767	\$3,567
}	2"	31		\$112.00	\$3,472	6		\$153.31	\$920	\$4 ,392
)	3"	20		\$210.00	\$4 ,200	4		\$306.62	\$1,226	\$5,426
	Gallonage Charge/MG									
	All Gallonage		11.034	\$1.58	\$17,434		1.987	\$3.58	\$7,113	\$24,5 <u>47</u>
	Total	330	-		\$31,462	61			\$10.908	\$42,370
3	Average Bill									\$108.36
4	TOTAL HIST. 2/	25,269	188.368		\$590,405	5,008	30.709		\$192.151	\$782,556
5	INDEXING-RATE CHANGE		-							\$402,45 <u>7</u>
5	TOTAL 1994 ANNUAL IZE	D SALES	REVENUE 3/							\$1,185,013

^{1/} All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

3/ Refer to schedule E2-3 for reconciliation of differences.

NOTE: For period JAN-OCT, Residential=no gallonage charge, no cap.

NOTE: Numbers may not tie to other schedules due to rounding.

^{2/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues. and partial-month rate changes that are not reflected in Total Historical per this schedule.

SCHEDULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /HERNANDO /SPRING HILL

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-2 Page 4 of 6 Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Line			<u>iistorical Rate</u>		- SEP 1994		<u> Ilstorical Rates</u>		DEC 1994	Tot 1994 Hist Re
ю.	Class/Meter Size	8111s	Consumption(H	(G) Rates	Revenues	B111s	Consumption (NG)	Rates	Revenues	
	·									
1	RESIDENTIAL									
2	5/8"x3/4"	45.048		\$12,20	\$549.586	15,081		\$12.26	\$184,893	\$734,479
3	1*	128		\$12.20	\$1,562	41		\$12.26	\$5 03	\$2,065
4	1 1/2"	21		\$12.20	\$256	6		\$12.26	\$74	\$330
5	2*	18		\$12.20	\$220	3		\$12.26	\$37	\$257
6	Gallonage Charge/MG									
7	0 - 6000		164.952	\$3.46	\$570,734		53,249	\$3.54	\$188,501	\$759,235
8	All Excess 1/		62.154	\$0.00	\$0		15,651	\$0.00	\$0	50
9	Total	45,215			\$1,122,358	15,131			\$374.008	\$1,496,366
0	Average Bill									\$24.80
11	RES WHY ONLY									
2	5/8"x3/4"	44		\$24.53	\$1.079	15		\$24.86	\$373	\$1.452
13	Gallonage Charge/MG									
4	All Gallonage		_ 0	\$0.00	\$0		_ 0	\$0.00	\$0	\$0
5	Total	44			\$1.079	15			\$373	\$1,452
6	Average Bill									\$24.61
,	CONSTRUCTAL									
17 18	5/8"x3/4"	1,822		\$12.20	\$22,228	617		\$12.26	\$7,564	\$29,792
9	1"				\$8,693	97		\$30.65	\$2.973	
		285		\$30.50						\$11,666
0	1 1/2"	56		\$60.99	\$3,415	24		\$61.30	\$1.471	\$4,886
1	2*	255		\$97.59	\$24.885	81		\$98.08	\$7,944	\$32,829
2	3"	23		\$195.18	\$4.489	6		196.16	\$1.177	\$5.666
}	6"	13		\$609.93	\$7,929	6	,	613.00	\$3,678	\$11.607
	Gallonage Charge/MG									
•	All Gallonage	- A 45 :	50,137	\$4.15	\$208,069		16.990	\$4.25	\$72,208	\$280,277
6	Total	2.454			\$279,708	831			\$97,015	\$376.723
7	Average Bill									\$114.68

97,

SCHEOULE OF REVENUE AT PRESENT AND PROPOSED RATES Calculation of 1994 Historical Sales Revenues

Company: SSU /HERNANDO /SPRING HILL

Docket No: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x] Interim[] Final[] Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E2-2
Page 5 of 6
Preparer: Bencini

Supporting Schedule: E2-3

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

					-			unitered	ices becacen thes	c revenues and pooked revenues.
<u>lf</u> a	rate change occurred	during	the test year,	a revenue	<u>e calculation must b</u>	<u>e made for eac</u>	h period.			
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)
Line	•	H	istorical Rate	s JA	N - SEP 1994	H1s	torical Rates	OCT	- DEC 1994	Tot 1994 Hist Rev
No.	Class/Meter Size	Bills	Consumption(M	G) Rates	Revenues	Bills C	onsumption(MG)	Rates	Revenues	
	0.0 5 55150									
28	BULK SEWER								**	¢F 490
29	4"	18		\$304.96	\$ 5. 48 9	6		\$0.00	\$0	\$5,489
30	10"	10	5	1,402.83	\$14.028	3		\$0.00	\$ 0	\$14,028
31	Gallonage Charge/MG									
32	All Gallonage		107.714	\$4.15	\$447,013		45,688	\$2.35	\$107.367	<u>\$554.380</u>
33	Total	28	-		\$466,530	9			\$107,367	\$573,897
34	Average Bill									\$15,510.73
	•									
35	TOTAL HIST. 2/	47,741	322.803		\$1,869,675	15.9B6	115.927		\$57B,763	\$2,448,438
36	INDEXING-RATE CHANGE		,							\$-192,107
			מבערשור או							\$2,256,331
37	TOTAL 1994 ANNUALIZE	O SATE2	REVENUE 3/							₹2,250,031

1/ All Excess Residential Wastewater consumption over cap is not used in total consumption for revenue computations.

2/ Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

3/ Refer to schedule E2-3 for reconciliation of differences.

NOTE. Numbers may not tie to other schedules due to rounding.

SCHEDULE: E2-2
Page 6 of 6
Preparer: Bencini

Supporting Schedule: E2-3

Company: SSU /HILLSBOROUGH /VALRICO HILLS

Docket No: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction(x)

Explanation: Provide a calculation of revenues at historic rates using the billing analysis. Explain any differences between these revenues and booked revenues.

If a rate change occurred during the test year, a revenue calculation must be made for each period.

Line	(1)	(2)	(3) <u>Historical R</u> ates	(4) Jan	(5) - DEC 1994	(6) <u>Tot 1994 Hist Rev</u>
No.	Class/Heter Size	B117s	Consumption(MG)	Rates	Revenues	
1	RESIDENTIAL	-				
2	5/8"x3/4"	4.234		\$10.00	\$42,340	\$42,340
3	Gallonage Charge/MG					
4	All Gallonage _		38.344	\$0.00	\$0	\$0
5	Total	4,234			\$42,340	\$42,340
6	Average Bill					\$10.00
7	TOTAL HIST. 1/	4,234	38,344		\$42,340	\$42 .340
B	INDEXING-RATE CHANGE	4,234	30,344		\$42,340	\$0
9	TOTAL 1994 ANNUALIZED	SALES	REVENUE 2/			\$42,340

^{1/} Difference from Total Booked Revenues per E2-1 is due to variations in actual billing periods, unbilled revenues, and partial-month rate changes that are not reflected in Total Historical per this schedule.

NOTE: Numbers may not tie to other schedules due to rounding.

97

^{2/} Refer to schedule E2-3 for reconciliation of differences.

SCHEDULE OF WATER REVENUE AT PRESENT AND PROPOSED RATES

Summery of Revenue Reconciliation

3 SPRING HILL

4 VALRICO HILLS

Total FPSC Non-Jurisdiction

Company: SSU/Total Company/ FPSC Non-Jurisdiction Docket No: 950495-WS Schedule Year Ended 12/31/94 Water[| Wassinestain[x] interin(] Final() Historica[x] Projected[] FPSC Unitom(] FPSC Non-unitom() FPSC Non-jurisdiction[x]

FPSC

SCHEDULE: E2-3 Page 1 of 1 Preparer: Bencini Recap Schedules: E2-1, E2-2

200,135.25

(202,277.22)

(200,456.00)

208,850.00

442.00

Explanation: P	Explanation: Provide a schedule to reconcilis the difference between calculated and booked revenues.													
	-	(1)	(2)	(3)	(4)	(5)	(19)	(7)	(9)	(9)	{1Bj			
Line No. PLANT		INDEXING- RATE CHANGE 1/	CATCH UP BILLING 2/	EXCESS REFUND ACCRUAL 3/	ZERO USAGE U	OUT OF PERIOD ADJUSTMENTS 5/	BILLING CYCLE CONVERSIONS &/	RATE MISCODES 7/	TOTAL ADJUSTMENTS W	E2-1 DIFFERENCE W	UNEXPLARIED VARIANCE AMOUNT			
1 LAKE 2 SEAB	GIBSON ESTATES BORD	\$ - \$ (402,457,00)			\$ 44.53				\$ (402,412.47)	\$ 1,128.00 \$ 407,736.00	\$ 1,128.00 \$ 5,323.53			

44.53 \$

1/ "indexing - Rate Change" is the amount of revenue attributed to annualizing rates which resulted the the 1994 index and Pass through Ning. This column accounts for the difference between the annualized indexed revenues and the revenues billed in effect prior to the indexing.

8,028,25

8,028.25 \$

- 2/ "Catch-Up Billing" is the amount of revenue attributed to the difference between booked and annualized revenues as the result of having an extra billing cycle (consumption only) in 1993 in order to have our read data and bill date tall within lan days of one another. Some of these bills were booked in Jenuary of 1994 which is not reflected in our annualized revenues.
- 3/ "Excess Refund Accusal" in the amount of revenue attributed to an over accrual of refund amount made for Docket No. 920199-WS.

192,107.00

(210,350.00) \$

- 4/ "Zero Usage" amounts are billing adjustments such as credite, debits for back bills, etc. These adjustments have no associated usage on the billing enalysis, but have revenues shown on our books.
- 5/ "Out of Period Adjustments" are zero usage type of adjustments that posted in 1994 to correct for a prior calendar year.
- 6/ "Billing Cycle Conversions" relates to revenues associated with conventing the billing cycle from bi-monthly to monthly for Tropical Isles sewer customers in 1994.
- 7/ "Rate Miscodes" relates to an erroneous imigation charge to a Merco Shores customer that was not corrected in the billing system or general ledger. However, this was corrected in the billing analysis.
- 6/ "Total Adjustments" is the sum of columns 1 7.
- 9/ "E2-1 Difference" is the difference between total revenues and total booked revenues for the E2-1 Schedule.

(320.75)

442.00

6,572.78

THIS PAGE INTENTIONALLY LEFT BLANK

12

13

14

DEC94

TOTAL

MTH. AVE

Schedule of Wastewater Customer Monthly Billing - 1994

FPSC

264

1,603

134

Company: SSU/POLK /LAKE GIBSON ESTATES

SCHEDULE: E-3
Page 1 of 4
Preparer: Bencini

Docket No.: 950495-WS Schedule Year Ended 12/31/94 Water [] Wastewater [x]

Interim(] Final[]

Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

Explanation: Provide a schedule of monthly customers billed or served by class.

(7) (1) (2) (3) (4) (5) (6) Multi-Family Private Fire Other Line Month/ General No. Year Residential Dwelling Service Protection (List) 1/ Total 6 JAN94 6 0 0 1 256 0 261 FEB94 3 MAR94 0 0 0 0 1 1 266 APR94 261 1 0 MAY94 1 JUN94 260 264 3 7 JUL94 3 267 8 AUG94 263 3 9 2 SEP94 2 0 10 0CT94 262 3 0 266 2 11 NOV94 2 0 0 0

0

0

0

NOTE: This plant has bimonthly billing. On other schedules, the No. Bills have been converted to monthly equivalent. Please refer to Schedule £2-1.1 for detail.

0

0

NOTE: May not tie to other schedules due to monthly rounding.

260

1,577

131

1/ Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts. Company: SSU/HILLSBOROUGH /SEABOARD

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction(x)

SCHEDULE: E-3
Page 2 of 4
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class.

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	
Line	Month/		Multi-Family	Genera1	Private Fire	Other		
No.	<u>Year</u>	<u>Residential</u>	Dwelling	<u>Service</u>	Protection	<u>(List) 1</u> /	<u>Total</u>	
1	JAN94	2,495	1	34	0	0	2.530	
2	FEB94	2,483	1	34	0	0	2,518	
3	MAR94	2,505	1	34	0	0	2.540	
4	APR94	2,498	1	34	0	0	2,533	
5	MAY94	2,502	1	34	0	0	2,537	
6	JUN94	2.496	1	34	0	0	2.531	
7	JUL94	2,481	1	34	0	0	2.516	
8	AUG94	2,491	1	31	0	0	2,523	
9	SEP94	2,488	1	31	0	0	2,520	
10	0CT94	2,490	1	30	0	0	2,521	
11	NOV94	2,476	1	30	0	0	2,507	
12	DEC94	2,469	1	31	0	0	2,501	
13	<u>TOTAL</u>	29.874	12	391	0	0	_30,277	
14	MTH. AVE	2,490	1	33	0	0	2,523	

NOTE: May not tie to other schedules due to monthly rounding.

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

981

14

MTH. AVE

Schedule of Wastewater Customer Monthly Billing - 1994

Company: SSU/HERNANDO /SPRING HILL

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

FPSC

5,311

SCHEDULE: E-3
Page 3 of 4
Preparer: Bencini

Explanation: Provide a schedule of monthly customers billed or served by class. (6) (7) (1) (2) (3) (4) (5) Private Fire Month/ Multi-Family General Other Line No. Dwelling Protection (List) 1/ Total Year Residential Service 0 8 5,237 JAN94 4.965 0 264 1 0 8 5.266 2 FEB94 4.994 264 3 0 0 В 5,**3**32 MAR94 5,054 270 8 5,316 APR94 5,027 281 5 8 5,309 MAY94 5,022 279 8 5,296 6 JUN94 5,015 273 7 8 5,303 JUL94 5,017 278 8 5,3**3**9 8 AUG94 5,060 271 8 5.343 9 SEP94 274 5,061 В 5,324 10 0CT94 5.040 276 0 8 5,340 11 NOV94 5,057 275 0 12 8 5,322 DEC94 280 5.034 13 TOTAL 60,346 3,285 0 96 63,727

274

NOTE: May not tie to other schedules due to monthly rounding.

5.029

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

Docket No.: 950495-WS
Schedule Year Ended 12/31/94
Water [] Wastewater [x]
Interim[] Final[]
Historical[x] Projected[]

FPSC Uniform[] FPSC Non-uniform[] FPSC Non-jurisdiction[x]

SCHEDULE: E-3
Page 4 of 4
Preparer: Bencini

	(1)	(2)	(3)	(4)	(5)	(6)	(7)
Line	Month/		Multi-Family	General	Private Fire	Other	
No.	<u>Year</u>	<u>Residential</u>	<u>Dwelling</u>	<u>Service</u>	<u>Protection</u>	(List) 1/	<u>Total</u>
1	JAN94	355	0	0	0	0	355
2	FEB94	351	0	0	0	0	351
3	MAR94	352	0	0	0	0	352
4	APR94	352	0	0	0	0	352
5	MAY94	355	0	0	0	0	355
6	JUN94	351	0	0	0	0	351
7	JUL94	355	0	0	0	0	355
8	AUG94	358	0	0	0	0	358
9	SEP94	350	0	0	0	0	350
10	OCT94	350	0	0	0	0	350
11	NOV94	354	0	0	0	0	354
12	DEC94	351	0	0	0	0	351
13	TOTAL	4.234	0	0	0	0	4,234
14	MTH. AVE	353	0	0	0	<u></u>	353

NOTE: May not tie to other schedules due to monthly rounding.

98

^{1/} Includes Bulk Wastewater, Effluent, Public Authority, Residential Wastewater Only, Commercial Wastewater Only, Mult-Family Non-metered and Special Contracts.

FPSC

Company: SSU/Polk/Lake Gibson Estates

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water[] Wastewater[x]
Interim[] Final[]

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Schedule E-4
Page 1 of 4
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		•	(2) Present Rates 1/	(3) Proposed Rates 2/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$10.00	N/A	N/A	N/A	
2	Normal Reconnection	\$10.00	N/A	N/A	N/A	
3	Violation Reconnection	\$10.00	N/A	N/A	N/A	
4	Premise Visit	\$5.00	N/A	N/A	N/A	
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A	

^{1/} These charges are not tarrifed but are accepted by the county as valid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Hillsborough / Seaboard

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4 Page 2 of 4

Preparer: Bencini

provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.						

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges),

	(1)	(2)		(3)		
		Présent	Rates	Proposed Rates 1/		
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	\$15.00	N/A	N/A	N/A	
4	Premise Visit	\$7.50	N/A	N/A	N/A	
5	Return Check Charge	\$15.00	N/A	N/A	N/A	

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

FPSC

Company: SSU / Hernando / Spring Hill

Schedule E-4
Page 3 of 4

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Preparer: Bencini

Schedule Year Ended: 12/31 Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)		F	(2) Present Rates	(3) Proposed Rates 1/		
Line No.	Type of Charge	During Bus, Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours	
1	Initial Connection	\$15.00	N/A	N/A	N/A	
2	Normal Reconnection	\$15.00	N/A	N/A	N/A	
3	Violation Reconnection	\$15.00	N/A	N/A	N/A	
4	Premise Visit	\$10.00	N/A	N/A	N/A	
5	Return Check Charge	· •	or 5% of N/A the amount of the check, whichever is treater.	N /A	N/A	

^{1/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / Hillsborough / Valrico Hills

Docket No.: 950495-WS Schedule Year Ended: 12/31/94

Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

FPSC

Schedule E-4
Page 4 of 4
Preparer: Bencini

Explanation: Provide a schedule of present and proposed miscellaneous service charges. If an increase is proposed (or new charges), provide a schedule of derivation of charges, unless the charges are pursuant to the latest Staff Advisory Bulletin #13.

(1)			(2) Present Rates 1/	(3) Proposed	
Line No.	Type of Charge	During Bus. Hours	After Bus. Hours	During Bus. Hours	After Bus. Hours
1	Initial Connection	\$15.00	N/A	N/A	N/A
2	Normal Reconnection	\$15.00	N/A	N/A	N/A
3	Violation Reconnection	\$15.00	N/A	N/A	N/A
4	Premise Visit	\$7.50	N/A	N/A	N/A
5	Return Check Charge	\$15.00	or 5% of N/A the amount of the check, whichever is greater.	N/A	N/A

^{1/} These charges are not tarrifed but are accepted by the county as velid charges.

^{2/} Refer to the proposed 1995 Interim E-4 schedule and the proposed 1996 Final E-4 schedule for proposed information.

Company: SSU / FPSC Non-Juriediction

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-Jurisdiction [X]

Explanation: Provide a schedule of test year miscellaneous charges received by type. Provide an additional schedule for proposed charges, if applicable.

FPSC Schedule: E-5 Page 1 of 1 Preparer: Bencini

(1)	(2)	(3) Present	(4)	(5)	(6) Proposed	(7)
Line No. Type of Charge	Ra tes	Units	Revenues	Rates	Units	Revenues

Please refer to water schedule E-5 for applicable miscellaneous service charges. Wastewater is not broken out separately.

SCHEDULE OF PUBLIC FIRE HYDRANTS - 1994

Company: SSU/ Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS
Schedule Year Ended: 12/31/94
Water [] Wastewater [x]
Interim [] Final []
Historical [x] Projected []
FPSC Uniform [] FPSC Non-Uniform [] FPSC Non-Jurisdiction [x]

FPSC Schedule E-6 Page 1 of 1 Preparer: Bencini

Explanation: Provide a schedule of public fire hydrants (including standpipes etc.) by size.

This summary is not required for a sewer only rate application.

THE PUREL !	to the tadellar for a sewal	OINY TOWN MAPPINGMENTS.										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				Fire Flow								
Line				Requirement	Number	of Standard 1	Type Public Fi	re Hydrants 8	ly Pipe Size C	onnecting the	Hydrant	
No	Plant Name	County	Status	(GPM)	<u> 4"</u>	6"		10-	12	14"	Total	Notes

This Schedule is not applicable for Wasteweter.

SCHEDIII	F OF DRIVATE	FIRE PROTECTION SERVICE -	. 1994
SCHEDULI	E OF PRIVATE	FIRE PROTECTION SERVICE	· 1334

FPSC

Company: SSU / FPSC Non-Jurisdiction

Schedule E-7

Page 1 of 1

Schedule Year Ended: 12/31/94

Preparer: Bencini

(14)

Water [] Wastewater [x]

Docket No.: 950495-WS

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of private fire protection service by size of connection.

This schedule is not required for a wastewater only rate application.

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11) (12) (13)

Size and Type:

 Line

 No.
 Plant
 Sprinkler Lines:
 Double Check Valves:
 Combined

 2"
 4"
 6"
 8"
 10"
 Total
 2"
 4"
 6"
 8"
 10"
 Total

Private fire protection service is not applicable to wastewater plants.

SCHEDULE OF CONTRACTS AND AGREEMENTS - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [X] Wastewater [X] Interim [] Final [] Historical [X] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [X]

Explanation: Provide a list of all outstanding contracts or agreements having rates or conditions different from those on approved tariffs.

Describe with whom, the purpose and the elements of each contract shown.

Line No.	(1) Type	(2) Description
1 2	HERSHEL HEIGHTS	
3	Nasrallah, Herbert	Pursuant to Agreement: SSU agrees not to require Herbert Nasrallah to connect
4	Customer # 091594	the property located at 7818 N. 53rd St., Tampa, FL 33617, to its water distribution
5		system until ownership changes.

FPSC Schedule: E-8 Page 1 of 1 Preparer: Bencini

991

SCHEDULE OF TAX OR FRANCHISE FEES - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Docket No.: 950495-WS Schedule Year Ended: 12/31/94 Water [] or Wastewater [x] Interim [] Final [] Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of state, municipal, city or county franchise taxes or fees paid (or payable).

	State the type of agreeme	nt (i.e. contrac	t, tax).				
(1) Line	(2)	(3)	(4) Type of	(5) To Whom	(6)	(7) How Collected	(8) Type of
No.	Plant	County	Tax or Fee	Paid	Amount	From Customers	Agreement
							
1	Spring Hill 1/	Hemando	Rev. Assess. Fee	FPSC	4.5%	2/	None
2	O'b ! . E						
3	Gibsonia Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
4	Lake Gibson Estates	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance
5	Orange Hill / Sugar Creek	Polk	Franchise Admin. Fee	County	2.5%	3/	Ordinance

^{1/} Spring Hill rescinded FPSC jurisdiction on 4/5/94. Since that time, SSU has been accruing the 4.5% R.A.F., pending final jurisdictional outcome.

FPSC

Schedule: E-9

Preparer: Bencini

Page 1 of 1

^{2/} Included in overall cost of service.

^{3/} Billed as a separate line item on customer bills.

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-10

Page 1 of 1 Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide a schedule of present and proposed service availability charges. (See Rule 25-20.580, F.A.C.)

If no change is proposed, then this schedule is not required.

(1)	(2)	(3)	(4)	
Line No.	Type of Charge	Present Charges	Proposed Charges	

Please see separate Service Availability Schedules, Volume VIII.

GUARANTEED REVENUES RECEIVED - 1994

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-11 Page 1 of 1

FPSC

Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]

Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: Provide copies of all guaranteed revenue contracts with a schedule of billing and receipts on an annual basis by class.

(1)	(2)	(3)	(4)	(5)	(6)
Line	For the		General	011	Tatal
No.	Year Ended	Residential	Service	Other	Total

This schedule is not applicable.

994

CLASS A UTILITY COST OF SERVICE STUDY - 1994 industrial Customers

Company: SSU / Total Company / FPSC Non-Jurisdiction

Schedule E-12

FPSC

Page 1 of 1
Preparer: Bencini

Docket No.: 950495-WS

Schedule Year Ended: 12/31/94

Water [] Wastewater [x]
Interim [] Final []

Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: All Class A Utilities whose service classes include industrial customers, whose utilization exceeds an average of 350,000 GPD, shall provide a fully allocated class cost of service study showing customer, base (commodity), and extra capacity (demand) components under present and proposed rates. This study shall include rate of return by class and load (demand) research studies used in the cost allocation. The analysis shall be based upon the AWWA Manual No. 1 and shall comply with current AWWA procedures and standard industrial practices for utilities providing water and wastewater services.

This schedule is not applicable.

PROJECTED SCHEDULE YEAR REVENUE CALCULATION - 1994

FPSC

Schedule E-13
Page 1 of 1
Preparer: Bencini

Company: SSU / FPSC Non-Jurisdiction
Docket No: 950495-WS
Schedule Year Ended: 12/31/94
Water { } Wastewater {x}
Interim [] Final []
Historical [x] Projected []

FPSC Uniform [] FPSC Non-uniform [] FPSC Non-jurisdiction [x]

Explanation: If a projected test year is used, provide a schedule of historical and projected bills and consumption by classification. Include a

calculation of each projection factor on a separate schedule, if necessary. List other classes or meter sizes as applicable.

(1) (10) (11) Consumption (MG) Schedule Year Revenues **Number of Bills** Line Projection Projected Projection Projected Present Proposed No. Class/Meter Size Rates Revenue **Historical** Factor Schedule Year Factor Schedule Year Rates Revenue **Historical**

This schedule is not applicable for the historical year. Please refer to the proposed 1995 Interim E-13 schedule and the proposed 1996 Final E-13 schedule for the applicable projections.

THIS PAGE INTENTIONALLY LEFT BLANK